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✝☛✂✠☛✡☛✝☛✁✌☎ ☞✄ ✡✌☎✞☛✄ ☞☛✍✡✄✵✓ ✡✥✡☛☛☞✄ ✧✁✧✡✁✌✞✍✝✆☞✁✏☛✄ ✆✍✡✠✡☞✄☎☛✄ ✆✄✍✌✄☛ ☞✄ ✂☛✆✆✌✂✄✍ ✡✥✄✯✁✂☛✄☎✠✄
☞✥☛☎ ✡✁✄☎ ✄☎☛✍✄ ✡✝ ✆☞✒✂✁✌✡✌✞✁✄ ☞✄ ✡✥✝✧☞✌✌✄☎✓ ☎✌✍✌✝✡✄ ✌☛ ✆✝☛☞✌✡✌✞✁✏☛✄✓ ✄☛ ✂✄✂ ✌✝☎✁✘✄✂☛✝☛✁✌☎✂
✂✌☎✌✍✄✂✎ ✢✥✡☛☛☞✄ ☞✄ ✠✄ ✡✁✄☎ ✄✂☛ ✡✥✌✧✬✄✠☛✁✘ ✌✡☞✁✠✝✡ ✘✌☎☞✝✌✄☎☛✝✡ ☞✄ ☎✌✂ ✍✄✠☞✄✍✠☞✄✂✎

✫✬



✂✏�✏ �✂✁✄✄✂✝✠✂✁

✢✥✌✧✬✄✠☛✁✘ ✝✆✆✡✁✠✝☛✁✘ ☞✄ ✠✄☛☛✄ ☛☞✔✂✄ ✄✂☛ ✡✝ ✠✍✡✝☛✁✌☎ ☞✥☛☎✄ ✟✧✌✣☛✄ ✤ ✌☛☛✁✡✂✠ ✠✌☎✂☛✁☛☛✡✄ ☞✄ ✌✡☛☞✌☞✄✂
✝☞✝✆☛✡✄✂ ✝☛ ☛✍✝✁☛✄✌✄☎☛ ✄☛ ✤ ✡✥✝☎✝✡✒✂✄ ☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✎ ✑✌☛✂ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ☞✄ ✟✝✡✁☞✄✍
✡✄✂ ✌✡☛☞✌☞✄✂ ✌✁✂✄✂ ✄☎ ✆☛✟✍✄ ✄☎ ☛✝☎☛ ✏☛✄ ✌✌✒✄☎✂ ☞✥✁☎✟✄✂☛✁✞✝☛✁✌☎ ☞✄ ✡✝ ✆☞✒✂✁✌✡✌✞✁✄ ☎✌✍✌✝✡✄ ☞✄
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☛☎✄ ✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎ ✝☞✝✆☛✡✄✓ ✏☛✁ ☞✌✁☛ ✝✂✂☛✍✄✍ ☞✄✂ ✝✠✏☛✁✂✁☛✁✌☎✂ ✌☛✡☛✁✛✟✌✁✄✂✓ ☞✄ ✡✌☎✞☛✄ ☞☛✍✡✄✓
✍✌✧☛✂☛✄✂ ✄☛ ✏☛✁ ☞✌✁☛ ✘✌☛✍☎✁✍ ☞✄✂ ✂✁✞☎✝☛✯ ✘✝✠✁✡✄✌✄☎☛ ✁☎☛✄✍✆✍✡☛✝✧✡✄✂ ✆✝✍ ☛☎ ✌✡☞✄✠✁☎✎

☎✚ ✙✎✧✞✍✎✘✔✍✚✣✚✌✍✥ ✢✄ ☞✡✧✍☛✁☛✝✞✄✓ ✂☛✁✟✁ ✆✝✍ ✡✝ ☞✡☛✄✠☛✁✌☎✓ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎
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✄ ✡✝ ✠✝✍✝✠☛✡✍✁✂✝☛✁✌☎ ✡✌✠✝✡✄ ✄☛ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✂✄✞✌✄☎☛✡✂ ✤ ✆✝✍☛✁✍ ☞✄

✡✥✁☎✘✌✍✌✝☛✁✌☎ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✄☛ ☛✄✌✆✌✍✄✡✡✄ ✠✌☎☛✄☎☛✄✎

✢✝ ✂☛✁☛✄ ☞☛ ✌✝☎☛✂✠✍✁☛ ✟✝ ✂✥✝☛☛✝✠☞✄✍ ✤ ☞✡✠✍✁✍✄ ☛✌☛✂ ✡✄✂ ✆✌✁☎☛✂ ✡✁✂☛✡✂ ✠✁✛☞✄✂✂☛✂✎ ✮☎✄ ✝☛☛✄☎☛✁✌☎
✆✝✍☛✁✠☛✡✁✔✍✄ ✂✄✍✝ ☛✌☛☛✄✘✌✁✂ ✆✌✍☛✡✄ ✤ ✡✥✡☛✝✆✄ ☞✄ ✆✍✡✛☛✍✝✁☛✄✌✄☎☛✓ ✄☛ ✄☎ ✆✝✍☛✁✠☛✡✁✄✍ ✤ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄
☞✡☛✄✠☛✁✌☎ ✄☛ ☞✡✧✍☛✁☛✝✞✄ ✆✝✍ ✌☎☞✄✡✄☛☛✄✂✎

✫✲



�✁✁☎✠✟☛☎ ✂✏ ✄✂✁✝ ✁✂✆✂✞✠✁✁✂☎✏ �✂✁✟☎☎✟☎ ☎✟ ☎☛✂✂✄✆✞✁✟✠✝✂☎

✫✫



2
�✄✝✂✠✝✠✟✠✂✁ ✆☎✝ ✝✂✁✝ ✁ ✝✠✁✁✁✄ ☎✟ ✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

✢✝ ✆✍✄✌✁✔✍✄ ✡☛✝✆✄ ✤ ✘✍✝☎✠☞✁✍ ☞✝☎✂ ✡✄ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ☞✥☛☎ ☎✌☛✟✄✡ ✌☛☛✁✡ ☞✥✁☎✟✄✂☛✁✞✝☛✁✌☎ ✠✡✁☎✁✏☛✄
✄✂☛ ✠✄✡✡✄ ☞✄ ✡✥✝✠✏☛✁✂✁☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯✎ ✖✁ ☎✌☛✍✄ ☛✍✝✟✝✁✡ ✆✍✁☎✠✁✆✝✡ ✠✌☎✠✄✍☎✄ ✡✄ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ☞✄✂
✌✡☛☞✌☞✄✂ ☞✄ ☛✍✝✁☛✄✌✄☎☛ ✄☛ ☞✥✝☎✝✡✒✂✄ ☎☛✌✡✍✁✏☛✄✂ ☞☛ ✂✁✞☎✝✡✓ ✁✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ✂✥✝✂✂☛✍✄✍ ☞✄ ✡✝
✟✝✡✁☞✁☛✡ ☞✄✂ ✂✁✞☎✝☛✯ ✤ ☎☛✌✡✍✁✂✄✍✎ ✢✥✄✯✁✞✄☎✠✄ ☞✥✌✧☛✄☎✁✍ ☞✄✂ ✂✁✞☎✝☛✯ ☞✄ ✧✌☎☎✄ ✏☛✝✡✁☛✡✓ ✍✄☞✡☛✝☎☛ ✡✄

✆✡☛✂ ✄✯✝✠☛✄✌✄☎☛ ✡✄✂ ✂✌☎✂ ✞✡☎✡✍✡✂✓ ✝✁☎✂✁ ✏☛✄ ✡✝ ✍✄✆✍✌☞☛✠☛✁✧✁✡✁☛✡ ☞✄✂ ✌✄✂☛✍✄✂✓ ✂✌☎☛ ✁☎☞✁✂✆✄☎✂✝✧✡✄✂ ✤
☛✌☛☛ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ☛✡☛✡✍✁✄☛✍✎ �✫✌✄ ✂✁ ☎✌☛✍✄ ✍✄✠☞✄✍✠☞✄ ☎✥✄✂☛ ✆✝✂ ✝✯✡✄ ✂☛✍ ✡✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎✓ ☎✌☛✂
✝✟✌☎✂ ✠✌☎✂✁☞✡✍✡ ☎✡✠✄✂✂✝✁✍✄ ☛☎✄ ✡☛☛☞✄ ☞✝☎✂ ✠✄ ☞✌✌✝✁☎✄✎ ✸✟✁☞✄✌✌✄☎☛✓ ✆✌☛✍ ✡☛✝✧✡✁✍ ☛☎ ✆✍✌☛✌✠✌✡✄ ☞✄
✌✄✂☛✍✄ ✄☛ ✆✌☛✍ ✠☞✌✁✂✁✍ ✡✄✂ ✡✡✡✌✄☎☛✂ ☞✄ ✡✝ ✠☞✝✣☎✄ ☞✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎✓ ✁✡ ✘✝☛☛ ✠✝✍✝✠☛✡✍✁✂✄✍ ☞✥✝✧✌✍☞ ✡✄✂
✂✁✞☎✝☛✯ ☞✥✁☎☛✡✍✫☛✎ ✠✄ ✠☞✝✆✁☛✍✄ ✠✌✌✌✄☎✠✄ ✆✝✍ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✝✧☞✌✌✁☎✝☛✯✓ ☛✄✡✂✏☛✥✁✡✂ ✂✌☎☛ ✆✍✡✂✄☎☛✡✂ ☞✝☎✂ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄ ✄☛ ✂✄✡✌☎ ☎✌✂ ✠✌☎✂☛✝☛✂✎ ✢✝ ✠✝✍✝✠☛✡✍✁✂✝☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯
✄✂☛ ✂☛✁✟✁✄ ✆✝✍ ✡✝ ✆✍✡✂✄☎☛✝☛✁✌☎ ☞✄✂ ✆✍✌☛✌✠✌✡✄✂ ☞✄ ✌✄✂☛✍✄ ☛☛✁✡✁✂✡✂ ☞✝☎✂ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄ ✄☛ ✆✝✍ ✡✝
☞✄✂✠✍✁✆☛✁✌☎ ☞☛ ✆✍✌☛✌✠✌✡✄ ✏☛✄ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂✎ ✰☎✷☎✓ ☎✌☛✂ ☞✡✠✍✁✟✌☎✂ ✄☛ ✠☞✌✁✂✁✂✂✌☎✂ ✡✄✂ ✡✡✡✌✄☎☛✂

☞✄ ☎✌☛✍✄ ✠☞✝✣☎✄ ☞✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎✓ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ☛☎✄ ✌✡☛☞✌☞✄ ✝☞✝✆☛✡✄ ✤ ✂✝ ✠✝✍✝✠☛✡✍✁✂✝☛✁✌☎ ✄☛

☎✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ✡✄✂ ✍✡✂☛✡☛✝☛✂ ✏☛✁ ✬☛✂☛✁✷✄☎☛ ✠✄✂ ✠☞✌✁✯✎

�✟✞ ✂✆✄✝✑✂

✙✝☎✂ ✠✄☛☛✄ ✂✄✠☛✁✌☎✓ ☎✌☛✂ ☞✡✠✍✁✟✌☎✂ ✡✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✝✧☞✌✌✁☎✝☛✯✓ ✝✆✆✄✡✡✂ ✝☛✂✂✁ ☎✁✂✁✂☎✁�
✟✆☛✂✁☛✁✞✞☎✝✓ ☛✄✡✂ ✏☛✥✁✡✂ ✂✌☎☛ ✆✍✡✂✄☎☛✡✂ ☞✝☎✂ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄✎ ✰☎✂☛✁☛✄✓ ☎✌☛✂ ✠✌☎✘✍✌☎☛✌☎✂ ✠✄☛☛✄ ☞✄✂✛
✠✍✁✆☛✁✌☎ ✤ ☎✌✂ ✠✌☎✂☛✝☛✂ ✄✯✆✡✍✁✌✄☎☛✝☛✯✎

✙✝☎✂ ✡✄ ✠✝☞✍✄ ☞✄ ✡✥✝☎✝✡✒✂✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✓ ✡✄✂ ✂✁✞☎✝☛✯ ☞✥✁☎☛✡✍✫☛ ✂✌☎☛ ✠✝✍✝✠☛✡✍✁✂✡✂ ✆✝✍
☛☎✄ ✂☛✠✠✄✂✂✁✌☎ ☞✥✡✟✡☎✄✌✄☎☛✂ ✁✂✌✡✡✂ ✄☛ ✠✌☛✍☛✂✓ ✠✡✝✁✍✄✌✄☎☛ ✂✡✆✝✍✡✂✓ ☞✌☎☛ ✡✄ ✠✌☎☛✄☎☛ ✘✍✡✏☛✄☎☛✁✄✡ ✄✂☛
✍✄✡✝☛✁✟✄✌✄☎☛ ✆✝☛✟✍✄✎ ✠✄✂ ✂✁✞☎✝☛✯ ✆✄☛✟✄☎☛ ✫☛✍✄ ☞✡✠✍✁☛✂ ☞✄ ☞✄☛✯ ✌✝☎✁✔✍✄✂ ✒

✲✎ ✠✌☎✠✄✍☎✝☎☛ ✡✥✝✂✆✄✠☛ ☛✄✌✆✌✍✄✡ ☞✄ ✡✌☎✞☛✄ ☞☛✍✡✄✓ ✡✄✂ ✆✍✄✌✁✄✍✂ ✠✌☎✂☛✝☛✂ ✆✌✍☛✄☎☛ ✂☛✍ ✡✝ ✍✒☛☞✌✁✛
✠✁☛✡ ☞✄✂ ✂✌☎✂ ✴✆✡✍✁✌☞✄✂ ✝✠☛✁✟✄✂ ✠✒✠✡✁✏☛✄✂ ☞✄ ✭ ✤ ✲✫ ✆✝✍ ✌✁☎☛☛✄✓ ✄☎ ✘✌☎✠☛✁✌☎ ☞☛ ✡✁✄☛ ☞✄ ✡✄☛✍
✞✡☎✡✍✝☛✁✌☎✵ ✝✲✷✓ ✮✲✓ ✮✰✞✎
✗✡☛✂✁✄☛✍✂ ✡☛☛☞✄✂ ☞✡✷☎✁✂✂✄☎☛ ☞✁✆✡✍✄☎☛✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✝✷☎ ☞✄ ✘✌☛✍☎✁✍ ☞✄✂ ✡✟✝✡☛✝☛✁✌☎✂ ✏☛✝☎✛
☛✁☛✝☛✁✟✄✂ ✆✡☛✂ ✆✍✡✠✁✂✄✂ ✂☛✍ ✡✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✎ ✮☎ ☞✄✂ ✆✡☛✂ ✠✌☛✍✝☎☛✂ ✁☎☞✁✠✄✂ ✄✂☛ ✡✄

☎✌✌✧✍✄ ☞✄ ✂✌☎✂ ✆✝✍ ✌✁☎☛☛✄✎ ✠✄☛ ✁☎☞✁✠✄ ☞✥✝✠☛✁✟✁☛✡ ✟✝✍✁✄ ✡☎✌✍✌✡✌✄☎☛ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✝ ☞✡✛
✷☎✁☛✁✌☎ ☞✥☛☎ ✂✌☎ ✄☛✍✌☛ ☞✄ ✡✝ ✌✡☛☞✌☞✄ ☛☛✁✡✁✂✡✄ ✒ ✎✍☎✧✬☎✍☎✂✂✌☎ ✝✯✞ ✆✝✍✡✄ ☞✄ ✌✌✒✄☎☎✄✂ ☞✄ ✪

✫✭



�✁✁☎✠✟☛☎ �✏ ✂✄✝✂✠✝✠✟✠✂✁ ✆☎✝ ✝✂✁✝ � ✝✠✁✁✁✄ ☎✟ ✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

✤ ✫✶ ✂✌☎✂✍✌✁☎☛☛✄ ✝☛ ✠✌☛✍✂ ☞☛ ✠✒✠✡✄ ☞✁✞✄✂☛✁✘✓ ✠✍✝✁☎✄ ☎✟ ✁✄✏ ✝✭✫✞ ☞✄ ✪ ✤ ✲✲✯ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄
✡✝ ✆✝☛☞✌✡✌✞✁✄ ✄☛ ☞✄ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎✓ ✝✡✌✍✂ ✏☛✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✝✶✮✞ ☛✍✌☛✟✄☎☛ ☞✄ ✲✫✬ ✤
✲✫✬✬ ✂✌☎✂✍✌✁☎☛☛✄ ✄☎ ✘✌☎✠☛✁✌☎ ✝☛✂✂✁ ☞✄ ✡✝ ✆✝☛☞✌✡✌✞✁✄✎ ✮☎ ✝☛☛✍✄ ✁☎☞✁✠✄ ☛☛✁✡✁✂✡ ✄✂☛ ✡✝ ☞☛✍✡✄
☛✌☛✝✡✄ ☞✄✂ ✂✌☎✂✓ ✌☛ ✄☎✠✌✍✄ ✡✄ ✍✝✆✆✌✍☛ ✄☎☛✍✄ ✡✝ ☞☛✍✡✄ ☞✄✂ ✂✌☎✂ ✄☛ ✠✄✡✡✄ ☞✄✂ ✆✡✍✁✌☞✄✂ ☞✄ ✂✁✡✄☎✠✄
✝✲✲✬✓ ✲✲✰✞✓ ✏☛✁ ✌✌☎☛✍✄ ✏☛✄ ✡✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✝✧☞✌✌✁☎✝☛✯ ✂✌☎☛ ✠✍✄☛✯✓ ✝✟✄✠ ☛☎✄ ☞☛✍✡✄
☛✌☛✝✡✄ ☞✄✂ ✂✌☎✂ ✁☎✘✌✍✌✝☛✁✘✂ ✞✡☎✡✍✝✡✄✌✄☎☛ ✁☎✘✡✍✁✄☛✍✄ ✤ ✫✁ ☞✄ ✡✝ ☞☛✍✡✄ ☞☛ ✂✁✞☎✝✡ ✄☎✍✄✞✁✂☛✍✡✎

1 2 3 4 5 6
−3

−2

−1

0

1

2

3

Temps (s)

Am
pl

itu
de

✁✂✄☎ ✫✎✲ ✄ ✄✕☞✡✗✏☞ ✑☞ ✔☛✌✝✞✏ ✔✠✝✠✎☞ ✞✓✑✠✡☛✝✞✏ ✑❂✒✝☞ ✑✒✎✍☞ ✑☞ ✁✭☛ ✔☞✢✠✝✑☞✔✭ ☞✝✎☞✌☛✔✟✎✍ ✞✫☞✢ ✏✞ ✢✰✞✂✝☞ ✑❂☛✝✔✟✎✒✝
✡☞✝✟✞✟☛✠✝ ✗✎✍✔☞✝✟✍☞ ✑✞✝✔ ✢☞ ✢✰✞✗☛✟✎☞✘

0 500 1000 1500 2000 2500
0

0.005

0.01

0.015

0.02

0.025

0.03

Fréquence (Hz.)

Am
pli

tu
de

✁✂✄☎ ✫✎✫ ✄ ✂✗☞✢✟✎☞ ✑✒ ✔☛✌✝✞✏ ✡☞✔✒✎✍ ✗✎✍✔☞✝✟✍ ✑✞✝✔ ✏✞ ✄☛✌✘ ✞✘✱ ✬
fe = 5000 ✯✞✘✮✘

0 500 1000 1500 2000 2500
0

0.005

0.01

0.015

0.02

0.025

0.03

Fréquence (Hz.)

Am
pli

tu
de

✁✂✄☎ ✫✎✭ ✄ ✂✗☞✢✟✎☞ ✑❂✒✝☞ ✞✠✝☞ ✑☞ ☎✔☛✏☞✝✢☞✆ ☞✝✟✎☞ ✑☞✒✕ ✔✠✝✔ ✞✓✑✠✡☛✝✞✒✕ ✎✍☞✏✔ ✬
fe = 5000 ✯✞✘✮✘

✫✮



�✏�✏ ✁☛✂✟✂✄✂✄☎✝ ✆☎ ✞☎✝✂☛☎

✫✎ �☛✝☎☛ ✝☛✯ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ☞✄✂ ✂✌☎✂ ✁☎☞✁✟✁☞☛✄✡✂✓ ✡✝ ☞☛✍✡✄ ✄✂☛ ✡✝ ✞✍✝☎☞✄☛✍ ✡✝ ✆✡☛✂ ☛☛✁✡✁✂✡✄✓
✆✝✍✠✄ ✏☛✥✄✡✡✄ ✘✝✠✁✡✁☛✄ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎✓ ✌✫✌✄ ✝✟✄✠ ☞✄✂ ✌✌✒✄☎✂ ✟✁✂☛✄✡✂ ✌☛ ✝☛☞✁☛✁✘✂✎ ✠✄✆✄☎☞✝☎☛✓
✡✄✂ ✟✝✡✄☛✍✂ ☞✌☎☎✡✄✂ ✆✝✍ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄ ✂✌☎☛ ✝☛✂✂✁ ☛✍✔✂ ✟✝✍✁✝✧✡✄✂ ✒ ☞✄ ✫✬ ✌✂✎ ✤ ✶ ✂✎✓ ✂✄✡✌☎✪✝✍☎✄✍ ✄☛ ✰☞✍✄☎✍✄✁✠☞ ✝✮✷✞✓ ✌✝✁✂ ✆✡☛☛✌☛ ✁☎✘✡✍✁✄☛✍✄✂ ✤ ✲✬✬ ✌✂✎ ✝✭✮✓ ✷✮✓ ✲✲✬✓ ✲✲✪✞✎ ✢✥✁☎☛✄☎✂✁☛✡
✂✌☎✌✍✄ ✴✌☛ ☞✄✂ ✌✄✂☛✍✄✂ ✡✁✡✄✂ ✤ ✡✥✁☎☛✄☎✂✁☛✡✓ ✠✌✌✌✄ ✡✥✝✌✆✡✁☛☛☞✄ ✌☛ ✡✥✡☎✄✍✞✁✄✵ ✄✂☛ ✝☛✂✂✁ ☛☛✁✡✁✂✡✄
✆✌☛✍ ☞✡✠✍✁✍✄ ✡✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✴✆✝✍ ✄✯✎ ☞✝☎✂ ✝✲✲✬✞✵✓ ✌✝✁✂ ✆✡☛✂ ✍✝✍✄✌✄☎☛✓ ✠✝✍ ✡✄✂ ✟✝✍✁✝☛✁✌☎✂
✁☎☛✄✍✛✁☎☞✁✟✁☞☛✄✡✡✄✂ ✂✌☎☛ ✁✌✆✌✍☛✝☎☛✄✂ ✝✮✷✞✎ ✰☎✷☎✓ ✡✝ ✆✡☛✆✝✍☛ ☞✄✂ ✝☛☛✄☛✍✂ ✆✝✍✡✄☎☛ ☞✄ ✘✍✡✏☛✄☎✠✄✂
✌✝✯✁✌✝✡✄✂ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✁☎✘✡✍✁✄☛✍✄✂ ✤ ✲✬✬✬✛✲✶✬✬ ✭✳✎ ✝✲✶✓ ✭✫✓ ✯✮✓ ✷✮✓ ✲✲✪✓ ✲✫✪✞✓ ✌✫✌✄
✂✁ ☞✥✝☛☛✍✄✂ ✟✝✡✄☛✍✂ ✂✌☎☛ ✌✄☎☛✁✌☎☎✡✄✂ ☞✝☎✂ ✝✭✮✞ ✴✆✌☛✍ ✏☛✁ ✡✄✂ ✘✍✡✏☛✄☎✠✄✂ ✌✝✯✁✌✝✡✄✂ ✌✧✂✄✍✟✡✄✂
✝☛☛✄✁✞☎✄☎☛ ✫✶✬✬ ✭✳✎✓ ✝✟✄✠ ✡✥✄✂✂✄☎☛✁✄✡ ☞✄ ✡✥✡☎✄✍✞✁✄ ✠✌☎✠✄☎☛✍✡✄ ✄☎ ☞✄✂✂✌☛✂ ☞✄ ✲✶✬✬ ✭✳✎✵ ✄☛ ✝✮✷✞
✴✶✬✬✬ ✭✳✎✵✎ ✢✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✄✂☛ ✞✡☎✡✍✝✡✄✌✄☎☛ ✂☛✆✡✍✁✄☛✍✄ ✝☛✯
✘✍✡✏☛✄☎✠✄✂ ☞✄✂ ✂✌☎✂ ✠✝✍☞✁✝✏☛✄✂ ✄☛ ✆☛✡✌✌☎✝✁✍✄✂ ✴✂☛✆✡✍✁✄☛✍✄ ✤ ✲✬✬ ✭✳✎ ✂✄✡✌☎ ✝✲✶✞✵ ✄ ☞✝☎✂ ✡✝
✡✁☛☛✡✍✝☛☛✍✄ ✌☎ ✆✍✌✆✌✂✄ ✌✫✌✄ ☛☎ ✷✡☛✍✝✞✄ ✆✝✂✂✄✛☞✝☛☛ ✤ ✷✬ ✭✳✎ ✆✌☛✍ ✡✡✁✌✁☎✄✍ ✡✄☛✍ ✁☎☞☛✄☎✠✄
✝✲✲✪✞✎

✠✄☛☛✄ ☞✄✂✠✍✁✆☛✁✌☎ ☞☛ ✂✁✞☎✝✡ ✂✌☎✌✍✄ ✝✧☞✌✌✁☎✝✡ ✄✂☛ ✠✌☎✷✍✌✡✄ ✆✝✍ ☎✌✂ ✌✧✂✄✍✟✝☛✁✌☎✂✎ ✶✌☛☛✄✂
✠✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆✄✍✌✄☛☛✄☎☛ ☞✥✝☎✍✌✄✍ ✏☛✄ ✡✄ ✂✁✞☎✝✡ ✄✂☛ ✠✌☎✂☛✁☛☛✡ ☞✥☛☎✄ ✂☛✠✠✄✂✂✁✌☎ ✡✆✝✍✂✄
☞✄ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ☞✄ ☛✒✆✄ ✁✌✆☛✡✂✁✌☎☎✄✡ ✴☞✄✂ ☛✍✝☎✂✁☛✌✁✍✄✂✵✓ ☎✌☎✛✂☛✝☛✁✌☎☎✝✁✍✄✂ ✴☛☎ ✄✯✄✌✆✡✄ ☞✄
✂✁✞☎✝✡ ✄✯✆✡✍✁✌✄☎☛✝✡ ✄✂☛ ✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✫✎✲✵✎ ✖✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ☛✄✌✆✌✍✄✡✡✄✂ ✟✝✍✁✄☎☛ ✄☎ ✘✌☎✠☛✁✌☎
☞☛ ☛✄✌✆✂✓ ☞✄ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞☛ ✂✌☎ ✄☛ ☞✄ ✡✥✡☛✝☛ ☞☛ ✆✝☛✁✄☎☛✎ ✖✌☎ ✠✌☎☛✄☎☛ ✘✍✡✏☛✄☎☛✁✄✡ ✄✂☛ ✡✁✌✁☛✡ ✒
✂✄☛✡✄✌✄☎☛ ✄☎✟✁✍✌☎ ✬✓✶✁ ☞✄ ✡✥✡☎✄✍✞✁✄ ☞☛ ✂✁✞☎✝✡ ✄✂☛ ✂✁☛☛✡ ✝☛✛☞✄✡✤ ☞✄ ✲✬✬✬ ✭✳✎✓ ✄☛ ✠✄ ✆✌☛✍✠✄☎☛✝✞✄
✌✌☎☛✄ ✤ ✄☎✟✁✍✌☎ ✫✁ ✆✌☛✍ ✡✝ ✆✡✝✞✄ ☞✄ ✘✍✡✏☛✄☎✠✄✂ ✝✶✬✬ ✛ ✫✶✬✬ ✭✳✎✞✓ ✡✥✄✂✂✄☎☛✁✄✡ ☞✄ ✡✥✡☎✄✍✞✁✄ ✡☛✝☎☛
✠✌☎✠✄☎☛✍✡✄ ✄☎☛✍✄ ✲✬✬ ✄☛ ✶✬✬ ✭✳✎ ✴✟✌✁✍ ✷✞☛✍✄ ✫✎✫✵✎

✢✄✂ ✆✝✍☛✁✄✂ ☞☛ ✂✁✞☎✝✡ ✏☛✁ ✂✡✆✝✍✄☎☛ ✡✄✂ ✂✌☎✂✓ ✏☛✥✌☎ ✝✆✆✄✡✡✄ ☞✝☎✂ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄ ✟✆✡✍✁✌☞✄✂ ☞✄
✂✁✡✄☎✠✄✠✓ ☎✄ ✂✌☎☛ ✆✝✂ ✄☎ ✍✡✝✡✁☛✡ ✠✌✌✆✡✔☛✄✌✄☎☛ ✂✁✡✄☎✠✁✄☛✂✄✂✎ ✢✄ ✧✍☛✁☛ ☞✁ ✝☛✯ ✄✆✄☛✂ ✝✠✌☛✂☛✁✏☛✄✂
☞✄ ✠✝✟✁☛✡ ☞☛ ✂☛✡☛☞✌✂✠✌✆✄ ✄☛ ✝☛✯ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✧✝✂✂✄ ✘✍✡✏☛✄☎✠✄ ☞✄ ✡✥✌✍✞✝☎✁✂✌✄ ✴✍✄✂✆✁✍✝☛✁✌☎✓☞☛✯ ✂✝☎✞☛✁☎✵ ✏☛✁ ✂✄ ✂☛✆✄✍✆✌✂✄ ✝☛ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘ ✄✂☛ ☛☎ ✠✌☎✂☛✁☛☛✝☎☛ ✁✌✆✌✍☛✝☎☛ ☞✄✂ ✆☞✌☎✌✄☎✛
☛✡✍✌✞✍✝✌✌✄✂ ✄☛ ☞✌✁☛ ✫☛✍✄ ✆✍✁✂ ✄☎ ✠✌✌✆☛✄ ☞✝☎✂ ☛✌☛☛ ☛✍✝✁☛✄✌✄☎☛ ☛✡☛✡✍✁✄☛✍✎ ✖✝ ✆☛✁✂✂✝☎✠✄ ☎✥✄✂☛ ✆✝✂

☎✡✞✡✁✞✄✝✧✡✄ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✡✥✡☎✄✍✞✁✄ ☛✌☛✝✡✄ ☞☛ ✂✁✞☎✝✡ ✌✄✂☛✍✡ ✴✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘ ✁ ✧✍☛✁☛✵ ✒ ✆✝✍
✄✯✄✌✆✡✄✓ ✆✌☛✍ ✡✄ ✂✁✞☎✝✡ ✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✫✎✲✓ ✡✄ ✍✝✆✆✌✍☛ ✄✂☛ ☞✄ ✲✍✮✎ ✖✌☎ ✠✌☎☛✄☎☛ ✘✍✡✏☛✄☎☛✁✄✡ ✄✂☛
✏☛✝✂✁✌✄☎☛ ✁☞✄☎☛✁✏☛✄ ✤ ✠✄✡☛✁ ☞☛ ✂✁✞☎✝✡ ✴✟✌✁✍ ✷✞☛✍✄ ✫✎✭✵ ✒ ✁✡ ☎✥✄✂☛ ✆✝✂ ✧✡✝☎✠ ✄☛ ☎✄ ✆✄☛☛ ✆✝✂ ✫☛✍✄
✡✡✁✌✁☎✡ ✆✝✍ ✂✁✌✆✡✄ ✷✡☛✍✝✞✄✎

�✟� ✁✄✡✞✡☎✡✂✁✟ ✏✁ ✂✁✟✒✄✁

✢✄✂ ✆✍✌☛✌✠✌✡✄✂ ☞✄ ✌✄✂☛✍✄ ✆✍✡✂✄☎☛✡✂ ☞✝☎✂ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄ ✟✝✍✁✄☎☛ ☞✥☛☎ ✝☛☛✄☛✍ ✤ ✡✥✝☛☛✍✄✓ ✄☎
✘✌☎✠☛✁✌☎ ☞✄✂ ✌✧✬✄✠☛✁✘✂ ✌✝✁✂ ✝☛✂✂✁ ☞✄✂ ✌✌✒✄☎✂ ☞✥✝✠✏☛✁✂✁☛✁✌☎ ✄☛ ☞✄ ☛✍✝✁☛✄✌✄☎☛✎ ✢✄✂ ☞☛✍✡✄✂ ☞✥✄☎✍✄✞✁✂✛
☛✍✄✌✄☎☛ ✌✁☎✁✌✝✡✄✂ ✟✝✍✁✄☎☛ ✄☎☛✍✄ ☛☎✄ ✌✁☎☛☛✄ ✝✲✶✓ ✶✮✓ ✯✪✞✓ ☞✄☛✯ ✌✁☎☛☛✄✂ ✝✭✬✓ ✭✲✞ ✄☛ ✠✁☎✏ ✌✁☎☛☛✄✂
✝✰✯✞✎ ✕✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ☎✌☛✄✍ ✏☛✄ ✡✥✌✧✬✄✠☛✁✘ ☞✄✂ ✝☛☛✄☛✍✂ ☞✄ ✝✶✮✞ ✄✂☛ ✡✝ ✟✝✡✁☞✝☛✁✌☎ ☞✥☛☎ ✝✡✞✌✍✁☛☞✌✄

☞✄ ☞✡✧✍☛✁☛✝✞✄✓ ✄☛ ✠✄✡☛✁ ☞✄ ✝✰✯✞ ✟✁✂✄ ✤ ✄✂☛✁✌✄✍ ✡✥✄✆✄☛ ☞✄ ✡✝ ✆✝✡✆✝☛✁✌☎ ✝✧☞✌✌✁☎✝✡✄ ✂☛✍ ✡✝ ✞✡☎✡✍✝☛✁✌☎
☞✄✂ ✂✌☎✂ ✴✡✄✂ ✝☛☛✍✄✂ ☛✍✝✟✝☛✯ ✠✁☛✡✂ ✡☛☛☞✁✄☎☛ ✡✝ ✆☞✒✂✁✌✡✌✞✁✄ ✝✧☞✌✌✁☎✝✡✄ ☎✌✍✌✝✡✄ ✌☛ ✆✝☛☞✌✡✌✞✁✏☛✄✵✎
✙✥✝☛☛✍✄✂ ✆✍✌☛✌✠✌✡✄✂ ☞✥✝☛✂✠☛✡☛✝☛✁✌☎✓ ☞✌☎☛ ✡✥✌✧✬✄✠☛✁✘ ✆✍✄✌✁✄✍ ✄✂☛ ✡✥✡☛☛☞✄ ✆☞✒✂✁✌✡✌✞✁✏☛✄ ✌☛ ✡✄ ☞✁✝✞✛
☎✌✂☛✁✠ ✌✡☞✁✠✝✡✓ ✆✍✌✆✌✂✄☎☛ ☞✄✂ ☞☛✍✡✄✂ ✂✥✡☛✝✡✝☎☛ ☞✄ ✲✬ ✌✁☎☛☛✄✂ ✝✶✓ ✲✲✬✞✓ ✲✶ ✌✁☎☛☛✄✂ ✝✲✫✪✞✓ ✫✬ ✌✁☎☛☛✄✂
✝✰✷✞ ✄☛✠✎✓ ✤ ✆✡☛✂✁✄☛✍✂ ☞✄☛✍✄✂✓ ☞✁✂☛✍✁✧☛✡✄✂ ✂☛✍ ☛☎✄ ✬✌☛✍☎✡✄ ✠✌✌✆✡✔☛✄ ✝✯✓ ✲✷✓ ✮✷✓ ✲✫✫✞✎

✢✝ ✂☛✝☎☞✝✍☞✁✂✝☛✁✌☎ ☞✄✂ ✍✄✆✝✂ ✄✂☛ ✠✌☛✍✝☎☛✄ ✝✯✓ ✭✬✓ ✭✲✓ ✭✫✓ ✲✲✪✓ ✲✲✰✞ ✌✝✁✂ ✆✝✂ ✌✧✡✁✞✝☛✌✁✍✄ ✝✲✶✓ ✲✫✲✞✎
✰☎ ✠✄ ✏☛✁ ✠✌☎✠✄✍☎✄ ✡✝ ✆✌✂✁☛✁✌☎ ☞✄✂ ✠✝✆☛✄☛✍✂✓ ✌☎ ✍✄☛✍✌☛✟✄ ☞✄✂ ✡✌✠✝✡✁✂✝☛✁✌☎✂ ✠✌✌✌☛☎✄✂ ☞✝☎✂ ✡✝

✏☛✝✂✁✛☛✌☛✝✡✁☛✡ ☞✄✂ ✆☛✧✡✁✠✝☛✁✌☎✂ ✒ ✄☎ ✍✡✞✁✌☎ ✡✆✁✛✞✝✂☛✍✁✏☛✄✓ ✄☎ ✍✡✞✁✌☎ ✆✡✍✁✛✌✌✧✁✡✁✠✝✡✄✓ ✄☛ ✆✝✍✘✌✁✂ ☞✝☎✂
✡✄ ✠✝☞✍✝☎ ✁☎✘✡✍✁✄☛✍ ✞✝☛✠☞✄ ✄☛ ☞✝☎✂ ✡✄ ✠✝☞✍✝☎ ✁☎✘✡✍✁✄☛✍ ☞✍✌✁☛✎ ✢✥✝☛✂✠☛✡☛✝☛✁✌☎ ✂✁✌☛✡☛✝☎✡✄ ✆✍✌✆✌✂✡✄

✫✶



�✁✁☎✠✟☛☎ �✏ ✂✄✝✂✠✝✠✟✠✂✁ ✆☎✝ ✝✂✁✝ � ✝✠✁✁✁✄ ☎✟ ✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

✆✝✍ ✠✍✝✁☎✄ ✝✭✫✞ ✍✄✂✆✄✠☛✄ ✠✄☛☛✄ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞✄✂ ✌✁✠✍✌✆☞✌☎✄✂✎ ✙✝☎✂ ✡✥✝✍☛✁✠✡✄ ☞✄ ✪✝✍☎✄✍ ✄☛ ✰☞✍✄☎✍✄✁✠☞
✝✮✷✞✓ ☞✄☛✯ ✠✝✆☛✄☛✍✂ ✂☛✆✆✡✡✌✄☎☛✝✁✍✄✂ ✂✌☎☛ ✆✡✝✠✡✂ ✝☛ ☎✁✟✄✝☛ ☞✄✂ ☞✄☛✯ ✝☎✞✡✄✂ ☞✍✌✁☛✂ ✘✝✁☛✂ ✆✝✍ ✡✄
✠✌✡✌☎✓ ✝☛ ☞✡✧☛☛ ✄☛ ✤ ✡✝ ✷☎ ☞✄ ✂✝ ✆✝✍☛✁✄ ☛✍✝☎✂✟✄✍✂✄ ✴☞✌✍✁✳✌☎☛✝✡✄✵✎ ✢✄✂ ✠✝✆☛✄☛✍✂ ✴✌✁✠✍✌✆☞✌☎✄✂ ✌☛
✂☛✡☛☞✌✂✠✌✆✄✂✵ ✂✌☎☛ ✝☛☛✝✠☞✡✂ ✤ ✡✥✝✧☞✌✌✄☎ ✴✠✌✡✡✡✂ ✌☛ ✌✝✁☎☛✄☎☛✂ ✆✝✍ ☞✄✂ ✧✝☎☞✄✂ ✡✡✝✂☛✁✏☛✄✂✵✓ ✏☛✁ ✄✂☛
✆✝✍✘✌✁✂ ✍✝✂✡ ✝✷☎ ☞✄ ✌✁☎✁✌✁✂✄✍ ✡✄✂ ✘✍✌☛☛✄✌✄☎☛✂✎

✗✌☛✍ ✌✁☎✁✌✁✂✄✍ ✡✄✂ ✧✍☛✁☛✂ ✆✝✍✝✂✁☛✄✂✓ ✡✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ✂✌☎☛ ✞✡☎✡✍✝✡✄✌✄☎☛ ✘✝✁☛✂ ✄☎ ✌✁✡✁✄☛
✂✁✡✄☎✠✁✄☛✯✎

✟✓✟✓✠ ☎✝✖✙✖✟✘✕✘✖✆ ☛✝ ✙✝✖✕✖✄✖✜✝
✑✌☛✍✄ ✆✍✌✆✌✂✁☛✁✌☎ ☞✄ ✆✍✌☛✌✠✌✡✄ ☞✄ ✌✄✂☛✍✄ ✂✥✁☎✂✆✁✍✄ ☞✄ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ✆✍✡✠✡☞✄☎☛✄ ✄☛ ☞✄ ✡✝

✠✝✍✝✠☛✡✍✁✂✝☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯ ✝✧☞✌✌✁☎✝☛✯✎
✢✥✝✠☛✁✟✁☛✡ ✞✝✂☛✍✌✛✁☎☛✄✂☛✁☎✝✡✄ ☞✡✆✄☎☞ ☞☛ ✠✌☎☛✄☎☛ ☞☛ ☛☛✧✄ ☞✁✞✄✂☛✁✘✓ ☞✄ ✡✝ ✆☞✝✂✄ ☞☛ ✠✒✠✡✄ ☞✁✞✄✂☛✁✘✓

☞✄ ✡✥✡☛✝☛ ☞✄ ✂✝☎☛✡ ☞☛ ✆✝☛✁✄☎☛ ✄☛ ☞✄✂ ✡✟✄☎☛☛✄✡✡✄✂ ✁☎☛✄✍✟✄☎☛✁✌☎✂ ✠☞✁✍☛✍✞✁✠✝✡✄✂ ✌☛ ✌✡☞✁✠✝✌✄☎☛✄☛✂✄✂✎
✑✌☛✂ ✝✟✌☎✂ ✍✡✝✡✁✂✡ ☛✌☛✂ ☎✌✂ ☛✍✝✟✝☛✯ ✂☛✍ ☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂ ☞✄✂ ✟✌✡✌☎☛✝✁✍✄✂ ✂✝✁☎✂✓ ✏☛✁
☎✥✡☛✝✁✄☎☛ ✆✝✂ ✂✌☛✂ ✝☛✠☛☎ ☛✍✝✁☛✄✌✄☎☛ ✌✡☞✁✠✝✌✄☎☛✄☛✯✎ ✎✷☎ ☞✥✝✂✂☛✍✄✍ ☛☎ ✌✝✯✁✌☛✌ ☞✄ ✍✄✆✍✌☞☛✠✛
☛✁✧✁✡✁☛✡✓ ☛✌☛✂ ✡✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ✌☎☛ ✡☛✡ ✠✌✌✌✄☎✠✡✂ ✁✌✌✡☞✁✝☛✄✌✄☎☛ ✝✆✍✔✂ ☛☎ ✍✄✆✝✂ ✂☛✝☎☞✝✍☞✁✂✡
✴✆✄☛✁☛✛☞✡✬✄☛☎✄✍✵✎

✮☎✄ ✝☛☛✍✄ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄ ✁✌✆✌✍☛✝☎☛✄ ✄✂☛ ✡✝ ✟✝✍✁✝☛✁✌☎ ✄✂✂✄☎☛✁✄✡✡✄✌✄☎☛ ✡✄☎☛✄ ☞✄ ✡✥✝✠☛✁✟✁☛✡ ☞✁✞✄✂✛
☛✁✟✄✎ ✰✡✡✄ ✂✄ ☞✡✍✌☛✡✄ ✂☛✍ ✆✡☛✂✁✄☛✍✂ ☞✄☛✍✄✂✓ ☞✌☎✠ ☛✌☛☛✄ ✍✄✠☞✄✍✠☞✄ ☞✥✁☎✘✌✍✌✝☛✁✌☎✂ ☞✌✁☛ ☛✄☎✁✍ ✠✌✌✆☛✄

☞✄ ✠✄☛☛✄ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄ ✒ ✡✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ☞✌✁✟✄☎☛ ✫☛✍✄ ✍✡✝✡✁✂✡✂ ✂☛✍ ☞✄✂ ✡✌☎✞☛✄✂ ☞☛✍✡✄✂ ✌☛ ✤
☞✁✆✡✍✄☎☛✂ ✁☎☛✄✍✟✝✡✡✄✂ ☛✄✌✆✌✍✄✡✂✓ ✍✡✆✝✍☛✁✂ ✂☛✍ ✡✝ ☞☛✍✡✄✎ ✑✌☛✂ ✝✟✌☎✂ ✍✄✠☛✄✁✡✡✁ ☞✄✂ ✂✁✞☎✝☛✯ ☞☛✍✝☎☛
✄☎✟✁✍✌☎ ✲✪✷ ✌✁☎☛☛✄✂ ✴✤ ☛☎✄ ✘✍✡✏☛✄☎✠✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ☞✄ ✶✬✬✬ ✭✳✎✓ ✠✄☛☛✄ ☞☛✍✡✄ ✠✌✍✍✄✂✆✌☎☞ ✤
✲✫ ✂✡✏☛✄☎✠✄✂ ✂☛✠✠✄✂✂✁✟✄✂ ✤

222 ✆✌✁☎☛✂✵✓ ✝✷☎ ☞✄ ✠✌☛✟✍✁✍ ✡✝ ✆☞✝✂✄ ✆✌✂☛✆✍✝☎☞✁✝✡✄ ✄☛ ✝☛ ✌✌✁☎✂ ☛☎✄
✆✝✍☛✁✄ ☞✄ ✡✝ ✆☞✝✂✄ ✁☎☛✄✍✛☞✁✞✄✂☛✁✟✄✎

✢✄✂ ✠✌☎☛✍✝✠☛✁✌☎✂ ✞✡☎✡✍✝☛✍✁✠✄✂ ☞✄ ✂✌☎✂ ✂✌☎☛ ✆✍✌☞☛✁☛✄✂ ✆✝✍ ✆✡☛✂✁✄☛✍✂ ✌✍✞✝☎✄✂ ☞☛ ☛☛✧✄ ☞✁✞✄✂☛✁✘✓
✡✌✠✝✡✁✂✡✂ ✝☛✯ ☞✁✆✡✍✄☎☛✂ ✄☎☞✍✌✁☛✂ ☞✝☎✂ ✡✝ ✠✝✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄✎ ✑✌☛✂ ✆✍✌✆✌✂✌☎✂ ☛☎ ✄☎✂✄✌✧✡✄ ☞✄
✂✁✯ ✠✝✆☛✄☛✍✂✓ ✆✡✝✠✡✂ ✂☛✍ ✡✝ ✂☛✍✘✝✠✄ ☞✄ ✡✝ ✆✝✍✌✁ ✝✧☞✌✌✁☎✝✡✄ ✴✟✌✁✍ ✷✞☛✍✄ ✫✎✮✵ ✄☎ ✍✄✂✆✄✠☛✝☎☛ ✡✄✂
✂☛✞✞✄✂☛✁✌☎✂ ☞✄ ✪✝✍☎✄✍ ✄☛ ✰☞✍✄☎✍✄✁✠☞ ✝✮✷✞ ✴✠✝✆☛✄☛✍✂ ✲✄✭✓ ✶ ✄☛ ✪✵ ✄☛ ✠✍✝✁☎✄ ☎✟ ✁✄✏ ✝✭✫✞ ✴✲✓ ✭ ✄☛
✶✵✎ ✑✌☛✂ ✝✟✌☎✂ ✍✝✬✌☛☛✡ ✄☎ ✆✡☛✂ ✡✄ ✠✝✆☛✄☛✍ ☎☛✌✡✍✌ ✮✓ ✂✌☛✂✛✌✌✧✁✡✁✠✝✡✓ ✏☛✁ ☎✌☛✂ ✆✄✍✌✄☛ ✝✁☎✂✁ ☞✄
✠✁✍✠✌☎✂✠✍✁✍✄ ✠✌✌✆✡✔☛✄✌✄☎☛ ✡✥✝✁✍✄ ☞✥✁☎☛✡✍✫☛✎

1

2

3 4 5

6

✁✂✄☎ ✫✎✮ ✄ ✩✏✞✢☞✡☞✝✟ ✑☞✔ ✢✞✗✟☞✒✎✔ ✗✞✎ ✎✞✗✗✠✎✟ ✄ ✏❂✞✝✞✟✠✡☛☞ ✞✓✑✠✡☛✝✞✏☞✘

✰☎✷☎✓ ✆✌☛✍ ✌✁☎✁✌✁✂✄✍ ✡✄ ☎✌✌✧✍✄ ☞✥✝✍☛✡✘✝✠☛✂✓ ✡✄✂ ✟✌✡✌☎☛✝✁✍✄✂ ✌☎☛ ✡☛✡ ✁☎✂☛✝✡✡✡✂ ✠✌☎✘✌✍☛✝✧✡✄✌✄☎☛✓
✄☎ ✆✌✂✁☛✁✌☎ ☞✄✌✁✛✝✡✡✌☎✞✡✄✓ ☞✝☎✂ ☛☎✄ ✂✝✡✡✄ ✂✁✡✄☎✠✁✄☛✂✄✎ ✢✄✂ ✂☛✡☛☞✌✂✠✌✆✄✂ ✌☎☛ ✡☛✡ ✌✝✁☎☛✄☎☛✂ ✄☎ ✆✡✝✠✄

✫✪



�✏�✏ �✁✁�✁☎ ✆ ✁✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

✤ ✡✥✝✁☞✄ ☞✥☛☎✄ ✧✝☎☞✄ ✡✡✝✂☛✁✏☛✄✓ ✠✄☎✂✡✄ ✤ ✝✂✂☛✍✄✍ ☛☎✄ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁ ✍✄✡✝☛✁✟✄✌✄☎☛ ✠✌☎✂☛✝☎☛✄ ✂✝☎✂

✞✫☎✄✍ ✡✄✂ ✌✌☛✟✄✌✄☎☛✂ ✍✄✂✆✁✍✝☛✌✁✍✄✂ ✄☛ ✂✝☎✂ ✆✍✌✟✌✏☛✄✍ ☞✄✂ ✘✍✌☛☛✄✌✄☎☛✂ ✝✟✄✠ ✡✄✂ ☛✫☛✄✂ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄
✌☛ ✄☎☛✍✄ ✠✄✡✡✄✂✛✠✁ ✄☛ ✡✝ ✆✄✝☛✎

�✟� ✠✂✑✄✝✁ ✏☎✆✝✟✞✄✒✂✁✝✞✑✞✆✡✝

✢✥✡☛☛☞✄ ✧✁✧✡✁✌✞✍✝✆☞✁✏☛✄ ✆✄✍✌✄☛ ☞✥✌✧✂✄✍✟✄✍ ✏☛✄ ✡✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎ ☛☛✁✡✁✂✡✄ ☞✡✆✄☎☞ ✤ ✡✝ ✘✌✁✂ ☞✄
✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ☞☛ ✂✁✞☎✝✡ ✂✄✡✌☎ ✠☞✝✏☛✄ ✝☛☛✄☛✍ ✄☛ ☞✄ ✡✥✌✧✬✄✠☛✁✘ ✆✌☛✍✂☛✁✟✁ ✴✍✄✠☞✄✍✠☞✄ ✆☞✒✂✁✌✡✌✞✁✏☛✄✓
✝✁☞✄ ✝☛ ☞✁✝✞☎✌✂☛✁✠✓ ✂☛✍✟✄✁✡✡✝☎✠✄ ✆✌✂☛✛✌✆✡✍✝☛✌✁✍✄ ✌☛ ✡✟✝✡☛✝☛✁✌☎ ☞✄✂ ✄✆✄☛✂ ☞✄✂ ✌✡☞✁✠✝✌✄☎☛✂✵✎

✢✄✂ ✠✝✆☛✄☛✍✂ ☛☛✁✡✁✂✡✂ ☞✝☎✂ ✡✝ ✏☛✝✂✁✛☛✌☛✝✡✁☛✡ ☞✄✂ ✠✝✂ ✂✌☎☛ ☞✄✂ ✌✁✠✍✌✆☞✌☎✄✂ ✝✟✄✠ ☛☎✄ ✧✝☎☞✄
✆✝✂✂✝☎☛✄ ✂☛☎✂✝✌✌✄☎☛ ✡✝✍✞✄ ✆✌☛✍ ✠✌☛✟✍✁✍ ✡✄ ✂✆✄✠☛✍✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✎ ✠✍✝✁☎✄ ☎✟ ✁✄✏ ✝✭✬✓ ✭✲✓ ✭✫✞
☛☛✁✡✁✂✄☎☛ ☞✄✂ ✂☛✡☛☞✌✂✠✌✆✄✂ ✡✡✄✠☛✍✌☎✁✏☛✄✂ ✠✌✌✌✄✍✠✁✝☛✯ ✆✌☛✍ ✡✥✝✠✏☛✁✂✁☛✁✌☎ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✓
✝✡✌✍✂ ✏☛✄ ✪✝✍☎✄✍ ✄☛ ✰☞✍✄☎✍✄✁✠☞ ✝✮✷✞ ✝☞✝✆☛✄☎☛ ☞✄✂ ✌✁✠✍✌✆☞✌☎✄✂ ✝☛✯ ☛✫☛✄✂ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ✠✡✝✂✂✁✏☛✄✂✎
✢✄✂ ✍✡✆✌☎✂✄✂ ✘✍✡✏☛✄☎☛✁✄✡✡✄✂ ✆✍✡✂✄☎☛✡✄✂ ✷✞☛✍✄ ✫✎✶ ✆✄✍✌✄☛☛✄☎☛ ☞✄ ✠✌✌✆✝✍✄✍✓ ✤ ☛✁☛✍✄ ☞✥✄✯✄✌✆✡✄✓ ✡✄✂
✂☛✡☛☞✌✂✠✌✆✄✂ ✝✠✌☛✂☛✁✏☛✄✂ ✠✡✝✂✂✁✏☛✄✂ ✄☛ ✡✄☛✍✂ ☞✌✌✌✡✌✞☛✄✂ ✡✡✄✠☛✍✌☎✁✏☛✄✂ ✠✌✌✌✄✍✠✁✝☛✯✎

✁✂✄☎ ✫✎✶ ✄ ✄✕☞✡✗✏☞ ✑☞ ✎✍✗✠✝✔☞✔ ✕✎✍❃✒☞✝✟☛☞✏✏☞✔ ✑☞✔ ✔✟✍✟✰✠✔✢✠✗☞✔ ✞✢✠✒✔✟☛❃✒☞✔ ☞✟ ✍✏☞✢✟✎✠✝☛❃✒☞✔ ✬✏☞✔ ✢✠✒✎✓☞✔ ✗✎✍✔☞✝✝✟✍☞✔ ✕✠✝✟ ✗✞✎✟☛☞ ✑☞ ✏✞ ✑✠✢✒✡☞✝✟✞✟☛✠✝ ✟☞✢✰✝☛❃✒☞ ✑✒ ✔✟✍✟✰✠✔✢✠✗☞ ✍✏☞✢✟✎✠✝☛❃✒☞ ✆❆✝✞✶✵✿ ✗✎✠✑✒☛✟ ✗✞✎ ✟✺✹✼✽✶✻✽✞✷ ✠✻✞✡
☛☞☞✌ ✍✎✎✏✏✏ ✑✒✓✔✕✖✗✘✖✒✙✑✒✗✚ ✭ ❃✒☛ ✞ ✑☞✒✕ ✡✠✑☞✔ ✑☞ ✕✠✝✢✟☛✠✝✝☞✡☞✝✟ ✛ ✢✞✎✑☛✞❃✒☞ ☞✟ ✗✒✏✡✠✝✞☛✎☞✮✘

✢✄ ☛✍✝✁☛✄✌✄☎☛ ☛✡☛✡✍✁✄☛✍ ✄✂☛ ✆✝✍✘✌✁✂ ✝☎✝✡✌✞✁✏☛✄ ✴✁☎☛✄✞✍✝☛✄☛✍✂ ☞✥✡☎✄✍✞✁✄ ✝✮✲✞✓ ✧✝☎✠✂ ☞✄ ✷✡☛✍✄✂
✝✲✫✲✞✵ ✄☛✓ ✂✌☛✟✄☎☛✓ ✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯ ✄✂☛ ✟✁✂☛✄✡✡✄ ✌☛ ✝☛☞✁☛✁✟✄✎

✢✄✂ ☛✍✝✁☛✄✌✄☎☛✂ ☎☛✌✡✍✁✏☛✄✂ ✆✍✌✆✌✂✡✂ ✍✡✠✄✌✌✄☎☛ ✝✲✶✓ ✭✬✓ ✭✲✓ ✭✫✓ ✶✮✓ ✲✲✪✞ ✂✌☎☛ ✆✍✡✠✡☞✡✂ ☞✥☛☎
✠✌☎☞✁☛✁✌☎☎✄✌✄☎☛ ✠✡✝✂✂✁✏☛✄ ✴✝✌✆✡✁✷✠✝☛✁✌☎ ✄☛ ✷✡☛✍✝✞✄ ✝☎☛✁✛✍✄✆✡✁✄✌✄☎☛✵ ✄☛ ✂✌☎☛ ✁✌✆✡✡✌✄☎☛✡✂ ✂☛✍ ☞✄✂
✌✍☞✁☎✝☛✄☛✍✂ ✡✏☛✁✆✡✂ ☞✄ ✠✝✍☛✄✂ ☞✥✝✠✏☛✁✂✁☛✁✌☎ ✄☛ ☞✄ ✡✌✞✁✠✁✄✡✂ ☞✄ ☛✍✝✁☛✄✌✄☎☛✎ ✸✟✁☞✄✌✌✄☎☛✓ ✡✄✂ ✡☛☛☞✄✂
✂☛✍ ✡✝ ✍✒☛☞✌✁✠✁☛✡✓ ✝✁☎✂✁ ✏☛✄ ✂☛✍ ✡✄✂ ✆☞✡☎✌✌✔☎✄✂ ☞✄ ✡✌☎✞☛✄ ☞☛✍✡✄ ✠✌✌✌✄ ✡✄ ✠✌✌✆✡✄✯✄ �✁✞✍✝☎☛
�✌☛✄☛✍ ✴✠��✵✓ ☎✡✠✄✂✂✁☛✄☎☛ ☞✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ✏☛✁ ✆✄☛✟✄☎☛ ✝✡✡✄✍ ✬☛✂✏☛✥✤ ✆✡☛✂✁✄☛✍✂ ☞✄☛✍✄✂ ✄☛

☞✌☎✠ ☞✄✂ ✠✝✆✝✠✁☛✡✂ ☞✄ ✂☛✌✠✥✝✞✄ ✁✌✆✌✍☛✝☎☛✄✂✎
✠✄✂ ✠✌☎✂✁☞✡✍✝☛✁✌☎✂✓ ✝✁☎✂✁ ✏☛✄ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ✆✍✡✠✡☞✄☎☛✄ ☞☛ ✂✁✞☎✝✡✓ ☎✌☛✂ ✠✌☎☞☛✁✂✄☎☛ ✟✄✍✂ ✡✄ ✠☞✌✁✯

☞✥☛☎✄ ✠☞✝✣☎✄ ☞✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎ ✠✡✝✂✂✁✏☛✄✓ ✝☞✝✆☛✡✄ ✝☛✯ ✘✍✡✏☛✄☎✠✄✂ ✄☛ ✤ ✡✝ ☞✒☎✝✌✁✏☛✄ ☞☛ ✂✁✞☎✝✡ ✄☛
✤ ✡✝ ☎✡✠✄✂✂✁☛✡ ☞✥✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ☞✄ ✡✌☎✞☛✄ ☞☛✍✡✄✎ ✢✄ ✂✠☞✡✌✝ ✞✡☎✡✍✝✡ ✄✂☛ ✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✫✎✪✎

✫✯



�✁✁☎✠✟☛☎ �✏ ✂✄✝✂✠✝✠✟✠✂✁ ✆☎✝ ✝✂✁✝ � ✝✠✁✁✁✄ ☎✟ ✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

C M PA A FAR
CAN

HDD PC
12 bits

Capteur Conditionneur

Enregistreur
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x(k)
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✂☛✡☛☞✌✂✠✌✆✄ ✂☛✍ ✡✝ ✆✄✝☛ ✒ ☞✝☎✂ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄✓ ✌☎ ☎✄ ✆✍✡✠✁✂✄ ✆✝✂ ✡✝ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁ ☞✄✂ ✠✝✆☛✄☛✍✂
✂☛✍ ✡✥✝✧☞✌✌✄☎ ✄☛ ✌☎ ☎✄ ☞✁✂✠☛☛✄ ✆✝✂ ☞✄ ✂✌☎ ✡✟✄☎☛☛✄✡✡✄ ✁☎☞☛✄☎✠✄ ✂☛✍ ✡✄ ✂✁✞☎✝✡ ✍✄✠☛✄✁✡✡✁✎ ✢✥✌✧✬✄✠☛✁✘ ☞✄
✠✄☛☛✄ ✂✄✠☛✁✌☎ ☎✥✄✂☛ ✆✝✂ ☛☎✄ ✌✌☞✡✡✁✂✝☛✁✌☎ ✆✍✡✠✁✂✄ ☞☛ ✂✒✂☛✔✌✄✓ ✌✝✁✂ ✡✝ ✟✡✍✁✷✠✝☛✁✌☎ ☞✄✂ ✡✟✄☎☛☛✄✡✡✄✂
✌✌☞✁✷✠✝☛✁✌☎✂ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄✂ ✠✌☎☞✁☛✁✌☎✂ ☞✥☛☛✁✡✁✂✝☛✁✌☎✎

✠✄☛☛✄ ✂✄✠☛✁✌☎ ✠✌☎☛✁☎☛✄ ✆✝✍ ☛☎ ✍✝✆✆✄✡ ☞☛ ✆✍✁☎✠✁✆✄ ☞✥✁☞✄☎☛✁✷✠✝☛✁✌☎ ☎✌☎✛✆✝✍✝✌✡☛✍✁✏☛✄✓ ✆✍✡✂✄☎☛✡
✆✌☛✍ ✡✄ ✠✝✂ ☞✁✂✠✍✄☛ ✄ ✡✄✂ ✂✁✞☎✝☛✯ ✁☎☛✄✍✟✄☎✝☎☛ ☞✝☎✂ ✡✝ ✌✌☞✡✡✁✂✝☛✁✌☎ ✂✌☎☛ ☎☛✌✡✍✁✏☛✄✂✓ ✡✠☞✝☎☛✁✡✡✌☎☎✡✂
✝✟✄✠ ☛☎✄ ✆✡✍✁✌☞✄ T ✎ ✰☎✂☛✁☛✄✓ ☎✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ✡✄ ✆✍✌☛✌✠✌✡✄ ☞✄ ✌✄✂☛✍✄ ✏☛✄ ☎✌☛✂ ✝✟✌☎✂ ✌✁✂ ✝☛ ✆✌✁☎☛

✆✌☛✍ ✡✥✁☞✄☎☛✁✷✠✝☛✁✌☎ ✄☛ ✡✄✂ ✍✡✂☛✡☛✝☛✂ ✌✧☛✄☎☛✂✎

✟✓✡✓✠ ✠✡✕✚✖☛✝
✑✌☛✍✄ ✌✧✬✄✠☛✁✘ ☎✥✄✂☛ ✆✝✂ ☛☎✄ ✁☞✄☎☛✁✷✠✝☛✁✌☎ ✆✝✍✝✌✡☛✍✁✏☛✄ ☞☛ ✠✝✆☛✄☛✍✓ ✌✝✁✂ ✡✥✡☛☛☞✄ ☞✄ ✂✝ ✍✡✆✌☎✂✄

✘✍✡✏☛✄☎☛✁✄✡✡✄✓ ✄☛ ✆✡☛✂ ✆✍✡✠✁✂✡✌✄☎☛ ☞✄ ✂✌☎ ✌✌☞☛✡✄✓ ✏☛✁ ✟✝ ☞✌☎☎✄✍ ✡✄ ✞✝✁☎ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛
☞☛ ✂☛✡☛☞✌✂✠✌✆✄✎ ✢✄✂ ✍✡✂☛✡☛✝☛✂ ✌✧☛✄☎☛✂ ✆✌☛✍ ☞✁✆✡✍✄☎☛✄✂ ✆✍✄✂✂✁✌☎✂ ☞✥✝✆✆☛✁ ✂✄✍✌☎☛ ✄☎✂☛✁☛✄ ✠✌✌✆✝✍✡✂✎

✫✰



�✁✁☎✠✟☛☎ �✏ ✂✄✝✂✠✝✠✟✠✂✁ ✆☎✝ ✝✂✁✝ � ✝✠✁✁✁✄ ☎✟ ✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

✰☎ ✂☛✆✆✌✂✝☎☛ ✡✄✂ ✆✄✍☛☛✍✧✝☛✁✌☎✂ ☎☛✡✡✄✂✓ ✡✄ ✌✌☞✔✡✄ ✂✁✌✆✡✁✷✡ ☞☛ ✂✒✂☛✔✌✄
H

✤ ✌✌☞✡✡✁✂✄✍ ✄✂☛ ☞✌☎✠
✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✫✎✯ ✴

x
✡☛✝☎☛ ✡✄ ✂✁✞☎✝✡ ☞✥✄☎☛✍✡✄ ✄☛

y
✠✄✡☛✁ ☞✄ ✂✌✍☛✁✄✵✙� ✎ ✢✄✂ ✆✝✍☛✁✄✂ ✠✌☎✂☛✁☛☛☛✁✟✄✂ ☞☛

✂✒✂☛✔✌✄✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✡✝ ☛✫☛✄ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄✓ ✡✄ ✌✁✠✍✌✆☞✌☎✄✓ ✄☛ ✡✄ ✠✌☎☞✁☛✁✌☎☎✄☛✍ ✴✝✌✆✡✁✷✠✝☛✄☛✍ ✁
✷✡☛✍✄✵✓ ✂✌☎☛ ✍✄✆✍✡✂✄☎☛✡✄✂ ✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✆✝✍ HC ✓ HM

✄☛
HA

✎

✲
x

✲
y

✲ ✲

H

HC HM HA

✁✂✄☎ ✫✎✯ ✄ ✆✠✑❄✏☞ ✑❂☛✑☞✝✟☛✠✢✞✟☛✠✝ ✔☛✡✗✏☛✠✍✘

✢✥☞✒✆✌☛☞✔✂✄ ☞✄ ✧✝✂✄ ✄✂☛ ✡✝ ✡✁☎✡✝✍✁☛✡ ✄☛ ✡✥✁☎✟✝✍✁✝☎✠✄ ☞✄✂ ✂✒✂☛✔✌✄✂ ✤ ✠✝✍✝✠☛✡✍✁✂✄✍✎ ✙✝☎✂ ✠✄ ✠✝✂✓
✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛ H(iω)

✄✂☛ ☞✡✷☎✁✄ ✤ ✡✥✝✁☞✄ ☞✄✂ ☛✍✝☎✂✘✌✍✌✡✄✂ ☞✄ ★✌☛✍✁✄✍ ☞✁✂✠✍✔☛✄✂ X(iω)
✄☛

Y (iω) ☞✄ ✡✥✄☎☛✍✡✄ ✄☛ ☞✄ ✡✝ ✂✌✍☛✁✄ ✒

Y (iω) = H(iω)X(iω),
✴✫✎✲✵

✝✟✄✠ X(iω) =
∞
∑

k=−∞

x(k)e−iωk ✄☛
Y (iω) ☞✡✷☎✁✄ ☞✄ ✌✝☎✁✔✍✄ ✂✁✌✁✡✝✁✍✄✓ ✆✌☛✍ k ∈ Z

✎

✢✄ ✌✌☞☛✡✄ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛ ☞☛ ✂✒✂☛✔✌✄ ✂✥✡✠✍✁☛ ✒

|H(iω)|2 =
Φy(ω)

Φx(ω)
,

✴✫✎✫✵

✌✟
Φx(ω) = |X(iω)|2 ✴✫✎✭✵

☞✡✂✁✞☎✄ ✡✄ ✂✆✄✠☛✍✄ ☞✥✡☎✄✍✞✁✄ ☞☛ ✂✁✞☎✝✡ x✓ ✡✄ ✂✆✄✠☛✍✄ ☞✄ ✡✝ ✂✌✍☛✁✄ y
✡☛✝☎☛ ☞✡✷☎✁ ☞✄ ✌✝☎✁✔✍✄ ✂✁✌✁✡✝✁✍✄✎

✰☎ ✍✡✝✡✁☛✡✓ ✌☎ ☎✄ ✆✄☛☛ ✆✝✂ ✄✁✄✄✂✄☎☛ ✡✄✂ ✂✆✄✠☛✍✄✂ ✏☛✁ ✁☎☛✄✍✟✁✄☎☎✄☎☛ ☞✝☎✂ ✡✄✂ ✄✯✆✍✄✂✂✁✌☎✂ ✝☎☛✡✛
✍✁✄☛✍✄✂ ☞✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ☛✍✝☎✂✘✄✍☛✓ ✠✝✍ ☎✁ ✡✄✂ ☛✍✝☎✂✘✌✍✌✡✄✂ ☞✄ ★✌☛✍✁✄✍ ☞✄ ✡✥✄☎☛✍✡✄ x ✄☛ ☞✄ ✡✝ ✂✌✍☛✁✄ y ✓
☎✁ ✠✄✡✡✄✂ ☞✄✂ ✘✌☎✠☛✁✌☎✂ ☞✥✝☛☛✌✛ ✄☛ ✁☎☛✄✍✠✌✍✍✡✡✝☛✁✌☎ ☎✄ ✂✌☎☛ ✠✝✡✠☛✡✝✧✡✄✂ ☞✄ −∞ ✤

+∞✎ ✙✄ ✆✡☛✂✓ ✌☎ ☎✄

✆✄☛☛ ✆✝✂ ✌✧☛✄☎✁✍ ✡✄☛✍ ✘✌✍✌✄ ✝☎✝✡✒☛✁✏☛✄ ✂✝☎✂ ✠✌☎☎✝✣☛✍✄ ✡✄✂ ✄✯✆✍✄✂✂✁✌☎✂ ☞✄ x ✄☛
y ✎

✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓
✌☎ ✝ ✍✄✠✌☛✍✂ ✤ ☞✄✂ ☎✝✟✠✞✁✟✠✂✁✝ ☞✄ ✠✄✂ ✂✆✄✠☛✍✄✂✎

✰☎ ✂☛✁✟✝☎☛ ✡✄ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ✆✍✌✆✌✂✡ ✆✝✍ ✢✬☛☎✞ ✝✯✬✞✓ ☎✌☛✂ ✠✌☎✂✁☞✡✍✌☎✂ ☞✝☎✂ ✡✄✂ ✆✝✍✝✞✍✝✆☞✄✂
✂☛✁✟✝☎☛✂ ✡✝ ✆✡✍✁✌☞✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ☎✌✍✌✝✡✁✂✡✄ T = 1

✴✡✄ ✆✝✂✂✝✞✄ ✤ ✡✝ ✧✌☎☎✄ ✡✠☞✄✡✡✄ ☛✄✌✆✌✍✄✡✡✄
✄✂☛ ✁✌✌✡☞✁✝☛✵ ✄☛ ✆✍✡✂✄☎☛✌☎✂ ✆✡☛✂✁✄☛✍✂ ✌✡☛☞✌☞✄✂ ☞✥✄✂☛✁✌✝☛✁✌☎ ☞☛ ✂✆✄✠☛✍✄ ☞✄ ✡✥✄☎☛✍✡✄ Φx(ω) ✆✌☛✍
✡✝ ✂☛✁☛✄ ☞✁✂✠✍✔☛✄ x(k), k = 1 . . . N

✒
✄ ✡✄ ✆✡✍✁✌☞✌✞✍✝✌✌✄✓ ✏☛✁ ✂✄ ✧✝✂✄ ☞✁✍✄✠☛✄✌✄☎☛ ✂☛✍ ✡✝ ☞✡✷☎✁☛✁✌☎ ☞☛ ✂✆✄✠☛✍✄ ✴✫✎✭✵ ✒

ˆ̂
ΦN

x (ω) =
1

N
|XN (iω)|2, ✝✟✄✠ XN (iω) =

N
∑

k=1

x(k)e−iωk.

✠✄☛☛✄ ✌✡☛☞✌☞✄ ☎✥✄✂☛ ✆✝✂ ✄✯✆✡✌✁☛✝✧✡✄ ✄☎ ✆✍✝☛✁✏☛✄✓ ✠✝✍ ✡✄✂ ✍✡✂☛✡☛✝☛✂ ✂✌☎☛ ☛✍✔✂ ✁✍✍✡✞☛✡✁✄✍✂
✴✧✍☛✁☛✡✂✵ ✝✄ ☛☎✄ ✝✌✡✡✁✌✍✝☛✁✌☎ ☞☛ ✆✡✍✁✌☞✌✞✍✝✌✌✄ ✄✂☛ ✆✌✂✂✁✧✡✄ ✆✝✍ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✚✄✡✠☞✓ ✏☛✁ ✆✍✡✠✌☎✁✂✄ ☛☎
✌✌✒✄☎☎✝✞✄✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✡✄ ☞✡✠✌☛✆✝✞✄ ☞☛ ✂✁✞☎✝✡ x(k), k = 1 . . . N

✄☎ ✆✡☛✂✁✄☛✍✂ ✴
j = 1 . . . Q✵

✜✁✞✝ ✑✍✫☞✏✠✗✗☞✡☞✝✟ ✔☛✡☛✏✞☛✎☞ ✄ ✢☞✏✒☛ ✗✎✍✔☞✝✟✍ ✑✞✝✔ ✢☞✟✟☞ ✔☞✢✟☛✠✝ ☞✔✟ ✗✠✔✔☛✓✏☞ ☞✝ ✢✠✝✔☛✑✍✎✞✝✟ ✒✝ ✓✎✒☛✟ ✑☞ ✡☞✔✒✎☞
✝✠✝ ✝✒✏ ✡✞☛✔ ✑✍✢✠✎✎✍✏✍ ✑☞ ✏❂☞✝✟✎✍☞ ✬✫✠☛✎ ✘✡✂✙✮✘

✭✬



�✏�✏ ✁✟✂✆☎ ✆☎ ✄✁ ☛✆☎✂✁✝☎ ✞☛✆✝✂☎✁✟✠☎✄✄☎
✂✄✞✌✄☎☛✂ ☞✄ ✡✌☎✞☛✄☛✍ M ✄☛ ✡✄ ✠✝✡✠☛✡ ☞✄ ✂✌☎ ✂✆✄✠☛✍✄ ✠✌✌✌✄ ☛☎✄ ✌✌✒✄☎☎✄ ☞✄✂ ☞✁✆✡✍✄☎☛✂
✆✡✍✁✌☞✌✞✍✝✌✌✄✂ ˆ̂

ΦM
x,j(ω) ☞✄✂ ✂✄✞✌✄☎☛✂ ✒

Φ̂N
x (ω) =

1

Q

Q
∑

j=1

ˆ̂
ΦM

x,j(ω) ;

✄ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✱✡✝✠✥✌✝☎✛✶☛✥✄✒ ✆✍✌✆✌✂✄ ☛☎ ✷✡☛✍✝✞✄ ✴☛☎ ✡✁✂✂✝✞✄✵ ☞☛ ✆✡✍✁✌☞✌✞✍✝✌✌✄ ✒

Φ̂N
x (ω) =

∫ π

−π
Wγ(ω − ξ)

ˆ̂
ΦN

x (ξ)dξ,

Wγ(ω)
✡☛✝☎☛ ☛☎✄ ✘✄☎✫☛✍✄ ✠✄☎☛✍✡✄ ✝☛☛✌☛✍ ☞✄ ω = 0✓ ☞✥✁☎☛✡✞✍✝✡✄ ☛☎✁☛✝✁✍✄ ∫ π

−π Wγ(ω)dω = 1
✄☛

✠✝✍✝✠☛✡✍✁✂✡✄ ✆✝✍ ☛☎ ✆✝✍✝✌✔☛✍✄ γ ✏☛✁ ☞✡☛✄✍✌✁☎✄ ✂✝ ✡✝✍✞✄☛✍✎
✰☎ ✆✍✝☛✁✏☛✄✓ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✱✡✝✠✥✌✝☎✛✶☛✥✄✒ ☎✄ ✂✥✝✆✆✡✁✏☛✄ ✆✝✂ ☞✁✍✄✠☛✄✌✄☎☛ ✂☛✍ ✡✄✂ ✂✆✄✠☛✍✄✂

✄✂☛✁✌✡✂ ✆✝✍ ✡✄ ✆✡✍✁✌☞✌✞✍✝✌✌✄✓ ✌✝✁✂ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☛✄✌✆✌✍✄✡✎ ✢✄✂ ✂✆✄✠☛✍✄✂ ✂✌☎☛ ✝✡✌✍✂ ✠✝✡✠☛✡✡✂
✤ ✡✥✝✁☞✄ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ☞✥✝☛☛✌✠✌✍✍✡✡✝☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯✓ ✄☛ ✡✥✄✂☛✁✌✝☛✁✌☎ ✡✁✂✂✡✄ ☞✄ Φx(ω)

✂✥✡✠✍✁☛ ✝✯✬✞ ✒

Φ̂N
x (ω) =

γ
∑

k=−γ

wγ(k)R̂N
x (k)e−iωk,

✴✫✎✮✵

✌✟

wγ(k) =

∫ π

−π
Wγ(ξ)eiξkdξ

☞✡✂✁✞☎✄ ✡✝ ✘✌✍✌✄ ☛✄✌✆✌✍✄✡✡✄ ☞✄ ✡✝ ✘✄☎✫☛✍✄✙✙ Wγ(ξ)✓ ✄☛

R̂N
x (k) =

1

N

N
∑

t=1

x(t+ k)x(t).

✎✆✍✔✂ ✡✥✄✂☛✁✌✝☛✁✌☎ ✂✁✌✁✡✝✁✍✄ ☞☛ ✂✆✄✠☛✍✄ ☞✄ ✡✝ ✂✌✍☛✁✄ Φ̂N
y (ω)✓ ✡✄ ✞✝✁☎ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛

✄✂☛✁✌✡✄ ☞☛ ✂✒✂☛✔✌✄ ✄✂☛ ✌✧☛✄☎☛ ✆✝✍ ✒

|Ĥ(iω)| =

√

√

√

√

Φ̂N
y (ω)

Φ̂N
x (ω)

.
✴✫✎✶✵
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✜✜✄✝ ✗✎✞✟☛❃✒☞✭ ✏✞ ✕☞✝✪✟✎☞ ✢✰✠☛✔☛☞ ✗☞✒✟ ✪✟✎☞ ✑☞ ✟✠✗☞ ✯✞✡✡☛✝✌✭ ✯✞✝✝☛✝✌ ☞✟✢✘ ★✞ ✟✞☛✏✏☞ ✑☞ ✏✞ ✕☞✝✪✟✎☞ ☞✔✟ ☛✝✫☞✎✔☞✡☞✝✟✗✎✠✗✠✎✟☛✠✝✝☞✏✏☞ ✄ ✏✞ ✎✍✔✠✏✒✟☛✠✝ ✕✎✍❃✒☞✝✟☛☞✏✏☞ ✔✠✒✰✞☛✟✍☞✘✜✴✞✝☞ ✞✒✟✎☞ ✡✍✟✰✠✑☞ ✒✟☛✏☛✔☞ ✏❂☞✔✟☛✡✞✟☛✠✝ ✑✒ ✔✗☞✢✟✎☞ ✢✎✠☛✔✍ Φ̂N
yx(ω)

✘ ❅✞✝✔ ✢☞ ✢✞✔✭ ✏✞ ✕✠✝✢✟☛✠✝ ✑☞ ✟✎✞✝✔✕☞✎✟ ☞✔✟☛✡✍☞
✑✒ ✔✠✔✟❄✡☞ ☞✔✟ ✛

Ĥ(iω) =
Φ̂N

yx(ω)

Φ̂N
x (ω)

.
✬✞✘✁✮

✖☞✟✟☞ ✡✍✟✰✠✑☞ ☞✔✟ ✞✗✗✏☛✢✞✓✏☞ ✞✒✔✔☛ ❃✒✞✝✑ ✏✞ ✔✠✎✟☛☞ ☞✔✟ ✗☞✎✟✒✎✓✍☞ ✗✞✎ ✒✝ ✓✎✒☛✟ ✑☞ ✡☞✔✒✎☞ ✞✑✑☛✟☛✕✘

✭✲
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✙✄ ✆✡☛✂✓ ✆✌☛✍ ✆✌☛✟✌✁✍ ☛☛✁✡✁✂✄✍ ☞✁✍✄✠☛✄✌✄☎☛ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞☛ ✞✝✁☎ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛ ✴✡✏✎
✴✫✎✶✵✵✓ ✁✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ✌✁☎✁✌✁✂✄✍ ✡✄✂ ✆✄✍☛☛✍✧✝☛✁✌☎✂ ✴✌☛ ☞✄ ✂✥✝✂✂☛✍✄✍ ✏☛✥✄✡✡✄✂ ✂✌☎☛ ✁☎☞✡✆✄☎✛
☞✝☎☛✄✂ ☞✄ ✡✥✄☎☛✍✡✄✵✎ ✢✝ ✌✁✂✄ ✄☎ ✌✄☛✟✍✄ ☞✄ ☎✌☛✍✄ ✆✍✌☛✌✠✌✡✄ ☞✄ ☛✄✂☛ ✆✝✂✂✄ ☞✌☎✠ ✆✝✍ ✡✄ ✠☞✌✁✯ ☞✄
✡✥✄☎✟✁✍✌☎☎✄✌✄☎☛ ✄☛ ☞✄ ✡✝ ✂✌☛✍✠✄ ✂✌☎✌✍✄✎

�✌✂✔✎✏✌✌✚✣✚✌✍✥ ✢✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ☎✡✠✄✂✂✝✁✍✄✂ ✌☎☛ ✡☛✡ ✄✆✄✠☛☛✡✂ ☞✝☎✂ ☛☎✄ ✠☞✝✌✧✍✄ ✝☎✡✛
✠☞✌✤☞✄ ✤ ✡✥✕✑✍✖✎ ✑✌☛✂ ✝✟✌☎✂ ✝✁☎✂✁ ✡✡✁✌✁☎✡ ✡✄✂ ✧✍☛✁☛✂ ✄✯☛✡✍✁✄☛✍✂ ✄☛ ✡✄✂ ✡✠☞✌✂ ☞☛✂ ✝☛✯ ✍✡☞✄✯✁✌☎✂ ☞☛
✂✁✞☎✝✡ ✂✌☎✌✍✄ ✡✌✁✂ ✆✝✍ ✡✝ ✂✌☛✍✠✄ ✆✌☎✠☛☛✄✡✡✄✎ ✖✌☛✂ ✠✄✂ ✠✌☎☞✁☛✁✌☎✂✓ ✡✄ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ✆✍✡✂✄☎☛✡ ☞✝☎✂
✡✝ ✂✄✠☛✁✌☎ ✫✎✮✎✲ ✄✂☛ ✝☞✝✆☛✡ ✤ ✡✥✁☞✄☎☛✁✷✠✝☛✁✌☎ ☞✄ ☎✌☛✍✄ ✠✝✆☛✄☛✍ ✒ ✡✄✂ ✆✄✍☛☛✍✧✝☛✁✌☎✂ ✂✌☎☛ ✠✌☎✂✁☞✡✍✡✄✂
☎☛✡✡✄✂ ✄☛ ✡✄✂ ✡✏☛✝☛✁✌☎✂ ✴✫✎✫✵ ✄☛ ✴✫✎✶✵ ✂✌☎☛ ✝✆✆✡✁✠✝✧✡✄✂✎

�✍✒✑✚ ✚✍ ✓✘✦✔✢✎✘✴✚ ✑✚ ✦✘ ✜✏✒✎✓✚✥ ✗✌☛✍ ✆✌☛✟✌✁✍ ✄✂☛✁✌✄✍ ✡✝ ✍✡✆✌☎✂✄ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ☞☛ ✂✒✂☛✔✌✄✓
✁✡ ✄✂☛ ✂✌☛☞✝✁☛✝✧✡✄ ✏☛✄ ✡✄ ✂✁✞☎✝✡ ☞✥✄☎☛✍✡✄ ✂✌✁☛ ✂☛✝☛✁✌☎☎✝✁✍✄ ☞☛✍✝☎☛ ✡✄ ✆✍✌☛✌✠✌✡✄ ☞✄ ✌✄✂☛✍✄ ✄☛ ✏☛✥✁✡
✠✌☎☛✁✄☎☎✄ ☛✌☛☛✄✂ ✡✄✂ ✘✍✡✏☛✄☎✠✄✂ ☞✝☎✂ ✡✝ ✆✡✝✞✄ ✏☛✁ ☎✌☛✂ ✁☎☛✡✍✄✂✂✄ ✴✷✬✄✲✬✬✬ ✭✳✎✵✎ ✑✌☛✂ ✝✟✌☎✂ ☞✌☎✠
☛☛✁✡✁✂✡ ☛☎✄ ✂✌☛✍✠✄ S1 ✓ ✠✌☎✂✁☞✡✍✡✄ ✆✌☎✠☛☛✄✡✡✄✓ ✍✡✞✡✡✄ ✆✌☛✍ ✡✌✄☛☛✍✄ ☛☎ ✧✍☛✁☛ ✍✄✡✝☛✁✟✄✌✄☎☛ ✆✍✌✠☞✄

☞✥☛☎ ✧✍☛✁☛ ✧✡✝☎✠ ☞✝☎✂ ✠✄☛☛✄ ✧✝☎☞✄ ☞✄ ✘✍✡✏☛✄☎✠✄✎ ✢✄ ✂✌☎ ✞✡☎✡✍✡ ✝ ✡☛✡ ✄☎✍✄✞✁✂☛✍✡ ✤ ✡✥✝✁☞✄ ☞✥☛☎
✌✁✠✍✌✆☞✌☎✄ ☞✄ ☞✝☛☛✄ ✆✍✡✠✁✂✁✌☎✙☎ M0

✎ ✑✌☛✂ ✝✟✌☎✂ ✠✌☎✂✁☞✡✍✡ ✡✄ ✂✁✞☎✝✡ ✘✌☛✍☎✁ ✆✝✍ ✠✄ ✌✁✠✍✌✆☞✌☎✄
✠✌✌✌✄ ☛☎✄ ✄✂☛✁✌✝☛✁✌☎ ✷☞✔✡✄

Ŝ1
☞✄ ✡✝ ✂✌☛✍✠✄ ✄☛ ☎✌☛✂ ✡✥✝✟✌☎✂ ☛☛✁✡✁✂✡ ✆✌☛✍ ✠✝✡✠☛✡✄✍ ✂✌☎ ✂✆✄✠☛✍✄✎

✜✒✓✠✒✔ ✎☞✡☞✎✢☛✠✝✔ ✄ ✆✘ ✝✘ ★✠✠✞✒✭ ✢✰☞✎✢✰☞✒✎ ✄ ✏❂✦✓✟✂✭ ✗✠✒✎ ✔☞✔ ✢✠✝✔☞☛✏✔ ✞✫☛✔✍✔ ☞✟ ✔✞ ✑☛✔✗✠✝☛✓☛✏☛✟✍✘✜✝✥✎✒☞✏ ✁ ✂✄✞☞✎✘

✭✫



�✏�✏ ✁✟✂✆☎ ✆☎ ✄✁ ☛✆☎✂✁✝☎ ✞☛✆✝✂☎✁✟✠☎✄✄☎
✢✝ ✆✍✄✌✁✔✍✄ ✡☛✝✆✄ ✝ ✡☛✡ ✡✄ ✠✝✡✁✧✍✝✞✄ ☞☛ ✌✁✠✍✌✆☞✌☎✄ M0 ✓ ✝✒✝☎☛ ☛☎✄ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛

HM0 = G0
☞✄ ✞✝✁☎ ✁☎✠✌☎☎☛ ✌✝✁✂ ✠✌☎✂☛✝☎☛ ☞✝☎✂ ✡✝ ✧✝☎☞✄ ✆✝✂✂✝☎☛✄✎ ✠✄ ✠✝✡✁✧✍✝✞✄✓ ☎✡✠✄✂✂✝✁✍✄ ✆✌☛✍

☞✡☛✄✍✌✁☎✄✍ ✡✄ ✞✝✁☎ G0 ✓ ✝ ✡☛✡ ✄✆✄✠☛☛✡ ✤ ✡✥✝✁☞✄ ☞✥☛☎✄ ✂✌☛✍✠✄ ✂✌☎✌✍✄ ✂✁☎☛✂✌✤☞✝✡✄ ✌✌☎✌✠☞✍✌✌✝☛✁✏☛✄
☞✄ ✆✍✡✠✁✂✁✌☎ ✴

S0
✵✓ ✡✌✄☛☛✝☎☛ ☛☎ ✂✌☎ ✠✌☎☛✁☎☛ ✤ ✲✬✬✬ ✭✳✎✓ ✤ ☛☎✄ ✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✠✌☎✂☛✝☎☛✄ ☞✄✰✮ ☞✱✎

✗✝✍ ☞✡✷☎✁☛✁✌☎✓ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✄☎ ☞✡✠✁✧✄✡✂ ✄✂☛ ✒

I(dB) = 10 log10

I

Ia
= 10 log10

p2

p2
a

,
✴✫✎✯✵

✌✟
pa = 2 ·10−5 ✴✑✍✌2✵ ✄✂☛ ✡✝ ✆✍✄✂✂✁✌☎ ✝✠✌☛✂☛✁✏☛✄ ✠✌✍✍✄✂✆✌☎☞✝☎☛ ✝☛ ✂✄☛✁✡ ☞✥✝☛☞✁✧✁✡✁☛✡ Ia = const.

✄☛
p
✡✝ ✆✍✄✂✂✁✌☎ ✝✠✌☛✂☛✁✏☛✄ ✌✄✂☛✍✡✄ ✝✷✲✞✎ ✮☎ ✠✝✡✠☛✡ ☞✁✍✄✠☛ ☞✄ ✴✫✎✯✵✓ ✄☎ ✍✄✌✆✡✝✩✝☎☛ ✡✄✂ ✟✝✡✄☛✍✂ ☞✄

I
✄☛ ☞✄ pa ✓ ✌✌☎☛✍✄ ✏☛✄ ✡✄ ☎✁✟✄✝☛ ✂✌☎✌✍✄ ✂☛✝☎☞✝✍☞ ☞✄ ✰✮ ☞✱ ☞✄ ✡✝ ✂✌☛✍✠✄ ☞✄ ✠✝✡✁✧✍✝✞✄ ✝✂✂☛✍✄ ☛☎✄

✆✍✄✂✂✁✌☎ ✝✠✌☛✂☛✁✏☛✄ ☞✥✝✌✆✡✁☛☛☞✄ ☛☎✁☛✝✁✍✄✎ ✠✌✌✌✄ ✡✝ ✍✄✡✝☛✁✌☎ ✄☎☛✍✄ ✡✝ ✆✍✄✂✂✁✌☎ ✝✠✌☛✂☛✁✏☛✄ ☞✄ ✡✝
✂✌☛✍✠✄ S0

✴✡✥✄☎☛✍✡✄✵ ✄☛ ✡✄ ✂✁✞☎✝✡ ✘✌☛✍☎✁ ✆✝✍ ✡✄ ✌✁✠✍✌✆☞✌☎✄ Ŝ0
✴✡✝ ✂✌✍☛✁✄✵ ✄✂☛

Ŝ0 = G0 · S0 ✓ ✡✄ ✞✝✁☎

G0
✄✂☛ ☞✌☎☎✡ ✆✝✍ ✡✥✝✌✆✡✁☛☛☞✄ ☞☛ ✂✁✞☎✝✡ ✂✁☎☛✂✌✤☞✝✡ ☞✄ ✂✌✍☛✁✄ Ŝ0

✴✟✌✁✍ ★✁✞✎ ✫✎✷✴✝✵✵✎
✢✝ ✌✄✂☛✍✄ ☞✁✍✄✠☛✄ ☞✄ ✡✥✝✌✆✡✁☛☛☞✄ ☞☛ ✂✁✞☎✝✡ ☞✄ ✂✌✍☛✁✄ ☎✌☛✂ ☞✌☎☎✄ ✒

G0 = 1, 25.
✴✫✎✷✵

✠✄ ✞✝✁☎ ✄✂☛ ☛☛✁✡✁✂✡ ✄☎✂☛✁☛✄ ✆✌☛✍ ☎✌✍✌✝✡✁✂✄✍ ✡✝ ✂✌☛✍✠✄ ☞✄ ✧✍☛✁☛ S1
✴✆✝✍ ✌☛✡☛✁✆✡✁✠✝☛✁✌☎ ☞☛ ✂✁✞☎✝✡

Ŝ1
✆✝✍ H−1

M0
= G−1

0
✵✓ ✡☛✝✆✄ ☎✡✠✄✂✂✝✁✍✄ ✝✟✝☎☛ ☛☎✄ ✄✂☛✁✌✝☛✁✌☎ ✠✌✍✍✄✠☛✄ ☞✄ ✡✥✝✌✆✡✁☛☛☞✄ ☞☛ ✂✆✄✠☛✍✄

Φ̂S1

✙� ✴✟✌✁✍ ★✁✞✎ ✫✎✷✴✠✵✵✎
✰☎✷☎✓ ✡✄✂ ☞✄✍☎✁✔✍✄✂ ✡☛✝✆✄✂ ☞✄ ✠✝✡✁✧✍✝✞✄ ✴✟✌✁✍ ★✁✞✎ ✫✎✷✴✧✵ ✄☛ ✫✎✷✴✠✵✵ ✌☎☛ ✡☛✡ ✡✄ ✍✡✞✡✝✞✄ ☞☛ ✠✌☎☛✄☎☛

✘✍✡✏☛✄☎☛✁✄✡ ☞✄ ✡✝ ✂✌☛✍✠✄ ✂✌☎✌✍✄ S1
☛☛✁✡✁✂✡✄ ✠✌✌✌✄ ✂✁✞☎✝✡ ☞✥✄☎☛✍✡✄✓ ✡✝ ✟✡✍✁✷✠✝☛✁✌☎ ☞✄ ✂✝ ✂☛✝☛✁✌☎☎✝✍✁☛✡

✄☛ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✄ ✂✌☎ ✂✆✄✠☛✍✄ Φ̂S1

✎

✲ HM0
✲ CAN5kHz

S0 Ŝ0

✬✞✮ ✢✞✏☛✓✎✞✌☞ ✑✒ ✡☛✢✎✠✗✰✠✝☞ M0

✲ HM0
✲ CAN50kHz

S1 Ŝ1

✬✓✮ ✢✞✏☛✓✎✞✌☞ ✕✎✍❃✒☞✝✟☛☞✏ ✑☞ ✏✞ ✔✠✒✎✢☞ S1

♣ ♣ ♣

✲ HM0
✲ CAN5kHz

✲ H−1
M0

S1

Ŝ1

✲

✲

✸✟✝✡☛✝☛✁✌☎
✂☛✝☛✁✌☎☎✝✍✁☛✡ ✲

ǫt ✓ ǫf

✎✡✞✌✍✁☛☞✌✄

✖✗✎ ✁ ✌✌✒✄☎☎✄ ✲
Φ̂S1

✬✢✮ ✫✍✎☛✠✢✞✟☛✠✝ ✑☞ ✏✞ ✔✟✞✟☛✠✝✝✞✎☛✟✍ ✬✔✠✒✎✢☞ S1
✮ ☞✟ ☞✔✟☛✡✞✟☛✠✝ ✑✒ ✔✗☞✢✟✎☞ Φ̂S1

✁✂✄☎ ✫✎✷ ✄ ✩✎✠✟✠✢✠✏☞ ✑☞ ✡☞✔✒✎☞ ✖ ✍✟✞✗☞✔ ✑☞ ✢✞✏☛✓✎✞✌☞✘
✢✝ ✂✌☛✍✠✄ S1

✝ ✡☛✡ ✍✡✞✡✡✄ ✆✌☛✍ ✏☛✥✄✡✡✄ ✡✌✄☛☛✄ ☛☎ ✂✁✞☎✝✡ ✠✌☎☛✄☎✝☎☛ ☛✌☛☛✄✂ ✡✄✂ ✘✍✡✏☛✄☎✠✄✂ ✄☎☛✍✄
✲✬✬ ✄☛ ✲✬✬✬ ✭✳✎✓ ✂✁ ✆✌✂✂✁✧✡✄ ✝✟✄✠ ☞✄✂ ✆☛✁✂✂✝☎✠✄✂ ✆✍✌✠☞✄✂✎ ✗✡☛✂✁✄☛✍✂ ✌✄✂☛✍✄✂ ✌☎☛ ✡☛✡ ✄✆✄✠☛☛✡✄✂ ✒
✜✂✖☞✟✟☞ ✍✟✞✗☞ ✗☞✎✡☞✟ ✑❂✍✫✞✏✒☞✎✭ ✄ ✟☛✟✎☞ ☛✝✕✠✎✡✞✟☛✕✭ ✏❂☛✝✟☞✝✔☛✟✍ ✞✢✠✒✔✟☛❃✒☞ ✑☞ ✏✞ ✔✠✒✎✢☞ S1

✛ ✞✗✎❄✔ ✏☞ ✢✞✏✢✒✏ ✑☞✏❂☞✝✫☞✏✠✗✗☞ ✗✞✎ ✒✝☞ ✟✎✞✝✔✕✠✎✡✍☞ ✑☞ ✯☛✏✓☞✎✟ ☞✟ ☞✝ ✢✠✝✔☛✑✍✎✞✝✟ ✏✞ ✡✠✠☞✝✝☞ ✑☞ ✢☞✟✟☞ ☞✝✫☞✏✠✗✗☞ ✢✠✡✡☞ ✏❂✞✡✗✏☛✟✒✑☞✑☞ ✏❂✠✝✑☞ ✑☞ ✗✎☞✔✔☛✠✝ ✞✢✠✒✔✟☛❃✒☞✭ ✏❂☛✝✟☞✝✔☛✟✍ ✢✞✏✢✒✏✍☞ ✄ ✏❂✞☛✑☞ ✑☞ ✏❂✍❃✒✞✟☛✠✝ ✬✞✘✡✮ ☞✔✟ IS1

✤✳✡ ✑✥✘

✭✭



�✁✁☎✠✟☛☎ �✏ ✂✄✝✂✠✝✠✟✠✂✁ ✆☎✝ ✝✂✁✝ � ✝✠✁✁✁✄ ☎✟ ✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

✄ ☛☎✄ ✌✄✂☛✍✄ ✤ ☛☎✄ ✘✍✡✏☛✄☎✠✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ☞✄ ✠✝✡✁✧✍✝✞✄ ☞✄ ✶✬ ✥✭✳✎✓✆✌☛✍ ✄✂☛✁✌✄✍ ✡✥✡☎✄✍✞✁✄
✡✌✁✂✄ ✆✝✍ ✡✝ ✂✌☛✍✠✄ ✝☛✛☞✄✡✤ ☞✄ ✫✶✬✬ ✭✳✎ ✠✄☛☛✄ ✄✂☛✁✌✝☛✁✌☎ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ✆✌☛✍ ✂✥✝✂✂☛✍✄✍
✏☛✄ ✡✝ ✘✍✡✏☛✄☎✠✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ✠☞✌✁✂✁✄ ✆✌☛✍ ✡✥✁☞✄☎☛✁✷✠✝☛✁✌☎ ☞☛ ✂✒✂☛✔✌✄ ✴✶✬✬✬ ✭✳✎✵ ✄✂☛
✂☛☎✂✝☎☛✄✓ ✟☛ ✏☛✥✝☛✠☛☎ ✷✡☛✍✄ ✝☎☛✁✛✍✄✆✡✁✄✌✄☎☛ ☎✥✝ ✡☛✡ ☛☛✁✡✁✂✡ ✆✌☛✍ ✡✄ ✂✁✞☎✝✡ Ŝ1

✘✌☛✍☎✁ ✆✝✍ M0☞☛✍✝☎☛ ✡✄✂ ✌✄✂☛✍✄✂ ☞✥✁☞✄☎☛✁✷✠✝☛✁✌☎ ✝
✄ ✆✡☛✂✁✄☛✍✂ ✌✄✂☛✍✄✂ ☞✡✠✝✡✡✄✂ ☞✝☎✂ ✡✄ ☛✄✌✆✂✓ ✆✌☛✍ ✂✥✝✂✂☛✍✄✍ ☞✄ ✡✝ ✂☛✝☛✁✌☎☎✝✍✁☛✡ ☞✄ ✡✝ ✂✌☛✍✠✄✎
✑✌☛✂ ✝✟✌☎✂ ✄✂☛✁✌✡ ✡✄✂ ✂✆✄✠☛✍✄✂ ☞✄✂ ✂✁✞☎✝☛✯ ✆✝✍ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✱✡✝✠✥✌✝☎✛✶☛✥✄✒ ✴✡✏✎ ✴✫✎✮✵✵✓

✝✆✍✔✂ ✝✟✌✁✍ ☎✌✍✌✝✡✁✂✡ ✄☎ ✆☛✁✂✂✝☎✠✄ ✡✝ ✂✌☛✍✠✄ S1
✆✝✍ ☞✁✟✁✂✁✌☎ ☞☛ ✂✁✞☎✝✡ ✍✄✠☛✄✁✡✡✁ ✆✝✍ G0

✴✡✏ ✴✫✎✷✵✵✎
✢✄ ✂✆✄✠☛✍✄ ☞✄ ✡✝ ✂✌☛✍✠✄✓ ☛☛✁✡✁✂✝☎☛ ✡✝ ✘✍✡✏☛✄☎✠✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ☞✄ ✠✝✡✁✧✍✝✞✄ ✒

fec = 50
✥✭✳✎✓ ✄✂☛

✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✫✎✰✎ �✫✌✄ ✂✥✁✡ ✄✂☛ ✡✟✁☞✄☎☛ ✏☛✄ ✡✝ ✂✌☛✍✠✄ ☎✥✄✂☛ ✆✝✂ ✧✡✝☎✠☞✄✓ ☛✌☛☛✄✂ ✡✄✂ ✘✍✡✏☛✄☎✠✄✂
☞✥✁☎☛✡✍✫☛ ✂✌☎☛ ✆✍✡✂✄☎☛✄✂ ✴✟✌✁✍ ☛✝✧✡✄✝☛ ✫✎✲✵✎ ✢✥✡☎✄✍✞✁✄ ☞☛ ✂✁✞☎✝✡ ✂✁☛☛✡✄ ☞✝☎✂ ✡✄✂ ☞✝☛☛✄✂ ✘✍✡✏☛✄☎✠✄✂
✴� ✫✶✬✬ ✭✳✎✵ ✄✂☛ ☛✍✔✂ ✘✝✁✧✡✄ ✴✁ ✬✓✲✁ ☞✄ ✡✥✡☎✄✍✞✁✄ ☛✌☛✝✡✄✵✓ ☞✌☎✠ ☛☎✄ ✘✍✡✏☛✄☎✠✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ✤
✶✬✬✬ ✭✳✎ ✄✂☛ ✂☛☎✂✝☎☛✄✎

100  1000 2500 25000
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A
m

pl
itu

de

✁✂✄☎ ✫✎✰ ✄ ★☞ ✔✗☞✢✟✎☞ ✑☞ ✏✞ ✔✠✒✎✢☞ ✑☞ ✓✎✒☛✟ ✒✟☛✏☛✔✍☞ ✬
S1

✮ ✬✍✢✰☞✏✏☞ ✏✠✌✞✎☛✟✰✡☛❃✒☞ ✗✠✒✎ ✏☞✔ ✕✎✍❃✒☞✝✢☞✔✮✘ ★✞ ✕✎✍❃✒☞✝✢☞✑❂✍✢✰✞✝✟☛✏✏✠✝✝✞✌☞ ✢✰✠☛✔☛☞ ✗✠✒✎ ✏☞ ✢✞✏☛✓✎✞✌☞ ☞✔✟ ✑☞ ☛✂ �✯✞✘✭ ☞✟ ✏✞ ✔✠✒✎✢☞ ☞✔✟ ✎✍✌✏✍☞ ✗✠✒✎ ✪✟✎☞ ✎☞✏✞✟☛✫☞✡☞✝✟ ☎✓✏✞✝✢✰☞✆☞✝✟✎☞ ✱✂✂ ☞✟ ✱✂✂✂ ✯✞✘

★✍✡✏☛✄☎✠✄ ✴✭✳✎✵
✁ ✶✬ ✶✬ ✄ ✲✬✬ ✲✬✬ ✄ ✶✬✬ ✶✬✬ ✄ ✲✬✬✬ ✲✬✬✬ ✄ ✫✶✬✬ � ✫✶✬✬
✬✓✮✁ ✫✓✲✁ ✷✪✓✰✁ ✲✬✓✮✁ ✬✓✬✪✁ ✬✓✬✪✁

✂✄☎☎ ✫✎✲ ✄ ✟✍✗✞✎✟☛✟☛✠✝ ✍✝☞✎✌✍✟☛❃✒☞ ✑☞ ✏✞ ✔✠✒✎✢☞ ✑☞ ✟☞✔✟
S1

✗✞✎ ✓✞✝✑☞ ✕✎✍❃✒☞✝✟☛☞✏✏☞✘ ★☞✔ ✫✞✏☞✒✎✔ ✑✠☛✫☞✝✟ ✪✟✎☞☛✝✟☞✎✗✎✍✟✍☞✔ ✢✠✡✡☞ ✑☞✔ ✠✎✑✎☞✔ ✑☞ ✌✎✞✝✑☞✒✎✭ ✢✞✎ ✏❂☞✔✟☛✡✞✟☛✠✝ ✑✒ ✔✗☞✢✟✎☞ ✬✞✏✌✠✎☛✟✰✡☞ ✂✩✆✮ ✑✍✗☞✝✑ ✑☞ ✏✞ ✎✍✔✠✏✒✟☛✠✝✕✎✍❃✒☞✝✟☛☞✏✏☞ ✢✰✠☛✔☛☞✘

✗✌☛✍ ✂✥✝✂✂☛✍✄✍ ☞✄ ✡✝ ✂☛✝☛✁✌☎☎✝✍✁☛✡ ☞✄ ✡✝ ✂✌☛✍✠✄✓ ✂✄✂ ✆✝✍✝✌✔☛✍✄✂ ✂☛✝☛✁✂☛✁✏☛✄✂ ✴✡✠✝✍☛✛☛✒✆✄ ✄☛
✌✌✒✄☎☎✄✙�✵✓ ✝✁☎✂✁ ✏☛✄ ✡✄✂ ✂✆✄✠☛✍✄✂ ☞✄ ✆☛✁✂✂✝☎✠✄ ✴✡✏✎ ✴✫✎✮✵✵✓ ✌☎☛ ✡☛✡ ✄✂☛✁✌✡✂ ✆✌☛✍ ✆✡☛✂✁✄☛✍✂ ✌✄✂☛✍✄✂✎
✢✥✡✠✝✍☛ ☞✄ ✡✝ ✂☛✝☛✁✌☎☎✝✍✁☛✡ ✂☛✝☛✁✂☛✁✏☛✄ ✄✂☛ ✏☛✝☎☛✁✷✡ ✆✝✍ ☞✄☛✯ ✁☎☞✁✠✝☛✄☛✍✂ ✏☛✄ ☎✌☛✂ ☞✡✷☎✁✂✂✌☎✂ ✆✝✍
✡✝ ✂☛✁☛✄ ✒

✄ �✎✎✚✒✎ ✑✚ ✜✍✘✍✔✏✌✌✘✎✔✍✧ ✍✚✣✙✏✎✚✦✦✚
ǫt

✥ ✑✌☛✂ ✝✟✌☎✂ ✄✂☛✁✌✡ ✡✄✂ ✡✠✝✍☛✂✛☛✒✆✄ σ̂S1,i
✆✌☛✍

i = 1 . . . 26
✂✁✞☎✝☛✯ ✴✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ☞✄ ✡✝ ✂✌☛✍✠✄✵ ✄☛ ✠✝✡✠☛✡✡ ☛☎ ✡✠✝✍☛✛☛✒✆✄ ✌✌✒✄☎ σ̂S1,m

✎

✜✆★✞ ✡✠✠☞✝✝☞ ☞✔✟ ✟✠✒✄✠✒✎✔ ✝✒✏✏☞ ✗✞✎ ✏✞ ✝✞✟✒✎☞ ✡✪✡☞ ✑✒ ✔☛✌✝✞✏ ✔✠✝✠✎☞ ☞✟ ✑☞ ✏❂☛✝✔✟✎✒✡☞✝✟✞✟☛✠✝✘

✭✮



�✏�✏ ✁✟✂✆☎ ✆☎ ✄✁ ☛✆☎✂✁✝☎ ✞☛✆✝✂☎✁✟✠☎✄✄☎
✑✌☛✂ ✝✟✌☎✂ ☞✡✷☎✁ ✡✥✄✍✍✄☛✍ ✍✄✡✝☛✁✟✄ ✠✌✌✌✄ ✡✝ ✟✝✡✄☛✍ ✝✧✂✌✡☛✄ ☞✄ ✡✝ ☞✁✆✡✍✄☎✠✄ ☎✌✍✌✝✡✁✂✡✄ ✄☎☛✍✄
✡✥✡✠✝✍☛✛☛✒✆✄ ✄✂☛✁✌✡ ☞☛ ✂✁✞☎✝✡ i

✄☛ ✡✥✡✠✝✍☛✛☛✒✆✄ ✌✌✒✄☎ ✒

ǫt,i =

∣

∣

∣

∣

σ̂S1,i − σ̂S1,m

σ̂S1,m

∣

∣

∣

∣

.

✢✝ ✟✝✡✄☛✍ ✌✝✯✁✌✝✡✄ ☞✄ ✡✥✄✍✍✄☛✍ ☞✄ ✂☛✝☛✁✌☎☎✝✍✁☛✡ ☛✄✌✆✌✍✄✡✡✄ ✄✂☛ ✒

max
i

(ǫt,i) = 0, 03 (3%),

✄☛ ✂✝ ✌✌✒✄☎☎✄ ✄✂☛ ✒

ǫ̂t =
1

26

26
∑

i=1

ǫt,i = 0, 013 (1, 3%);

✄ �✎✎✚✒✎ ✑✚ ✜✍✘✍✔✏✌✌✘✎✔✍✧ �✎✧★✒✚✌✍✔✚✦✦✚
ǫf

✥ ✢✝ ✌✫✌✄ ✆✍✌✠✡☞☛✍✄ ✝ ✡☛✡ ✝✆✆✡✁✏☛✡✄ ✆✌☛✍
✟✡✍✁✷✄✍ ✡✝ ✂☛✝☛✁✌☎☎✝✍✁☛✡ ☞✄✂ ✂✆✄✠☛✍✄✂ ✄✂☛✁✌✡✂

Φ̂S1,i(ω)✓ ✆✌☛✍ ✡✝ ✆✡✝✞✄ ☞✄ ✘✍✡✏☛✄☎✠✄✂ ✠✌✌✆✍✁✂✄
✄☎☛✍✄ ✷✬ ✄☛ ✲✬✬✬ ✭✳✎ ✠✄✆✄☎☞✝☎☛✓ ✡☛✝☎☛ ☞✌☎☎✡ ✏☛✥✁✡ ✂✥✝✞✁☛ ☞✄ ✟✄✠☛✄☛✍✂ ☞✄ ☞✁✌✄☎✂✁✌☎ N

✄☛ ☎✌☎
✆✝✂ ☞✄ ✟✝✡✄☛✍✂ ✂✠✝✡✝✁✍✄✂ ✠✌✌✌✄ ✆✌☛✍ ✡✄✂ ✡✠✝✍☛✂✛☛✒✆✄✂✓ ☎✌☛✂ ✝✟✌☎✂ ☞✡✷☎✁ ✡✄ ✂✆✄✠☛✍✄ ✌✌✒✄☎
Φ̂S1,m(ω) ✆✝✍ ✒

Φ̂S1,m(ω) =
1

26

26
∑

i=1

Φ̂S1,i(ω),
✴✫✎✰✵

✄☛ ✡✥✄✍✍✄☛✍ ✍✄✡✝☛✁✟✄ ☞☛ ✂✆✄✠☛✍✄ ☞☛ ✂✁✞☎✝✡ i ✆✝✍
✒

εΦ,i(ω) =

∣

∣

∣

∣

∣

Φ̂S1,i(ω) − Φ̂S1,m(ω)

Φ̂S1,m(ω)

∣

∣

∣

∣

∣

.
✴✫✎✲✬✵

✢✥✄✍✍✄☛✍ ☞✄ ✂☛✝☛✁✌☎☎✝✍✁☛✡ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✂✄✍✝ ☞✡✷☎✁✄ ✠✌✌✌✄ ✒

ǫf,i =
1

N

N
∑

ω

εΦ,i(ω),
✴✫✎✲✲✵

✝✟✄✠ Φ̂S1,m(ω)
✡✄ ✂✆✄✠☛✍✄ ✌✌✒✄☎ ☞✄ ✡✝ ✂✌☛✍✠✄ S1

✎ ✢✝ ✟✝✡✄☛✍ ✌✝✯✁✌✝✡✄ ☞✄ ✡✥✄✍✍✄☛✍ ☞✄ ✂☛✝☛✁✌☎✛
☎✝✍✁☛✡ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✄✂☛ ✒

max
i

(ǫf,i) = 0, 102 (10, 2%),

✄☛ ✂✝ ✌✌✒✄☎☎✄ ✄✂☛ ✒

ǫ̂f =
1

26

26
∑

i=1

ǫf,i = 0, 062 (6, 2%);

✢✥✄✍✍✄☛✍ ✂✄✌✧✡✄ ✆✡☛✂ ✁✌✆✌✍☛✝☎☛✄ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ✘✍✡✏☛✄☎☛✁✄✡✓ ✌✝✁✂ ✡✥✄✂✂✄☎☛✁✄✡ ☞✄ ✡✝ ☞✁✆✡✍✄☎✠✄
✄✂☛ ☞✁ ✝☛✯ ✘✍✡✏☛✄☎✠✄✂ ✂☛✆✡✍✁✄☛✍✄✂ ✤ ✶✬✬ ✭✳✎✓ ✌✟ ✡✝ ✆☛✁✂✂✝☎✠✄ ☞✄ ✡✝ ✂✌☛✍✠✄ ✄✂☛ ✍✄✡✝☛✁✟✄✌✄☎☛
✘✝✁✧✡✄✓ ✡✄✂ ✄✂☛✁✌✝☛✁✌☎✂ ✌✌✁☎✂ ✷✝✧✡✄✂ ✄☛ ☞✌☎✠ ✡✄ ✍✁✂✏☛✄ ☞✥✄✍✍✄☛✍ ✍✄✡✝☛✁✟✄ ✆✡☛✂ ✞✍✝☎☞ ✴✟✌✁✍
★✁✞✎ ✫✎✲✬✵✎ ✪✍✝✆☞✁✏☛✄✌✄☎☛✓ ✡✄✂ ✫✪ ✄✂☛✁✌✝☛✁✌☎✂ ☞✄✂ ✂✆✄✠☛✍✄✂ Φ̂S1,i(ω)

✂✌☎☛ ✆✍✝☛✁✏☛✄✌✄☎☛

✂☛✆✄✍✆✌✂✡✄✂ ✄☛ ✂✄ ✠✌☎✘✌☎☞✄☎☛ ✝✟✄✠ ✡✄ ✂✆✄✠☛✍✄ ✌✌✒✄☎ Φ̂S1,m(ω)✎
✢✥✝✡✡☛✍✄ ☞✄ ✠✄ ✂✆✄✠☛✍✄ ✌✌✒✄☎

✄✂☛ ✆✍✡✂✄☎☛✡✄✓ ✄☎ ✆✌✁☎☛✁✡✡✡✓ ☞✝☎✂ ✡✝ ✷✞☛✍✄ ✫✎✲✬✎ ✢✄ ✂✆✄✠☛✍✄ ✌✌✒✄☎ Φ̂S1,m(ω)
✂✄✍✝ ☛☛✁✡✁✂✡

✄☎✂☛✁☛✄ ✠✌✌✌✄ ✡✄ ✂✆✄✠☛✍✄ ☞☛ ✂✁✞☎✝✡ ☞✥✄☎☛✍✡✄ Φ̂N
x (ω) ✆✌☛✍ ✄✂☛✁✌✄✍ ✡✄ ✌✌☞☛✡✄ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎

☞✄ ☛✍✝☎✂✘✄✍☛ ✴✡✏✎ ✴✫✎✶✵✵✎
✢✄✂ ✍✡✂☛✡☛✝☛✂ ✆✍✡✂✄☎☛✡✂ ✌✌☎☛✍✄☎☛ ✏☛✄ ✠✄☛☛✄ ✂✌☛✍✠✄ ✄✂☛ ✝✆✆✍✌✆✍✁✡✄ ✄☛ ☛☛✁✡✁✂✝✧✡✄ ✆✌☛✍ ✡✄✂ ✡☛✝✆✄✂

✂☛✁✟✝☎☛✄✂ ☞✄ ✡✥✁☞✄☎☛✁✷✠✝☛✁✌☎✎

✭✶



�✁✁☎✠✟☛☎ �✏ ✂✄✝✂✠✝✠✟✠✂✁ ✆☎✝ ✝✂✁✝ � ✝✠✁✁✁✄ ☎✟ ✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

100 500 1000
 0%

 5%

10%

15%

20%

25%

Fréquence (Hz.)

ε Φ
(ω

)

spectre            
erreur relative (%)

✁✂✄☎ ✫✎✲✬ ✄ ✆✞✎☛✞✟☛✠✝ ✑☞ ✏❂☞✎✎☞✒✎ ✑☞ ✔✟✞✟☛✠✝✝✞✎☛✟✍ ✕✎✍❃✒☞✝✟☛☞✏✏☞ ǫΦ(ω)
✘ ★❂☞✎✎☞✒✎ ☞✔✟ ✔✒✗☞✎✗✠✔✍☞ ✞✒ ✔✗☞✢✟✎☞ ☞✔✟☛✡✍

✡✠✠☞✝ Φ̂S1,m(ω)
✑☞ ✏✞ ✔✠✒✎✢☞ S1

✘ ★✞ ✕✎✍❃✒☞✝✢☞ ✑❂✍✢✰✞✝✟☛✏✏✠✝✝✞✌☞ ✢✰✠☛✔☛☞ ✗✠✒✎ ✏☞✔ ✡☞✔✒✎☞✔ ☞✔✟ ✑☞ ☛✂✂✂ ✯✞✘

✌✧✎✏✒✦✚✣✚✌✍ ✑✒ ✙✎✏✍✏✓✏✦✚
✄✏✌✓✍✔✏✌✜ ✑✚ ✍✎✘✌✜�✚✎✍✥ ✑✌☛✂ ✝✟✌☎✂ ✄✂☛✁✌✡ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛ H ☞☛ ✂✒✂☛✔✌✄ ✴★✁✞✎ ✫✎✯✵
✄☎ ☛☛✁✡✁✂✝☎☛ ✡✥✡✏☛✝☛✁✌☎ ✴✫✎✶✵✎ ✠✄✆✄☎☞✝☎☛✓ ✡✄ ✠✌☎☞✁☛✁✌☎☎✄☛✍ ✴✟✌✁✍ ★✁✞✎ ✫✎✪✵ ✄✂☛ ☛☎ ✡✡✡✌✄☎☛ ✷✯✄ ☞✄
☎✌☛✍✄ ✠☞✝✣☎✄ ☞✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎✎ ✗✌☛✍ ✂✁✌✆✡✁✷✄✍ ✡✝ ☎✌☛✝☛✁✌☎✓ ☎✌☛✂ ✡✄ ✠✌☎✂✁☞✡✍✌☎✂ ✠✌✌✌✄ ✆✝✍☛✁✄
✁☎☛✡✞✍✝☎☛✄ ☞✄✂ ✡✡✡✌✄☎☛✂ ✆✍✡✠✡☞✄☎☛✂ ✴☛✫☛✄ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ✄☛✍✌☛ ✌✁✠✍✌✆☞✌☎✄✵✎ ✎✁☎✂✁✓ ☎✌☛✂ ✝✡✡✌☎✂

☎✌☛✄✍ ✆✝✍ ✡✝ ✂☛✁☛✄ HMA = HM · HA ✓ ✌✟
HM

✄☛
HA

☞✡✂✁✞☎✄☎☛ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ☛✍✝☎✂✘✄✍☛ ☞☛
✌✁✠✍✌✆☞✌☎✄ ✄☛ ☞☛ ✠✌☎☞✁☛✁✌☎☎✄☛✍ ✴✟✌✁✍ ★✁✞✎ ✫✎✯✵✎

✮☎ ✠✌✌✆✌✂✝☎☛ ✄✂✂✄☎☛✁✄✡ ☞✄ ☎✌☛✍✄ ✠✝✆☛✄☛✍ ✄✂☛ ✡✄ ✌✁✠✍✌✆☞✌☎✄M ✝☛☛✝✠☞✡ ✤ ✡✝ ☛✫☛✄ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄✎
✗✌☛✍ ✂✥✝✂✂☛✍✄✍ ✏☛✄ ✂✝ ✧✝☎☞✄ ✆✝✂✂✝☎☛✄ ✄✂☛ ✠✌✌✆✝☛✁✧✡✄ ✝✟✄✠ ✡✄✂ ✂✁✞☎✝☛✯ ☞✥✁☎☛✡✍✫☛✓ ☎✌☛✂ ✝✟✌☎✂ ✄✂☛✁✌✡
✡✄ ✂✆✄✠☛✍✄ ☞☛ ✂✁✞☎✝✡ ✘✌☛✍☎✁ ✴✝✆✍✔✂ ✠✌☎☞✁☛✁✌☎☎✄☛✍✵ YMA

✄☛ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛ HMA
✴✟✌✁✍ ★✁✞✎✫✎✲✲✴✝✵✵✓ ✠✌☎✘✌✍✌✡✌✄☎☛ ✤ ✡✥✡✏☛✝☛✁✌☎ ✴✫✎✶✵✎

✲ HMA
✲ CAN5kHz

S1 YMA
✲

❄

Φ̂S1

✎✡✞✌✍✁☛☞✌✄

✖✗✎ ✲
ĤMA

✬✞✮ ☞✔✟☛✡✞✟☛✠✝ ✑☞ ✏✞ ✕✠✝✢✟☛✠✝ ✑☞ ✟✎✞✝✔✕☞✎✟ HMA

✲ H1,2 ✲ CAN5kHz

S1 Y1,2
✲

❄

Φ̂S1

✎✡✞✌✍✁☛☞✌✄

✖✗✎ ✲
Ĥ1,2

✬✓✮ ☞✔✟☛✡✞✟☛✠✝ ✑☞✔ ✕✠✝✢✟☛✠✝✔ ✑☞ ✟✎✞✝✔✕☞✎✟ Ĥ1,2

✁✂✄☎ ✫✎✲✲ ✄ ✩✎✠✟✠✢✠✏☞ ✑☞ ✡☞✔✒✎☞ ✖ ✍✟✞✗☞✔ ✑❂☞✔✟☛✡✞✟☛✠✝ ✑☞✔ ✕✠✝✢✟☛✠✝✔ ✑☞ ✟✎✞✝✔✕☞✎✟✘

✰☎✂☛✁☛✄✓ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛ ☞☛ ✂✒✂☛✔✌✄
H ✝ ✡☛✡ ✄✂☛✁✌✡✄ ✆✌☛✍ ☞✄☛✯ ☛✒✆✄✂ ☞✄ ☛✫☛✄✂ ☞✄

✂☛✡☛☞✌✂✠✌✆✄ ✒
✄ ✡✄ ✂☛✡☛☞✌✂✠✌✆✄ ✠✌✡✂✌☎ ✱✂✭✬✬✲✓ ☎✌☛✡ ✆✝✍ ✡✝ ✂☛✁☛✄ C1

✝

✭✪



�✏�✏ ✁✟✂✆☎ ✆☎ ✄✁ ☛✆☎✂✁✝☎ ✞☛✆✝✂☎✁✟✠☎✄✄☎
✄ ✡✄ ✂☛✡☛☞✌✂✠✌✆✄ ✢✁☛☛✌✝☎☎✄✭� ✠✡✝✂✂✁✠ II ✖✎✰✎✓ ☎✌☛✡ C2

✎
✢✄✂ ☞✄☛✯ ✘✌☎✠☛✁✌☎✂ ☞✄ ☛✍✝☎✂✘✄✍☛✓ ✄✂☛✁✌✡✄✂ ✂✄✡✌☎ ✴✫✎✶✵✓ ✂✌☎☛ ☎✌☛✡✄✂ ✆✝✍ ✡✝ ✂☛✁☛✄ H1 = HC1 ·HMA✄☛
H2 = HC2 ·HMA

✴✟✌✁✍ ★✁✞✎ ✫✎✲✲✴✧✵✵✎

☞✌�✒✚✌✓✚ ✑✚ ✦✘ ✙✎✚✜✜✔✏✌✥ ✰☎✷☎✓ ✆✌☛✍ ✡✟✝✡☛✄✍ ✡✥✁☎☞☛✄☎✠✄ ☞✄ ✡✝ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁ ✂☛✍ ✡✝ ✆✄✝☛✓
☎✌☛✂ ✝✟✌☎✂ ✄☎✍✄✞✁✂☛✍✡ ✡✄✂ ✂✁✞☎✝☛✯ ☞✄ ✂✌✍☛✁✄ ✄☛ ✄✂☛✁✌✡ ✡✄✂ ✂✆✄✠☛✍✄✂ ✄☛ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ☛✍✝☎✂✘✄✍☛ H(p)

1✄☛
H

(p)
2
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✁✂✄☎ ✫✎✲✶ ✄ ✟✍✗✠✝✔☞ ✕✎✍❃✒☞✝✟☛☞✏✏☞ ✑☞✔ ✔✠✔✟❄✡☞✔
☛✑☞✝✟☛✠✍✔ ✬✔✟✍✟✰✠✔✢✠✗☞ ✖✠✏✔✠✝ = H1

✭ ✔✟✍✟✰✠✔✢✠✗☞
★☛✟✟✡✞✝✝ = H2

✮✘

☞✌�✒✚✌✓✚ ✑✚ ✦✘ ✙✎✚✜✜✔✏✌
✙☛✍✝☎☛ ✡✝ ✂✄✠✌☎☞✄ ✡☛✝✆✄ ☞✥✁☞✄☎☛✁✷✠✝☛✁✌☎✓ ☎✌☛✂ ✁☎☛✍✌☞☛✁✂✌☎✂ ☛☎ ✆✝✍✝✌✔☛✍✄ ✂☛✆✆✡✡✌✄☎☛✝✁✍✄ ✒ ✡✝

✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁ ✂☛✍ ✡✝ ✆✄✝☛ ☞✄✂ ☛✫☛✄✂ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄✂✎ ✠✄☛☛✄ ✆✍✄✂✂✁✌☎ ✄✂☛ ✂☛✂✠✄✆☛✁✧✡✄ ☞✄ ✌✌☞✁✷✄✍
✡✝ ✠✌☛✍✧☛✍✄ ☞✄✂ ✌✄✌✧✍✝☎✄✂ ✄☛ ☞✌☎✠ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✌✡✠✝☎✌✛✝✠✌☛✂☛✁✏☛✄✂ ☞✄✂ ✠✝✟✁☛✡✂ ☞✄✂ ☛✫☛✄✂
☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ✄☛ ✡✄☛✍✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ☛✍✝☎✂✘✄✍☛ HC

✎
✎ ✡✥✝✁☞✄ ☞☛ ☞✁✂✆✌✂✁☛✁✘ ✌✡✠✝☎✁✏☛✄ ✆✍✡✂✄☎☛✡ ☞✝☎✂ ✡✝ ✷✞☛✍✄ ✫✎✲✫✓ ✏☛✁ ✁☎☛✍✌☞☛✁☛ ✂✝ ✆✍✌✆✍✄ ✘✌☎✠☛✁✌☎

☞✄ ☛✍✝☎✂✘✄✍☛ ☞✝☎✂ ✡✝ ✠☞✝✣☎✄ ☞✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎✓ ☎✌☛✂ ✝✟✌☎✂ ✘✝✁☛ ✟✝✍✁✄✍ ✡✝ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁ ✄☎☛✍✄
✲✬✬ ✄☛ ✮✬✬ ✞✍✝✌✌✄✂✓ ✝✟✄✠ ☛☎ ✆✝✂ ☞✄ ✶✬ ✞✍✝✌✌✄✂✎ ✑✌☛✂ ✝✟✌☎✂ ☞✌☎✠ ✄✂☛✁✌✡ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄
☛✍✝☎✂✘✄✍☛ ✌✌☞✁✷✡✄✂ ✆✌☛✍ ✡✄✂

pi
✆✍✄✂✂✁✌☎✂ ☞✥✝✆✆☛✁ ✴

i = 1 . . . 7✵✎ ✢✄✂ ✄✂☛✁✌✝☛✁✌☎✂ ✂☛✆✄✍✆✌✂✡✄✂ ☞✄✂

✭✷



�✏�✏ ✁✟✂✆☎ ✆☎ ✄✁ ☛✆☎✂✁✝☎ ✞☛✆✝✂☎✁✟✠☎✄✄☎
✞✝✁☎✂ ☞✄✂ ☞✁✆✡✍✄☎☛✄✂ ✍✡✆✌☎✂✄✂ ✘✍✡✏☛✄☎☛✁✄✡✡✄✂ ☞✄✂ ✂✒✂☛✔✌✄✂ ✡☛☛☞✁✡✂✙✁ Ĥ(pi)

1

✄☛
Ĥ

(pi)
2

✂✌☎☛ ✆✍✡✂✄☎☛✡✄✂
✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✂☛✍ ✡✄✂ ✷✞☛✍✄✂ ✫✎✲✪ ✄☛ ✫✎✲✯✎✎☎ ✌✧✂✄✍✟✄ ✏☛✄✓✆✌☛✍ ✠☞✝✠☛☎ ☞✄✂ ✠✝✆☛✄☛✍✂✓ ✡✄✂ ✘✌☎✠☛✁✌☎✂
☞✄ ☛✍✝☎✂✘✄✍☛ ✌☎☛ ✡✝ ✌✫✌✄ ✝✡✡☛✍✄ ✄☛ ✏☛✄ ✡✝ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁ ☎✄ ✂✄✌✧✡✄ ✆✝✂ ✁☎☞☛✄☎✠✄✍ ☞✥☛☎✄ ✌✝☎✁✔✍✄
✂✁✞☎✁✷✠✝☛✁✟✄ ✡✥✝✠✏☛✁✂✁☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯✎
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✁✂✄☎ ✫✎✲✪ ✄ ✂✒✗☞✎✗✠✔☛✟☛✠✝ ✑☞✔ ✎✍✗✠✝✔☞✔ ✕✎✍❃✒☞✝✝✟☛☞✏✏☞✔ ✑✒ ✔✠✔✟❄✡☞ ✍❃✒☛✗✍ ✑✒ ✢✞✗✟☞✒✎ C1
✬✖✠✏✔✠✝✮✭☞✔✟☛✡✍☞✔ ✗✠✒✎ ✑☛✔✍✎☞✝✟☞✔ ✗✎☞✔✔☛✠✝✔ ✑❂✞✗✗✒☛✘
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✁✂✄☎ ✫✎✲✯ ✄ ✂✒✗☞✎✗✠✔☛✟☛✠✝ ✑☞✔ ✎✍✗✠✝✔☞✔ ✕✎✍❃✒☞✝✝✟☛☞✏✏☞✔ ✑✒ ✔✠✔✟❄✡☞ ✍❃✒☛✗✍ ✑✒ ✢✞✗✟☞✒✎ C2
✬★☛✟✟✡✞✝✝✮✭☞✔✟☛✡✍☞✔ ✗✠✒✎ ✑☛✔✍✎☞✝✟☞✔ ✗✎☞✔✔☛✠✝✔ ✑❂✞✗✗✒☛✘

✗✌☛✍ ✏☛✝☎☛✁✷✄✍ ✡✥✁☎☞☛✄☎✠✄ ☞✄ ✠✄☛☛✄ ✆✍✄✂✂✁✌☎✓ ☎✌☛✂ ✝✟✌☎✂ ✍✄✠✌☛✍✂ ✤ ☛☎ ✁☎☞✁✠✝☛✄☛✍ ✂✁✌✁✡✝✁✍✄ ✤
✡✥✄✍✍✄☛✍ ☞✄ ✂☛✝☛✁✌☎☎✝✍✁☛✡ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✁☎☛✍✌☞☛✁☛✄ ✆✍✡✠✡☞✄✌✌✄☎☛ ✴✡✏✎ ✴✫✎✲✲✵✵✎ ✎✁☎✂✁✓ ✆✌☛✍ ✡✄ ✠✝✆☛✄☛✍
C1

✴✠✌✡✂✌☎✵ ✄☛ ✆✌☛✍ ☛☎✄ ✆✡✝✞✄ ✘✍✡✏☛✄☎☛✁✄✡✡✄ f = 80 . . . 1000 ✭✳✎ ✴✄☛ ✆✌☛✍ ✡✝ ✆☛✡✂✝☛✁✌☎ ω ☞✁✂✠✍✡☛✁✂✡✄
✠✌✍✍✄✂✆✌☎☞✝☎☛✄✵✓ ☎✌☛✂ ☞✡✷☎✁✂✂✌☎✂ ✡✝ ✍✡✆✌☎✂✄ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✌✌✒✄☎☎✄ Ĥm

1 (ω) ✆✝✍ ✒

Ĥm
1 (ω) =

1

7

7
∑

i=1

Ĥ
(pi)
1 (ω),

✴✫✎✲✫✵

✄☛ ✡✥✡✠✝✍☛ ✍✄✡✝☛✁✘ ☞✥☛☎✄ ✄✂☛✁✌✝☛✁✌☎ Ĥ(pi)
1 (ω) ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✠✄☛☛✄ ✌✌✒✄☎☎✄ ✆✝✍ ✒

εH1,pi
(ω) =

∣

∣

∣

∣

∣

Ĥ
(pi)
1 (ω) − Ĥm

1 (ω)

Ĥm
1 (ω)

∣

∣

∣

∣

∣

.
✴✫✎✲✭✵

✠✌✌✌✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✥✄✂☛✁✌✝☛✁✌☎ ☞✄✂ ✂✆✄✠☛✍✄✂ ✴✖✗✎✵ ✠✝✡✠☛✡✄ ✡✄✂ ✟✝✡✄☛✍✂ ☞✄ ✠✄✂ ✂✆✄✠☛✍✄✂ ✆✌☛✍
☞✄✂ ✘✍✡✏☛✄☎✠✄✂ ☞✁✂✠✍✔☛✄✂ fj ✓ j = 1 . . . N

✴✄☛ ✡✄✂
ωj

✠✌✍✍✄✂✆✌☎☞✝☎☛✂✵ ✄☛ ✏☛✄ ☞✌☎✠ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄
☛✍✝☎✂✘✄✍☛ ✄✂☛✁✌✡✄ ✄✂☛ ☛☎ ✟✄✠☛✄☛✍ ☞✄ ☞✁✌✄☎✂✁✌☎ N ☞✡✆✄☎☞✝☎☛ ☞✄ ✡✝ ✍✡✂✌✡☛☛✁✌☎ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✠☞✌✁✂✁✄✓
☎✌☛✂ ✆✌☛✟✌☎✂ ✠✝✡✠☛✡✄✍ ✡✥✡✠✝✍☛ ✌✌✒✄☎ ☞✄ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✥☛☎✄ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛ Ĥ(pi)

1

✒

ǫ1,pi
=

1

N

∑

ωj
j=1..N

εH1,pi
(ωj).

✴✫✎✲✮✵

✢✝ ✟✝✡✄☛✍ ✌✝✯✁✌✝✡✄ ☞✄ ǫ1,pi

✄✂☛ ✒

max
pi

(ǫ1,pi
) = 0, 028 (2, 8%),

✜✝✗✠✒✎ ✏☞✔ ✑☞✒✕ ✟✪✟☞✔ ✑☞ ✔✟✍✟✰✠✔✢✠✗☞✭ ✖✠✏✔✠✝ C1
☞✟ ★☛✟✟✡✞✝✝ C2

✘

✭✰



�✁✁☎✠✟☛☎ �✏ ✂✄✝✂✠✝✠✟✠✂✁ ✆☎✝ ✝✂✁✝ � ✝✠✁✁✁✄ ☎✟ ✠✁✝✟☛✂✞☎✁✟✁✟✠✂✁

✄☛ ✂✝ ✌✌✒✄☎☎✄ ✴✆✌☛✍ ✡✄✂ ✯ ✄✂☛✁✌✝☛✁✌☎✂✵ ✄✂☛ ✒

ǫ̂1,p =
1

7

7
∑

i=1

ǫ1,pi
= 0, 015 (1, 5%).

✙✥☛☎✄ ✌✝☎✁✔✍✄ ✂✁✌✁✡✝✁✍✄✓ ☎✌☛✂ ✝✟✌☎✂ ✌✧☛✄☎☛ ✡✄ ✌✝✯✁✌☛✌ ✄☛ ✡✝ ✌✌✒✄☎☎✄ ☞✄✂ ✡✠✝✍☛✂ ☞✄✂ ✄✂☛✁✛
✌✝☛✁✌☎✂ ✆✌☛✍ ✡✄ ☞✄☛✯✁✔✌✄ ✠✝✆☛✄☛✍ C2

✴✢✁☛☛✌✝☎☎✵ ✒

max
pi

(ǫ2,pi
) = 0, 024 (2, 4%),

ǫ̂2,p =
1

7

7
∑

i=1

ǫ2,pi
= 0, 010 (1%).

✌✔✜✓✒✜✜✔✏✌
✢✄✂ ✍✡✂☛✡☛✝☛✂ ☞✄✂ ✄✂☛✁✌✝☛✁✌☎✂ ✆✍✡✠✡☞✄☎☛✄✂ ✆✄✍✌✄☛☛✄☎☛ ☛☎✄ ✠✌✌✆✝✍✝✁✂✌☎ ✏☛✝✡✁☛✝☛✁✟✄ ✄☛ ✏☛✝☎☛✁✛

☛✝☛✁✟✄ ☞✄✂ ☞✄☛✯ ✟✝✍✁✝☎☛✄✂ ☞✄ ☎✌☛✍✄ ✂✒✂☛✔✌✄ ☞✥✝✠✏☛✁✂✁☛✁✌☎✎ ✢✝ ✆✍✄✌✁✔✍✄ ✠✌✌✆✝✍✝✁✂✌☎ ✆✌✂✂✁✧✡✄ ✄✂☛
✠✄✡✡✄ ✄☎☛✍✄ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ☛✍✝☎✂✘✄✍☛ H1

✄☛
H2

☞✄✂ ✂✒✂☛✔✌✄✂ ✂✝☎✂ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁✎ ✰☎ ✄✆✄☛✓ ✡✥✁☎☛✄✍✛
✆✍✡☛✝☛✁✌☎ ☞✁✍✄✠☛✄ ☞✄✂ ✠✌☛✍✧✄✂ ☞✄ ✞✝✁☎✂ ✆✍✡✂✄☎☛✡✄✂ ☞✝☎✂ ✡✝ ✷✞☛✍✄ ✫✎✲✶ ✌✌☎☛✍✄ ✏☛✄ ✡✥✝✌✆✡✁✷✠✝☛✁✌☎ ☞☛
✂✒✂☛✔✌✄

H2
✴☛✫☛✄ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ✢✁☛☛✌✝☎☎✵ ✄✂☛ ✆✡☛✂ ✁✌✆✌✍☛✝☎☛✄ ☞✝☎✂ ✡✄✂ ✧✝✂✂✄✂ ✘✍✡✏☛✄☎✠✄✂✓ ✠✄ ✏☛✁

✝✂✂☛✍✄ ☛☎✄ ✌✄✁✡✡✄☛✍✄ ✝✠✏☛✁✂✁☛✁✌☎ ☞✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✞✍✝✟✄✂ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✎ ✠✄☛ ✝✟✝☎☛✝✞✄ ✄✂☛

✆✄✍☞☛ ☞✝☎✂ ✡✄✂ ☞✝☛☛✄✂ ✘✍✡✏☛✄☎✠✄✂ ✴✂☛✆✡✍✁✄☛✍✄✂ ✤ ✶✬✬ ✭✳✎✵✓ ✌✟ ✡✄✂ ☞✄☛✯ ✠✝✆☛✄☛✍✂ ✂✌☎☛ ✡✏☛✁✟✝✡✄☎☛✂✎
✰☎ ✍✄✟✝☎✠☞✄✓ ✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄✂ ✠✌☛✍✧✄✂ ✆✍✡✂✄☎☛✡✄✂ ✂☛✍ ✡✄✂ ✷✞☛✍✄✂ ✫✎✲✪ ✄☛ ✫✎✲✯ ☞✌✁☛ ✫☛✍✄ ✘✝✁☛✄

✝✟✄✠ ✆✡☛✂ ☞✄ ✆✍✡✠✝☛☛✁✌☎✎ ✢✥✝✡✡☛✍✄ ☞✁✆✡✍✄☎☛✄ ☞✄ ✠✄✂ ✠✌☛✍✧✄✂ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✠✄✡✡✄✂ ☞✄ ✡✝ ✷✞☛✍✄ ✫✎✲✶
✂✥✄✯✆✡✁✏☛✄ ✂✝☎✂ ☞✌☛☛✄ ✆✝✍ ✡✥✁☎☛✍✌☞☛✠☛✁✌☎ ☞✄ ✡✝ ✌✄✌✧✍✝☎✄ ☞✄ ✂☛✆✆✌✍☛ ☞✄✂ ✂☛✡☛☞✌✂✠✌✆✄✂ ✄☛ ☞✌☎✠ ☞✄
✂✝ ✘✌☎✠☛✁✌☎ ☞✄ ☛✍✝☎✂✘✄✍☛ HS

✠✌✌✌✄ ✡✡✡✌✄☎☛ ✂☛✆✆✡✡✌✄☎☛✝✁✍✄ ☞✝☎✂ ✡✝ ✠☞✝✣☎✄ ☞✄ ✌✄✂☛✍✄ ✴✟✌✁✍ ✷✞☛✍✄✫✎✲✫✵✎ ✑✌☛✂ ✝✟✌☎✂ ☞✥✝✁✡✡✄☛✍✂ ✄✆✄✠☛☛✡ ✆✡☛✂✁✄☛✍✂ ✌✄✂☛✍✄✂ ✄☎ ✌✌☞✁✷✝☎☛ ✡✝ ☛✄☎✂✁✌☎ ✡✡✝✂☛✁✏☛✄ ☞✄ ✡✝
✌✄✌✧✍✝☎✄ ☞✄ ✂☛✆✆✌✍☛✓ ✄☛ ✠✄✂ ✌✄✂☛✍✄✂ ✠✌☎✷✍✌✄☎☛ ✡✥✁☎☞☛✄☎✠✄ ✁✌✆✌✍☛✝☎☛✄ ☞✄ ✠✄☛☛✄ ✌✄✌✧✍✝☎✄ ✂☛✍
✡✄✂ ✍✡✂☛✡☛✝☛✂ ☞✄ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✄✂ ✍✡✆✌☎✂✄✂ ✘✍✡✏☛✄☎☛✁✄✡✡✄✂✎

✙✄ ✆✡☛✂✓ ✠✌✌✌✄ ✡✄✂ ☞✄☛✯ ☛✫☛✄✂ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ☛✄✂☛✡✄✂ ✌☎☛ ☛☎✄ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✁✆✡✍✄☎☛✄✓ ✡✄☛✍
✁☎☛✄✍✝✠☛✁✌☎ ✝✟✄✠ ✡✝ ✌✄✌✧✍✝☎✄ ☞✄ ✂☛✆✆✌✍☛ ✄✂☛ ✤ ✂✌☎ ☛✌☛✍ ☞✁✆✡✍✄☎☛✄ ✄☛ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ☛✍✝☎✂✘✄✍☛
☛✌☛✝✡✄✂ ☎✄ ✂✌☎☛ ✆✝✂ ✌✌☞✁✷✡✄✂ ☞✄ ✡✝ ✌✫✌✄ ✌✝☎✁✔✍✄✎ ✠✄ ✠✌☎✂☛✝☛ ✄✯✆✡✁✏☛✄ ✆✍✌✧✝✧✡✄✌✄☎☛ ✡✥✝✡✡☛✍✄
☞✁✆✡✍✄☎☛✄ ☞✄✂ ✍✡✆✌☎✂✄✂ ✘✍✡✏☛✄☎☛✁✄✡✡✄✂ ☞✄✂ ☞✄☛✯ ✂✒✂☛✔✌✄✂ ✠✌✌✆✡✄☛✂ ✴✌✄✌✧✍✝☎✄ ☞✄ ✂☛✆✆✌✍☛ ✁☎✠✡☛✂✄✵
☞✝☎✂ ✡✄✂ ☞✝☛☛✄✂ ✘✍✡✏☛✄☎✠✄✂ ✴✝☛✛☞✄✡✤ ☞✄ ✶✬✬ ✭✳✎✵✓ ✠✄ ✏☛✁ ☎✥✡☛✝✁☛ ✆✝✂ ✡✄ ✠✝✂ ✆✌☛✍ ✡✄✂ ✍✡✆✌☎✂✄✂ ✂✝☎✂
✌✄✌✧✍✝☎✄ ☞✄ ✂☛✆✆✌✍☛ ✆✍✡✂✄☎☛✡✄✂ ✷✞☛✍✄ ✫✎✲✶✎

✑✡✝☎✌✌✁☎✂✓ ✆✌☛✍ ✠☞✝✠☛☎ ☞✄✂ ☞✄☛✯ ✂✒✂☛✔✌✄✂ ☛✄✂☛✡✂✓ ✡✄✂ ✞✝✁☎✂ ☞✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ☛✍✝☎✂✘✄✍☛ ✌☎☛ ✡✝
✌✫✌✄ ✝✡✡☛✍✄✓ ✡✥✁☎☞☛✄☎✠✄ ☞✄ ✡✝ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁ ✡☛✝☎☛ ✍✄✡✝☛✁✟✄✌✄☎☛ ✆✄☛ ✁✌✆✌✍☛✝☎☛✄✎ ✠✄ ✠✌☎✂☛✝☛ ✟✁✛
✂☛✄✡ ✄✂☛ ✠✌☎✷✍✌✡ ✆✝✍ ✡✥✡✟✝✡☛✝☛✁✌☎ ✏☛✝☎☛✁☛✝☛✁✟✄ ☞✄✂ ✡✠✝✍☛✂ ☞✄ ✠✄✂ ✞✝✁☎✂ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✡✄☛✍ ✌✌✒✄☎☎✄✎
✢✄✂ ✟✝✡✄☛✍✂ ✠✝✡✠☛✡✡✄✂ ☞✄ ✠✄✂ ✡✠✝✍☛✂ ✴✆✝✞✄ ✮✬✵ ✂✄✌✧✡✄☎☛ ✁☎☞✁✏☛✄✍ ✏☛✄ ✡✄ ✂✒✂☛✔✌✄ ✡✏☛✁✆✡ ☞☛ ✠✝✆☛✄☛✍
C2

✴☛✫☛✄ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ✢✁☛☛✌✝☎☎✵ ✄✂☛ ✌✌✁☎✂ ✁☎☞☛✄☎✠✡ ✆✝✍ ✡✝ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁✎ ✠✄✆✄☎☞✝☎☛✓ ☎✌☛✂
☎✄ ✆✌☛✟✌☎✂ ✆✝✂ ✝☎✍✌✄✍ ✝✟✄✠ ✠✄✍☛✁☛☛☞✄ ✏☛✄ ✠✄☛☛✄ ☞✁✆✡✍✄☎✠✄ ✄✂☛ ☞☛✄ ✤ ✡✝ ✏☛✝✡✁☛✡ ☞☛ ✠✝✆☛✄☛✍ ☛☛✁✡✁✂✡✓
✠✝✍ ✡✥✁☎☛✄✍✝✠☛✁✌☎ ☛✫☛✄ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄✄✌✄✌✧✍✝☎✄ ☞✄ ✂☛✆✆✌✍☛ ✝ ✝☛✂✂✁ ☛☎ ✍✌✡✄ ✁✌✆✌✍☛✝☎☛✙� ✎

✜✁✩✠✒✎ ✒✝☞ ✟☞✝✔☛✠✝ ✗✏✒✔ ✌✎✞✝✑☞ ✑☞ ✏✞ ✡☞✡✓✎✞✝☞ ✍✏✞✔✟☛❃✒☞ ✑☞ ✔✒✗✗✠✎✟✭ ✏☞✔ ✑☛✔✍✎☞✝✢☞✔ ✫☛✔☛✓✏☞✔ ✑✞✝✔ ✏☞✔ ✰✞✒✟☞✔✕✎✍❃✒☞✝✢☞✔ ☞✝✟✎☞ ✏☞✔ ✑☛✔✍✎☞✝✟☞✔ ✎✍✗✠✝✔☞✔ ✕✎✍❃✒☞✝✟☛☞✏✏☞✔ H
(p)
1

✔✠✝✟ ✓☞✞✒✢✠✒✗ ✡✠☛✝✔ ☛✡✗✠✎✟✞✝✟☞✔✭ ✢☞ ❃✒☛ ✄✒✔✟☛✠☞ ✝✠✟✎☞✗✎✒✑☞✝✢☞ ✑❂☛✝✟☞✎✗✎✍✟✞✟☛✠✝✘ ★☞✔ ✎✍✔✒✏✟✞✟✔ ☞✕✞✢✟✔ ✝☞ ✔✠✝✟ ✗✞✔ ✗✎✍✔☞✝✟✍✔ ☛✢☛✘

✮✬



�✏�✏ �✂✁✄✄✂✝✠✂✁

�✟✁ ✠✡✝☎✂✒✟✆✡✝

✙✝☎✂ ✠✄ ✠☞✝✆✁☛✍✄✓ ☎✌☛✂ ☞✡✷☎✁✂✂✌☎✂ ✄☛ ☞✡✠✍✁✟✌☎✂ ☛☎✄ ✠☞✝✣☎✄ ☞✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎ ✝☞✝✆☛✡✄ ✤ ✡✥✝✠✛
✏☛✁✂✁☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✝✧☞✌✌✁☎✝☛✯✎ ✢✝ ☎✝☛☛✍✄ ☞☛ ✂✁✞☎✝✡ ✡☛☛☞✁✡ ☎✌☛✂ ✠✌☎☞☛✁☛ ✟✄✍✂ ☛☎✄
✠☞✝✣☎✄ ☞✥✁☎✂☛✍☛✌✄☎☛✝☛✁✌☎ ✠✡✝✂✂✁✏☛✄✓ ✏☛✁ ☞✌✁☛ ✍✄✂✆✄✠☛✄✍ ✡✄ ✠✌☎☛✄☎☛ ✘✍✡✏☛✄☎☛✁✄✡ ☞✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂

✝✧☞✌✌✁☎✝☛✯ ✄☛ ✝✂✂☛✍✄✍ ☛☎✄ ✞✍✝☎☞✄ ✠✝✆✝✠✁☛✡ ☞✄ ✂☛✌✠✥✝✞✄✎
✢✝ ☎✡✠✄✂✂✁☛✡ ☞✥☛☎✄ ✟✝✡✁☞✝☛✁✌☎ ✌✡☞✁✠✝✡✄ ✂✁✌✆✡✄ ✘✝✟✌✍✁✂✄ ✡✄ ✠☞✌✁✯ ☞✥☛☎ ☛✒✆✄ ☞✄ ✠✝✆☛✄☛✍ ☞✡✬✤

☛☛✁✡✁✂✡ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☞✄ ✡✝ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✆☞✁✄ ✄☛ ☞✝✧✁☛☛✄✡✡✄✌✄☎☛ ✄✌✆✡✌✒✡ ✄☎ ✍✌☛☛✁☎✄ ✠✡✁☎✁✏☛✄✄ ✡✄ ✂☛✡☛☞✌✂✠✌✆✄✎ ✰☎ ✍✄✟✝☎✠☞✄✓ ✡✝ ☞✡✠✁✂✁✌☎ ✠✌☎✠✄✍☎✝☎☛ ✡✄ ☛✒✆✄ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ☛☛✁✡✁✂✡ ✄✂☛ ✌✌✁☎✂
✘✝✠✁✡✄✎ ✰☎ ✄✆✄☛✓ ✡✥✡☛☛☞✄ ☞✄✂ ✍✡✆✌☎✂✄✂ ✘✍✡✏☛✄☎☛✁✄✡✡✄✂ ✆✍✡✂✄☎☛✡✄ ☞✝☎✂ ✠✄ ✠☞✝✆✁☛✍✄ ✌✌☎☛✍✄ ✏☛✥✝☛✠☛☎
☞✄✂ ✂☛✡☛☞✌✂✠✌✆✄✂ ☛✄✂☛✡✂ ☎✄ ✂✄ ☞✡☛✝✠☞✄ ✘✌✍☛✄✌✄☎☛ ☞✄✂ ✝☛☛✍✄✂✎ �✫✌✄ ✂✁ ✡✄✂ ✂☛✡☛☞✌✂✠✌✆✄✂ ✡✡✄✠☛✍✌☎✁✏☛✄✂
✠✌✌✌✄✍✠✁✝☛✯ ✌☎☛ ✡✥✝✟✝☎☛✝✞✄ ☞✥✫☛✍✄ ☞✄✂ ✌☛☛✁✡✂ ☞✡✬✤ ✟✝✡✁☞✡✂✓ ✝✟✄✠ ☛☎✄ ✧✝☎☞✄ ✆✝✂✂✝☎☛✄ ✧✁✄☎ ✝☞✝✆☛✡✄
✝☛✯ ✂✌☎✂ ✆☞✒✂✁✌✡✌✞✁✏☛✄✂✓ ✡✄☛✍ ✆✍✁✯ ✄✂☛ ✡✡✄✟✡✎ ✢✄ ✌✫✌✄ ✝✍✞☛✌✄☎☛ ✄✂☛ ✟✝✡✝✧✡✄ ✆✌☛✍ ✡✄✂ ✂☛✡☛☞✌✂✠✌✆✄✂
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☎✄✌✄☎☛✂ ✴☛✍✝☎✂✁☛✌✁✍✄✂ ☎✌☎✛✂☛✝☛✁✌☎☎✝✁✍✄✂✵ ✄☛ ✡✟✄☎☛☛✄✡✡✄✌✄☎☛ ✡✄✂ ✄✯☛✍✝✁✍✄ ☞☛ ✧✍☛✁☛ ✴✂☛✆✆✌✂✡ ✂☛✝✛
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☞✥☞✒✆✌☛☞✔✂✄✂ ✝✪✓ ✲✪✓ ✪✭✓ ✰✲✞✓ ✄✂☛ ☛☛✁✡✁✂✡✄ ✆✌☛✍ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ☞☛ ✂✁✞☎✝✡✎ ✙✝☎✂ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄
✝✲✪✓ ✪✰✓ ✰✲✓ ✲✫✭✞ ✌☎ ☛✍✌☛✟✄ ✆✡☛✂✁✄☛✍✂ ✌✡☛☞✌☞✄✂ ☞✁✍✄✠☛✄✂ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☛✄✌✆✌✛
✍✄✡✓ ✠✌✌✌✄ ✡✄✂ ☞✡☛✄✠☛✄☛✍✂ ☞✄ ✂✝☛☛ ✝✆✆✡✁✏☛✡✂ ✤ ✠✄✍☛✝✁☎✂ ✆✝✍✝✌✔☛✍✄✂ ☞☛ ✂✁✞☎✝✡ ✒ ✂✝☛☛ ☞✄ ✌✌✒✄☎☎✄✓ ☞✄
✟✝✍✁✝☎✠✄✓ ✟✌✁✍✄ ☞✄ ✌✌✌✄☎☛✂ ☞✥✌✍☞✍✄ ✂☛✆✡✍✁✄☛✍ ✆✌☛✍ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄✂ ☛✍✝☎✂✁☛✌✁✍✄✂ ☎✌☎✛✞✝☛✂✂✁✄☎✂✎
✎☛☛✍✄ ✡✄ ✆✍✌✧✡✔✌✄ ☞☛ ✂✄☛✁✡✡✝✞✄✓ ✏☛✁ ✂✄ ✆✌✂✄ ☞✥✝✁✡✡✄☛✍✂ ✝☛✂✂✁ ☞✝☎✂ ✡✄ ✠✝✂ ☞✥☛☎✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✂☛✍
✡✥✝✌✆✡✁☛☛☞✄ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄ ☞☛ ✂✁✞☎✝✡✓ ✠✄✂ ✌✡☛☞✌☞✄✂ ☎✥✡✡✁✌✁☎✄☎☛ ✆✝✂ ✡✄ ✧✍☛✁☛ ✝☞☞✁☛✁✘ ✂☛✆✄✍✆✌✂✡ ✝☛✯
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✌✄☎☛ ☞✄ ✌✌☞✔✡✄✎ ✮☎✄ ✘✌✁✂ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞☛ ✌✌☞✔✡✄ ✎✍ ☞✥☛☎ ✡✟✡☎✄✌✄☎☛ ✄✂☛✁✌✡✂✓ ✁✡✂ ✆✄☛✟✄☎☛ ✫☛✍✄
☛☛✁✡✁✂✡✂ ✆✌☛✍ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✌☛ ✆✌☛✍ ✡✄☛✍ ✝☎✝✡✒✂✄ ✂✆✄✠☛✍✝✡✄ ✝✲✪✓ ✪✭✓ ✰✲✓ ✲✲✶✓ ✲✫✭✞✎
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☎✌☎✛✆✝✍✝✌✡☛✍✁✏☛✄✠ ✒ ✡✄✂ ✄✂☛✁✌✝☛✄☛✍✂ ✡✁☎✡✝✁✍✄✂✓ ✠✌✌✌✄ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ☎✌✒✝☛ ✴✚☎☛✁☎✄ ✞✂✁✄✟✠✂✁✝✵✓
✡✄✂ ✂✆✡✁☎✄✂ ✄☛ ✡✄✂ ✂✡✍✁✄✂ ✌✍☛☞✌✞✌☎✝✡✄✂✓ ☛✍✔✂ ✡☛☛☞✁✡✂ ☞☛✍✝☎☛ ✡✄✂ ✝☎☎✡✄✂ ✲✰✷✬ ✄☛ ✲✰✰✬✓ ✝☛✯✏☛✄✡✂ ✂✄

✍✝✬✌☛☛✄☎☛ ✆✍✌✞✍✄✂✂✁✟✄✌✄☎☛✓ ✝✆✍✔✂ ✲✰✰✬✓ ✡✄✂ ✄✂☛✁✌✝☛✄☛✍✂ ☎✌☎✛✡✁☎✡✝✁✍✄✂ ✆✝✍ ✂✄☛✁✡✡✝✞✄ ☞✄✂ ☞✡✠✌✌✛
✆✌✂✁☛✁✌☎✂ ✄☎ ✌☎☞✄✡✄☛☛✄✂✙✁,✛� ✓ ✏☛✁ ☞✌☎☎✄☎☛ ✂✌☛✟✄☎☛ ☞✄ ✌✄✁✡✡✄☛✍✂ ✍✡✂☛✡☛✝☛✂✎ ✢✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎
✌☎☞✄✡✄☛☛✄✂ ☎✥✄✂☛ ✆✝✂ ✤ ✆✍✌✆✍✄✌✄☎☛ ✆✝✍✡✄✍ ☛☎✄ ✌✌☞✡✡✁✂✝☛✁✌☎ ☞☛ ✂✁✞☎✝✡✓ ✌✝✁✂ ✡✝ ☛✍✝☎✂✘✌✍✌✝☛✁✌☎
☞✄ ✠✄✡☛✁✛✠✁ ☞✝☎✂ ☛☎ ✝☛☛✍✄ ☞✌✌✝✁☎✄ ✴☛✄✌✆✂✛✡✠☞✄✡✡✄✵✓ ✏☛✁ ✆✄✍✌✄☛ ✡✥✡☛☛☞✄ ☞✡☛✝✁✡✡✡✄ ☞✄ ✂✄✂ ✠✝✍✝✠☛✡✍✁✂✛
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Répresentation temps−fréquence (dans la base) de Dirac
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☛✄✌✆✂✛✘✍✡✏☛✄☎✠✄ ✂✄✍✌☎☛ ☞✁✂✬✌✁☎☛✂✓ ✌✝✁✂ ✡✝ ✠✌☛✟✄✍☛☛✍✄ ☞✄ ✠✄ ✆✡✝☎ ✠✌✌✆✡✔☛✄ ✝✶✯✓ ✲✫✮✞✎ ✙✄ ✆✡☛✂✓ ✂✁ ✡✝✧✝✂✄ ✄✂☛ ✌✍☛☞✌☎✌✍✌✡✄✓ ✄✡✡✄ ✝✂✂☛✍✄ ✡✝ ✠✌☎✂✄✍✟✝☛✁✌☎ ☞✄ ✡✥✡☎✄✍✞✁✄ ✆✝✍ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✒

∑

t

|x(t)|2 =
∑

τ,ξ

|Xτ,ξ|2,
✴✭✎✫✵
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✍✄☞✌☎☞✝☎✠✄ ✄☛ ✤ ✝✂✂☛✍✄✍ ✡✥✌✍☛☞✌✞✌☎✝✡✁☛✡✎ ✢✝ ✂✌✡☛☛✁✌☎ ✡✝ ✆✡☛✂ ☛☛✁✡✁✂✡✄ ✄✂☛ ✡✄ ✍✄✠✌☛✍✂ ✝☛✯ ✌☎☞✄✡✄☛☛✄✂
✌✍☛☞✌✞✌☎✝✡✄✂✛✑ ✎

✴✴✆✒ ✏☞✔ ✏☛✡☛✟✞✟☛✠✝✔ ☛✡✗✠✔✍☞✔ ✗✞✎ ✏☞ ✗✎☛✝✢☛✗☞ ✑❂☛✝✢☞✎✟☛✟✒✑☞ ✑☞ ✯☞☛✔☞✝✓☞✎✌✝✂✞✓✠✎✭ ✝✠✒✔ ✒✟☛✏☛✔✠✝✔ ξ ✞✒ ✏☛☞✒ ✑☞
ν✗✠✒✎ ✑✍✔☛✌✝☞✎ ✏☞✔ ✕✎✍❃✒☞✝✢☞✔ ✏✠✢✞✏☛✔✍☞✔ ✑✞✝✔ ✏✞ ✓✞✝✑☞ B

✘ ★☞ ✡✪✡☞ ✎✞☛✔✠✝✝☞✡☞✝✟ ☞✔✟ ✕✞☛✟ ✗✠✒✎ ✎☞✡✗✏✞✢☞✎ t
✗✞✎ τ

✘✴✒❅❂✞✒✟✎☞✔ ✔✠✏✒✟☛✠✝✔ ✠✝✟ ✍✟✍ ✑✍✢✎☛✟☞✔ ✘✞✁✭ ☛✝✭ ✡✱✭ ✱✞✚✙ ✛ ✏☞✔ ✓✞✔☞✔ ✟✎☛✌✠✝✠✡✍✟✎☛❃✒☞✔ ✏✠✢✞✏☞✔✭ ✏☞✔ ✗✞❃✒☞✟✔ ✑❂✠✝✑☞✏☞✟✟☞✔✭✏☞✔ ✠✝✑☞✏☞✟✟☞✔ ✓☛✝✠✎✟✰✠✌✠✝✞✏☞✔✭ ✏☞✔ ✎☞✗✎✍✔☞✝✟✞✟☛✠✝✔ ✎☞✑✠✝✑✞✝✟☞✔ ✑☞ ✟✠✗☞ ✷✸✹�✞✸�✹✿✷ ✶✁✾✽✂�✿✷ ✠✒ ✄✹✺☎✿✷✘
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✡✝ ✆☞✒✂✁✏☛✄ ✄☛ ☞✝☎✂ ✡✥✝☎✝✡✒✂✄ ☞✄ ★✌☛✍✁✄✍ ☎✥✝ ✆✝✂ ☞✄ ✠✌✍✍✄✂✆✌☎☞✝☎✠✄ ✆✌☛✍ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂✎ ✎☎ ✟✝
✍✄☎✌☎✠✄✍ ✄☎✂☛✁☛✄ ✝☛✯ ✞☛✁✡✡✄✌✄☛✂✓ ✄☎ ✂✌☛✂✛✄☎☛✄☎☞✝☎☛ ☛✌☛✬✌☛✍✂ ✠✄☛☛✄ ☞✁✆✡✍✄☎✠✄ ✄☎☛✍✄ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂
✄☛ ✡✄✂ ✧✝✂✄✂ ☞✄ ☛✒✆✄ ★✌☛✍✁✄✍✎

✎☎ ✝✆✆✄✡✡✄ ✌☎☞✄✡✄☛☛✄ ✌✔✍✄ ☛☎✄ ✘✌☎✠☛✁✌☎ ψ(t) ☞✝☎✂ L2
✏☛✁ ✝ ☛☎ ✠✄✍☛✝✁☎ ☎✌✌✧✍✄ ☞✄ ✠✝✍✝✠☛✡✍✁✂✛

☛✁✏☛✄✂ ✒
✄ ✌✌✒✄☎☎✄ ☎☛✡✡✄ ✒

∫ ∞

−∞
ψ(t)dt = 0 ;

✴✭✎✭✵

✄ ☎✌✍✌✄ ✴✢
2
✵ ☛☎✁☛✝✁✍✄ ✒

||ψ(t)||2 = 1 ;
✴✭✎✮✵

✄ ✠✄☎☛✍✡✄ ✝☛☛✌☛✍ ☞✄ t = 0✎✗✝✍ ☞✁✡✝☛✝☛✁✌☎✂ ✄☛ ☛✍✝☎✂✡✝☛✁✌☎✂✓ ✌☎ ✌✧☛✁✄☎☛ ☛☎✄ ✘✝✌✁✡✡✄ ☞✥✌☎☞✄✡✄☛☛✄✂ ✒

ψs,u =
1√
s
ψ

(

t− u

s

)

,
✴✭✎✶✵

✌✟
s
✄✂☛ ✡✥✡✠☞✄✡✡✄ ✄☛

u
✡✝ ✆✌✂✁☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄✎ ✖✁ ✡✝ ✘✌☎✠☛✁✌☎ ψ ✄✂☛ ✍✡✞☛✡✁✔✍✄ ✴✄✡✡✄ ✄✂☛ ☞✡✍✁✟✝✧✡✄

p
✘✌✁✂✵✓

✂✝ ☛✍✝☎✂✘✌✍✌✡✄ ☞✄ ★✌☛✍✁✄✍ ☛✄☎☞ ✟✄✍✂ ✬ ✏☛✝☎☞ ω ☛✄☎☞ ✟✄✍✂∞✎ ✠✌✌✌✄ ✆✌☛✍ ω = 0
✡✝ ☛✍✝☎✂✘✌✍✌✡✄ ☞✄

★✌☛✍✁✄✍ ✄✂☛ ☎☛✡✡✄ ✴☞✁✍✄✠☛✄✌✄☎☛ ☞✄ ✴✭✎✭✵✵✓ ✡✥✌☎☞✄✡✄☛☛✄ ✄✂☛ ✝✂✂✌✠✁✡✄ ✤ ☛☎ ✷✡☛✍✄ ✆✝✂✂✄✛✧✝☎☞✄ ✄☛ ✆✄✍✌✄☛

☛☎✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ✄☎ ☛✄✌✆✂ ✄☛ ✄☎ ✘✍✡✏☛✄☎✠✄ ✴✡✝ ✡✁✌✁☛✄ ✄✂☛ ✷✯✡✄ ✆✝✍ ✡✄ ✆✍✁☎✠✁✆✄ ☞✥✁☎✠✄✍☛✁☛☛☞✄ ☞✄
✭✄✁✂✄☎✧✄✍✞✵✎ ✮☎✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ☞✁✂✠✍✔☛✄ ✄✂☛ ✌✧☛✄☎☛✄ ✄☎ ✠✌☎✂✁☞✡✍✝☎☛ ☞✄✂ ☞✁✡✝☛✝☛✁✌☎✂

s
✄☛ ☞✄✂ ☛✍✝☎✂✡✝☛✁✌☎✂ u ☞✁✂✠✍✔☛✄✂✎

✖✁ ✌☎ ✠✌☎✂✁☞✔✍✄ ☛☎✄ ✂☛✁☛✄ ☞✥✡✠☞✄✡✡✄✂
sj

✷☎✁✄✓ sj ≤ sM ✓ ✌☎ ✝✂✂✌✠✁✄ ✤ ✡✝ ✘✝✌✁✡✡✄ ☞✥✌☎☞✄✡✄☛☛✄✂
✴✭✎✶✵ ☛☎✄ ✘✝✌✁✡✡✄ ☞✄ ✘✌☎✠☛✁✌☎✂ ☞✥✡✠☞✄✡✡✄✓ ✌✧☛✄☎☛✄ ✆✝✍ ☛✍✝☎✂✡✝☛✁✌☎ ☞✥☛☎✄ ✘✌☎✠☛✁✌☎ φ(t) ☞✄ ☎✌✍✌✄ ✢

2☛☎✁☛✝✁✍✄✓ ✏☛✁ ✄✂☛ ✡✥✝✞✍✡✞✝☛✁✌☎ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ☞✥✡✠☞✄✡✡✄ ✂☛✆✡✍✁✄☛✍✄ ✤
sM

✝✯✲✞✎ ✖✁ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ✂✌☎☛

✝✂✂✌✠✁✡✄✂ ✝☛✯ ✷✡☛✍✄✂ ✆✝✂✂✄✛✧✝☎☞✄ ✠✌✍✍✄✂✆✌☎☞✝☎☛ ✝☛✯ ✡✠☞✄✡✡✄✂✓ ✡✝ ✘✌☎✠☛✁✌☎ ☞✥✡✠☞✄✡✡✄ ✄✂☛ ✝✂✂✌✠✁✡✄ ✤
☛☎ ✷✡☛✍✄ ✆✝✂✂✄✛✧✝✂✎

✢✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ☞✁✂✠✍✔☛✄ ✡✝ ✆✡☛✂ ✠✌☛✍✝☎☛✄ ✄✂☛ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ☞✒✝☞✁✏☛✄ ✝✯✲✞✓ ✆✌☛✍ ✡✝✏☛✄✡✡✄
✡✄ ✆✝✂ ☞✄ ☞✁✂✠✍✡☛✁✂✝☛✁✌☎ ✘✍✡✏☛✄☎☛✁✄✡ ✄✂☛ ✡✥✌✠☛✝✟✄ ✴

s = 2j ✓ ✝✟✄✠ j = 0 . . .M ✵✎ ✢✄ ✆✝✂ ☛✄✌✆✌✍✄✡ p
✄✂☛

✮✷



�✏✂✏ ✂✁✁✄✠✝☎ ✟☎✞☎✝�✞☛✆✝✂☎✁✄☎✏ �✁✆☎✄☎✟✟☎✝
✡✁✡ ✤ ✡✥✡✠☞✄✡✡✄ ✄☛ ☞✡✆✄☎☞ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ✧✝✂✄✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✡✥✌☎☞✄✡✄☛☛✄ ✠☞✌✁✂✁✄✎ ✎☎ ☎✌☛✄✍✝ ✆✝✍ ✡✝
✂☛✁☛✄ j ✡✥✡✠☞✄✡✡✄ ✄☛

p
✄☛ ✡✝ ✆✌✂✁☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄✎

✮☎✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ☞✒✝☞✁✏☛✄ ☞✥☛☎ ✂✁✞☎✝✡ ✴☛☎✄ ✘✌☎✠☛✁✌☎✵ x(t) ✂✄✍✝ ☛☎✄ ✂✌✌✌✄ ✆✌☎☞✡✍✡✄ ☞✄ ✠✄✂
✌☎☞✄✡✄☛☛✄✂ ✄☛ ✘✌☎✠☛✁✌☎✂ ☞✥✡✠☞✄✡✡✄✎ ✢✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✄ ✆✌☎☞✡✍✝☛✁✌☎ ✂✌☎☛ ☞✌☎☎✡✂ ✆✝✍ ✡✝ ☛✍✝☎✂✘✌✍✌✡✄
✄☎ ✌☎☞✄✡✄☛☛✄✂✓ ✏☛✁ ✄✂☛ ✡✝ ✆✍✌✬✄✠☛✁✌☎ ☞✄ x ✂☛✍ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ✄☛ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✥✡✠☞✄✡✡✄ ✒

wj,p = 〈x, ψj,p〉 =

∫ ∞

−∞
x(t)

1√
2j
ψ∗

(

t− p

2j

)

dt,

wM,p = 〈x, φM,p〉 =

∫ ∞

−∞
x(t)

1√
2M

φ∗
(

t− p

2M

)

dt.
✴✭✎✪✵

✖✁ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ψ ✄☛
φ

✴✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ✄☛ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✥✡✠☞✄✡✡✄✵ ✂✌☎☛ ✌✍☛☞✌✞✌☎✝✡✄✂✓ ✌☎ ✌✧☛✁✄☎☛
☛☎✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✌✍☛☞✌✞✌☎✝✡✄ ✴☛☎✄ ✝☎✝✡✒✂✄ ✌☛✡☛✁✛✍✡✂✌✡☛☛✁✌☎✵✓ ✠✌☎✂☛✁☛☛✡✄ ☞✥☛☎ ✄✂✆✝✠✄ ☞✥✝✆✆✍✌✯✁✛
✌✝☛✁✌☎ ✄☛ ✆✡☛✂✁✄☛✍✂ ✄✂✆✝✠✄✂ ☞✄ ☞✡☛✝✁✡✂✎ ✢✥✄✂✆✝✠✄ ☞✥✝✆✆✍✌✯✁✌✝☛✁✌☎ ✄✂☛ ✍✄✆✍✡✂✄☎☛✡ ✆✝✍ ✡✝ ✘✌☎✠☛✁✌☎
☞✥✡✠☞✄✡✡✄ ✴✧✝✂✂✄ ✘✍✡✏☛✄☎✠✄✵✎ ✕☎✟✄✍✂✄✌✄☎☛✓ ✡✄✂ ✄✂✆✝✠✄✂ ☞✄ ☞✡☛✝✁✡✂✓ ✠✝✍✝✠☛✡✍✁✂✡✂ ✆✝✍ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂
☞✥✡✠☞✄✡✡✄ ✁☎✘✡✍✁✄☛✍✄✓ ✍✄✆✍✡✂✄☎☛✄☎☛ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ☞✄ ✘✍✡✏☛✄☎✠✄ ✂☛✆✡✍✁✄☛✍✄ ✄☛ ✆✡☛✂ ✠✌☛✍☛✂✎ ✢✄✂ ✄✂✛
✆✝✠✄✂ ☞✄ ☞✡☛✝✁✡✂ ✂✌☎☛ ✌✍☛☞✌✞✌☎✝☛✯ ✄☎☛✍✄ ✄☛✯ ✄☛ ✂☛✍ ✡✥✄✂✆✝✠✄ ☞✥✝✆✆✍✌✯✁✌✝☛✁✌☎✎

✎✷☎ ☞✥✌✧☛✄☎✁✍ ☛☎✄ ☛✍✝☎✂✘✌✍✌✝☛✁✌☎ ✍✝✆✁☞✄ ✄☛ ☎✌☎✛✍✄☞✌☎☞✝☎☛✄ ☞☛ ✂✁✞☎✝✡✓ ✡✥✝✡✞✌✍✁☛☞✌✄ ✡✄ ✆✡☛✂
✂✌☛✟✄☎☛ ☛☛✁✡✁✂✡ ✄✂☛ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ☞✁✂✠✍✔☛✄ ☞✒✝☞✁✏☛✄ ✂☛✍ ☛☎✄ ✧✝✂✄ ✌✍☛☞✌☎✌✍✌✡✄ ☞✥✌☎☞✄✡✄☛☛✄✂ ☞✄
�✝✡✡✝☛ ✝✯✲✞ ✴✟✌✁✍ ✷✞☛✍✄ ✭✎✶✵✓ ✏☛✁ ✝✂✂☛✍✄ ☛☎✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✂✁✌✆✡✄ ✄☛ ☛☎✄ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✄✯✝✠☛✄✎

...

...

x

2

2

2

2

2

2

d1

a1

d2

a2

dM

aM

aM-1

✁✂✄☎ ✭✎✶ ✄ ✆✏✌✠✎☛✟✰✡☞ ✑☞ ✑✍✢✠✡✗✠✔☛✟☛✠✝ ☞✝ ✠✝✑☞✏☞✟✟☞✔ ✑☞ ✆✞✏✏✞✟ ✘✡✱✙✘ ★☞ ✫☞✢✟☞✒✎ ✑☞✔ ✢✠☞✞✢☛☞✝✟✔ ✑❂✠✝✑☞✏☞✟✟☞ ☞✔✟
✠✓✟☞✝✒ ✗✞✎

w = {wM,p wj,p} = {aM dM dM−1 . . . d2 d1}
✘

✢✝ ✧✝✂✄ ☞✄ ✆✍✌✬✄✠☛✁✌☎ ✄✂☛ ✠✌☎✂☛✁☛☛✡✄ ☞✥✌☎☞✄✡✄☛☛✄✂ ψj,p
✄☛ ☞✄ ✘✌☎✠☛✁✌☎✂ ☞✥✡✠☞✄✡✡✄

φM,p ✓ ✌✟
j

☞✡✂✁✞☎✄ ✡✥✡✠☞✄✡✡✄ ✴✡✁✡✄ ✤ ✡✝ ✘✍✡✏☛✄☎✠✄✵✓ p ✡✥✁☎☞✁✠✄ ✴✡✁✡ ✤ ✡✝ ✆✌✂✁☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄✵✛☎ ✄☛
M

✡✝ ✆✍✌✘✌☎☞✄☛✍
☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂✎ ✢✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ☞✥☛☎ ✂✁✞☎✝✡ x

✂☛✍ ✠✄☛☛✄
✧✝✂✄ ✂✌☎☛ ☎✌☛✡✂ wj,p ✓ ✄☛ ✡✄ ✂✁✞☎✝✡ ✂✥✡✠✍✁☛ ✠✌✌✌✄ ✒

x(t) =
∑

j,p

wj,pψj,p(t) +
∑

p

wM,pφM,p(t).
✴✭✎✯✵

✴✝★❂☛✝✑☛✢☞ p
✗✞✎ ✏☞❃✒☞✏ ✝✠✒✔ ✝✠✟✠✝✔ ✏✞ ✗✠✔☛✟☛✠✝ ✑✒ ✢✠☞✞✢☛☞✝✟ ✑❂✠✝✑☞✏☞✟✟☞ ☞✔✟ ✔✗✍✢☛✠❃✒☞ ✄ ✏❂✍✢✰☞✏✏☞✘ ✆☛✝✔☛✭ ✗✠✒✎✢✰✞❃✒☞ ✍✢✰☞✏✏☞
j
✭ ☛✏ ✫✞✎☛☞ ✑☞ ✱ ✄

N j ✭ ✠� N j ☞✔✟ ✏☞ ✝✠✡✓✎☞ ✑☞ ✢✠☞✞✢☛☞✝✟✔ ✑☞ ✏❂✍✢✰☞✏✏☞ ✢✠✝✔☛✑✍✎✍☞✘

✮✰



�✁✁☎✠✟☛☎ �✏ �✆✟☎✄✟✠✂✁ ☎✟ ✆✆✂☛✂✠✟✁✁☎ ☎✁☛ ✂✁✆☎✄☎✟✟☎✝

�✟� �✎✞✁☎✞✆✡✝✁ ✁✟✞✆✂✑✞✆✡✝ ✁✞ ✏✎☞✄✒✆✞✑✄✁ ✠✑✄ ✡✝✏✁✂✁✞✞✁✟

✮☎✄ ☞✄✂ ✝✆✆✡✁✠✝☛✁✌☎✂ ✡✄✂ ✆✡☛✂ ✠✌☛✍✝☎☛✄✂ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ✄✂☛ ✡✥✄✯☛✍✝✠☛✁✌☎ ☞☛ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘ c
☞☛ ✂✁✞☎✝✡ ✌✄✂☛✍✡ x✎ ✢✄✂ ✆✌✁☎☛✂ ☞✄ ✟☛✄ ☞✄ ✡✝ ✠✌✌✌☛☎✝☛☛✡ ✂✠✁✄☎☛✁✷✏☛✄ ✂☛✍ ✠✄☛☛✄ ✄✯☛✍✝✠☛✁✌☎ ✟✝✍✁✄☎☛
✄☎ ✘✌☎✠☛✁✌☎ ☞☛ ☞✌✌✝✁☎✄ ✄☛ ☞✄ ✡✥✝✆✆✡✁✠✝☛✁✌☎ ✒ ✌☎ ✆✝✍✡✄ ☞✄ ☞✡☛✄✠☛✁✌☎ ✏☛✝☎☞ ✡✄ ✧☛☛ ✄✂☛ ☞✄ ✡✌✠✝✡✁✂✄✍
✡✄✂ ☛✍✝☎✂✁☛✌✁✍✄✂✓ ☞✥✄✂☛✁✌✝☛✁✌☎ ✏☛✝☎☞ ✡✄ ✧☛☛ ✄✂☛ ☞✄ ☛✍✌☛✟✄✍ ☛☎ ✌✌☞✔✡✄ ☞☛ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘✓ ✄☛

☞✄ ☞✡✧✍☛✁☛✝✞✄ ✏☛✝☎☞ ✌☎ ✂✌☛☞✝✁☛✄ ✡✡✁✌✁☎✄✍ ✡✄ ✧✍☛✁☛ ✝☞☞✁☛✁✘ r ✎ ✠✄✆✄☎☞✝☎☛✓ ✡✄✂ ☛✍✌✁✂ ✝✆✆✍✌✠☞✄✂ ✂✄

✍✡✟✔✡✄☎☛ ✫☛✍✄ ☞✄✂ ✟☛✄✂ ☞✁✆✡✍✄☎☛✄✂ ☞✥☛☎ ✌✫✌✄ ✆✍✌✧✡✔✌✄ ✒ ✡✝ ✂✡✡✄✠☛✁✌☎ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄
☞☛ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘ ✆✝✍✌✁ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞☛ ✂✁✞☎✝✡ ✌✄✂☛✍✡✎ ✗✝✍ ✡✝ ✂☛✁☛✄✓ ☎✌☛✂ ✝✡✡✌☎✂

✆✝✍✡✄✍ ☞✄ ☞✡✧✍☛✁☛✝✞✄✓ ✂✌☛✂✛✄☎☛✄☎☞✝☎☛ ✡✥✡✏☛✁✟✝✡✄☎✠✄ ☞✄✂ ✆✌✁☎☛✂ ☞✄ ✟☛✄ ☞✡✠✍✁☛✂ ✝☎☛✡✍✁✄☛✍✄✌✄☎☛✎
✙✝☎✂ ☎✌✂ ☛✍✝✟✝☛✯✓ ☎✌☛✂ ✝✟✌☎✂ ✠✌☎✂✁☞✡✍✡ ☛☎ ✌✌☞✔✡✄ ☞✁✂✠✍✄☛✁✂✡ ✠✡✝✂✂✁✏☛✄ ✴✝✪✓ ✭✷✓ ✯✯✓ ✷✭✞✵ ☞☛

✂✁✞☎✝✡ ✌✄✂☛✍✡
x

✒ ☛☎ ✌✡✡✝☎✞✄ ✝☞☞✁☛✁✘ ☞✥☛☎ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘
c
✄☛ ☞✥☛☎ ✧✍☛✁☛ ☞✄ ✌✄✂☛✍✄

r
✒

x(k) = c(k) + r(k).
✴✭✎✷✵

✢✝ ✆✍✄✌✁✔✍✄ ✡☛✝✆✄ ☞✄ ☛✍✝✁☛✄✌✄☎☛ ✄✂☛ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ☞✄ ✠✄ ✂✁✞☎✝✡ ✂☛✍ ☛☎✄ ✧✝✂✄ ✌✍☛☞✌✞✌☎✝✡✄

☞✥✌☎☞✄✡✄☛☛✄✂✎ ✢✄ ✠☞✌✁✯ ☞✄ ✡✝ ✧✝✂✄ ☞✄ ✆✍✌✬✄✠☛✁✌☎ ✄✂☛ ✞✡☎✡✍✝✡✄✌✄☎☛ ✘✝✁☛ ✆✝✍ ✡✥☛☛✁✡✁✂✝☛✄☛✍✛� ✓ ✌✝✁✂

✆✄☛☛ ✫☛✍✄ ✝☛✂✂✁ ✡✄ ✍✡✂☛✡☛✝☛ ☞✥☛☎ ✝✡✞✌✍✁☛☞✌✄ ☞✄ ✍✄✠☞✄✍✠☞✄ ☞✄ ✡✝ ✌✄✁✡✡✄☛✍✄ ✧✝✂✄✓ ✠✌✌✌✄ ✆✍✌✆✌✂✡ ✆✝✍
✠✌✁✘✌✝☎ ✄☛ ✚✁✠✥✄✍☞✝☛✂✄✍ ☞✝☎✂ ✝✫✯✓ ✫✷✓ ✫✰✞✎

✙✥✝✆✍✔✂ ✡✝ ☞✡✷☎✁☛✁✌☎ ✞✡☎✡✍✝✡✄ ☞✄ ✠✌✁✘✌✝☎ ✄☛ ✚✁✠✥✄✍☞✝☛✂✄✍ ✝✫✷✓ ✫✰✞✓ ✡✄ ☞✡✧✍☛✁☛✝✞✄ ✆✝✍ ✌☎☞✄✛
✡✄☛☛✄✂ ✍✄✟✁✄☎☛ ✤ ✟✡✥✄✯☛✍✝✠☛✁✌☎ ☞✥☛☎✄ ✂☛✍☛✠☛☛✍✄ ✠✌☞✡✍✄☎☛✄✠

c
☞☛ ✂✁✞☎✝✡ ☛✍✝✁☛✡✓ ✠✄ ✏☛✁✓ ✁☎✟✄✍✂✄✌✄☎☛✓

✍✄✟✁✄☎☛ ✤ ✠✌☎✂✁☞✡✍✄✍ ✡✄ ✧✍☛✁☛
r

✠✌✌✌✄ ☎✌☎ ✠✌☞✡✍✄☎☛ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✡✝ ✧✝✂✄ ☞✥✌☎☞✄✡✄☛☛✄✂ ✠☞✌✁✂✁✄✓
☞✌☎✠ ☎✌☎✛✠✌✍✍✡✡✡ ✝✟✄✠ ✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✄ ✧✝✂✄✎ ✰☎ ✘✝✁☛✓ ✡✄✂ ✂✄✞✌✄☎☛✂ ☞☛ ✂✁✞☎✝✡ ✆✄☛ ✠✌✍✍✡✡✡✂ ✝✟✄✠ ✡✝
✧✝✂✄ ✌☎☛ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ wj,p ✘✝✁✧✡✄✂✓ ✄☛ ✂✌☎☛ ✝☛☛✍✁✧☛✡✂ ✝☛ ✧✍☛✁☛✎ ✗✝✍ ☛☎ ✂✄☛✁✡ ✝☞✝✆☛✡✓ ✌☎ ✆✄☛☛
✂✡✆✝✍✄✍ ✡✄ ✧✍☛✁☛ ✴✆✝✍☛✁✄ ✁☎✠✌☞✡✍✄☎☛✄✵ ☞☛ ✂✁✞☎✝✡ ✴✆✝✍☛✁✄ ✠✌☞✡✍✄☎☛✄✵✎ ✢✄ ☞✡✧✍☛✁☛✝✞✄ ✆✝✍ ✌☎☞✄✡✄☛☛✄✂
✠✡✝✂✂✁✏☛✄ ✄✂☛ ☞✌☎✠ ✁✌✆✡✡✌✄☎☛✡ ✠✌✌✌✄ ☛☎ ✷✡☛✍✝✞✄ ☎✌☎✛✡✁☎✡✝✁✍✄ ✴☛☎✄ ✍✡✞✍✄✂✂✁✌☎ ☎✌☎✛✡✁☎✡✝✁✍✄✓ ✂✄✛
✡✌☎ ✎☎☛✌☎✁✝☞✁✂ ☎✟ ✁✄✏ ✝✪✞✵ ✆✝✍ ✂✄☛✁✡✡✝✞✄ ✒ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✂☛✆✡✍✁✄☛✍✂ ✤ ☛☎ ✂✄☛✁✡ S ✂✌☎☛
✠✌☎✂✁☞✡✍✡✂ ✠✌✌✌✄ ✘✝✁✂✝☎☛ ✆✝✍☛✁✄ ☞☛ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘✎

✑✌☛✂ ✝✡✡✌☎✂ ✆✍✡✂✄☎☛✄✍ ☞✝☎✂ ✡✝ ✂☛✁☛✄ ✡✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ☛✄✠☞☎✁✏☛✄✂ ☞✄ ✂✄☛✁✡✡✝✞✄ ✄☛ ☞✥✄✂☛✁✌✝☛✁✌☎ ☞✄
✡✝ ✟✝✡✄☛✍ ☞☛ ✂✄☛✁✡✎

☛✓✟✓✠ ✆✕✝✔✕✡✢✘✝✟ ☛✝ ✟✝☎✘✜✜✔✢✝
✙✝☎✂ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄✓ ✌☎ ☛✍✌☛✟✄ ✆✡☛✂✁✄☛✍✂ ✌✡☛☞✌☞✄✂ ☞✄ ✂✄☛✁✡✡✝✞✄✓ ☞✌☎☛ ✡✄✂ ✆✡☛✂ ✠✌☎☎☛✄✂ ✄☛ ✝✆✆✡✁✛

✏☛✡✄✂ ✂✌☎☛ ✡✄ ✂✄☛✁✡✡✝✞✄ ☞☛✍ ✴✁✁☛✆ ✟✁☛☎✝✁✂✄✆✠✁✁✵ ✄☛ ✡✄ ✂✄☛✁✡✡✝✞✄ ☞✌☛✯ ✴✝✂✞ ✟ ✟✁☛☎✝✁✂✄✆✠✁✁✵ ✝✪✓ ✭✯✓ ✭✷✓✯✲✓ ✯✯✞✎ ✢✄ ✆✍✄✌✁✄✍ ✆✍✌✆✌✂✄ ✡✥✝☎☎☛✡✝☛✁✌☎ ☞✄ ☛✌☛☛✄✂ ✡✄✂ ✟✝✡✄☛✍✂ ✄☎ ☞✄✂✂✌☛✂ ☞✥☛☎ ✂✄☛✁✡ S ✓ ✡✄✂ ✟✝✡✄☛✍✂
✂☛✆✡✍✁✄☛✍✄✂ ✍✄✂☛✝☎☛ ✁☎✠☞✝☎✞✡✄✂ ✒

wj,p
c =

{

wj,p, |wj,p| ≥ S,

0, |wj,p| < S.

✢✝ ✂✄✠✌☎☞✄ ✌✡☛☞✌☞✄ ✌✆✔✍✄✓ ✄☎ ✆✡☛✂ ☞✄ ✡✥✝☎☎☛✡✝☛✁✌☎✓ ☛☎✄ ✂✌☛✂☛✍✝✠☛✁✌☎ ☞☛ ✂✄☛✁✡ S ✝☛✯ ✟✝✡✄☛✍✂
✍✄✂☛✝☎☛✄✂✓ ✂☛✆✡✍✁✄☛✍✄✂ ✝☛ ✂✄☛✁✡✓ ✝✷☎ ☞✄ ✍✡☞☛✁✍✄ ✡✄ ☎✌✌✧✍✄ ☞✄ ☞✁✂✠✌☎☛✁☎☛✁☛✡✂ ☞✝☎✂ ✡✄ ✂✁✞☎✝✡ ☞✡✧✍☛✁☛✡ ✒

wj,p
c =

{

sign(wj,p) · (|wj,p| − S), |wj,p| ≥ S,

0, |wj,p| < S.

✴✂✄✝ ✗✎✞✟☛❃✒☞✭ ✗✠✒✎ ✏☞✔ ✔✠✝✔ ✞✓✑✠✡☛✝✞✒✕✭ ✯✞✑✄☛✏☞✠✝✟☛✞✑☛✔ ✿✸ ✺✾✡ ✘☛✚✭ ☛☛✙ ✎✍✞✏☛✔☞✝✟ ✒✝☞ ✟✎✞✝✔✕✠✎✡✞✟☛✠✝ ☞✝ ✠✝✑☞✝✏☞✟✟☞✔ ✔✒✎ ✒✝☞ ✓✞✔☞ ✠✎✟✰✠✝✠✎✡✍☞ ✑☞ ❅✞✒✓☞✢✰☛☞✔✚✘ ★☞ ✢✰✠☛✕ ✑☞ ✢☞✟✟☞ ✓✞✔☞ ☞✔✟ ✫✞✏☛✑✍ ✗✞✎ ✒✝☞ ☞✕✗☞✎✟☛✔☞ ✡✍✑☛✢✞✏☞
✞✒✑☛✟☛✫☞ ✞✗✎❄✔ ✑✍✓✎✒☛✟✞✌☞ ☞✟ ✎☞✢✠✝✔✟✎✒✢✟☛✠✝✘

✶✬



�✏�✏ �✆✟☎✄✟✠✂✁� ☎✝✟✠✞✁✟✠✂✁ ☎✟ ✆✆✂☛✂✠✟✁✁☎ ☎✁☛ ✂✁✆☎✄☎✟✟☎✝

✖✄✡✌☎ ✡✄ ☛✒✆✄ ☞✄ ✧✍☛✁☛✓ ✧✡✝☎✠ ✌☛ ✠✌✡✌✍✡✓ ✁✡ ✄✂☛ ✆✌✂✂✁✧✡✄ ☞✥✝☞✝✆☛✄✍ ✡✝ ✂☛✍✝☛✡✞✁✄ ☞✄ ✂✄☛✁✡✡✝✞✄✎
✰☎ ✄✆✄☛✓ ✠✄ ✂✄☛✁✡✡✝✞✄ ✆✄☛☛ ✫☛✍✄ ✁☞✄☎☛✁✏☛✄ ✆✌☛✍ ☛✌☛✂ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✌☛✓ ✆☛✁✂✏☛✄ ✡✄✂
✠✌✄☎✠✁✄☎☛✂ ✂✌☎☛ ✌✧☛✄☎☛✂ ✆✝✍ ✷✡☛✍✝✞✄ ✆✝✂✂✄✛✧✝☎☞✄ ✝✯✲✞ ✴✟✌✁✍ ✷✞☛✍✄ ✭✎✶✵✓ ✝☞✝✆☛✡ ✤ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄✎
✙✥✝☛☛✍✄✂ ☛✄✠☞☎✁✏☛✄✂ ☞✄ ✂✄☛✁✡✡✝✞✄✓ ✌✌✁☎✂ ☛☛✁✡✁✂✡✄✂✓ ✂✌☎☛ ✡✌✠✝✡✄✂ ✄☎ ☛✄✌✆✂✓ ✌☛ ☛✍✝✁☛✄☎☛ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂

✆✝✍ ✧✡✌✠✂ ✄☛ ☎✌☎ ✆✝✂ ✁☎☞✁✟✁☞☛✄✡✡✄✌✄☎☛ ✴✄☎ ✆✍✄☎✝☎☛ ✄☎ ✠✌✌✆☛✄ ✆✝✍ ✄✯✄✌✆✡✄ ✡✥✁☎☛✄✍✛✠✌✍✍✡✡✝☛✁✌☎ ✄☎☛✍✄
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✧✍☛✁☛ {wj,p

r,l }✓ ✡✠☞✄✡✡✄ ✆✝✍ ✡✠☞✄✡✡✄ ✒
Sj

l = 3σj
l
✎ ✢✥☞✒✆✌☛☞✔✂✄ ✆✍✁✌✌✍☞✁✝✡✄ ✄✂☛ ✡✝ ☎✝☛☛✍✄ ✞✝☛✂✂✁✄☎☎✄ ✄☛

✧✡✝☎✠☞✄ ☞☛ ✧✍☛✁☛ ✒ ✝✁☎✂✁✓ ✡✥✡✠✝✍☛✛☛✒✆✄ ✄✂☛ ✄✂☛✁✌✡✓ ✠✌✌✌✄ ☞✝☎✂ ✡✄✂ ☛✍✝✟✝☛✯ ☞✄ ✙✌☎✌☞✌ ✄☛ ✦✌☞☎✂☛✌☎✄
✝✭✯✓ ✭✷✞✓ ✂☛✍ ✡✝ ✆✍✄✌✁✔✍✄ ✡✠☞✄✡✡✄ ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✴✡✝ ✆✡☛✂ ☞✝☛☛✄ ✘✍✡✏☛✄☎✠✄✵✓ ✄☛ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂
✂✁✞☎✁✷✠✝☛✁✘✂ ✂✌☎☛ ✠✄☛✯ ✂☛✆✡✍✁✄☛✍✂ ✄☎ ✟✝✡✄☛✍ ✝✧✂✌✡☛✄ ✤ ☛✍✌✁✂ ✘✌✁✂ ✡✥✡✠✝✍☛✛☛✒✆✄✎ ✎ ✠☞✝✏☛✄ ✁☛✡✍✝☛✁✌☎✓ ✡✄✂
✟✂☛✍☛✠☛☛✍✄✂ ✂☛☎✂✝✌✌✄☎☛ ✞✍✝☎☞✄✂ ☞✝☎✂ ✡✄ ✧✍☛✁☛ ✍✡✂✁☞☛✄✡✠

rl
✝✲✬✷✞ ✂✌☎☛ ✄✯☛✍✝✁☛✄✂ ✄☛ ✝✬✌☛☛✡✄✂ ✤ ✡✥✄✂✛

☛✁✌✝☛✁✌☎ ☞☛ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘✓ ✄☛ ✡✥✝✡✞✌✍✁☛☞✌✄ ✂✥✝✍✍✫☛✄ ✏☛✝☎☞ ✝☛✠☛☎✄ ✁☎✘✌✍✌✝☛✁✌☎ ✂☛✆✆✡✡✌✄☎☛✝✁✍✄

☎✥✄✂☛ ✄✯☛✍✝✁☛✄ ☞☛ ✧✍☛✁☛✎
✮☎✄ ✝✆✆✍✌✠☞✄ ☞✁✆✡✍✄☎☛✄ ✝ ✡☛✡ ✁☎☛✍✌☞☛✁☛✄ ✆✝✍ ✠✌✁✘✌✝☎ ✄☛ ✚✁✠✥✄✍☞✝☛✂✄✍ ✝✫✷✓ ✫✰✞✎ ✢✄✂ ✝☛☛✄☛✍✂

☎✄ ✆✍✡✠✌☎✁✂✄☎☛ ✆✝✂ ☛☎ ✂✄☛✁✡✡✝✞✄ ✄☎ ✘✌☎✠☛✁✌☎ ☞✥☛☎ ✆✝✍✝✌✔☛✍✄ ✂☛✝☛✁✂☛✁✏☛✄ ✄✂☛✁✌✡ ✤ ✆✝✍☛✁✍ ☞☛ ✂✁✞☎✝✡✓
☎✁ ☛☎✄ ☞✒✆✌☛☞✔✂✄ ✁ ☎☛✠✂☛✠ ✂☛✍ ✡✝ ☎✝☛☛✍✄ ☞☛ ✧✍☛✁☛✎ ✎ ✡✝ ✆✡✝✠✄✓ ✁✡✂ ✆✍✌✆✌✂✄☎☛ ☞✄☛✯ ✆✝✍✝✌✔☛✍✄✂
☛☛✁✡✁✂✝☛✄☛✍ ✒ ☛☎ ✂✄☛✁✡ δ ∈ [0, 1]

✏☛✁ ✂✡✡✄✠☛✁✌☎☎✄ ☛☎✄ ✆✍✌✆✌✍☛✁✌☎ δ · N ☞☛ ☎✌✌✧✍✄ ☛✌☛✝✡ N ☞✄
✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄✓ ✄☛ ☛☎ ✠✍✁☛✔✍✄ ☞✥✝✍✍✫☛ β ✓ ✝✆✆✄✡✡ ✟✠✌✁☛ ✁☎✘✌✍✌✝☛✁✌☎☎✄✡✠ ✴✠✁✞✂☛✞✁✟✠✂✁ ✄✂✝✟✵✓✏☛✁ ✄✂☛ ✡✄ ☎✌✌✧✍✄ ✌✝✯✁✌✝✡ ✝☛☛✌✍✁✂✡ ☞✄ ✠✌✄☎✠✁✄☎☛✂ ☞☛ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘✎ ✠✄ ✠✌✁☛ ✁☎✘✌✍✌✝☛✁✌☎☎✄✡ ✄✂☛
✡✟✁☞✄✌✌✄☎☛ ✡✁✡ ✤ ✡✝ ☎✌☛✁✌☎ ✁ ☎☛✠✂☛✠ ☞✄ ☞✄☎✂✁☛✡ ☞☛ ✂✁✞☎✝✡ ✴✝☎✁☛✝✠✟✠✵✎ ✠✄✆✄☎☞✝☎☛✓ ✡✥✝✆✆✌✍☛ ✆✍✁☎✠✁✆✝✡

☞✄ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✠✌✁✘✌✝☎ ✄☛ ✚✁✠✥✄✍☞✝☛✂✄✍ ✄✂☛ ✡✥✁☎☛✡✞✍✝☛✁✌☎ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✍✄✠☞✄✍✠☞✄ ☞✄ ✡✝
✌✄✁✡✡✄☛✍✄ ✧✝✂✄ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ☞✝☎✂ ✡✄ ☞✡✧✍☛✁☛✝✞✄✓ ✏☛✁ ✆✄✍✌✄☛ ☛☎✄ ✄☎✠✝✠✁☛✡ ✌✝✯✁✌✝✡✄ ✄☛ ☛☎✄
✠✌✌✆✍✄✂✂✁✌☎ ✌✆☛✁✌✝✡✄ ☞☛ ✂✁✞☎✝✡✎ ✠✄☛☛✄ ✝✌✡✡✁✌✍✝☛✁✌☎ ✂✄ ☛✍✝☞☛✁☛ ✆✝✍ ✠✌☎☛✍✄ ✆✝✍ ☛☎✄ ✝☛✞✌✄☎☛✝☛✁✌☎
✁✌✆✌✍☛✝☎☛✄ ☞✄ ✡✝ ✠☞✝✍✞✄ ☞✄ ✠✝✡✠☛✡✎

✶✭



�✁✁☎✠✟☛☎ �✏ �✆✟☎✄✟✠✂✁ ☎✟ ✆✆✂☛✂✠✟✁✁☎ ☎✁☛ ✂✁✆☎✄☎✟✟☎✝

✰☎✷☎✓ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ✏☛✁ ☎✌☛✂ ✁☎☛✡✍✄✂✂✄✓ ✡✄ ☞✡✧✍☛✁☛✝✞✄ ✁☛✡✍✝☛✁✘ ✆✝✍ ✌☎☞✄✡✄☛☛✄✂ ☞✄✂ ✂✁✞☎✝☛✯ ✂✌✛
☎✌✍✄✂ ✆☞✒✂✁✌✡✌✞✁✏☛✄✂ ✆☛✡✌✌☎✝✁✍✄✂ ✄☛ ✝✧☞✌✌✁☎✝☛✯ ✝ ✡☛✡ ✁☎☛✍✌☞☛✁☛ ✆✝✍ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✝✶✮✓ ✶✶✞✎✢✥✝✡✞✌✍✁☛☞✌✄ ✚✶✖✶✛✑✖✶ ✴�✁✟☎✄☎✟ �☛✁✁✝✞✂☛✞�✂✁✝☎✆ ✄✟✁✟✠✂✁✁☛✠�✁✂✁✝✟✁✟✠✂✁✁☛✠ ✂✠✄✟☎☛✵ ✆✍✌✆✌✂✡
✄✂☛ ☛✍✔✂ ✆✍✌✠☞✄ ☞✄ ✠✄✡☛✁ ☞✄ ✖☛✝✍✠✥ ☎✟ ✁✄✏ ✓ ✌✝✁✂ ✡✄✂ ✝☛☛✄☛✍✂ ☎✄ ✘✌☎☛ ✆✝✂ ☞✥☞✒✆✌☛☞✔✂✄ ✂☛✍ ✡✝ ☎✌✍✛
✌✝✡✁☛✡ ☞☛ ✧✍☛✁☛✎ ✑✡✝☎✌✌✁☎✂✓ ✡✄ ✂✄☛✁✡ ✆✍✌✆✌✂✡ ✄✂☛ ✁☞✄☎☛✁✏☛✄✓ ✡✝ ✬☛✂☛✁✷✠✝☛✁✌☎ ☞✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟
✁✄✏ ✡☛✝☎☛ ✡✥✄✯✆✄✍☛✁✂✄ ✌✡☞✁✠✝✡✄✎

✎ ☎✌☛✍✄ ✠✌☎☎✝✁✂✂✝☎✠✄✓ ✡✥✝✡✞✌✍✁☛☞✌✄ ✚✶✖✶✛✑✖✶ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✁☛✡✍✝☛✁✘ ✝✆✍✔✂ ☞✡✠✌✌✆✌✂✁☛✁✌☎
✂☛✍ ☛☎✄ ✧✝✂✄ ✌✍☛☞✌☎✌✍✌✡✄ ☛☎✁✏☛✄ ✆✍✌✆✌✂✡ ✆✝✍ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✄✂☛ ✡✄ ✂✄☛✡ ✄✯✆✄✍☛✁✂✡ ✄☛ ✟✝✡✁☞✡
☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☞✄ ✡✝ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✆☞✁✄✎ ✜☛ ✡✝ ☎✝☛☛✍✄ ☞✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✝✧☞✌✌✁☎✝☛✯ ✴☞✡✠✍✁☛✄
☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✫✎✲✵✓ ☎✌☛✝✌✌✄☎☛ ✡✄☛✍ ✡✌☎✞☛✄ ☞☛✍✡✄✓ ✡✄☛✍ ✠✝✍✝✠☛✔✍✄ ✠✍✄☛✯✓ ✝✟✄✠ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂

✍✝✍✄✂✓ ✂✌☛✂ ✘✌✍✌✄ ☞✄ ☛✍✝☎✂✁☛✌✁✍✄✂ ✁✌✆☛✡✂✁✌☎☎✄✡✂ ☞✄ ✠✌☎☛✄☎☛ ✘✍✡✏☛✄☎☛✁✄✡ ✍✄✡✝☛✁✟✄✌✄☎☛ ✆✝☛✟✍✄✓ ☎✌☛✂
✠✌☎✂✁☞✡✍✌☎✂ ✏☛✄ ✠✄☛ ✝✡✞✌✍✁☛☞✌✄ ✄✂☛ ✄☎ ✆✍✁☎✠✁✆✄ ✝☞✝✆☛✡ ✤ ☎✌✂ ✧✄✂✌✁☎✂✎

✠✄✆✄☎☞✝☎☛✓ ✌✝✡✞✍✡ ✡✥☛☛✁✡✁✂✝☛✁✌☎ ☞✥☛☎ ✝✡✞✌✍✁☛☞✌✄ ✍✝✆✁☞✄ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ✄☛

☞✥☛☎✄ ✧✝✂✄ ☞✄ ✆✍✌✬✄✠☛✁✌☎ ☛☎✁✏☛✄✓ ✡✝ ✠☞✝✍✞✄ ☞✄ ✠✝✡✠☛✡ ✍✄✂☛✄ ✁✌✆✌✍☛✝☎☛✄✓ ✂☛✍☛✌☛☛ ✆✌☛✍ ✡✄✂ ✂✁✞☎✝☛✯
☞✄ ✡✌☎✞☛✄ ☞☛✍✡✄✎ ✙✄ ✆✡☛✂✓ ✤ ✡✥✄✯✠✄✆☛✁✌☎ ☎✌☛✝✧✡✄ ☞✄ ✡✝ ✟✝✡✁☞✝☛✁✌☎ ✌✡☞✁✠✝✡✄✓ ✝☛✠☛☎✄ ✝☛☛✍✄ ✌✡☛☞✌☞✄
☞✄ ✠☞✌✁✯ ☞✄✂ ✆✝✍✝✌✔☛✍✄✂ ☎✥✄✂☛ ✁☎☞✁✏☛✡✄ ✤ ✡✥☛☛✁✡✁✂✝☛✄☛✍✓ ✠✄ ✏☛✁ ✡✁✌✁☛✄ ✡✥✝✆✆✡✁✠✝☛✁✌☎ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄
✤ ☞✄✂ ✂✁✞☎✝☛✯ ✝✠✏☛✁✂ ✄☎ ✠✌☎☞✁☛✁✌☎✂ ✂✁✌✁✡✝✁✍✄✂ ✌☛ ✆✍✌✠☞✄✂ ☞✄ ✠✄✡✡✄✂ ☞✄✂ ✝☛☛✄☛✍✂✎ ✑✌☛✍✄ ☛✍✝✟✝✁✡

✍✄✆✍✄☎☞ ✠✄☛ ✝✡✞✌✍✁☛☞✌✄✓ ✡☛☛☞✁✄ ✡✄✂ ✝✂✆✄✠☛✂ ☛☞✡✌✍✁✏☛✄✂ ✄☛ ✆✍✌✆✌✂✄ ☞✄✂ ✌✡☛☞✌☞✄✂ ☞✥✌✆☛✁✌✁✂✝☛✁✌☎
✄☛ ☞✄ ✆✝✍✝✌✡☛✍✝✞✄✎ ✢✥✝✡✞✌✍✁☛☞✌✄ ✞✡☎✡✍✝✡ ✏☛✄ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ✄✂☛ ✄☎✂☛✁☛✄ ✟✝✡✁☞✡ ✂☛✍ ☞✄✂ ✂✁✞☎✝☛✯
✂✁✌☛✡✡✂ ✄☛ ✂✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ✂✌☎☛ ✠✌✌✆✝✍✡✄✂ ✤ ☞✥✝☛☛✍✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✆✝✍ ✌☎☞✄✡✄☛☛✄✂✎
✰☎✷☎✓ ✁✡ ✄✂☛ ✝✆✆✡✁✏☛✡ ✆✌☛✍ ✡✄ ☞✡✧✍☛✁☛✝✞✄ ✄☛ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✝✧☞✌✌✁☎✝☛✯
✍✡✄✡✂✎

�✟� ✂✂✄✡✄✆✞✂✂✁ ✏✁ ✏✎☞✄✒✆✞✑✄✁ ✏✁ ✄✑✏✌✆✂✁✡✝✞✆✑✏✆✟

✙✝☎✂ ✠✄☛☛✄ ✆✝✍☛✁✄ ☎✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ✄☛ ✍✡✁☎☛✄✍✆✍✡☛✌☎✂ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✝✶✮✓✶✶✞ ✄☎ ✄✯✆✡✌✁☛✝☎☛ ✡✄✂ ✆✍✌✆✍✁✡☛✡✂ ☞✄ ✡✝ ☛✍✝☎✂✘✌✍✌✡✄ ✄☎ ✌☎☞✄✡✄☛☛✄✂✎
✠✌☎✂✁☞✡✍✌☎✂ ✡✄ ✌✌☞✔✡✄ ☞✄ ✡✥✡✏☛✝☛✁✌☎ ✴✭✎✷✵✓ x = c + r ✓ ✌✟

x, c
✄☛

r
✂✌☎☛ ☞✄✂ ✟✄✠☛✄☛✍✂ ☞✄

☞✁✌✄☎✂✁✌☎ N ✎ ✢✄✂ ✌✡☛☞✌☞✄✂ ✁☛✡✍✝☛✁✟✄✂ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✍✡✡✠✍✁✟✄☎☛ ✠✄☛☛✄ ✡✏☛✝☛✁✌☎ ✠✌✌✌✄
x = cl+rl ✓✌✟

l
✄✂☛ ✡✥✁☎☞✁✠✄ ☞✥✁☛✡✍✝☛✁✌☎✎ ✢✥✄✂☛✁✌✝☛✁✌☎ ✠✌☛✍✝☎☛✄ ☞☛ ✧✍☛✁☛

rl
✴✁☎✁☛✁✝✡✁✂✡✄ ✤

r0 = x
✵ ✄✂☛ ☞✡✠✌✌✆✌✂✡✄

✂☛✍ ☛☎✄ ✧✝✂✄ ☞✥✌☎☞✄✡✄☛☛✄✂ ✌✍☛☞✌✞✌☎✝✡✄ ✒

rl =
∑

j,p

wj,p
r,l ψ

j,p +
∑

p

wM,p
r,l φM,p,

✴✭✎✲✲✵

✌✟
j
✄✂☛ ✡✥✡✠☞✄✡✡✄✓ p ✡✥✁☎☞✁✠✄ ☞✄ ✆✌✂✁☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄ ✄☛

M
✡✝ ✆✍✌✘✌☎☞✄☛✍ ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎✎

✑✌☛✌☎✂Ω
j
r,l

✡✄ ✟✄✠☛✄☛✍ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞☛ ✧✍☛✁☛ {wj,p
r,l }

✤ ✡✥✡✠☞✄✡✡✄
j
✄☛

Ωr,l
✡✄ ✟✄✠☛✄☛✍ ✠✌✌✆✡✄☛ ☞✄✂

✠✌✄☎✠✁✄☎☛✂ ☞☛ ✧✍☛✁☛✛✁ ✎ ✗✝✍ ✂✄☛✁✡✡✝✞✄ ☞✄ Ωr,l ✓
✌☎ ✌✧☛✁✄☎☛ Ω∆c,l+1 ✓ ✡✄ ✟✄✠☛✄☛✍ ☞✄✂ ✞✍✝☎☞✂ ✠✌✄☎✠✁✄☎☛✂

✏☛✁ ✂✌☎☛ ✠✌☎✂✁☞✡✍✡✂ ✠✌✌✌✄ ✝✆✆✝✍☛✄☎✝☎☛ ✝☛ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘ ✴✟✌✁✍ ✷✞☛✍✄ ✭✎✯✵✎ ✢✄ ✟✄✠☛✄☛✍ ☞✄✂
✠✌✄☎✠✁✄☎☛✂ ☞☛ ✧✍☛✁☛ Ωr,l+1 ✓ ✌✧☛✄☎☛ ✤ ✆✝✍☛✁✍ ☞✄ ✡✥✡✏☛✝☛✁✌☎ Ω∆c,l+1 +Ωr,l+1 = Ωr,l ✓

✄✂☛ ☛☛✁✡✁✂✡ ✆✌☛✍
✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄ ✡✥✄✂☛✁✌✝☛✁✌☎ ✠✌☛✍✝☎☛✄ ☞☛ ✧✍☛✁☛ ✍✡✂✁☞☛✄✡

rl+1 ✓ ✏☛✁ ✂✄✍☛ ✤ ✠✝✡✠☛✡✄✍ ✡✄ ✠✍✁☛✔✍✄
☞✥✝✍✍✫☛ ✒

STCl+1 = ‖rl‖2 − ‖rl+1‖2 < ε,
✴✭✎✲✫✵

✌✟
ε
✄✂☛ ☛☎ ✆✍✄✌✁✄✍ ✆✝✍✝✌✔☛✍✄ ✠☞✌✁✂✁ ✆✝✍ ✡✥☛☛✁✡✁✂✝☛✄☛✍✎

✴✝✆✒ ❃✒☞ ✏☞ ✔☛✌✝✞✏ ☞✔✟ ✑☞ ✏✠✝✌✒☞✒✎ ✠✝☛☞ N
✭ ✏☞✔ ✫☞✢✟☞✒✎✔ ✑☞ ✢✠☞✞✢☛☞✝✟✔ ✑❂✠✝✑☞✏☞✟✟☞✔ ✔✠✝✟ ✞✒✔✔☛ ✑☞ ✑☛✡☞✝✔☛✠✝ ✠✝☛☞✘

✄✝ ✌✍✎✞✝✟ ✏☞✔ ☞✔☞✟✔ ✑☞ ✓✠✎✑ ✑☞ ✏✞ ✑✍✢✠✡✗✠✔☛✟☛✠✝ ✗✞✎ ✏✞ ✗✍✎☛✠✑☛✔✞✟☛✠✝ ✑✒ ✔☛✌✝✞✏✭ ✏✞ ✑☛✡☞✝✔☛✠✝ ✑☞✔ ✫☞✢✟☞✒✎✔ ✑☞
✢✠☞✞✢☛☞✝✟✔ ✑❂✠✝✑☞✏☞✟✟☞✔ ✔☞✎✞ N

✭ ✍✌✞✏☞ ✄ ✢☞✏✏☞ ✑✒ ✔☛✌✝✞✏✘

✶✮
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(c)

S j j −S 

✁✂✄☎ ✭✎✯ ✄ ✯☛✔✟✠✌✎✞✡✡☞ ✑☞✔ ✢✠☞✞✢☛☞✝✟✔ ✑❂✠✝✑☞✏☞✟✟☞ ✄ ✏❂✍✢✰☞✏✏☞
j
✬✞✮ ✑☞ ✏❂☞✔✟☛✡✞✟☛✠✝ ✢✠✒✎✞✝✟☞ ✑✒ ✓✎✒☛✟ ✎✍✔☛✑✒☞✏

✄ ✏❂☛✟✍✎✞✟☛✠✝ l Ω
j
r,l

✭ ✬✓✮ ✑✒ ✔☛✌✝✞✏ ☛✝✕✠✎✡✞✟☛✕
Ω

j
∆c,l+1

✭ ✬✢✮ ✑☞ ✏✞ ✝✠✒✫☞✏✏☞ ☞✔✟☛✡✞✟☛✠✝ ✑✒ ✓✎✒☛✟ ✎✍✔☛✑✒☞✏
Ω

j
r,l+1

✘ ✩✠✒✎✢☞✟ ☞✕☞✡✗✏☞✭ ✏☞✔ ✢✠☞✞✢☛☞✝✟✔ ✑❂✠✝✑☞✏☞✟✟☞ ✑✒ ✔☛✌✝✞✏ ✔☛✡✒✏✍ ✔✒☛✫☞✝✟ ✒✝☞ ✏✠☛ ✑☞ ★✞✗✏✞✢☞ ✬✏❂✞✕☞ ✑☞✔ ✠✎✑✠✝✝✍☞✔ ✝❂☞✔✟ ✗✞✔✢✠✡✗✏❄✟☞✡☞✝✟ ✎☞✗✎✍✔☞✝✟✍ ☞✝ ✬✓✮ ☞✟ ✬✢✮✮✘

✢✄ ✟✄✠☛✄☛✍ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ✁☎✘✌✍✌✝☛✁✘✂ Ω∆c,l+1
✠✌☎☛✍✁✧☛✄ ✤ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄

cl+1 ✓ ✏☛✁ ✂✄✍☛
✤ ✠✝✡✠☛✡✄✍ ✡✄ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘ ✷☎✝✡ ✴✟✌✁✍ ✷✞☛✍✄ ✭✎✪✵✎

✮☎ ☞✄☛✯✁✔✌✄ ✆✝✍✝✌✔☛✍✄ ☛☛✁✡✁✂✝☛✄☛✍ Fa
✁☎☛✄✍✟✁✄☎☛ ☞✝☎✂ ✡✄ ✠✝✡✠☛✡ ☞☛ ✂✄☛✁✡ S ✎ ✢✥✝✡✞✌✍✁☛☞✌✄

✚✶✖✶✛✑✖✶ ☞✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✝✶✮✓ ✶✶✞ ✠✝✡✠☛✡✄ ✠✄ ✂✄☛✁✡ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✥✡✠✝✍☛✛☛✒✆✄ σj
l

☞✄✂
✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ {wj,p

r,l }
☞☛ ✧✍☛✁☛ ✄✂☛✁✌✡ ✤ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄✎ ✢✄ ✂✄☛✁✡ ✄✂☛ ✍✄✠✝✡✠☛✡✡✓ ✁☎☞✡✆✄☎✛

☞✝✌✌✄☎☛ ✆✌☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄✓ ✤ ✠☞✝✏☛✄ ✁☛✡✍✝☛✁✌☎ l ✒

Sj
l+1 = Fa · σj

l ,
✴✭✎✲✭✵

✌✟ ✡✥✄✯✆✍✄✂✂✁✌☎ ☞✄ ✡✝ ✠✌☎✂☛✝☎☛✄ Fa = 3
✄✂☛ ✟✝✡✁☞✡✄ ✆✝✍ ✄✯✆✄✍☛✁✂✄ ✌✡☞✁✠✝✡✄✛� ✎

✖✠☞✡✌✝☛✁✏☛✄✌✄☎☛✓ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✝✶✮✓ ✶✶✞ ✂✥✡✠✍✁☛ ✒
✲✎ ✠✝✡✠☛✡✄✍ σj

l

✠✌✌✌✄ (
σj

l

)2
=

1

N j

∥

∥

∥
Ω

j
n,l

∥

∥

∥

2 ✓ ✌✟ N j = card
(

Ω
j
n,l

) ✄✂☛ ✡✄ ☎✌✌✧✍✄ ☞✄ ✠✌✄☎✠✁✄☎☛✂

☞✄ ✡✥✡✠☞✄✡✡✄
j

✴
N j =

N

2j
✆✌☛✍ j = 1 . . .M

✄☛
N j =

N

2M
✆✌☛✍ j = M + 1✵ ✝

✫✎ ✠✝✡✠☛✡✄✍ ✡✄ ✂✄☛✁✡ Sj
l+1

✠✌✌✌✄
Sj

l+1 = f(σj
l )

✎ ✙✝☎✂ ✡✥✝✡✞✌✍✁☛☞✌✄ ✆✍✡✂✄☎☛✡ ✁✠✁✓ Sj
l+1 = Faσ

j
l
✓ ✌✟

Fa
✄✂☛ ☛☎ ✆✝✍✝✌✔☛✍✄ ✠☞✌✁✂✁ ✆✝✍ ✡✥☛☛✁✡✁✂✝☛✄☛✍ ✄☛ ✁☎☞✡✆✄☎☞✝☎☛ ☞✄ ✡✥✡✠☞✄✡✡✄

j
✝

✭✎ ✠✝✡✠☛✡✄✍ Ω
j
r,l+1

✄☛
Ω

j
∆c,l+1

✆✝✍ ✂✄☛✁✡✡✝✞✄ ☞☛✍ ☞✄ Ω
j
r,l

✝✟✄✠ ✡✄ ✂✄☛✁✡ Sj
l+1

✝

✮✎ ✠✝✡✠☛✡✄✍
rl+1

✄☛
∆cl+1

✠✌✌✌✄ ✡✄✂ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎✂ ✆✝✍ ✌☎☞✄✡✄☛☛✄✂ ☞✄✂ ✟✄✠☛✄☛✍✂ Ωr,l+1
✄☛

Ω∆c,l+1 ✓ ✄☛ ✷✯✄✍
cl+1 = cl + ∆cl+1

✝

✶✎ ✍✄✟✄☎✁✍ ✝☛ ✆✝✂ ✲ ✂✁ ✡✄ ✠✍✁☛✔✍✄ ☞✥✝✍✍✫☛ ✴✭✎✲✫✵ ☎✥✄✂☛ ✆✝✂ ✝☛☛✄✁☎☛✎
✠✄☛ ✝✡✞✌✍✁☛☞✌✄ ✁☛✡✍✝☛✁✘ ✂✥✁☎☛✄✍✍✌✌✆☛ ✏☛✝☎☞ ✡✝ ☞✁✆✡✍✄☎✠✄ ☞✥✡☎✄✍✞✁✄ ✂☛✍ ✡✄ ✧✍☛✁☛ ✍✡✂✁☞☛✄✡

r
✍✄✛

✠✌☎✂☛✍☛✁☛ ✄☎☛✍✄ ☞✄☛✯ ✁☛✡✍✝☛✁✌☎✂ ✂☛✠✠✄✂✂✁✟✄✂ ✄✂☛ ✬☛✞✡ ✂☛☎✂✝✌✌✄☎☛ ✘✝✁✧✡✄✎ ✮☎ STCl
✆✄☛✁☛ ✄✂☛ ✌✧☛✄☎☛

✏☛✝☎☞ ☛✍✔✂ ✆✄☛ ☞✥✁☎✘✌✍✌✝☛✁✌☎ ✴✆✝✍☛✁✄✂ ☞☛ ✂✁✞☎✝✡ ✠✌✍✍✡✡✡✄✂ ✝✟✄✠ ✡✥✌☎☞✄✡✄☛☛✄ ✠☞✌✁✂✁✄✵ ✄✂☛ ✄✯☛✍✝✁☛✄ ☞☛
✧✍☛✁☛ ✄☛ ✝✬✌☛☛✡✄ ✝☛ ✂✁✞☎✝✡ ✄☎☛✍✄ ☞✄☛✯ ✁☛✡✍✝☛✁✌☎✂ ✂☛✠✠✄✂✂✁✟✄✂✎

✴✁★❂☞✕✗✎☞✔✔☛✠✝ ✑✒ ✔☞✒☛✏ ☞✔✟ ✔☛✡☛✏✞☛✎☞ ✑✞✝✔ ✏☞✔ ✟✎✞✫✞✒✕ ✑☞ ✂✟✞✎✢� ✿✸ ✺✾✡ ✘✱✂✳✙ ☞✝ ☛✡✞✌☞✎☛☞ ✞✔✟✎✠✝✠✡☛❃✒☞✘ ✖☞✟✟☞✫✞✏☞✒✎ ✑☞ ✏✞ ✢✠✝✔✟✞✝✟☞ Fa

☞✔✟ ✏☛✍☞ ✞✒✔✔☛✭ ✔✠✒✔ ✰✠✗✠✟✰❄✔☞ ✑❂✒✝☞ ✑☛✔✟✎☛✓✒✟☛✠✝ ✌✞✒✔✔☛☞✝✝☞ ✑☞✔ ✢✠☞✞✢☛☞✝✟✔ ✑❂✠✝✑☞✏☞✟✟☞✔✭
✄ ✏✞ ✑✍✟☞✢✟☛✠✝ ✑☞✔ ✫✞✏☞✒✎✔ ✞✓☞✎✎✞✝✟☞✔ ✬✶�✸✾✽✿✹✷✮✘

✶✶
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�✟✞ �✝✞✁✄✠✄✎✞✑✞✆✡✝ ✏✁ ✠✡✆✝✞☎☎☛✁

✑✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ☞✝☎✂ ✠✄☛☛✄ ✂✄✠☛✁✌☎ ☛☎✄ ✝☎✝✡✒✂✄ ☞✡☛✝✁✡✡✡✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✚✶✖✶✛✑✖✶ ☞✄
✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✎ ✰☎ ✄✆✄☛✓ ✡✥☛☛✁✡✁✂✝☛✁✌☎ ☞✥☛☎✄ ✧✝✂✄ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎✛✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ☛☎✁✏☛✄
✆✄✍✌✄☛ ☞✄✂ ☞✡✟✄✡✌✆✆✄✌✄☎☛✂ ✁☎☛✡✍✄✂✂✝☎☛✂ ☞✄ ✠✄☛ ✝✡✞✌✍✁☛☞✌✄✎ ✑✌☛✂ ✌✌☎☛✍✌☎✂ ☎✌☛✝✌✌✄☎☛ ✏☛✄✓ ☞✝☎✂
✠✄ ✠✝✂✓ ✡✄✂ ✡☛✝✆✄✂ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎✛✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✂☛✠✠✄✂✂✁✟✄✂ ✴✟✌✁✍ ✷✞☛✍✄ ✭✎✪✵ ✂✌☎☛ ✁☎☛☛✁✡✄✂✓ ✠✄
✏☛✁ ✁✌✆✡✁✏☛✄ ☛☎✄ ✍✡☞☛✠☛✁✌☎ ✁✌✆✌✍☛✝☎☛✄ ☞✄ ✡✝ ✠☞✝✍✞✄ ☞✄ ✠✝✡✠☛✡✎ ✢✥✡☛☛☞✄ ☞✄ ✡✝ ✠✌☎✟✄✍✞✄☎✠✄ ☞✄ ✡✝
✌✡☛☞✌☞✄ ✁☛✡✍✝☛✁✟✄ ☞✄ ✂✄☛✁✡✡✝✞✄ ✴✂✄✡✌☎ ✡✥✡✏☛✝☛✁✌☎ ✭✎✲✭✵ ☎✌☛✂ ✆✄✍✌✄☛ ☞✥✡✡✁✌✁☎✄✍ ☛☎ ☞✄✂ ✆✝✍✝✌✔☛✍✄✂
☛☛✁✡✁✂✝☛✄☛✍ ε ✞✍☎✠✄ ✤ ✡✥✁☎☛✍✌☞☛✠☛✁✌☎ ☞✥☛☎✄ ✝✆✆✍✌✠☞✄ ☞✄ ✆✌✁☎☛✛✷✯✄ ✝✷✪✓ ✷✰✞ ✄☛✓ ☞✄ ✠✄ ✘✝✁☛✓ ☞✥✌✆☛✁✌✁✂✄✍
✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄✎

☛✓✡✓✠ ☎✝✡✜✘✗✘✆✔✘✝✝✟
✢✄✂ ☛✍✝☎✂✘✌✍✌✡✄✂ ✄☎ ✌☎☞✄✡✄☛☛✄✂✛✁ ☞✁✍✄✠☛✄ ✴✁✂✵ ✄☛ ✁☎✟✄✍✂✄ ✴✁✄✵ ✝✆✆✡✁✏☛✡✄✂ ✆✌☛✍ ✡✄✂ ✌✆✡✍✝✛

☛✁✌☎✂ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☛ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✂✌☎☛ ✌✍☛☞✌✞✌☎✝✡✄✂ ✄☛ ✡✁☎✡✝✁✍✄✂✎ ✰☎ ✆✍✄☎✝☎☛ ✄☎ ✠✌✌✆☛✄
✡✥✌✍☛☞✌✞✌☎✝✡✁☛✡ ☞✄ ✡✝ ☛✍✝☎✂✘✌✍✌✝☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂✓ ✡✄ ✠✍✁☛✔✍✄ ☞✥✝✍✍✫☛ ✴✭✎✲✫✵ ✂✥✡✠✍✁☛ ✒

STCl+1 = ‖rl‖2 − ‖rl+1‖2 = ‖Ωr,l‖2 − ‖Ωr,l+1‖2 .
✴✭✎✲✮✵

✰☎ ✠☞✌✁✂✁✂✂✝☎☛ ε = 0✓ ✡✄✂ ✁☛✡✍✝☛✁✌☎✂ ✂✥✝✍✍✫☛✄☎☛ ✏☛✝☎☞ Ωr,l = Ωr,l+1 ✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✏☛✝☎☞ ✝☛✠☛☎
✠✌✄☎✠✁✄☎☛ ☎✥✄✂☛ ✡✡✁✌✁☎✡ ✆✝✍ ✂✄☛✁✡✡✝✞✄ ✄☛

Ω∆c,l+1 = 0✎ ✢✄ ✠✍✁☛✔✍✄ ☞✥✝✍✍✫☛ ✴✭✎✲✮✵ ✌✌☞✁✷✡ ✴
STCl+1 =

0✵ ✆✄☛☛ ✫☛✍✄ ☛☛✁✡✁✂✡ ✤ ✡✥✡☛✝✆✄ ☎✌✎ ✶ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✆✍✡✠✡☞✄☎☛✓ ✠✄ ✏☛✁ ✁✌✆✡✁✏☛✄ ✏☛✄ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎
☞☛ ✧✍☛✁☛

rl =
✁✄

(Ωr,l)
✤ ✠☞✝✏☛✄ ✁☛✡✍✝☛✁✌☎ ✄✂☛ ✁☎☛☛✁✡✄✎

✙✄ ✆✡☛✂✓ ✆☛✁✂✏☛✄ ✡✝ ☛✍✝☎✂✘✌✍✌✝☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ✄✂☛ ✡✁☎✡✝✁✍✄✓ ✡✄ ✟✄✠☛✄☛✍ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎✛
☞✄✡✄☛☛✄ ☞☛ ✂✁✞☎✝✡

x
✂✥✡✠✍✁☛ ✒

Ωx = Ωr,l +
l
∑

i=0

Ω∆c,i = Ωr,l + Ωc,l, ∀ l,
✴✭✎✲✶✵

✠✄ ✏☛✁ ✁✌✆✡✁✏☛✄ ✏☛✥✁✡ ☎✥✄✂☛ ✆✝✂ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ✠✝✡✠☛✡✄✍ ∆cl
✆✝✍ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✤ ✆✝✍☛✁✍ ☞✄ Ω∆c,l

✤
✠☞✝✏☛✄ ✁☛✡✍✝☛✁✌☎ ✄☛ ✡✄ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘ ✷☎✝✡

c
✂✄ ✍✄✠✌☎✂☛✍☛✁☛ ✂✄✡✌☎

c =
∑L

l=0 ∆cl =
∑L

l=0
✁✄

(Ω∆c,l)
✎

✠✄ ✂✁✞☎✝✡ ✂✄✍✝ ✠✝✡✠☛✡✡ ✂✄☛✡✄✌✄☎☛ ✝✆✍✔✂ ✠✌☎✟✄✍✞✄☎✠✄ ✒
c =

✁✄
(Ωc) =

✁✄
(
∑L

l=0 Ω∆c,l)✓ ✌✟ L ✄✂☛ ✡✄

☎✌✌✧✍✄ ✷☎✝✡ ☞✥✁☛✡✍✝☛✁✌☎✂✎
✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ✡✄✂ ✡☛✝✆✄✂ ✁☎☛✄✍✌✡☞✁✝✁✍✄✂ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎✛✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✏☛✁ ✠✌☎✂☛✁☛☛✄☎☛

✡✥✡☛✝✆✄ ☎✌✎ ✮ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✆✄☛✟✄☎☛ ✫☛✍✄ ✂☛✆✆✍✁✌✡✄✂ ✄☛ ✍✄✌✆✡✝✠✡✄✂ ✆✝✍
☛☎✄ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✷☎✝✡✄ ☛☎✁✏☛✄✎

☛✓✡✓✟ ✆✝☎✘✜✜✔✢✝
✗✌☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄

j ✓ ✡✄ ✂✄☛✁✡✡✝✞✄ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞☛ ✧✍☛✁☛ Ω
j
r,l−1

✄✂☛ ✄✆✄✠☛☛✡ ✝✟✄✠ ✡✄ ✂✄☛✁✡ Sj
l = Faσ

j
l−1

✓ ✏☛✁ ✂✡✆✝✍✄ Ω
j
r,l−1

✄☎ Ω
j
r,l

✄☛
Ω

j
∆c,l

✎ ✖✥✁✡ ✄✯✁✂☛✄ ✝☛ ✌✌✁☎✂ ☛☎
✁☎☞✁✠✄ q ☛✄✡ ✏☛✄ Ω

j
∆c,l(q) 6= 0✓ ✝✡✌✍✂ ✌☎ ✝ |Ωj

∆c,l(q)| ≥ Sj
l
✎ ✰☎ ✆✡☛✂✓ ✆✌☛✍ ☛✌☛☛ q ✓ Sj

l > |Ωj
r,l(q)|

✄☛

|Ωj
∆c,l(q)| ≥ Sj

l > |Ωj
∆c,l+1(q)| ≥ Sj

l+1 > . . . ,
✴✭✎✲✪✵

✴✁✝✠✒✟ ✏☞ ✏✠✝✌ ✑☞ ✢☞✟✟☞ ✟✰❄✔☞✭ ✝✠✒✔ ✢✠✝✔☛✑✍✎✠✝✔ ✒✝ ✔☛✌✝✞✏ ✗✍✎☛✠✑☛✔✍ ✗✠✒✎ ✗✎☞✝✑✎☞ ☞✝ ✢✠✡✗✟☞ ✏☞✔ ☞✔☞✟✔ ✑☞ ✓✠✎✑ ✑☞
✏✞ ✟✎✞✝✔✕✠✎✡✍☞✘ ✖☞✟✟☞ ✞✗✗✎✠✢✰☞ ✗☞✎✡☞✟ ✑❂✠✓✟☞✝☛✎ ✒✝ ✝✠✡✓✎☞ ✑☞ ✢✠☞✞✢☛☞✝✟✔ ✑❂✠✝✑☞✏☞✟✟☞ ✍✌✞✏ ✄ ✏✞ ✟✞☛✏✏☞ ✑✒ ✔☛✌✝✞✏☞✟ ✑✍✟☞✎✡☛✝☞ ✗✞✎ ✏✞ ✔✒☛✟☞ ✏☞ ✢✞✏✢✒✏ ✑☞✔ ☛✝✑☛✢☞✔ ✑☞ ✢☞✔ ✢✠☞✞✢☛☞✝✟✔✘

✶✪
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✠✝✍ Ω
j
∆c,l+1

✄✂☛ ✌✧☛✄☎☛ ✆✝✍ ✡✄ ✂✄☛✁✡✡✝✞✄ ☞✄ Ω
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☛✓✡✓☛ �✆✕✝✝✙✝✡✕✔✕✘✖✆ ☛✝ ✙✖✘✆✕ ✁✞✝

�☛✄✡ ✏☛✄ ✂✌✁☛ ✡✄ ✆✝✍✝✌✔☛✍✄ ☞✄ ✂✄☛✁✡✡✝✞✄ F j
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✝✟✄✠ fj(u) = F j
a

√

1

N j

∑

p

(

wj,p
x I(|wj,p

x |<u)

)2
.

✴✭✎✲✷✵

✸✟✁☞✄✌✌✄☎☛✓ ✡✄✂ ✁☛✡✍✝☛✁✌☎✂ Sj
l+1 = fj(S

j
l )
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+ ☛✄✡ ✏☛✄ fj(uf ) = uf

✎ ✖✄✡✌☎ ✡✥✡✏☛✝☛✁✌☎ ✴✭✎✲✪✵✓ ✡✥✁☛✡✍✝☛✁✌☎ Sj
l+1 = fj(S

j
l )

✞✡☎✔✍✄ ☛☎✄ ✂☛✁☛✄
☞✡✠✍✌✁✂✂✝☎☛✄ ☞✄ ✂✄☛✁✡✂✎ ✎☎ ✆✄☛☛ ✌✌☎☛✍✄✍ ✏☛✥✄✡✡✄ ✠✌☎✟✄✍✞✄ ✟✄✍✂ ✡✄ ✆✍✄✌✁✄✍ ✆✌✁☎☛ ✷✯✄ ✍✄☎✠✌☎☛✍✡✓
✠✥✄✂☛✛✤✛☞✁✍✄ ✡✄ ✆✡☛✂ ✞✍✝☎☞ ✒

�✁✂✁✄☎
Γ ✆✝✞✄☎✞✟✠✆✞ ✡✄☛ ☞✞☎ ✌✍✆✞✎✏☎ ☞✞ ✆✍ ✑✁✄✒✂☛✁✄ fj

✓✔✕✖✗✘ ✙✁✎✏ ✎✄✞ ✚✒✛✞✆✆✞ j ☞✁✄✄✚✞✜ ✞✂
Sj

l ✆✝✞✄☎✞✟✠✆✞ ☞✞☎ ☎✞✎☛✆☎ ✁✠✂✞✄✎☎ ✙✍✏ ☛✂✚✏✍✂☛✁✄ ✓
l 6= 0

✘✕ ✢✎☛☎✣✎✞ ✆✍ ☎✎☛✂✞ ☞✞☎ ☎✞✎☛✆☎ ✞☎✂ ✒✍✆✒✎✆✚✞✤ ✆✝✍☛☞✞ ☞✞ ✆✍ ✑✁✄✒✂☛✁✄ fj
✜ Sj

l ∈ Γ,∀ l 6= 0
✕ ✥✎✙✙✁☎✁✄☎ ✣✎✞ ✆✞ ✙✆✎☎ ✦✏✍✄☞ ✙✁☛✄✂ ✡✧✞ ☞✞ fj✄✞ ☎✁☛✂ ✙✍☎ ✆✞ ✙✁☛✄✂ ☞✞ ✒✁✄✌✞✏✦✞✄✒✞ ☞✞ ✆✝✍✆✦✁✏☛✂✛✟✞✕ ★✞✒☛ ☛✟✙✆☛✣✎✞ ✣✎✝☛✆ ✞✧☛☎✂✞ γ = fj(γ)✂✞✆ ✣✎✞ γ ∈ Γ

✞✂ γ 6= Sj
l ,∀ l

✓☞✁✄✒ ✎✄ ✙✁☛✄✂ ✡✧✞ ✄✁✄✩☞✚✂✞✒✂✚ ✙✍✏ ✆✝✍✆✦✁✏☛✂✛✟✞ ☛✂✚✏✍✂☛✑ ✘✕ ★✞
✒✁✄☎✂✍✂ ✙✞✎✂ ✪✂✏✞ ✏✚✚✒✏☛✂ ✫ ☛✆ ✞✧☛☎✂✞ l ✂✞✆ ✣✎✞ Sj

l+1
< γ < Sj

l

✕ ✬✍☛☎ Sj
l+1

= fj(S
j
l )✜ ☞✁✄✒

✆✍ ✙✏✞✟☛✭✏✞ ☛✄✚✦✍✆☛✂✚ ☎✝✚✒✏☛✂ f(Sj
l ) < γ

✕ ✮✝✍✎✂✏✞ ✙✍✏✂✜ fj
✞☎✂ ✟✁✄✁✂✁✄✞ ✒✏✁☛☎☎✍✄✂✞✜ ☞✁✄✒ ✆✍☞✞✎✧☛✭✟✞ ☛✄✚✦✍✆☛✂✚ ☛✟✙✆☛✣✎✞ fj(γ) ≤ fj(S

j
l )✜ ✣✎☛ ☛✟✙✆☛✣✎✞ ✓✒✍✏ γ ✞☎✂ ✎✄ ✙✁☛✄✂ ✡✧✞✘ γ ≤ fj(S

j
l )✜✒✞ ✣✎☛ ✒✁✄✂✏✞☞☛✂ ✆✍ ✙✏✞✟☛✭✏✞ ☛✄✚✦✍✆☛✂✚✕ ✢✍✏ ✒✁✄☎✚✣✎✞✄✂✜ ✆✝✛✯✙✁✂✛✭☎✞ ✑✍☛✂✞ ✍✎ ☞✚✠✎✂ ☞✞ ✄✁✂✏✞

☞✚✟✁✄☎✂✏✍✂☛✁✄ ✞☎✂ ✑✍✎☎☎✞ ✫ ✆✞ ✙✆✎☎ ✦✏✍✄☞ ✙✁☛✄✂ ✡✧✞ ✞☎✂ ✆✞ ✙✁☛✄✂ ☞✞ ✒✁✄✌✞✏✦✞✄✒✞ ☞✞ ✆✝✍✆✦✁✏☛✂✛✟✞✕
✢✄ ✆✌✁☎☛ ✷✯✄ ☛✍✌☛✟✡ ✆✝✍ ☎✌☛✍✄ ✝✡✞✌✍✁☛☞✌✄ ✄✂☛ ☞✌☎✠ ✡✄ ✂✄☛✁✡ ✷☎✝✡ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✆✌☛✍ ε = 0✎✢✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✠✌✌✌✄ ☛☎✄ ☞✄✂✠✄☎☛✄ ☞✄ ✆✌✁☎☛ ✷✯✄ ✆✄✍✌✄☛ ☞✄ ✌✄☛☛✍✄

✄☎ ✡✟✁☞✄☎✠✄ ✡✄ ✍✌✡✄ ☞☛ ☞✄☛✯✁✔✌✄ ✆✝✍✝✌✔☛✍✄ ☛☛✁✡✁✂✝☛✄☛✍✓ ✡✝ ✠✌☎✂☛✝☎☛✄ ✌☛✡☛✁✆✡✁✠✝☛✁✟✄ F j
a

✒
✄ ✄✡✡✄ ✆✄☛☛ ✟✝✍✁✄✍ ☞✥☛☎✄ ✡✠☞✄✡✡✄ ✤ ✡✥✝☛☛✍✄✓ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎✛

☞✄✡✄☛☛✄ ✝✄ ✄✡✡✄ ☞✌✁☛ ✫☛✍✄ ✠☞✌✁✂✁✄ ✂☛☎✂✝✌✌✄☎☛ ✞✍✝☎☞✄ ✆✌☛✍ ✝✂✂☛✍✄✍ ✡✝ ✠✌☎✟✄✍✞✄☎✠✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✟✄✍✂

☛☎✄ ✟✝✡✄☛✍ ✂☛✍✁✠☛✄✌✄☎☛ ✆✌✂✁☛✁✟✄ ✴☛☎ ✂✄☛✁✡ ☎☛✡ ✡✏☛✁✟✝☛☛ ✤ ✠✌☎✂✁☞✡✍✄✍ ✏☛✥✁✡ ☎✥✒ ✝ ✆✝✂ ☞✄ ✧✍☛✁☛
☞✝☎✂ ✡✄ ✂✁✞☎✝✡ ✌✄✂☛✍✡

x
✵ ✝

✶✷



�✏�✏ �✂✆✆✄✠✝✁✟✠✂✁ ☎☛✂✂✁✂✠✄✠✝✟☎

✄ ☞✥✝☛☛✍✄ ✆✝✍☛✓ ☛☎✄ ✟✝✡✄☛✍ ☛✍✌✆ ✞✍✝☎☞✄ ☞✄ F j
a

✠✌☎☞☛✁☛ ✤ ☛☎ ✝✍✍✫☛ ✆✍✡✌✝☛☛✍✡ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✒
✂✁
F j

a > max(|Ω
j

x|)

σj
0

✓ ✝✡✌✍✂ ✡✥✝✡✞✌✍✁☛☞✌✄ ✠✌☎✟✄✍✞✄ ✝✆✍✔✂ ✡✝ ✆✍✄✌✁✔✍✄ ✁☛✡✍✝☛✁✌☎ ✴✠✄ ✏☛✁ ✂✁✞☎✁✷✄
✏☛✥✁✡ ☎✥✒ ✝ ✆✝✂ ☞✄ ✂✁✞☎✝✡ ✁☎✘✌✍✌✝☛✁✘ ☞✝☎✂ ✡✝ ✧✝☎☞✄ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✠✌✍✍✄✂✆✌☎☞✝☎☛ ✤ ✡✥✡✠☞✄✡✡✄
✠✌☛✍✝☎☛✄ j✵✎

�✟✁ ✁✡✏✎✂✆✟✑✞✆✡✝ ✠✄✡☞✑☞✆✂✆✟✞✁

✢✄ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ✆✍✡✂✄☎☛✡ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✆✍✡✠✡☞✄☎☛✄ ✆✄✍✌✄☛ ☞✥✡✡✁✌✁☎✄✍ ✡✄✂ ✡☛✝✆✄✂ ☞✄ ☞✡✠✌✌✛
✆✌✂✁☛✁✌☎✛✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✂☛✠✠✄✂✂✁✟✄✂ ✄☛ ☞✄ ✍✡✁☎☛✄✍✆✍✡☛✄✍ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✆✝✍ ✌☎☞✄✡✄☛☛✄✂
☞✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✝✶✮✓ ✶✶✞ ✠✌✌✌✄ ☛☎ ✝✡✞✌✍✁☛☞✌✄ ☞✄ ✆✌✁☎☛ ✷✯✄✓ ✠✄ ✏☛✁ ✠✌☎☞☛✁☛ ✤ ✡✥✡✡✁✌✁☎✝☛✁✌☎
☞✄✂ ✡☛✝✆✄✂ ✁☎☛✄✍✌✡☞✁✝✁✍✄✂ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎✛✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✄☛ ✤ ☛☎✄ ☎✄☛☛✄ ✍✡☞☛✠☛✁✌☎ ☞✄ ✡✝ ✠☞✝✍✞✄

☞✄ ✠✝✡✠☛✡ ✴✟✌✁✍ ✡✄ ☛✝✧✡✄✝☛ ✭✎✪✓ ✆✝✞✄ ✯✯✵✎ ✰☎ ✆✡☛✂ ☞✄ ✡✥✡✡✁✌✁☎✝☛✁✌☎ ☞✥☛☎ ☞✄✂ ✆✝✍✝✌✔☛✍✄✂ ☛☛✁✡✁✂✝☛✄☛✍
✴
ε✵✓ ✠✄☛☛✄ ✝✆✆✍✌✠☞✄ ✝ ✌✁✂ ✄☎ ✡✟✁☞✄☎✠✄ ✡✥✁✌✆✌✍☛✝☎✠✄ ☞☛ ✂✄✠✌☎☞ ✆✝✍✝✌✔☛✍✄ F j

a
✎ ✙✝☎✂ ✠✄☛☛✄ ✂✄✠☛✁✌☎✓

☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ☛☎✄ ✌✡☛☞✌☞✄ ☞✄ ✠✝✡✠☛✡ ☞✄ ✠✄ ☞✄☛✯✁✔✌✄ ✆✝✍✝✌✔☛✍✄✓ ✠✄ ✏☛✁ ☎✌☛✂ ✆✄✍✌✄☛☛✍✝ ☞✄
☞✡✟✄✡✌✆✆✄✍ ☛☎✄ ✟✄✍✂✁✌☎ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✁☛✡✍✝☛✁✘ ✝✷✰✞✎

✢✄ ✍✡✂☛✡☛✝☛ ☞✄ ✡✝ ☛✍✝☎✂✘✌✍✌✡✄ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ☞✁✂✠✍✔☛✄ ☛☛✁✡✁✂✡✄ ✆✌☛✍ ✝☎✝✡✒✂✄✍ ✡✄ ✂✁✞☎✝✡ ✌✄✂☛✍✡ ✄✂☛

☛☎ ✟✄✠☛✄☛✍ Ωx
☞✄ ☞✁✌✄☎✂✁✌☎ ✷☎✁✄✓ ✏☛✁ ✆✄☛☛ ✫☛✍✄ ☞✁✟✁✂✡ ✄☎ ✆✡☛✂✁✄☛✍✂ ✟✄✠☛✄☛✍✂ Ωj

x

✠✌✍✍✄✂✆✌☎☞✝☎☛
✤ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄✎ ✢✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄ ✆✄☛✟✄☎☛ ✫☛✍✄ ✠✌☎✂✁☞✡✍✡✂ ✠✌✌✌✄

☛☎ ✡✠☞✝☎☛✁✡✡✌☎ ☞✁✂✠✍✄☛ ✁✂✂☛ ☞✥☛☎✄ ✡✌✁ ☞✄ ☞✄☎✂✁☛✡ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ✠✌☎☛✁☎☛✄✎ ✎☎ ✌✧✂✄✍✟✄ ✏☛✄✓ ☞✝☎✂
✡✝ ✆✡☛✆✝✍☛ ☞✄✂ ✝✆✆✡✁✠✝☛✁✌☎✂ ✍✡✄✡✡✄✂✓ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✂✌☎☛ ☞✁✂☛✍✁✧☛✡✂ ✂✄✡✌☎ ☛☎✄ ✡✌✁ ☞✄
✆✍✌✧✝✧✁✡✁☛✡ ✠✄☎☛✍✡✄ ✄☎ ✬ ✄☛ ✏☛✁ ✆✌✂✂✔☞✄ ☛☎ ✌✌☞✄ ✄☎ ✬✎ ✑✌☛✌☎✂ ✠✄☛☛✄ ✡✌✁

p(wj,p)✓ ✌☛✓ ✆☛✁✂✏☛✄ ✡✄

☞✡✟✄✡✌✆✆✄✌✄☎☛ ✂☛✁✟✝☎☛ ✄✂☛ ✁☞✄☎☛✁✏☛✄ ✆✌☛✍ ☛✌☛☛✄✂ ✡✄✂ ✡✠☞✄✡✡✄✂✓ p(w)
✴✆✌☛✍ ✂✁✌✆✡✁✷✄✍ ✡✝ ☎✌☛✝☛✁✌☎✓

☞✝☎✂ ✡✝ ✂☛✁☛✄ ✌☎ ✍✄☎✌☎✠✄ ✤ ✡✥✁☎☞✁✠✄ j ☞✄ ✡✥✡✠☞✄✡✡✄✵✎
✎☎ ✆✄☛☛ ✝✡✌✍✂ ✡☎✌☎✠✄✍ ✡✝ ✆✍✌✆✌✂✁☛✁✌☎ ✂☛✁✟✝☎☛✄✓ ✡☛✝✧✡✁✄ ✠✁✛✝✆✍✔✂ ✒

✁✎✏✙✏✜✔✍✔✏✌ ✕✥ ✖✁ ✡✝ ✡✌✁ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ p(w) ☞✄ ✌✌✒✄☎☎✄ ☎☛✡✡✄ ✄☛ ☞✄ ✟✝✍✁✝☎✠✄
✷☎✁✄ ✆✌✂✂✔☞✄ ☛☎ ✌✌☞✄ ✄☎ ✬ ✄☛ ✂✥✁✡ ✒ ✝ ✝☛ ✌✌✁☎✂ ☛☎ ✆✌✁☎☛ ☞✥✁☎☛✄✍✂✄✠☛✁✌☎ ✄☎☛✍✄ p(w)

✄☛ ✡✝ ✘✌☎✠☛✁✌☎
h(w) = K

w
✓ ✝✟✄✠ K = 3

2F 2
a

✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✏☛✄ ✡✥✡✏☛✝☛✁✌☎ p(w) = h(w) ✝ ✝☛ ✌✌✁☎✂ ☛☎✄ ✂✌✡☛☛✁✌☎
✍✡✄✡✡✄✓ ✝✡✌✍✂ ✡✝ ✘✌☎✠☛✁✌☎ f(S) = Fa · σ|w|<S

✆✌✂✂✔☞✄ ✝☛ ✌✌✁☎✂ ☛☎ ✆✌✁☎☛ ✷✯✄ ✴✟✌✁✍ ✷✞☛✍✄ ✭✎✰✵✎

✮☎✄ ✘✌☎✠☛✁✌☎ g(x) ✠✌☎☛✁☎☛✄ ✂☛✍ ☛☎ ✁☎☛✄✍✟✝✡✡✄ [a, b] ✆✌✂✂✔☞✄ ☛☎ ✆✌✁☎☛ ✷✯✄ ☞✝☎✂ [a, b]
✂✁ ∀ x ∈

[a, b], g(x) ∈ [a, b]✎
✗✌☛✍ ☛☎✄ ✘✌☎✠☛✁✌☎ g

✌✌☎✌☛✌☎✄ ✠✍✌✁✂✂✝☎☛✄✓ g(x) ∈ [a, b]
✂✥✡✠✍✁☛ g(a) > a

✄☛

g(b) < b✎✗✌☛✍ ☛☎✄ ✡✌✁ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡
p(w) ✆✝✁✍✄ ✴✠✄ ✏☛✁ ✄✂☛ ✡✄ ✠✝✂ ☞✝☎✂ ✡✝ ✆✡☛✆✝✍☛ ☞✄✂ ✝✆✆✡✁✠✝☛✁✌☎✂

✍✡✄✡✡✄✂✵✓ ✡✝ ✘✌☎✠☛✁✌☎ f(S) ☞✡✷☎✁✄ ☞✝☎✂ ✴✭✎✲✷✵✓ ✂✄ ✍✄☞✡✷☎✁☛ ✠✌✌✌✄

f(S) = Fa · σ|w|<S = Fa

√

∫ S

−S
p(w)w2dw = Fa

√

2

∫ S

0
p(w)w2dw

✴✭✎✲✰✵

✄☛ ✄✂☛ ✠✌☎☛✁☎☛✄ ✏☛✝☎☞ p(w)
✄✂☛ ✠✌☎☛✁☎☛✄✎

✎✷☎ ☞✄ ✟✡✍✁✷✄✍ ✡✄✂ ✠✌☎☞✁☛✁✌☎✂ ☞✥✄✯✁✂☛✄☎✠✄ ☞✥☛☎ ✆✌✁☎☛ ✷✯✄ ☞✄ ✠✄☛☛✄ ✘✌☎✠☛✁✌☎ ✒
✲✎ ✎☎ ✌✌☎☛✍✄ ✏☛✥✄✡✡✄ ✄✂☛ ✌✌☎✌☛✌☎✄ ✠✍✌✁✂✂✝☎☛✄✎ ✢✄ ✍✡✂☛✡☛✝☛ ✄✂☛ ✁✌✌✡☞✁✝☛ ✆✝✍ ✆✌✂✁☛✁✟✁☛✡ ☞✄ p(w)✎✫✎ ✎☎ ✠☞✄✍✠☞✄ ☛☎ ✁☎☛✄✍✟✝✡✡✄ [Sfin, S0]

☛✄✡ ✏☛✄ f(S0) < S0
✄☛
f(Sfin) > Sfin

✎ ✖✁ ✡✄ ✌✌✌✄☎☛

☞✥✌✍☞✍✄ ✫ ☞✄ p(w)
✄✯✁✂☛✄✓ ✌☎ ✆✄☛☛ ✠✝✡✠☛✡✄✍ M = Fa · σw

✎ ✙✝☎✂ ✠✄ ✠✝✂ ✒

∀ S0 > M, f(S0) = Fa · σ|w|<S0
= M < S0.

✴✭✎✫✬✵

✶✰



�✁✁☎✠✟☛☎ �✏ �✆✟☎✄✟✠✂✁ ☎✟ ✆✆✂☛✂✠✟✁✁☎ ☎✁☛ ✂✁✆☎✄☎✟✟☎✝

✭✎ ✕✡ ✍✄✂☛✄ ✤ ☛✍✌☛✟✄✍ ☛☎ ✆✌✁☎☛ Sfin
☛✄✡ ✏☛✄ f(Sfin) > Sfin

✎ ✢✥✁☎✡✏☛✝☛✁✌☎ f(Sfin) > Sfin
✂✥✡✠✍✁☛ ✒

F 2
a · 2

∫ Sfin

0
p(w)w2dw > S2

fin.
✴✭✎✫✲✵

✰☎ ☞✡✟✄✡✌✆✆✝☎☛ ✡✄ ✆✍✄✌✁✄✍ ✌✄✌✧✍✄ ☞✄ ✴✭✎✫✲✵ ✄☎ ✁☎☛✡✞✍✝☎☛ ✆✝✍ ✆✝✍☛✁✄✂✓ ✌☎ ✌✧☛✁✄☎☛ ✒

F 2
a · 2

∫ Sfin

0
p(w)w2dw = 2F 2

a



p(w)
w3

3

∣

∣

∣

∣

∣

Sfin

0

−
∫ Sfin

0
p′(w)

w3

3
dw



 .

✖✁ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ☞✄☎✂✁☛✡ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡
p(w) ✝ ☛☎ ✌✌☞✄ ✄☎ ✬✓ ✄✡✡✄ ✄✂☛ ☞✡✠✍✌✁✂✂✝☎☛✄ ✂☛✍ ☛☎

✁☎☛✄✍✟✝✡✡✄ [0, Sfin]✓ ☞✌☎✠ ✂✝ ☞✡✍✁✟✡✄ ✄✂☛ ☎✡✞✝☛✁✟✄✎ ✙✝☎✂ ✠✄ ✠✝✂✓ ✡✥✁☎☛✡✞✍✝✡✄ ∫ Sfin

0 p′(w)w3

3 dw✄✂☛ ☎✡✞✝☛✁✟✄✓ ☞✌☎✠

2F 2
a



p(w)
w3

3

∣

∣

∣

∣

∣

Sfin

0

−
∫ Sfin

0
p′(w)

w3

3
dw



 = 2F 2
a

[

p(Sfin)
S3

fin

3
−
∫ Sfin

0
p′(w)

w3

3
dw

]

> 2F 2
a · p(Sfin)

S3
fin

3
.

✴✭✎✫✫✵

✰☎ ☛☛✁✡✁✂✝☎☛ ✠✄☛☛✄ ✌✁☎✌✍✝☛✁✌☎ ✴✭✎✫✫✵✓ ✌☎ ✟✡✍✁✷✄ ✏☛✄ ✡✥✁☎✡✏☛✝☛✁✌☎ ✴✭✎✫✲✵ ✄✂☛ ✍✄✂✆✄✠☛✡✄ ✂✁ ✒

2F 2
a · p(Sfin)

S3
fin

3
≥ S2

fin ⇔ 2F 2
a · p(Sfin)

Sfin

3
≥ 1 ⇔ p(Sfin) ≥ 3

2F 2
aSfin

.
✴✭✎✫✭✵

✖✁ ✡✥✁☎✡✞✝✡✁☛✡ ✴✭✎✫✭✵ ✄✂☛ ✟✡✍✁✷✡✄✓ ✡✥✁☎✡✞✝✡✁☛✡ ✴✭✎✫✲✵ ✄✂☛ ✍✄✂✆✄✠☛✡✄ ✡✞✝✡✄✌✄☎☛ ✄☛ ✌☎ ✆✄☛☛ ✝☎✍✌✄✍
✡✥✄✯✁✂☛✄☎✠✄ ☞✥☛☎ ✆✌✁☎☛ Sfin

☛✄✡ ✏☛✄

f(Sfin) > Sfin.
✴✭✎✫✮✵

✢✄✂ ✍✄✡✝☛✁✌☎✂ ✴✭✎✫✬✵ ✄☛ ✴✭✎✫✮✵ ✌✌☎☛✍✄☎☛ ✏☛✄ ✡✝ ✘✌☎✠☛✁✌☎ ✌✌☎✌☛✌☎✄ ✠✍✌✁✂✂✝☎☛✄ f(S) ✝ ✝☛ ✌✌✁☎✂ ☛☎
✆✌✁☎☛ ✷✯✄ ✂☛✆✡✍✁✄☛✍ ✤ ✬✓ ✂✁ ✡✝ ✠✌☎☞✁☛✁✌☎ ✴✭✎✫✭✵ ✄✂☛ ✟✡✍✁✷✡✄✎ ✕✡ ✄✂☛ ✤ ✍✄✌✝✍✏☛✄✍ ✏☛✄ ✡✝ ✠✌☎☞✁☛✁✌☎

−4 −3 −2 −1 0 1 2 3 4
0

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4

0.45

0.5

w

F = 1,5 a 

F = 3 a 

F = 5 a 

p(w) 
h(w) 

✁✂✄☎ ✭✎✰ ✄ ✖✠✝✑☛✟☛✠✝ ✑❂☞✕☛✔✟☞✝✢☞ ✑✒ ✗✠☛✝✟ ✠✕☞✘ ❅✞✝✔ ✢☞✟ ☞✕☞✡✗✏☞✭ ✏✞ ✏✠☛ ✑☞ ✗✎✠✓✞✓☛✏☛✟✍ p(w)
☞✔✟ ✒✝☞ ✌✞✒✔✔☛☞✝✝☞ ✑☞

✡✠✠☞✝✝☞ ✝✒✏✏☞ ☞✟ ✑❂✍✢✞✎✟✝✟✠✗☞ σ = 1
✘ ★✞ ✕✠✝✢✟☛✠✝ h(w) =

3

2F 2
a w

☞✔✟ ✟✎✞✢✍☞ ✗✠✒✎ ✟✎✠☛✔ ✫✞✏☞✒✎✔ ✑☞ Fa

✘ ★✞ ✢✠✝✫☞✎✌☞✝✢☞
✑☞ ✏❂✞✏✌✠✎☛✟✰✡☞ ✑☞ ✗✠☛✝✟ ✠✕☞ ✝❂☞✔✟ ✗✞✔ ✞✔✔✒✎✍☞ ✗✠✒✎ Fa = 1, 5

✘

✪✬



�✏�✏ �✂✆✆✄✠✝✁✟✠✂✁ ☎☛✂✂✁✂✠✄✠✝✟☎

−4 −2 0 2 4
0

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4

0.45

0.5

0 1 2 3 4
0

0.5

1

1.5

2

2.5

3

3.5

4

h(w) 

f(S) 

p(w) 

(a) (b) 

✁✂✄☎ ✭✎✲✬ ✄ ✖✠✝✑☛✟☛✠✝ ✑❂☞✕☛✔✟☞✝✢☞ ✑✒ ✗✠☛✝✟ ✠✕☞✘ ✬✞✮ ✏❂✍❃✒✞✟☛✠✝ p(w) = h(w) ✝❂✞ ✗✞✔ ✑☞ ✔✠✏✒✟☛✠✝ ✟ ✬✓✮ ✏✞ ✕✠✝✢✟☛✠✝
f(S) ✞ ✑☞✒✕ ✗✠☛✝✟✔ ✠✕☞✔✭ ✑✠✝✢ ✏❂✞✏✌✠✎☛✟✰✡☞ ✑☞ ✑✍✓✎✒☛✟✞✌☞ ✢✠✝✫☞✎✌☞✘ ❅✞✝✔ ✏☞✔ ✑☞✒✕ ✠✌✒✎☞✔✭ Fa = 2, 4

✘

✁☎☛✍✌☞☛✁☛✄ ✆✝✍ ✡✝ ✆✍✌✆✌✂✁☛✁✌☎ ✆✍✡✠✡☞✄☎☛✄ ✄✂☛ ✂☛☎✂✝☎☛✄✓ ✌✝✁✂ ✆✝✂ ☎✡✠✄✂✂✝✁✍✄✓ ✄☛ ✠✄✡✝ ✤ ✠✝☛✂✄ ☞✄ ✡✝
✌✁☎✌✍✝☛✁✌☎ ✴✭✎✫✫✵✎ ✗✝✍ ✄✯✄✌✆✡✄ ✴✟✌✁✍ ✷✞☛✍✄ ✭✎✲✬✵✓ ✂✄✡✌☎ ✡✝ ✌✫✌✄ ✡✌✁ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ✁✡✡☛✂☛✍✡✄ ✷✞☛✍✄✭✎✰✓ ✌✝✁✂ ✆✌☛✍ ☛☎ ✂✄☛✁✡ S = Faσ

✴✝✟✄✠ Fa = 2, 4✵✓ ✡✄ ✆✌✁☎☛ ✷✯✄ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ f(S)
✄✯✁✂☛✄ ✌✝✁✂ ✁✡

☎✥✒ ✝ ✝☛✠☛☎ ✆✌✁☎☛ ☞✥✁☎☛✄✍✂✄✠☛✁✌☎ ✄☎☛✍✄ h(w)
✄☛
p(w)✎✑✌☛✂ ✝✟✌☎✂ ✌✌☎☛✍✡ ✏☛✄✓ ✂✌☛✂ ✠✄✍☛✝✁☎✄✂ ✠✌☎☞✁☛✁✌☎✂ ✴✏☛✁ ✂✌☎☛ ✆✍✌✠☞✄✂ ☞✄✂ ✠✌☎☞✁☛✁✌☎✂ ✍✡✄✡✡✄✂✵

✂☛✍ ✡✝ ✡✌✁ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✡✥✡✠☞✄✡✡✄
j ✓ ✌☎ ✆✄☛☛ ☛✌☛✬✌☛✍✂ ☛✍✌☛✟✄✍ ☛☎

✠✌✄☎✠✁✄☎☛ F j
a

✏☛✁ ✝✂✂☛✍✄ ✡✝ ✠✌☎✟✄✍✞✄☎✠✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄✓ ✠✄ ✏☛✁ ✁✌✆✡✁✏☛✄ ✏☛✄ ✡✄
✠✌✄☎✠✁✄☎☛ F j

a
☞✌✁☛ ✫☛✍✄ ✧✌✍☎✡ ✆✝✍ ✟✝✡✄☛✍ ✌✁☎✁✌✝✡✄ F j

am
✎ ✰☎ ✄✆✄☛✓ ✂✁ F j

a
✄✂☛ ✠☞✌✁✂✁ ✁☎✘✡✍✁✄☛✍ ✤

F j
am ✓

✡✥✝✡✞✌✍✁☛☞✌✄ ✠✌☎✟✄✍✞✄ ✄☎ ✬✓ ✠✄ ✏☛✁ ✂✁✞☎✁✷✄ ✏☛✄ ✡✄ ✧✍☛✁☛ ✄✂☛✁✌✡ ✄✂☛ ☎☛✡ ✤ ✡✥✡✠☞✄✡✡✄ ✠✌☎✂✁☞✡✍✡✄✎

☛✓✡✓✠ ✠✖☛�✜✝✟ ✢✔☎✟✟✘✝✆✟ ✢✡✆✡✝✔✜✘✟✡✟
✠✌✌✌✄ ☎✌☛✂ ✡✥✝✟✌☎✂ ✌✌☎☛✍✡ ✆✍✡✠✡☞✄✌✌✄☎☛✓ ✂✄☛✡✄ ☛☎✄ ✟✝✡✄☛✍ ☞✄ Fa

✂☛✆✡✍✁✄☛✍✄ ✤
Fam

✝✂✂☛✍✄
✡✝ ✠✌☎✟✄✍✞✄☎✠✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✆✌☛✍ ✡✥✡✠☞✄✡✡✄

j
✠✌☎✂✁☞✡✍✡✄✎ ✠✄☛☛✄ ✟✝✡✄☛✍ ✌✁☎✁✌✝✡✄

☞✡✆✄☎☞ ☞✄ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ p(w)
✴✭✎✫✭✵✑� ✎ ✑✌☛✂ ☎✌☛✂

✆✍✌✆✌✂✌☎✂ ✝✷✰✞ ☞✄ ☞✡☛✄✍✌✁☎✄✍ ✡✥✄✯✆✍✄✂✂✁✌☎ ☞✄ Fam
☞✝☎✂ ✡✄ ✠✝✂ ☞✄✂ ✡✌✁✂ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ✞✝☛✂✂✁✄☎☎✄✂

✞✡☎✡✍✝✡✁✂✡✄✂✓ ✠✝✍ ✠✄ ✂✌☎☛ ☞✄✂ ✌✌☞✔✡✄✂ ✆✄✍☛✁☎✄☎☛✂ ✆✌☛✍ ☞✄✂ ☞✌☎☎✡✄✂ ✄✯✆✡✍✁✌✄☎☛✝✡✄✂ ✝✲✲✫✞✎ ✢✄✂ ✡✌✁✂

☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ☞✄ ☛✒✆✄ ✞✝☛✂✂✁✄☎☎✄ ✞✡☎✡✍✝✡✁✂✡✄ ✂✌☎☛ ☞✡✷☎✁✄✂ ✂✄✡✌☎ ✒

pσ,u(w) = αe−|βw|u ,
✴✭✎✫✶✵

✝✟✄✠ β =
1

σ

√

Γ(3/u)

Γ(1/u)
, α =

βu

2Γ(1/u)
, Γ(u) =

∫ ∞

0
e−xxu−1dx,

✌✟
σ ☞✡✂✁✞☎✄ ✡✥✡✠✝✍☛✛☛✒✆✄✓ u > 0

✡✄ ✆✝✍✝✌✔☛✍✄ ✏☛✁ ✞✌☛✟✄✍☎✄ ✡✝ ☞✡✠✍✌✁✂✂✝☎✠✄ ☞✄ ✡✝ ✡✌✁ ✄☛ ✂✝ ✘✌✍✌✄
✴
u = 2 ✆✌☛✍ ✡✝ ✡✌✁ ☎✌✍✌✝✡✄ ✄☛

u = 1 ✆✌☛✍ ✡✝ ✡✌✁ ☞✄ ✢✝✆✡✝✠✄✵✎
✎☎ ✠☞✄✍✠☞✄ ✡✝ ✟✝✡✄☛✍ ✌✁☎✁✌✝✡✄ ☞☛ ✆✝✍✝✌✔☛✍✄ Fa

✆✌☛✍ ✡✝✏☛✄✡✡✄ ✡✝ ✠✌☎☞✁☛✁✌☎ ✡☎✌☎✠✡✄ ☞✝☎✂
✡✝ ✆✍✌✆✌✂✁☛✁✌☎ ✲ ✄✂☛ ✍✄✂✆✄✠☛✡✄✎ ✠✄✡✝ ✍✄✟✁✄☎☛ ✤ ☛✍✌☛✟✄✍ ✡✝ ✂✌✡☛☛✁✌☎ ☞✄ ✡✥✡✏☛✝☛✁✌☎ p(w) = h(w)✎✢✥✁☎☛✄✍✂✄✠☛✁✌☎ ✄✯✁✂☛✄ ✂✄☛✡✄✌✄☎☛ ✆✌☛✍ w ✆✌✂✁☛✁✘ ✄☛ ✡✄ ✆✝✍✝✌✔☛✍✄ β ☞✄ ✡✝ ✞✝☛✂✂✁✄☎☎✄ ✞✡☎✡✍✝✡✁✂✡✄ ✄✂☛
☛✌☛✬✌☛✍✂ ✆✌✂✁☛✁✘✓ ☞✌☎✠ ✡✥✡✏☛✝☛✁✌☎ ✂✥✡✠✍✁☛ ✒

αe−(βw)u

=
3

2F 2
aw

,
✌☛ ✄☎✠✌✍✄ w =

3

2αF 2
a

e(βw)u

.
✴✭✎✫✪✵

✒✁✩✠✒✎ ✞✏✏✍✌☞✎ ✏☞✔ ✝✠✟✞✟☛✠✝✔✭ ✠✝ ✝☞ ✕✞☛✟ ✗✞✔ ✞✗✗✞✎✞✂✟✎☞ ✏❂☛✝✑☛✢☞ j
✑☞ ✏❂✍✢✰☞✏✏☞ ✑✞✝✔ ✏☞ ✑✍✫☞✏✠✗✗☞✡☞✝✟ ✗✎✍✔☞✝✟✍ ☛✢☛✘

✪✲



�✁✁☎✠✟☛☎ �✏ �✆✟☎✄✟✠✂✁ ☎✟ ✆✆✂☛✂✠✟✁✁☎ ☎✁☛ ✂✁✆☎✄☎✟✟☎✝

✢✝ ✘✌☎✠☛✁✌☎ q(w) = 3
2F 2

a
e(βw)u ✄✂☛ ✌✌☎✌☛✌☎✄ ✠✍✌✁✂✂✝☎☛✄ ✄☛ ✠✌☎✟✄✯✄✎ ✎☎ ✌✌☎☛✍✄ ✝✁✂✡✌✄☎☛ ✏☛✥✄✡✡✄

✝ ✬✓ ✲ ✌☛ ✫ ✆✌✁☎☛✂ ☞✥✁☎☛✄✍✂✄✠☛✁✌☎ ✝✟✄✠ ✡✝ ☞✍✌✁☛✄ y(w) = w ✓ ✄☛ ☞✌☎✠ ✏☛✄ ✡✥✡✏☛✝☛✁✌☎ ✴✭✎✫✪✵ ✝☞✌✄☛
✬✓ ✲ ✌☛ ✫ ✂✌✡☛☛✁✌☎✂✎ ✎☎ ✌✧☛✁✄☎☛ ☛☎✄ ✂✌✡☛☛✁✌☎ ☛☎✁✏☛✄ w0

✡✌✍✂✏☛✄ q(w0)
✄✂☛ ☛✝☎✞✄☎☛✄ ✤ ✡✝ ✆✍✄✌✁✔✍✄

✧✁✂✂✄✠☛✍✁✠✄✎ ✠✄✡✝ ✍✄✟✁✄☎☛ ✤ ✠☞✄✍✠☞✄✍ ✡✄ ✆✌✁☎☛ w0
✆✌☛✍ ✡✄✏☛✄✡ ✌☎ ✝ q′(w0) = 1✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✏☛✄ ✒

3

2αF 2
a

uβuwu−1
0 e(βw0)u

= 1.
✴✭✎✫✯✵

✰☎ ✍✄✌✆✡✝✩✝☎☛ ✴✭✎✫✪✵ ☞✝☎✂ ✴✭✎✫✯✵✓ ✌☎ ✌✧☛✁✄☎☛ ✒

wu
0 =

1

uβu
.

✴✭✎✫✷✵

✙✌☎✠✓ ✂✁ ✌☎ ✠☞✄✍✠☞✄ ☛☎✄ ✂✌✡☛☛✁✌☎ ☛☎✁✏☛✄ ☞✄ ✡✥✡✏☛✝☛✁✌☎ ✴✭✎✫✪✵✓ ✌☎ ☛✍✌☛✟✄ ✒

w0 =
1

βu
1
u

.
✴✭✎✫✰✵

✰☎ ✍✄✌✆✡✝✩✝☎☛ w0
✄☎ ✴✭✎✫✪✵✓ ✌☎ ☛✍✌☛✟✄ ✡✝ ✟✝✡✄☛✍ ☞✄ Fam

✆✌☛✍ ✡✝✏☛✄✡✡✄ ✠✄☛☛✄ ✂✌✡☛☛✁✌☎ ✄✯✁✂☛✄✓ ✄☛

☞✌☎✠ ✡✝ ✟✝✡✄☛✍ ✌✁☎✁✌✝✡✄ ✏☛✁ ✝✂✂☛✍✄ ✡✝ ✠✌☎✟✄✍✞✄☎✠✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ☞✄ ✆✌✁☎☛ ✷✯✄✓ ✄☎
✠✌☎✂✁☞✡✍✝☎☛ ☛☎✄ ✌✌☞✡✡✁✂✝☛✁✌☎ ☞✄ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✆✝✍ ☞✄✂ ✞✝☛✂✂✁✄☎☎✄✂
✞✡☎✡✍✝✡✁✂✡✄✂ ✒

Fam =

√

3β

2α
(ue)

1
u =

√

3Γ( 1
u)

u
(ue)

1
u ,

✴✭✎✭✬✵

✁☎☞✡✆✄☎☞✝☎☛ ☞✄ σ ✌✝✁✂ ☞✁✆✡✍✄☎☛ ✆✌☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄
j ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎✎

☛✓✡✓✟ �✙✕✘✗✘✟✔✕✘✖✆
✢✄✂ ✟✝✡✄☛✍✂ ✌✁☎✁✌✝✡✄✂ F j

am
☞✄✂ ✠✌☎✂☛✝☎☛✄✂ ✌☛✡☛✁✆✡✁✠✝☛✁✟✄✂ ✝✂✂☛✍✄☎☛ ✡✝ ✠✌☎✟✄✍✞✄☎✠✄ ☞✄ ✡✥✝✡✞✌✛

✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ☞✄ ✆✌✁☎☛ ✷✯✄ ✟✄✍✂ ☞✄✂ ✂✄☛✁✡✂ ☞✁✆✡✍✄☎☛✂ ☞✄ ✬ ✤ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄
j ✎

✠✄✆✄☎☞✝☎☛✓
✠✄✂ ✂✄☛✁✡✂ ✌☎☛ ☛☎ ☞✡✂✝✟✝☎☛✝✞✄ ✁✌✆✌✍☛✝☎☛ ✒ ✡✄✂ ✟✝✡✄☛✍✂ ☞✄ F j

am
✂✌☎☛ ✂✌☛✟✄☎☛ ✁☎✘✡✍✁✄☛✍✄✂ ✤ ✭ ✄☛ ✄✡✡✄✂

☞✁✌✁☎☛✄☎☛ ✝✟✄✠ ✡✄ ✆✝✍✝✌✔☛✍✄ u ✏☛✁ ✞✔✍✄ ✡✝ ✘✌✍✌✄ ☞✄✂ ✞✝☛✂✂✁✄☎☎✄✂ ✞✡☎✡✍✝✡✁✂✡✄✂ ✴✷✞☛✍✄✂ ✭✎✲✲ ✄☛ ✭✎✲✫✵✎
✙✝☎✂ ✠✄ ✠✝✂✓ ✡✄ ✂✄☛✁✡ ✌✧☛✄☎☛ ✄✂☛ ✁☎✘✡✍✁✄☛✍ ✤ ✠✄✡☛✁ ☞✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ✄☛ ✡✝ ✟✄✍✂✁✌☎ ✍✄✠✌☎✂☛✍☛✁☛✄
☞☛ ✂✁✞☎✝✡ ✍✁✂✏☛✄ ☞✄ ✠✌☎☛✄☎✁✍ ☛✍✌✆ ☞✄ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂ ✄☛ ☞✌☎✠ ✫☛✍✄ ☛✍✌✆ ✧✍☛✁☛✡✄✎ ✙✥✝☛☛✍✄ ✆✝✍☛✓ ☛☎
✝✟✝☎☛✝✞✄ ✝✆✆✌✍☛✡ ✆✝✍ ✡✄✂ ✂✄☛✁✡✂ ✠✝✡✠☛✡✡✂ ✤ ✆✝✍☛✁✍ ☞✄ F j

am
✄✂☛ ✏☛✥✁✡✂ ☎✄ ☞✡✆✄☎☞✄☎☛ ✆✝✂ ☞✄ ✡✝ ☛✝✁✡✡✄

N ☞☛ ✂✁✞☎✝✡✓ ✠✌✌✌✄ ☞✝☎✂ ✡✄ ✠✝✂ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✁✠✝✂✄✁☛✠✁✚ ☞✄ ✙✌☎✌☞✌ ✄☛ ✦✌☞☎✂☛✌☎✄✎ ✰☎ ✄✆✄☛✓ ✡✄
✂✄☛✁✡ ☛☎✁✟✄✍✂✄✡ Su = σ

√

2 logeN
☛✄☎☞ ✟✄✍✂ ✡✥✁☎✷☎✁ ✏☛✝☎☞ ✡✝ ✡✌☎✞☛✄☛✍ ☞☛ ✂✁✞☎✝✡ ✝☛✞✌✄☎☛✄ ✄☛ ☞✌☎✠

✆✄☛ ☞✥✡✟✡☎✄✌✄☎☛✂ ✴✟✌✁✍✄ ✝☛✠☛☎✵ ✂✄✍✌☎☛ ✄✯☛✍✝✁☛✂ ☞☛ ✧✍☛✁☛ ✆✌☛✍ ✡✄✂ ✂✁✞☎✝☛✯ ☞✄ ✞✍✝☎☞✄ ☛✝✁✡✡✄✎
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☛✁✌☎☎✄ ✟✂✂✝ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✂☛✆✡✍✁✄☛✍✂ ✝☛ ✂✄☛✁✡ ✌✁☎✁✌✝✡ ✠✌✍✍✄✂✆✌☎☞✝☎☛✂
✴☞✌☎☛ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ✝✂✂✌✠✁✡✄✂ ✠✌☎☛✍✁✧☛✄☎☛ ✤ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛ ✁☎✠✡☛✂
☞✝☎✂ ✡✥✁☎☛✄✍✟✝✡✡✄✵✎

✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ☎✌☛✂ ☛☛✁✡✁✂✌☎✂ ✡✄ ✂✄☛✁✡✡✝✞✄ ✟✌✆☛✁✌✝✡✠ ✆✌☛✍ ☞✡☛✄✠☛✄✍ ✄☛ ✂✄✞✌✄☎☛✄✍ ✍✁✞✌☛✍✄☛✂✄✌✄☎☛
✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✁✌✆✌✍☛✝☎☛✂ ✄☛ ✌✁☎✁✌✁✂✄✍ ✡✄✂ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂✓ ✄☛ ✡✄ ✂✄☛✁✡✡✝✞✄ ✌✁☎✁✌✝✡ ✆✌☛✍ ✞✝✍☞✄✍
☛☎ ✌✝✯✁✌☛✌ ☞✥✁☎✘✌✍✌✝☛✁✌☎ ✆✌✂✂✁✧✡✄ ✂☛✍ ✠✄✂ ✡✟✡☎✄✌✄☎☛✂ ✄☛ ✝✂✂☛✍✄✍ ✡✄☛✍ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✆✍✡✠✁✂✄✎
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✢✝ ✌✡☛☞✌☞✄ ☞✡✠✍✁☛✄ ✆✍✡✠✡☞✄✌✌✄☎☛ ✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ✂☛✁✟✁✄ ☞☛ ☞✡✧✍☛✁☛✝✞✄✓✘✝✟✌✍✁✂✄ ✡✞✝✡✄✌✄☎☛ ☛☎✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✂✁✌✆✡✄ ☞☛ ✂✁✞☎✝✡✑✛ ✎ ✰☎ ✄✆✄☛✓ ✡✄✂ ✆✌✍☛✁✌☎✂ ☞☛ ✂✁✞☎✝✡ ✡✡✁✌✁☎✡✄✂
✆✝✍ ☞✡✧✍☛✁☛✝✞✄ ✂✌☎☛ ✌✁✂✄✂ ✤ ✬✓ ☞✌☎✠ ✁☞✄☎☛✁✷✄✍ ☛☎ ✡✟✡☎✄✌✄☎☛ ✍✄✟✁✄☎☛ ✤ ☞✡☛✄✠☛✄✍ ✡✄✂ ✆✝✍☛✁✄✂ ☎✌☎
☎☛✡✡✄✂✎

✠✄✆✄☎☞✝☎☛✓ ☛☎ ☞✄✂ ✝✟✝☎☛✝✞✄✂ ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ✄✂☛ ✡✥✁☎✘✌✍✌✝☛✁✌☎ ✠✌☎✬✌✁☎☛✄
☛✄✌✆✂✛✘✍✡✏☛✄☎✠✄ ✏☛✥✄✡✡✄ ✌✆✍✄ ✆✌☛✍ ☞✡✠✍✁✍✄ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✴✡✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✵✎ ✢✥✁☎✘✌✍✌✝☛✁✌☎
✡✁✡✄ ✤ ✡✝ ☞☛✍✡✄ ✄☛ ✤ ✡✝ ✆✌✂✁☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄ ☞✥☛☎ ✡✟✡☎✄✌✄☎☛ ✄✂☛ ✁☎✠✌✍✆✌✍✡✄ ☞✝☎✂ ✂✝ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎
✄☎ ✌☎☞✄✡✄☛☛✄✂ ✒ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ☞☛ ✂✁✞☎✝✡ ☞✡✧✍☛✁☛✡ ☎✄ ✂✄✌✧✡✄ ✆✝✂ ✬☛☞✁✠✁✄☛✂✄ ✤ ✠✄☛☛✄ ✡☛✝✆✄✓ ✄☛ ✌☎
✆✍✡✘✔✍✄ ✝✆✆✡✁✏☛✄✍ ☛☎✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ☞✁✍✄✠☛✄ ✂☛✍ ✡✄ ✟✄✠☛✄☛✍ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄✂ ✝✷✯✞✎ ✗✡☛✂
✆✍✡✠✁✂✡✌✄☎☛✓ ✌☎ ☞✌✁☛ ✠✝✡✠☛✡✄✍ ✡✝ ✠✌☎☛✍✁✧☛☛✁✌☎ ☞✄ ✠☞✝✏☛✄ ✌☎☞✄✡✄☛☛✄ ☞✝☎✂ ✡✄ ✂✁✞☎✝✡ ✍✄✠✌☎✂☛✍☛✁☛✎ ✮☎✄
✌✡☛☞✌☞✄ ✂✁✌✆✡✄✓ ✏☛✁ ✆✍✄☎☞ ✄☎ ✠✌✌✆☛✄ ✡✝ ✂☛✍☛✠☛☛✍✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✄☛ ✡✄✂ ☞✁✌✄☎✂✁✌☎✂ ☞✄✂ ✷✡☛✍✄✂
☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎✛✍✄✠✌☎✂☛✍☛✠☛✁✌☎✓ ✄✂☛ ✡✝ ✂☛✁✟✝☎☛✄ ✒

✲✎ ✆✌☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄ ☞✄ ☞✡☛✝✁✡✂ j = 1 . . .M ✓ ✌☎ ✠☞✄✍✠☞✄ ✡✄✂ ✁☎✂☛✝☎☛✂ ☞✄ ✷☎ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂
☞✥✁☎☞✁✠✄ p ✒

d = p · 2j ✴✆✌☛✍ ✡✥✡✠☞✄✡✡✄ ✧✝✂✂✄ ✘✍✡✏☛✄☎✠✄ ☞✄ ✡✥✝✆✆✍✌✯✁✌✝☛✁✌☎ j = M + 1✓
d = p · 2M ✵ ✝

✫✎ ✌☎ ✠✝✡✠☛✡✄ ✡✄✂ ☛✝✁✡✡✄✂ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ✍✄✂✆✄✠☛✁✟✄✂ Tj = (L− 1) · (2j − 1) + 1✓ ✠✄ ✏☛✁ ✆✄✍✌✄☛ ☞✄
☛✍✌☛✟✄✍ ✡✄☛✍✂ ✁☎✂☛✝☎☛✂ ☞✄ ☞✡✧☛☛ ✒

u = d − Tj + 1✓ j = 1 . . .M ✓ ✴
u = d − (L − 1) · (2M − 1)

✒✜❅✞✝✔ ✝✠✟✎☞ ☛✝✟☞✎✗✎✍✟✞✟☛✠✝✭ ✏☞ ✗✠☛✝✟ ✠✕☞ ✑☞ ✏✞ ✕✠✝✢✟☛✠✝ ✬✝✘✱✡✮ ✗☞✒✟ ✢✠✁✝✢☛✑☞✎ ✞✫☞✢ ✏☞ ✢✎☛✟❄✎☞ ✑❂✞✎✎✪✟ ✬✝✘✱✚✮
✔☞✒✏☞✡☞✝✟ ✔☛ ✏❂✍✢✞✎✟✝✟✠✗☞ ☞✔✟ ✢✞✏✢✒✏✍ ✄ ✗✞✎✟☛✎ ✑☞✔ ✢✠☞✞✢☛☞✝✟✔ ✬✝✘✱✂✮✘ ✖☞✔ ✑☞✒✕ ✫✞✏☞✒✎✔ ✔✠✝✟ ✗✎✠✢✰☞✔ ❃✒✞✝✑ ✏☞✔
✢✠☞✞✢☛☞✝✟✔ ✑✒ ✔☛✌✝✞✏ ☛✝✕✠✎✡✞✟☛✕ ✝☞ ✡✠✑☛✠☞✝✟ ✗✞✔ ✏❂✍✢✞✎✟✝✟✠✗☞✭ ✠✒ ✟✎❄✔ ✗☞✒✭ ✢❂☞✔✟✝✄✝✑☛✎☞ ❃✒✞✝✑ ☛✏✔ ✔✠✝✟ ✗✏✒✟✂✟ ✎✞✎☞✔✘
✒✴★✞ ✡✍✟✰✠✑☞ ✗✎✍✔☞✝✟✍☞ ☛✢☛ ☞✔✟ ✫✞✏✞✓✏☞ ✗✠✒✎ ✒✝☞ ✑✍✢✠✡✗✠✔☛✟☛✠✝ ☞✝ ✠✝✑☞✏☞✟✟☞✔ ✑❂✒✝☞ ✟✞☛✏✏☞ ✍✌✞✏☞ ✄ ✢☞✏✏☞ ✑✒ ✔☛✌✝✞✏✭✢☞ ❃✒☛ ✍❃✒☛✫✞✒✟ ✄ ✒✝☞ ✗✎☛✔☞ ☞✝ ✢✠✡✗✟☞ ✑☞✔ ☞✔☞✟✔ ✑☞ ✓✠✎✑ ✗✞✎ ✏✞ ✗✍✎☛✠✑☛✔✞✟☛✠✝ ✑✒ ✔☛✌✝✞✏✘
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✎☞✗✎✍✔☞✝✟☞ ✏☞✔ ✎☞✢✠✝✔✟✎✒✢✟☛✠✝✔ ✑☞✔ ✍✢✰☞✏✏☞✔ ✝✠✝✝✝✒✏✏☞✔ ☞✟ ✏☞✒✎ ✔✠✡✡☞✭ ✢❂☞✔✟✝✄✝✑☛✎☞ ✏☞ ✔☛✌✝✞✏ ✑✍✓✎✒☛✟✍✘

✆✌☛✍ ✡✥✡✠☞✄✡✡✄
j = M + 1✵✓ ✌✟ L ☞✡✂✁✞☎✄ ✡✝ ✡✌☎✞☛✄☛✍ ☞✄ ✡✝ ✍✡✆✌☎✂✄ ✁✌✆☛✡✂✁✌☎☎✄✡✡✄ ☞✄✂ ✷✡☛✍✄✂

✴✟✌✁✍ ✝✯✲✞ ✆✌☛✍ ✡✄✂ ✄✯✆✍✄✂✂✁✌☎✂ ☞✄✂ ✷✡☛✍✄✂ ✝✂✂✌✠✁✡✂ ✝☛✯ ✌☎☞✄✡✄☛☛✄✂ ☞✄ ✙✝☛✧✄✠☞✁✄✂✵ ✝

✭✎ ✌☎ ✠✍✡✄✓ ✆✌☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄✓ ☛☎ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄ ✴✲ ✄☎☛✍✄ ✡✄✂ ✁☎✂☛✝☎☛✂ ☞✄ ☞✡✧☛☛ ✄☛ ☞✄ ✷☎✓ ✬
✝✁✡✡✄☛✍✂✵ ✝

✮✎ ✌☎ ✝✆✆✡✁✏☛✄ ☛☎ ✎✮ ✡✌✞✁✏☛✄ ✄☎☛✍✄ ✡✄✂ ✟✄✠☛✄☛✍✂ ✧✁☎✝✁✍✄✂ ✠✌✍✍✄✂✆✌☎☞✝☎☛ ✝☛✯ ✡✠☞✄✡✡✄✂ ☞✄ ✡✝
☞✡✠✌✌✆✌✂✁☛✁✌☎✓ ✆✌☛✍ ✠✍✡✄✍ ☛☎ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ☞☛ ✂✁✞☎✝✡ ☞✡✧✍☛✁☛✡ ✴✟✌✁✍
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✁✂✄☎ ✭✎✲✪ ✄ ✂☛✌✝✞✒✕ ✑☞ ✟☞✔✟ ✞✎✟☛✠✢☛☞✏✔ ✑☞ ❅✠✝✠✰✠ ☞✟ ✁✠✰✝✔✟✠✝☞ ✘✝✳✙✘

✄ ✡✝ ✆☛✁✂✂✝☎✠✄ ☞☛ ✧✍☛✁☛ ✠✌✡✌✍✡ ✌✧☛✄☎☛ ✤ ✡✝ ✂✌✍☛✁✄ ☞☛ ✷✡☛✍✄ ✄✂☛ ✌✌☞✁✷✡✄✎ ✑✌☛✂ ✝✟✌☎✂ ☞✌☎✠
✍✄☎✌✍✌✝✡✁✂✡ ✡✄✂ ✧✍☛✁☛✂✓ ✆✌☛✍ ✌✧☛✄☎✁✍ ✡✄✂ ✡✠✝✍☛✂✛☛✒✆✄✂ ✌✄☎☛✁✌☎☎✡✂✎ ✢✝ ✠✌☎✂✡✏☛✄☎✠✄ ☞✁✍✄✠☛✄ ☞✄
✠✄ ✠✝✡✠☛✡ ✄✂☛ ✡✝ ✌✌☞✁✷✠✝☛✁✌☎ ☞✁✆✡✍✄☎☛✄ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✥✡✠☞✄✡✡✄ ☞✄✂ ✟✝✡✄☛✍✂ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂

☞✥✌☎☞✄✡✄☛☛✄✎ ✎✁☎✂✁✓ ✡✄✂ ✧✝✂✂✄✂ ✘✍✡✏☛✄☎✠✄✂ ☞☛ ✧✍☛✁☛ ✠✌✡✌✍✡ ✂✄ ✍✄☛✍✌☛✟✄☎☛ ✝✌✆✡✁✷✡✄✂ ✆✝✍ ✍✝✆✆✌✍☛
✝☛✯ ✧✝✂✂✄✂ ✘✍✡✏☛✄☎✠✄✂ ☞☛ ✧✍☛✁☛ ✧✡✝☎✠✓ ✠✄ ✏☛✁ ✝☛✍✝ ✆✌☛✍ ✠✌☎✂✡✏☛✄☎✠✄ ✡✝ ✌✌☞✁✷✠✝☛✁✌☎ ☞✄✂
✂✄☛✁✡✂ ✠✌✍✍✄✂✆✌☎☞✝☎☛✂ ✄☛ ☞✌☎✠ ☞✄ ✡✝ ✏☛✝✡✁☛✡ ☞☛ ☞✡✧✍☛✁☛✝✞✄ ✴☛☎ ✂✄☛✁✡ ✆✡☛✂ ☞✝☛☛ ✆✄☛☛ ✠✌☎☞☛✁✍✄
✤ ✌✌✁☎✂ ☞✄ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂✓ ✟✌✁✍✄ ✤ ☞✄✂ ☎✌☎✛☞✡☛✄✠☛✁✌☎✂✵ ✝✄ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞☛ ✧✍☛✁☛ ✠✌✡✌✍✡ ✄✂☛ ☞✁✆✡✍✄☎☛✄✎ ✰✆✄✠☛✁✟✄✌✄☎☛✓ ✡✝ ✠✌☎✟✌✡☛☛✁✌☎ ✝✟✄✠ ☛☎ ✷✡☛✍✄
✍✄✟✁✄☎☛ ✤ ✠✝✡✠☛✡✄✍ ✠☞✝✏☛✄ ✡✠☞✝☎☛✁✡✡✌☎ ☞☛ ✂✁✞☎✝✡ ☞✄ ✂✌✍☛✁✄ ✴✧✍☛✁☛ ✠✌✡✌✍✡✵ ✠✌✌✌✄ ☛☎✄ ✂✌✌✌✄

✆✌☎☞✡✍✡✄ ☞✄✂ ✡✠☞✝☎☛✁✡✡✌☎✂ ☞☛ ✂✁✞☎✝✡ ☞✥✄☎☛✍✡✄ ✴✧✍☛✁☛ ✧✡✝☎✠ ✝✡✡✝☛✌✁✍✄✵✎ ✠✌☎✘✌✍✌✡✌✄☎☛ ✝☛ ☛☞✡✌✛
✍✔✌✄ ✠✄☎☛✍✝✡✄✛✡✁✌✁☛✄ ✴✞✡☎✡✍✝✡✁✂✝☛✁✌☎ ☞✄ ✢✁☎☞✄✧✄✍✞✵ ✝✲✬✬✞✓ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞✥☛☎✄ ✂✌✌✌✄ ☞✄
✟✝✍✁✝✧✡✄✂ ✝✡✡✝☛✌✁✍✄✂ ✁☎☞✡✆✄☎☞✝☎☛✄✂ ☛✄☎☞ ✟✄✍✂ ☛☎✄ ☞✁✂☛✍✁✧☛☛✁✌☎ ✞✝☛✂✂✁✄☎☎✄✎ ✠✥✄✂☛ ☎✌☛✝✌✌✄☎☛

☎✌☛✍✄ ✠✝✂✓ ✠✌✌✌✄ ☎✌☛✂ ✆✌☛✟✌☎✂ ✡✄ ✍✄✌✝✍✏☛✄✍ ☞✝☎✂ ✡✝ ✷✞☛✍✄ ✭✎✲✰✎
✠✄✆✄☎☞✝☎☛✓ ✡✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✟✝✍✁✄☎☛ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✝ ☞✁✂✛
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✁✂✄☎ ✭✎✲✯ ✄ ✂☛✌✝✞✒✕ ✔☛✡✒✏✍✔ ✗✎✠✢✰☞✔ ✑☞✔ ✔☛✌✝✞✒✕ ✎✍☞✏✔ ✑☞ ✗✰✠✝✠☞✝✟✍✎✠✌✎✞✗✰☛☞✘ ★❂✞✕☞ ✑☞✔ ✞✓✔✢☛✔✔☞✔ ✎☞✗✎✍✔☞✝✟☞ ✏☞
✟☞✡✗✔✭ ☞✝ ✔☞✢✠✝✑☞✔✘

☛✍✁✧☛☛✁✌☎ ☞☛ ✧✍☛✁☛✓ ✂☛✍☛✌☛☛ ✆✌☛✍ ✡✄ ✧✍☛✁☛ ✧✡✝☎✠✓ ✌✝✁✂ ✝☛✂✂✁✓ ✘✝✁✧✡✄✌✄☎☛✓ ✆✌☛✍ ✡✄ ✧✍☛✁☛ ✠✌✡✌✍✡✎
✑✌☛✂ ✝✟✌☎✂ ☞✌☎✠ ✠☞✌✁✂✁ ☞✄ ☛✄✂☛✄✍ ✡✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ✝✟✄✠ ☛✌☛✂ ✠✄✂ ☛✒✆✄✂ ☞✄ ✧✍☛✁☛✓ ✂✝✠☞✝☎☛ ✏☛✄
✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄✂ ✍✡✂☛✡☛✝☛✂ ☞✌✁☛ ☛✄☎✁✍ ✠✌✌✆☛✄ ☞✄✂ ✍✄✌✝✍✏☛✄✂ ✆✍✡✠✡☞✄☎☛✄✂✎

☛✓✂✓✟ ✂✝✘✕�✝✝✟ ☛✝ ✙✝✝�✖✝✗✔✆✄✝
✑✌☛✂ ✝✟✌☎✂ ☛☛✁✡✁✂✡ ✆✡☛✂✁✄☛✍✂ ✠✍✁☛✔✍✄✂ ✆✌☛✍ ✡✟✝✡☛✄✍ ✄☛ ✠✌✌✆✝✍✄✍ ✡✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ☞✄✂ ✝✡✞✌✛

✍✁☛☞✌✄✂ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✒
✄ ✡✥✄✍✍✄☛✍ ✏☛✝☞✍✝☛✁✏☛✄ ✌✌✒✄☎☎✄ ✄☎☛✍✄ ✡✄ ✂✁✞☎✝✡ ✌✍✁✞✁☎✝✡

s
✄☛ ✡✄ ✂✁✞☎✝✡ ☞✡✧✍☛✁☛✡

c
✝✭✯✓ ✯✲✞✓ ✏☛✁ ✄✂☛

✡✄ ✠✍✁☛✔✍✄ ✡✄ ✆✡☛✂ ☛☛✁✡✁✂✡ ☞✝☎✂ ✡✥✝✆✆✍✡✠✁✝☛✁✌☎ ✏☛✝☎☛✁☛✝☛✁✟✄ ☞✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ✒

EQM = E
[

(s − c)2
]

;
✴✭✎✭✫✵

✪✷
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✁✂✄☎ ✭✎✲✷ ✄ ✂✗☞✢✟✎☞✔ ✑✒ ✓✎✒☛✟ ✓✏✞✝✢ ☞✟ ✑✒ ✓✎✒☛✟ ✢✠✏✠✎✍ ✔☛✡✒✏✍✔✭ ✑☞ ✑☛✔✟✎☛✓✒✟☛✠✝ ✏✞✗✏✞✢☛☞✝✝☞ ☞✟ ✍✢✞✎✟✝✟✠✗☞ σ = 0, 5
✭

✒✟☛✏☛✔✍✔ ✗✠✒✎ ✟☞✔✟☞✎ ✏☞✔ ✞✏✌✠✎☛✟✰✡☞✔ ✑☞ ✑✍✓✎✒☛✟✞✌☞ ✬
fe = 5000 ✯✞✘✮✘

✄ ✡✥✄✍✍✄☛✍ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎✓ ☞✡✷☎✁✄ ✤ ✆✝✍☛✁✍ ☞✄ ✡✥✡✟✝✡☛✝☛✁✌☎ ☞✄ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞☛ ✂✁✞☎✝✡ ✁☎✘✌✍✛
✌✝☛✁✘ ✴✂✌✌✌✄ ☞✄✂ ☞☛✍✡✄✂ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂✵ ✍✝✆✆✌✍☛✡✄ ✤ ✡✝ ☞☛✍✡✄ ☞☛ ✂✁✞☎✝✡ ✌✄✂☛✍✡✎ ✮☎ ✂✁✞☎✝✡
✠✍✄☛✯ ✆✌☛✟✝☎☛ ✫☛✍✄ ✠✝✍✝✠☛✡✍✁✂✡ ✆✝✍ ✡✄ ✍✝✆✆✌✍☛ ✄☎☛✍✄ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄ ✂✝ ✆✝✍☛✁✄ ✁☎✘✌✍✌✝☛✁✟✄
✄☛ ✂✝ ✡✌☎✞☛✄☛✍✓ ☎✌☛✂ ✠✝✡✠☛✡✌☎✂ ✄☛ ✠✌✌✆✝✍✌☎✂ ✠✄ ✍✝✆✆✌✍☛ ✆✌☛✍ ✡✄ ✂✁✞☎✝✡ ☞✥✌✍✁✞✁☎✄

s
✄☛ ✡✄ ✂✁✞☎✝✡

☞✡✧✍☛✁☛✡
c

✒

ES =

Dev,c

Dc
− Dev,s

Ds

Dev,s

Ds

,
✴✭✎✭✭✵

✌✟
Dev,c ✓ Dc ✓ Dev,s

✄☛
Ds

✂✌☎☛ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄ ☛✌☛✂ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✄☛ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞☛
✂✁✞☎✝✡ ☞✡✧✍☛✁☛✡

c✓ ✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ☞☛ ✂✁✞☎✝✡ ☞✥✌✍✁✞✁☎✄
s
✎ ✢✝ ✟✝✡✄☛✍ ✆✌✂✁☛✁✟✄ ✌☛ ☎✡✞✝☛✁✟✄ ☞✄

ES ☞✌☎☎✄ ☛☎✄ ✁☎☞✁✠✝☛✁✌☎ ✂☛✍ ✡✝ ✂☛✍✡✟✝✡☛✝☛✁✌☎ ✌☛ ✡✝ ✂✌☛✂✛✡✟✝✡☛✝☛✁✌☎ ☞✄ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂
✡✟✡☎✄✌✄☎☛✂ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞☛ ✂✁✞☎✝✡✓ ✝✡✌✍✂ ✏☛✄ ✡✝ ☎✌✍✌✝✡✁✂✝☛✁✌☎ ✆✝✍ ✍✝✆✆✌✍☛

✝☛ ✂✁✞☎✝✡ ☞✥✌✍✁✞✁☎✄ ☎✌☛✂ ✆✄✍✌✄☛ ☞✥✌✧☛✄☎✁✍ ☛☎✄ ✟✝✡✄☛✍ ✍✄✡✝☛✁✟✄ ✝☛ ✂✁✞☎✝✡ ✡☛☛☞✁✡ ✝
✄ ✡✥✄✍✍✄☛✍ ☞✄ ☞✡☛✄✠☛✁✌☎✓ ☞✡✷☎✁✄ ✠✌✌✌✄ ✡✝ ☞✁✆✡✍✄☎✠✄ ☎✌✍✌✝✡✁✂✡✄ ✄☎☛✍✄ ✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂
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✝☞☞✁☛✁✘✂ ☛☛✁✡✁✂✡✂ ✌☎☛ ✡☛✡ ✞✡☎✡✍✡✂ ✠✌✌✌✄ ☞✡✠✍✁☛ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✭✎✯✎✲✎

✢✄✂ ☞✁✆✡✍✄☎✠✄✂ ✄☎☛✍✄ ✡✄✂ ✍✡✂☛✡☛✝☛✂ ✌✧☛✄☎☛✂ ✂✌☎☛ ✆✄☛ ✁✌✆✌✍☛✝☎☛✄✂✓ ✌✝✁✂ ✠✌☎✷✍✌✄☎☛ ✄☎ ✞✡☎✡✍✝✡
✡✥☛☛✁✡✁☛✡ ☞✄ ✡✥✝☞✡✏☛✝☛✁✌☎ ☞✄ ✡✥✌☎☞✄✡✄☛☛✄ ✝✟✄✠ ✡✄ ✂✁✞☎✝✡ ☛✍✝✁☛✡✎ ✪✡✌✧✝✡✄✌✄☎☛✓ ✡✄✂ ✙✝☛✧✄✠☞✁✄✂ ✂✄ ✠✌✌✛
✆✌✍☛✄☎☛ ✌✁✄☛✯ ✏☛✄ ✡✄✂ ✖✒✌✡✄☛✂✓ ✆✍✌✧✝✧✡✄✌✄☎☛ ✤ ✠✝☛✂✄ ☞☛ ✠✝✍✝✠☛✔✍✄ ✝✂✒✌✡☛✍✁✏☛✄ ☞✄✂ ✂✁✞☎✝☛✯ ✞✡☎✡✛
✍✡✂ ✴✟✌✁✍ ✝☎☎✄✯✄ ✎ ✆✌☛✍ ☛☎✄ ✆✍✡✂✄☎☛✝☛✁✌☎ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ☛✄✂☛✡✄✂✵✎ ✢✥✄✍✍✄☛✍ ✏☛✝☞✍✝☛✁✏☛✄ ✌✌✒✄☎☎✄
✴✰��✵ ✄☛ ✡✥✄✍✍✄☛✍ ☞✄ ☞✡☛✄✠☛✁✌☎ ✴

ED✵ ☞✁✌✁☎☛✄☎☛ ✝✟✄✠ ✡✥✌✍☞✍✄✓ ✠✄ ✏☛✁ ✂✥✄✯✆✡✁✏☛✄ ✆✝✍ ✡✝ ✆✡☛✂ ✞✍✝☎☞✄
☞✡✠✌✍✍✡✡✝☛✁✌☎ ✄☎☛✍✄ ✠✄✂ ✌☎☞✄✡✄☛☛✄✂ ✄☛ ✡✄ ✧✍☛✁☛ ✝☞☞✁☛✁✘ ✒ ✌✌✁☎✂ ☞✄ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂ ✂✌☎☛ ✄✯☛✍✝✁☛✄✂
☞☛ ✧✍☛✁☛✎ ✰☎ ✍✄✟✝☎✠☞✄✓ ☛☎ ✌✍☞✍✄ ✁✌✆✌✍☛✝☎☛ ✄✂☛ ✁☎✝✆✆✍✌✆✍✁✡ ✆✌☛✍ ✡✄✂ ✂✁✞☎✝☛✯ ☞✄ ✠✌☛✍☛✄ ☞☛✍✡✄✓
✠✝✍ ✡✄ ✂☛✆✆✌✍☛ ☛✄✌✆✌✍✄✡ ✄✂☛ ✝☛✂✂✁ ✆✡☛✂ ✞✍✝☎☞ ✄☛ ☞✌☎✠ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ✄✂☛ ☞✡✞✍✝☞✡✄ ✴✄✍✍✄☛✍ ☞✄
✂✄✞✌✄☎☛✝☛✁✌☎ ES ✆✡☛✂ ✁✌✆✌✍☛✝☎☛✄✵✎

✖☛✍ ☞✄✂ ✂✁✞☎✝☛✯ ✍✡✄✡✂ ✡✄ ✠✌✌✆✌✍☛✄✌✄☎☛ ✄✂☛ ✝☎✝✡✌✞☛✄✎ ✖✄✡✌☎ ☎✌☛✍✄ ✄✯✆✡✍✁✄☎✠✄✓ ✡✥✌☎☞✄✡✄☛☛✄ ✙✝☛✛
✧✄✠☞✁✄✂ ☎✌✎ ✮ ☛☛✁✡✁✂✡✄ ✆✝✍ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏ ☞✡☛✄✠☛✄ ☛☎ ☎✌✌✧✍✄ ☛✍✌✆ ✞✍✝☎☞ ☞✥✡✟✡☎✄✌✄☎☛✂

✍✝✆✆✌✍☛✡ ✤ ✡✥✄✯✆✄✍☛✁✂✄ ✌✡☞✁✠✝✡✄ ✴✆✡☛✂ ☞✄ ✫✬✬ ✆✝✍ ✌✁☎☛☛✄✵✎ ✠✄✠✁ ✆✄☛☛ ✫☛✍✄ ✄✯✆✡✁✏☛✡ ✆✝✍ ☞✄☛✯ ✌✧✛
✂✄✍✟✝☛✁✌☎✂✓ ✡✁✡✄✂ ✤ ✡✝ ☛✝✁✡✡✄ ✍✡☞☛✁☛✄ ☞☛ ✂☛✆✆✌✍☛ ☞✄ ✡✥✌☎☞✄✡✄☛☛✄ ✒

✄ ✡✄ ✌✌✍✠✄✡✡✄✌✄☎☛ ☞✄ ✠✄✍☛✝✁☎✂ ✡✟✡☎✄✌✄☎☛✂ ✄☎ ✆✡☛✂✁✄☛✍✂ ✌✁✠✍✌✛✡✟✡☎✄✌✄☎☛✂ ✝✄ ✡✥✄✯☛✍✝✠☛✁✌☎ ☞✄ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂ ☞☛ ✂✁✞☎✝✡ ✌✄✂☛✍✡✑☎ ✎
✠✌✌✌✄ ✆✌☛✍ ✡✄✂ ✂✁✞☎✝☛✯ ✂✁✌☛✡✡✂✓ ✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂ ☞✡☛✄✠☛✡✂ ☞✁✌✁☎☛✄ ✝✟✄✠ ✡✥✌✍☞✍✄ ☞✄

✡✥✌☎☞✄✡✄☛☛✄✓ ✤ ✡✝ ✘✌✁✂ ✆✝✍ ✠✌☎✠✝☛✡☎✝☛✁✌☎ ✄☛ ✆✝✍ ✡✝ ✍✡☞☛✠☛✁✌☎ ☞✄✂ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂✎ ✰☎ ✍✄✟✝☎✠☞✄✓ ✡✝
☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂ ✂✌☎✂ ☞✡☛✄✠☛✡✂ ✝☛✞✌✄☎☛✄✎ ✢✥✌☎☞✄✡✄☛☛✄ ✙✝☛✧✄✠☞✁✄✂ ☎✌✎ ✰ ☎✌☛✂ ✝ ✂✄✌✧✡✡ ✫☛✍✄ ☛☎ ✧✌☎
✠✌✌✆✍✌✌✁✂✓ ✌✝✁✂ ✠✄ ✠☞✌✁✯ ✄✂☛ ✂☛✧✬✄✠☛✁✘ ✄☛ ☞✁✂✠☛☛✝✧✡✄✎ ✠✄✆✄☎☞✝☎☛✓ ☎✌☛✂ ✄✂☛✁✌✌☎✂ ✏☛✄ ✡✄ ✠☞✝☎✞✄✌✄☎☛

☞✄ ✡✝ ✧✝✂✄ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✝✆✆✌✍☛✄ ✆✄☛ ☞✄ ☞✁✆✡✍✄☎✠✄✂ ✂☛✍ ✡✄✂ ✍✡✂☛✡☛✝☛✂ ☞☛ ☞✡✧✍☛✁☛✝✞✄✎
✒✝✄✝ ✎☞✫✞✝✢✰☞✭ ✏✞ ✑✒✎✍☞ ✟✠✟✞✏☞ ✑☞✔ ✔✠✝✔ ✞✓✑✠✡☛✝✞✒✕ ☞✔✟ ✗✏✒✔ ✗☞✟☛✟☞ ☞✟ ✑✠✝✢ ✏☞ ✔☛✌✝✞✏ ✗✏✒✔ ✢✎☞✒✕✘

✯✲



�✁✁☎✠✟☛☎ �✏ �✆✟☎✄✟✠✂✁ ☎✟ ✆✆✂☛✂✠✟✁✁☎ ☎✁☛ ✂✁✆☎✄☎✟✟☎✝

✢✄✂ ✟✝✡✄☛✍✂ ☞✄✂ ✠✍✁☛✔✍✄✂ ☞✄ ✆✄✍✘✌✍✌✝☎✠✄ ✂✌☎☛ ✁☎☞☛✄☎✠✡✂ ✝☛✂✂✁ ✆✝✍ ✡✝ ✆✍✌✘✌☎☞✄☛✍ ☞✄ ✡✝ ☞✡✠✌✌✛
✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂✎ ✑✌☛✂ ✝✟✌☎✂ ☛✄✂☛✡ ☞✄☛✯ ✆✍✌✘✌☎☞✄☛✍✂M ✏☛✁ ✌☎☛ ☛☎✄ ✂✁✞☎✁✷✠✝☛✁✌☎ ✆☞✒✂✁✏☛✄ ✒

✄
M1 = 7

✴
j = 1 . . . 8

✡✠☞✄✡✡✄✂ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎✵ ✒ ✡✄ ✷✡☛✍✄ ✆✝✂✂✄✛✧✝✂ ✠✌✍✍✄✂✆✌☎☞✝☎☛ ✤ ✡✝
✘✌☎✠☛✁✌☎ ☞✥✡✠☞✄✡✡✄ ☞✝☎✂ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ �✝✡✡✝☛ ✠✌☛✆✄ ✝✆✆✍✌✯✁✌✝☛✁✟✄✌✄☎☛ ✤ ✫✬ ✭✳✎ ✴✘✍✡✏☛✄☎✠✄
✌✁☎✁✌✝✡✄ ✝☛☞✁✧✡✄✵ ✄☛ ☛✌☛☛✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ☛✡☛✡✍✁✄☛✍✄ ✄✂☛ ☎✌☎✛✁☎✘✌✍✌✝☛✁✟✄ ✆✌☛✍ ✡✄✂ ✂✁✞☎✝☛✯
✂✌☎✌✍✄✂ ✝✄
M2 = 5

✴
j = 1 . . . 6

✡✠☞✄✡✡✄✂ ☞✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎✵ ✒ ✡✄ ✷✡☛✍✄ ✆✝✂✂✄✛✧✝✂ ✠✌✍✍✄✂✆✌☎☞✝☎☛ ✤ ✡✝ ✘✌☎✠✛
☛✁✌☎ ☞✥✡✠☞✄✡✡✄ ✠✌☛✆✄ ✝✆✆✍✌✯✁✌✝☛✁✟✄✌✄☎☛ ✤ ✷✬ ✭✳✎ ✴✘✍✡✏☛✄☎✠✄ ✌✁☎✁✌✝✡✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯
✂✄✡✌☎ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄ ✄☛ ✂✄✡✌☎ ☎✌☛✍✄ ✄✯✆✡✍✁✄☎✠✄✵✎

✢✄✂ ✍✡✂☛✡☛✝☛✂ ☞✄✂ ☛✄✂☛✂ ✌✌☎☛✍✄☎☛ ✏☛✄ ✡✥✝☛✞✌✄☎☛✝☛✁✌☎ ☞✄ ✡✝ ✆✍✌✘✌☎☞✄☛✍ ✝ ☛☎ ✄✆✄☛ ✆✍✌✠☞✄ ☞✄ ✡✥✝☛✞✛
✌✄☎☛✝☛✁✌☎ ☞✄ ✡✥✌✍☞✍✄ ✒ ☛☎✄ ✆✍✌✘✌☎☞✄☛✍ ✝✠✠✍☛✄ ✁✌✆✡✁✏☛✄ ☞✄✂ ✡✠☞✄✡✡✄✂ ☞✥✌☎☞✄✡✄☛☛✄✂ ☞✄ ✆✡☛✂ ✧✝✂✂✄
✘✍✡✏☛✄☎✠✄ ✄☛ ☞✄ ✂☛✆✆✌✍☛ ✆✡☛✂ ✞✍✝☎☞✓ ☞✌☎✠ ✄✡✡✄ ✘✝✟✌✍✁✂✄ ✡✝ ✠✌☎✠✝☛✡☎✝☛✁✌☎ ☞✄✂ ✌✁✠✍✌✛✡✟✡☎✄✌✄☎☛✂
✌✝✁✂ ✄✡✡✄ ✆✄✍☛☛✍✧✄ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎✎ ✑✌☛✍✄ ✠☞✌✁✯ ✂✥✄✂☛ ✆✌✍☛✡ ✂☛✍ M = 5✓ ✌✝✁✂ ✡✝ ☞✁✆✡✍✄☎✠✄ ✄✂☛ ✆✄☛
✁✌✆✌✍☛✝☎☛✄✓ ✟✌✁✍✄ ☎☛✡✡✄ ✆✌☛✍ ✠✄✍☛✝✁☎✂ ✂✁✞☎✝☛✯ ✍✡✄✡✂✎

☛✓✂✓✡ ✂✡✟☎✜✕✔✕✟
✢✄✂ ☛✄✂☛✂ ✂✄ ✂✌☎☛ ☞✡✍✌☛✡✡✂ ✄☎ ☛✍✌✁✂ ✡☛✝✆✄✂✓ ✠✌✍✍✄✂✆✌☎☞✝☎☛ ✝☛✯ ☛✒✆✄✂ ☞✄✂ ✂✁✞☎✝☛✯ ✞✡☎✡✍✡✂ ☞✡✠✍✁☛✂

✆✍✡✠✡☞✄✌✌✄☎☛ ✴✂✄✠☛✁✌☎ ✭✎✯✎✲✵✎
✁✚✜✍ ✕✥ ✢✄ ✆✍✄✌✁✄✍ ☛✄✂☛ ✠☞✄✍✠☞✄ ✤ ✡☛☛☞✁✄✍ ✡✝ ✠✝✆✝✠✁☛✡ ☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ✤ ✍✄✠✌☎☎✝✣☛✍✄ ✄☛ ✡✡✁✌✁☎✄✍
✡✄ ✧✍☛✁☛✎ ✑✌☛✂ ✝✟✌☎✂ ☞✌☎✠ ✠✌☎✂✁☞✡✍✡ ☛☎ ✂✁✞☎✝✡ ☞✄ ☛✄✂☛ ☞✄ ✡✌☎✞☛✄☛✍ N = 218 ✆✌✁☎☛✂ ✠✌✌✆✌✂✡
☛☎✁✏☛✄✌✄☎☛ ☞✄ ✧✍☛✁☛✓ ☞✌☎☛ ✌☎ ✘✝✁☛ ✟✝✍✁✄✍ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ✄☛ ✡✝ ✆☛✁✂✂✝☎✠✄✎ ✠✌✌✌✄ ☞✝☎✂ ✠✄ ✠✝✂ ✂✄☛✡
✡✄ ✠✍✁☛✔✍✄ ☞✄ ✡✥✄✍✍✄☛✍ ✏☛✝☞✍✝☛✁✏☛✄ ✌✌✒✄☎☎✄ ✴✭✎✭✫✵ ✆✄☛☛ ✫☛✍✄ ✝✆✆✡✁✏☛✡ ✴✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂

☞✝☎✂ ✡✄ ✂✁✞☎✝✡ ☞✥✌✍✁✞✁☎✄ ✄☛ ☞✌☎✠ ✡✄☛✍ ☞☛✍✡✄ ☛✌☛✝✡✄ ✂✌☎☛ ☎☛✡✂✵✓ ☎✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ☞✝☎✂ ✡✄ ☛✝✧✡✄✝☛ ✭✎✲
✡✄✂ ✟✝✡✄☛✍✂ ☞✄ ✡✥✰�� ✆✌☛✍ ☞✄✂ ✧✍☛✁☛✂ ✧✡✝☎✠✂ ✄☛ ✠✌✡✌✍✡✂ ☞✄ ☞✁✆✡✍✄☎☛✄✂ ☞✁✂☛✍✁✧☛☛✁✌☎✂✎ ✠✌✌✌✄ ☎✌☛✂
✡✥✝✟✌☎✂ ✌✌☎☛✍✡ ✆✍✡✠✡☞✄✌✌✄☎☛ ✴✂✄✠☛✁✌☎ ✭✎✯✎✲✵✓ ✡✄✂ ☞✁✂☛✍✁✧☛☛✁✌☎✂ ☞☛ ✧✍☛✁☛ ✠✌✡✌✍✡ ✌✧☛✄☎☛ ✆✝✍ ✷✡☛✍✝✞✄
✂✌☎☛ ☞✁✆✡✍✄☎☛✄✂ ☞✄ ✠✄✡✡✄✂ ☞☛ ✧✍☛✁☛ ✧✡✝☎✠✎ ✠✄✆✄☎☞✝☎☛✓ ☞✝☎✂ ✡✄ ☛✝✧✡✄✝☛ ✭✎✲ ✴✠✌✌✌✄ ☞✝☎✂ ☛✌☛☛ ✡✄

☞✡✟✄✡✌✆✆✄✌✄☎☛ ☛✡☛✡✍✁✄☛✍✵ ☎✌☛✂ ✝✟✌☎✂ ✞✝✍☞✡ ✡✄✂ ☞✡☎✌✌✁☎✝☛✁✌☎✂ ☞✄✂ ☞✁✂☛✍✁✧☛☛✁✌☎✂ ☞✥✌✍✁✞✁☎✄ ✆✌☛✍ ✡✄
✧✍☛✁☛ ✠✌✡✌✍✡✓ ✂✌☛✂✛✄☎☛✄☎☞✝☎☛ ✡✄☛✍ ✌✌☞✁✷✠✝☛✁✌☎ ✆✝✍ ✷✡☛✍✝✞✄✎

✎✡✞✌✍✁☛☞✌✄ ✱✍☛✁☛ ✧✡✝☎✠ ✱✍☛✁☛ ✠✌✡✌✍✡
✢✝✆✡✝✠✁✄☎ ✮☎✁✘✌✍✌✄ ✪✝☛✂✂✁✄☎ ✢✝✆✡✝✠✁✄☎ ✮☎✁✘✌✍✌✄ ✪✝☛✂✂✁✄☎

✟✌✆☛✁✌✝✡✠ ✬✓✬✬✫✲ ✬ ✬ ✬✓✬✬✬✫ ✬ ✬✓✬✬✬✬
✟✌✁☎✁✌✝✡✠ ✬✓✭✷✰✯ ✬✓✲✰✪✰ ✬✓✫✯✲✮ ✬✓✫✰✪✰ ✬✓✫✶✭✲ ✬✓✫✯✲✷
☞✒✂☛✡✍✡✂✁✂ ✬✓✬✬✫✫ ✬ ✬ ✬✓✬✬✬✮ ✬ ✬✓✬✬✬✬
✚✶✖✶✛✑✖✶ ✬✓✲✪✯✯ ✬✓✬✫✭✰ ✬✓✬✪✬✮ ✬✓✬✯✮✫ ✬✓✬✶✲✰ ✬✓✬✪✲✶
✁✠✝✂✄✁☛✠✁✚ ✬✓✬✬✷✭ ✬ ✬ ✲✓✭✮✭✰ ✲✓✫✰✬✷ ✲✓✭✲✪✷
✁✠✝✂✄✁☛✠✁✚��✄ ✬✓✬✬✯✪ ✬ ✬ ✬✓✬✬✬✶ ✬ ✬✓✬✬✬✬

✂✄☎☎ ✭✎✲ ✄ ✄�✆ ✗✠✒✎
s = 0

☞✟ ✑☛✔✍✎☞✝✟☞✔ ✑☛✔✟✎☛✓✒✟☛✠✝✔ ✑☞ ✓✎✒☛✟ ✓✏✞✝✢ ☞✟ ✢✠✏✠✎✍✭ ✟✠✒✟☞✔ ✗✒☛✔✔✞✝✢☞✔ ✢✠✝✕✠✝✑✒☞✔✘

✰☎ ✝☎✝✡✒✂✝☎☛ ✡✄✂ ✍✡✂☛✡☛✝☛✂ ✆✌☛✍ ✡✄ ✧✍☛✁☛ ✧✡✝☎✠✓ ✌☎ ✆✄☛☛ ✍✄✌✝✍✏☛✄✍ ✡✄✂ ✧✌☎☎✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂

☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ✁☛✡✍✝☛✁✘✂ ✟✌✆☛✁✌✝✡✠ ✄☛ ✆✝✍ ☞✒✂☛✡✍✡✂✁✂✓ ✝✁☎✂✁ ✏☛✄ ☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ☞✁✍✄✠☛✂ ☞✄ ☛✒✆✄
✁✠✝✂✄✁☛✠✁✚ ☞✄ ✙✌☎✌☞✌ ✄☛ ✦✌☞☎✂☛✌☎✄✎ ✢✄✂ ✘✝✁✧✡✄✂ ☞✁✆✡✍✄☎✠✄✂ ☞✄ ✆✄✍✘✌✍✌✝☎✠✄✓ ☞☛✄✂ ✤ ☛☎ ✂✄☛✁✡✡✝✞✄
✆✡☛✂ ✘✌✍☛ ✆✌☛✍ ☎✌✂ ✝✡✞✌✍✁☛☞✌✄✂✓ ✂✌☎☛ ✄✂✂✄☎☛✁✄✡✡✄✌✄☎☛ ✆✍✌✟✌✏☛✡✄✂ ✆✝✍ ✡✝ ✌✡☛☞✌☞✄ ☞✥✄✂☛✁✌✝☛✁✌☎ ☞✄
✡✥✡✠✝✍☛✛☛✒✆✄ ✴✟✌✁✍ ✂✄✠☛✁✌☎ ✭✎✫✎✫✵✎ ✠✌✌✌✄ ✝☛☛✄☎☞☛✓ ✡✥✝✡✞✌✍✁☛☞✌✄ ✟✌✁☎✁✌✝✡✠ ✄✯☛✍✝✁☛ ☛✍✌✆ ☞✥✁☎✘✌✍✌✝✛
☛✁✌☎ ☞☛ ✧✍☛✁☛✓ ✠✌✌✌✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✚✶✖✶✛✑✖✶ ☞✄ ✭✝☞✬✁✡✄✌☎☛✁✝☞✁✂ ☎✟ ✁✄✏

✯✫



�✏�✏ ✁✁✄✠✆✁✟✠✂✁

✗✝✍ ✍✝✆✆✌✍☛ ✤ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ☞☛ ✧✍☛✁☛✓ ✡✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ☞✄ ☛✌☛✂ ✡✄✂ ✝✡✞✌✍✁☛☞✌✄✂
✂✌☎☛ ✁☎✘✡✍✁✄☛✍✄✂ ✆✌☛✍ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ✡✝✆✡✝✠✁✄☎☎✄ ✄☛ ✌✄✁✡✡✄☛✍✄✂ ✆✌☛✍ ✡✥☛☎✁✘✌✍✌✄✎ ✙✝☎✂ ✡✄ ✠✝✂ ☞☛ ✧✍☛✁☛
✡✝✆✡✝✠✁✄☎✓ ✌☎ ✍✄✌✝✍✏☛✄ ✡✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ✂✁✞☎✁✷✠✝☛✁✟✄✌✄☎☛ ✂☛✆✡✍✁✄☛✍✄✂ ☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ✁☛✡✍✝☛✁✘✂
✟✌✆☛✁✌✝✡✠ ✄☛ ✆✝✍ ☞✒✂☛✡✍✡✂✁✂ ✘✝✠✄ ✝☛✯ ✝✡✞✌✍✁☛☞✌✄✂ ☞✁✍✄✠☛✂ ☞✄ ☛✒✆✄ ✁✠✝✂✄✁☛✠✁✚✎ ✠✄ ✠✌☎✂☛✝☛ ✡☛✝✁☛
✝☛☛✄☎☞☛ ✒ ✂✄✡✌☎ ✡✝ ✷✞☛✍✄ ✭✎✲✮✓ ✡✝ ✠✌☎✂☛✝☎☛✄ ✌☛✡☛✁✆✡✁✠✝☛✁✟✄ Fao

✄☛ ☞✌☎✠ ✡✄✂ ✂✄☛✁✡✂ ☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂
✟✌✆☛✁✌✝✡✠ ✄☛ ✆✝✍ ☞✒✂☛✡✍✡✂✁✂ ✂✌☎☛ ✂☛✆✡✍✁✄☛✍✂ ✝☛ ✂✄☛✁✡ ☛☎✁✟✄✍✂✄✡ √2 logeN

☞✄ ✁✠✝✂✄✁☛✠✁✚✓ ☞✌☎✠ ✡✄

☞✡✧✍☛✁☛✝✞✄ ✄✂☛ ✆✡☛✂ ✁✌✆✌✍☛✝☎☛✎
✢✄✂ ✌✫✌✄✂ ✠✌☎✂☛✝☛✂ ✂✌☎☛ ✟✝✡✝✧✡✄✂ ✆✌☛✍ ✡✄ ✧✍☛✁☛ ✠✌✡✌✍✡✎ ✸✟✁☞✄✌✌✄☎☛✓ ✡✥✝✡✞✌✍✁☛☞✌✄ ✁✠✝✂✄✁☛✠✁✚

✂✝☎✂ ✄✂☛✁✌✝☛✁✌☎ ☞✄ ✡✥✡✠✝✍☛✛☛✒✆✄ ✡✠☞✄✡✡✄ ✆✝✍ ✡✠☞✄✡✡✄ ☎✥✄✂☛ ✆✝✂ ✝☞✝✆☛✡ ✤ ✡✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄ ✠✄ ☛✒✆✄ ☞✄
✧✍☛✁☛✎ ✕✡ ✄✂☛ ✁☎☛✡✍✄✂✂✝☎☛ ☞✄ ☎✌☛✄✍ ✏☛✄ ✡✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ☞✄ ☛✌☛✂ ✡✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ✂✄ ✍✝✆✆✍✌✠☞✄☎☛ ☞✄✂
✟✝✡✄☛✍✂ ✌✧☛✄☎☛✄✂ ☞✝☎✂ ✡✄ ✠✝✂ ☞☛ ✧✍☛✁☛ ✞✝☛✂✂✁✄☎✓ ✠✄ ✏☛✁ ✠✌☎✷✍✌✄ ✡✥✌✧✂✄✍✟✝☛✁✌☎ ✂☛✍ ✡✝ ☛✄☎☞✝☎✠✄ ☞✄✂
☞✁✂☛✍✁✧☛☛✁✌☎✂ ☞☛ ✧✍☛✁☛ ✷✡☛✍✡ ✟✄✍✂ ☞✄✂ ☞✁✂☛✍✁✧☛☛✁✌☎✂ ✞✝☛✂✂✁✄☎☎✄✂✎ ✑✡✝☎✌✌✁☎✂✓ ✡✄✂ ☞✁✆✡✍✄☎✠✄✂ ✄✯✁✂☛✄☎☛
✄☛ ✡✄ ✧✍☛✁☛✓ ✤ ✡✥✌✍✁✞✁☎✄✓ ✡✝✆✡✝✠✁✄☎ ✍✄✂☛✄ ✡✄ ✆✡☛✂ ☞✁☎✠✁✡✄ ✤ ✡✡✁✌✁☎✄✍✓ ✝✡✌✍✂ ✏☛✄ ✡✄ ✧✍☛✁☛ ☛☎✁✘✌✍✌✄ ✂✄✌✧✡✄
✡✄ ✆✡☛✂ ✘✝✠✁✡✄✌✄☎☛ ✍✄✬✄☛✝✧✡✄✎

✰☎✷☎✓ ☎✌☛✂ ✝✟✌☎✂ ☛✄✂☛✡ ✡✄✂ ✌✫✌✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ✄☎ ✌✌☞✁✷✝☎☛ ☛☎✁✏☛✄✌✄☎☛ ✡✝ ✡✌☎✞☛✄☛✍ ☞☛ ✂✁✛
✞☎✝✡ ✴

N = 221 ✆✌✁☎☛✂✵✎ ✢✄✂ ✍✡✂☛✡☛✝☛✂✓ ✏☛✁ ☎✄ ✂✄✍✌☎☛ ✆✝✂ ☞✡☛✝✁✡✡✡✂ ✁✠✁✓ ✂✌☎☛ ✡✡✞✔✍✄✌✄☎☛ ✌✄✁✡✡✄☛✍✂✓
✠✌✌✌✄ ✌☎ ✆✌☛✟✝✁☛ ✂✥✒ ✝☛☛✄☎☞✍✄ ✒ ✡✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ✏☛✁ ✆✍✌✆✌✂✄☎☛ ☛☎ ✂✄☛✁✡ ☞✡✆✄☎☞✝☎☛ ☞✄ ✡✝ ☛✝✁✡✡✄ ☞☛
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✁✠✝✂✄✁☛✠✁✚��✄ ✭✓✭✬ ✫✓✲✷ ✲✓✶✪ ✬✓✯✫ ✬✓✯✬ ✬✓✰✬ ✲✓✶✪

✂✄☎☎ ✭✎✶ ✄
ED ✞✗✎❄✔ ✑✍✓✎✒☛✟✞✌☞ ✗✠✒✎ ✏☞✔ ✑☛✔✍✎☞✝✟✔ ✔☛✌✝✞✒✕ ✔☛✡✒✏✍✔ ✬✫✞✎☛✞✟☛✠✝ ✑✒ ✝✠✡✓✎☞ ✑❂✍✫✍✝☞✡☞✝✟✔✣✡☛✝✒✟☞✮✭

✟✠✒✟☞✔ ✑☛✔✟✎☛✓✒✟☛✠✝✔ ☞✟ ✗✒☛✔✔✞✝✢☞✔ ✑☞ ✓✎✒☛✟ ✢✠✝✕✠✝✑✒☞✔✘

✯✪



�✏�✏ ✁✁✄✠✆✁✟✠✂✁

✢✥✄✍✍✄☛✍ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✆✍✡✂✄☎☛✡✄ ☞✝☎✂ ✡✄ ☛✝✧✡✄✝☛ ✭✎✶ ✌✌☎☛✍✄ ✏☛✄ ✡✄ ☞✡✧✍☛✁☛✝✞✄ ✆✝✍ ☞✒✂☛✡✍✡✂✁✂
✂✄✌✧✡✄ ✡✄ ✆✡☛✂ ✆✄✍✘✌✍✌✝☎☛ ☞✝☎✂ ✡✄ ✠✝✂ ☞☛ ✧✍☛✁☛ ✧✡✝☎✠✓ ✌✝✁✂ ✏☛✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✁✠✝✂✄✁☛✠✁✚��✄ ✄✂☛
✌✄✁✡✡✄☛✍ ✆✌☛✍ ✡✝ ☞✡☛✄✠☛✁✌☎ ☞✝☎✂ ☛☎ ✧✍☛✁☛ ✠✌✡✌✍✡✓ ✂☛✍☛✌☛☛ ✂✁ ✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂ ✄✂☛ ✁✌✆✌✍☛✝☎☛✎
✢✥✝✡✞✌✍✁☛☞✌✄ ✚✶✖✶✛✑✖✶✓ ✏☛✁ ✌✆✍✝✁☛ ☞✄ ✧✌☎☎✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ✂✄✡✌☎ ✡✄✂ ✝☛☛✍✄✂ ✠✍✁☛✔✍✄✂ ✆✌☛✍ ✠✄

☞✄✍☎✁✄✍ ☛✒✆✄ ☞✄ ✂✁✞☎✝☛✯✓ ✞✡☎✔✍✄ ✧✄✝☛✠✌☛✆ ☛✍✌✆ ☞✄ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂✎
✮☎✄ ✁✌✝✞✄ ✆✡☛✂ ☞✡☛✝✁✡✡✡✄ ☞✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂ ✠✌✌✆✝✍✝☛✁✟✄✂ ☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✴✄☎

✘✌☎✠☛✁✌☎ ☞✄ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞☛ ✧✍☛✁☛ ✄☛ ☞✄ ✂✝ ✆☛✁✂✂✝☎✠✄✵ ✄✂☛ ☞✌☎☎✡✄ ✂☛✍ ✡✄✂ ✷✞☛✍✄✂ ✱✎✲ ✤ ✱✎✲✫✓
✆✍✡✂✄☎☛✡✄✂ ☞✝☎✂ ✡✥✝☎☎✄✯✄ ✱✎ ✢✄✂ ✍✡✂☛✡☛✝☛✂ ✞✡☎✡✍✝☛✯ ☞✁✂✠☛☛✡✂ ✆✍✡✠✡☞✄✌✌✄☎☛ ✂✄ ✠✌☎✷✍✌✄☎☛✓ ✝✟✄✠✏☛✄✡✏☛✄ ☎☛✝☎✠✄✂ ✒ ✂✁ ✡✝ ✂☛✆✡✍✁✌✍✁☛✡ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄ ✆✝✍ ☞✒✂☛✡✍✡✂✁✂ ✄✂☛ ✡✟✁☞✄☎☛✄ ✆✌☛✍
☛☎ ✧✍☛✁☛ ✝☞☞✁☛✁✘ ✡✝✆✡✝✠✁✄☎✓ ☛✝☎☛ ☞☛ ✆✌✁☎☛ ☞✄ ✟☛✄ ☞✄ ✡✥✄✍✍✄☛✍ ✏☛✝☞✍✝☛✁✏☛✄ ✴✰��✵ ✌✌✒✄☎☎✄ ✏☛✄ ☞✄✂
✠✍✁☛✔✍✄✂ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✴
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ED✵✓ ✡✄ ✠☞✌✁✯ ☞☛ ✌✄✁✡✡✄☛✍ ✝✡✞✌✍✁☛☞✌✄ ✄✂☛ ✆✡☛✂ ✆✍✌✧✡✡✌✝☛✁✏☛✄

☞✝☎✂ ✡✄ ✠✝✂ ☞☛ ✧✍☛✁☛ ✞✝☛✂✂✁✄☎✎ ✰☎ ✄✆✄☛✓ ✌✫✌✄ ✂✁ ✡✥✰�� ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✟✆✝✍ ☞✒✂☛✡✍✡✂✁✂✠ ✄✂☛ ✆✡☛✂
✆✄☛✁☛✄ ✏☛✄ ✠✄✡✡✄ ☞☛ ✁✠✝✂✄✁☛✠✁✚��✄✓ ✡✝ ☞✡☛✄✠☛✁✌☎ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✄✂☛ ✆✡☛✂ ✆✍✡✠✁✂✄ ✆✝✍ ✠✄ ☞✄✍☎✁✄✍✎
✠✄✂ ☞✄☛✯ ✂✁☛☛✝☛✁✌☎✂ ✂✌☎☛ ✁✡✡☛✂☛✍✡✄✂ ✆✝✍ ✡✄✂ ✷✞☛✍✄✂ ✭✎✫✫ ✄☛ ✭✎✫✭✎
☞✣✙✦✧✣✚✌✍✘✍✔✏✌ ✔✌�✏✎✣✘✍✔★✒✚✥ ✑✌☛✂ ✝✟✌☎✂ ☛✍✝✁☛✡ ☞✄✂ ✂✁✞☎✝☛✯ ☞✄ 218 ✆✌✁☎☛✂✓ ✤ ☛☎✄ ✘✍✡✏☛✄☎✠✄
☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ☞✄ ✶✬✬✬ ✭✳✎ ✴✠✄ ✏☛✁ ✠✌✍✍✄✂✆✌☎☞ ✤ ☛☎ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛ ☞✥☛☎✄ ☞☛✍✡✄ ☞✥✄☎✟✁✍✌☎ ✶✫
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✆✍✁☎✠✁✆✝✡✄✌✄☎☛ ✄☎ ✡✝☎✞✝✞✄ �✝☛✡✝✧✎ ✢✄✂ ☛✄✌✆✂ ☞✥✄✯✡✠☛☛✁✌☎ ☞✄✂ ☞✁✆✡✍✄☎☛✂ ✝✡✞✌✍✁☛☞✌✄✂✓ ✄☎ ✁☎✠✡☛✝☎☛
✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✁☎✁☛✁✝✡✄ ✄☛ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✷☎✝✡✄ ☞✄✂ ✂✁✞☎✝☛✯✓ ✂✌☎☛ ✆✍✡✂✄☎☛✡✂ ☞✝☎✂ ✡✄ ☛✝✧✡✄✝☛ ✭✎✪✎
✑✌☛✂ ✌✄☎☛✁✌☎☎✌☎✂ ✡✞✝✡✄✌✄☎☛ ✡✄✂ ☛✄✌✆✂ ☞✄ ✠✝✡✠☛✡ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✁☛✡✍✝☛✁✘ ✌✍✁✞✁☎✝✡ ✚✶✖✶✛✑✖✶✴✌✵
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✟✌✁☎✁✌✝✡✠ ✮✓✪✪
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✚✶✖✶✛✑✖✶✴✆✘ ✵ ✮✓✲✭
✁✠✝✂✄✁☛✠✁✚ ✲✓✮✯
✁✠✝✂✄✁☛✠✁✚��✄ ✲✓✷✶
✚✶✖✶✛✑✖✶ ✴✌✵ ✲✷✓✮✮

✂✄☎☎ ✭✎✪ ✄ ✖✠✡✗✞✎✞☛✔✠✝ ✑☞✔ ✟☞✡✗✔ ✑❂☞✕✍✢✒✟☛✠✝ ✑☞✔ ✞✏✌✠✎☛✟✰✡☞✔✘ ★❂✞✏✌✠✎☛✟✰✡☞ ✗✝✂✝✝✓✂✝✬✠✮ ☞✔✟ ✏❂✞✏✌✠✎☛✟✰✡☞
✠✎☛✌☛✝✞✏ ✑☞ ✯✞✑✄☛✏☞✠✝✟☛✞✑☛✔ ✿✸ ✺✾✡ ✔✞✝✔ ✏❂✠✗✟☛✡☛✔✞✟☛✠✝ ✑☞ ✗✠☛✝✟ ✠✕☞✭ ✞✫☞✢ ✒✝☞ ✫✞✏☞✒✎ ✎☞✢✠✡✡✞✝✑✍☞ ✗✞✎ ✏☞✔ ✞✒✟☞✒✎✔✑☞ ✏✞ ✢✠✝✔✟✞✝✟☞ ε = 0, 00001
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✑✌☛✂ ✌✧✂✄✍✟✌☎✂ ☞✌☎✠ ☛☎ ✞✝✁☎ ✄☎ ☛✄✌✆✂ ☞✄ ✠✝✡✠☛✡ ✡✟✁☞✄☎☛ ✞✍☎✠✄ ✤ ✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ✠✌✌✌✄

✝✡✞✌✍✁☛☞✌✄ ☞✄ ✆✌✁☎☛ ✷✯✄ ✒ ✡✄ ✘✝✠☛✄☛✍ ☞✄ ✞✝✁☎ ☞✡✆✄☎☞ ☞☛ ☎✌✌✧✍✄ ☞✥✁☛✡✍✝☛✁✌☎✂✓ ✏☛✁ ✡☛✁ ✌✫✌✄ ☞✡✆✄☎☞
☞✄ ✡✝ ✟✝✡✄☛✍ ☞☛ ✂✄☛✁✡ ✴✡✁✡✄ ✝☛✯ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ☞☛ ✂✁✞☎✝✡✵ ✄☛ ☞☛ ✆✝✍✝✌✔☛✍✄ ε ✏☛✁ ✠✌☎☞✁☛✁✌☎☎✄ ✡✄
✠✍✁☛✔✍✄ ☞✥✝✍✍✫☛ STC ✴✡✏✎ ✴✭✎✲✫✵✵✎ ✰☎ ✝✆✆✡✁✏☛✝☎☛ ✠✄☛☛✄ ☎✌☛✟✄✡✡✄ ✁☎☛✄✍✆✍✡☛✝☛✁✌☎✓ ✡✥✝✆✆✍✌✠☞✄ ✁☛✡✍✝☛✁✟✄
✆✍✡✂✄☎☛✄ ☛☎ ☛✄✌✆✂ ☞✥✄✯✡✠☛☛✁✌☎ ☞☛ ✌✫✌✄ ✌✍☞✍✄ ☞✄ ✞✍✝☎☞✄☛✍ ✏☛✄ ✡✥✝✆✆✍✌✠☞✄ ☞✁✍✄✠☛✄ ☞✄ ✙✌☎✌☞✌ ✄☛
✦✌☞☎✂☛✌☎✄ ✝✭✯✓ ✭✷✞✎ ✠✄✆✄☎☞✝☎☛✓ ✌☎ ✌✧✂✄✍✟✄ ☞✄✂ ✟✝✍✁✝☛✁✌☎✂ ☞✄ ☞☛✍✡✄ ✄☎☛✍✄ ✡✄✂ ☞✁✆✡✍✄☎☛✂ ✝✡✞✌✍✁☛☞✌✄✂ ✒

✄ ✄☎☛✍✄ ✡✄✂ ✌✡☛☞✌☞✄✂ ✟✌✆☛✁✌✝✡✄✠ ✄☛ ✟✌✁☎✁✌✝✡✄✠✓ ✡✝ ☞✁✆✡✍✄☎✠✄ ✄✂☛ ✄✂✂✄☎☛✁✄✡✡✄✌✄☎☛ ☞☛✄ ✤ ✡✝ ✟✝✡✄☛✍
☞☛ ✂✄☛✁✡ ✄☛ ✝☛ ☎✌✌✧✍✄ ☞✥✁☛✡✍✝☛✁✌☎✂ ✟✄✍✂ ✡✄ ✆✌✁☎☛ ✷✯✄ ✒ ☛☎✄ ✠✌☎✂☛✝☎☛✄ Fa

✆✡☛✂ ✡✡✄✟✡✄ ✁✌✆✡✁✏☛✄
☛☎✄ ✘✌☎✠☛✁✌☎ ✆✡☛✂ ✟✝✧✍☛✆☛✄✠ ✄☛ ☛☎ ✂✄☛✁✡ ✆✡☛✂ ✞✍✝☎☞ ✝
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Nev

✮ ✛ ✬✞✮ ✔☛✌✝✞✏ ✡☞✔✒✎✍ ✟ ✬✓✮ ✞✏✌✠✎☛✟✰✡☞ ☎✡☛✝☛✡✞✏✆ ✬
D = 100%, Nev = −

✮ ✟ ✬✢✮ ✞✏✌✠✎☛✟✰✡☞
✗✞✎ ✰✠✔✟✍✎✍✔☛✔ ✬

D = 7, 9%, Nev = 76
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D = 70, 5%, Nev = 334
✮ ✟ ✬☞✮ �✽✷�✝✁✹✽✻✂❆✄✆ ✬

D =
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D = 100%, Nev = −
✮ ✟ ✬✢✮ ✞✏✌✠✎☛✟✰✡☞ ✗✞✎ ✰✠✔✟✍✎✍✔☛✔ ✬

D = 22, 2%, Nev = 191
✮ ✟

✬✑✮ ✗✝✂✝✝✓✂✝ ✬
D = 42, 7%, Nev = 604

✮ ✟ ✬☞✮ �✽✷�✝✁✹✽✻✂❆✄✆ ✬
D = 17, 3%, Nev = 159

✮✘

✷✮



4�☎✁✞☎✁✟✁✟✠✂✁ ☎✟ ✄✂✄✁✄✠✝✁✟✠✂✁

✢✄ ✆✍✡✛☛✍✝✁☛✄✌✄☎☛ ☞✡☛✝✁✡✡✡ ☞✝☎✂ ✡✄ ✠☞✝✆✁☛✍✄ ✆✍✡✠✡☞✄☎☛ ✄✂☛ ☛☎✄ ✆✍✄✌✁✔✍✄ ✡☛✝✆✄ ✄✂✂✄☎☛✁✄✡✡✄ ✟✄✍✂
✡✥✌✧✬✄✠☛✁✘ ✏☛✄ ☎✌☛✂ ☎✌☛✂ ✂✌✌✌✄✂ ✷✯✡✎ ✢✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡☛✄✠☛✁✌☎ ✄☛ ☞✡✧✍☛✁☛✝✞✄ ✄✂☛ ✍✄✡✝☛✁✟✄✌✄☎☛

✞✡☎✡✍✝✡ ✄☛ ✝✆✆✡✁✠✝✧✡✄ ✤ ☞✄ ☎✌✌✧✍✄☛✯ ☛✒✆✄✂ ☞✄ ✂✁✞☎✝☛✯ ☎✌☎✛✂☛✝☛✁✌☎☎✝✁✍✄✂✑✁ ✎ ✠✄✆✄☎☞✝☎☛✓ ✁✡ ☎✄ ✆✍✄☎☞
✆✝✂ ✄☎ ✠✌✌✆☛✄ ☎✁ ✡✄✂ ✠✌☎☎✝✁✂✂✝☎✠✄✂ ✁ ☎☛✠✂☛✠ ✂☛✍ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✘✍✡✏☛✄☎☛✁✄✡✡✄✂ ✄☛ ☛✄✌✆✌✍✄✡✡✄✂ ☞✄✂
✂✁✞☎✝☛✯✓ ☎✁ ✡✝ ☎✝☛☛✍✄ ✌☛✡☛✁✛✟✌✁✄✂ ☞✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂✎ ✢✥✌✧✬✄✠☛✁✘ ☞✄ ✠✄ ✠☞✝✆✁☛✍✄ ✄✂☛ ✡✥✁☎☛✡✞✍✝☛✁✌☎ ☞✄
✠✄✂ ✁☎✘✌✍✌✝☛✁✌☎✂ ☞✝☎✂ ✡✄ ☛✍✝✁☛✄✌✄☎☛ ☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✓ ✆✝✍ ✡✄ ✧✁✝✁✂ ☞✄ ✡✝ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎
☞✄✂ ✂✁✞☎✝☛✯ ✄☛ ☞✄ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✎

✑✌☛✂ ✘✝✟✌✍✁✂✌☎✂ ☞✌☎✠ ☛☎✄ ✝✆✆✍✌✠☞✄ ✄✌✆✁✍✁✏☛✄✓ ✆✍✝✞✌✝☛✁✏☛✄✓ ✘✌☎☞✡✄ ✂☛✍ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂
✆☞✒✂✁✏☛✄✂ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✆✍✡✂✄☎☛✡✄✂ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✫✎✲✎ ✢✝ ✬☛✂☛✁✷✠✝☛✁✌☎ ✆✍✁☎✠✁✆✝✡✄ ☞✄ ✠✄☛☛✄

☞✡✌✝✍✠☞✄ ✄✂☛ ✡✝ ☎✡✠✄✂✂✁☛✡ ☞✄ ✡✥✁☎☛✡✞✍✝☛✁✌☎ ☞✄ ✡✥✄✯✆✄✍☛✁✂✄ ✌✡☞✁✠✝✡✄ ☞✝☎✂ ✡✄ ☛✍✝✁☛✄✌✄☎☛ ☞✄✂ ✂✁✞☎✝☛✯✓✡☛✝☎☛ ☞✌☎☎✡ ✏☛✥✄✡✡✄ ✄✂☛ ✡✝ ✂✄☛✡✄ ✂✌☛✍✠✄ ☞✥✁☎✘✌✍✌✝☛✁✌☎ ✄☛ ☞✄ ✟✝✡✁☞✝☛✁✌☎ ✆✌☛✍ ✡✄ ✟✌✡✄☛ ✝✆✆✡✁✠✝☛✁✘ ☞✄
☎✌✂ ☛✍✝✟✝☛✯✎ ✢✄ ✆✍✄✌✁✄✍ ✌✧✬✄✠☛✁✘ ☞✄ ✠✄ ✠☞✝✆✁☛✍✄ ✄✂☛ ✡✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✝✍☛✡✘✝✠☛✂✓ ☞✡✷☎✁✂ ✠✌✌✌✄
✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✏☛✁ ☎✄ ✠✌✍✍✄✂✆✌☎☞✄☎☛ ✆✝✂ ✝☛✯ ✠✌☎☎✝✁✂✂✝☎✠✄✂ ✁ ☎☛✠✂☛✠ ✂☛✍ ✡✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✎ ✕✡
✂✥✝✞✁☛✓ ✆✝✍ ✄✯✄✌✆✡✄✓ ☞✄✂ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂ ✍✄✂☛✝☎☛✄✂ ✝✆✍✔✂ ✡✄ ☞✡✧✍☛✁☛✝✞✄✓ ☞✄✂ ✧✍☛✁☛✂ ✟✝✁✞☛✂✠ ☞☛✂ ✝☛✯
✌✁✠✍✌✛✘✍✌☛☛✄✌✄☎☛✂ ✄☎☛✍✄ ✡✝ ☛✫☛✄ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ✄☛ ✡✝ ✆✄✝☛ ✌☛ ☞✄✂ ✧✍☛✁☛✂ ✟✞✍✝✟✄✂✠ ☞☛✂ ✝☛✯ ✠☞✌✠✂

✝✠✠✁☞✄☎☛✄✡✂ ✌☛ ✝☛✯ ✌✌☛✟✄✌✄☎☛✂ ☞☛ ✆✝☛✁✄☎☛✎
✢✄ ✆✍✌☛✌✠✌✡✄ ☞✄ ✌✄✂☛✍✄ ☞✡✷☎✁ ✆✍✡✠✡☞✄✌✌✄☎☛ ✴✂✄✠☛✁✌☎ ✫✎✫✎✲✵ ✆✄✍✌✄☛ ✡✥✄☎✍✄✞✁✂☛✍✄✌✄☎☛ ✂✁✌☛✡☛✝☎✡

☞✄ ✆✡☛✂✁✄☛✍✂ ✂✁✞☎✝☛✯✎ ✢✄✂ ✂✁✯ ✠✝✆☛✄☛✍✂ ✆✡✝✠✡✂ ✂☛✍ ✡✝ ✂☛✍✘✝✠✄ ☞✄ ✡✝ ✆✝✍✌✁ ✝✧☞✌✌✁☎✝✡✄ ✴✟✌✁✍ ✷✞☛✍✄✫✎✮✓ ✆✝✞✄ ✫✪✵ ✘✌☛✍☎✁✂✂✄☎☛ ☛☎✄ ✁☎✘✌✍✌✝☛✁✌☎ ✠✌☎✬✌✁☎☛✄ ☛☛✁✡✁✂✝✧✡✄ ✤ ✡✝ ✘✌✁✂ ✆✌☛✍ ☛☎✄ ✟✝✡✁☞✝☛✁✌☎ ✠✍✌✁✂✡✄
✄☛ ✆✌☛✍ ☛☎✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄✂ ✂✌☛✍✠✄✂ ✂✌☎✌✍✄✂ ✤ ✡✥✁☎☛✡✍✁✄☛✍ ☞✄ ✡✥✝✧☞✌✌✄☎✎ ✢✄ ☞✄☛✯✁✔✌✄ ✌✧✬✄✠☛✁✘ ✄✂☛

☞✌☎✠ ✡✝ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✥☛☎✄ ✠✝✍☛✄ ✝✠✌☛✂☛✁✏☛✄ ☞✄ ✡✥✝✠☛✁✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄ ✤ ✡✥✝✁☞✄ ☞✄ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎✎

✞✟✞ ✁✄✎✂✆✂✆✝✑✆✄✁✟ � ✁☛✞✄✑☎✞✆✡✝ ✏✁✟ ☎✑✄✑☎✞✎✄✆✟✞✆✄✒✁✟ ✠✂✄✟✆✄✒✁✟

✢✄✂ ☞✄☛✯ ✌✧✬✄✠☛✁✘✂ ✷✯✡✂ ✠✁✛☞✄✂✂☛✂ ☎✡✠✄✂✂✁☛✄☎☛ ✡✝ ✆✍✁✂✄ ✄☎ ✠✌✌✆☛✄ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂
☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✒ ☞✥☛☎✄ ✆✝✍☛✓ ✆✌☛✍ ✡✄✂ ☞✁✂☛✁☎✞☛✄✍ ☞✄✂ ✝✍☛✡✘✝✠☛✂✓ ✄☛ ☞✥✝☛☛✍✄ ✆✝✍☛✓ ✆✌☛✍ ✡✟✝✡☛✄✍
✡✥✄✆✄☛ ☞✄ ✡✝ ✆✍✌✆✝✞✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✤ ✡✥✁☎☛✡✍✁✄☛✍ ☞✄ ✡✥✝✧☞✌✌✄☎ ✄☛ ☞✄ ✡✌✠✝✡✁✂✄✍ ✝✁☎✂✁ ✡✄☛✍ ✡✁✄☛ ☞✥✌✍✁✞✁☎✄✎
✒✝★✞ ✫☞✎✔☛✠✝ ☎✡☛✝☛✡✞✏☞✆ ✑☞ ✏❂✞✏✌✠✎☛✟✰✡☞ ✑☞ ✑✍✓✎✒☛✟✞✌☞ ☞✔✟ ☞✝ ✗✰✞✔☞ ✑☞ ✟☞✔✟ ✑✞✝✔ ✏✞ ✔✠✢☛✍✟✍ ✆☞✟✎✞✫☛✓ ✂✆ ✗✠✒✎ ✏✞✑✍✟☞✢✟☛✠✝ ✑☞✔ ✓✎✒☛✟✔ ✗✞✎✞✔☛✟☞✔ ✑✞✝✔ ✏☞✔ ✰✞✓☛✟✞✢✏☞✔ ✑☞✔ ✫✠☛✟✒✎☞✔✘

✷✶



�✁✁☎✠✟☛☎ �✏ ✄☎✁✞☎✁✟✁✟✠✂✁ ☎✟ ✄✂✄✁✄✠✝✁✟✠✂✁

✰☎ ✠✌☎✂✡✏☛✄☎✠✄✓ ✄☎ ✝✌✌☎☛ ☞✄ ✡✝ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛ ☞✄ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎✓ ✁✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✥✄✯✛
☛✍✝✁✍✄ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ✡☎☛✌✡✍✡✄✂ ✠✁✛☞✄✂✂✌☛✂✓ ✏☛✁ ✂✄✌✧✡✄☎☛ ✡✄✂ ✆✡☛✂ ✆✄✍☛✁☎✄☎☛✄✂ ✆✌☛✍
✡✄✂ ✄✯✆✄✍☛✂ ✌✡☞✁✠✝☛✯ ✄☛ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄ ✒

✄ ✡✝ ☞☛✍✡✄ ✄✂☛ ✡✝ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄ ✡✝ ✆✡☛✂ ☛☛✁✡✁✂✡✄✎ ✢✄✂ ✟✝✡✄☛✍✂ ☞✌☎☎✡✄✂ ✆✝✍ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄
✟✝✍✁✄☎☛ ☞✄ ✫✬ ✌✂✎ ✤ ✶ ✂✎ ✝✮✷✞✓ ✌✝✁✂ ✂✌☎☛ ✞✡☎✡✍✝✡✄✌✄☎☛ ✁☎✘✡✍✁✄☛✍✄✂ ✤ ✲✬✬ ✌✂✎ ✝✭✮✓ ✷✮✓ ✲✲✬✓ ✲✲✪✞ ✝

✄ ✡✥✡☎✄✍✞✁✄ ☎✥✄✂☛ ✆✝✂ ✝☞✝✆☛✡✄ ✆✌☛✍ ☞✡✠✍✁✍✄ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✁☎☞✁✟✁☞☛✄✡✡✄✌✄☎☛✓ ✌✝✁✂ ✄✡✡✄ ✆✄☛☛
✂✄✍✟✁✍ ✤ ✡✥✝☎✝✡✒✂✄ ✞✡✌✧✝✡✄ ☞✄✂ ✂☛✠✠✄✂✂✁✌☎✂ ☞✄ ✂✌☎✂ ✴☞✝☎✂ ✡✄ ✠✝✡✠☛✡ ☞✄ ✡✥✡☎✄✍✞✁✄ ✆✝✍ ✌✁☎☛☛✄✓
✆✝✍ ✄✯✄✌✆✡✄✵✎ ✠✄✆✄☎☞✝☎☛✓ ✡✄✂ ✟✝✍✁✝☛✁✌☎✂ ✁☎☛✄✍✛✁☎☞✁✟✁☞☛✄✡✡✄✂ ✍✁✂✏☛✄☎☛ ☞✥✫☛✍✄ ✁✌✆✌✍☛✝☎☛✄✂ ✄☛

☞✄ ✍✄☎☞✍✄ ✡✥✁☎✘✌✍✌✝☛✁✌☎ ✘✌☛✍☎✁✄ ✁☎☛☛✁✡✁✂✝✧✡✄ ✝
✄ ✡✄ ✂✆✄✠☛✍✄ ✄☛ ✡✥✝✍✞☛✌✄☎☛ ☞✄ ✂✝ ✟✝✡✄☛✍ ✌✝✯✁✌✝✡✄✓ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✴☎✠✟✄✁✵✓ ✂✄ ✂✁☛☛✄☎☛

☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☞✄✂ ✧✝✂✂✄✂✛✘✍✡✏☛✄☎✠✄✂ ✴✁☎✘✡✍✁✄☛✍✄✂ ✤ ✲✬✬✬ ✭✳✎✵✎ ✠✄☛☛✄ ✌✧✂✄✍✟✝☛✁✌☎ ✄✂☛ ✠✌☎✷✍✛
✌✡✄ ✆✝✍ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄ ✝✲✶✓ ✭✫✓ ✯✮✓ ✷✮✓ ✲✲✪✓ ✲✫✪✞✓ ✌✝✁✂ ✝☛✂✂✁ ✆✝✍ ☎✌☛✍✄ ✄✯✆✡✍✁✄☎✠✄ ✴✟✌✁✍
✂✄✠☛✁✌☎ ✫✎✲✵ ✝✄ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄✓ ✡✁✡✄ ✤ ✡✥✝✌✆✡✁☛☛☞✄ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄ ☞✄ ✡✥✌☎☞✄ ☞✄ ✆✍✄✂✂✁✌☎ ✂✌☎✌✍✄ ✄☛ ☞✌☎✠
✤ ✡✥✁✌✆✍✄✂✂✁✌☎ ✝☛☞✁☛✁✟✄ ✴✟✌✁✍ ✝☛✂✂✁ ✡✝ ✂✄✠☛✁✌☎ ✫✎✮✎✫✓ ✡✏☛✝☛✁✌☎ ✴✫✎✯✵✵✓ ✄✂☛ ✍✄✡✝☛✁✟✄✌✄☎☛ ✆✄☛ ☛☛✁✛
✡✁✂✡✄ ☞✝☎✂ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄ ✆✌☛✍ ✡✝ ✠✝✍✝✠☛✡✍✁✂✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✓ ✆✌☛✍ ✡✄✂ ✌✫✌✄✂ ✍✝✁✂✌☎✂
✏☛✄ ✡✥✡☎✄✍✞✁✄✎ ✠✄✆✄☎☞✝☎☛✓ ✄✡✡✄ ✠✌☎✂☛✁☛☛✄ ☛☎✄ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄ ✄✂✂✄☎☛✁✄✡✡✄ ✆✌☛✍ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎
✴✟✌✁✍ ✂✄✠☛✁✌☎ ✮✎✭✵✎

✠✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆✄✍✌✄☛☛✄☎☛ ☞✥✁☎☛✍✌☞☛✁✍✄ ☞✄✂ ✠✌☎☎✝✁✂✂✝☎✠✄✂ ✁ ☎☛✠✂☛✠ ☞✝☎✂ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛
✄✡✡✄✂ ✂✄✍✟✄☎☛ ✤ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄ ✡✝ ✂✌☛✍✠✄ ✂✌☎✌✍✄✎ ✰✡✡✄✂ ✂✌☎☛ ✡✞✝✡✄✌✄☎☛ ✤ ✡✝ ✧✝✂✄ ☞✄ ✡✝ ☞✡✷☎✁✛
☛✁✌☎ ☞✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡✎ ✠✄✂ ✁☎☞✁✠✄✂✓ ✏☛✁ ✁☎☛✄✍✟✁✄☎☎✄☎☛ ✆✍✁☎✠✁✆✝✡✄✌✄☎☛ ☞✝☎✂ ✡✥✝☎✝✡✒✂✄ ✞✡✌✧✝✡✄
☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂ ✴✡✝ ✠✌✌✆✝✍✝✁✂✌☎ ☞✄✂ ✂✁✞☎✝☛✯ ✄☎✍✄✞✁✂☛✍✡✂ ✂☛✍ ✡✄✂ ☞✁✆✡✍✄☎☛✄✂ ✟✌✁✄✂✓ ✆✄✍✛
✂✌☎☎✄✂✓ ✌✌✌✄☎☛✂ ☞☛ ✠✒✠✡✄ ☞✁✞✄✂☛✁✘✓ ✄☛✠✎✵✓ ✆✄☛✟✄☎☛ ✝☛✂✂✁ ✫☛✍✄ ☛☛✁✡✁✂✡✂ ✆✌☛✍ ✝✆✆✍✡✠✁✄✍ ✡✥✄✆✄☛ ☞✄ ✡✝
✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛ ☞✄ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ✂☛✍ ☛☎ ✌✫✌✄ ✂✁✞☎✝✡ ✂✌☎✌✍✄ ✝✧☞✌✌✁☎✝✡✎

✑✌☛✂ ✆✌☛✟✌☎✂ ✝✠✠✡☞✄✍ ✝☛✯ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ✡☎☛✌✡✍✡✄✂ ✠✁✛☞✄✂✂☛✂ ✆✝✍ ✴✝☛ ✌✌✁☎✂✵
☞✄☛✯ ✟✌✁✄✂ ✒

✄ ✡✝ ✌✡☛☞✌☞✄ ✠✡✝✂✂✁✏☛✄✓ ✏☛✁ ✆✝✂✂✄ ✆✝✍ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ☞☛ ✂✁✞☎✝✡ ✝✆✍✔✂ ✡✄ ☞✡✧✍☛✁☛✝✞✄ ✆✝✍
✌☎☞✄✡✄☛☛✄✂ ✄☛ ✂✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ✤ ✡✥✝✁☞✄ ☞☛ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄ ✌✧☛✄☎☛ ✠✌☎✘✌✍✌✡✌✄☎☛ ✤ ✡✝ ✂✄✠☛✁✌☎✭✎✪✓ ✠✌☎✂✁✂☛✄ ✤ ✠✝✡✠☛✡✄✍ ✡✝ ☞☛✍✡✄✓ ✡✥✡☎✄✍✞✁✄✓ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✄☛ ✡✥✝✌✆✡✁☛☛☞✄ ✌✝✯✁✌✝✡✄

☞✄ ✠☞✝✏☛✄ ✡✟✡☎✄✌✄☎☛ ✤ ✆✝✍☛✁✍ ☞☛ ✂✁✞☎✝✡ ✍✄✠✌☎✂☛✍☛✁☛ ✄☛ ✂✄✞✌✄☎☛✡✎ ✎☛☛✍✄ ✡✄ ✘✝✁☛ ✏☛✥✄✡✡✄ ✁✌✛
✆✡✁✏☛✄ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ☞☛ ✂✁✞☎✝✡✓ ✄✡✡✄ ✍✡☞☛✁☛ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✤ ✠✄✂
✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂✓ ☛☛✁✡✄✂ ✆✌☛✍ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎✎ ✙✄ ✆✡☛✂✓ ✄✡✡✄ ✆✄☛☛
✫☛✍✄ ✁☎✂☛☎✂✝☎☛✄ ✆✌☛✍ ☛☎✄ ✝☎✝✡✒✂✄ ✆✡☛✂ ☞✡☛✝✁✡✡✡✄ ✄☛ ☛☎✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✝

✄ ☛☎✄ ✌✡☛☞✌☞✄ ☞✁✍✄✠☛✄✓ ✏☛✁ ✡✟✁☛✄ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ☞☛ ✂✁✞☎✝✡ ✄☛ ✏☛✁ ✠✝✡✠☛✡✄ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂
✆☞✒✂✁✏☛✄✂ ✤ ✆✝✍☛✁✍ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✠☞✝✏☛✄ ✡✟✡☎✄✌✄☎☛✎ ✜☛ ✏☛✄ ✡✥✁☎✘✌✍✌✝☛✁✌☎
✘✌☛✍☎✁✄ ✆✝✍ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✄✂☛ ✠✌✌✆✡✔☛✄✓ ☎✌☛✂ ✆✌☛✛
✟✌☎✂ ✌✧☛✄☎✁✍ ✠✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ☛✌☛☛ ✄☎ ✠✌☎✂✄✍✟✝☎☛ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✆✌☛✍ ✡✄✂
✡✟✄☎☛☛✄✡✡✄✂ ✡☛✝✆✄✂ ☛✡☛✡✍✁✄☛✍✄✂ ☞✄ ☛✍✝✁☛✄✌✄☎☛✎

✑✌☛✂ ☎✥✝✡✡✌☎✂ ✆✝✂ ✁☎✂✁✂☛✄✍ ✂☛✍ ✡✝ ✌✡☛☞✌☞✄ ✠✡✝✂✂✁✏☛✄✓ ✠✝✍ ✂✌☎ ✝✆✆✡✁✠✝☛✁✌☎ ✄✂☛ ✁✌✌✡☞✁✝☛✄✎ ✰☎ ✍✄✛
✟✝☎✠☞✄✓ ☎✌☛✂ ✝✡✡✌☎✂ ✌✌☎☛✍✄✍ ✠✌✌✌✄☎☛ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ✡☎☛✌✡✍✡✄✂ ✆✄☛✟✄☎☛ ✫☛✍✄
✄✯☛✍✝✁☛✄✂ ✤ ✆✝✍☛✁✍ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✠☞✝✏☛✄ ✡✟✡☎✄✌✄☎☛✎

✡✓✠✓✠ �✆☛✝✜✝✕✕✝✟ ✝✕ ✄✔✝✔✄✕✡✝✘✟✕✘✁☎✝✟ ✙✚✛✟✘✁☎✝✟
✢✝ ☞☛✍✡✄✓ ✡✥✡☎✄✍✞✁✄✓ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✄☛ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✌✆✍✄☎☛ ☛☎✄ ☞✄✂✠✍✁✆☛✁✌☎

✡✁✌✁☛✡✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✓ ✆✄☛☛✛✫☛✍✄ ✁☎✂☛☎✂✝✌✌✄☎☛ ✝☞✝✆☛✡✄ ✤ ☛☎✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✆✄✍✘✌✍✌✝☎☛✄✓
✆✝✍ ✄✯✄✌✆✡✄✎ ✎☛ ✠✌☎☛✍✝✁✍✄✓ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✠✝✍✝✠☛✡✍✁✂✄☎☛ ✆✍✡✠✁✂✡✌✄☎☛ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂
✄☛ ✁✡ ✝✆✆✝✍✝✣☛ ☞✌☎✠ ✂✌☛☞✝✁☛✝✧✡✄ ☞✄ ✞✝✍☞✄✍ ✠✄☛☛✄ ✁☎✘✌✍✌✝☛✁✌☎✎

✷✪



�✏✂✏ ✁☛✆✄✠✞✠✁✁✠☛☎✝ � ☎☎✟☛✁✄✟✠✂✁ ✆☎✝ ✄✁☛✁✄✟✆☛✠✝✟✠✝✂☎✝ ☎✁✠✝✠✝✂☎✝

0 500 1000 1500 2000 2500
Fréquence (Hz.)

A
m

pl
itu

de

a
5
 d

5
 d

4
 d

3
 d

2
 d

1
 

✁✂✄☎ ✮✎✲ ✄ ✂✗☞✢✟✎☞✔ ✑☞✔ ✠✝✑☞✏☞✟✟☞✔ ❅✞✒✓☞✢✰☛☞✔ ✝✠✘ ✲ ✗✠✒✎ ✏❂✍✢✰☞✏✏☞ ✑☞ ✏❂✞✗✗✎✠✕☛✡✞✟☛✠✝ ☞✟ ✏☞✔ ☛ ✍✢✰☞✏✏☞✔ ✑☞✔ ✑✍✟✞☛✏✔✘

✙✄ ✆✡☛✂✓ ✤ ✠✄ ✂☛✝☞✄ ☞☛ ☛✍✝✁☛✄✌✄☎☛✓ ☎✌☛✂ ☞✁✂✆✌✂✌☎✂ ☞✡✬✤ ☞☛ ✟✄✠☛✄☛✍ ✠✌☎☛✄☎✝☎☛ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✄
✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ☞☛ ✂✁✞☎✝✡ ✂✌☎✌✍✄ ✝✧☞✌✌✁☎✝✡ ☞✡✧✍☛✁☛✡✓ ✝✁☎✂✁ ✏☛✄ ☞☛ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄
☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎✓ ✠✄ ✏☛✁ ✆✄✍✌✄☛ ✡✝ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✥☛☎ ✟✄✠☛✄☛✍ ☞✄ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✆✌☛✍
✠☞✝✏☛✄ ✡✟✡☎✄✌✄☎☛✎ ✎ ✆✝✍☛✁✍ ☞✄ ✠✄ ✟✄✠☛✄☛✍✓ ☎✌☛✂ ✆✌☛✟✌☎✂ ✌✧☛✄☎✁✍ ✧✄✝☛✠✌☛✆ ☞✥✁☎✘✌✍✌✝☛✁✌☎✂ ✂☛✍
✡✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✓ ☞✌☎☛ ✡✟✁☞✄✌✌✄☎☛ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ✡☎☛✌✡✍✡✄✂ ✆✍✡✠✡☞✄✌✌✄☎☛✎
✮☎ ✆✍✄✌✁✄✍ ✆✝✂ ✠✌☎✂✁✂☛✄ ☞✌☎✠ ✄☎ ✡✥✁☞✄☎☛✁✷✠✝☛✁✌☎ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✆✍✌✆✍✄✂ ✤ ✠☞✝✏☛✄
✡✟✡☎✄✌✄☎☛ ✄☛ ✡✄☛✍ ✄✯☛✍✝✠☛✁✌☎ ☞☛ ✟✄✠☛✄☛✍ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞☛ ✂✁✞☎✝✡ ☞✡✧✍☛✁☛✡ ✠✌✌✆✡✄☛✎
✠✄ ✆✍✌✧✡✔✌✄ ✌✡☛☞✌☞✌✡✌✞✁✏☛✄ ✍✄✟✁✄☎☛ ✄☎ ✘✝✁☛ ✤ ✡✝ ✍✄✠☞✄✍✠☞✄ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ✝✒✝☎☛
✠✌☎☛✍✁✧☛✡ ✤ ✡✝ ✟✠✌☎✂☛✍☛✠☛✁✌☎✠ ☞✥☛☎✄ ✳✌☎✄ ✆✝✍☛✁✠☛✡✁✔✍✄ ☞☛ ✂✁✞☎✝✡✎

☞✑✚✌✍✔☎✓✘✍✔✏✌ ✑✚✜ ✓✏✚�✓✔✚✌✍✜ ✑✆✏✌✑✚✦✚✍✍✚ ✑✆✒✌ ✧✂✧✌✚✣✚✌✍✥ ✢✝ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎ ✧✁☞✁✌✄☎✛
✂✁✌☎☎✄✡✡✄ ✠✡✝✂✂✁✏☛✄ ☞✥☛☎✄ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ✄✂☛ ✆✍✡✂✄☎☛✡✄ ✷✞☛✍✄ ✮✎✫✴✝✵ ✒ ✡✝ ☞✡✠✌✌✆✌✛
✂✁☛✁✌☎ ✄✂☛ ☎✌☎✛✍✄☞✌☎☞✝☎☛✄✓ ☞✌☎✠ ✡✄✂ ✟✆✝✟✡✂✠ ☛✄✌✆✂✛✘✍✡✏☛✄☎✠✄ ✴☛✄✌✆✂✛✡✠☞✄✡✡✄✵ ✂✌☎☛ ✝☞✬✝✠✄☎☛✂ ✄☛ ✡✝
✠✌☛✟✄✍☛☛✍✄ ☞☛ ✆✡✝☎ ✠✌✌✆✡✔☛✄✎ ✠✄✆✄☎☞✝☎☛✓ ✠✄☛☛✄ ✷✞☛✍✄ ✄✂☛ ☛✍✌✌✆✄☛✂✄✓ ✠✝✍ ✄✡✡✄ ☎✌☛✂ ✡✝✁✂✂✄ ✆✄☎✂✄✍
✏☛✄ ☞✄☛✯ ✡✁✞☎✄✂ ☞✌✍✁✳✌☎☛✝✡✄✂ ✂✡✆✝✍✄☎☛ ☛☎✄ ✧✝☎☞✄ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✴☛☎✄ ✌✠☛✝✟✄✵ ✄☛ ✏☛✄ ☞✄☛✯ ✡✁✞☎✄✂

✟✄✍☛✁✠✝✡✄✂ ☞✡✡✁✌✁☛✄☎☛ ☛☎ ✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡✎ ✠✄✠✁ ✄✂☛ ✟✍✝✁ ✆✌☛✍ ✡✄✂ ✧✝☎☞✄✂ ✘✍✡✏☛✄☎☛✁✄✡✡✄✂✓ ✂✝✠☞✝☎☛✧✁✄☎✛✂✁✍ ✏☛✄ ✡✄✂ ✂✆✄✠☛✍✄✂ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ☞✄✂ ✡✠☞✄✡✡✄✂ ✟✌✁✂✁☎✄✂ ✂✄ ✂☛✆✄✍✆✌✂✄☎☛ ✄☎ ✆✝✍☛✁✄ ✴✟✌✁✍ ✷✞☛✍✄✮✎✲✵✎
✰☎ ✍✄✟✝☎✠☞✄✓ ✡✝ ✟✠✌✡✌☎☎✄✠ ✠✌☎✂☛✁☛☛✡✄ ☞✄✂ ✆✝✟✡✂ ✂✁☛☛✡✂ ✤ ✡✝ ✟✄✍☛✁✠✝✡✄ ☞✥☛☎ ✆✝✟✡ ☞✄ ✡✥✡✠☞✄✡✡✄

☞✥✝✆✆✍✌✯✁✌✝☛✁✌☎ a5
✴☛☎ ✆✝✟✡ ✂☛✍ ✡✥✡✠☞✄✡✡✄ ☞✄✂ ☞✡☛✝✁✡✂ d5 ✓ ☞✄☛✯ ✂☛✍ d4 ✓ ✬☛✂✏☛✥✤ ✲✪ ✂☛✍ d1

✵ ☎✄

✍✄✆✍✡✂✄☎☛✄ ✆✝✂ ☛☎ ✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡✎ ✗✝✍ ✄✯✄✌✆✡✄✓ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ✠✌✍✍✄✂✆✌☎☞✝☎☛ ✝☛✯ ✲✪ ✆✝✟✡✂ ☞✄
✡✥✡✠☞✄✡✡✄ ☞✝☛☛✄✛✘✍✡✏☛✄☎✠✄ d1

✠✌☛✟✍✄☎☛ ☛☎ ✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡ ☞✥☛☎✄ ✡✌☎✞☛✄☛✍ ✁☎✘✡✍✁✄☛✍✄ ✤ ✡✥✁☎☛✄✍✟✝✡✡✄
✠✌✍✍✄✂✆✌☎☞✝☎☛ ✝☛✯ ✷ ✌☎☞✄✡✄☛☛✄✂ ☞✄ ✡✥✡✠☞✄✡✡✄

d2 ✓ ✄☛ ✝✁☎✂✁ ☞✄ ✂☛✁☛✄✎
✢✥✄✯✆✡✁✠✝☛✁✌☎ ✄✂☛ ✡✝ ✂☛✁✟✝☎☛✄ ✒ ✆✌☛✍ ☛☎ ✂✁✞☎✝✡ ☞✄ ✡✌☎✞☛✄☛✍ N ✓ ✂☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄ ☞✄ ☞✡☛✝✁✡✂✑�

j ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✁✡ ✒ ✝ N/2j ✠✌✄☎✠✁✄☎☛✂ ✄☛ ✡✄ ✌✫✌✄ ☎✌✌✧✍✄ ☞✄ ✆✝✟✡✂ ☛✄✌✆✂✛✘✍✡✏☛✄☎✠✄
✴✠✝✍ ✠☞✝✏☛✄ ✆✝✟✡ ✠✌✍✍✄✂✆✌☎☞ ✤ ☛☎ ✠✌✄☎✠✁✄☎☛✵✎ ✕✡ ✒ ✝ ☞✌☎✠ N/2j ✌☎☞✄✡✄☛☛✄✂ ✞✡☎✡✍✡✄✂ ✆✝✍ ✠✄✂
✠✌✄☎✠✁✄☎☛✂✎ ✠✄✆✄☎☞✝☎☛✓ ✡✝ ☛✝✁✡✡✄ ☞☛ ✂☛✆✆✌✍☛ ☞✥☛☎✄ ✌☎☞✄✡✄☛☛✄ ✄✂☛ ✂☛✆✡✍✁✄☛✍✄ ✤

2j ✆✌✁☎☛✂✓ ✆☛✁✂✏☛✥✄✡✡✄
✄✂☛ ☞✌☎☎✡✄ ✆✝✍ ✂✌☎ ✌✍☞✍✄ ✄☛ ☞✌☎✠ ✆✝✍ ✡✝ ✡✌☎✞☛✄☛✍ ☞✄ ✡✝ ✍✡✆✌☎✂✄ ✁✌✆☛✡✂✁✌☎☎✄✡✡✄ ☞☛ ✷✡☛✍✄ ☞✄
✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✴✠✌✌✌✄ ☎✌☛✂ ✡✥✝✟✌☎✂ ✌✌☎☛✍✡ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✭✎✪ ☞✡☞✁✡✄ ✤ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ✆✝✍

✒✁❅✞✝✔ ✏✞ ✔✒☛✟☞✭ ✝✠✒✔ ✞✏✏✠✝✔ ✍✢✎☛✎☞ ✔☛✡✗✏☞✡☞✝✟ j
✄ ✏✞ ✗✏✞✢☞ ✑☞ ✏❂✍✢✰☞✏✏☞ ✑☞ ✑✍✟✞☛✏✔ dj

✭ ✞✠✝ ✑☞ ✔☛✡✗✏☛✠☞✎ ✏✞ ✝✠✟✞✟☛✠✝✘★❂✍✢✰☞✏✏☞ ✑☞ ✏❂✞✗✗✎✠✕☛✡✞✟☛✠✝ a5
✔☞✎✞ ✝✠✟✍☞ M + 1

✬✠�
M = 5

☞✔✟ ✏✞ ✗✎✠✕✠✝✑☞✒✎ ✑☞ ✏✞ ✑✍✢✠✡✗✠✔☛✟☛✠✝✮✘

✷✯



�✁✁☎✠✟☛☎ �✏ ✄☎✁✞☎✁✟✁✟✠✂✁ ☎✟ ✄✂✄✁✄✠✝✁✟✠✂✁

✌☎☞✄✡✄☛☛✄✂✓ ✡✄ ☎✌✌✧✍✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎✂ ☎✌☎ ☎☛✡✂ ☞✥☛☎✄ ✌☎☞✄✡✄☛☛✄ ☞✄ ✙✝☛✧✄✠☞✁✄✂ ✤ ✡✥✡✠☞✄✡✡✄
j
✄✂☛ ☞✄

Tj = (L−1) · (2j −1)+1✓ ✌✟ L ✄✂☛ ✡✝ ✡✌☎✞☛✄☛✍ ☞✄ ✡✝ ✍✡✆✌☎✂✄ ✁✌✆☛✡✂✁✌☎☎✄✡✡✄ ☞☛ ✷✡☛✍✄ ✝✂✂✌✠✁✡✵✎ ✗✝✍
✄✯✄✌✆✡✄✓ ✡✄✂

N/2
✠✌✄☎✠✁✄☎☛✂ ☞✄ ✡✥✡✠☞✄✡✡✄ ☞✝☛☛✄✛✘✍✡✏☛✄☎✠✄ d1

✞✡☎✔✍✄☎☛ N/2 ✌☎☞✄✡✄☛☛✄✂✓ ☞✡✠✝✡✡✄✂
✡✥☛☎✄ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✡✥✝☛☛✍✄ ☞✄ ✫ ✆✌✁☎☛✂ ✌✝✁✂ ✝✒✝☎☛ ✠☞✝✠☛☎✄ ☛☎✄ ✡✌☎✞☛✄☛✍ ✡✞✝✡✄ ✤ ✲✷ ✆✌✁☎☛✂
✴✡✠☞✝☎☛✁✡✡✌☎✂✵✓ ✆✌☛✍ ✡✝ ✧✝✂✄ ☞✄ ✙✝☛✧✄✠☞✁✄✂ ☎✌✎ ✰ ✏☛✄ ☎✌☛✂ ☛☛✁✡✁✂✌☎✂✎

✢✝ ✍✔✞✡✄ ✞✡☎✡✍✝✡✄ ✄✂☛ ✡✝ ✂☛✁✟✝☎☛✄ ✒ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ✞✡☎✡✍✡✄✂ ✆✝✍ ☞✄☛✯ ✠✌✄☎✠✁✄☎☛✂ ✂☛✠✠✄✂✂✁✘✂ ✂✁☛☛✡✂
✤ ✡✥✡✠☞✄✡✡✄

j
✂✌☎☛ ☞✡✠✝✡✡✄✂ ☞✥☛☎ ☎✌✌✧✍✄ 2j ☞✄ ✆✌✁☎☛✂✓ ✄☛ ✠✄ ☞✡✠✝✡✝✞✄ ✄✂☛ ✁☎✘✡✍✁✄☛✍ ✤ ✡✝ ☛✝✁✡✡✄ ☞✄ ✡✄☛✍

✂☛✆✆✌✍☛✎ ✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓ ✤ ✡✝ ☞✁✆✡✍✄☎✠✄ ☞✄✂ ✆✝✟✡✂ ☛✄✌✆✂✛✘✍✡✏☛✄☎✠✄ ☞✄ ✡✝ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎ ✠✡✝✂✂✁✏☛✄
✴✷✞☛✍✄ ✮✎✫✴✝✵✵✓ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ☎✄ ✂✌☎☛ ✆✝✂ ✝☞✬✝✠✄☎☛✄✂ ✌✝✁✂ ✂☛✆✄✍✆✌✂✡✄✂✎ ✙✥☛☎ ✝☛☛✍✄ ✠✌☛✡✓ ✌☎ ✂✝✁☛
✏☛✄ ✡✝ ☛✝✁✡✡✄ ☞☛ ✂☛✆✆✌✍☛ ☞✥☛☎✄ ✌☎☞✄✡✄☛☛✄ ✤ ✡✥✡✠☞✄✡✡✄

j + 1
✄✂☛ ✄☎✟✁✍✌☎ ☞✄☛✯ ✘✌✁✂ ✆✡☛✂ ✞✍✝☎☞✄ ✏☛✄

✠✄✡✡✄ ☞✥☛☎✄ ✌☎☞✄✡✄☛☛✄ ✤ ✡✥✡✠☞✄✡✡✄
j ✎

✠✌✌✌✄ ☞✄☛✯ ✌☎☞✄✡✄☛☛✄✂ ✂☛✠✠✄✂✂✁✟✄✂ ☎✄ ✂✌☎☛ ✆✝✂ ✝☞✬✝✠✄☎☛✄✂✓
✡✥✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡ ✏☛✥✄✡✡✄✂ ✌✠✠☛✆✄☎☛ ✄✂☛ ✆✡☛✂ ✠✌☛✍☛ ✏☛✄ ✡✥✁☎☛✄✍✟✝✡✡✄ ✌✠✠☛✆✡ ✆✝✍ ✡✥✌☎☞✄✡✄☛☛✄ ✞✡☎✡✍✡✄
✆✝✍ ✡✄ ✠✌✄☎✠✁✄☎☛ ✂✁☛☛✡ ☞✝☎✂ ✡✝ ✌✫✌✄ ✠✌✡✌☎☎✄ ✌✝✁✂ ✂☛✍ ✡✥✡✠☞✄✡✡✄

j + 1
✴✟✌✁✍ ✷✞☛✍✄ ✮✎✫✴✧✵✵✎

d1

d2

d3

d4

d5

a5

✬✞✮ ✗✞✫✍✔ ✟☞✡✗✔✝✕✎✍❃✒☞✝✢☞

é
ch

e
lle

 d
2

é
ch

e
lle

 d
3

intervalle temporel occupé 

décalage 22 points 

intervalle temporel occupé 

différence de support 

✬✓✮ ✍✢✰☞✏✏☞✔ ✑☞✔ ✑✍✟✞☛✏✔ ☞✟ ☛✝✟☞✎✫✞✏✏☞✔ ✟☞✡✗✠✎☞✏✔

✁✂✄☎ ✮✎✫ ✄ ✟☞✏✞✟☛✠✝ ☞✝✟✎☞ ✏☞✔ ✗✞✫✍✔ ✟☞✡✗✔✝✕✎✍❃✒☞✝✢☞ ☞✟ ✏☞✔ ✠✝✑☞✏☞✟✟☞✔ ✢✠✎✎☞✔✗✠✝✑✞✝✟☞✔✘ ★☞✔ ✑☞✒✕ ✗✞✫✍✔ ✌✎☛✔✍✔ ✑☞
✏❂✍✢✰☞✏✏☞

d2
✬✠✌✒✎☞ ✬✞✮✮ ✌✍✝❄✎☞✝✟ ✏☞✔ ✑☞✒✕ ✠✝✑☞✏☞✟✟☞✔ ✔✒✗☞✎✗✠✔✍☞✔ ✬☞✝ ✰✞✒✟ ✑☞ ✏✞ ✠✌✒✎☞ ✬✓✮✮✘ ★☞ ✗✞✫✍ ✔☛✟✒✍ ✑✞✝✔✏✞ ✡✪✡☞ ✢✠✏✠✝✝☞ ✡✞☛✔ ✑✞✝✔ ✏✞ ✓✞✝✑☞ ✑☞ ✕✎✍❃✒☞✝✢☞ ☛✝✕✍✎☛☞✒✎☞ d3

✌✍✝❄✎☞ ✒✝☞ ✠✝✑☞✏☞✟✟☞ ✞✠✞✝✟ ✒✝ ✔✒✗✗✠✎✟ ✑☞ ✗✏✒✔✏✠✝✌✒☞ ✑✒✎✍☞ ✬✠✌✒✎☞ ✬✓✮✭ ☞✝ ✓✞✔✮ ❃✒☞ ✏☞✔ ✑☞✒✕ ✠✝✑☞✏☞✟✟☞✔ ✔✒✗☞✎✗✠✔✍☞✔ ✑☞
d2

✘
✢✄✂ ✠✌✄☎✠✁✄☎☛✂ ✂✁☛☛✡✂ ☞✝☎✂ ✡✝ ✌✫✌✄ ✠✌✡✌☎☎✄ ☞☛ ✆✡✝☎ ☛✄✌✆✂✛✡✠☞✄✡✡✄✓ ✌✝✁✂ ✤ ☞✄✂ ✡✠☞✄✡✡✄✂ ☞✁✆✡✛

✍✄☎☛✄✂✓ ✠✌✍✍✄✂✆✌☎☞✄☎☛ ✤ ☞✄✂ ✁☎☛✄✍✟✝✡✡✄✂ ☛✄✌✆✌✍✄✡✂ ☞✄ ✡✌☎✞☛✄☛✍✂ ✏☛✁ ✟✝✍✁✄☎☛ ✝✟✄✠ ✡✥✡✠☞✄✡✡✄✎ ✰☎ ✆✝✍✛
☛✁✠☛✡✁✄✍✓ ✄☎ ✠✌☎✂✁☞✡✍✝☎☛ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥☛☎✄ ✂✄☛✡✄ ✠✌✡✌☎☎✄✓ ✆✡☛✂ ✡✝ ✘✍✡✏☛✄☎✠✄ ✠✄☎☛✍✝✡✄ ☞✄ ✡✥✡✠☞✄✡✡✄
✝☛✞✌✄☎☛✄✓ ✆✡☛✂ ✡✥✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡ ✌✠✠☛✆✡ ✆✝✍ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ✞✡☎✡✍✡✄✂ ☞✁✌✁☎☛✄✎ ✍✡✠✁✆✍✌✏☛✄✌✄☎☛✓
✂✁ ✡✥✌☎ ✟✄☛☛ ✍✄☛✍✌☛✟✄✍ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ✂✁☛☛✡✄✂ ☞✝☎✂ ☛☎ ✌✫✌✄ ✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡✓
✁✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ✡✄✂ ✠☞✄✍✠☞✄✍ ☞✝☎✂ ✆✡☛✂✁✄☛✍✂ ✠✌✡✌☎☎✄✂✎ ✑✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ✄☎✂☛✁☛✄ ☛☎✄ ✌✡☛☞✌☞✄
☞✄ ✠✝✡✠☛✡ ✆✄✍✌✄☛☛✝☎☛ ✡✝ ✍✄✠☞✄✍✠☞✄ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✍✄✂✆✌☎✂✝✧✡✄✂ ☞✥☛☎ ✡✟✡☎✄✌✄☎☛ ✌✠✛
✠☛✆✝☎☛ ☛☎ ✠✄✍☛✝✁☎ ✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡✓ ✄☛ ☞✌☎✠ ✡✝ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄✂ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎✂ ✄☎ ✌☎☞✄✡✄☛☛✄✂
✁☎☞✁✟✁☞☛✄✡✡✄✂ ☞✄ ✠☞✝✏☛✄ ✡✟✡☎✄✌✄☎☛✎

✠✌☎✂✁☞✡✍✌☎✂ ☛☎✄ ✌☎☞✄✡✄☛☛✄ ✤ ✡✥✡✠☞✄✡✡✄
j + 1✎

✢✝ ☛✝✁✡✡✄ ☞✄ ✂✌☎ ✂☛✆✆✌✍☛ ☛✄✌✆✌✍✄✡ ✄✂☛
Tj+1 =

(L− 1) · (2j+1 − 1)+1✓ ✌✟ L ✄✂☛ ✡✝ ✡✌☎✞☛✄☛✍ ☞✄ ✡✝ ✍✡✆✌☎✂✄ ✁✌✆☛✡✂✁✌☎☎✄✡✡✄ ☞☛ ✷✡☛✍✄ ☞✄ ✙✝☛✧✄✠☞✁✄✂

✷✷



�✏✂✏ ✁☛✆✄✠✞✠✁✁✠☛☎✝ � ☎☎✟☛✁✄✟✠✂✁ ✆☎✝ ✄✁☛✁✄✟✆☛✠✝✟✠✝✂☎✝ ☎✁✠✝✠✝✂☎✝
✝✂✂✌✠✁✡ ✴✲✷ ✆✌✁☎☛✂ ✆✌☛✍ ✙✝☛✧✄✠☞✁✄✂ ☎✌✎ ✰✵✎ ✠✌☎✂✁☞✡✍✌☎✂ ✡✞✝✡✄✌✄☎☛ ☛☎✄ ✂☛✠✠✄✂✂✁✌☎ ☞✥✌☎☞✄✡✄☛☛✄✂
✤ ✡✥✡✠☞✄✡✡✄

j
✴☞✄ ☛✝✁✡✡✄ Tj = (L − 1) · (2j − 1) + 1✵ ✝✒✝☎☛ ✡✄ ✌✫✌✄ ✁☎✂☛✝☎☛ ☞✄ ✷☎ ✴✌☛ ☞✄ ☞✡✧☛☛✵

✏☛✄ ✡✥✌☎☞✄✡✄☛☛✄ ✂✁☛☛✡✄ ✤ ✡✥✡✠☞✄✡✡✄ ✆✡☛✂ ✧✝✂✂✄ ✘✍✡✏☛✄☎✠✄ j + 1✎
✠✌✌✌✄

Tj < Tj+1
✴✟✌✁✍ ✝☛✂✂✁ ✷✞☛✍✄✮✎✫✴✧✵✵✓ ✁✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ✠✝✡✠☛✡✄✍ ✠✌✌✧✁✄☎ ☞✥✌☎☞✄✡✄☛☛✄✂ ✂☛✠✠✄✂✂✁✟✄✂ ✤ ✡✥✡✠☞✄✡✡✄
j

✌✠✠☛✆✄☎☛ ✡✄
✌✫✌✄ ✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡ ✏☛✄ ✠✄✡☛✁ ✌✠✠☛✆✡ ✆✝✍ ✡✥✌☎☞✄✡✄☛☛✄ ☞✄ ✡✥✡✠☞✄✡✡✄

j + 1✓ ✂✝✠☞✝☎☛ ✏☛✄ ✡✄

☞✡✠✝✡✝✞✄ ✄☎☛✍✄ ✄✡✡✄✂ ✄✂☛ ☞✄ 2j ✆✌✁☎☛✂✎ ✰☎ ☎✌☛✝☎☛ n
✠✄ ☎✌✌✧✍✄✓ ✡✥✡✞✝✡✁☛✡ ☞✥✁☎☛✄✍✟✝✡✡✄✂ ☛✄✌✆✌✍✄✡✂

✂✥✡✠✍✁☛ ✒

Tj+1 = Tj + n · 2j .
✴✮✎✲✵

✰☎ ✍✄✌✆✡✝✩✝☎☛ ✡✄✂ ✄✯✆✍✄✂✂✁✌☎✂ ☞✄✂ ☛✝✁✡✡✄✂ Tj+1
✄☛
Tj ✓ ✌☎ ✌✧☛✁✄☎☛ ✒

n =
Tj+1 − Tj

2j
= L− 1.

✴✮✎✫✵

✎☎ ✆✄☛☛ ☞✌☎✠ ✝✟✌✁✍ ✬☛✂✏☛✥✤
L

✌☎☞✄✡✄☛☛✄✂ ✂☛✠✠✄✂✂✁✟✄✂ ✤ ✡✥✡✠☞✄✡✡✄
j ✍✄✂✆✌☎✂✝✧✡✄✂ ☞☛ ✌✫✌✄ ✁☎☛✄✍✟✝✡✡✄

☛✄✌✆✌✍✄✡ ✏☛✥☛☎✄ ✂✄☛✡✄ ✌☎☞✄✡✄☛☛✄ ☞✄ ✡✥✡✠☞✄✡✡✄
j + 1✎ ✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ✡✄✂ ☞✄☛✯ ✠✌✄☎✠✁✄☎☛✂ ✴✆✝✟✡✂✵

☞✄ ✡✥✡✠☞✄✡✡✄
j
✂✁☛☛✡✂ ✟✝☛ ☞✄✂✂☛✂✠ ☞☛ ✠✌✄☎✠✁✄☎☛ ☞✄ ✡✥✡✠☞✄✡✡✄

j + 1 ☎✄ ✂✌☎☛ ✆✝✂ ✂☛☎✂✝☎☛✂ ✄☛ ✁✡ ✘✝☛☛
✆✍✄☎☞✍✄ ✄☎✠✌✍✄ L− 2

✠✌✄☎✠✁✄☎☛✂✓ ☞✌☎✠ L−2
2

✠✌✡✌☎☎✄✂ ✝☞✬✝✠✄☎☛✄✂✎
✢✄ ✆✝✍✝✞✍✝✆☞✄ ✆✍✡✠✡☞✄☎☛ ✝ ✂✌☎ ✁✌✆✌✍☛✝☎✠✄ ☞✝☎✂ ✡✝ ✍✄✠☞✄✍✠☞✄ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ✍✄✂✆✌☎✂✝✧✡✄✂

☞✥☛☎ ✁☎☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡ ☞✌☎☎✡ ☞☛ ✂✁✞☎✝✡ ✒ ✆✝✍ ✄✯✄✌✆✡✄✓ ✌☎ ☎✄ ✆✄☛☛ ✆✝✂ ✠✌☎✂✁☞✡✍✄✍ ☛☎✄ ✟✠✌✡✌☎☎✄✠

☞✄ ✆✝✟✡✂ ✠✌✌✌✄ ☛☎✄ ✘✄☎✫☛✍✄ ☛✄✌✆✌✍✄✡✡✄ ☛☛✁✡✁✂✝✧✡✄ ✆✌☛✍ ✡✄ ✠✝✡✠☛✡ ✡✌✠✝✡ ☞✄ ✡✥✡☎✄✍✞✁✄ ✌☛ ✆✌☛✍ ✡✝
✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄✎ ✠✄ ✆✝✍✝✞✍✝✆☞✄ ✆✄✍✌✄☛ ✡✞✝✡✄✌✄☎☛ ☞✄ ✆✍✌✆✌✂✄✍ ☛☎✄ ✌✡☛☞✌☞✄ ✆✌☛✍ ✡✝
✠✌☎✂☛✍☛✠☛✁✌☎ ☞✥☛☎ ☛✝✧✡✄✝☛ ☞✄ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✥☛☎ ✡✟✡☎✄✌✄☎☛✓ ✄☎ ✠✌☎✂✁☞✡✍✝☎☛ ✡✥✁☎☛✄✍✟✝✡✡✄
☛✄✌✆✌✍✄✡ ✴✆✌☛✍ ✡✄✏☛✄✡ ✌☎ ✠☞✄✍✠☞✄ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂✵ ☞✌☎☎✡ ✆✝✍ ✡✄ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎✎

✎✟✝☎☛ ☞✄ ✆✍✡✂✄☎☛✄✍ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✥✄✯☛✍✝✠☛✁✌☎ ☞✄ ✠✌✄☎✠✁✄☎☛✂ ☞✥☛☎ ✡✟✡☎✄✌✄☎☛✓ ✁✡ ✘✝☛☛ ✘✝✁✍✄
☛☎✄ ✍✄✌✝✍✏☛✄ ✁✌✆✌✍☛✝☎☛✄ ✒ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄✂ ☞✥☛☎✄ ✳✌☎✄ ☞☛ ✂✁✞☎✝✡ ✴☛☎ ✡✟✡☎✄✌✄☎☛✵
☎✄ ✆✄☛✟✄☎☛ ✆✝✂ ✫☛✍✄ ✄✯☛✍✝✁☛✂ ☞✁✍✄✠☛✄✌✄☎☛ ✠✌✌✌✄ ☛☎✄ ✂☛✁☛✄ ☞✄ ✠✌✡✌☎☎✄✂ ✝☞✬✝✠✄☎☛✄✂ ☞✄ ✡✝ ✍✄✆✍✡✂✄☎✛
☛✝☛✁✌☎ ☛✄✌✆✂✛✡✠☞✄✡✡✄ ☞☛ ✂✁✞☎✝✡ ✄☎☛✁✄✍✎ ✗✝✍ ✄✯✄✌✆✡✄✓ ☞✄☛✯ ✠✌✄☎✠✁✄☎☛✂ ☞✝☛☛✄✛✘✍✡✏☛✄☎✠✄ ✂✁☛☛✡✂ ☞✝☎✂
✡✝ ✌✫✌✄ ✠✌✡✌☎☎✄ ✆✄☛✟✄☎☛ ☎✄ ✆✝✂ ✝✆✆✝✍☛✄☎✁✍ ✝☛ ✌✫✌✄ ✡✟✡☎✄✌✄☎☛ ✂✥✁✡ ☎✥✒ ✝ ✆✝✂ ☛☎ ✝☛☛✍✄ ✠✌✄☎✠✁✄☎☛

☞✥✌☎☞✄✡✄☛☛✄✓ ✆✡☛✂ ✧✝✂✂✄ ✘✍✡✏☛✄☎✠✄✓ ✏☛✁ ✡✄✂ ✍✄✡✁✄ ✴✟✌✁✍ ✷✞☛✍✄ ✮✎✭✵✎ ✠✄✆✄☎☞✝☎☛✓ ✠✄☛☛✄ ✂✁☛☛✝☛✁✌☎ ✄✂☛

☞✡☛✄✠☛✡✄ ✆✝✍ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✆✍✡✂✄☎☛✡ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✭✎✪✎
✎☎ ✆✄☛☛ ☞✌☎✠ ✍✄✡✁✄✍ ✡✝ ✌✡☛☞✌☞✄ ☞✥✄✯☛✍✝✠☛✁✌☎ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ✆✍✌✆✍✄✂ ✤ ☛☎ ✡✟✡☎✄✌✄☎☛ ✤ ✡✝ ✌✡✛

☛☞✌☞✄ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✠✝✍✓ ✁☎☛☛✁☛✁✟✄✌✄☎☛✓ ✡✝ ✆✍✄✌✁✔✍✄ ✘✝✁☛ ✡✄ ✠☞✄✌✁☎ ✁☎✟✄✍✂✄ ☞✄ ✡✝ ☞✄☛✯✁✔✌✄ ✒ ✂☛✍
✠☞✝✏☛✄ ✡✠☞✄✡✡✄ ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎✓ ✁✡ ✘✝☛☛ ☛✍✌☛✟✄✍ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛
✡☛☛☞✁✡ ✄☎ ✆✍✄☎✝☎☛ ✄☎ ✠✌✌✆☛✄ ✡✄✂ ☛✝✁✡✡✄✂ ✄☛ ✡✄✂ ✆✌✂✁☛✁✌☎✂ ☛✄✌✆✌✍✄✡✡✄✂ ☞✄ ✠✄✂ ✌☎☞✄✡✄☛☛✄✂✎

✢✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✍✄✠☞✄✍✠☞✄ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✆✝✂✂✄ ☞✌☎✠ ✆✝✍ ☞✄☛✯
✡☛✝✆✄✂ ✒

✲✎ ✗✌☛✍ ✠☞✝✏☛✄ ✡✟✡☎✄✌✄☎☛✓ ✌☎ ✁☞✄☎☛✁✷✄ ✡✄✂ ✠✌✡✌☎☎✄✂ ☞✄ ✆✝✟✡✂ ☛✄✌✆✂✛✘✍✡✏☛✄☎✠✄ ✠✌✍✍✄✂✆✌☎☞✝☎☛
✝☛✯ ✁☎✂☛✝☎☛✂ ☞✄ ☞✡✧☛☛ ✄☛ ☞✄ ✷☎ ✄☛ ✌☎ ✠✍✡✄ ☛☎ ✟✄✠☛✄☛✍ ☞✄ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☎☛✡✂ {we}
✝✒✝☎☛ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✌☎☎✡✄ ✆✝✍ ✡✄ ☎✌✌✧✍✄ ☞✄ ✠✌✄☎✠✁✄☎☛✂ ✂✁☛☛✡✂ ☞✝☎✂ ✠✄✂ ✠✌✡✌☎☎✄✂✎

✫✎ ✗✌☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄
j ✓ ✌☎ ✍✄✠☞✄✍✠☞✄ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✍✄✂✆✌☎✂✝✧✡✄✂ ☞✄ ✡✥✁☎☛✄✍✟✝✡✡✄

☛✄✌✆✌✍✄✡ ☞✌☎☎✡ ✆✝✍ ✡✄ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛✓ ✄☛ ✌☎ ✡✄✂ ✝✆✄✠☛✄ ✝☛✯
✡✡✡✌✄☎☛✂ ✠✌✍✍✄✂✆✌☎☞✝☎☛✂ ☞✄ {we}✎

✎ ✆✝✍☛✁✍ ☞✄ ✠✄✂ ✟✄✠☛✄☛✍✂ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✠☞✝✏☛✄ ✡✟✡☎✄✌✄☎☛✓ ☎✌☛✂ ✆✌☛✟✌☎✂
✄☎✂☛✁☛✄ ✄✯☛✍✝✁✍✄ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ☎✡✠✄✂✂✝✁✍✄✂ ✆✌☛✍ ✡✄✂ ✡☛✝✆✄✂ ☞✄ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛

☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎✓ ✟✌✁✍✄ ✆✌☛✍ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✎

✷✰
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d1

d2

d3

d4

d5

a5

✬✞✮ ✗✞✫✍✔ ✟☞✡✗✔✝✕✎✍❃✒☞✝✢☞
−4

−3

−2

−1

0

1

2

3

4

✬✓✮ ☛✝✟☞✎✫✞✏✏☞✔ ✟☞✡✗✠✎☞✏✔

✁✂✄☎ ✮✎✭ ✄ ❅☛✔✗✠✔☛✟☛✠✝ ✑☞✔ ✗✞✫✍✔ ✟☞✡✗✔✝✕✎✍❃✒☞✝✢☞ ✑✞✝✔ ✏☞ ✢✞✔ ✑❂✒✝☞ ✎☞✗✎✍✔☞✝✟✞✟☛✠✝ ✗✞✎ ✠✝✑☞✏☞✟✟☞✔ ✬✞✮✘ ★☞ ✔☛✌✝✞✏✔☞✌✡☞✝✟✍✭ ✌✍✝✍✎✍ ✗✞✎ ✏☞✔ ✑☞✒✕ ✗✞✫✍✔ ✌✎☛✔✍✔ ✑☞ ✏✞ ✡✪✡☞ ✢✠✏✠✝✝☞✭ ☞✔✟ ✗✎✍✔☞✝✟✍ ✑✞✝✔ ✬✓✮✘

✌✒✎✧✚✥ ✢✄ ✠✝✡✠☛✡ ☞✄✂ ✁☎✂☛✝☎☛✂ ☞✄ ☞✡✧☛☛ ✄☛ ☞✄ ✷☎ ✄☛ ☞✌☎✠ ☞✄ ✡✝ ☞☛✍✡✄ ☞✥☛☎ ✂✌☎ ✝✧☞✌✌✁☎✝✡
✤ ✆✝✍☛✁✍ ☞☛ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✌✧☛✄☎☛ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✭✎✪ ✄✂☛ ✡✟✁☞✄☎☛✄✎ ✗✌☛✍ ☛☎
✡✟✡☎✄✌✄☎☛ ☞✌☎☎✡

e(k)✓ ☎✌☛✂ ✝✟✌☎✂ ✝✠✠✔✂ ✝☛✯ ✁☎✂☛✝☎☛✂ ☞✄ ☞✡✧☛☛ ✄☛ ☞✄ ✷☎ ✄☛ ☞✌☎✠ ✤ ✂✝ ☛✝✁✡✡✄ Ne
✎

✢✝ ☞☛✍✡✄ ✄☎ ✂✄✠✌☎☞✄✂ ✂✄✍✝ ✌✧☛✄☎☛✄ ✠✌✌✌✄
De = Ne/fs ✓ ✌✟ fs = 5000 ✭✳✎ ☞✡✂✁✞☎✄ ✡✝ ✘✍✡✏☛✄☎✠✄

☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄✎

�✌✚✎✴✔✚✥ ✠✌✌✌✄ ☎✌☛✂ ✡✥✝✟✌☎✂ ✟☛ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✠✌☎✂✝✠✍✡✄ ✝☛✯ ✧✝✂✄✂ ✌✍☛☞✌✞✌☎✝✡✄✂ ☞✥✌☎☞✄✡✄☛☛✄✂
✴✂✄✠☛✁✌☎ ✭✎✲✎✫✵✓ ☛☎ ✂✁✞☎✝✡ ✄☛ ☞✌☎✠ ☛☎ ✡✟✡☎✄✌✄☎☛ e(k), k = 1 . . . Ne ✓ ✆✄☛☛ ✂✥✡✠✍✁✍✄ ✒

e(k) =
∑

j,p

wj,p
e ψj,p(k) +

∑

p

wM+1,p
e φM+1,p(k),

✴✮✎✭✵

✌✟
ψj,p

✴✍✄✂✆✄✠☛✁✟✄✌✄☎☛ φM+1,p
✵ ☞✡✂✁✞☎✄☎☛ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ✴✡✄✂ ✘✌☎✠☛✁✌☎✂ ☞✥✡✠☞✄✡✡✄✵ ✄☛

wj,p
e

✡✄✂
✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✡✥✡✠☞✄✡✡✄

j
✄☛ ✆✌✂✁☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄ p✎✢✥✡☎✄✍✞✁✄✓ ✠✌☎✂✄✍✟✡✄ ✆✝✍ ✆✍✌✬✄✠☛✁✌☎ ✌✍☛☞✌✞✌☎✝✡✄✓ ✄✂☛ ✡✞✝✡✄ ✤ ✒

Ee =
∑

k

|e(k)|2 =
∑

j,p

(

wj,p
e

)2
.

✴✮✎✮✵

✛✙✚✓✍✎✚ ✚✍ �✎✧★✒✚✌✓✚ ✙✎✔✌✓✔✙✘✦✚✥ ✢✝ ☞✁✂✆✌✂✁☛✁✌☎ ☞✄✂ ✆✝✟✡✂ ☛✄✌✆✂✛✘✍✡✏☛✄☎✠✄ ✴✷✞☛✍✄ ✮✎✫✴✝✵✵
✄☛ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂ ✌✍☛☞✌✞✌☎✝✡✄✂ ✆✝✍ ✷✡☛✍✝✞✄ ☎✌☛✂ ✆✄✍✌✄☛☛✄☎☛ ☞✄
✡✁✄✍ ✡✥✡☎✄✍✞✁✄ ☞✥☛☎✄ ✧✝☎☞✄ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✝☛✯ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✡✥✡✠☞✄✡✡✄ ✠✌✍✍✄✂✆✌☎☞✝☎☛✄ ✒

Ej
e =

∑

p

(

wj,p
e

)2
, ✝✟✄✠ j = 1 . . .M + 1.

✴✮✎✶✵

✰☎ ✆✍✄☎✝☎☛ ✄☎ ✠✌✌✆☛✄ ✡✝ ✡✝✍✞✄☛✍ ☞✄ ✧✝☎☞✄ ✂✆✡✠✁✷✏☛✄ ✤ ✡✝ ✍✡✂✌✡☛☛✁✌☎ ✘✍✡✏☛✄☎☛✁✄✡✡✄ ✟✝✍✁✝✧✡✄ ✌✆✄✍☛✄

✆✝✍ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂✓ ☎✌☛✂ ✆✌☛✟✌☎✂ ✠✌☎✂☛✍☛✁✍✄ ☛☎✄ ✝✆✆✍✌✯✁✌✝☛✁✌☎ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄
✂✆✄✠☛✍✝✡✄ ✴✷✞☛✍✄ ✮✎✮✵ ✏☛✁ ✆✄☛☛ ✂✄✍✟✁✍ ✤ ✡✝ ☞✡☛✄✠☛✁✌☎ ✝✆✆✍✌✯✁✌✝☛✁✟✄ ☞✄ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄✎

✰✬



�✏✂✏ ✁☛✆✄✠✞✠✁✁✠☛☎✝ � ☎☎✟☛✁✄✟✠✂✁ ✆☎✝ ✄✁☛✁✄✟✆☛✠✝✟✠✝✂☎✝ ☎✁✠✝✠✝✂☎✝
✠✄✆✄☎☞✝☎☛✓ ✟☛ ✡✝ ✘✝✁✧✡✄ ✍✡✂✌✡☛☛✁✌☎ ☞✄ ✠✄☛☛✄ ✝✆✆✍✌✯✁✌✝☛✁✌☎ ✴

M + 1 ✟✝✡✄☛✍✂ ✄☎☛✁✔✍✄✂ ✆✌✂✂✁✧✡✄✂✵✓
✡✄ ✌✝✯✁✌☛✌ ☞✡☛✄✠☛✡ ☎✥✄✂☛ ✆✝✂ ✟✍✝✁✌✄☎☛ ☞✁✂✠✍✁✌✁☎✝☎☛✓ ✂☛✍☛✌☛☛ ✏☛✄✓ ✂✄✡✌☎ ☎✌☛✍✄ ✄✯✆✡✍✁✄☎✠✄ ✴✂✄✠✛
☛✁✌☎ ✫✎✲✵✓ ☛☎✄ ✞✍✝☎☞✄ ✆✝✍☛✁✄ ☞✄ ✡✥✡☎✄✍✞✁✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✂✄ ✠✌☎✠✄☎☛✍✄ ☞✝☎✂ ☞✄☛✯ ✧✝☎☞✄✂
✘✍✡✏☛✄☎☛✁✄✡✡✄✂ ✒

j = 4✓ ☞✌☎✠ ≈✝✲✶✯✛✭✲✫✞ ✭✳✎ ✄☛ j = 3✓ ≈✝✭✲✫✛✪✫✶✞ ✭✳✎
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Échelle

✁✂✄☎ ✮✎✮ ✄ ✂✗☞✢✟✎☞ ☞✟ ☞✝✫☞✏✠✗✗☞ ✔✗☞✢✟✎✞✏☞ ✑❂✒✝ ✍✫✍✝☞✡☞✝✟
✮☎✄ ✝☛☛✍✄ ✂✌✡☛☛✁✌☎ ✄✂☛ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✄✯✝✠☛✄ ☞☛ ✂✆✄✠☛✍✄ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛ ✡☛☛☞✁✡✎ ✗✌☛✍ ☛☎

✂✁✞☎✝✡ ✏☛✄✡✠✌☎✏☛✄✓ ✂✝ ☛✍✝☎✂✘✌✍✌✡✄ ☞✄ ★✌☛✍✁✄✍ ✄✂☛ ✡✞✝✡✄ ✤ ✡✝ ✂✌✌✌✄ ☞✄✂ ☛✍✝☎✂✘✌✍✌✡✄✂ ☞✄ ★✌☛✍✁✄✍
☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ✏☛✁ ✡✄ ✠✌✌✆✌✂✄☎☛✎ ✗✌☛✍ ☛☎ ✡✟✡☎✄✌✄☎☛ e(k)✓ ✠✄☛☛✄ ✌✧✂✄✍✟✝☛✁✌☎ ✂✥✡✠✍✁☛ ✒

ê(f) =
∑

j,p

wj,p
e ψ̂j,p(f) +

∑

p

wM+1,p
e φ̂M+1,p(f),

✴✮✎✪✵

✌✟
ψ̂j,p(f)

✄☛
φ̂M+1,p(f)

✂✌☎☛ ✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✡✄✂ ☛✍✝☎✂✘✌✍✌✡✄✂ ★✌☛✍✁✄✍ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ✄☛ ☞✄✂ ✘✌☎✠✛
☛✁✌☎✂ ☞✥✡✠☞✄✡✡✄✎

✢✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✄✂☛ ✝✡✌✍✂ ☞✌☎☎✡✄ ✆✝✍ ✡✝ ✆✌✂✁☛✁✌☎ ☞☛ ✌✝✯✁✌☛✌ ☞☛ ✌✌☞☛✡✄ ☞✄ ✡✝ ☛✍✝☎✂✛
✘✌✍✌✡✄ ☞✄ ★✌☛✍✁✄✍ ✴✡✏✎ ✮✎✪✵ ✒

fe = arg max
f

|ê(f)| . ✴✮✎✯✵

✲✣✙✦✔✍✒✑✚ ✚✍ ✔✌✍✚✌✜✔✍✧ ✘✓✏✒✜✍✔★✒✚✥ ✢✥✡☎✄✍✞✁✄ ☞✥☛☎ ✂✌☎ ✂✄✍☛ ✤ ✡✝ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄✂ ✁☎☞✁✠✄✂
☞✥✝✠☛✁✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄ ✴✟✌✁✍ ✂✄✠☛✁✌☎ ✮✎✲✎✫✵ ✄☛ ✝☛ ✠✝✡✠☛✡ ☞✄ ✂✝ ✆☛✁✂✂✝☎✠✄✓ ✌✝✁✂ ✄✡✡✄ ☎✥✄✂☛ ✆✝✂ ✡✝
✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄ ✡✝ ✌✁✄☛✯ ✝☞✝✆☛✡✄ ✆✌☛✍ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✒ ☛☎ ✌✡☞✄✠✁☎ ✠✡✝✂✂✄ ✆✡☛☛✌☛ ☛☎ ✂✌☎ ✄☎
✘✌☎✠☛✁✌☎ ☞✄ ✡✥✁✌✆✍✄✂✂✁✌☎ ✝☛☞✁☛✁✟✄✓ ☞✌☎✠ ☞✄ ✂✌☎ ✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✴✡✏✎ ✫✎✯✵✎ ✙✄ ✆✡☛✂✓ ✠✌✌✌✄ ☎✌☛✂
✝✡✡✌☎✂ ✡✄ ✌✌☎☛✍✄✍ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✮✎✭✓ ✠✥✄✂☛ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✴☞✁✍✄✠☛✄✌✄☎☛ ✡✁✡✄ ✤ ✡✥✝✌✆✡✁☛☛☞✄
☞✄ ✡✥✌☎☞✄ ☞✄ ✆✍✄✂✂✁✌☎✵ ✏☛✁ ✟✝✍✁✄ ✆✝✍ ✆✍✌✆✝✞✝☛✁✌☎ ✄☛ ✏☛✁ ✄✂☛ ☛☛✁✡✁✂✡✄ ☞✝☎✂ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄✂ ✂✌☛✍✠✄✂
☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✎

✗✌☛✍ ✂✁✌✆✡✁✷✄✍✓ ☛☎ ✡✟✡☎✄✌✄☎☛ e(k) ✝✒✝☎☛ ☛☎✄ ✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✟✝✍✁✝✧✡✄ ✄☎ ☛✄✌✆✂✓ ☎✌☛✂
✝✟✌☎✂ ✠☞✌✁✂✁ ☞✄ ✡✄ ✠✝✍✝✠☛✡✍✁✂✄✍ ✆✝✍ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✌✝✯✁✌✝✡✄✓ ✡✁✡✄ ✤ ✡✥✝✌✆✡✁☛☛☞✄ ✌✝✯✁✌✝✡✄

☞✄ ✂✌☎ ✄☎✟✄✡✌✆✆✄✎ ✮☎✄ ✌✡☛☞✌☞✄ ✆✌✂✂✁✧✡✄ ✆✌☛✍ ✌✧☛✄☎✁✍ ✡✥✄☎✟✄✡✌✆✆✄ ✆✝✂✂✄ ✆✝✍ ✡✄ ✠✝✡✠☛✡ ☞✄ ✡✥✡☎✄✍✞✁✄
✂☛✍ ☞✄✂ ✘✄☎✫☛✍✄✂ ✞✡✁✂✂✝☎☛✄✂✎ ✠✌✌✌✄ ✆✌☛✍ ✡✄ ✂✆✄✠☛✍✄✓ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ✄☎✂☛✁☛✄ ☛☎✄ ✝✆✆✍✌✠☞✄ ✧✝✂✡✄
✂☛✍ ✡✄✂ ✆✍✌✆✍✁✡☛✡✂ ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎ ✄☎ ✌☎☞✄✡✄☛☛✄✂✎

✢✄ ✠✝✡✠☛✡ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄ ☞✥☛☎ ✡✟✡☎✄✌✄☎☛ ✄✂☛ ✡✁✡ ✤ ✂✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ✒ ✆✌☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄
j ✓ ✌☎

✆✄☛☛ ✠✌☎✂✁☞✡✍✄✍ ☛☎✄ ✘✄☎✫☛✍✄ ✞✡✁✂✂✝☎☛✄ ✝✒✝☎☛ ✡✝ ☛✝✁✡✡✄ ☞☛ ✂☛✆✆✌✍☛ ☛✄✌✆✌✍✄✡ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ☞✄ ✡✥✡✠☞✄✡✡✄
✝✂✂✌✠✁✡✄✎ ✖✁ ✡✄ ✆✝✂ ☞✄ ✞✡✁✂✂✄✌✄☎☛ ✄✂☛

2j ✓ ✠✄✡✝ ✍✄✟✁✄☎☛ ✤ ✠✌☎✂✁☞✡✍✄✍ ✡✄ ✟✄✠☛✄☛✍ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ☞✄

✰✲
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✁✂✄☎ ✮✎✶ ✄ ✄✝✫☞✏✠✗✗☞✔ ✑☞✔ ✍✢✰☞✏✏☞✔ ✑☞ ✑✍✟✞☛✏✔ ✬✗✠✒✎ ✏☞✔ ✍✢✰☞✏✏☞✔ ✝✠✝✝✝✒✏✏☞✔✮ ☞✟ ✑☞ ✏❂✍✫✍✝☞✡☞✝✟ ✎☞✢✠✝✔✟✎✒☛✟✘ ★❂☞✝✝✫☞✏✠✗✗☞ ✑☞ ✏❂✍✢✰☞✏✏☞
d2

☞✔✟ ✞✌✎✞✝✑☛☞ ✱✂ ✕✠☛✔✘

✠☞✝✏☛✄ ✌☎☞✄✡✄☛☛✄✎ ✙✝☎✂ ✠✄ ✠✝✂✓ ✡✥✡☎✄✍✞✁✄ ☞✄ ✠☞✝✏☛✄ ✘✄☎✫☛✍✄ ✄✂☛ ☞✌☎☎✡✄ ☞✁✍✄✠☛✄✌✄☎☛ ✆✝✍ ✡✄ ✠✝✍✍✡ ☞☛
✠✌✄☎✠✁✄☎☛ ☞✥✌☎☞✄✡✄☛☛✄ ✠✌✍✍✄✂✆✌☎☞✝☎☛✎ ✍✄✂☛✄ ✡✄ ✆✍✌✧✡✔✌✄ ☞✄ ✡✝ ✍✡✂✌✡☛☛✁✌☎ ✒ ✠✌✌✌✄ ✆✌☛✍ ✡✥✄☎✟✄✡✌✆✆✄
✂✆✄✠☛✍✝✡✄✓ ✄✡✡✄ ✟✝✍✁✄ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✥✡✠☞✄✡✡✄ ☞✄ ✡✝ ☞✡✠✌✌✆✌✂✁☛✁✌☎✎ ✰☎ ✆✍✝☛✁✏☛✄✓ ✡✥✝✡✞✌✍✁☛☞✌✄ ✏☛✄
☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ✍✄✆✍✄☎☞ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎✓ ✝✟✄✠ ☛☎✄ ☞✁✆✡✍✄☎✠✄ ✁✌✆✌✍☛✝☎☛✄ ✒ ✁✡ ☎✄ ✂✥✝✞✁☛
✆✡☛✂ ☞✥☛☎ ✎✮ ✡✌✞✁✏☛✄ ✄☎☛✍✄ ✡✄✂ ✟✄✠☛✄☛✍✂ ✧✁☎✝✁✍✄✂ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ☞✄ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄ ✴✟✌✁✍ ✂✄✠☛✁✌☎✭✎✪✵✓ ✌✝✁✂ ☞✥☛☎✄ ✂✌✌✌✄ ✄☎☛✍✄ ✡✄✂ ✟✄✠☛✄☛✍✂ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✌✌☞✁✷✡✂ ✆✌☛✍ ✆✍✄☎☞✍✄ ✄☎ ✠✌✌✆☛✄
✡✥✡☎✄✍✞✁✄ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ✴✷✞☛✍✄ ✮✎✶✵✎

✢✄✂ ✡☛✝✆✄✂ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞☛ ✠✝✡✠☛✡ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄ ✂✌☎☛ ✒
✲✎ ✕☎✁☛✁✝✡✁✂✄✍ ✡✄✂ ✟✄✠☛✄☛✍✂ ☞✥✄☎✟✄✡✌✆✆✄✂ ☞✄✂ ✡✠☞✄✡✡✄✂ ✤ ✬✎
✫✎ ✗✌☛✍ ✠☞✝✏☛✄ ✡✠☞✄✡✡✄

j
✒

✴✝✵ ✆✌☛✍ ✠☞✝✏☛✄ ✠✌✄☎✠✁✄☎☛ ☎✌☎ ☎☛✡ wj,p
e ✓ ✠✝✡✠☛✡✄✍ ✡✄✂ ✁☎✂☛✝☎☛✂ ☞✄ ☞✡✧☛☛ u ✄☛ ☞✄ ✷☎ d ☞✄

✡✥✌☎☞✄✡✄☛☛✄ ✝✂✂✌✠✁✡✄ ✄☛ ✂✌☎ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄ ☞✄ ✂✄✞✌✄☎☛✝☛✁✌☎ ✝

✴✧✵ ✌✌☞✁✷✄✍ ✡✥✝✌✆✡✁☛☛☞✄ ☞✄ ✠✄ ✟✄✠☛✄☛✍ ✧✁☎✝✁✍✄ ☞✄ ✂✌✍☛✄ ✏☛✄ ✂✌☎ ✡☎✄✍✞✁✄ ✂✌✁☛ ✡✞✝✡✄ ✤ ✠✄✡✡✄ ☞✄
✡✥✌☎☞✄✡✄☛☛✄ ✝✂✂✌✠✁✡✄ ✴✌☛✡☛✁✆✡✁✠✝☛✁✌☎ ✆✝✍ wj,p

e
✄☛ ☎✌✍✌✝✡✁✂✝☛✁✌☎ ✆✝✍ ✡✝ ☛✝✁✡✡✄ ☞☛ ✂☛✆✆✌✍☛

d− u+ 1✵ ✝
✴✠✵ ✝☞☞✁☛✁✌☎☎✄✍ ✡✄✂ ✟✄✠☛✄☛✍✂ ✠✝✡✠☛✡✡✂ ✆✍✡✠✡☞✄✌✌✄☎☛ ✝✷☎ ☞✥✌✧☛✄☎✁✍ ✡✥✄☎✟✄✡✌✆✆✄ ☞✄ ✡✥✡✠☞✄✡✡✄

✠✌☛✍✝☎☛✄ ✴✞✍☎✠✄ ✤ ✡✥✌✍☛☞✌✞✌☎✝✡✁☛✡ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂✓ ✡✥✡☎✄✍✞✁✄ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄ ✄✂☛ ✡✞✝✡✄ ✤
✠✄✡✡✄ ☞✄ ✡✥✡✠☞✄✡✡✄✵✎

✭✎ ✎☞☞✁☛✁✌☎☎✄✍ ✡✄✂ ✄☎✟✄✡✌✆✆✄✂ ☞✄✂ ✡✠☞✄✡✡✄✂ ✆✌☛✍ ✌✧☛✄☎✁✍ ✡✥✄☎✟✄✡✌✆✆✄ ✷☎✝✡✄ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛
✴☞✥✡☎✄✍✞✁✄ ✡✞✝✡✄ ✤ ✠✄✡✡✄ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛✵✎

✰✫



�✏✂✏ ✁☛✆✄✠✞✠✁✁✠☛☎✝ � ☎☎✟☛✁✄✟✠✂✁ ✆☎✝ ✄✁☛✁✄✟✆☛✠✝✟✠✝✂☎✝ ☎✁✠✝✠✝✂☎✝
✠✌✌✌✄ ☞✝☎✂ ✡✄ ✠✝✂ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄ ✂✆✄✠☛✍✝✡✄✓ ☎✌☛✂ ✝✟✌☎✂ ✝☛✂✂✁ ☛☎ ✆✍✌✧✡✔✌✄ ☞✄ ✍✡✂✌✡☛☛✁✌☎✎

✠✄✆✄☎☞✝☎☛✓ ✡✝ ✍✄✡✝☛✁✌☎ ✡✠☞✄✡✡✄✛✍✡✂✌✡☛☛✁✌☎ ✄✂☛ ✁☎✟✄✍✂✄ ✒ ✆✡☛✂ ✡✥✡☎✄✍✞✁✄ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛ ✄✂☛ ✂✁☛☛✡✄
☞✝☎✂ ✡✄✂ ✧✝✂✂✄✂ ✘✍✡✏☛✄☎✠✄✂✓ ✌✌✁☎✂ ✂✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄ ✄✂☛ ✆✍✡✠✁✂✄✎ �☛✁ ✆✡☛✂ ✄✂☛✓ ✡✝ ✌✡☛☞✌☞✄
✆✍✌✆✌✂✡✄ ✍✄☞✁✂☛✍✁✧☛✄ ✡✥✡☎✄✍✞✁✄ ☞✄ ✠☞✝✏☛✄ ✌☎☞✄✡✄☛☛✄ ✂☛✍ ☛✌☛☛ ✡✄ ✂☛✆✆✌✍☛ ☞✌☎☎✡ ✆✝✍ ✡✄ ✟✄✠☛✄☛✍ ☞✄
✂✄✞✌✄☎☛✝☛✁✌☎✑✁ ✎ ✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ✆✌☛✍ ✠☞✝✏☛✄ ✌☎☞✄✡✄☛☛✄✓ ✡✥✄☎✟✄✡✌✆✆✄ ✄✂☛ ☛☎ ✂✁✞☎✝✡ ✍✄✠☛✝☎✞☛✡✝✁✍✄
✝✟✄✠ ☛☎✄ ✝✌✆✡✁☛☛☞✄ ☞✌☎☎✡✄ ✆✝✍ ✂✌☎ ✡☎✄✍✞✁✄ ✌✌✒✄☎☎✄✓ ✄☛ ✡✥✄☎✟✄✡✌✆✆✄ ✷☎✝✡✄ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛ ✄✂☛ ✡✝
✂✌✌✌✄ ☞✄ ✠✄✂ ✂✁✞☎✝☛✯ ✍✄✠☛✝☎✞☛✡✝✁✍✄✂✎ ✠✄✠✁ ☎✥✄✂☛ ✆✝✂ ☛☎✄ ✌✡☛☞✌☞✄ ✆✍✡✠✁✂✄ ☞✄ ✠✝✡✠☛✡ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄
✄☛ ☞✌☎✠ ☞✄ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ☞✥☛☎ ✂✌☎ ✝✧☞✌✌✁☎✝✡✎

✠✌✌✌✄ ✆✌☛✍ ✡✝ ✘✍✡✏☛✄☎✠✄ ✌✝✯✁✌✝✡✄ ✴✏☛✁ ✆✄☛☛ ✫☛✍✄ ✌✧☛✄☎☛✄ ✤ ✆✝✍☛✁✍ ☞☛ ✂✆✄✠☛✍✄ ☞☛ ✂✁✞☎✝✡

e(k) ✍✄✠✌☎✂☛✍☛✁☛✵✓ ✡✥✝✌✆✡✁☛☛☞✄ ✌✝✯✁✌✝✡✄ ✆✄☛☛ ✫☛✍✄ ✌✧☛✄☎☛✄ ✝✆✍✔✂ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✴✟✌✁✍✄ ✝✆✍✔✂ ☛☎✄
☛✍✝☎✂✘✌✍✌✡✄ ☞✄ ✭✁✡✧✄✍☛ ✝✆✆✡✁✏☛✡✄ ✝☛ ✂✁✞☎✝✡ ✍✄✠✌☎✂☛✍☛✁☛ ✆✌☛✍ ✌✧☛✄☎✁✍ ✂✌☎ ✄☎✟✄✡✌✆✆✄✵✎

✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓ ✡✝ ✌✄✁✡✡✄☛✍✄ ✂✌✡☛☛✁✌☎ ✆✌☛✍ ✡✄ ✠✝✡✠☛✡ ☞✄ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✄✂☛✓ ✠✌✌✌✄

☞✝☎✂ ✡✄ ✠✝✂ ☞✄ ✡✝ ✘✍✡✏☛✄☎✠✄ ✌✝✯✁✌✝✡✄✓ ✡✝ ✍✄✠✌☎✂☛✍☛✠☛✁✌☎ ✄✯✝✠☛✄ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛ ✡☛☛☞✁✡ ✴✡✏✎ ✮✎✭✵✎
✢✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✂✥✡✠✍✁☛ ☞✌☎✠ ✒

Ie = max
k

(e(k))2.
✴✮✎✷✵

✡✓✠✓✟ �✆☛✘✄✝✟ ☛☞✔✄✕✘✌✘✕✡
�☛✄✡✡✄ ✏☛✄ ✂✌✁☛ ✡✝ ✌✡☛☞✌☞✄ ☞✥✄✯☛✍✝✠☛✁✌☎ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂✓ ✡✄☛✍

✆✍✁✂✄ ✄☎ ✠✌✌✆☛✄ ✂☛✍ ☞✄ ✡✌☎✞☛✄✂ ☞☛✍✡✄✂ ☞✥✄☎✍✄✞✁✂☛✍✄✌✄☎☛ ✆✄✍✌✄☛ ☞✥✝✆✆✍✡✠✁✄✍ ✡✥✝✠☛✁✟✁☛✡ ✞✡✌✧✝✡✄
☞✄ ✡✥✝✆✆✝✍✄✁✡ ☞✁✞✄✂☛✁✘✎ ✎✁☎✂✁✓ ☎✌☛✂ ✆✌☛✟✌☎✂ ☞✡✷☎✁✍ ✆✡☛✂✁✄☛✍✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✡✁✡✂ ✤ ✡✝ ✌✌☛✍✁✠✁☛✡
✝✧☞✌✌✁☎✝✡✄ ✒

✄ ✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂ ✆✝✍ ☛☎✁☛✡ ☞✄ ☛✄✌✆✂ Nm
✝

✄ ✡✥✡☎✄✍✞✁✄ ☛✌☛✝✡✄ ✆✝✍ ☛☎✁☛✡ ☞✄ ☛✄✌✆✂ Em =
∑

Ee
✝

✄ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✍✝✆✆✌✍☛✡✄ ✤ ✡✥☛☎✁☛✡ ☞✄ ☛✄✌✆✂✓ Dm = 1
Tm

∑

De · 100✎✠✄☛☛✄ ✡✁✂☛✄ ☞✥✁☎☞✁✠✄✂ ☎✥✄✂☛ ✧✁✄☎ ✂✁✍ ✆✝✂ ✄✯☞✝☛✂☛✁✟✄✎ �☛✁ ✆✡☛✂ ✄✂☛✓ ✠✄✂ ✁☎☞✁✠✄✂ ☎✄ ✂✌☎☛ ✆✄☛☛✛✫☛✍✄
✆✝✂ ✡✄✂ ✌✄✁✡✡✄☛✍✂ ✆✌☛✍ ☛☎✄ ☞✄✂✠✍✁✆☛✁✌☎ ✤ ✟✁✂✡✄ ✆☞✒✂✁✌✡✌✞✁✏☛✄ ✄ ✁✡✂ ☎✄ ✆✍✄☎☎✄☎☛ ✆✝✂ ✄☎ ✠✌✌✆☛✄
✄☛ ☎✄ ☞✡☛✄✠☛✄☎☛ ✆✝✂ ✡✝ ✍✒☛☞✌✁✠✁☛✡ ☞✄✂ ✠✌☎☛✍✝✠☛✁✌☎✂ ✞✝✂☛✍✌✛✁☎☛✄✂☛✁☎✝✡✄✂✓ ✆✝✍ ✄✯✄✌✆✡✄✎ ✠✄✆✄☎☞✝☎☛✓
☎✌☛✂ ✡✄✂ ✠✌☎✂✁☞✡✍✌☎✂ ✂☛☎✂✝☎☛✂ ✆✌☛✍ ☛☎✄ ✆✍✄✌✁✔✍✄ ✝✆✆✍✌✠☞✄ ☞✄✂✠✍✁✆☛✁✟✄ ☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✎
✢✄☛✍ ✌✧✬✄✠☛✁✘ ✆✍✁☎✠✁✆✝✡ ✄✂☛✓ ☞✝☎✂ ✠✄ ✠✝✂✓ ☎✌☎ ✆✝✂ ☞✄ ✘✝✠✁✡✁☛✄✍ ✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ✆☞✒✂✁✌✡✌✞✁✏☛✄ ✌✝✁✂

☞✄ ✘✌☛✍☎✁✍ ☞✄✂ ✠✍✁☛✔✍✄✂ ✏☛✝☎☛✁☛✝☛✁✘✂ ✆✌☛✍ ✡✥✡✟✝✡☛✝☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯ ☞☛✍✝☎☛ ✡✄✂ ✡☛✝✆✄✂ ☞✄ ☛✍✝✁☛✄✌✄☎☛
✂☛✁✟✝☎☛✄✂✓ ✡✝ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎✎

✎ ✆✝✍☛ ✡✄✂ ✁☎☞✁✠✄✂ ✆✍✁☎✠✁✆✝☛✯✓ ✏☛✁ ✠✝✍✝✠☛✡✍✁✂✄☎☛ ✏☛✝☎☛✁☛✝☛✁✟✄✌✄☎☛ ✡✥✝✠☛✁✟✁☛✡ ✂✌☎✌✍✄ ✝✧☞✌✌✁☎✝✡✄✓
☎✌☛✂ ✆✌☛✟✌☎✂ ☞✡✷☎✁✍ ☞✄✂ ✁☎☞✁✠✄✂ ✂✄✠✌☎☞✝✁✍✄✂✓ ✌✌✁☎✂ ☛☛✁✡✁✂✡✂ ☞✝☎✂ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄ ✌✝✁✂ ✆✄☛☛✛✫☛✍✄
✁☎✘✌✍✌✝☛✁✘✂ ✆✌☛✍ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ☞✄ ✡✝ ✆☞✒✂✁✌✡✌✞✁✄ ✞✝✂☛✍✌✛✁☎☛✄✂☛✁☎✝✡✄☎� ✒

✄ ✡✥✡☎✄✍✞✁✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✝✆✆✝✍✝✁✂✂✝☎☛ ✆✝✍ ☛☎✁☛✡ ☞✄ ☛✄✌✆✂ Eµ = Em/Nm
✝

✄ ✡✝ ☞☛✍✡✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Dµ = 1
Nm

∑

De
✝

✄ ✡✝ ✆☛✁✂✂✝☎✠✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Pµ = 1
Nm

∑ Ee

De

✝
✄ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ fµ = 1

Nm

∑

fe
✝

✄ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Iµ = 1
Nm

∑

Ie
✝

✄ ✡✝ ☞☛✍✡✄ ✌✌✒✄☎☎✄ ☞✄✂ ✂✁✡✄☎✠✄✂ ✂✡✆✝✍✝☎☛ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ Ds,µ
✎

✑✌☛✂ ☎✥✝✡✡✌☎✂ ✆✝✂ ✡✄✂ ☛☛✁✡✁✂✄✍ ✆✌☛✍ ✡✟✝✡☛✄✍ ✡✄✂ ✡☛✝✆✄✂ ☞✄ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎✓ ✌✝✁✂
✁✡✂ ✝☛✍✌☎☛ ✡✄☛✍ ✍✌✡✄ ☞✝☎✂ ✡✄ ✠☞✝✆✁☛✍✄ ☞✡☞✁✡ ✤ ✡✥✝☎✝✡✒✂✄ ☞✄✂ ✂✁✞☎✝☛✯ ✴✠☞✝✆✁☛✍✄ ✶✵✎

✒✁✄✝ ✎✍✞✏☛✟✍✭ ✏❂✍✝☞✎✌☛☞ ✑❂✒✝☞ ✠✝✑☞✏☞✟✟☞ ✝❂☞✔✟ ✗✞✔ ✎✍✗✞✎✟☛☞ ✒✝☛✕✠✎✡✍✡☞✝✟ ✔✒✎ ✔✠✝ ✔✒✗✗✠✎✟✭ ☞✟ ✔✞ ✗✒☛✔✔✞✝✢☞ ☞✔✟
✢✠✝✢☞✝✟✎✍☞ ✑✞✝✔ ✒✝ ☛✝✟☞✎✫✞✏✏☞ ✟☞✡✗✠✎☞✏ ☛✝✕✍✎☛☞✒✎ ✄ ✔✠✝ ✔✒✗✗✠✎✟ ☞✟ ✌✍✝✍✎✞✏☞✡☞✝✟ ✗✞✔ ✢☞✝✟✎✍✘

✝✁★❂✒✝☛✟✍ ✑☞ ✟☞✡✗✔
Tm

✢✠✒✎✞✡✡☞✝✟ ✢✠✝✔☛✑✍✎✍ ✑✞✝✔ ✏✞ ✏☛✟✟✍✎✞✟✒✎☞ ☞✔✟ ✏✞ ✡☛✝✒✟☞✘

✰✭



�✁✁☎✠✟☛☎ �✏ ✄☎✁✞☎✁✟✁✟✠✂✁ ☎✟ ✄✂✄✁✄✠✝✁✟✠✂✁
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☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✟✝✍✁✄☎☛ ✄☎☛✍✄ ✫✬ ✌✂✎ ✄☛ ✶ ✂✎ ✙✝☎✂ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄✓ ✡✝ ✡✁✌✁☛✡ ✂☛✆✡✍✁✄☛✍✄ ☞✄✂
✘✍✡✏☛✄☎✠✄✂ ☞✄✂ ✂✌☎✂ ☎✌☎✛✆✝☛☞✌✡✌✞✁✏☛✄✂ ✄✂☛ ✤ ✲✬✬✬✛✲✶✬✬ ✭✳✎ ✴✂✄✡✌☎ ☎✌☛✍✄ ✄✯✆✡✍✁✄☎✠✄✓ ✡✝ ✆✡☛✂
✞✍✝☎☞✄ ✆✝✍☛✁✄ ☞✄ ✡✥✡☎✄✍✞✁✄ ☞✄✂ ✂✌☎✂ ✄✂☛ ✂✁☛☛✡✄ ☞✝☎✂ ✡✄✂ ✘✍✡✏☛✄☎✠✄✂ ✁☎✘✡✍✁✄☛✍✄✂ ✤ ✶✬✬ ✭✳✎✵ ✝✡✌✍✂
✏☛✄ ✡✝ ✡✁✌✁☛✄ ✁☎✘✡✍✁✄☛✍✄ ✄✂☛ ✤ ✷✬ ✭✳✎ ✝✄ ✡✥✝✆✆✍✌✠☞✄ ✌☛✡☛✁✛✟✌✁✄✂ ✒ ✠✌✌✌✄ ✡✄✂ ☞✁✂☛✝☎✠✄✂ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✂✌☎☛ ✆✄☛✁☛✄✂✓ ✌☎ ✆✄☛☛ ✂☛✆✆✌✂✄✍
✏☛✄ ☛✌☛☛ ✂✌☎ ✝✧☞✌✌✁☎✝✡ ✂☛☎✂✝✌✌✄☎☛ ✆☛✁✂✂✝☎☛ ✄✂☛ ☞✡☛✄✠☛✡ ✆✝✍ ✆✡☛✂✁✄☛✍✂ ✠✝✆☛✄☛✍✂✓ ✠✄ ✏☛✁

✝✜✖☞ ✟✠✗☞ ✑❂✞✎✟✍✕✞✢✟ ✝❂☞✔✟ ✗✞✔ ✟✠✒✄✠✒✎✔ ✗✎✍✔☞✝✟✘ ✄✝ ☞✔☞✟✭ ☛✏ ☞✔✟ ✗✎✠✫✠❃✒✍ ✗✞✎ ✒✝☞ ✔☛✟✒✞✟☛✠✝ ✗✞✎✟☛✢✒✏☛❄✎☞ ✛ ✒✝☞
✠✕✞✟☛✠✝ ✑✒ ✢✞✗✟☞✒✎ ✢✠✝✑✒☛✔✞✝✟ ✄ ✒✝☞ ✗✎☞✔✔☛✠✝ ✑❂✞✗✗✒☛ ✎☞✏✞✟☛✫☞✡☞✝✟ ✕✞☛✓✏☞✭ ✔☞✝✔☛✓✏☞ ✞✒✕ ✡✠✒✫☞✡☞✝✟✔ ✎☞✔✗☛✎✞✟✠☛✎☞✔✑✒ ✗✞✟☛☞✝✟✘

✰✮



�✏�✏ ✄☎✁✞☎✁✟✁✟✠✂✁ � ✆✄✠✞✠✁✁✟✠✂✁ ✆☎✝ ✁☛✟✆✞✁✄✟✝
✆✄✍✌✄☛ ☞✥✡✡✁✌✁☎✄✍ ✠✄☛✯ ✏☛✁ ✝✆✆✝✍✝✁✂✂✄☎☛ ✂☛✍ ☛☎✄ ✂✄☛✡✄ ✟✌✁✄✎ ✠✥✄✂☛ ☎✌☛✝✌✌✄☎☛ ✡✄ ✠✝✂ ☞✄✂
✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂ ✄✯☛✍✝✁☛✄✂ ✆✝✍ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄✓ ✌✝✁✂ ✝☛✂✂✁ ☞✄✂ ✝✍☛✡✘✝✠☛✂ ☞☛✂ ✆✝✍
✄✯✄✌✆✡✄ ✝☛✯ ✘✍✌☛☛✄✌✄☎☛✂ ☞☛ ✂☛✡☛☞✌✂✠✌✆✄ ✂☛✍ ✡✝ ✆✄✝☛✎

✑✌☛✂ ✆✍✌✆✌✂✌☎✂ ☞✝☎✂ ✠✄☛☛✄ ✂✄✠☛✁✌☎ ☛☎✄ ✌✡☛☞✌☞✄ ☞✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✝✍☛✡✘✝✠☛✂ ✏☛✁ ✆✍✄☎☞ ✄☎
✠✌✌✆☛✄ ✡✄✂ ✝✂✆✄✠☛✂ ☞✡✠✍✁☛✂ ✆✍✡✠✡☞✄✌✌✄☎☛✎ ✕✡ ✂✥✝✞✁☛ ☞✥☛☎✄ ✡☛✝✆✄ ☞✄ ✴✆✍✡✛✵☛✍✝✁☛✄✌✄☎☛ ✆☛✍✄✌✄☎☛

✆✍✝✞✌✝☛✁✏☛✄✓ ✠✄☎✂✡✄ ✘✝✠✁✡✁☛✄✍ ✡✄✂ ✡☛✝✆✄✂ ☛✡☛✡✍✁✄☛✍✄✂ ☞✥✝☎✝✡✒✂✄ ✄☛ ☞✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄✂ ✆☞✌☎✌✄☎☛✡✛
✍✌✞✍✝✌✌✄✂✎ ✰☎ ✄✆✄☛✓ ✠✌✌✌✄ ☛☎✄ ✆☞✝✂✄ ✄✂✂✄☎☛✁✄✡✡✄ ☞✄ ☎✌☛✍✄ ✌✡☛☞✌☞✄ ☞✥✝☎✝✡✒✂✄ ✄✂☛ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎
☞✄✂ ✡✟✡☎✄✌✄☎☛✂✓ ✡✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✝✍☛✡✘✝✠☛✂ ✆✄☛☛ ✫☛✍✄ ✟☛✄ ✠✌✌✌✄ ☛☎ ✆✍✡✛☛✍✝✁☛✄✌✄☎☛ ✏☛✁ ✡☛✁ ✄✂☛

☞✡☞✁✡ ✒ ✆✝✍ ✄✯✄✌✆✡✄✓ ✂✁ ✡✥✌☎ ✁☎☛✄✍✆✍✔☛✄ ☛☎ ✡✟✡☎✄✌✄☎☛ ✠✌✌✌✄ ☛☎ ✆✌✁☎☛ ☞✄ ✠✌✌✍☞✌☎☎✡✄✂ ✁☎☛✄☎✂✁☛✡
✝✠✌☛✂☛✁✏☛✄✓ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄✓ ☞☛✍✡✄ ✴☞✝☎✂ ☛☎ ✄✂✆✝✠✄ ☛✍✁☞✁✌✄☎✂✁✌☎☎✄✡ ☞✌☎☛ ✡✄✂ ✝✯✄✂ ✂✌☎☛ ✡✄✂
☛✍✌✁✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✡☎☛✌✡✍✡✄✂✵✓ ✡✄✂ ✝✍☛✡✘✝✠☛✂ ✠✌☎✂☛✁☛☛✄✍✌☎☛ ✂✌✁☛ ☞✄✂ ✆✌✁☎☛✂ ✍✡✆✝✍☛✁✂ ☞✄ ✌✝☎✁✔✍✄
✝✡✡✝☛✌✁✍✄ ☞✝☎✂ ✠✄☛ ✄✂✆✝✠✄ ✴✧✍☛✁☛ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎✵✓ ✂✌✁☛ ☞✄✂ ✠✡✝✂✂✄✂ ✤ ✆✝✍☛ ✂✝☎✂ ✂✁✞☎✁✷✠✝☛✁✌☎ ✆☞✒✂✁✌✛
✡✌✞✁✏☛✄✂ ✴✏☛✄ ✡✥✌☎ ✆✄☛☛ ✝✆✆✄✡✄✍ ✟✧✍☛✁☛ ☞✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎✠✵✎ ✶☞✡✌✍✁✏☛✄✌✄☎☛✓ ✠✄☛☛✄ ☞✄✍☎✁✔✍✄ ✂✁☛☛✝☛✁✌☎
✄✂☛ ☛✍✝✁☛✡✄ ✆✝✍ ☛☎ ✧✌☎ ✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎✎ ✠✄✆✄☎☞✝☎☛✓ ☞☛ ✆✌✁☎☛ ☞✄ ✟☛✄ ✌✡☛☞✌☞✌✡✌✞✁✏☛✄✓
✁✡ ✄✂☛ ✆✡☛✂ ☛☛✁✡✄ ☞✄ ✆✍✡✛☛✍✝✁☛✄✍ ✡✄✂ ☞✌☎☎✡✄✂ ✝✟✝☎☛ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎✓ ✠✝✍ ✡✄✂ ✠☞✝✍✞✄✂ ☞✄ ✠✝✡✠☛✡ ✄☛ ✡✄✂

☎✡✠✄✂✂✁☛✡✂ ☞✄ ✌✡✌✌✁✍✄ ☞✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✝☛✞✌✄☎☛✄☎☛ ☛✍✔✂ ✟✁☛✄ ✝✟✄✠ ✡✄ ☎✌✌✧✍✄ ☞✄
✆✌✁☎☛✂ ✤ ☛✍✝✁☛✄✍✎ ✙✄ ✆✡☛✂✓ ✠✌✌✌✄ ✡✄✂ ✠✌☎☎✝✁✂✂✝☎✠✄✂ ✂☛✍ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✂✌☎☛

✝✂✂✄✳ ✘✝✁✧✡✄✂✓ ✁✡ ✄✂☛ ✆✍✡✘✡✍✝✧✡✄ ☞✝☎✂ ☛☎ ✆✍✄✌✁✄✍ ☛✄✌✆✂ ☞✥✡✡✁✌✁☎✄✍ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✁☎✠✄✍☛✝✁☎✂ ✴✏☛✁☛☛✄
✤ ✝✟✌✁✍ ✏☛✄✡✏☛✄✂ ✆✄✍☛✄✂ ☞✄ ✂✌☎✂ ✁☎✘✌✍✌✝☛✁✘✂✵✎

✢✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✝✍☛✡✘✝✠☛✂ ✁✌✆✡✁✏☛✄ ✧✄✝☛✠✌☛✆ ☞✄ ☞✡✠✁✂✁✌☎✂ ✘✌☎☞✡✄✂ ✂☛✍ ☞✄✂ ✠✌☎☎✝✁✂✂✝☎✠✄✂ ✁
☎☛✠✂☛✠✎ ✢✥✝✡✞✌✍✁☛☞✌✄ ✏☛✄ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ✁✠✁ ✄✂☛ ☛☎✄ ✆✍✄✌✁✔✍✄ ✝✆✆✍✌✠☞✄ ✄ ✂✝ ✟✝✡✁☞✝☛✁✌☎ ☞✡✆✄☎☞
☞✄✂ ✍✡✂☛✡☛✝☛✂ ✷☎✝☛✯ ☞✄ ✡✥✝☎✝✡✒✂✄ ✄☛ ☞✄ ✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✎

✡✓✟✓✠ ☎✜✢✖✝✘✕✚✗✝ ☛☞✡✜✘✗✘✆✔✕✘✖✆ ☛✝✟ ✔✝✕✡�✔✄✕✟
✙✝☎✂ ☛☎ ✂✌☛✠✁ ☞✥✄☎✠✝✠✁☛✡ ☞✄ ✡✥✁✌✆✡✡✌✄☎☛✝☛✁✌☎ ✁☎✘✌✍✌✝☛✁✏☛✄✓ ✡✄✂ ✡☛✝✆✄✂ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✂✄

✂☛✠✠✔☞✄☎☛ ☞✝☎✂ ✡✥✌✍☞✍✄ ✆✍✡✂✄☎☛✡ ✠✁✛☞✄✂✂✌☛✂ ✒
✲✎ ✲✌✌✒✦✘✍✔✏✌ ✑✚✜ ✓✏✚�✓✔✚✌✍✜ ✑✚ ✗✘✒✍✚✞�✎✧★✒✚✌✓✚✥ ✠✄☛☛✄ ✡☛✝✆✄✓ ✡✏☛✁✟✝✡✄☎☛✄ ✤ ☛☎ ✷✡☛✍✝✞✄

✆✝✂✂✄✛✧✝✂✓ ✝☎☎☛✡✄ ☛✌☛✂ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ☞✄ ✡✥✡✠☞✄✡✡✄ ☞✄✂ ☞✝☛☛✄✂ ✘✍✡✏☛✄☎✠✄✂ ✴
j =

1 ⇔ f > 1250 ✭✳✎✵✎ ✖✄✡✌☎ ☎✌✂ ✌✄✂☛✍✄✂ ✴✂✄✠☛✁✌☎ ✫✎✲✵✓ ✌✌✁☎✂ ☞✄ ✬✓✶✁ ☞✄ ✡✥✡☎✄✍✞✁✄ ☞✄✂
✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂ ✂✄ ☛✍✌☛✟✄ ✝☛✛☞✄✡✤ ☞✄ ✲✬✬✬ ✭✳✎✓ ☞✌☎✠ ✡✥✡✡✁✌✁☎✝☛✁✌☎ ✆✍✌✆✌✂✡✄ ✠✌☎✠✄✍☎✄
✂☛✍☛✌☛☛ ✡✄✂ ✘✝☛✂✂✄✂ ✝✡✝✍✌✄✂ ✴✘✝☛✯ ✡✟✡☎✄✌✄☎☛✂ ☞✡☛✄✠☛✡✂ ✆✝✍ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ☞✡✧✍☛✁☛✝✞✄✵ ✄☛
✡✄✂ ✝✍☛✡✘✝✠☛✂ ☞☛✂ ✝☛✯ ✌✁✠✍✌✛✘✍✌☛☛✄✌✄☎☛✂ ✝✁✞☛✂ ☞✄✂ ☛✫☛✄✂ ☞✄ ✂☛✡☛☞✌✂✠✌✆✄ ✂☛✍ ✡✝ ✆✄✝☛✎ ✠✥✄✂☛
☛☎✄ ✡☛✝✆✄ ✁✌✆✌✍☛✝☎☛✄✓ ✠✝✍ ✄✡✡✄ ✠✌✌✧✡✄ ☛☎✄ ✆✝✍☛✁✄ ☞✄✂ ✡✟✄☎☛☛✄✡✂ ☞✡✘✝☛☛✂ ☞✄ ✷✯✝☛✁✌☎ ☞✄✂
✂☛✡☛☞✌✂✠✌✆✄✂ ✂☛✍ ✡✝ ✆✄✝☛✓ ✄☎ ✡✡✁✌✁☎✝☎☛ ✡✞✝✡✄✌✄☎☛ ✡✄✂ ✝✍☛✡✘✝✠☛✂ ☞✝☛☛✄✛✘✍✡✏☛✄☎✠✄ ✂☛✆✄✍✆✌✂✡✂
✝☛✯ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✍✡✄✡✂✎

✫✎ �✦✔✣✔✌✘✍✔✏✌ ✑✚✜ ✧✂✧✌✚✣✚✌✍✜ ✑✚ ✓✏✒✎✍✚ ✑✒✎✧✚✥ ✖✄✡✌☎ ✡✝ ✧✁✧✡✁✌✞✍✝✆☞✁✄✓ ✡✄✂ ✂✌☎✂ ✝✧☞✌✛
✌✁☎✝☛✯ ✌☎☛ ☛☎✄ ☞☛✍✡✄ ✂☛✆✡✍✁✄☛✍✄ ✤ ✫✬ ✌✂✎ ✠✌✌✌✄ ✡✝ ☞☛✍✡✄ ☞✥☛☎ ✡✟✡☎✄✌✄☎☛ ✄✂☛ ✝✠✠✄✂✂✁✧✡✄
☞✁✍✄✠☛✄✌✄☎☛ ✝✆✍✔✂ ✡✝ ✂✄✞✌✄☎☛✝☛✁✌☎ ✆✝✍ ✌☎☞✄✡✄☛☛✄✂✓ ✠✄ ✂✄☛✁✡✡✝✞✄ ✄✂☛ ✁✌✌✡☞✁✝☛✎ ✢✥✄✆✄☛ ☞✄ ✠✄☛☛✄
✡☛✝✆✄ ✄✂☛ ✆✍✌✠☞✄ ☞✄ ✠✄✡☛✁ ☞✄ ✡✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ☞✝☛☛✄✛✘✍✡✏☛✄☎✠✄✓ ✆☛✁✂✏☛✥✄✡✡✄✂ ✌☎☛

✝☛✂✂✁ ☛☎ ✂☛✆✆✌✍☛ ☞✄ ✘✝✁✧✡✄ ✡✌☎✞☛✄☛✍✎ ✰☎ ✄✆✄☛✓ ✡✄✂ ✡✌☎✞☛✄☛✍✂ ☞✄✂ ✂☛✆✆✌✍☛✂ ☞✥✌☎☞✄✡✄☛☛✄✂ ✴✟✌✁✍
✂✄✠☛✁✌☎✂ ✭✎✪ ✄☛ ✮✎✲✎✲✵ ✂✌☎☛ ✁☎✘✡✍✁✄☛✍✄✂ ✤ ✫✬ ✌✂✎ ✂✄☛✡✄✌✄☎☛ ✆✌☛✍ ✡✄✂ ✡✠☞✄✡✡✄✂ ☞✝☛☛✄✛✘✍✡✏☛✄☎✠✄

d1
✄☛
d2

✴✂☛✆✡✍✁✄☛✍✄✂ ✤ ≈✪✫✶ ✭✳✎✵✎ ✎☎ ✆✄☛☛ ✡✞✝✡✄✌✄☎☛ ✄☎✟✁✂✝✞✄✍ ☛☎✄ ✝☎☎☛✡✝☛✁✌☎ ✠✌✌✆✡✔☛✄
☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ✂☛✍ d2

✴✡✏☛✁✟✝✡✄☎☛✄ ✤ ☛☎ ✷✡☛✍✝✞✄ ✆✝✂✂✄✛✧✝✂✵ ✌✝✁✂✓ ✟☛ ✡✄ ✠☞✄✟✝☛✠☞✄✌✄☎☛ ☞✄✂
✂✆✄✠☛✍✄✂ ☞✄✂ ✌☎☞✄✡✄☛☛✄✂ ✴✷✞☛✍✄ ✮✎✲✵✓ ☎✌☛✂ ✄✂☛✁✌✌☎✂ ✏☛✥☛☎✄ ☛✄✡✡✄ ✡✡✁✌✁☎✝☛✁✌☎ ✍✁✂✏☛✄ ☞✄ ✆✄✍✛
☛☛✍✧✄✍ ✡✝ ✆✝✍☛✁✄ ✁☎✘✌✍✌✝☛✁✟✄ ☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✎
✮☎✄ ✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✡✌☎✞☛✄✂ ☞☛✍✡✄✂ ✄✂☛ ✝☛✂✂✁ ✆✌✂✂✁✧✡✄✓ ✌✝✁✂✓ ✂✄✡✌☎ ☎✌☛✍✄ ✄✯✆✡✍✁✄☎✠✄✓ ✝☛✠☛☎
✂✌☎ ☎✄ ☞✡✆✝✂✂✄ ✡✄✂ ✶ ✂✎ ☞✌☎☎✡✄✂ ✆✝✍ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄✎

✰✶
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✭✎ �✦✔✣✔✌✘✍✔✏✌ ✑✚✜ ✜✏✌✜ ✑✚ ✢✘✜✜✚✞�✎✧★✒✚✌✓✚✥ ✠✄☛☛✄ ✡☛✝✆✄ ☎✄ ✆✍✌✆✌✂✄ ✆✝✂ ☛☎ ✷✡☛✍✝✞✄
✆✝✂✂✄✛☞✝☛☛ ✂✒✌✡☛✍✁✏☛✄ ✤ ✡✝ ✆✍✄✌✁✔✍✄ ✡☛✝✆✄ ☞✡✠✍✁☛✄ ✠✁✛☞✄✂✂☛✂✓ ✡✏☛✁✟✝✡✄☎☛ ✤ ✡✥✝☎☎☛✡✝☛✁✌☎ ☞✄✂
✠✌✄☎✠✁✄☎☛✂ ☞✥✌☎☞✄✡✄☛☛✄ ✂✁☛☛✡✂ ✂☛✍ ✡✥✡✠☞✄✡✡✄ ✧✝✂✂✄✛✘✍✡✏☛✄☎✠✄ ☞✄ ✡✥✝✆✆✍✌✯✁✌✝☛✁✌☎ a5

✎ ✖✁ ✆✍✄✂✏☛✄
✝☛✠☛☎ ✂✌☎ ✝✧☞✌✌✁☎✝✡ ☎✥✝ ☞✄ ✠✌✌✆✌✂✝☎☛✄ ✂✆✄✠☛✍✝✡✄ ✂☛✆✡✍✁✄☛✍✄ ✤ ✲✫✶✬ ✭✳✎✓ ✠✄ ☎✥✄✂☛ ✆✝✂ ✡✄
✠✝✂ ☞✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✧✝✂✂✄✛✘✍✡✏☛✄☎✠✄ ✴✁☎✘✡✍✁✄☛✍✄✂ ✤ ✷✬ ✭✳✎✵✓ ✏☛✁ ✂✌☎☛ ✆✍✡✂✄☎☛✄✂ ☞✝☎✂ ✡✝
✆✡☛✆✝✍☛ ☞✄✂ ✂✌☎✂ ✆☞✒✂✁✌✡✌✞✁✏☛✄✂✓ ✂✝☎✂ ✆✌☛✍ ✝☛☛✝☎☛ ✫☛✍✄ ☛✍✔✂ ✡☎✄✍✞✡☛✁✏☛✄✂ ✴✠✝✍ ✡✄✂ ✘✍✡✏☛✄☎✠✄✂
✆✍✁☎✠✁✆✝✡✄✂ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✂✌☎☛ ✂☛✆✡✍✁✄☛✍✄✂ ✤ ✷✬✓ ✟✌✁✍✄ ✤ ✲✬✬ ✭✳✎✵✎ ✑✌☛✂ ✠✌☎✂✁☞✡✍✌☎✂
✏☛✥☛☎ ✷✡☛✍✝✞✄ ✆✝✂✂✄✛☞✝☛☛ ✍✁✂✏☛✄ ☞✥✡✡✁✌✁☎✄✍ ☛☎✄ ✁☎✘✌✍✌✝☛✁✌☎ ✏☛✁ ✆✄☛☛ ✫☛✍✄ ✁✌✆✌✍☛✝☎☛✄✎ ✰☎
✄✆✄☛✓ ✠✄☛☛✄ ✁☎✘✌✍✌✝☛✁✌☎ ✄✂☛ ✆✡☛✂ ☞✄ ☎✝☛☛✍✄ ✟✂☛✍☛✠☛☛✍✄✡✡✄✠ ✏☛✄ ✂✌☎✌✍✄ ✒ ✡✄✂ ✌☎☞✄✡✄☛☛✄✂ ☞✄ ✞✍✝☎☞✄
☛✝✁✡✡✄ ✞✡☎✡✍✡✄✂ ✆✝✍ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ☞✄ ✡✥✡✠☞✄✡✡✄ ☞✄ ✡✥✝✆✆✍✌✯✁✌✝☛✁✌☎ ✌☎☛ ☛☎ ✍✌✡✄ ✁✌✆✌✍☛✝☎☛ ☞✝☎✂
✡✝ ✠✌☎✠✝☛✡☎✝☛✁✌☎ ☞✄✂ ✌✁✠✍✌✛✡✟✡☎✄✌✄☎☛✂ ☞✥✝✁✡✡✄☛✍✂ ✁☎✂✡✆✝✍✝✧✡✄✂ ✤ ✡✥✡✠✌☛☛✄ ✄☛ ☞✌☎✠ ☞✝☎✂ ✡✝
✂✄✞✌✄☎☛✝☛✁✌☎✎ ✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓ ☎✌☛✂ ☎✄ ✆✌☛✟✌☎✂ ✆✝✂ ✝☎☎☛✡✄✍ ☞✁✍✄✠☛✄✌✄☎☛ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ✂☛✍
✡✥✡✠☞✄✡✡✄ ☞✄ ✡✥✝✆✆✍✌✯✁✌✝☛✁✌☎ ✂✝☎✂ ✆✄✍☞✍✄ ✠✄☛☛✄ ✁☎✘✌✍✌✝☛✁✌☎✎ ✰☎ ✍✄✟✝☎✠☞✄✓ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂
✡✥☛☛✁✡✁✂✝☛✁✌☎ ☞✄ ✡✥✄☎✟✄✡✌✆✆✄ ✂✆✄✠☛✍✝✡✄ ✠✝✡✠☛✡✡✄ ✤ ✡✥✝✁☞✄ ☞✄ ✡✥✄✯✆✍✄✂✂✁✌☎ ✴✮✎✶✵ ✆✌☛✍ ☞✡☛✄✠☛✄✍ ✂✁
✡✥✡☎✄✍✞✁✄ ☞✥☛☎ ✡✟✡☎✄✌✄☎☛ ✄✂☛ ✂✁☛☛✡✄ ✆✡☛☛✌☛ ☞✝☎✂ ✡✄✂ ✧✝✂✂✄✂ ✘✍✡✏☛✄☎✠✄✂✎ ✎✁☎✂✁✓ ✝☛✯ ✠✍✁☛✔✍✄✂
☞✥✡✡✁✌✁☎✝☛✁✌☎ ☞✥☛☎ ✝✍☛✡✘✝✠☛ ✂✄ ✍✝✬✌☛☛✄ ✡✄ ✍✝✆✆✌✍☛ ✄☎☛✍✄ ✡✥✡☎✄✍✞✁✄ ☞✄✂ ✧✝✂✂✄✂ ✘✍✡✏☛✄☎✠✄✂ ✄☛
✡✥✡☎✄✍✞✁✄ ☛✌☛✝✡✄ ✒ ✂✁ ✆✡☛✂ ☞✄ ✡✝ ✌✌✁☛✁✡ ☞✄ ✡✥✡☎✄✍✞✁✄ ✄✂☛ ✂✁☛☛✡✄ ✄☎ ☞✄✂✂✌☛✂ ☞✄ ✷✬ ✭✳✎✓ ✡✥✡✟✡☎✄✌✄☎☛
✄✂☛ ✠✌☎✂✁☞✡✍✡ ✠✌✌✌✄ ☛☎ ✝✍☛✡✘✝✠☛☎✛ ✎

✮✎ ✍✘✦✔✑✘✍✔✏✌ ✓✎✏✔✜✧✚✥ ✢✝ ☞✄✍☎✁✔✍✄ ✡☛✝✆✄ ☞✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✝✍☛✡✘✝✠☛✂ ✠✌☎✂✁✂☛✄ ✄☎ ✡✝ ✟✡✍✁✷✛
✠✝☛✁✌☎ ☞✥☛☎✄ ✠✌☎☞✁☛✁✌☎ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎✎ ✢✥☞✒✆✌☛☞✔✂✄ ☞✄ ✧✝✂✄ ✄✂☛ ✏☛✄ ✡✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯
✴☞☛ ✌✌✁☎✂ ✠✄☛✯ ✏☛✁ ✌☎☛ ☛☎✄ ✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✂☛☎✂✝✌✌✄☎☛ ✁✌✆✌✍☛✝☎☛✄ ✆✌☛✍ ✡✄✂ ✍✄☎☞✍✄
✁☎✘✌✍✌✝☛✁✘✂✵ ✂✄ ✆✍✌✆✝✞✄☎☛ ✤ ✡✥✁☎☛✡✍✁✄☛✍ ☞✄ ✡✥✝✧☞✌✌✄☎ ✄☛ ✂✌☎☛ ✆✝✍ ✠✌☎✂✡✏☛✄☎☛ ✄☎✍✄✞✁✂☛✍✡✂ ✆✝✍
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✠✌☛✍☛✂ ✄☛ ✝✁✞☛✂ ☞☛✂ ✤ ☛☎ ☞✡✘✝☛☛ ☞✄ ✠✌☎☛✝✠☛ ✄☎☛✍✄ ✡✝ ✌✄✌✧✍✝☎✄ ☞☛ ✂☛✡☛☞✌✂✠✌✆✄ ✄☛ ✡✝ ✆✄✝☛ ✴✆✍✄✂✂✁✌☎
☞✥✝✆✆☛✁ ☛✍✌✆ ✘✝✁✧✡✄✵✎ ✠✌✌✌✄ ✠✄ ✠✝✆☛✄☛✍ ✄✂☛ ✆✍✌✠☞✄ ☞✄ ✡✝ ✠✝✞✄ ☛☞✌✍✝✠✁✏☛✄✓ ✡✄ ✂✁✞☎✝✡ ✏☛✥✁✡ ✘✌☛✍☎✁☛ ✄✂☛
✡✄ ✆✡☛✂ ✝✆✄✠☛✡ ✆✝✍ ✡✄✂ ✌✌☛✟✄✌✄☎☛✂ ✍✄✂✆✁✍✝☛✌✁✍✄✂✓ ✏☛✁ ✝✍✍✁✟✄☎☛ ✤ ✆✍✌✟✌✏☛✄✍ ☞✄✂ ✌✁✠✍✌✛✘✍✌☛☛✄✌✄☎☛✂
✏☛✝☎☞ ✡✝ ✆✍✄✂✂✁✌☎ ☞✥✝✆✆☛✁ ✄✂☛ ☛✍✌✆ ✘✝✁✧✡✄✎

✎ ✆✝✍☛ ✠✄ ✠✝✂ ✆✝✍☛✁✠☛✡✁✄✍✓ ✡✥✡✟✌✡☛☛✁✌☎ ☞✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✂✄✌✧✡✄ ✂✁✌✁✡✝✁✍✄ ✆✌☛✍ ✡✄✂ ✂✁✯ ✟✌✁✄✂✎
✠✌✌✌✄ ✡✄✂ ☛✍✌✁✂ ✆✍✄✌✁✔✍✄✂ ✡☛✝✆✄✂ ☞✄ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎ ☛✍✝✁☛✄☎☛ ✡✄✂ ✂✁✯ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ✁☎☞✡✆✄☎☞✝✌✛
✌✄☎☛ ✡✥☛☎ ☞✄ ✡✥✝☛☛✍✄✓ ✡✝ ✂✁☛☛✝☛✁✌☎ ✆✝✍✝✣☛ ✡✌✞✁✏☛✄✎ ✢✝ ☞✄✍☎✁✔✍✄ ✡☛✝✆✄ ✴✡✝ ✟✝✡✁☞✝☛✁✌☎ ✠✍✌✁✂✡✄✵ ☎✥✝✆✄✠☛✄
✆✝✂ ☞✥☛☎✄ ✌✝☎✁✔✍✄ ✡✟✁☞✄☎☛✄ ☛☎✄ ☞✄✂ ✟✌✁✄✂ ✄☎ ✆✝✍☛✁✠☛✡✁✄✍✎ ✰☎ ✄✆✄☛✓ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✡✡✁✌✁☎✡✂ ✆✝✍
✟✝✡✁☞✝☛✁✌☎ ✠✍✌✁✂✡✄ ✆✄☛✟✄☎☛ ✫☛✍✄ ☞✄ ✟✡✍✁☛✝✧✡✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✓ ✟☛ ✏☛✄ ✡✄☛✍✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✛
✂✁✏☛✄✂ ☎✥✌☎☛ ✆✝✂ ✠✌☎☞☛✁☛ ✤ ✡✄☛✍ ✡✡✁✌✁☎✝☛✁✌☎ ☞✝☎✂ ☛☎✄ ✡☛✝✆✄ ✝☎☛✡✍✁✄☛✍✄✎ ✖✌☛✂ ✠✄☛ ✝☎✞✡✄✓ ✡✝ ☞✄✍☎✁✔✍✄
✡☛✝✆✄ ☞✄ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎ ✆✄☛☛ ✫☛✍✄ ✟☛✄ ✠✌✌✌✄ ☛☎✄ ✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ☞✄ ☛✍✔✂ ✘✝✁✧✡✄ ✁☎☛✄☎✂✁☛✡
✝✠✌☛✂☛✁✏☛✄✎ ✰✡✡✄ ✍✄✟✁✄☎☛ ✤ ✡✥✁☎☛✍✌☞☛✠☛✁✌☎ ☞✥☛☎✄ ✠✌☎☞✁☛✁✌☎ ✂☛✆✆✡✡✌✄☎☛✝✁✍✄ ☞✥✁☎☛✄☎✂✁☛✡ ✌✁☎✁✌✝✡✄✓✏☛✁ ✂✄ ✍✝✬✌☛☛✄ ✝☛✯ ✠✌☎☞✁☛✁✌☎✂ ✂☛✍ ✡✄ ✠✌☎☛✄☎☛ ✘✍✡✏☛✄☎☛✁✄✡ ✄☛ ✂☛✍ ✡✝ ☞☛✍✡✄ ✁✌✆✌✂✡✄✂ ✝☛✯ ✡☛✝✆✄✂
✆✍✡✠✡☞✄☎☛✄✂ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄✂ ✝✍☛✡✘✝✠☛✂✎

✰✷



�✏�✏ ✄☎✁✞☎✁✟✁✟✠✂✁ � ✆✄✠✞✠✁✁✟✠✂✁ ✆☎✝ ✁☛✟✆✞✁✄✟✝
✕☎☞✁✠✄ ✜✌✁✄ �✌✒✄☎☎✄

✲ ✫ ✭ ✮ ✶ ✪
Nm

✫✭✷✓✫ ✪✰✓✲ ✭✪✓✰ ✰✲✓✬ ✰✶✓✬ ✲✬✲✓✲ ✲✬✶✓✭
Dm

✲✷✓✶✁ ✲✪✓✭✁ ✷✓✫✁ ✭✲✓✰✁ ✫✶✓✭✁ ✲✷✓✪✁ ✲✰✓✷✁
Em

✰✮✰✷ ✶✲✬✪ ✲✷✯✬ ✶✫✫✪ ✷✯✰✶ ✲✫ ✬✶✮ ✯✬✰✲
✂✄☎☎ ✮✎✲ ✄ ✄✕☞✡✗✏☞ ✑☞ ✫✞✏☞✒✎✔ ✑☞✔ ✗✎☛✝✢☛✗✞✒✕ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ✞✗✎❄✔ ✑✍✓✎✒☛✟✞✌☞ ✬✫✞✏☞✒✎✔ ✡✠✠☞✝✝☞✔ ✔✒✎ ✱✁✳
✡☛✝✒✟☞✔ ✑❂☞✝✎☞✌☛✔✟✎☞✡☞✝✟✮✘

✕☎☞✁✠✄ ✜✌✁✄ �✌✒✄☎☎✄
✲ ✫ ✭ ✮ ✶ ✪

Nm
✭✷✓✷ ✭✪✓✲ ✭✭✓✫ ✯✬✓✬ ✪✪✓✰ ✶✮✓✷ ✶✬✓✬

Dm
✯✓✮✁ ✯✓✰✁ ✮✓✲✁ ✲✶✓✷✁ ✲✫✓✶✁ ✰✓✬✁ ✰✓✮✁

Em
✰✭✪✪ ✶✬✮✷ ✲✷✶✰ ✶✲✰✶ ✷✯✶✪ ✲✲ ✰✶✯ ✯✬✭✬

✂✄☎☎ ✮✎✫ ✄ ✄✕☞✡✗✏☞ ✑☞ ✫✞✏☞✒✎✔ ✑☞✔ ✗✎☛✝✢☛✗✞✒✕ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ✞✗✎❄✔ ✏✞ ✗✎☞✡☛❄✎☞ ✍✟✞✗☞ ✑☞ ✎☞✝✔☞✌✡☞✝✟✞✟☛✠✝ ✛
✍✏☛✡☛✝✞✟☛✠✝ ✑☞✔ ✠✝✑☞✏☞✟✟☞✔ ✰✞✒✟☞✝✕✎✍❃✒☞✝✢☞ ✬✫✞✏☞✒✎✔ ✡✠✠☞✝✝☞✔ ✔✒✎ ✱✁✳ ✡☛✝✒✟☞✔ ✑❂☞✝✎☞✌☛✔✟✎☞✡☞✝✟✮✘

✕☎☞✁✠✄ ✜✌✁✄ �✌✒✄☎☎✄
✲ ✫ ✭ ✮ ✶ ✪

Nm
✭✮✓✪ ✭✭✓✶ ✭✫✓✶ ✪✯✓✭ ✶✯✓✪ ✮✰✓✰ ✮✶✓✰

Dm
✯✓✭✁ ✯✓✰✁ ✮✓✬✁ ✲✶✓✯✁ ✲✫✓✭✁ ✷✓✰✁ ✰✓✭✁

Em
✰✭✪✮ ✶✬✮✯ ✲✷✶✰ ✶✲✰✶ ✷✯✶✶ ✲✲ ✰✶✯ ✯✬✭✬

✂✄☎☎ ✮✎✭ ✄ ✄✕☞✡✗✏☞ ✑☞ ✫✞✏☞✒✎✔ ✑☞✔ ✗✎☛✝✢☛✗✞✒✕ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ✞✗✎❄✔ ✏❂✍✏☛✡☛✝✞✟☛✠✝ ✑☞✔ ✍✫✍✝☞✡☞✝✟✔ ✑☞ ✢✠✒✎✟☞✑✒✎✍☞ ✬✫✞✏☞✒✎✔ ✡✠✠☞✝✝☞✔ ✔✒✎ ✱✁✳ ✡☛✝✒✟☞✔ ✑❂☞✝✎☞✌☛✔✟✎☞✡☞✝✟✮✘

✕☎☞✁✠✄ ✜✌✁✄ �✌✒✄☎☎✄
✲ ✫ ✭ ✮ ✶ ✪

Nm
✭✫✓✮ ✭✬✓✷ ✭✫✓✭ ✪✫✓✪ ✶✪✓✮ ✮✶✓✷ ✮✭✓✮

Dm
✪✓✮✁ ✯✓✫✁ ✮✓✬✁ ✲✮✓✮✁ ✲✲✓✷✁ ✯✓✷✁ ✷✓✪✁

Em
✰✫✫✫ ✶✬✮✭ ✲✷✶✰ ✮✰✪✲ ✷✶✰✯ ✲✲ ✰✭✫ ✪✰✭✪

✂✄☎☎ ✮✎✮ ✄ ✄✕☞✡✗✏☞ ✑☞ ✫✞✏☞✒✎✔ ✑☞✔ ✗✎☛✝✢☛✗✞✒✕ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ✞✗✎❄✔ ✏❂✍✏☛✡☛✝✞✟☛✠✝ ✑☞✔ ✍✫✍✝☞✡☞✝✟✔ ✑☞ ✓✞✔✔☞✕✎✍❃✒☞✝✢☞ ✬✫✞✏☞✒✎✔ ✡✠✠☞✝✝☞✔ ✔✒✎ ✱✁✳ ✡☛✝✒✟☞✔ ✑❂☞✝✎☞✌☛✔✟✎☞✡☞✝✟✮✘

✕☎☞✁✠✄ ✜✌✁✄ �✌✒✄☎☎✄
✲ ✫ ✭ ✮ ✶ ✪

Nm
✫✪✓✷ ✫✯✓✮ ✫✶✓✯ ✮✲✓✶ ✮✮✓✫ ✭✶✓✷ ✭✭✓✪

Dm
✶✓✶✁ ✪✓✪✁ ✭✓✪✁ ✲✬✓✭✁ ✲✬✓✬✁ ✪✓✯✁ ✯✓✲✁

Em
✰✫✲✰ ✶✬✮✬ ✲✷✶✶ ✮✰✭✮ ✷✶✯✫ ✲✲ ✰✲✷ ✪✰✫✭

✂✄☎☎ ✮✎✶ ✄ ✄✕☞✡✗✏☞ ✑☞ ✫✞✏☞✒✎✔ ✑☞✔ ✗✎☛✝✢☛✗✞✒✕ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ✞✗✎❄✔ ✫✞✏☛✑✞✟☛✠✝ ✢✎✠☛✔✍☞ ✬✫✞✏☞✒✎✔ ✡✠✠☞✝✝☞✔ ✔✒✎✱✁✳ ✡☛✝✒✟☞✔ ✑❂☞✝✎☞✌☛✔✟✎☞✡☞✝✟✮✘

✰✰



�✁✁☎✠✟☛☎ �✏ ✄☎✁✞☎✁✟✁✟✠✂✁ ☎✟ ✄✂✄✁✄✠✝✁✟✠✂✁

−10

−5

0

5

10

−10

−5

0

5

10

−10

−5

0

5

10

−10

−5

0

5

10

0 10 20

−10

−5

0

5

10

Temps (s)

(a) 

(b) 

(e) 

(d) 
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✁✂✄☎ ✮✎✷ ✄ ✄✕☞✡✗✏☞ ✑☞ ✎☞✝✔☞✌✡☞✝✟✞✟☛✠✝ ✬✏☞✔ ✫✞✏☞✒✎✔ ✑☞✔ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ✗✎☛✝✢☛✗✞✒✕ ✔✠✝✟ ✑✠✝✝✍☞✔ ☞✝✟✎☞ ✗✞✝✎☞✝✟✰❄✔☞✔✮ ✛ ✬✞✮ ✔☛✌✝✞✏ ✞✗✎❄✔ ✑✍✓✎✒☛✟✞✌☞ ✬
Nm = 68

✭
Dm = 42, 1%

✭
Em = 67849, 4

✆2✮ ✟ ✬✓✮ ✞✗✎❄✔ ✍✏☛✡☛✝✞✟☛✠✝✑☞✔ ✰✞✒✟☞✔✝✕✎✍❃✒☞✝✢☞✔ ✬
Nm = 65

✭
Dm = 41, 9%

✭
Em = 66630, 4

✆2✮ ✟ ✬✢✮ ✞✗✎❄✔ ✍✏☛✡☛✝✞✟☛✠✝ ✑☞✔ ✍✫✍✝☞✡☞✝✟✔ ✑☞
✢✠✒✎✟☞ ✑✒✎✍☞ ✬

Nm = 25
✭
Dm = 41, 1%

✭
Em = 66630, 3

✆2✮ ✟ ✬✑✮ ✞✗✎❄✔ ✍✏☛✡☛✝✞✟☛✠✝ ✑☞✔ ✍✫✍✝☞✡☞✝✟✔ ✓✞✔✔☞✝✕✎✍❃✒☞✝✢☞✬
Nm = 17

✭
Dm = 13, 1%

✭
Em = 272, 6

✆2✮ ✟ ✬☞✮ ✞✗✎❄✔ ✫✞✏☛✑✞✟☛✠✝ ✢✎✠☛✔✍☞ ✬
Nm = 15

✭
Dm = 11, 9%

✭
Em = 270, 5

✆2✮✘ ✩✠✒✎ ✢☞✟ ☞✕☞✡✗✏☞✭ ✏❂✍✏☛✡☛✝✞✟☛✠✝ ✑☞✔ ✠✝✑☞✏☞✟✟☞✔ ✰✞✒✟☞✝✕✎✍❃✒☞✝✢☞ ✝❂✞✗✗✠✎✟☞ ✗✞✔ ✑❂✞✡✍✏☛✠✎✞✟☛✠✝ ✝✠✟✞✓✏☞✘ ✄✝
✎☞✫✞✝✢✰☞✭ ✏☞ ✔☛✌✝✞✏ ✔☞ ✡✠✑☛✠☞ ✗✞✎ ✏❂✍✏☛✡☛✝✞✟☛✠✝ ✑☞✔ ✍✫✍✝☞✡☞✝✟✔ ✑☞ ✢✠✒✎✟☞ ✑✒✎✍☞✭ ☞✟ ✗✞✎ ✫✞✏☛✑✞✟☛✠✝ ✢✎✠☛✔✍☞✘ ★❂☞✔☞✟✏☞ ✗✏✒✔ ☛✡✗✠✎✟✞✝✟ ☞✔✟ ✏❂✍✏☛✡☛✝✞✟☛✠✝ ✑❂✒✝ ✞✎✟✍✕✞✢✟ ✑☞ ✕✠✎✟☞ ✍✝☞✎✌☛☞ ✑� ✄ ✒✝ ✡✠✒✫☞✡☞✝✟ ✑✒ ✗✞✟☛☞✝✟✭ ✌✎✁✢☞ ✄ ✏❂✍✟✞✗☞✑☞ ✑✍✟☞✢✟☛✠✝ ✑☞✔ ✍✫✍✝☞✡☞✝✟✔ ✓✞✔✔☞✝✕✎✍❃✒☞✝✢☞✘

✲✬✬
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✍✄✡✝☛✁✟✄✌✄☎☛ ✆✄☛ ☞✄ ☛✍✝✟✝☛✯ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☞✄ ✡✝ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✆☞✁✄ ✆✍✄☎☎✄☎☛ ✄☎ ✠✌✌✆☛✄
✡✥✝✂✆✄✠☛ ✡✌✠✝✡✁✂✡ ☞✄✂ ✆☞✡☎✌✌✔☎✄✂ ☞✁✞✄✂☛✁✘✂✎ ✢✄✂ ✌✡☛☞✌☞✄✂ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ☎✄ ✂✌☎☛ ✆✝✂ ✆✍✡✠✁✂✄✂ ✒
✄☎ ✞✡☎✡✍✝✡✓ ✡✥✝✧☞✌✌✄☎ ✄✂☛ ✆✝✍☛✝✞✡ ✄☎ ✆✡☛✂✁✄☛✍✂ ✍✡✞✁✌☎✂ ☞✥✁☎☛✡✍✫☛✓ ✏☛✁ ☞✌✁✟✄☎☛ ✫☛✍✄ ✝☛✂✠☛✡☛✡✄✂
✂☛✠✠✄✂✂✁✟✄✌✄☎☛ ✄☛ ✆✄☎☞✝☎☛ ✝☛ ✌✌✁☎✂ ☞✄☛✯ ✌✁☎☛☛✄✂ ✠☞✝✠☛☎✄ ✴✟✌✁✍ ✆✝✍ ✄✯✄✌✆✡✄ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ☞✄✂
☛✄✠☞☎✁✏☛✄✂ ☞✥✝☛✂✠☛✡☛✝☛✁✌☎ ☞✝☎✂ ✝✫✞ ✄☛ ✝✮✰✞✵✎

✙✝☎✂ ✠✄✍☛✝✁☎✄✂ ✡☛☛☞✄✂✓ ✡✄✂ ✝☛☛✄☛✍✂ ✂✄ ✘✌✠✝✡✁✂✄☎☛ ✂☛✍ ☞✄☛✯ ✂✁☛✄✂ ✆✍✁☎✠✁✆✝☛✯✓ ☎✌☛✝✌✌✄☎☛ ✡✝ ✍✡✞✁✌☎
✡✆✁✞✝✂☛✍✁✏☛✄ ✴✆✝✍☛✁✄ ✁☎✘✡✍✁✄☛✍✄ ☞✄ ✡✥✄✂☛✌✌✝✠✍☞☛✌☞✡☎☛✌✵ ✄☛ ✡✝ ✍✡✞✁✌☎ ✆✡✍✁✛✌✌✧✁✡✁✠✝✡✄ ✴✟✌✁✍✄ ✂✌☛✛
✟✄☎☛ ✁☎✘✍✝✛✌✌✧✁✡✁✠✝✡✄✵ ✝✭✮✓ ✲✲✪✓ ✲✲✰✓ ✲✫✲✞ ✄☛ ✁✡✂ ✂✁✞☎✝✡✄☎☛ ☞✄✂ ☞✁✆✡✍✄☎✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✏☛✝☎☛✁✷✝✧✡✄✂ ✆✝✍
☞✁✆✡✍✄☎☛✂ ✁☎☞✁✠✄✂ ✴☎✌✌✧✍✄ ☞✄ ✂✌☎✂ ✆✝✍ ✌✁☎☛☛✄✓ ✡☎✄✍✞✁✄ ✌✌✒✄☎☎✄✓ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂ ✂✌☎✂✓ ✘✍✡✏☛✄☎✠✄
✌✌✒✄☎☎✄✵✎ ✙✥✝☛☛✍✄✂ ✡✏☛✁✆✄✂ ✍✡✝✡✁✂✄☎☛ ☞✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ✄☎ ☛✍✌✁✂ ✌☛ ✏☛✝☛✍✄ ✂✁☛✄✂ ✴✡✆✁✛✞✝✂☛✍✁✏☛✄✓✏☛✝☞✍✝☎☛ ✁☎✘✡✍✁✄☛✍ ✞✝☛✠☞✄✓ ✏☛✝☞✍✝☎☛ ✁☎✘✡✍✁✄☛✍ ☞✍✌✁☛ ✎ ✎ ✎✵✓ ✄☎ ☞✡☛✄✠☛✝☎☛ ☛✌☛✬✌☛✍✂ ☞✄✂ ☞✁✆✡✍✄☎✠✄✂
☞✥✝✠☛✁✟✁☛✡ ✝✲✶✓ ✯✪✓ ✰✰✞✎ ✠✄☛☛✄ ☞✡✌✝✍✠☞✄ ✆✍✌☛✟✄ ✡✥✁☎☛✡✍✫☛ ☞✄ ✡✥✁☎✘✌✍✌✝☛✁✌☎ ✂✆✝☛✁✝✡✄ ☞✝☎✂ ✡✥✁☎✟✄✂☛✁✛
✞✝☛✁✌☎ ✌✡☞✁✠✝✡✄✓ ☞✥✝☛☛✝☎☛ ✆✡☛✂ ✏☛✄ ✠✄✍☛✝✁☎✂ ✝☛☛✄☛✍✂ ✍✄✡✁✄☎☛ ✡✄✂ ☞✁✆✡✍✄☎☛✂ ☛✒✆✄✂ ☞✄ ✌✝☎✁✘✄✂☛✝☛✁✌☎✂
✂✌☎✌✍✄✂ ✤ ☞✄✂ ✌✍✞✝☎✄✂ ✆✍✡✠✁✂ ☞✄ ✡✝ ✠✝✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄ ✝✲✷✓ ✮✲✞✎

✠✄✆✄☎☞✝☎☛✓ ✡✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✂✄ ✆✍✌✆✝✞✄☎☛ ✤ ✡✥✁☎☛✡✍✁✄☛✍ ☞✄ ✡✥✝✧☞✌✌✄☎ ✄☛ ☞✌☎✠ ✡✄✂ ✄☎✍✄✛
✞✁✂☛✍✄✌✄☎☛✂ ✍✡✝✡✁✂✡✂ ✄☎ ☛☎ ✂✁☛✄ ✠✌☎☛✁✄☎☎✄☎☛ ☞✄✂ ✂✌☎✂ ✞✡☎✡✍✡✂ ✆✝✍ ☞✄✂ ✌✍✞✝☎✄✂ ✂✁☛☛✡✂ ✝☛✯ ☞✁✆✡✍✄☎☛✂
✄☎☞✍✌✁☛✂ ☞✄ ✡✝ ✠✝✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄✎ ✕✡ ✄✂☛ ✁☎☛✡✍✄✂✂✝☎☛ ☞✄ ✡✌✠✝✡✁✂✄✍ ✡✄✂ ✂✌☛✍✠✄✂ ☞✄✂ ✂✌☎✂✓ ✠✝✍ ✌☎ ✆✄☛☛
✂☛✆✆✌✂✄✍ ✏☛✄ ✠☞✝✏☛✄ ✂✌☎ ✄✂☛ ✞✡☎✡✍✡ ✆✝✍ ☛☎ ✆☞✡☎✌✌✔☎✄ ☞✁✞✄✂☛✁✘ ✡✁✡ ✤ ☛☎ ✌✌☛✟✄✌✄☎☛ ✄☛ ☞✌☎✠
✤ ☛☎✄ ✠✌☎☛✍✝✠☛✁✌☎ ☞✥☛☎ ✌✍✞✝☎✄ ✂✁☛☛✡ ✤ ☛☎ ✄☎☞✍✌✁☛ ✆✍✡✠✁✂ ☞✄ ✡✝ ✠✝✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄✎ ✢✝ ✆✍✁✂✄ ✄☎
✠✌✌✆☛✄ ☞✄ ✡✥✝✂✆✄✠☛ ✌☛✡☛✁✛✟✌✁✄✂ ☞✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂✓ ☞✡✬✤ ✁☎✁☛✁✡✄ ✆✝✍ ✡✝ ✟✝✡✁☞✝☛✁✌☎ ✠✍✌✁✂✡✄ ☞✡✠✍✁☛✄
✆✍✡✠✡☞✄✌✌✄☎☛✓ ✆✄☛☛ ✝✌✡✡✁✌✍✄✍ ✂✄☎✂✁✧✡✄✌✄☎☛ ✡✄ ☛✍✝✁☛✄✌✄☎☛ ☞✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✝✧☞✌✌✁☎✝☛✯ ✆✝✍
✡✌✠✝✡✁✂✝☛✁✌☎✎ ✑✌☛✂ ✆✌☛✟✌☎✂ ✝✁☎✂✁ ✄✯☛✍✝✁✍✄ ☛☎✄ ✁☎✘✌✍✌✝☛✁✌☎ ✡✌✠✝✡✄✓ ✏☛✁ ✂✥✝✬✌☛☛✄ ✝☛✯ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✛
✟✁☛✡ ✆✌☛✍ ✆✄✍✌✄☛☛✍✄ ✡✝ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✥☛☎✄ ✠✝✍☛✄ ✝✧☞✌✌✁☎✝✡✄ ☞✒☎✝✌✁✏☛✄✓ ✡✟✌✡☛✝☎☛ ☞✝☎✂ ✡✄ ☛✄✌✆✂✎
✠✄☛ ✌✧✬✄✠☛✁✘ ✄✂☛ ✧✝✂✡ ✂☛✍ ✡✥☞✒✆✌☛☞✔✂✄ ☞✄ ✡✝ ✍✝✍✄☛✡ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✒ ✠✌✌✌✄ ✡✄ ✂✁✞☎✝✡ ✄✂☛ ✠✍✄☛✯✓
✌☎ ✆✄☛☛ ✘✝✁✍✄ ✡✥☞✒✆✌☛☞✔✂✄ ✏☛✄ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ☞✥✝✆✆✝✍✁☛✁✌☎ ✠✌☎✠✌✌✁☛✝☎☛✄ ☞✄ ☞✄☛✯ ✌☛ ✆✡☛✂✁✄☛✍✂ ✡✟✡✛
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✌✡☛☞✌☞✄✂ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎✎ ✢✄ ✌✁✡✁✄☛ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✠✌☎✂✁☞✡✍✡ ✄✂☛ ✂☛✆✆✌✂✡ ✁✂✌☛✍✌✆✄ ✄☛ ✁☎✟✝✍✁✝☎☛

☞✝☎✂ ✡✄ ☛✄✌✆✂☎☎ ✎
✰☎ ✞✡☎✡✍✝✡✓ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✥☛☎✄ ✂✌☛✍✠✄ ✏☛✄✡✠✌☎✏☛✄ ✠✌☎✂✁✂☛✄ ✄☎ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✄✂ ☞✁✂☛✝☎✠✄✂

✄☎☛✍✄ ✡✝ ✆✌✂✁☛✁✌☎ ✴✁☎✠✌☎☎☛✄✵ ☞✄ ✠✄☛☛✄ ✂✌☛✍✠✄ ✄☛ ✡✄✂ ✆✌✂✁☛✁✌☎✂ ✴✠✌☎☎☛✄✂✵ ☞✄✂ ✠✝✆☛✄☛✍✂☎� ✎ ✙✝☎✂ ☛☎
✄✂✆✝✠✄ ✠✝✍☛✡✂✁✄☎ ☛✍✁☞✁✌✄☎✂✁✌☎☎✄✡✓ ✡✝ ☞✁✂☛✝☎✠✄ di

✄☎☛✍✄ ✡✝ ✂✌☛✍✠✄ ✄☛ ✡✄ ✠✝✆☛✄☛✍ i ✂✥✡✠✍✁☛ ✒

di =
√

(xi − xs)2 + (yi − ys)2 + (zi − zs)2,
✴✮✎✰✵

✝✝✄✝ ✕✞☛✟✭ ✏☞✔ ✗✎✠✓✏❄✡☞✔ ✗✠✔✍✔ ✗✞✎ ✏☞✔ ✔✠✝✔ ✞✓✑✠✡☛✝✞✒✕ ✠✝✟ ✒✝☞ ✔✗✍✢☛✠✢☛✟✍ ❃✒☛ ✎☞✝✑ ✑☛✞✢☛✏☞ ✏❂✞✗✗✏☛✢✞✟☛✠✝ ✑☞✔
✡✍✟✰✠✑☞✔ ✢✏✞✔✔☛❃✒☞✔✭ ✢✠✡✡☞ ✝✠✒✔ ✞✏✏✠✝✔ ✏☞ ✡✠✝✟✎☞✎✘

✝✂★☞✔ ✡✍✟✰✠✑☞✔ ✑❂☞✔✟☛✡✞✟☛✠✝ ✑☞ ✏✞ ✑☛✎☞✢✟☛✠✝ ✠✒ ✑☞ ✏❂✞✝✌✏☞ ✑❂✞✎✎☛✫✍☞ ✑❂✒✝ ✔☛✌✝✞✏ ✬✺✻❀✾✿ ✶✄ ✺✹✹✽❁✺✾ ✂ ✄☎✄ ✠✒
✼✽✹✿✞✸✽✶✻ ✶✄ ✺✹✹✽❁✺✾ ✂ ✆☎✄✮ ☛✡✗✏☛❃✒☞✝✟ ✏❂✒✟☛✏☛✔✞✟☛✠✝ ✑☞ ✢✞✗✟☞✒✎✔ ✑☛✎☞✢✟☛✠✝✝☞✏✔ ☞✟ ✝☞ ✔☞✎✠✝✟ ✗✞✔ ✞✓✠✎✑✍☞✔ ☛✢☛✘

✲✬✲



�✁✁☎✠✟☛☎ �✏ ✄☎✁✞☎✁✟✁✟✠✂✁ ☎✟ ✄✂✄✁✄✠✝✁✟✠✂✁

✌✟
(xi, yi, zi)

✄☛
(xs, ys, zs)

✂✌☎☛ ✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✡✄✂ ✠✌✌✍☞✌☎☎✡✄✂ ☞☛ ✠✝✆☛✄☛✍ i ✄☛ ☞✄ ✡✝ ✂✌☛✍✠✄✎
✠✌✌✌✄ ✡✄✂ ✆✌✂✁☛✁✌☎✂ ☞✄✂ ✠✝✆☛✄☛✍✂ ✂✌☎☛ ✠✌☎☎☛✄✂✓ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✄ ✡✝ ☞✁✂☛✝☎✠✄ di

✍✄✟✁✄☎☛ ✝☛ ✠✝✡✠☛✡
☞✄✂ ✠✌✌✍☞✌☎☎✡✄✂

(xs, ys, zs)
☞✄ ✡✝ ✂✌☛✍✠✄✎

✗✌☛✍ ✠✄☛☛✄ ✄✂☛✁✌✝☛✁✌☎✓ ✌☎ ✆✄☛☛ ✍✄✠✌☛✍✁✍ ✤ ✆✡☛✂✁✄☛✍✂ ✁☎☞✁✠✄✂ ✝✫✮✓ ✪✪✓ ✰✫✓ ✲✬✭✞ ✒
✲✎ ✢✄ ☛✄✌✆✂ ☞✥✝✍✍✁✟✡✄ ✴✟✠✞☎ ✂✞ ✁☛☛✠✟✁✄ ✄ ��✂✵✓ ✏☛✁ ✠✌☎✂✁✂☛✄ ✄☎ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✄ ✡✝ ☞✁✂☛✝☎✠✄

✄☎☛✍✄ ✡✝ ✂✌☛✍✠✄ ✄☛ ✡✄ ✠✝✆☛✄☛✍ ✄☎ ✘✌☎✠☛✁✌☎ ☞☛ ☛✄✌✆✂ ☎✡✠✄✂✂✝✁✍✄ ✝☛ ✂✁✞☎✝✡ ✆✌☛✍ ✡✝ ✆✝✍✠✌☛✍✁✍✎
✠✄☛☛✄ ✡☛✝✆✄ ✆✡✝✠✄ ✡✝ ✂✌☛✍✠✄ ✤ ✡✥✁☎☛✄✍✂✄✠☛✁✌☎ ☞✄✂ ✂✆☞✔✍✄✂ ✠✄☎☛✍✡✄✂ ✝☛☛✌☛✍ ☞✄✂ ✠✝✆☛✄☛✍✂ ✝✟✄✠

☞✄✂ ✍✝✒✌☎✂ ✄✂☛✁✌✡✂ ✆✝✍ ✡✄✂ ✠✝✡✠☛✡✂ ☞✄ ☞✁✂☛✝☎✠✄ ✆✍✡✠✡☞✄☎☛✂✎ ✸✟✁☞✄✌✌✄☎☛✓ ✠✌✌✌✄ ☎✌☛✂ ☎✄
✠✌☎☎✝✁✂✂✌☎✂ ✆✝✂ ✡✄ ✌✌✌✄☎☛ ✄✯✝✠☛ ☞✥✡✌✁✂✂✁✌☎ ☞☛ ✂✌☎ ✡☛☛☞✁✡✓ ☎✌☛✂ ☎✄ ✆✌☛✟✌☎✂ ✆✝✂ ✝✆✆✡✁✏☛✄✍
✠✄☛☛✄ ✌✡☛☞✌☞✄ ☞✝☎✂ ☎✌☛✍✄ ✠✝✂✎

✫✎ ✢✝ ☞✁✆✡✍✄☎✠✄ ☞✄✂ ☛✄✌✆✂ ☞✥✝✍✍✁✟✡✄ ✴✟✠✞☎ ✆☎✄✁✠ ✂✞ ✁☛☛✠✟✁✄ ✄ ���✂✵✓ ✏☛✁ ✄✂☛✁✌✄ ✡✝ ☞✁✆✡✍✄☎✠✄
✄☎☛✍✄ ☞✄☛✯ ☞✁✂☛✝☎✠✄✂ di

✄☛
dj

✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✝ ☞✁✆✡✍✄☎✠✄ ✄☎☛✍✄ ✡✄✂ ☛✄✌✆✂ ☞✥✝✍✍✁✟✡✄ ☞☛ ✂✁✞☎✝✡

✝☛✯ ✠✝✆☛✄☛✍✂✎ ✑✌☛✌☎✂ ∆ti
✡✄ ☛✄✌✆✂ ✴✁☎✠✌☎☎☛✵ ✄☎☛✍✄ ✡✥✡✌✁✂✂✁✌☎ ☞☛ ✂✌☎ ✄☛ ✂✌☎ ✝✍✍✁✟✡✄ ✝☛

✠✝✆☛✄☛✍ i✎ ✢✝ ☞✁✂☛✝☎✠✄ di
✂✄✍✝ ✡✠✍✁☛✄ ✒

di = c · ∆ti,
✌✟
c ☞✡✂✁✞☎✄ ✡✝ ✠✡✡✡✍✁☛✡ ✴✡✝ ✟✁☛✄✂✂✄ ✌✌✒✄☎☎✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎✵ ☞☛ ✂✌☎ ☞✝☎✂ ✡✄ ✌✁✡✁✄☛ ✠✌☎✂✁☞✡✍✡✎

✕✡ ✄✂☛ ✁✌✌✡☞✁✝☛ ✏☛✄

di − dj =
√

(xi − xs)2 + (yi − ys)2 + (zi − zs)2 −
√

(xj − xs)2 + (yj − ys)2 + (zj − zs)2

= c · (∆ti − ∆tj) = c · ∆tij ,
✴✮✎✲✬✵

✌✟
∆tij

☞✡✂✁✞☎✄ ✡✝ ☞✁✆✡✍✄☎✠✄ ☞✄ ☛✄✌✆✂ ☞✥✝✍✍✁✟✡✄ ✌✄✂☛✍✡✄✎ ✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓ ✠✌✌✌✄ ✠✄☛ ✁☎✛
☛✄✍✟✝✡✡✄ ☛✄✌✆✌✍✄✡ ✄✂☛ ✠✌☎☎☛✓ ✡✝ ☞✁✆✡✍✄☎✠✄ ✄☎☛✍✄ ✡✄✂ ☞✄☛✯ ☞✁✂☛✝☎✠✄✂ ✄✂☛ ✠✌☎☎☛✄ ✝☛✂✂✁ ✄☛ ✡✝
✆✌✂✁☛✁✌☎ ☞✄ ✡✝ ✂✌☛✍✠✄ ✂✌☎✌✍✄ ✄✂☛ ✌✧☛✄☎☛✄ ✠✌✌✌✄ ✡✥✁☎☛✄✍✂✄✠☛✁✌☎ ☞✄✂ ✂☛✍✘✝✠✄✂ ☞✒✆✄✍✧✌✡✁✏☛✄✂
✴✮✎✲✬✵✎
✮☎ ✆✍✌✧✡✔✌✄ ✁✌✆✌✍☛✝☎☛ ✂✌☛✡✄✟✡ ✆✝✍ ✠✄☛☛✄ ✝✆✆✍✌✠☞✄ ✄✂☛ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✠✝✡✠☛✡ ☞✄ ✡✝ ☞✁✆✡✍✄☎✠✄
☞✄ ☛✄✌✆✂ ☞✥✝✍✍✁✟✡✄✎ ✰☎ ✄✆✄☛✓ ✡✝ TDOA ✆✄☛☛ ✫☛✍✄ ✠✝✡✠☛✡✡✄ ✠✌✌✌✄ ✡✥✁☎☛✄✍✟✝✡✡✄ ✄☎☛✍✄ ✡✄✂
✁☎✂☛✝☎☛✂ ☞✄ ☞✡✧☛☛ ☞✄✂ ✂✌☎✂ ✄☎✍✄✞✁✂☛✍✡✂ ✂☛✍ ✠☞✝✠☛☎✄ ☞✄✂ ✟✌✁✄✂✓ ✌☛ ✄☎✠✌✍✄ ✠✌✌✌✄ ✡✝ ✆✌✂✁☛✁✌☎
☞☛ ✆✁✠ ☞✄ ✡✄☛✍ ✘✌☎✠☛✁✌☎ ☞✥✁☎☛✄✍✛✠✌✍✍✡✡✝☛✁✌☎✎✭✎ ✢✄ ✍✝✆✆✌✍☛ ☞✥✡☎✄✍✞✁✄✂ ✌☛ ☞✥✁☎☛✄☎✂✁☛✡✂ ✝✠✌☛✂☛✁✏☛✄✂✓ ✏☛✁ ✍✄☎✌☎✠✄ ✝☛✯ ✌✄✂☛✍✄✂ ☞✄ ✍✄☛✝✍☞ ☛✄✌✛
✆✌✍✄✡ ✆✌☛✍ ✄✂☛✁✌✄✍ ✡✄✂ ☞✁✂☛✝☎✠✄✂✓ ✄☎ ✁☎☛✍✌☞☛✁✂✝☎☛ ✤ ✡✝ ✆✡✝✠✄ ☞✄✂ ☞✒✆✌☛☞✔✂✄✂ ✂☛✍ ✡✥✝☛☛✡☎☛✝☛✁✌☎
✡☎✄✍✞✡☛✁✏☛✄ ✆✝✍ ✆✍✌✆✝✞✝☛✁✌☎✎ ✢✄ ✌✌☞✔✡✄ ✠✡✝✂✂✁✏☛✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ☞✝☎✂ ☛☎ ✌✁✡✁✄☛ ✁✂✌☛✍✌✆✄

☎✌☎✛✝✧✂✌✍✧✝☎☛ ✝✷✲✞ ✂✥✡✠✍✁☛ ✒

Ii =
Ps

4πd2
i

,
✴✮✎✲✲✵

✌✟
Ii

✄✂☛ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ☞☛ ✂✌☎ ✄☎✍✄✞✁✂☛✍✡ ✆✝✍ ✡✄ ✠✝✆☛✄☛✍ i✓Ps
✡✝ ✆☛✁✂✂✝☎✠✄ ☞✄ ✡✝ ✂✌☛✍✠✄

✂✌☎✌✍✄✓ di
✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ✡✝ ✂✌☛✍✠✄ ✄☛ ✡✄ ✠✝✆☛✄☛✍ ✴✮✎✰✵☎� ✎ ✰☎ ✂☛✁✟✝☎☛ ☛☎ ☞✡✟✄✡✌✆✆✄✌✄☎☛

✝☎✝✡✌✞☛✄ ✤ ✠✄✡☛✁ ☞✄ ✢✁ ✝✪✪✞✓ ✡✝ ✆☛✁✂✂✝☎✠✄ ✁☎✠✌☎☎☛✄ ☞✄ ✡✝ ✂✌☛✍✠✄ ✆✄☛☛ ✫☛✍✄ ✠✝✡✠☛✡✡✄ ✤ ✆✝✍☛✁✍
☞✄ ✠☞✝✏☛✄ ✂✁✞☎✝✡ ☞✥✁☎☛✄☎✂✁☛✡ Ii

✄☎✍✄✞✁✂☛✍✡ ✆✝✍ ✡✄ ✠✝✆☛✄☛✍ i✎ ✗✌☛✍ ☛☎✄ ✆✝✁✍✄ ☞✄ ✠✝✆☛✄☛✍✂ (i, j)✓
✡✥✄✯✆✍✄✂✂✁✌☎ ✌✧☛✄☎☛✄ ✒

4πd2
i Ii = 4πd2

jIj = Ps,
✴✮✎✲✫✵

✍✄✆✍✡✂✄☎☛✄ ✡✥✁☎☛✄✍✂✄✠☛✁✌☎ ☞✄ ☞✄☛✯ ✂✆☞✔✍✄✂ ☞✄ ✍✝✒✌☎✂ ✁☎✟✄✍✂✄✌✄☎☛ ✆✍✌✆✌✍☛✁✌☎☎✄✡✂ ✝☛✯ ✍✝✠✁☎✄✂
✠✝✍✍✡✄✂ ☞✄✂ ✁☎☛✄☎✂✁☛✡✂ ☞✄✂ ✂✌☎✂ ✄☎✍✄✞✁✂☛✍✡✂✎

✝✆✄✝ ✞✢✠✒✔✟☛❃✒☞✭ ✢☞✟✟☞ ✍❃✒✞✟☛✠✝ ☞✔✟ ✔✠✒✫☞✝✟ ✍✢✎☛✟☞ ✑☛✎☞✢✟☞✡☞✝✟ ✗✠✒✎ ✏☞✔ ✞✡✗✏☛✟✒✑☞✔ ✑☞✔ ✠✝✑☞✔ ✑☞ ✗✎☞✔✔☛✠✝✭ ❃✒☛✫✞✎☛☞✝✟ ✑☞ ✕✞�✠✝ ☛✝✫☞✎✔☞✡☞✝✟ ✗✎✠✗✠✎✟☛✠✝✝☞✏✏☞ ✄ ✏✞ ✑☛✔✟✞✝✢☞ ✘✱✂✚✙✘

✲✬✫



�✏�✏ �✂✄✁✄✠✝✁✟✠✂✁

✢✝ ✆✌✂✁☛✁✌☎ ☞✄ ✡✝ ✂✌☛✍✠✄ ✄✂☛ ✍✄☛✍✌☛✟✡✄✓ ✠✌✌✌✄ ✆✌☛✍ ✡✝ ✌✡☛☞✌☞✄ ☞✄✂ ☛✄✌✆✂ ☞✥✝✍✍✁✟✡✄ ✴
TOA✵✓✤ ✡✥✁☎☛✄✍✂✄✠☛✁✌☎ ☞✄✂ ✂✆☞✔✍✄✂✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✄☎ ✍✡✂✌✡✟✝☎☛ ✡✄ ✂✒✂☛✔✌✄ ☞✥✡✏☛✝☛✁✌☎✂ ☎✌☎✛✡✁☎✡✝✁✍✄✂

☞✥✁☎✠✌☎☎☛✄✂ (xs, ys, zs)✓ ✌✧☛✄☎☛ ✆✌☛✍ ☛✌☛☛✄✂ ✡✄✂ ✆✝✁✍✄✂ (i, j)
✄☎ ✍✄✌✆✡✝✩✝☎☛ ✴✮✎✰✵ ☞✝☎✂ ✴✮✎✲✫✵ ✒

Ii
(

(xi − xs)
2 + (yi − ys)

2 + (zi − zs)
2
)

− Ij
(

(xj − xs)
2 + (yj − ys)

2 + (zj − zs)
2
)

= 0.✴✮✎✲✭✵
✎ ✡✝ ☞✁✆✡✍✄☎✠✄ ☞✄ TOA✓ ✏☛✁ ☞✄✌✝☎☞✄ N + 1

✠✝✆☛✄☛✍✂ ✆✌☛✍ ☛☎ ✄✂✆✝✠✄ ☞✄ ☞✁✌✄☎✂✁✌☎ N ✓
✠✄☛☛✄ ✌✡☛☞✌☞✄ ☎✡✠✄✂✂✁☛✄

N + 2
✠✝✆☛✄☛✍✂✓ ✤ ✠✝☛✂✄ ☞✄ ✡✝ ☎✌☛✟✄✡✡✄ ✁☎✠✌☎☎☛✄ Ps

✎

✎ ☎✌☛✍✄ ✠✌☎☎✝✁✂✂✝☎✠✄✓ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☞✄ ✡✝ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✆☞✁✄ ✂✄☛✡✄✌✄☎☛ ☞✄☛✯ ✆☛✧✡✁✠✝☛✁✌☎✂
✝✧✌✍☞✄☎☛ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✒

✄ ☛☎✄ ☞✡✌✝✍✠☞✄ ✄✌✆✁✍✁✏☛✄ ✌✝✁✂ ✝✆✆✝✍✄☎☛✡✄ ✤ ✡✝ ✌✡☛☞✌☞✄ ☞✄✂ ☞✁✆✡✍✄☎✠✄✂ ☞✄ ☛✄✌✆✂ ☞✥✝✍✍✁✟✡✄
✴
TDOA✵ ✝ ✡☛✡ ✂☛✞✞✡✍✡✄ ✆✝✍ ✪✝✍☎✄✍ ✄☛ ✰☞✍✄☎✍✄✁✠☞ ✝✮✷✞✓ ✏☛✁ ☛☛✁✡✁✂✄☎☛ ✡✄ ☞✡✠✝✡✝✞✄ ✄☎☛✍✄ ✡✄✂
✁☎✂☛✝☎☛✂ ☞✄ ☞✡✧☛☛ ☞✄ ☞✄☛✯ ✡✟✡☎✄✌✄☎☛✂ ✂✄✞✌✄☎☛✡✂ ✄☛ ✡✝ ✟✁☛✄✂✂✄ ☞☛ ✂✌☎ ☞✝☎✂ ✡✥✝✁✍ ✆✌☛✍ ✝✟✝☎✠✄✍
✡✥☞✒✆✌☛☞✔✂✄ ☞✥☛☎✄ ✆✍✌✆✝✞✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✥✝☎✝☛✌✌✁✄ ✝✧☞✌✌✁☎✝✡✄✓ ✡✄ ✡✌☎✞ ☞✄✂
✁☎☛✄✂☛✁☎✂✎ ✠✄✆✄☎☞✝☎☛✓ ✡✄☛✍ ✝✆✆✍✌✠☞✄ ☎✥✄✂☛ ✆✝✂ ✂✒✂☛✡✌✝☛✁✏☛✄ ✄☛ ✁✡✂ ✆✍✡✂✄☎☛✄☎☛ ☛☎ ✂✄☛✡ ✄✯✄✌✆✡✄

☞✄ ✂✌☎ ✆✍✌✆✝✞✡ ✂✄✡✌☎ ✠✄☛☛✄ ☞✒✆✌☛☞✔✂✄✎ ✰☎ ✆✍✝☛✁✏☛✄✓ ✠✌✌✌✄ ✡✄ ✠✌☎☛✄☎☛ ☞✄✂ ✁☎☛✄✂☛✁☎✂ ✟✝✍✁✄
✄☎ ☛✄✌✆✂✓ ✡✥☞✒✆✌☛☞✔✂✄ ☞✄ ✪✝✍☎✄✍ ✄☛ ✰☞✍✄☎✍✄✁✠☞ ☎✄ ✆✄☛☛ ✆✝✂ ✫☛✍✄ ✟✡✍✁✷✡✄ ✄☛ ✄✡✡✄ ☎✥✄✂☛ ✆✝✂

✝✆✆✡✁✠✝✧✡✄ ✆✌☛✍ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄✂ ✂✌☛✍✠✄✂✎
✖✌☛✂ ✡✥☞✒✆✌☛☞✔✂✄ ✂✁✌✆✡✁✷✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ☞✝☎✂ ☛☎ ✌✁✡✁✄☛ ✁✂✌☛✍✌✆✄✓ ✡✝ ✌✡☛☞✌☞✄ TDOA ☞✄✛
✟✍✝✁☛ ✍✄✂☛✄✍ ✁☎☛✡✍✄✂✂✝☎☛✄✎ ✠✄✆✄☎☞✝☎☛✓ ✡✝ ✟✁☛✄✂✂✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ☞✄✂ ✌☎☞✄✂ ✂✌☎✌✍✄✂ ☞✝☎✂ ✡✄✂
☛✁✂✂☛✂ ☞☛✌✝✁☎✂ ✌✌☛✂ ✄✂☛ ✆✍✌✠☞✄ ☞✄ ✡✝ ✟✁☛✄✂✂✄ ☞☛ ✂✌☎ ☞✝☎✂ ✡✥✄✝☛✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✲✶✬✬ ✌✍✂ ✝✶✫✞✎ ✎
✠✄☛☛✄ ✟✁☛✄✂✂✄✓ ✡✄✂ ☞✁✂☛✝☎✠✄✂ ✁☎✘✡✍✁✄☛✍✄✂ ✤ ✲✍✭ ✌ ✂✌☎☛ ✆✝✍✠✌☛✍☛✄✂ ✄☎ ✌✌✁☎✂ ☞✄ ✬✓✫ ✌✂✎ ✎☛☛✍✄✛
✌✄☎☛ ☞✁☛✓ ✡✄ ✆✝✂ ☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ☞✄ ☎✌☛✍✄ ✂✒✂☛✔✌✄ ☞✥✝✠✏☛✁✂✁☛✁✌☎ ✴✘✍✡✏☛✄☎✠✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎✛
☎✝✞✄ ☞✄ ✶✬✬✬ ✭✳✎✵ ☎✄ ☎✌☛✂ ✆✄✍✌✄☛ ✆✝✂ ✡✝ ☞✡☛✄✠☛✁✌☎ ☞✄✂ ☞✁✆✡✍✄☎✠✄✂ ☛✄✌✆✌✍✄✡✡✄✂ ☎✡✠✄✂✂✝✁✍✄✂
✆✌☛✍ ✡✥✝✆✆✡✁✠✝☛✁✌☎ ☞✄ ✠✄☛☛✄ ✌✡☛☞✌☞✄ ✝✄ ✡✝ ✌✡☛☞✌☞✄ ☞✄✂ ✍✝✆✆✌✍☛✂ ☞✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄✓ ✁☎☛✍✌☞☛✁☛✄ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☞✄ ✡✝ ✆☞✌☎✌✄☎✛
☛✡✍✌✞✍✝✆☞✁✄ ✆✝✍ ✠✍✝✁☎✄ ☎✟ ✁✄✏ ✝✭✫✞✓ ✄✂☛ ✡✝ ✂✄☛✡✄ ☛☛✁✡✁✂✡✄ ✂✒✂☛✡✌✝☛✁✏☛✄✌✄☎☛ ✆✌☛✍ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎
☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✎ ✢✄ ✌✌☞✔✡✄ ☛☛✁✡✁✂✡ ✆✝✍ ✡✄✂ ✝☛☛✄☛✍✂ ☞✄ ✝✭✫✞ ✂☛✆✆✌✂✄ ☛✍✌✁✂ ✠✝✆☛✄☛✍✂ ✝☛✛
☛✌☛✍ ☞✥☛☎✄ ✂✌☛✍✠✄ ✆✌☎✠☛☛✄✡✡✄✓ ☞✝☎✂ ☛☎ ✄☎✟✁✍✌☎☎✄✌✄☎☛ ✁✂✌☛✍✌✆✄ ✧✁☞✁✌✄☎✂✁✌☎☎✄✡✎ ✢✝ ✂✌✡☛☛✁✌☎
☛✍✌☛✟✡✄ ✄✂☛ ☛☎✁✏☛✄✓ ✠✝✍ ✡✝ ✠✌☎☛✍✝✁☎☛✄ ✁✌✆✡✁✠✁☛✄ ✁✌✆✌✂✡✄ ✆✝✍ ✡✄✂ ✝☛☛✄☛✍✂ ✷✯✄ ✡✝ ✆✌✂✁☛✁✌☎ ✍✄✛
✠☞✄✍✠☞✡✄ ✤ ✡✥✁☎☛✡✍✁✄☛✍ ☞☛ ☛✍✁✝☎✞✡✄ ✡✏☛✁✡✝☛✡✍✝✡ ✘✌✍✌✡ ✆✝✍ ✡✄✂ ✠✝✆☛✄☛✍✂ ✴✡✄✂ ✂☛✡☛☞✌✂✠✌✆✄✂ ✲✓ ✭
✄☛ ✶ ☞✝☎✂ ✡✝ ✷✞☛✍✄ ✫✎✮✵✎

✡✓☛✓✟ ☎✗✡✜✘✖✝✔✕✘✖✆✟
✢✥✝☛✞✌✄☎☛✝☛✁✌☎ ☞☛ ☎✌✌✧✍✄ ☞✄ ✠✝✆☛✄☛✍✂ ✴★✁✞✎ ✫✎✮✵ ✌☛✟✍✄ ☞✄✂ ✆✄✍✂✆✄✠☛✁✟✄✂ ✁☎☛✡✍✄✂✂✝☎☛✄✂✎ ✗✍✄✛

✌✁✔✍✄✌✄☎☛✓ ☎✌☛✂ ✆✌☛✟✌☎✂ ✝✧✌✍☞✄✍ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ✄☎ ✆✍✌✘✌☎☞✄☛✍ ☞✄✂ ✂✌☛✍✠✄✂ ✂✌☎✌✍✄✂ ✄☎ ✍✝✬✌☛☛✝☎☛
☛☎✄ ☛✍✌✁✂✁✔✌✄ ☞✁✌✄☎✂✁✌☎ ✤ ✡✥✄✂✆✝✠✄ ✆✍✌✆✌✂✡ ☞✝☎✂ ✝✭✫✞✎ ✰☎✂☛✁☛✄✓ ✆✝✍ ✡✝ ✍✄☞✌☎☞✝☎✠✄ ✁☎☛✍✌☞☛✁☛✄✓ ✄✡✡✄
✆✄✍✌✄☛ ☞✄ ☛✄✂☛✄✍ ✡✝ ✟✝✡✁☞✁☛✡ ☞✄ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ✄☛ ✁✌✆✡✁✠✁☛✄✌✄☎☛ ☞☛ ✌✌☞✔✡✄ ☞✄ ✆✍✌✛
✆✝✞✝☛✁✌☎ ✠☞✌✁✂✁ ✴☞✄ ☛✄✂☛✄✍ ✡✝ ✍✌✧☛✂☛✄✂✂✄ ☞✄ ✡✥✄✂☛✁✌✡✄ ☞✄ ✡✝ ✆✌✂✁☛✁✌☎✵✎ ✢✄✂ ✍✡✂☛✡☛✝☛✂ ☞✄ ✠✄✂ ☛✄✂☛✂

✆✄✍✌✄☛☛✄☎☛ ☞✥✝✆✆✌✍☛✄✍ ☞✥✡✟✄☎☛☛✄✡✡✄✂ ✌✌☞✁✷✠✝☛✁✌☎✂ ✄☛ ☞✄ ✠☞✌✁✂✁✍ ✷☎✝✡✄✌✄☎☛ ✡✝ ✌✡☛☞✌☞✄ ✡✝ ✆✡☛✂
✝✆✆✍✌✆✍✁✡✄ ✆✌☛✍ ☎✌☛✍✄ ✝✆✆✡✁✠✝☛✁✌☎ ✝✰✬✞✎

✑✌☛✍✄ ☛✍✝✟✝✁✡ ✍✄✆✍✄☎☞ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✠✍✝✁☎✄ ☎✟ ✁✄✏ ✝✭✫✞✓ ✄☎ ✝☛✞✌✄☎☛✝☎☛ ☞✌☎✠ ✡✄ ☎✌✌✧✍✄ ☞✄
✠✝✆☛✄☛✍✂ ✌✝✁✂ ✝☛✂✂✁ ✄☎ ✌✌☞✁✷✝☎☛ ✡✄ ✌✌☞✔✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎✎ ✢✥✌✧✬✄✠☛✁✘ ✆✍✁☎✠✁✆✝✡ ✄✂☛ ✡✝ ✟✡✍✁✷✠✝☛✁✌☎
☞✄ ✡✝ ✟✝✡✁☞✁☛✡ ☞✄ ✠✄☛☛✄ ✌✡☛☞✌☞✄ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ✆✝✍ ✡✥✁☎☛✍✌☞☛✠☛✁✌☎ ☞✄ ✡✝ ✍✄☞✌☎☞✝☎✠✄ ✄☛ ✆✝✍ ☛☎
✌✌☞✔✡✄ ✁ ☎☛✠✂☛✠ ✆✡☛✂ ✍✡✝✡✁✂☛✄ ☞☛ ✌✁✡✁✄☛✎

✲✬✭



�✁✁☎✠✟☛☎ �✏ ✄☎✁✞☎✁✟✁✟✠✂✁ ☎✟ ✄✂✄✁✄✠✝✁✟✠✂✁

✄✏✑�✦✚ ✑✚ ✙✎✏✙✘✴✘✍✔✏✌✥ ✢✄ ✌✌☞✔✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ☛☛✁✡✁✂✡ ✆✝✍ ✠✍✝✁☎✄ ☎✟ ✁✄✏ ✄✂☛ ✡✄ ✌✌☞✔✡✄
✠✡✝✂✂✁✏☛✄ ☞✥☛☎✄ ✂✌☛✍✠✄ ✆✌☎✠☛☛✄✡✡✄ ☞✝☎✂ ☛☎ ✌✁✡✁✄☛ ✁✂✌☛✍✌✆✄ ✄☛ ☎✌☎✛✝✧✂✌✍✧✝☎☛✎ ✠✄✆✄☎☞✝☎☛✓ ✡✄✂ ☛✁✂✛
✂☛✂ ☞✄ ✡✥✌✍✞✝☎✁✂✌✄ ☞☛✌✝✁☎ ✠✌☎✂☛✁☛☛✄☎☛ ☞✄✂ ✌✁✡✁✄☛✯ ✘✌✍☛✄✌✄☎☛ ✝✧✂✌✍✧✝☎☛✂ ✆✌☛✍ ✡✄✂ ✌☎☞✄✂ ✂✌☎✌✍✄✂
✄☛ ✡✥✝✧☞✌✌✄☎ ☎✥✄✂☛ ✆✝✂ ✁✂✌☛✍✌✆✄ ✴✏☛✁ ✆✡☛✂ ✄✂☛✓ ✂✌☎ ✠✌☎☛✄☎☛ ✟✝✍✁✄ ☞✝☎✂ ✡✄ ☛✄✌✆✂ ✄☛ ☞✌☎✠ ✂✄✂ ✠✝✛
✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✝✠✌☛✂☛✁✏☛✄✂ ✠☞✝☎✞✄☎☛✵✎ ✑✌☛✂ ✝✟✌☎✂ ✄✂✂✝✒✡ ☞✥✝✌✡✡✁✌✍✄✍ ✡✄ ✌✌☞✔✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎
✆✝✍ ✡✥✁☎☛✍✌☞☛✠☛✁✌☎ ☞✄ ✡✥✝☛☛✡☎☛✝☛✁✌☎ ☞☛✄ ✝☛ ✌✁✡✁✄☛ ✝✧✂✌✍✧✝☎☛✓ ✄☎ ✂✝✠☞✝☎☛ ✏☛✥☛☎✄ ✌✌☞✡✡✁✂✝☛✁✌☎
✝✠✌☛✂☛✁✏☛✄ ☞✄ ✡✥✝☎✝☛✌✌✁✄ ✝✧☞✌✌✁☎✝✡✄ ☞✡✆✝✂✂✄ ✡✝✍✞✄✌✄☎☛ ☎✌✂ ✌✧✬✄✠☛✁✘✂ ✴✡✄✂ ✆✍✄✌✁✄✍✂ ☞✡✟✄✡✌✆✆✄✛
✌✄☎☛✂ ☞✝☎✂ ✡✥✡☛☛☞✄ ☞✄✂ ✆✍✌✆✍✁✡☛✡✂ ✝✠✌☛✂☛✁✏☛✄✂ ☞✄✂ ☛✁✂✂☛✂ ☞☛✌✝✁☎✂ ✌☎☛ ✡☛✡ ✆☛✧✡✁✡✂ ✍✡✠✄✌✌✄☎☛ ✆✝✍
✍✌✒✂☛✌☎✓ �✝☎✂✒ ☎✟ ✁✄✏ ✝✯✶✓ ✰✮✓ ✰✶✞✵✎

✢✥✝☛☛✡☎☛✝☛✁✌☎ ☞✄ ✡✥✝✌✆✡✁☛☛☞✄ Ai
☞✥☛☎✄ ✌☎☞✄ ✆✡✝☎✄ ☞✝☎✂ ☛☎ ✌✁✡✁✄☛ ✝✧✂✌✍✧✝☎☛ ✂☛✁☛ ☛☎✄ ✡✌✁

✄✯✆✌☎✄☎☛✁✄✡✡✄ ✝✮✪✓ ✶✫✓ ✲✬✮✞ ✒
Ai = Ase

−µdi ,
✴✮✎✲✮✵

✌✟
µ ☞✡✂✁✞☎✄ ☛☎ ✆✝✍✝✌✔☛✍✄ ☞✥✝✧✂✌✍✆☛✁✌☎ ✏☛✁ ☞✡✆✄☎☞ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ☞☛ ✌✁✡✁✄☛ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎✓✌✝✁✂ ✝☛✂✂✁ ☞✄ ✡✝ ✘✍✡✏☛✄☎✠✄ ☞☛ ✂✌☎ ✆✍✌✆✝✞✡✓ di

☞✡✂✁✞☎✄ ✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ✡✄ ✠✝✆☛✄☛✍ i ✄☛ ✡✝ ✂✌☛✍✠✄
✄☛
As

✡✥✝✌✆✡✁☛☛☞✄ ☞✄ ✠✄✡✡✄✛✠✁✎ ✰☎ ✠✌☎✂✁☞✡✍✝☎☛ ✄☎ ✆✡☛✂ ✡✥✝☛☛✡☎☛✝☛✁✌☎ ☞✄ ✡✝ ✆☛✁✂✂✝☎✠✄ ☞✥☛☎✄ ✂✌☛✍✠✄
✆✌☎✠☛☛✄✡✡✄ ✝✟✄✠ ✡✄ ✠✝✍✍✡ ☞✄ ✡✝ ☞✁✂☛✝☎✠✄✓ ✡✥✄✯✆✍✄✂✂✁✌☎ ☞✄ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ☞✥☛☎ ✂✌☎ ✄☎✍✄✞✁✂☛✍✡
✆✝✍ ✡✄ ✠✝✆☛✄☛✍ i ✴✮✎✲✲✵ ✂✄ ✍✡✡✠✍✁☛ ✒

Ii = Ps
e−2µdi

4πd2
i

.
✴✮✎✲✶✵

✢✄ ✆✝✍✝✌✔☛✍✄ ☞✥✝✧✂✌✍✆☛✁✌☎ µ ✄✂☛ ☞✌☎☎✡ ✆✝✍ ✒

µ = α · fβ ,
✴✮✎✲✪✵

✌✟
f
✄✂☛ ✡✝ ✘✍✡✏☛✄☎✠✄ ☞☛ ✂✌☎ ✆✍✌✆✝✞✡✓ α ✄☛

β ☞✄✂ ✠✌☎✂☛✝☎☛✄✂ ✂✆✡✠✁✷✏☛✄✂ ✝☛ ✌✁✡✁✄☛ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎
✝✶✫✞✎ ✰☎ ✞✡☎✡✍✝✡✓ β ✟✝✍✁✄ ✄☎☛✍✄ ✲ ✄☛ ✫ ✴✫ ✆✌☛✍ ✡✄✂ ✡✁✏☛✁☞✄✂✓ ✌✝✁✂ ✡✞✝✡ ✌☛ ☛✍✔✂ ✆✍✌✠☞✄ ☞✄ ✲ ✆✌☛✍ ✡✄✂
☛✁✂✂☛✂ ☞☛✌✝✁☎✂✵✎ ✢✝ ☞✄☛✯✁✔✌✄ ✠✌☎✂☛✝☎☛✄ α ✟✝✍✁✄ ✄☎ ✘✌☎✠☛✁✌☎ ☞☛ ☛✁✂✂☛ ✠✌☎✂✁☞✡✍✡✓ ✝✟✄✠ ☛☎✄ ✟✝✡✄☛✍
✌✌✒✄☎☎✄ ☞✄ 8, 3 · 10−6 ✴✂✍✌✵ ✆✌☛✍ ✡✄✂ ☛✁✂✂☛✂ ✌✌☛✂ ✝✮✪✞✎ �☛✝☎☛ ✤ ✡✝ ✘✍✡✏☛✄☎✠✄ ☞☛ ✂✌☎ ✆✍✌✆✝✞✡✓
☎✌☛✂ ✡✥✝✟✌☎✂ ✄✂☛✁✌✡✄ ✡☛✝☎☛ ✡✞✝✡✄ ✤ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✴✟✌✁✍ ✡✏✎ ✴✮✎✯✵✵ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛ ✝✒✝☎☛
✡✥✁☎☛✄☎✂✁☛✡ ✡✝ ✆✡☛✂ ✘✌✍☛✄ ✆✝✍✌✁ ✡✄✂ ✂✌☎✂ ✄☎✍✄✞✁✂☛✍✡✂ ✂✁✌☛✡☛✝☎✡✌✄☎☛ ✆✝✍ ✡✄✂ ✟✌✁✄✂✎

✰☎ ✂☛✁✟✝☎☛ ☛☎ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ✂✁✌✁✡✝✁✍✄ ✝☛ ✌✁✡✁✄☛ ☎✌☎✛✝✧✂✌✍✧✝☎☛✓ ✡✝ ✆☛✁✂✂✝☎✠✄ ✁☎✠✌☎☎☛✄ ☞✄
✡✝ ✂✌☛✍✠✄ ✆✄☛☛ ✫☛✍✄ ✠✝✡✠☛✡✡✄ ✤ ✆✝✍☛✁✍ ☞✄ ✠☞✝✏☛✄ ✂✁✞☎✝✡ ☞✥✁☎☛✄☎✂✁☛✡ Ii

✄☎✍✄✞✁✂☛✍✡ ✆✝✍ ✡✄ ✠✝✆☛✄☛✍ i✓
✝✠✠✄✂✂✁✧✡✄ ✆✝✍ ✴✮✎✷✵✎ ✢✝ ✆✌✂✁☛✁✌☎ ☞✄ ✡✝ ✂✌☛✍✠✄ ✄✂☛ ✍✄☛✍✌☛✟✡✄ ✄☎ ✍✡✂✌✡✟✝☎☛ ✡✄ ✂✒✂☛✔✌✄ ☞✥✡✏☛✝☛✁✌☎✂
☎✌☎✛✡✁☎✡✝✁✍✄✂ ☞✥✁☎✠✌☎☎☛✄✂ (xs, ys, zs)✓ ✌✧☛✄☎☛ ✆✌☛✍ ☛✌☛☛✄✂ ✡✄✂ ✆✝✁✍✄✂ (i, j)

✒

Ps = 4πd2
i e

2µdiIi = 4πd2
je

2µdjIj ,
✴✮✎✲✯✵

✄☎ ✍✄✌✆✡✝✩✝☎☛ ✡✄✂ ☞✁✂☛✝☎✠✄✂ di ✓ dj
✆✝✍ ✡✄☛✍✂ ✄✯✆✍✄✂✂✁✌☎✂ ✴✮✎✰✵✎

✎✚✣✘✎★✒✚✥ ✢✥✁☎☞☛✄☎✠✄ ☞✄ ✡✥✁☎☛✍✌☞☛✠☛✁✌☎ ☞☛ ✌✌☞✔✡✄ ✝✧✂✌✍✧✝☎☛ ✂☛✍ ✡✝ ✆✍✌✆✝✞✝☛✁✌☎ ✄✂☛ ✍✄✡✝☛✁✛
✟✄✌✄☎☛ ✆✄☛ ✁✌✆✌✍☛✝☎☛✄✎ ✰☎ ✄✆✄☛✓ ✠✌✌✌✄ ✡✄ ✆✝✍✝✌✔☛✍✄ ☞✥✝✧✂✌✍✆☛✁✌☎ µ ✝☛✞✌✄☎☛✄ ✝✟✄✠ ✡✝ ✘✍✡✏☛✄☎✠✄
✴✡✄✂ ☞✝☛☛✄✂ ✘✍✡✏☛✄☎✠✄✂ ✂✌☎☛ ✆✡☛✂ ✝☛☛✡☎☛✡✄✂ ✏☛✄ ✡✄✂ ✧✝✂✂✄✂✵✓ ✁✡ ✄✂☛ ✌✝✯✁✌☛✌ ✆✌☛✍ ✡✄✂ ✂✌☎✂ ✝✧☞✌✛
✌✁☎✝☛✯ ✡✄✂ ✆✡☛✂ ✝✁✞☛✂✎ ✗✌☛✍ α = 8, 3 · 10−6 ✓ β = 1

✄☛ ☛☎✄ ✘✍✡✏☛✄☎✠✄ fmax = 1250 ✭✳✎✓ µ ✟✝☛☛✬✓✬✲✬✮ ✴✌−1✵✎ ✠✄☛☛✄ ✟✝✡✄☛✍ ✁☎☞✁✏☛✄ ✏☛✄ ✡✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✴✏☛✁✓ ✝✆✍✔✂ ✡✝ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎✓ ✌☎☛
✡✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✘✍✡✏☛✄☎☛✁✄✡✡✄✂ ✂☛✆✡✍✁✄☛✍✄✂ ✤ ✲✫✶✬ ✭✳✎ ✘✌✍☛✄✌✄☎☛ ☞✁✌✁☎☛✡✄✂✵ ✂✌☎☛ ✆✄☛ ✝☛☛✡☎☛✡✂
✂☛✍ ☞✄✂ ☞✁✂☛✝☎✠✄✂ ✠✌☛✍☛✄✂✓ ✠✝✍ ✡✄ ☛✄✍✌✄ ✄✯✆✌☎✄☎☛✁✄✡ ☞✄ ✴✮✎✲✶✵ ✝☛☛✄✁☎☛ ☛☎✄ ✟✝✡✄☛✍ ✌✁☎✁✌✝✡✄ ✡✞✝✡✄ ✤
✬✓✰✰✭ ✴✆✌☛✍ ☛☎✄ ☞✁✂☛✝☎✠✄ ✌✝✯✁✌✝✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✠✌☎✂✁☞✡✍✡✄ ☞✄ ✲✍✭ ✌✎✵✎ ✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ✡✥✁☎✛☞☛✄☎✠✄ ☞✄ ✡✥✝☛☛✡☎☛✝☛✁✌☎ ✂☛✍ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✄✂ ☞✁✂☛✝☎✠✄✂ ✄☎☛✍✄ ✡✝ ✂✌☛✍✠✄ ✄☛ ✡✄✂ ✠✝✆☛✄☛✍✂ ✴✡✄✂ ✍✝✒✌☎✂
☞✄✂ ✂✆☞✔✍✄✂✵ ✄✂☛ ☞✄ ✌✌✁☎✂ ☞✄ ✲✁✓ ☞✌☎✠ ✡✄ ✠☞✝☎✞✄✌✄☎☛ ☞✄ ✌✌☞✔✡✄ ☎✥✝✆✆✌✍☛✄ ✆✝✂ ☛☎✄ ✝✌✡✡✁✌✍✝☛✁✌☎
☎✌☛✝✧✡✄ ☞✄ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎✎ ✠✄✆✄☎☞✝☎☛✓ ✠✌✌✌✄ ✠✄ ✌✌☞✔✡✄ ✄✂☛ ✆✡☛✂ ✞✡☎✡✍✝✡✓ ☎✌☛✂ ✝✡✡✌☎✂ ✡✥☛☛✁✡✁✂✄✍
✆✌☛✍ ✡✄✂ ☞✡✟✄✡✌✆✆✄✌✄☎☛✂ ✂☛✁✟✝☎☛✂✎

✲✬✮
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✄✏✌✓✍✔✏✌ ✑✚ ✓✏�✍ ✙✏✒✎ ✦✘ ✦✏✓✘✦✔✜✘✍✔✏✌✥ ✢✝ ✍✡✂✌✡☛☛✁✌☎ ☞☛ ✂✒✂☛✔✌✄ ☎✌☎✛✡✁☎✡✝✁✍✄ ✴✮✎✲✯✵ ☎✥✄✂☛
✆✝✂ ✄☎✟✁✂✝✞✄✝✧✡✄ ✝☎✝✡✒☛✁✏☛✄✌✄☎☛✎ ✙✄ ✆✡☛✂✓ ✡✥✝☛✞✌✄☎☛✝☛✁✌☎ ☞☛ ☎✌✌✧✍✄ ☞✄ ✠✝✆☛✄☛✍✂ ☛✍✝☎✂✘✌✍✌✄ ✠✄
✂✒✂☛✔✌✄ ✄☎ ☛☎ ✂✒✂☛✔✌✄ ✂☛✍✛☞✡☛✄✍✌✁☎✡✎ ✙✝☎✂ ☛☎ ✌✁✡✁✄☛ ✁✂✌☛✍✌✆✄ ✠✌✍✍✄✠☛✄✌✄☎☛ ✌✌☞✡✡✁✂✡ ✴✝✧✂✌✍✧✝☎☛
✌☛ ☎✌☎✵ ✄☛ ✄☎ ✡✥✝✧✂✄☎✠✄ ☞✄ ✧✍☛✁☛✓ ✡✝ ✂✌✡☛☛✁✌☎ ✍✄✂☛✄ ✄✯✝✠☛✄✓ ✌✝✁✂ ✄☎ ✆✍✡✂✄☎✠✄ ☞✄ ✧✍☛✁☛ ☞✄ ✌✄✂☛✍✄
✄☛✍✌☛ ✂✁ ✡✄ ✌✌☞✔✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✄✂☛ ✄✍✍✌☎✡✓ ✡✝ ✂✌✡☛☛✁✌☎ ☞✌✁☛ ✫☛✍✄ ✍✄✠☞✄✍✠☞✡✄ ✆✝✍ ✡✥✌✆☛✁✌✁✂✝☛✁✌☎
☞✥☛☎✄ ✘✌☎✠☛✁✌☎ ☞✄ ✠✌✁☛ F ✎ ✎✟✄✠ ☛☎✄ ✠☞✝✣☎✄ ☞✄ ✌✄✂☛✍✄ ✧✁✄☎ ✠✝✡✁✧✍✡✄ ✄☛ ✝✆✍✔✂ ✡✄ ☞✡✧✍☛✁☛✝✞✄ ✝✆✆✡✁✏☛✡
✝☎☛✡✍✁✄☛✍✄✌✄☎☛✓ ✡✄✂ ✄✍✍✄☛✍✂ ☞✄ ✌✄✂☛✍✄ ✂✌☎☛ ✌✁☎✁✌✝✡✄✂✓ ✠✄ ✏☛✁ ✆✄✍✌✄☛ ☞✄ ✠✌☎✂✁☞✡✍✄✍ ✏☛✄ ✡✝ ✟✝✡✄☛✍
✌✁☎✁✌☛✌ ☞✄ F ✍✄☞✔☛✄ ✆✍✁☎✠✁✆✝✡✄✌✄☎☛ ✡✥✄✍✍✄☛✍ ☞✄ ✌✌☞✡✡✁✂✝☛✁✌☎✎

✑✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ☞✝☎✂ ✡✝ ✂☛✁☛✄ ✡✝ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄ ✠✄☛☛✄ ✘✌☎✠☛✁✌☎ ☞✄ ✠✌✁☛✎ ✙✝☎✂ ✡✄ ✠✝✂ ☞✄✂ ✄✍✍✄☛✍✂
☞✄ ✌✌☞✡✡✁✂✝☛✁✌☎✓ ✡✥✡✏☛✝☛✁✌☎ ✴✮✎✲✶✵ ✂✄ ✍✡✡✠✍✁☛ ✒

P̂s,i = 4πIid
2
i e

2µdi ,
✴✮✎✲✷✵

✌✟
P̂s,i

☞✡✂✁✞☎✄ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✄ ✡✝ ✆☛✁✂✂✝☎✠✄ ☞✄ ✡✝ ✂✌☛✍✠✄ ✤ ✆✝✍☛✁✍ ☞☛ ✂✁✞☎✝✡ ✄☎✍✄✞✁✂☛✍✡ ✆✝✍ ✡✄ ✠✝✆☛✄☛✍
i✎ ✠✄✂ ✄✂☛✁✌✝☛✁✌☎✂ ✍✁✂✏☛✄☎☛ ☞✥✫☛✍✄ ☞✁✆✡✍✄☎☛✄✂ ✂✁ ✡✄ ✌✌☞✔✡✄ ✄✂☛ ✄✍✍✌☎✡✎ ✗✌☛✍ ✟✡✍✁✷✄✍ ✡✄☛✍ ✂✁✌✁✡✁☛☛☞✄✓
☎✌☛✂ ✆✌☛✟✌☎✂ ✂✌☛✂☛✍✝✁✍✄ ☞✄☛✯ ✤ ☞✄☛✯ ✡✄✂ ✡✏☛✝☛✁✌☎✂ ☞☛ ✂✒✂☛✔✌✄ ✴✮✎✲✯✵ ✆✌☛✍ ✠✍✡✄✍ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄
✠✌✁☛ ✤ ✌✁☎✁✌✁✂✄✍ ✒

F(x, y, z) =

Nv
∑

i,j=1
i6=j

(P̂s,i − P̂s,j)
2,

✴✮✎✲✰✵

✌✟
Nv = 6

✄✂☛ ✡✄ ☎✌✌✧✍✄ ☞✄ ✟✌✁✄✂ ✴✠✝✆☛✄☛✍✂✵✎ ✢✝ ✘✌☎✠☛✁✌☎ F(x, y, z)
✄✂☛ ☛☎✄ ☞✒✆✄✍✛✂☛✍✘✝✠✄ ✆✌✂✁☛✁✟✄✓✏☛✁ ✝☛☛✄✁☎☛ ✂✌☎ ✌✁☎✁✌☛✌ ✞✡✌✧✝✡ ☛☞✡✌✍✁✏☛✄ ✄☎ F(xs, ys, zs) = 0

✏☛✝☎☞ P̂s,i = P̂s,j
✆✌☛✍ ☛✌☛☛✄✂ ✡✄✂

✆✄✍✌☛☛✝☛✁✌☎✂ (i, j)✓ ✠✄ ✏☛✁ ✄✂☛ ✆✌✂✂✁✧✡✄ ☛☎✁✏☛✄✌✄☎☛ ✂✁ ✡✄ ✌✌☞✔✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✴✄☛ ✆✝✍ ✠✌☎✂✡✏☛✄☎☛
☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎✵ ✄✂☛ ✠✌✍✍✄✠☛✎

✠✄☛☛✄ ✘✌☎✠☛✁✌☎ ☎✡✠✄✂✂✁☛✄ ✏☛✄✡✏☛✄✂ ✆✍✡✠✁✂✁✌☎✂✎ ✠✌✌✌✄ ☎✌☛✂ ✡✥✝✟✌☎✂ ✟☛ ✆✍✡✠✡☞✄✌✌✄☎☛✓ ☛☎✄
✞✍✝☎☞✄ ✆✝✍☛✁✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ☎✥✄✂☛ ✆✝✂ ☞✡☛✄✠☛✡✄ ✆✝✍ ☛✌☛✂ ✡✄✂ ✠✝✆☛✄☛✍✂✎ ✢✥✝✡✞✌✍✁☛☞✌✄ ☞✄
✟✝✡✁☞✝☛✁✌☎ ✠✍✌✁✂✡✄ ✆✄✍✌✄☛ ☞✥✡✡✁✌✁☎✄✍ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✆✍✡✂✄☎☛✂ ✂☛✍ ☛☎✄ ✂✄☛✡✄ ✟✌✁✄ ✝ ✁✡✂ ✂✌☎☛ ✠✌☎✂✁☞✡✍✡✂
✠✌✌✌✄ ☞✄✂ ✝✍☛✡✘✝✠☛✂✎ ✠✄✆✄☎☞✝☎☛✓ ✡✄✂ ✂✌☎✂ ✄☎✍✄✞✁✂☛✍✡✂ ✆✝✍ ☛☎ ☎✌✌✧✍✄ ☞✄ ✟✌✁✄✂ ✁☎✘✡✍✁✄☛✍ ✤ ✶ ✂✌☎☛

☎✌✌✧✍✄☛✯✓ ✄☛ ✆✝✍ ✠✌☎✂✡✏☛✄☎☛ ✡✄✂ ✂✒✂☛✔✌✄✂ ☞✥✡✏☛✝☛✁✌☎✂ ✴✮✎✲✭✵ ✄☛ ✴✮✎✲✯✵ ✂✌☎☛ ✂✌☛✂✛☞✡☛✄✍✌✁☎✡✂✎ ✰☎
✘✝✁☛✓ ✆✌☛✍ ✡✄✂ ☞✄☛✯ ✌✌☞✔✡✄✂ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ☞✁✂✠☛☛✡✂ ✁✠✁ ✴✮✎✲✲✵ ✄☛ ✴✮✎✲✶✵✓ ✁✡ ☎✥✄✂☛ ✆✝✂ ✆✌✂✂✁✧✡✄✓
☛☞✡✌✍✁✏☛✄✌✄☎☛✓ ✏☛✥☛☎ ✂✌☎ ✂✌✁☛ ☞✡☛✄✠☛✡ ✂✄☛✡✄✌✄☎☛ ✆✝✍ ☛☎✄ ✆✝✍☛✁✄ ☞✄✂ ✠✝✆☛✄☛✍✂✓ ✠✝✍ ✡✥✁☎☛✄☎✂✁☛✡
✟✝☛☛ ✬ ☛☎✁✏☛✄✌✄☎☛ ✤ ☛☎✄ ☞✁✂☛✝☎✠✄ ✁☎✷☎✁✄ ☞✄ ✡✝ ✂✌☛✍✠✄✎ ✰☎ ✆✍✝☛✁✏☛✄✓ ✧✁✄☎ ✂✁✍✓ ✠✄☛☛✄ ☞✒✆✌☛☞✔✂✄
☎✥✄✂☛ ✆✝✂ ✟✡✍✁✷✡✄ ✄☛✓ ☞✄ ✆✡☛✂✓ ✡✄✂ ✠✝✆☛✄☛✍✂ ✌☎☛ ☛☎✄ ✂✄☎✂✁✧✁✡✁☛✡ ✏☛✁ ✡✄☛✍ ✁☎☛✄✍☞✁☛ ☞✄ ✍✡✝✞✁✍ ✤ ☞✄✂
✄✯✠✁☛✝☛✁✌☎✂ ☛✍✌✆ ✘✝✁✧✡✄✂✎ ✗✌☛✍ ✆✝✡✡✁✄✍ ✠✄☛☛✄ ☞✁☎✠☛✡☛✡✓ ☎✌☛✂ ✝✟✌☎✂ ✠✌☎✂✁☞✡✍✡ ✏☛✄ ✡✥✝✧✂✄☎✠✄ ☞✥☛☎ ✂✌☎
✂☛✍ ☛☎✄ ✌☛ ✆✡☛✂✁✄☛✍✂ ✟✌✁✄✂ ✄✂☛ ☞☛✄ ✝☛ ✂✄☛✁✡ ☞✄ ✂✄☎✂✁✧✁✡✁☛✡ ☞✄✂ ✠✝✆☛✄☛✍✂ ✍✄✂✆✄✠☛✁✘✂ ✄☛ ☎✌☛✂ ✝✟✌☎✂
✠✍✡✡ ✟✁✍☛☛✄✡✡✄✌✄☎☛ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ☞✥✁☎☛✄☎✂✁☛✡ εInt

✝☛✯ ✁☎✂☛✝☎☛✂ ✠✌✍✍✄✂✆✌☎☞✝☎☛✂✎ ✠✄☛☛✄ ✝✆✆✍✌✠☞✄

✝ ✡✥✝✟✝☎☛✝✞✄ ☞✥☛☎✁✘✌✍✌✁✂✄✍ ✡✥✄✯✆✍✄✂✂✁✌☎ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ✠✌✁☛ ✴✮✎✲✰✵ ✆✌☛✍ ☛✌☛✂ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✄☛ ☞✄
✘✌✍✠✄✍ ☛☎✄ ✂✌✡☛☛✁✌☎ ☛☎✁✏☛✄ ✝☛ ✆✍✌✧✡✔✌✄ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎✎

✰☎ ✍✡✝✡✁☛✡✓ ✡✄ ✌✁☎✁✌☛✌ ☛☞✡✌✍✁✏☛✄ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ✠✌✁☛
(F(x, y, z) = 0) ☎✥✄✂☛ ✬✝✌✝✁✂ ✝☛☛✄✁☎☛✎ ✠✄✛

✆✄☎☞✝☎☛✓ ✆✌☛✍ ✠☞✝✏☛✄ ✡✟✡☎✄✌✄☎☛✓ ✡✄ ✆✌✁☎☛ ☞✄ ✠✌✌✍☞✌☎☎✡✄✂
(xs, ys, zs)

✏☛✁ ✌✁☎✁✌✁✂✄ ✠✄☛☛✄ ✘✌☎✠☛✁✌☎
✄✂☛ ✡✝ ✌✄✁✡✡✄☛✍✄ ✂✌✡☛☛✁✌☎ ✆✌✂✂✁✧✡✄ ✆✌☛✍ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄ ✡✝ ✂✌☛✍✠✄ ☞☛ ✂✌☎ ✝✧☞✌✌✁☎✝✡ ✠✌☎✂✁☞✡✍✡✎
✰☎ ✍✄✌✆✡✝✩✝☎☛ ✠✄ ✆✌✁☎☛ ☞✝☎✂ ✡✄✂ ✄✯✆✍✄✂✂✁✌☎✂ ☞✄ ✠✝✡✠☛✡ ☞✄✂ ☞✁✂☛✝☎✠✄✂ di

✴✮✎✰✵ ✄☛ ✄☎ ✁☎☛✍✌☞☛✁✂✝☎☛
✠✄✡✡✄✂✛✠✁ ☞✝☎✂ ✴✮✎✲✷✵✓ ☎✌☛✂ ✌✧☛✄☎✌☎✂ ✡✄✂ ☞✁✆✡✍✄☎☛✄✂ ✄✂☛✁✌✝☛✁✌☎✂ ☞✄ ✡✝ ✆☛✁✂✂✝☎✠✄ ☞✄ ✡✝ ✂✌☛✍✠✄ ✂✌✛
☎✌✍✄✎ ✢✝ ☞✁✂✆✄✍✂✁✌☎ ☞✄ ✠✄✂ ✄✂☛✁✌✝☛✁✌☎✂ ✆✄☛☛ ✫☛✍✄ ✠✌☎✂✁☞✡✍✡✄ ✠✌✌✌✄ ☛☎✄ ✌✄✂☛✍✄ ☞✄ ✡✝ ✟✝✡✁☞✝☛✁✌☎ ☞☛
✌✌☞✔✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✄☛ ✆✝✍ ✠✌☎✂✡✏☛✄☎☛ ☞✄ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ✒ ☞✄✂ ✟✝✡✄☛✍✂ ✁☞✄☎☛✁✏☛✄✂
✌☛ ✆✍✌✠☞✄✂ ☞✄✂ P̂s,i ✓ P̂s,j

✠✌☎✷✍✌✄☎☛ ✡✝ ✟✝✡✁☞✁☛✡ ☞☛ ✌✌☞✔✡✄✓ ✝✡✌✍✂ ✏☛✄ ☞✄ ✞✍✝☎☞✂ ✡✠✝✍☛✂ ✄☎☛✍✄ ✠✄✂

✲✬✶
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✟✝✡✄☛✍✂ ✍✄✌✄☛☛✄☎☛ ✄☎ ✠✝☛✂✄ ✡✄✂ ☞✒✆✌☛☞✔✂✄✂ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✄☛ ✁☎☞✁✏☛✄☎☛ ✏☛✄ ✡✝ ✂✌✡☛☛✁✌☎ ☛✍✌☛✟✡✄ ✝☛
✆✍✌✧✡✔✌✄ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ✄✂☛ ✘✝☛✂✂✄✎

✗✌☛✍ ☞✌☎☎✄✍ ☛☎✄ ✌✄✂☛✍✄ ✏☛✝☎☛✁☛✝☛✁✟✄ ☞✄ ✡✥✝☞✡✏☛✝☛✁✌☎ ☞☛ ✌✌☞✔✡✄✓ ☎✌☛✂ ✁☎☛✍✌☞☛✁✂✌☎✂ ☞✥✝✧✌✍☞
✡✥✡✠✝✍☛ ✍✄✡✝☛✁✘ ✄☎☛✍✄ ✡✥✄✂☛✁✌✝☛✁✌☎ ✠✌☛✍✝☎☛✄ P̂s,i

✄☛ ✡✝ ✌✌✒✄☎☎✄ ☞✄ ☛✌☛☛✄✂ ✡✄✂ ✄✂☛✁✌✝☛✁✌☎✂ ✴✡✝ ☞✁✆✡✍✄☎✠✄
☎✌✍✌✝✡✁✂✡✄ ✄☎☛✍✄ ✡✥✄✂☛✁✌✝☛✁✌☎ ✠✌☛✍✝☎☛✄ ✄☛ ✡✝ ✌✌✒✄☎☎✄ ☞✄✂ ✄✂☛✁✌✝☛✁✌☎✂✵ ✒

εi =
P̂s,i − 1

Nv

∑Nv

j=1 P̂s,j

1
Nv

∑Nv

j=1 P̂s,j

.
✴✮✎✫✬✵

✢✝ ☞✁✂✆✄✍✂✁✌☎ ☞✄ ✠✄✂ ✡✠✝✍☛✂✓ ✏☛✁ ✄✂☛ ☛☎✄ ✧✌☎☎✄ ✌✄✂☛✍✄ ✞✡✌✧✝✡✄ ☞✄ ✡✥✝☞✡✏☛✝☛✁✌☎ ☞☛ ✌✌☞✔✡✄✓ ✄✂☛

☞✌☎☎✡✄ ✆✝✍ ✡✥✄✍✍✄☛✍ ☞✄ ✌✌☞✡✡✁✂✝☛✁✌☎ ǫ ✒

ǫ2 =
1

Nv

Nv
∑

i=1

ε2i =
1

Nv

Nv
∑

i=1

(

P̂s,i − 1
Nv

∑Nv

j=1 P̂s,j

1
Nv

∑Nv

j=1 P̂s,j

)2

.
✴✮✎✫✲✵

✮☎✄ ✟✝✡✄☛✍ ✆✍✌✠☞✄ ☞✄ ✬ ☞✄ ✠✄☛☛✄ ✄✍✍✄☛✍ ✂✁✞☎✁✷✄ ✏☛✄ ✡✄✂ ✄✂☛✁✌✝☛✁✌☎✂ P̂s,i
☞✄ ✡✝ ✆☛✁✂✂✝☎✠✄ ☞✄ ✡✝ ✂✌☛✍✠✄✓

✠✝✡✠☛✡✡✄✂ ✤ ✆✝✍☛✁✍ ☞✄✂ ✠✝✆☛✄☛✍✂ i✓ ✂✌☎☛ ✆✍✌✠☞✄✂ ✄☎☛✍✄ ✄✡✡✄✂ ✴✄☛ ☞✄ ✡✄☛✍ ✌✌✒✄☎☎✄✵✎ ✗✝✍ ✄✯✄✌✆✡✄✓ ☛☎✄
✄✍✍✄☛✍ ǫ = 1

✁☎☞✁✏☛✄ ☛☎ ✡✠✝✍☛ ✌✌✒✄☎ ☞✄ ✲✬✬✁ ✄☎☛✍✄ ✡✄✂ ✄✂☛✁✌✝☛✁✌☎✂ P̂s,i
✄☛ ✡✄☛✍ ✌✌✒✄☎☎✄ ✄☛ ☞✌☎✠

☛☎✄ ☛✍✔✂ ✌✝☛✟✝✁✂✄ ✝☞✡✏☛✝☛✁✌☎ ☞☛ ✌✌☞✔✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✝☛✯ ✌✄✂☛✍✄✂✎

✎✧✜✒✦✍✘✍✜✥ ✸✟✁☞✄✌✌✄☎☛✓ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✥☛☎ ✆✌✁☎☛ ☞✄ ✠✌✌✍☞✌☎☎✡✄✂
(xs, ys, zs)

☎✡✠✄✂✂✁☛✄ ☞✥✝✧✌✍☞
✡✝ ☞✡✷☎✁☛✁✌☎ ☞✥☛☎ ✍✄✆✔✍✄ ✄☛ ✡✄ ✆✌✂✁☛✁✌☎☎✄✌✄☎☛ ☞✄ ✡✝ ✳✌☎✄ ☞✥✁☎☛✡✍✫☛ ✴✡✄✂ ✡✁✌✁☛✄✂ ☞☛ ☞✌✌✝✁☎✄ ☞✄
✟✝✍✁✝☛✁✌☎ ☞✄ ✠✄ ✆✌✁☎☛✵ ☞✝☎✂ ✠✄ ✍✄✆✔✍✄✎ ✙✝☎✂ ☎✌☛✍✄ ✠✝✂✓ ✡✥✄✂✆✝✠✄ ☞✄✂ ✂✌✡☛☛✁✌☎✂ ✆✌✂✂✁✧✡✄✂ ✄✂☛ ✡✥✁☎☛✡✍✁✄☛✍
☞✄ ✡✥✝✧☞✌✌✄☎✎ ✕✡ ✄✂☛ ☞✡✡✁✌✁☛✡ ✄☎ ✂☛✍✘✝✠✄ ✆✝✍ ✡✄✂ ✂✁✯ ✠✝✆☛✄☛✍✂ ✆✡✝✠✡✂ ✂☛✍ ✡✝ ✆✝✍✌✁ ✝✧☞✌✌✁☎✝✡✄ ✄☛ ✁✡

✝ ☛☎✄ ✆✍✌✘✌☎☞✄☛✍ ☎✌☎ ☎☛✡✡✄ ✡✁✡✄ ✤ ✡✥✝☎✝☛✌✌✁✄✎ ✢✥✌✍✁✞✁☎✄ ☞☛ ✍✄✆✔✍✄ ✝ ✡☛✡ ✷✯✡✄ ✠✌✌✌✄ ✂☛✍ ✡✝ ✷✞☛✍✄✮✎✰✎
✑✌☛✂ ✝✟✌☎✂ ☞✁✂✠✍✡☛✁✂✡ ✠✄☛ ✄✂✆✝✠✄ ✄☎ ☛☎✁☛✡✂ ✟✌✡☛✌✁✏☛✄✂ ☞✄ ✘✌✍✌✄ ✠☛✧✁✏☛✄✓ ☞✌☎☛ ✡✄✂ ☞✁✌✄☎✛

✂✁✌☎✂✓ ✝✍✧✁☛✍✝✁✍✄✂✓ ✷✯✄☎☛ ✡✝ ✍✡✂✌✡☛☛✁✌☎✎ ✎✁☎✂✁✓ ☎✌☛✂ ✝✟✌☎✂ ✡✁✌✁☛✡ ✡✄ ☞✌✌✝✁☎✄ ☞✄✂ ✂✌✡☛☛✁✌☎✂ ✆✌✂✂✁✧✡✄✂

(xs, ys, zs)
✤ ☛☎ ✆✝✍✝✡✡✡✡✡✆✁✆✔☞✄ ☞✍✌✁☛ ☞✄ ☞✁✌✄☎✂✁✌☎✂ (7 × 7 × 4)

✴✷✞☛✍✄ ✮✎✰✵✓ ☞✝☎✂ ✡✄✏☛✄✡ ☎✌☛✂
✝✟✌☎✂ ✍✄✠☞✄✍✠☞✡ ☞✥☛☎✄ ✌✝☎✁✔✍✄✂ ✄✯☞✝☛✂☛✁✟✄ ✡✄ ✌✁☎✁✌☛✌ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ☞✄ ✠✌✁☛ F ✎

1

3 4 5

62

x

z

y

✁✂✄☎ ✮✎✰ ✄ ✟☞✗❄✎☞ ✑☞ ✏✠✢✞✏☛✔✞✟☛✠✝ ☞✟ ✑☛✔✢✎✍✟☛✔✞✟☛✠✝ ✑☞ ✏❂☞✔✗✞✢☞ ✑☞✔ ✔✠✏✒✟☛✠✝✔ ✗✠✔✔☛✓✏☞✔ ✬☛✝✟✍✎☛☞✒✎ ✑☞ ✏❂✞✓✑✠✡☞✝✮✘

✑✌☛✂ ✝✟✌☎✂ ☛✄✂☛✡ ✡✝ ✌✡☛☞✌☞✄ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞✡✠✍✁☛✄ ✆✍✡✠✡☞✄✌✌✄☎☛ ✂☛✍ ☛☎ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛ ☞✄
221 ✆✌✁☎☛✂✓ ☞✌☎✠ ☞✥☛☎✄ ☞☛✍✡✄ ☞✥✄☎✟✁✍✌☎ ✯ ✌✁☎☛☛✄✂ ✤ ☛☎✄ ✘✍✡✏☛✄☎✠✄ ☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ☞✄ ✶✬✬✬ ✭✳✎
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✎✆✍✔✂ ✡✄✂ ✡☛✝✆✄✂ ☞✥✄✯☛✍✝✠☛✁✌☎ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ✄☛ ☞✄ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎✓ ☎✌☛✂ ✝✟✌☎✂

✍✄✠☞✄✍✠☞✡ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✂✄ ✂☛✆✄✍✆✌✂✝☎☛ ☞✝☎✂ ✡✄ ☛✄✌✆✂ ✄☛ ☎✌☛✂ ✝✟✌☎✂ ☞✡☛✄✠☛✡ ☛☎ ☛✌☛✝✡ ☞✄ ✮✶✰
✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ☞✁✂☛✁☎✠☛✂✎ ✗✌☛✍ ✠☞✝✠☛☎ ☞✄ ✠✄✂ ✂✌☎✂✓ ☎✌☛✂ ✝✟✌☎✂ ✠✝✡✠☛✡✡ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄
✴✡✏☛✝☛✁✌☎ ✮✎✷✵ ✄☛ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✴✡✏☛✝☛✁✌☎ ✮✎✯✵✎ ✰☎✂☛✁☛✄✓ ☎✌☛✂ ✝✟✌☎✂ ✄✂☛✁✌✡ ✡✝ ✆✌✂✁☛✁✌☎
☞✄ ✡✝ ✂✌☛✍✠✄ ☞✝☎✂ ✡✄ ✍✄✆✔✍✄ ☞✡✷☎✁ ✆✍✡✠✡☞✄✌✌✄☎☛✓ ✄☎ ✍✄✠☞✄✍✠☞✝☎☛ ✡✄ ✌✁☎✁✌☛✌ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ✠✌✁☛
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✁✂✄☎ ✮✎✲✬ ✄ ✄✕☞✡✗✏☞ ✑❂✍✫✠✏✒✟☛✠✝ ✑☞ ✏❂☞✎✎☞✒✎ ✑☞ ✡✠✑✍✏☛✔✞✟☛✠✝ ǫ
✗✠✒✎ ✚☛✲ ✔✠✝✔ ✞✓✑✠✡☛✝✞✒✕✭ ✌✎✠✒✗✍✔ ☞✝ ✕✠✝✢✟☛✠✝✑✒ ✝✠✡✓✎☞ ✑☞ ✫✠☛☞✔ ✏☞✔ ✞✠✞✝✟ ☞✝✎☞✌☛✔✟✎✍✔✘

✠✌✌✌✄ ✌☎ ✆✌☛✟✝✁☛ ✂✥✒ ✝☛☛✄☎☞✍✄✓ ✡✥✄✍✍✄☛✍ ☞✄ ✌✌☞✡✡✁✂✝☛✁✌☎ ☞✁✌✁☎☛✄ ✝✟✄✠ ✡✄ ☎✌✌✧✍✄ ☞✄ ✠✝✆☛✄☛✍✂ ✒
✡✄✂ ✂✌☎✂ ✡✄✂ ✆✡☛✂ ✘✌✍☛✂ ✂✌☎☛ ✌✁✄☛✯ ✡✌✠✝✡✁✂✡✂ ✏☛✄ ✡✄✂ ✘✝✁✧✡✄✂✎ ✰☎ ✘✝✁☛✓ ☞✝☎✂ ✡✄ ✌✌☞✔✡✄ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎
✠☞✌✁✂✁✓ ☛☎ ✠✝✆☛✄☛✍ ✏☛✁ ☎✄ ☞✡☛✄✠☛✄ ✆✝✂ ☛☎ ✂✌☎ ✡✄ ✟✍✄✆✌☛✂✂✄✠ ✟✄✍✂ ✡✥✁☎✷☎✁✎ ✑✡✝☎✌✌✁☎✂✓ ✌✫✌✄ ✆✌☛✍ ✡✄✂
✂✌☎✂ ☞✡☛✄✠☛✡✂ ✆✝✍ ✡✄✂ ✂✁✯ ✠✝✆☛✄☛✍✂ ✴✭✯ ✂☛✍ ✮✶✰✵✓ ✡✥✄✍✍✄☛✍ ǫ ✍✄✂☛✄ ✁✌✆✌✍☛✝☎☛✄ ✒ ✂✝ ✟✝✡✄☛✍ ✌✌✒✄☎☎✄ ✄✂☛

☞✄ ✬✓✮✰✓ ✝✟✄✠ ☛☎ ✌✁☎✁✌☛✌ ✤ ✬✓✫✫ ✄☛ ☛☎ ✌✝✯✁✌☛✌ ✤ ✬✓✰✲✎ ✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ✌✫✌✄ ☞✝☎✂ ✠✄ ☞✄✍☎✁✄✍
✠✝✂✓ ✡✥✡✠✝✍☛ ✄☎☛✍✄ ✡✄✂ ✄✂☛✁✌✡✄✂

P̂s,i ✓ P̂s,j
✄✂☛ ✆✍✌✠☞✄ ☞✄ ✡✄☛✍ ✟✝✡✄☛✍ ✌✌✒✄☎☎✄✎

✮☎✄ ✝☛☛✍✄ ✍✄✌✝✍✏☛✄ ✁☎☛✡✍✄✂✂✝☎☛✄ ✄✂☛ ✂☛✞✞✡✍✡✄ ✆✝✍ ✡✄✂ ✟✝✡✄☛✍✂ ☞✄✂ ☛✍✁✆✡✄☛✂ (xs, ys, zs)
✆✌☛✍ ✡✄✂

✡✟✡☎✄✌✄☎☛✂ ✝☎✝✡✒✂✡✂ ✒ ✂✄☛✡✄✌✄☎☛ ✲✬ ✂✌☎✂ ✂☛✍ ✮✶✰ ✌☎☛ ☛☎✄ ✂✌☛✍✠✄ ✂✁☛☛✡✄ ☞✝☎✂ ✡✝ ✆✍✌✘✌☎☞✄☛✍ ☞✄ ✡✥✝✧✛
☞✌✌✄☎✓ ☛✌☛✂ ✡✄✂ ✝☛☛✍✄✂ ✡☛✝☎☛ ✆✡✝✠✡✂ ✂☛✍ ✡✄ ✆✍✄✌✁✄✍ ☎✁✟✄✝☛ ✴

z = 1✵ ☞☛ ✆✝✍✝✡✡✡✡✡✆✁✆✔☞✄ ☞✄✂ ✂✌✡☛☛✁✌☎✂
✆✌✂✂✁✧✡✄✂✎ ✢✄ ✆✌✂✁☛✁✌☎☎✄✌✄☎☛ ☞✄ ✡✝ ✂✌☛✍✠✄ ✂✌☎✌✍✄ ☞✝☎✂ ✡✄ ✆✡✝☎ ☞✄✂ ✠✝✆☛✄☛✍✂ ✴✂✌✡☛☛✁✌☎ ✏☛✁ ✝✂✂☛✍✄
☞✄✂ ☞✁✂☛✝☎✠✄✂ ☞✄ ✆✍✌✆✝✞✝☛✁✌☎ ✌✁☎✁✌✝✡✄✂✵ ✁☎☞✁✏☛✄ ✏☛✄ ✡✥✝☛✞✌✄☎☛✝☛✁✌☎ ☞✄ ✡✥✄✍✍✄☛✍ ☞✄ ✌✌☞✡✡✁✂✝☛✁✌☎
✴✄☛ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎✓ ✆✝✍ ✠✌☎✂✡✏☛✄☎☛✵ ✄✂☛ ✡✁✡✄ ✤ ✡✥✝☛✞✌✄☎☛✝☛✁✌☎ ☞✄✂ ☞✁✂☛✝☎✠✄✂ ✒ ✡✄✂ ✄✂☛✁✌✡✄✂ ☞✄ ✡✝
✆☛✁✂✂✝☎✠✄ ✂✌☎✌✍✄ ☞✥☛☎✄ ✂✌☛✍✠✄ ✂✁☛☛✡✄ ☞✝☎✂ ✡✝ ✆✍✌✘✌☎☞✄☛✍ ☞✄ ✡✥✝✧☞✌✌✄☎ ✂✌☎☛ ☛✄✡✡✄✌✄☎☛ ✌✝☛✟✝✁✂✄✂
✏☛✄ ✡✝ ✟✡✍✁☛✝✧✡✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ☎✄ ✂✄✍✝ ✬✝✌✝✁✂✓ ✌☛ ☛✍✔✂ ✍✝✍✄✌✄☎☛✓ ☛✍✌☛✟✡✄✎

☎✏✓✘✦✔✜✘✍✔✏✌ ✚✣✙✔✎✔★✒✚✥ ✎☛ ✟☛ ☞✄✂ ✍✡✂☛✡☛✝☛✂ ✆✍✡✠✡☞✄☎☛✂✓ ✌☎ ✆✄☛☛ ✝☎✍✌✄✍ ✏☛✄ ✡✝ ✌✡☛☞✌☞✄ ☞✄
✡✌✠✝✡✁✂✝☛✁✌☎ ☞✄✂ ✂✌☛✍✠✄✂ ✂✌☎✌✍✄✂ ✤ ✡✥✁☎☛✡✍✁✄☛✍ ☞✄ ✡✥✝✧☞✌✌✄☎ ✄☎ ✠✌☎✂✁☞✡✍✝☎☛ ☛☎ ✌✁✡✁✄☛ ☞✄ ✆✍✌✆✝✞✝✛
☛✁✌☎ ✁✂✌☛✍✌✆✄ ✴✌✡☛☞✌☞✄ ✌✁✂✄ ✄☎ ✆☛✟✍✄ ✆✝✍ ✠✍✝✁☎✄ ☎✟ ✁✄✏ ✝✭✫✞✵ ✄✂☛ ✁☎✝✆✆✡✁✠✝✧✡✄✓ ✠✝✍ ✡✄✂ ☞✒✆✌☛☞✔✂✄✂
✂✌☎☛ ✡✌✁☎ ☞✄✂ ✠✌☎☞✁☛✁✌☎✂ ✍✡✄✡✡✄✂✎ ✑✡✝☎✌✌✁☎✂✓ ✡✄✂ ✝☛☛✄☛✍✂ ☞✄ ✝✭✫✞ ☛☛✁✡✁✂✄☎☛ ✠✄☛☛✄ ✌✡☛☞✌☞✄ ✄☛ ✡✄✂
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✘✌☎✠☛✁✌☎☎✄✡✡✄✂ ☞✁✞✄✂☛✁✟✄✂✎ ✖✄✡✌☎ ☎✌☛✍✄ ✄✯✆✡✍✁✄☎✠✄✓ ✡✥✝✆✆✡✁✠✝☛✁✌☎ ☞✄ ✠✄☛☛✄ ✌✡☛☞✌☞✄ ✴✝☞✝✆☛✡✄ ✆✌☛✍
✡✄✂ ✪ ✠✝✆☛✄☛✍✂✵ ✆✄✍✌✄☛ ☞✥✌✧✂✄✍✟✄✍ ☞✄✂ ✟✝✍✁✝☛✁✌☎✂ ☞✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✝☛ ✠✌☛✍✂ ☞☛ ☛✄✌✆✂✎ ✗✝✍
✄✯✄✌✆✡✄✓ ✡✄ ☎✌✌✧✍✄ ☞✄ ✂✌☎✂ ✆✝✍ ✂✡✏☛✄☎✠✄ ☞✄ ✯ ✌✁☎☛☛✄✂ ✄☛ ✆✝✍ ☛☎✁☛✡ ☞✄ ✟✌✡☛✌✄ ✴✟✌✁✍ ✷✞☛✍✄ ✮✎✰
✆✌☛✍ ✡✝ ☞✡✷☎✁☛✁✌☎ ☞✄✂ ☛☎✁☛✡✂ ☞✄ ✟✌✡☛✌✄✵ ✟✝✍✁✄ ☞☛✍✝☎☛ ✡✄✂ ✂✡✏☛✄☎✠✄✂ ✂☛✠✠✄✂✂✁✟✄✂ ☞✥☛☎ ✆☞✌☎✌✄☎✛
☛✡✍✌✞✍✝✌✌✄ ☞✄ ✭ ☞✄☛✍✄✂✓ ✠✌✌✌✄ ✌✌☎☛✍✡ ✷✞☛✍✄ ✮✎✲✲✎ ✎☎ ✆✄☛☛ ☞✌☎✠ ✝☎✍✌✄✍ ✏☛✄✓ ✌✫✌✄ ✂✁ ✡✝
✂✌☛✍✠✄ ✂✌☎✌✍✄ ✄✂☛ ✌✝✡ ✡✌✠✝✡✁✂✡✄✓ ✡✥✝✠☛✁✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄ ☞✡☛✄✠☛✡✄ ✟✝✍✁✄ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎
✂✆✝☛✁✝✡✄ ✄☛ ✠✄☛☛✄ ✟✝✍✁✝☛✁✌☎ ✄✂☛ ✌✄✂☛✍✝✧✡✄ ✂✁ ✌☎ ☛☛✁✡✁✂✄ ✆✡☛✂✁✄☛✍✂ ✠✝✆☛✄☛✍✂✎ ✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ✁✡ ✒ ✝
☛☎✄ ✁☎✘✌✍✌✝☛✁✌☎ ✤ ✄✯☛✍✝✁✍✄ ✤ ✆✝✍☛✁✍ ☞✄ ✠✄✂ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ✌☛✡☛✁✛✟✌✁✄✂✓ ✄☛ ✄✡✡✄ ✄✂☛ ✁☎☛✡✍✄✂✂✝☎☛✄ ☞☛
✆✌✁☎☛ ☞✄ ✟☛✄ ✆☞✒✂✁✌✡✌✞✁✏☛✄✎

✬✞✮ ✡☛✝✒✟☞✔ ✱ ✄ ✡ ✬✓✮ ✡☛✝✒✟☞✔ ✡✳ ✄ ✳✚ ✬✢✮ ✡☛✝✒✟☞✔ ✱☛☛ ✄ ✱✁✱

✁✂✄☎ ✮✎✲✲ ✄ ✄✕☞✡✗✏☞ ✑☞ ✫✞✎☛✞✟☛✠✝ ✔✗✞✟☛✞✏☞ ✑☞ ✏❂✞✢✟☛✫☛✟✍ ✞✓✑✠✡☛✝✞✏☞ ✞✒ ✢✠✒✎✔ ✑❂✒✝ ☞✝✎☞✌☛✔✟✎☞✡☞✝✟ ✑☞ ✏✠✝✌✒☞✑✒✎✍☞✘ ★❂☛✝✑☛✢☞ ✒✟☛✏☛✔✍ ☞✔✟ ✏☞ ✝✠✡✓✎☞ ✑☞ ✔✠✝✔ ✌✍✝✍✎✍✔ ✑✞✝✔ ✒✝☞ ✒✝☛✟✍ ✑☞ ✫✠✏✒✡☞✭ ✑✍✠✝☛☞ ✢✠✡✡☞ ✔✒✎ ✏✞ ✠✌✒✎☞ ✚✘✲✘★☞✔ ✞✠✝☞✔ ✏☞✔ ✗✏✒✔ ✞✢✟☛✫☞✔ ✔✠✝✟ ✢✏✞☛✎☞✔✭ ✞✏✠✎✔ ❃✒☞ ✏☞✔ ✞✠✝☞✔ ✗☞✒ ✞✢✟☛✫☞✔ ✔✠✝✟ ✔✠✡✓✎☞✔✘ ★✞ ✡✍✟✰✠✑☞ ✑☞ ✏✠✢✞✏☛✔✞✟☛✠✝✬✡✪✡☞ ☞✎✎✠✝✍☞✭ ✢✞✎ ☞✏✏☞ ✕✞☛✟ ✏❂✰✠✗✠✟✰❄✔☞ ✑❂✒✝ ✡☛✏☛☞✒ ✑☞ ✗✎✠✗✞✌✞✟☛✠✝ ☛✔✠✟✎✠✗☞✮ ✑✍✟☞✢✟☞ ✑☞✔ ✢✰✞✝✌☞✡☞✝✟✔ ✑✒✎✞✝✟ ✏✞✑☛✌☞✔✟☛✠✝✘
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Ii = Psf(di),
✴✮✎✫✫✵
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✄✂☛ ☛☎✄ ✘✌☎✠☛✁✌☎ ✌✌☎✌☛✌☎✄ ☞✡✠✍✌✁✂✂✝☎☛✄☎✁ ✎ ✰☎ ✌✫✌✄ ☛✄✌✆✂✓ ✠✄ ✌✌☞✔✡✄ ✞✡☎✡✍✝✡ ✄✂☛ ✆✡☛✂
✆✍✌✠☞✄ ☞✄ ✡✥✄✯✆✡✍✁✄☎✠✄ ✌✡☞✁✠✝✡✄ ✄☛ ✁✡ ✄✂☛ ✠✌☛✍✝✌✌✄☎☛ ✄☛ ✁✌✆✡✁✠✁☛✄✌✄☎☛ ☛☛✁✡✁✂✡ ✄☎ ✍✌☛☛✁☎✄ ✠✡✁☎✁✏☛✄✎
✕✡ ✂✄ ☛✍✝☞☛✁☛ ✆✝✍ ☛☎✄ ✍✔✞✡✄ ✂✁✌✆✡✄✓ ✏☛✄ ☎✌☛✂ ✝✟✌☎✂ ☞✡✠✁☞✡ ☞✥☛☛✁✡✁✂✄✍ ✆✌☛✍ ✡✝ ✡✌✠✝✡✁✂✝☛✁✌☎ ✒ ✡✝ ✂✌☛✍✠✄
☞✥☛☎ ✂✌☎ ✝✧☞✌✌✁☎✝✡ ✂✄ ☛✍✌☛✟✄ ☞✝☎✂ ✡✄ ✟✌✁✂✁☎✝✞✄ ☞☛ ✂☛✡☛☞✌✂✠✌✆✄ ✝✒✝☎☛ ✄☎✍✄✞✁✂☛✍✡ ✡✄ ✂✁✞☎✝✡ ✡✄ ✆✡☛✂
✘✌✍☛✎

✝✝✖☞ ✡✠✑❄✏☞✭ ✡✪✡☞ ✔❂☛✏ ✝☞ ✕✞☛✟ ✗✏✒✔ ✏❂✰✠✗✠✟✰❄✔☞ ✑❂✒✝ ✡☛✏☛☞✒ ☛✔✠✟✎✠✗☞✭ ✢✠✝✔☛✑❄✎☞ ❃✒✞✝✑ ✡✪✡☞ ❃✒☞ ✏✞ ✕✠✝✢✟☛✠✝ f✬✺ ✵✹✽✶✹✽ ✑☛✔✢✠✝✟☛✝✒☞✮ ☞✔✟ ✏✞ ✡✪✡☞ ✑✞✝✔ ✟✠✒✟☞✔ ✏☞✔ ✑☛✎☞✢✟☛✠✝✔✘ ✖☞✗☞✝✑✞✝✟✭ ☛✏ ✝❂☛✡✗✠✔☞ ✗✞✔ ✒✝☞ ✏✠☛ ✑☞ ✗✎✠✗✞✌✞✟☛✠✝✭☛✏ ☞✔✟ ✑✠✝✢ ✗✏✒✔ ✌✍✝✍✎✞✏ ❃✒☞ ✏☞✔ ✗✎✍✢✍✑☞✝✟✔✘
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☞✁✍✄ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✄✌✆✡✌✒✡✄✂ ✆✌☛✍ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ✌✡☞✁✠✝✡✄ ☞✄✂ ✂✁✞☎✝☛✯ ☞✥✁☎☛✡✍✫☛ ✒ ✁✡ ✂✥✝✞✁☛
☞✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✴✟✌✁✍ ✂✄✠☛✁✌☎ ✮✎✲✎✫✵✓ ☛☛✁✡✁✂✡✂ ✆✌☛✍ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ✞✡✌✧✝✡✄ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ☞✄
✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✓ ✄☛ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ✴✟✌✁✍ ✂✄✠☛✁✌☎ ✮✎✲✎✲✵✓ ✆✌☛✍ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ✡✌✛
✠✝✡✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✆✍✁✂ ✁☎☞✁✟✁☞☛✄✡✡✄✌✄☎☛✎ ✠✄☛☛✄ ✂✌✡☛☛✁✌☎✓ ✌✫✌✄ ✂✁ ✄✡✡✄ ☎✥✄✂☛ ✆✝✂ ✍✁✞✌☛✍✄☛✂✄
✴✠✝✍ ✌☎ ✆✌☛✍✍✝✁☛ ✄☎✟✁✂✝✞✄✍ ☛☎ ✠☞✌✁✯ ✁☎✁☛✁✝✡ ☞✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ✧✝✂✡ ✂☛✍ ✡✝ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎ ✄☎
✌☎☞✄✡✄☛☛✄✂ ☞✄✂ ✂✁✞☎✝☛✯✵✓ ✝ ✡✥✝✟✝☎☛✝✞✄ ☞✥✫☛✍✄ ✟✝✡✁☞✡✄ ✆✝✍ ✡✥✄✯✆✡✍✁✄☎✠✄ ✴✌✡☞✁✠✝✡✄✓ ☞✝☎✂ ☎✌☛✍✄ ✠✝✂✵ ✄☛

✝✂✂☛✍✄ ☛☎✄ ✍✄✡✝☛✁✟✄ ✆✄✍☛✁☎✄☎✠✄ ☞✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ✂✡✡✄✠☛✁✌☎☎✡✄✂✎
✠✄✆✄☎☞✝☎☛✓ ✡✄✂ ☞✁✆✡✍✄☎☛✄✂ ✂✌☛✍✠✄✂ ✧✁✧✡✁✌✞✍✝✆☞✁✏☛✄✂ ☎✄ ✂✥✝✠✠✌✍☞✄☎☛ ✆✝✂ ✂☛✍ ✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂

✤ ☛☛✁✡✁✂✄✍ ✆✌☛✍ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ☞✄✂ ✂✁✞☎✝☛✯✎ ✠✄☛☛✄ ✌✧✂✄✍✟✝☛✁✌☎ ✄✂☛ ✂☛✍☛✌☛☛ ✟✝✡✝✧✡✄ ☞✝☎✂ ✡✄ ✠✝✂ ☞✄✂
✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ☛☛✁✡✁✂✡✂ ✆✌☛✍ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ✞✡✌✧✝✡✄ ☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✎ ✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓
☎✌☛✂ ✠✌☎✂✁☞✡✍✌☎✂ ☎✡✠✄✂✂✝✁✍✄ ☛☎✄ ✡☛☛☞✄ ☞✄ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂ ✁☎☞✁✠✄✂ ✆✍✡✂✄☎☛✡✂ ☞✝☎✂ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄
✝✷☎ ☞✥✡✡✁✌✁☎✄✍ ✡✄✂ ✍✄☞✌☎☞✝☎✠✄✂ ✄☛ ☞✄ ✠✌☎✂☛✍☛✁✍✄ ☛☎ ✄✂✆✝✠✄ ☞✄ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎ ✝☞✡✏☛✝☛✎ ✎ ☎✌☛✍✄
✠✌☎☎✝✁✂✂✝☎✠✄✓ ✂✄☛✡✂ ✠✍✝✁☎✄ ☎✟ ✁✄✏ ✝✭✲✞ ✡☛☛☞✁✄☎☛ ✡✝ ✍✄☞✌☎☞✝☎✠✄ ☞✄✂ ☞✁✆✡✍✄☎☛✂ ✁☎☞✁✠✄✂✓ ✆✌☛✍ ☛✍✌☛✟✄✍
☞✄ ✘✌✍☛✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✄☎☛✍✄ ✡✄ ☎✌✌✧✍✄ ☞✄ ✂✌☎✂ ✆✝✍ ✌✁☎☛☛✄ ✴

Nm
✵ ✄☛ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂ ✂✌☎✂ ✆✝✍

✌✁☎☛☛✄ ✴
Dm

✵✓ ✝☎☛✁✛✠✌✍✍✡✡✡✂ ✝✟✄✠ ✡✝ ☞☛✍✡✄ ✌✌✒✄☎☎✄ ☞✄ ✡✥✁☎☛✄✍✟✝✡✡✄ ☞✄ ✂✁✡✄☎✠✄ ✄☎☛✍✄ ☞✄☛✯ ✂✌☎✂ ✴
Ds,µ

✵✎
✠✌☎✠✄✍☎✝☎☛ ✡✥✝☎✝✡✒✂✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✁☎☞✁✟✁☞☛✄✡✂✓ ✡✝ ☞✄✂✠✍✁✆☛✁✌☎ ✌✡☞✁✠✝✡✄ ✡✝ ✆✡☛✂ ✆✍✡✠✁✂✄

✄✂☛ ✝✯✡✄ ✂☛✍ ✡✄✂ ☛✍✌✁✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ✒ ✡✝ ☞☛✍✡✄✓ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✄☛
✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄✎ ✠✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂ ✂✌☎☛ ☞✥✝✁✡✡✄☛✍✂ ✂✌☛✟✄☎☛ ☛☛✁✡✁✂✡✄✂ ✆✌☛✍ ✡✥✝☎✝✛
✡✒✂✄ ☞✄✂ ✂✁✞☎✝☛✯ ✂✌☎✌✍✄✂ ✄☎ ✞✡☎✡✍✝✡✓ ✠✝✍ ✄✡✡✄✂ ✂✌☎☛ ✆✍✌✠☞✄✂ ☞✄ ✠✄ ✏☛✥✌☎ ✝✆✆✄✡✡✄ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂
✆✄✍✠✄✆☛☛✄✡✡✄✂ ✴☎☎☛✄☎☎✟✂✁✄ ✞☎✁✟✂☛☎✝✵✓ ✠✌✌✌✄ ✡✄ ☎✠✟✄✁ ✌☛ ✡✝ ✄✂✂✆✁☎✝✝ ✝✶✬✞✎ ✙✥✝☛☛✍✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝✛
☛✁✟✄✂✓ ☛✌☛✬✌☛✍✂ ✝✟✄✠ ☛☎✄ ✂✁✞☎✁✷✠✝☛✁✌☎ ✆☞✒✂✁✏☛✄✓ ✆✄☛✟✄☎☛ ✫☛✍✄ ✄✌✆✡✌✒✡✄✂ ✒ ✁✡ ✂✥✝✞✁☛ ☞✄ ✡✝ ✆☛✁✂✂✝☎✠✄
☞✥☛☎ ✂✌☎ ✌☛ ☞✄ ✂✌☎ ✡☎✄✍✞✁✄✓ ✌☛ ✄☎✠✌✍✄ ☞☛ ☎✌✌✧✍✄ ☞✄ ✆✝✂✂✝✞✄✂ ✆✝✍ ✳✡✍✌ ✴✡✁✡ ✤ ✡✝ ✘✍✡✏☛✄☎✠✄✓ ☞✝☎✂
✡✄ ✠✝✂ ☞✄✂ ✂✌☎✂ ✤ ✠✌☎☛✄☎☛ ✘✍✡✏☛✄☎☛✁✄✡ ✆✝☛✟✍✄✵✎

✑✌☛✂ ✆✍✌✆✌✂✌☎✂ ☞✝☎✂ ✡✝ ✂☛✁☛✄ ☞✄ ✠✄☛☛✄ ✂✄✠☛✁✌☎ ☞✥✡☛☛☞✁✄✍ ✡✄✂ ✍✄☞✌☎☞✝☎✠✄✂ ✆✌✂✂✁✧✡✄✂ ✄☎☛✍✄ ✡✄✂

✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ✂☛✍ ☛☎ ✄✯✄✌✆✡✄ ☞✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄ ✍✡✄✡✓ ✝✷☎ ☞✄ ✠✌☎✂☛✍☛✁✍✄ ✡✄✂ ✄✂✆✝✠✄✂

☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✝☞✡✏☛✝☛✂✎ ✑✌☛✂ ✝✧✌✍☞✌☎✂ ✂☛✠✠✄✂✂✁✟✄✌✄☎☛ ✡✄ ✠✝✂ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ☞✄ ✆☞✌☎✌✄☎☛✡✛
✍✌✞✍✝✌✌✄✓ ☞✡✠✍✁☛✄✂ ✆✝✍ ✡✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡✓ ✄☛ ✠✄✡☛✁ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✁☎☞✁✟✁☞☛✄✡✂ ✴✡✟✡☎✄✛
✌✄☎☛✂✵✓ ☞✡✠✍✁☛✂ ✆✝✍ ✡✄☛✍✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✆☞✒✂✁✏☛✄✂✎

☞✌✑✔✓✚✜ ✑✆✘✓✍✔✂✔✍✧
✢✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✠✌☎✂✁☞✡✍✡✂ ✂✌☎☛ ✠✄☛✯ ☞✡✷☎✁✂ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✮✎✲✎✫ ✴✡✥☛☎✁☛✡ ☞✄ ☛✄✌✆✂ ✄✂☛

✡✝ ✌✁☎☛☛✄✵ ✒
✲✎ ✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂ Nm

✝

✫✎ ✡✥✡☎✄✍✞✁✄ ☛✌☛✝✡✄ Em
✝

✭✎ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✴✄☎ ✆✌☛✍✛✠✄☎☛✵ Dm
✝

✮✎ ✡✥✡☎✄✍✞✁✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Eµ
✝

✶✎ ✡✝ ☞☛✍✡✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Dµ
✝

✪✎ ✡✝ ✆☛✁✂✂✝☎✠✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Pµ
✝

✲✲✪
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✯✎ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ fµ
✝

✷✎ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Iµ
✝

✰✎ ✡✝ ☞☛✍✡✄ ✌✌✒✄☎☎✄ ☞✄✂ ✂✁✡✄☎✠✄✂ ✂✡✆✝✍✝☎☛ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ Ds,µ
✎

✎ ☛✁☛✍✄ ☞✥✄✯✄✌✆✡✄✓ ✡✥✡✟✌✡☛☛✁✌☎ ✝☛ ✠✌☛✍✂ ☞☛ ☛✄✌✆✂ ☞✄✂ ☎✄☛✘ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✠✝✡✠☛✡✡✂ ✂☛✍ ☛☎✄
✟✌✁✄ ✴☎✌✎ ✮✵ ✄✂☛ ✆✍✡✂✄☎☛✡✄ ✷✞☛✍✄ ✶✎✲✎ ✮☎ ✝☛☛✍✄ ✄✯✄✌✆✡✄✓ ✠✌☎✠✄✍☎✝☎☛ ✡✄✂ ✟✝✡✄☛✍✂ ✆✍✁✂✄✂ ✂☛✍ ✡✄✂ ✪
✟✌✁✄✂ ✆✝✍ ☛☎ ✂✄☛✡ ✁☎☞✁✠✄ ✴✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂ ✆✝✍ ✌✁☎☛☛✄ Nm

✵ ✝ ✡☛✡ ✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✮✎✪✓ ✆✝✞✄✰✯✎
✑✌☛✂ ✠✌☎✂✁☞✡✍✌☎✂ ✠✌✌✌✄ ✂✁✞☎✝✡ ☞✄ ☛✍✝✟✝✁✡ ✡✄ ✌✫✌✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄ ✏☛✄ ☎✌☛✂ ✝✟✌☎✂ ☛☛✁✡✁✂✡

✆✌☛✍ ☛✄✂☛✄✍ ✡✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ☞✄ ✍✄✛✂✄✞✌✄☎☛✝☛✁✌☎ ✄☛ ☞✄ ✡✌✠✝✡✁✂✝☛✁✌☎ ☞☛ ✠☞✝✆✁☛✍✄ ✆✍✡✠✡☞✄☎☛✎ ✕✡ ✂✥✝✞✁☛
☞✥☛☎ ✄☎✍✄✞✁✂☛✍✄✌✄☎☛ ✂☛✍ ✪ ✟✌✁✄✂ ☞✥✄☎✟✁✍✌☎ ✲✪✷ ✌✁☎☛☛✄✂ ✴✲✫ ✂✡✏☛✄☎✠✄✂ ✤

222 ✆✌✁☎☛✂✓ ✤ ☛☎✄ ✘✍✡✏☛✄☎✠✄
☞✥✡✠☞✝☎☛✁✡✡✌☎☎✝✞✄ ☞✄ ✶✬✬✬ ✭✳✎✵✎ ✢✄✂ ☞✌☎☎✡✄✂ ✴✡✄✂ ✁☎☞✁✟✁☞☛✂✵ ✂✌☎☛ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ☞✥☛☎✄ ✌✁☎☛☛✄✓ ✆✌☛✍
✡✄✂✏☛✄✡✡✄✂ ☎✌☛✂ ✝✟✌☎✂ ✠✝✡✠☛✡✡ ✡✄✂ ☎✄☛✘ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✡☎☛✌✡✍✡✂ ✠✁✛☞✄✂✂☛✂✎ ✑✌☛✂ ✌✧☛✄☎✌☎✂ ☞✌☎✠
☛☎ ✄☎✂✄✌✧✡✄ ☞✄ 168 · 6 = 1008 ✆✌✁☎☛✂ ☞✝☎✂ ☛☎ ✄✂✆✝✠✄ ✰✛☞✁✌✄☎✂✁✌☎☎✄✡✎ ✢✥✄☎✂✄✌✧✡✄ ☞✄✂ ☞✌☎☎✡✄✂
✠✌☎✂☛✁☛☛✄ ☛☎✄ ✌✝☛✍✁✠✄ D ☞✄ ☞✁✌✄☎✂✁✌☎ 1008 × 9✎✢✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✁✍✄✠☛✄ ☞✄✂ ✰ ✠✌☛✍✧✄✂ ✆✍✡✂✄☎☛✡✄✂ ✷✞☛✍✄ ✶✎✲ ✄✂☛ ☞✁☎✠✁✡✄✎ ✶✌☛☛✄✘✌✁✂✓ ✌☎ ✝✆✄✍✩✌✁☛
✠✄✍☛✝✁☎✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✄☎☛✍✄ ✡✄✂ ✁☎☞✁✠✄✂✎ ✗✝✍ ✄✯✄✌✆✡✄✓ ✡✥✡✟✌✡☛☛✁✌☎ ☞☛ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂ ✆✝✍
✌✁☎☛☛✄ Nm

✂✄✌✧✡✄ ✡✁✡✄ ✤ ✠✄✡✡✄ ☞✄ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂ ✂✌☎✂ Dm
✎ ✢✥✡☎✄✍✞✁✄ ☛✌☛✝✡✄ ✆✝✍ ✌✁☎☛☛✄ Em✂✄✌✧✡✄ ✝☛✂✂✁ ✠✌✍✍✡✡✡✄ ✤ ✡✥✡☎✄✍✞✁✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Eµ
✎ ✮☎✄ ✍✄✌✝✍✏☛✄ ✆✡☛✂ ✁☎☛✡✍✄✂✂✝☎☛✄

✆✄☛☛ ✫☛✍✄ ✘✝✁☛✄ ✤ ✆✍✌✆✌✂ ☞✄ ✡✝ ☞☛✍✡✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Dµ
✄☛ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ Dm

✒ ✠✄✂
✁☎☞✁✠✄✂ ✂✄✌✧✡✄☎☛ ✝✂✂✄✳ ✠✌✍✍✡✡✡✂ ☞✝☎✂ ✡✝ ✆✍✄✌✁✔✍✄ ✆✝✍☛✁✄ ☞✄ ✡✥✄☎✍✄✞✁✂☛✍✄✌✄☎☛✓ ✌✝✁✂ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄

✝☛✞✌✄☎☛✄ ✄☎☛✍✄ ✡✄✂ ✌✁☎☛☛✄✂ ✰✬ ✄☛ ✲✭✬ ✂✝☎✂ ✫☛✍✄ ✂☛✁✟✁✄ ✆✝✍ ✡✥✝☛✞✌✄☎☛✝☛✁✌☎ ☞✄ ✡✝ ☞☛✍✡✄ ✌✌✒✄☎☎✄
☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✴✝☛ ✠✌☎☛✍✝✁✍✄✓ ✄✡✡✄ ✄✂☛ ✠✌✍✍✡✡✡✄ ✝✟✄✠ ✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂✵✎ ✮☎✄ ✁☎☛✄✍✆✍✡☛✝☛✁✌☎
✆✌✂✂✁✧✡✄ ✄✂☛ ✡✄ ✠☞✝☎✞✄✌✄☎☛ ☞☛ ☛✒✆✄ ☞✥✝✠☛✁✟✁☛✡ ✄☎☛✍✄ ✡✄✂ ✌✁☎☛☛✄✂ ✯✬ ✄☛ ✰✬ ✒ ✂✁ ✡✥✌☎ ✝✟✝✁☛✓ ✄☎☛✍✄ ✡✄✂
✌✁☎☛☛✄✂ ✭✬ ✄☛ ✯✬✓ ☛☎✄ ✝✠☛✁✟✁☛✡ ✏☛✁ ✂✄ ✌✝☎✁✘✄✂☛✝✁☛ ✆✝✍ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ☞✄ ✆✡☛✂ ✡✌☎✞☛✄ ☞☛✍✡✄✓ ✌☎ ✝
☞✄✂ ✂✌☎✂ ✆✡☛✂ ☎✌✌✧✍✄☛✯ ✌✝✁✂ ✆✡☛✂ ✠✌☛✍☛✂ ✄☎☛✍✄ ✡✄✂ ✌✁☎☛☛✄✂ ✰✬ ✄☛ ✲✭✬✎

✮☎ ✆✍✌✧✡✔✌✄ ✁✌✆✌✍☛✝☎☛✓ ✌☛☛✍✄ ✡✄✂ ☞✁☎✠☛✡☛✡✂ ☞✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎✓ ✄✂☛ ✏☛✄ ✡✄✂ ✟✝✍✁✝☛✁✌☎✂ ☞✄✂ ✁☎☞✁✠✄✂
☞✥✝✠☛✁✟✁☛✡ ✆✍✡✂✄☎☛✡✄✂ ✷✞☛✍✄ ✶✎✲ ✂✌☎☛ ✆✡☛☛✌☛ ✂✆✡✠✁✷✏☛✄✂ ✤ ✠✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✓ ✡✄✂ ☞✁✆✡✍✄☎✠✄✂
✁☎☛✄✍✛✆✝☛✁✄☎☛✂ ✡☛✝☎☛ ✁✌✆✌✍☛✝☎☛✄✂✎ ✠✄☛☛✄ ✌✧✂✄✍✟✝☛✁✌☎ ✂☛✞✞✔✍✄ ✏☛✥✁✡ ✄✂☛ ✆✄☛☛✛✫☛✍✄ ☛☛✁✡✄ ☞✄ ☛✍✝✁☛✄✍
✄☎ ✌✫✌✄ ☛✄✌✆✂ ✆✡☛✂✁✄☛✍✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✓ ✝✷☎ ☞✄ ✌✌✒✄☎☎✄✍ ✡✄✂ ☞✁✆✡✍✄☎✠✄✂ ✄☛ ☞✥✄✯☛✍✝✁✍✄
✡✥✡✟✄☎☛☛✄✡✡✄ ✁☎✘✌✍✌✝☛✁✌☎ ✠✌☎☛✄☎☛✄✎ ✢✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ✍✁✂✏☛✄ ☞✄ ☞✄✟✄☎✁✍ ✄☎✠✌✍✄ ✆✡☛✂ ☞✁☎✠✁✡✄ ✏☛✝☎☞
✡✥✄✯✆✄✍☛ ☞✌✁☛ ✆✍✄☎☞✍✄ ✄☎ ✠✌✌✆☛✄ ☛☎✄ ✏☛✝☎☛✁☛✡ ☛✍✌✆ ✞✍✝☎☞✄ ☞✥✁☎✘✌✍✌✝☛✁✌☎✎

✮☎✄ ✂✌✡☛☛✁✌☎ ✄✂☛ ✡✥✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂✓ ✏☛✄ ☎✌☛✂ ✝✆✆✡✁✏☛✌☎✂ ✤ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂
☞✌☎☎✡✄✂ ☞✁✂✆✌☎✁✧✡✄✂✎ ✗✌☛✍ ✡✥✁☎✂☛✝☎☛✓ ✁✡ ✂✥✝✞✁☛ ☞✥☛☎ ☎✌✌✧✍✄ ✍✡☞☛✁☛ ☞✥✄☎✍✄✞✁✂☛✍✄✌✄☎☛✂ ✄ ✭ ✆☞✌☎✌✄☎✛
☛✡✍✌✞✍✝✌✌✄✂ ✌☛✡☛✁✛✟✌✁✄✂ ☞✄ ✲✪✷ ✌✁☎☛☛✄✂ ✠☞✝✠☛☎✓ ☞✌☎✠ ☛☎ ☛✌☛✝✡ ☞✄ ✭✬✫✮ ✂✡✏☛✄☎✠✄✂ ☞✥☛☎✄ ✌✁☎☛☛✄✓
✠✝✍✝✠☛✡✍✁✂✡✄✂ ✆✝✍ ✡✄✂ ✰ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡✎ ✗✌☛✍ ✍✡☞☛✁✍✄ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄ ✄☛ ✆✌☛✍ ☞✡✟✌✁✡✄✍
✡✄✂ ✍✄☞✌☎☞✝☎✠✄✂ ✡✟✄☎☛☛✄✡✡✄✂ ✄☎☛✍✄ ✡✄✂ ☎✄☛✘ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂✓ ☎✌☛✂ ✝✟✌☎✂ ✠✝✡✠☛✡✡ ✡✄☛✍ ✌✝☛✍✁✠✄

☞✄ ✠✌✍✍✡✡✝☛✁✌☎ ✴✡✄✂ ✠✌✄☎✠✁✄☎☛✂✓ ✌☛✡☛✁✆✡✁✡✂ ✆✝✍ ✲✬✬ ✄☛ ✝✍✍✌☎☞✁✂✓ ✂✌☎☛ ✆✍✡✂✄☎☛✡✂ ☛✝✧✡✄✝☛ ✶✎✲✵✎
✮☎✄ ✆✍✄✌✁✔✍✄ ✡✄✠☛☛✍✄ ☞✄ ✡✝ ✌✝☛✍✁✠✄ ☞✄ ✠✌✍✍✡✡✝☛✁✌☎ ✴☛✝✧✡✄✝☛ ✶✎✲✵ ✠✌☎✷✍✌✄ ✡✄ ✠✌☎✂☛✝☛ ✝☎☛✡✍✁✄☛✍

✂☛✍ ✡✄ ✡✁✄☎ ✄☎☛✍✄ ✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂ ✆✝✍ ✌✁☎☛☛✄ Nm
✄☛ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✆✝✍

✌✁☎☛☛✄ Dm ✓ ✝✁☎✂✁ ✏☛✥☛☎✄ ✠✌✍✍✡✡✝☛✁✌☎ ✍✄✡✝☛✁✟✄✌✄☎☛ ✁✌✆✌✍☛✝☎☛✄ ✄☎☛✍✄ ✡✥✡☎✄✍✞✁✄ ✆✝✍ ✌✁☎☛☛✄ Em✄☛ ✡✥✡☎✄✍✞✁✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✆✝✍ ✌✁☎☛☛✄ Eµ
✎ ✙✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✌✌✁☎✂ ✁✌✆✌✍☛✝☎☛✄✂ ✂✌☎☛

✟✁✂✁✧✡✄✂ ✄☎☛✍✄ ✡✥✁☎☛✄☎✂✁☛✡ ✝✠✌☛✂☛✁✏☛✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Iµ
✄☛ ✡✄☛✍ ✆☛✁✂✂✝☎✠✄ ✌✌✒✄☎☎✄ Pµ ✓

✝✁☎✂✁ ✏☛✥✄☎☛✍✄ ✠✄ ☞✄✍☎✁✄✍ ✁☎☞✁✠✄ ✄☛ ✡✥✡☎✄✍✞✁✄ ✌✌✒✄☎☎✄ Eµ
✎ ✎☛ ✠✌☎☛✍✝✁✍✄✓ ✡✄✂ ☞☛✍✡✄✂ ✌✌✒✄☎☎✄✂ ☞✄✂

✡✟✡☎✄✌✄☎☛✂ Dµ
✄☛ ☞✄✂ ✂✁✡✄☎✠✄✂ Ds,µ

✂✄✌✧✡✄☎☛ ✆✄☛ ✠✌✍✍✡✡✡✄✂ ✝✟✄✠ ✡✄✂ ✝☛☛✍✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂✓
☞✌☎✠ ✡✄☛✍ ✆✌☛✄☎☛✁✄✡ ✁☎✘✌✍✌✝☛✁✘ ✌✡✍✁☛✄ ☞✥✫☛✍✄ ✡☛☛☞✁✡✎ ✶✌☛✂ ✠✄✂ ✠✌☎✂☛✝☛✂ ✠✌☎✷✍✌✄☎☛ ✡✥☛☛✁✡✁☛✡ ☞✄ ✡✝
✍✡☞☛✠☛✁✌☎ ☞✄ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄ ☞✄ ☞✌☎☎✡✄✂ ✆✝✍ ✡✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄ ✡✝ ✍✄☞✌☎☞✝☎✠✄✎

✲✲✯
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✁✂✄☎ ✶✎✲ ✄ ✄✕☞✡✗✏☞ ✑☞ ✫✞✎☛✞✟☛✠✝✔ ✑☞✔ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ✗✠✒✎ ✏✞ ✫✠☛☞ ✝✒✡✍✎✠ ✚✘ ★☞✔ ✫✞✏☞✒✎✔ ✝✒✡✍✎☛❃✒☞✔ ✑☞✔ ☛✝✑☛✢☞✔✫✞✎☛☞✝✟ ✑❂✒✝☞ ✡✞✝☛❄✎☞ ☛✡✗✠✎✟✞✝✟☞ ✑❂✒✝ ☛✝✑☛✢☞ ✄ ✏❂✞✒✟✎☞✘

✢✝ ✌✡☛☞✌☞✄ ✡✝ ✆✡☛✂ ☛☛✁✡✁✂✡✄ ✄✂☛ ✡✥✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂✎ ✢✝ ✆✍✡✂✄☎☛✝☛✁✌☎ ✄☛
✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄✂ ✍✡✂☛✡☛✝☛✂ ☞✄ ✡✥✎✠✗ ✂☛✁☛ ✡✝ ☞✡✌✝✍✠☞✄ ✁☎☞✁✏☛✡✄ ✆✝✍ ✖✝✆✌✍☛✝ ✝✲✬✬✞✎
✲✲✷
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Nm Em Dm Eµ Dµ Pµ fµ Iµ Ds,µ

Nm
✲✬✬ ✫✬ ✷✲ ✶ ✰ ✲✶ ✲✯ ✲✯ ✛✮✷

Em
✫✬ ✲✬✬ ✮✬ ✯✫ ✫✮ ✪✮ ✯ ✫✰ ✛✷

Dm
✷✲ ✮✬ ✲✬✬ ✭✬ ✮✰ ✫✰ ✪ ✭✯ ✛✮✲

Eµ
✶ ✯✫ ✭✬ ✲✬✬ ✶✫ ✪✲ ✮ ✭✷ ✛✮

Dµ
✰ ✫✮ ✮✰ ✶✫ ✲✬✬ ✫✪ ✶ ✶✬ ✛✭

Pµ
✲✶ ✪✮ ✫✰ ✪✲ ✫✪ ✲✬✬ ✲✰ ✯✫ ✛✲✬

fµ
✲✯ ✯ ✪ ✮ ✶ ✲✰ ✲✬✬ ✭✲ ✲✲

Iµ
✲✯ ✫✰ ✭✯ ✭✷ ✶✬ ✯✫ ✭✲ ✲✬✬ ✛✲✭

Ds,µ
✛✮✷ ✛✷ ✛✮✲ ✛✮ ✛✭ ✛✲✬ ✲✲ ✛✲✭ ✲✬✬

✂✄☎☎ ✶✎✲ ✄ ✆✞✟✎☛✢☞ ✑☞ ✢✠✎✎✍✏✞✟☛✠✝ ✑☞✔ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍✘

✢✥✎✠✗ ✠✍✡✄ ☛☎ ✂✒✂☛✔✌✄ ☞✥✝✯✄✂ ✌✍☛☞✌✞✌☎✝☛✯✓ ✝✆✆✄✡✡✂ ✝✯✄✂ ✆✍✁☎✠✁✆✝☛✯✓ ✄☛ ✍✄✛✆✍✌✬✄☛☛✄ ✡✄✂ ☞✌☎✛
☎✡✄✂ ✂☛✍ ✠✄✂ ✝✯✄✂✎ ✎☎ ✌✧☛✁✄☎☛ ✝✁☎✂✁ ☛☎✄ ☎✌☛✟✄✡✡✄ ✌✝☛✍✁✠✄ ☞✄ ☞✌☎☎✡✄✂

M ✝✒✝☎☛ ✡✝ ✌✫✌✄ ☞✁✌✄☎✂✁✌☎
✏☛✄ ✡✝ ✌✝☛✍✁✠✄ ☞✥✌✍✁✞✁☎✄ D✎ ✠☞✝✏☛✄ ✠✌✡✌☎☎✄ ☞✄ M ✍✄✆✍✡✂✄☎☛✄ ☛☎✄ ☎✌☛✟✄✡✡✄ ✟✝✍✁✝✧✡✄ ✄✯✆✡✁✠✝☛✁✟✄✓
✝✆✆✄✡✡✄ ✟✠✌✌✆✌✂✝☎☛✄ ✆✍✁☎✠✁✆✝✡✄✠✎ ✎ ✡✝ ☞✁✆✡✍✄☎✠✄ ☞✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ☞✥✌✍✁✞✁☎✄ ✴✡✄✂ ✠✌✡✌☎☎✄✂

☞✄ D✵✓ ✡✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ✴✡✄✂ ✠✌✡✌☎☎✄✂ ☞✄ M✵ ✂✌☎☛ ✌✍☛☞✌✞✌☎✝✡✄✂ ✄☛ ✌✍☞✌☎☎✡✄✂ ✂✄✡✌☎ ✡✄☛✍✂
✟✝✍✁✝☎✠✄✂✓ ✄☎ ✌✍☞✍✄ ☞✡✠✍✌✁✂✂✝☎☛✎ ✠✄✂ ✟✝✍✁✝☎✠✄✂ ✆✄✍✌✄☛☛✄☎☛ ☞✥✄✂☛✁✌✄✍ ✡✥✁✌✆✌✍☛✝☎✠✄ ☞✄✂ ☎✌☛✟✄✡✡✄✂
✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂✓ ✄☛ ☞✄ ✠☞✌✁✂✁✍ ✆✝✍ ✡✝ ✂☛✁☛✄ ✡✄✂ ✝✯✄✂ ✆✍✁☎✠✁✆✝☛✯ ✏☛✥✌☎ ✂✌☛☞✝✁☛✄ ✞✝✍☞✄✍ ☞✝☎✂ ✡✄

☎✌☛✟✄✡ ✄✂✆✝✠✄ ☞✄ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✍✡☞☛✁☛✎ ✢✄ ☛✝✧✡✄✝☛ ✶✎✫ ✆✍✡✂✄☎☛✄ ✡✄✂ ✟✝✍✁✝☎✠✄✂ ☞✄ ✠☞✝✏☛✄ ☎✌☛✟✄✡✡✄
✟✝✍✁✝✧✡✄✓ ✝✁☎✂✁ ✏☛✄ ✡✄ ✆✌☛✍✠✄☎☛✝✞✄ ☞✄ ✡✝ ✟✝✍✁✝☎✠✄ ☛✌☛✝✡✄ ✄✯✆✡✁✏☛✡✄ ✄☛ ✡✄ ✠☛✌☛✡ ☞✄ ✠✄✂ ✆✌☛✍✠✄☎☛✝✞✄✂✎
✠✄ ☛✝✧✡✄✝☛ ✝✁☞✄ ✤ ✠☞✌✁✂✁✍ ✡✄✂ ✝✯✄✂ ✴✡✄✂ ✟✝✍✁✝✧✡✄✂✵ ✂✁✞☎✁✷✠✝☛✁✘✂ ✒ ✠✌✌✌✄ ✡✝ ✍✡☞☛✠☛✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄
✍✄✟✁✄☎☛ ✤ ✍✄✛✆✍✌✬✄☛✄✍ ✡✄✂ ☞✌☎☎✡✄✂ ✂☛✍ ☛☎ ✂✌☛✂✛✄✂✆✝✠✄ ☞✄ ☞✁✌✄☎✂✁✌☎ ✍✡☞☛✁☛✄✓ ✁✡ ✄✂☛ ✂✌☛☞✝✁☛✝✧✡✄ ✏☛✄
✠✄ ✂✌☛✂✛✄✂✆✝✠✄ ✞✝✍☞✄ ✡✥✄✂✂✄☎☛✁✄✡ ☞✄ ✡✥✁☎✘✌✍✌✝☛✁✌☎✓ ✏☛✥✁✡ ☎✄ ☞✡✘✌✍✌✄ ✆✝✂ ✡✄ ☎☛✝✞✄ ☞✄ ✆✌✁☎☛✂ ✁☎✁☛✁✝✡✎
✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ✌☎ ☞✌✁☛ ✞✝✍☞✄✍ ☛☎ ✌✝✯✁✌☛✌ ☞✄ ✟✝✍✁✝☎✠✄ ✝✆✍✔✂ ✍✄✛✆✍✌✬✄✠☛✁✌☎✎

var
✁ ✁ ✠☛✌☛✡✡

c1
✭✓✶✲ ✭✰✓✬ ✭✰✓✬

c2
✲✓✯✪ ✲✰✓✪ ✶✷✓✪

c3
✲✓✲✪ ✲✫✓✰ ✯✲✓✶

c4
✬✓✰✮ ✲✬✓✮ ✷✲✓✰

c5
✬✓✯✪ ✷✓✶ ✰✬✓✭

c6
✬✓✶✬ ✶✓✮ ✰✶✓✯

c7
✬✓✫✬ ✫✓✭ ✰✷✓✬

c8
✬✓✲✲ ✲✓✭ ✰✰✓✭

c9
✬✓✬✪ ✬✓✯ ✲✬✬✓✬

✂✄☎☎ ✶✎✫ ✄ ✆✞✎☛✞✝✢☞✔ ✑☞✔ ✢✠✡✗✠✔✞✝✟☞✔ ✗✎☛✝✢☛✗✞✏☞✔ ✑☞ ✏❂☞✔✗✞✢☞ ✑☞✔ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ☞✟ ✏☞✒✎✔ ✢✠✝✟✎☛✓✒✟☛✠✝✔✭ ☞✝✗✠✒✎✝✢☞✝✟✭ ✄ ✏✞ ✫✞✎☛✞✝✢☞ ✟✠✟✞✏☞ ✑☞✔ ✑✠✝✝✍☞✔✘

✠✥✄✂☛ ✤ ✡✥☛☛✁✡✁✂✝☛✄☛✍ ☞✄ ✠☞✌✁✂✁✍ ✡✄ ✠✍✁☛✔✍✄ ☞✄ ✂✡✡✄✠☛✁✌☎ ☞✄✂ ✝✯✄✂ ✆✍✁☎✠✁✆✝☛✯✎ ✖✄✡✌☎ ✖✝✆✌✍☛✝ ✝✲✬✬✞✓
✡✄ ✆✡☛✂ ✠✌☎☎☛ ✄✂☛ ✡✄ ✠✍✁☛✔✍✄ ☞✄ ✂✝✁✂✄✍✓ ✏☛✁ ✆✍✡✠✌☎✁✂✄ ✡✄ ✌✝✁☎☛✁✄☎ ☞✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ☞✄ ✟✝✍✁✝☎✠✄
✂☛✆✡✍✁✄☛✍✄ ✤ ✲✓ ✠✄ ✏☛✁✓ ☞✝☎✂ ☎✌☛✍✄ ✠✝✂✓ ✍✄✟✁✄☎☛ ✤ ✞✝✍☞✄✍ ✡✄✂ ☛✍✌✁✂ ✆✍✄✌✁✄✍✂ ✝✯✄✂✎ ✢✥✄✂✆✝✠✄ ☛✍✁☞✁✛
✌✄☎✂✁✌☎☎✄✡ ✝✁☎✂✁ ✠✍✡✡ ✞✝✍☞✄ ✆✡☛✂ ☞✄ ✯✬✁ ✡✝ ✟✝✍✁✝☎✠✄ ✁☎✁☛✁✝✡✄ ✴✯✲✓✶ ✁✓ ✟✌✁✍ ☛✝✧✡✄✝☛ ✶✎✫✵✎ ✮☎✄ ✝☛☛✍✄

✲✲✰
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✌✡☛☞✌☞✄✓ ✄✡✡✄ ✝☛✂✂✁ ✄✌✆✁✍✁✏☛✄✓ ✆✍✌✆✌✂✄ ✠✌✌✌✄ ✠✍✁☛✔✍✄ ☞✄ ✡✁✌✁☛✝☛✁✌☎ ☞✄ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄
☛☎ ✂✄☛✁✡ ☞✄ ✷✬✁ ☞✄ ✡✝ ✟✝✍✁✝☎✠✄✓ ✠✄ ✏☛✁ ✍✄✟✁✄☎☞✍✝✁☛ ✤ ✞✝✍☞✄✍ ✡✄✂ ✏☛✝☛✍✄ ✆✍✄✌✁✔✍✄✂ ✠✌✌✆✌✂✝☎☛✄✂

✆✍✁☎✠✁✆✝✡✄✂✎ ✑✡✝☎✌✌✁☎✂✓ ✁✡ ✍✄✂☛✄ ✡✥✌✧✡✁✞✝☛✁✌☎ ☞✄ ☎✄ ✍✄☛✄☎✁✍ ✏☛✄ ✡✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✁☎☛✄✍✆✍✡☛✝✧✡✄✂✓
✠✥✄✂☛✛✤✛☞✁✍✄ ✡✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✝☛✯✏☛✄✡✡✄✂ ✌☎ ✆✄☛☛ ☞✌☎☎✄✍ ☛☎✄ ✂✁✞☎✁✷✠✝☛✁✌☎ ✆☞✒✂✁✏☛✄ ✞✍☎✠✄ ✤ ✡✄☛✍✂
✠✌✍✍✡✡✝☛✁✌☎✂ ✝✟✄✠ ✡✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ☞✥✌✍✁✞✁☎✄ ✝✲✬✬✞✎

✢✄✂ ✁☎☞✁✠✄✂ ☞✄ ✠✌✍✍✡✡✝☛✁✌☎ ✄☎☛✍✄ ✡✄✂ ☎✌☛✟✄✡✡✄✂ ✠✌✡✌☎☎✄✂ ✴☞✄ ✡✝ ✌✝☛✍✁✠✄ M✵ ✄☛ ✡✄✂ ✠✌✡✌☎☎✄✂ ☞✄ ✡✝
✌✝☛✍✁✠✄ D

✂✌☎☛ ✡✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✄☎☛✍✄ ✡✄✂ ☎✌☛✟✄✡✡✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ✌✧☛✄☎☛✄✂ ✆✝✍ ✎✠✗ ✄☛ ✡✄✂
✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ☞✥✌✍✁✞✁☎✄✎ ✢✄✂ ✍✄✡✝☛✁✌☎✂ ✄☎☛✍✄ ✠✄✂ ☞✄☛✯ ✟✝✍✁✝✧✡✄✂ ✴☛✝✧✡✄✝☛ ✶✎✭✵ ✂✌☎☛ ☞✝✧✁☛☛✄✡✡✄✌✄☎☛

✍✄✆✍✡✂✄☎☛✡✄✂ ✤ ✡✥✝✁☞✄ ☞✄✂ ✠✄✍✠✡✄✂ ☞✄ ✠✌✍✍✡✡✝☛✁✌☎ ✴✷✞☛✍✄ ✶✎✫✵✎ ✢✝ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄ ✠✄✂ ✠✄✍✠✡✄✂ ✄✂☛
✁☎☛☛✁☛✁✟✄ ✒ ✡✄✂ ✝✯✄✂ ☞✄✂ ✝✧✂✠✁✂✂✄✂ ✄☛ ☞✄✂ ✌✍☞✌☎☎✡✄✂ ✍✄✆✍✡✂✄☎☛✄☎☛ ✡✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂✓ ✄☛ ✡✄✂

✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ☞✥✌✍✁✞✁☎✄ ✂✌☎☛ ☞✄✂ ✆✌✁☎☛✂ ✝✒✝☎☛ ✆✌☛✍ ✝✧✂✠✁✂✂✄ ✄☛ ✌✍☞✌☎☎✡✄ ✡✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂
✝✟✄✠ ✡✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ✍✄✂✆✄✠☛✁✟✄✂✎

c1 c2 c3 c4 c5 c6 c7 c8 c9

Nm
✶✬ ✛✯✯ ✲✮ ✛✲✫ ✫✫ ✛✲✪ ✛✲✪ ✛✫ ✲✮

Em
✯✫ ✫✶ ✛✭✲ ✛✮✬ ✫✯ ✫ ✫✷ ✛✶ ✪

Dm
✯✭ ✛✶✪ ✛✮ ✲✷ ✫✫ ✛✲✯ ✪ ✫ ✛✲✷

Eµ
✯✮ ✮✲ ✛✭✭ ✛✮ ✲✶ ✫✶ ✛✫✷ ✛✰ ✛✮

Dµ
✪✲ ✲✮ ✛✯ ✯✮ ✯ ✲✶ ✯ ✲✲ ✷

Pµ
✯✷ ✭✶ ✯ ✛✭✲ ✛✫✷ ✛✫✬ ✛✷ ✫✫ ✬

fµ
✫✭ ✲✬ ✷✪ ✛✲✪ ✫✶ ✭✫ ✭ ✭ ✛✫

Iµ
✯✫ ✫✲ ✭✷ ✲✷ ✛✮✭ ✛✲✰ ✮ ✛✫✬ ✲

Ds,µ
✛✭✫ ✪✪ ✲✷ ✲✪ ✮✷ ✛✮✲ ✛✪ ✛✫ ✬

✂✄☎☎ ✶✎✭ ✄ ✆✞✟✎☛✢☞ ✑☞ ✢✠✎✎✍✏✞✟☛✠✝ ☞✝✟✎☞ ✏☞✔ ✢✠✡✗✠✔✞✝✟☞✔ ✗✎☛✝✢☛✗✞✏☞✔ ☞✟ ✏☞✔ ✫✞✎☛✞✓✏☞✔ ☞✕✗✏☛✢✞✟☛✫☞✔ ✑❂✠✎☛✌☛✝☞ ✬✏☞✔
☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍✮✘ ★☞✔ ✢✠☞✞✢☛☞✝✟✔ ✔✠✝✟ ✡✒✏✟☛✗✏☛✍✔ ✗✞✎ ✱✂✂ ☞✟ ✞✎✎✠✝✑☛✔✘
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✬✓✮ ✞✕☞✔ ✗✎☛✝✢☛✗✞✒✕ c2
✖
c3
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✬✢✮ ✞✕☞✔ ✗✎☛✝✢☛✗✞✒✕ c1
✖
c3

✁✂✄☎ ✶✎✫ ✄ ✖☞✎✢✏☞✔ ✑☞✔ ✢✠✎✎✍✏✞✟☛✠✝✔ ☛✝✑☛✢☞✔ ✑❂✞✢✟☛✫☛✟✍ ✖ ✢✠✡✗✠✔✞✝✟☞✔ ✗✎☛✝✢☛✗✞✏☞✔✭ ✗✠✒✎ ✏☞✔ ✟✎✠☛✔ ✗✎☞✡☛☞✎✔ ✞✕☞✔✗✎☛✝✢☛✗✞✒✕✘
✎ ✆✝✍☛✁✍ ☞☛ ☛✝✧✡✄✝☛ ✶✎✭ ✄☛ ☞✄✂ ✠✄✍✠✡✄✂ ☞✄ ✠✌✍✍✡✡✝☛✁✌☎✂ ✴✷✞☛✍✄ ✶✎✫✵✓ ☎✌☛✂ ✆✌☛✟✌☎✂ ✁☎☛✄✍✆✍✡☛✄✍ ✡✝

✂✁✞☎✁✷✠✝☛✁✌☎ ☞✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂✎ ✎✁☎✂✁✓ ✡✝ ✆✍✄✌✁✔✍✄ ✠✌✡✌☎☎✄ ☞✄ ✡✝ ✌✝☛✍✁✠✄ ☞✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂

✲✫✬



�✏✂✏ ✂✁✁✄✠✝☎ ☎✁ ✄✂✞☎✂✝✁✁✟☎✝ ☎☛✠✁✄✠☎✁✄☎✝

✴☛✝✧✡✄✝☛ ✶✎✭✵ ✄☛ ✡✄✂ ✆✌✂✁☛✁✌☎✂ ☞✄✂ ✆✌✁☎☛✂ ☞✝☎✂ ✡✄✂ ✠✄✍✠✡✄✂ ☞✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✴✷✞☛✍✄✂ ✶✎✫✴✝✵ ✄☛ ✶✎✫✴✠✵✵
✌✌☎☛✍✄☎☛ ☛☎✄ ✠✌✍✍✡✡✝☛✁✌☎ ✍✄✡✝☛✁✟✄✌✄☎☛ ✁✌✆✌✍☛✝☎☛✄ ✄☎☛✍✄ ✡✝ ☎✌☛✟✄✡✡✄ ✟✝✍✁✝✧✡✄

c1
✄☛ ✡✝ ✆☛✁✂✂✝☎✠✄

✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Pµ ✓ ✌✝✁✂ ✝☛✂✂✁ ✝✟✄✠ ✡✥✡☎✄✍✞✁✄ ✌✌✒✄☎☎✄ Eµ ✓ ✡✥✡☎✄✍✞✁✄ ☛✌☛✝✡✄ Em ✓ ✡✥✁☎☛✄☎✂✁☛✡
✝✠✌☛✂☛✁✏☛✄ ✌✌✒✄☎☎✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Iµ

✴✠✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✂✌☎☛ ☞✥✝✁✡✡✄☛✍✂ ✝✂✂✄✳ ✠✌✍✍✡✡✡✄✂ ✄☎☛✍✄
✄✡✡✄✂✓ ✟✌✁✍ ☛✝✧✡✄✝☛ ✶✎✲✵✎ ✠✄☛☛✄ ✠✌✌✆✌✂✝☎☛✄ ✄✂☛ ✝☛✂✂✁ ✠✌✍✍✡✡✡✄ ✝✟✄✠ ✡✝ ☞☛✍✡✄ ☛✌☛✝✡✄ ☞✄✂ ✂✌☎✂ ✆✝✍
✌✁☎☛☛✄Dm ✓ ✠✄ ✏☛✁ ✄✂☛ ✝✂✂✄✳ ✂☛✍✆✍✄☎✝☎☛✎ ✰☎ ✄✆✄☛✓ ✠✌✌✌✄

c1
✄✂☛ ✠✌✍✍✡✡✡✄ ✆✌✂✁☛✁✟✄✌✄☎☛ ✝✟✄✠ ✆✍✄✂✏☛✄

☛✌☛✂ ✡✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡✓ ✌☎ ✆✄☛☛ ✡✥✁☎☛✄✍✆✍✡☛✄✍ ✠✌✌✌✄ ☛☎✄ ✟✝✍✁✝✧✡✄ ✟☞✄ ☛✝✁✡✡✄✠ ✝✲✬✬✞ ✒ ✡✄✂ ✆✌✁☎☛✂
✏☛✁ ✌☎☛ ☞✄✂ ✟✝✡✄☛✍✂ ✁✌✆✌✍☛✝☎☛✄✂ ☞✄ ✠✄☛☛✄ ✟✝✍✁✝✧✡✄ ✌☎☛ ✄☎ ✄✆✄☛ ☞✄✂ ✟✝✡✄☛✍✂ ✍✄✡✝☛✁✟✄✌✄☎☛ ✁✌✆✌✍☛✝☎☛✄✂

✆✌☛✍ ☛✌☛✂ ✡✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡✓ ✁✡✂ ✌☎☛ ☛☎✄ ✞✍✝☎☞✄ ✟☛✝✁✡✡✄✠✎ ✑✡✝☎✌✌✁☎✂✓ ✡✝ ✆✍✄✌✁✔✍✄ ✠✌✌✆✌✂✝☎☛✄

✆✍✁☎✠✁✆✝✡✄ ✄✂☛ ✂☛✍☛✌☛☛ ✍✄✡✁✡✄ ✝☛✯ ✁☎☞✁✠✄✂ ☞✄ ☛✒✆✄ ✡☎✄✍✞✡☛✁✏☛✄✎ ✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂
✂✌☎ ✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ✠✌✌✌✄ ☛☎ ✟☎✁✟✄✝☛ ✂✌☎✌✍✄✠ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✝✆✆✝✍✝✁✂✂✝☎☛ ☞☛✍✝☎☛ ✡✝ ✌✁☎☛☛✄ ✒
☛☎✄ ✟✝✡✄☛✍ ✁✌✆✌✍☛✝☎☛✄ ☞✄ ✠✄☛☛✄ ☎✌☛✟✄✡✡✄ ✟✝✍✁✝✧✡✄ ✄✯✆✡✁✠✝☛✁✟✄ ✂✁✞☎✝✡✄ ✏☛✄ ✡✝ ✌✁☎☛☛✄ ✡☛☛☞✁✡✄ ✄✂☛

✝✠☛✁✟✄ ☞☛ ✆✌✁☎☛ ☞✄ ✟☛✄ ☎✁✟✄✝☛ ✂✌☎✌✍✄✎ ✠✄☛☛✄ ✠✌✌✆✌✂✝☎☛✄ ✄✯✆✡✁✏☛✄ ✭✰✓✶✁ ☞✄ ✡✝ ☞✁✂✆✄✍✂✁✌☎ ✁☎✁☛✁✝✡✄
✴☛✝✧✡✄✝☛ ✶✎✫✵✎

✢✝ ☞✄☛✯✁✔✌✄ ✠✌✌✆✌✂✝☎☛✄ ✆✍✁☎✠✁✆✝✡✄ c2
✄✂☛ ✝☎☛✁✛✠✌✍✍✡✡✡✄ ✝✟✄✠ ✡✄ ☎✌✌✧✍✄ ☞✥✡✟✡☎✄✌✄☎☛✂ ✆✝✍

✌✁☎☛☛✄ Nm
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✭✫ ✲✬✬ ✯✪ ✫✷ ✭

Pe
✲✷ ✯✪ ✲✬✬ ✶✮ ✷

Ie
✮✮ ✫✷ ✶✮ ✲✬✬ ✲✷

fe
✛✶ ✭ ✷ ✲✷ ✲✬✬

✂✄☎☎ ✶✎✮ ✄ ✆✞✟✎☛✢☞ ✑☞ ✢✠✎✎✍✏✞✟☛✠✝ ✑☞✔ ✢✞✎✞✢✟✍✎☛✔✟☛❃✒☞✔ ✗✰✠✔☛❃✒☞✔ ✑☞✔ ✍✫✍✝☞✡☞✝✟✔✘

✢✝ ✡✄✠☛☛✍✄ ☞✄ ✡✝ ✌✝☛✍✁✠✄ ☞✄ ✠✌✍✍✡✡✝☛✁✌☎ ✴☛✝✧✡✄✝☛ ✶✎✮✵ ☎✄ ✌✌☎☛✍✄ ✆✝✂ ☞✄ ✠✌✍✍✡✡✝☛✁✌☎✂ ☛✍✔✂ ✘✌✍☛✄✂
✄☎☛✍✄ ✡✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂✓ ✂✝☛✘✓ ✆✄☛☛✛✫☛✍✄✓ ✄☎☛✍✄ ✡✥✡☎✄✍✞✁✄ Ee

☞✥☛☎ ✡✟✡☎✄✌✄☎☛ ✄☛ ✂✝ ✆☛✁✂✂✝☎✠✄

Pe
✎
✢✥✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ✠✍✡✄ ☞✄ ☎✌☛✟✄✡✡✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂✓ ✍✄✆✍✡✂✄☎☛✡✄✂ ✆✝✍

☞✄✂ ✝✯✄✂ ✌✍☛☞✌✞✌☎✝☛✯✎ ✢✄☛✍ ✁✌✆✌✍☛✝☎✠✄ ✄☛ ✡✄☛✍ ✆✌☛✟✌✁✍ ✄✯✆✡✁✠✝☛✁✘ ✂✌☎☛ ☞✌☎☎✡✂ ✆✝✍ ✡✄✂ ✟✝✍✁✝☎✠✄✂

☞✄✂ ✆✍✌✬✄✠☛✁✌☎✂ ✂☛✍ ✠✄✂ ✝✯✄✂✓ ✆✍✡✂✄☎☛✡✄✂ ☞✝☎✂ ✡✄ ☛✝✧✡✄✝☛ ✶✎✶✎
✲✫✫



�✏✂✏ ✂✁✁✄✠✝☎ ☎✁ ✄✂✞☎✂✝✁✁✟☎✝ ☎☛✠✁✄✠☎✁✄☎✝

var
✁ ✁ ✠☛✌☛✡✡

c1
✫✓✭✬ ✮✪✓✲ ✮✪✓✲

c2
✲✓✬✶ ✫✬✓✰ ✪✯✓✬

c3
✬✓✰✮ ✲✷✓✰ ✷✶✓✰

c4
✬✓✶✯ ✲✲✓✶ ✰✯✓✮

c5
✬✓✲✭ ✫✓✪ ✲✬✬✓✬

✂✄☎☎ ✶✎✶ ✄ ✆✞✎☛✞✝✢☞✔ ✑☞✔ ✢✠✡✗✠✔✞✝✟☞✔ ✗✎☛✝✢☛✗✞✏☞✔✑☞ ✏❂☞✔✗✞✢☞ ✑☞✔ ✢✞✎✞✢✟✍✎☛✔✟☛❃✒☞✔ ✗✰✠✔☛❃✒☞✔ ☞✟ ✏☞✒✎✔✢✠✝✟✎☛✓✒✟☛✠✝✔✭ ☞✝ ✗✠✒✎✝✢☞✝✟✭ ✄ ✏✞ ✫✞✎☛✞✝✢☞ ✟✠✟✞✏☞ ✑☞✔
✑✠✝✝✍☞✔✘

c1 c2 c3 c4 c5

De
✶✯ ✭✮ ✪✶ ✭✪ ✲✬

Ee
✷✲ ✲✭ ✛✮✫ ✭✭ ✛✫✬

Pe
✷✯ ✛✶ ✛✮✬ ✛✲✯ ✫✮

Ie
✯✶ ✛✲✶ ✮✬ ✛✮✰ ✛✲✮

fe
✲✪ ✛✰✮ ✲✭ ✫✪ ✫

✂✄☎☎ ✶✎✪ ✄ ✆✞✟✎☛✢☞ ✑☞ ✢✠✎✎✍✏✞✟☛✠✝ ☞✝✟✎☞ ✏☞✔ ✢✠✡✗✠✝✔✞✝✟☞✔ ✗✎☛✝✢☛✗✞✏☞✔ ☞✟ ✏☞✔ ✫✞✎☛✞✓✏☞✔ ☞✕✗✏☛✢✞✟☛✫☞✔ ✑❂✠✎☛✝✌☛✝☞ ✬✏☞✔ ✢✞✎✞✢✟✍✎☛✔✟☛❃✒☞✔ ✗✰✠✔☛❃✒☞✔✮✘ ★☞✔ ✢✠☞✞✢☛☞✝✟✔✔✠✝✟ ✡✒✏✟☛✗✏☛✍✔ ✗✞✎ ✱✂✂ ☞✟ ✞✎✎✠✝✑☛✔✘

✢✄✂ ☛✍✌✁✂ ✆✍✄✌✁✄✍✂ ✝✯✄✂ ✠✍✡✄☎☛ ☛☎ ✄✂✆✝✠✄ ☛✍✁☞✁✌✄☎✂✁✌☎☎✄✡ ✏☛✁ ✞✝✍☞✄ ✄☎✟✁✍✌☎ ✷✪✁ ☞✄ ✡✝ ✟✝✍✁✝☎✠✄
✁☎✁☛✁✝✡✄✎ ✢✄✂ ✂✁✞☎✁✷✠✝☛✁✌☎✂ ✆☞✒✂✁✏☛✄✂ ☞✄ ✠✄✂ ✝✯✄✂ ✴✡✄✂ ☛✍✌✁✂ ✆✍✄✌✁✔✍✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂✵ ✂✌☎☛
✌✧☛✄☎☛✄✂ ✤ ✡✥✝✁☞✄ ☞✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✄☎☛✍✄ ✡✄✂ ☎✌☛✟✄✡✡✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ✌✧☛✄☎☛✄✂ ✆✝✍ ✎✠✗ ✄☛
✡✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ☞✥✌✍✁✞✁☎✄✎ ✢✝ ✌✝☛✍✁✠✄ ☞✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✄✂☛ ✆✍✡✂✄☎☛✡✄ ☛✝✧✡✄✝☛ ✶✎✪✓ ✄☛ ✡✄✂ ✠✄✍✠✡✄✂

☞✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✷✞☛✍✄ ✶✎✮✎
✎ ✆✝✍☛✁✍ ☞☛ ☛✝✧✡✄✝☛ ✶✎✪ ✄☛ ☞✄✂ ✠✄✍✠✡✄✂ ☞✄✂ ✠✌✍✍✡✡✝☛✁✌☎✂ ✴✷✞☛✍✄ ✶✎✮✵✓ ☎✌☛✂ ✆✌☛✟✌☎✂ ✁☎☛✄✍✆✍✡☛✄✍ ✡✝

✂✁✞☎✁✷✠✝☛✁✌☎ ☞✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂✎ ✙✄ ☎✌☛✟✄✝☛✓ ✡✝ ✆✍✄✌✁✔✍✄ ✠✌✌✆✌✂✝☎☛✄ ✝ ☛☎ ✄✆✄☛ ✞✡✌✧✝✡
☞✄ ☛✝✁✡✡✄ ✒ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✏☛✁ ✂✌☎☛ ✠✝✍✝✠☛✡✍✁✂✡✂ ✆✝✍ ☞✄✂ ✟✝✡✄☛✍✂ ✁✌✆✌✍☛✝☎☛✄✂ ☞✄ ✠✄☛☛✄ ✟✝✍✁✝✧✡✄ ✂✌☎☛
✄☎ ✄✆✄☛ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✤ ✡✝ ✘✌✁✂ ✆✡☛✂ ✡☎✄✍✞✡☛✁✏☛✄✂✓ ✆✡☛✂ ✡✌☎✞✂ ✄☛ ☞✄ ✴✡✡✞✔✍✄✌✄☎☛✵ ✆✡☛✂ ☞✝☛☛✄ ✘✍✡✛
✏☛✄☎✠✄ ✏☛✄ ✡✝ ✌✌✒✄☎☎✄✎ ✗✡☛✂ ✆✍✡✠✁✂✡✌✄☎☛✓ ✡✝ ✆✍✄✌✁✔✍✄ ✠✌✡✌☎☎✄ ☞✄ ✡✝ ✌✝☛✍✁✠✄ ☞✄ ✠✌✍✍✡✡✝☛✁✌☎✂ ✶✎✪ ✄☛
✡✄✂ ✆✌✂✁☛✁✌☎✂ ☞✄✂ ✆✌✁☎☛✂ ☞✝☎✂ ✡✄✂ ✠✄✍✠✡✄✂ ✴✷✞☛✍✄✂ ✶✎✮✴✝✵ ✄☛ ✶✎✮✴✠✵✵ ✌✌☎☛✍✄☎☛ ☛☎✄ ✠✌✍✍✡✡✝☛✁✌☎ ✁✌✆✌✍✛
☛✝☎☛✄ ✄☎☛✍✄ ✡✝ ☎✌☛✟✄✡✡✄ ✟✝✍✁✝✧✡✄

c1
✄☛ ✡✝ ✆☛✁✂✂✝☎✠✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ Pe ✓ ✡✥✡☎✄✍✞✁✄ Ee

✄☛ ✡✥✁☎☛✄☎✂✁☛✡
✝✠✌☛✂☛✁✏☛✄ Ie ✎

✠✌✌✌✄ ✆✌☛✍ ✡✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡✓ ☎✌☛✂ ✆✌☛✟✌☎✂ ✍✄✡✁✄✍ ✡✝ ✆✍✄✌✁✔✍✄ ✠✌✌✆✌✂✝☎☛✄

✆✍✁☎✠✁✆✝✡✄ ✝☛ ✟☎✁✟✄✝☛ ✂✌☎✌✍✄✠ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ ✒ ☛☎✄ ✟✝✡✄☛✍ ✁✌✆✌✍☛✝☎☛✄ ☞✄ ✠✄☛☛✄ ☎✌☛✟✄✡✡✄ ✟✝✍✁✝✧✡✄
✄✯✆✡✁✠✝☛✁✟✄✓ ✏☛✁ ✝ ☛☎✄ ✂✁✞☎✁✷✠✝☛✁✌☎ ✡☎✄✍✞✡☛✁✏☛✄✓ ✂✁✞☎✝✡✄ ✏☛✄ ✡✥✡✟✡☎✄✌✄☎☛ ✡☛☛☞✁✡ ✝ ☛☎ ☎✁✟✄✝☛ ✂✌☎✌✍✄
✁✌✆✌✍☛✝☎☛✎ ✠✄☛☛✄ ✠✌✌✆✌✂✝☎☛✄ ✄✯✆✡✁✏☛✄ ✮✪✓✲✁ ☞✄ ✡✝ ☞✁✂✆✄✍✂✁✌☎ ☞☛ ☎☛✝✞✄ ☞✄✂ ✆✌✁☎☛✂ ✴☛✝✧✡✄✝☛ ✶✎✶✵✎

✢✝ ☞✄☛✯✁✔✌✄ ✠✌✌✆✌✂✝☎☛✄ ✆✍✁☎✠✁✆✝✡✄ c2
✄✂☛ ✘✌✍☛✄✌✄☎☛ ✝☎☛✁✛✠✌✍✍✡✡✡✄ ✤ ✡✝ ✘✍✡✏☛✄☎✠✄ ✆✍✁☎✠✁✆✝✡✄

☞✄✂ ✡✟✡☎✄✌✄☎☛✂ fe
✴✷✞☛✍✄✂ ✶✎✮✴✝✵ ✄☛ ✶✎✮✴✧✵✵ ✒ ✆✡☛✂ ✡✝ ✟✝✡✄☛✍ ☞✄ ✡✝ ☎✌☛✟✄✡✡✄ ✟✝✍✁✝✧✡✄ ✄✯✆✡✁✠✝☛✁✟✄

✄✂☛ ✡✡✄✟✡✄✓ ✆✡☛✂ ✡✝ ✘✍✡✏☛✄☎✠✄ ☞✄ ✡✥✡✟✡☎✄✌✄☎☛ ✄✂☛ ✧✝✂✂✄✎ ✠✄☛☛✄ ✠✌✌✆✌✂✝☎☛✄ ✄✯✆✡✁✏☛✄ ✫✬✓✰✁ ☞✄ ✡✝
☞✁✂✆✄✍✂✁✌☎ ☞☛ ☎☛✝✞✄ ☞✄ ✆✌✁☎☛✂ ✴☛✝✧✡✄✝☛ ✶✎✶✵✎

✢✝ ☛✍✌✁✂✁✔✌✄ ✠✌✌✆✌✂✝☎☛✄ ✆✍✁☎✠✁✆✝✡✄✓ ✏☛✁ ✄✯✆✡✁✏☛✄ ✲✷✓✰✁ ☞✄ ✡✝ ✟✝✍✁✝☎✠✄ ☛✌☛✝✡✄✓ ✄✂☛ ✝✂✂✄✳ ✠✌✍✍✡✡✡✄
✤ ✡✝ ☞☛✍✡✄ ☞✄✂ ✡✟✡☎✄✌✄☎☛✂ De ✓ ✠✌✌✌✄ ✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✶✎✮✴✧✵ ✄☛ ☛✝✧✡✄✝☛ ✶✎✪ ✒ ✆✡☛✂ ✂✝ ✟✝✡✄☛✍ ✄✂☛
✁✌✆✌✍☛✝☎☛✄✓ ✆✡☛✂ ✡✥✡✟✡☎✄✌✄☎☛ ✄✂☛ ✡✌☎✞✎

✮☎ ✄✂✆✝✠✄ ✍✡☞☛✁☛ ✍✄✆✍✡✂✄☎☛✝☎☛ ✡✄✂ ☞✌☎☎✡✄✂ ✴✡✄✂ ✡✟✡☎✄✌✄☎☛✂✵ ✆✄☛☛ ✫☛✍✄ ✠✌☎✂☛✍☛✁☛ ✤ ✆✝✍☛✁✍ ☞✄✂
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✲✫✭



�✁✁☎✠✟☛☎ �✏ ✂✁✁✄✠✝☎ ✆☎✝ ☎✁✂✁✂☎✁✟✆☛✂✁☛✁✞✞☎✝

−1 −0.5 0 0.5 1
−1

−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

D
e

E
e

P
eI

e

f
e

c
2

c
1

✬✞✮ ✞✕☞✔ ✗✎☛✝✢☛✗✞✒✕ c1
✖
c2

−1 −0.5 0 0.5 1
−1

−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

D
e

E
e

P
e

I
e

f
e

c
3

c
2

✬✓✮ ✞✕☞✔ ✗✎☛✝✢☛✗✞✒✕ c2
✖
c3

−1 −0.5 0 0.5 1
−1

−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

D
e

E
e

P
e

I
e

f
e

c
3

c
1
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✞✕☞✔ ✗✎☛✝✢☛✗✞✒✕✘
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✍✄✂✆✄✠☛✝☎☛ ✠✄✍☛✝✁☎✂ ✠✍✁☛✔✍✄✂✎ ✢✥✌✧✬✄✠☛✁✘ ☞☛ ✟✌✡✄☛ ☞✄✂✠✍✁✆☛✁✘ ☞✄ ✡✥✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂
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✲✎ ☎✚✜ ✴✎✏✒✙✚✜
v1 � v6

✓ ☞✡✷☎✁✂ ✠✌✌✌✄ ✡✄✂ ✄☎✂✄✌✧✡✄✂ ✠✌☎✂☛✁☛☛✡✂ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ✄☎✍✄✞✁✂☛✍✡✄✂
✆✝✍ ✠☞✝✠☛☎✄ ☞✄✂ ✂✁✯ ✟✌✁✄✂ ✴☞✌☎✠ ✤ ☞✄✂ ✡✌✠✝✡✁✂✝☛✁✌☎✂ ✂✆✝☛✁✝✡✄✂ ☞✁✆✡✍✄☎☛✄✂✵✎ ✠✄ ✍✄✞✍✌☛✆✄✌✄☎☛ ☎✄
☛✁✄☎☛ ✠✌✌✆☛✄ ☎✁ ☞☛ ☎☛✌✡✍✌ ☞✄ ✡✝ ✂✡✏☛✄☎✠✄ ☞✝☎✂ ✡✝ ✂☛✠✠✄✂✂✁✌☎ ☞✄✂ ✲✪✷ ✌✁☎☛☛✄✂ ☞✥✝✠✏☛✁✂✁☛✁✌☎✓
☎✁ ☞☛ ✆✝☛✁✄☎☛✎ ✎☎ ✌✧☛✁✄☎☛ ☞✌☎✠ ✂✁✯ ✞✍✌☛✆✄✂✓ ✠☞✝✠☛☎ ✠✌☎☛✄☎✝☎☛ 168 ·3 = 504

✂✡✏☛✄☎✠✄✂ ☞✥☛☎✄
✌✁☎☛☛✄✎ ✢✥✌✧✬✄✠☛✁✘ ✄✂☛ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✄✂ ✟✌✁✄✂ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✄☛✍✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂✎

✫✎ ☎✚✜ ✴✎✏✒✙✚✜
s1 � s12

✓ ☞✡✷☎✁✂ ✠✌✌✌✄ ✡✄✂ ✄☎✂✄✌✧✡✄✂ ☞✄ ✂✡✏☛✄☎✠✄✂ ✄☎✍✄✞✁✂☛✍✡✄✂ ✆✝✍ ☛✍✝☎✠☞✄✂

☞✄ ✲✮ ✌✁☎☛☛✄✂ ✴
s1

✍✄✞✍✌☛✆✄ ✡✄✂ ✂✡✏☛✄☎✠✄✂ ✄☎✍✄✞✁✂☛✍✡✄✂ ☞✄ ✡✝ ✌✁☎☛☛✄ ✲ ✤ ✡✝ ✌✁☎☛☛✄ ✲✮✓ s2 ☞✄
✲✶ ✤ ✫✰✓ ✄☛✠✎✓ ✬☛✂✏☛✥✤

s12 ✓ ☞✄ ✲✶✶ ✤ ✲✪✷✵✎ ✠✄ ✍✄✞✍✌☛✆✄✌✄☎☛ ☎✄ ☛✁✄☎☛ ✠✌✌✆☛✄ ☎✁ ☞✄ ✡✝ ✟✌✁✄

☞✥✝✠✏☛✁✂✁☛✁✌☎✓ ☎✁ ☞☛ ✆✝☛✁✄☎☛✎ ✢✄✂ ☞✌☛✳✄ ✞✍✌☛✆✄✂ ✠✌☎☛✁✄☎☎✄☎☛ ✠☞✝✠☛☎ 14 · 3 · 6 = 252 ✆✌✁☎☛✂✎
✢✥✌✧✬✄✠☛✁✘ ✄✂☛ ✡✥✡☛☛☞✄ ☞✄ ✡✝ ✂✡✏☛✄☎✠✄ ☛✄✌✆✌✍✄✡✡✄ ✄ ✡✄✂ ✆☞✝✂✄✂ ✂☛✠✠✄✂✂✁✟✄✂ ☞☛ ✠✒✠✡✄ ☞✁✞✄✂☛✁✘
✆✄☛✟✄☎☛✛✄✡✡✄✂ ✫☛✍✄ ☞✁✆✡✍✄☎✠✁✡✄✂ ✂✄✡✌☎ ✡✄☛✍✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ �

✭✎ ☎✚✜ ✴✎✏✒✙✚✜
p1 � p3

✓ ✠✌☎☛✄☎✝☎☛ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ✆✝✍ ✆✝☛✁✄☎☛✎ ✢✥✄✆✄✠☛✁✘ ☞✄ ✠☞✝✠☛☎
☞✄ ✠✄✂ ☛✍✌✁✂ ✞✍✌☛✆✄✂ ✄✂☛ ☞✄ 168·6 = 1008

✂✡✏☛✄☎✠✄✂✎ ✢✥✌✧✬✄✠☛✁✘ ✄✂☛ ☞✄ ☞✁✆✡✍✄☎✠✁✄✍ ✡✄✂ ✆✝☛✁✄☎☛✂✎
✎ ✡✥✁☎☛✡✍✁✄☛✍ ☞✄ ✠☞✝✏☛✄ ✞✍✌☛✆✄ ✌☎ ✆✄☛☛ ☞✡✷☎✁✍ ☞✄✂ ✂✌☛✂✛✞✍✌☛✆✄✂ ✒ ✆✝✍ ✄✯✄✌✆✡✄✓ ✌☎ ✆✄☛☛ ✡☛☛☞✁✄✍

✡✝ ☞✁✆✡✍✄☎✠✁✝☛✁✌☎ ☞✄✂ ✟✌✁✄✂ ✆✌☛✍ ✠☞✝✏☛✄ ✆✝☛✁✄☎☛✓ ✌☛ ✄☎✠✌✍✄ ✡✥✡✟✌✡☛☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄ ✆✌☛✍ ✠☞✝✏☛✄
✟✌✁✄ ✌☛ ✠☞✝✏☛✄ ✆✝☛✁✄☎☛✎ ✑✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ✁✠✁ ✏☛✄✡✏☛✄✂ ✍✡✂☛✡☛✝☛✂ ✏☛✄ ☎✌☛✂ ✄✂☛✁✌✌☎✂ ✁☎☛✡✍✄✂✂✝☎☛✂✓
✂✝✠☞✝☎☛ ☛✌☛☛✄✘✌✁✂ ✏☛✄ ☎✌✂ ✠✌☎✂✁☞✡✍✝☛✁✌☎✂ ✌☎☛ ☛☎✄ ✟✝✡✄☛✍ ✡✁✌✁☛✡✄✓ ✠✝✍ ✄✡✡✄✂ ☞✌✁✟✄☎☛ ✫☛✍✄ ✟✝✡✁☞✡✄✂
✂☛✍ ☛☎ ☎✌✌✧✍✄ ✆✡☛✂ ✁✌✆✌✍☛✝☎☛ ☞✄ ✆✝☛✁✄☎☛✂ ✄☛ ✤ ✡✥✝✁☞✄ ☞✥☛☎ ✄✯✆✄✍☛�� ✎ ✠✄✆✄☎☞✝☎☛✓ ✡✥✌✧✬✄✠☛✁✘ ✏☛✄
☎✌☛✂ ☎✌☛✂ ✂✌✌✌✄✂ ✷✯✡ ✄✂☛ ✡✄ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ☞✥☛☎ ✌☛☛✁✡ ☞✥✝☎✝✡✒✂✄ ☞✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂✓ ✄☛ ✡✄✂
✄✯✄✌✆✡✄✂ ✏☛✄ ☎✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ✁✠✁ ✌✌☎☛✍✄☎☛ ✏☛✄ ✡✝ ✌✡☛☞✌☞✄ ✆✍✌✆✌✂✡✄ ✄✂☛ ✠✝✆✝✧✡✄ ☞✄ ☞✁✆✡✍✄☎✠✁✄✍
✆✡☛✂✁✄☛✍✂ ✡☛✝☛✂ ✆☞✒✂✁✌✡✌✞✁✏☛✄✂✓ ✂✝☎✂ ✆✌☛✍ ✝☛☛✝☎☛ ✆✌☛✟✌✁✍ ✝✂✂✌✠✁✄✍ ☛☎✄ ✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ✌✡☞✁✠✝✡✄✎

✌✔✁✧✎✚✌✓✔✘✍✔✏✌ ✑✚✜ ✂✏✔✚✜✥ ✢✄✂ ✍✡✂☛✡☛✝☛✂ ☞✄ ✡✝ ✆✍✌✬✄✠☛✁✌☎ ☞✄✂ ✧✝✍✒✠✄☎☛✍✄✂ ☞✄✂ ✞✍✌☛✆✄✂ v1
✤
v6✂☛✍ ✡✄✂ ✆✡✝☎✂ ☞✡✷☎✁✂ ✆✝✍ ✡✄✂ ✝✯✄✂ ✆✍✁☎✠✁✆✝☛✯ ✂✌☎☛ ✆✍✡✂✄☎☛✡✂ ✷✞☛✍✄ ✶✎✪✎ ✮☎ ✆✍✄✌✁✄✍ ✠✌☎✂☛✝☛ ✆✌✍☛✄

✂☛✍ ✡✝ ☞✁✆✡✍✄☎✠✄ ✏☛✄ ✡✝ ✠✌✌✆✌✂✝☎☛✄ ✆✍✁☎✠✁✆✝✡✄ c2
✍✡✟✔✡✄ ✄☎☛✍✄ ✡✝ ✟✌✁✄ v4

✄☛ ✡✄✂ ✝☛☛✍✄✂ ✟✌✁✄✂✎
✖✄✡✌☎ ✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ✏☛✄ ☎✌☛✂ ✝✟✌☎✂ ☞✌☎☎✡✄ ✝☛✯ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎✶✎✲✎✲✓ ✡✝ ✟✌✁✄ v4 ✓ ✂✁☛☛✡✄ ☞✝☎✂ ✡✝ ✳✌☎✄ ✂✌☛✂✛✌✌✧✁✡✁✠✝✡✄ ✄☛ ✝✆✄✠☛✡✄ ✆✍✁☎✠✁✆✝✡✄✌✄☎☛ ✆✝✍ ✡✥✝✠☛✁✟✁☛✡ ☞✄

✡✥✁☎☛✄✂☛✁☎ ✞✍✫✡✄ ✴✟✌✁✍ ✷✞☛✍✄ ✫✎✮✓ ✆✝✞✄ ✫✪✵✓ ✄✂☛ ✄☎ ✌✌✒✄☎☎✄ ✡✝ ✆✡☛✂ ✍✁✠☞✄ ✄☎ ✡✟✡☎✄✌✄☎☛✂ ✆✝✍✌✁ ✡✄✂ ✂✁✯
✴✝✡✌✍✂ ✏☛✄ v3

✄☛
v6

✂✄✌✧✡✄☎☛ ✡✄✂ ✆✡☛✂ ✆✝☛✟✍✄✂✵✎ ✢✝ ☞✁✆✡✍✄☎✠✄ ✄☎☛✍✄ v4
✄☛
v3

✂✄ ✠✌☎✷✍✌✄ ✟✁✂☛✄✡✡✄✌✄☎☛
✤ ✡✥✁☎✂✆✄✠☛✁✌☎ ☞☛ ☎☛✝✞✄ ☞✄ ✆✌✁☎☛✂ ✴✷✞☛✍✄ ✶✎✯✵✎

✎☎ ✆✄☛☛ ✡✞✝✡✄✌✄☎☛ ✠✌☎✂☛✝☛✄✍ ✏☛✄ ✡✝ ✟✌✁✄ v3
✄✂☛ ✡✝ ✂✄☛✡✄ ✤ ✫☛✍✄ ☎✌☛✝✧✡✄✌✄☎☛ ✂☛✆✡✍✁✄☛✍✄ ✤ ✡✝

✌✌✒✄☎☎✄ ✂✄✡✌☎ c3
✴✠✌✌✆✌✂✝☎☛✄ ✡✁✡✄ ✤ ✡✝ ✘✍✡✏☛✄☎✠✄ ✌✌✒✄☎☎✄ ☞✄✂ ✂✌☎✂✵ ✒ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✝✆✆✝✍✝✁✂✂✝☎☛

✂✁✞✝ ✗✎✠✟✠✢✠✏☞ ✑❂☞✝✎☞✌☛✔✟✎☞✡☞✝✟ ☞✟ ✑❂✍✟✒✑☞ ✑☞ ✗✰✠✝✠☞✝✟✍✎✠✌✎✞✡✡☞✔ ✗✞✟✰✠✏✠✌☛❃✒☞✔ ✗✎✠✗✠✔✍ ✗✞✎ ✏☞ ✩✎✠✕☞✔✔☞✒✎ ✄✘
✂✒☛✏✏☞✡☛✝ ☞✔✟ ☞✝✫☛✔✞✌✍ ☞✝ ✢✠✏✏✞✓✠✎✞✟☛✠✝ ✞✫☞✢ ✏☞ ✖☞✝✟✎☞ ✆✏☞✕☛✔ ✆✞✒✟✎☛✝ ✑☞ ✓✞✝✢✠✘

✲✫✶
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v1

✄
v6
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✁✂✄☎ ✶✎✯ ✄ ✟✍✗✞✎✟☛✟☛✠✝ ✝❅ ✑☞✔ ✔✍❃✒☞✝✢☞✔ ✑☞✔ ✫✠☛☞✔ v3
✬☛✂✚ ✗✠☛✝✟✔✮ ☞✟ v4

✬☛✂✚ ✗✠☛✝✟✔✮ ✑✞✝✔ ✏❂☞✔✗✞✢☞ ☞✝✌☞✝✑✎✍ ✗✞✎✏☞✔ ✝ ✗✎☞✡☛❄✎☞✔ ✢✠✡✗✠✔✞✝✟☞✔ ✗✎☛✝✢☛✗✞✏☞✔✘

✤ ✠✄☛ ✄☎☞✍✌✁☛ ☞✄ ✡✥✝✧☞✌✌✄☎ ✴✠✝☞✍✝☎ ✁☎✘✡✍✁✄☛✍ ✞✝☛✠☞✄✓ ☞✡✧☛☛ ☞☛ ✠✌✡✌☎ ✝✂✠✄☎☞✝☎☛✵ ✂✄✌✧✡✄☎☛ ✄☎
✞✡☎✡✍✝✡ ☞✄ ✆✡☛✂ ☞✝☛☛✄ ✘✍✡✏☛✄☎✠✄ ✏☛✄ ✡✄✂ ✝☛☛✍✄✂✎

✢✄✂ ✍✄✌✝✍✏☛✄✂ ✆✍✡✠✡☞✄☎☛✄✂ ✂✄ ✠✌☎✷✍✌✄☎☛ ✡✌✍✂ ☞✄ ✡✥✡☛☛☞✄ ☞✡☛✝✁✡✡✡✄ ✆✝☛✁✄☎☛ ✆✝✍ ✆✝☛✁✄☎☛ ✒ ✡✄ ✆✡✝☎
✆✍✁☎✠✁✆✝✡ c2 − c3 ✓ ✏☛✁ ✄✂☛ ✡✄ ✆✡☛✂ ✝☞✝✆☛✡ ✤ ✡✝ ✟✁✂☛✝✡✁✂✝☛✁✌☎ ☞✄✂ ☞✁✆✡✍✄☎✠✄✂ ✂✁✞☎✝✡✡✄✂ ✠✁✛☞✄✂✂☛✂✓ ✄✂☛
✆✍✡✂✄☎☛✡ ✂✡✆✝✍✡✌✄☎☛ ✆✌☛✍ ✡✄✂ ☛✍✌✁✂ ✆✝☛✁✄☎☛✂ ✂☛✍ ✡✝ ✷✞☛✍✄ ✶✎✷✎ ✢✝ ✟✌✁✄ v4

✄✂☛ ☛✌☛✬✌☛✍✂ ✡✝ ✆✡☛✂ ✍✁✠☞✄
✄☎ ✡✟✡☎✄✌✄☎☛✂✓ ✝✟✄✠ ☛☎ ✡✠✝✍☛ ✄☎✠✌✍✄ ✆✡☛✂ ✞✍✝☎☞ ✆✝✍ ✍✝✆✆✌✍☛ ✝☛✯ ✝☛☛✍✄✂ ✆✌☛✍ ✡✄ ✆✝☛✁✄☎☛ p3
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✌✔✁✧✎✚✌✓✔✘✍✔✏✌ ✑✚✜ ✜✧★✒✚✌✓✚✜✥ ✢✄✂ ✍✡✂☛✡☛✝☛✂ ☞✄ ✡✝ ✆✍✌✬✄✠☛✁✌☎ ☞✄✂ ✧✝✍✒✠✄☎☛✍✄✂ ☞✄✂ ✞✍✌☛✆✄✂
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s12

✂☛✍ ✡✄✂ ✆✡✝☎✂ ☞✡✷☎✁✂ ✆✝✍ ✡✄✂ ✝✯✄✂ ✆✍✁☎✠✁✆✝☛✯ ✂✌☎☛ ✆✍✡✂✄☎☛✡✂ ✷✞☛✍✄ ✶✎✰✎
✢✄✂ ☞✁✆✡✍✄☎✠✄✂ ✂✌☎☛ ✌✌✁☎✂ ☎✄☛☛✄✂ ✏☛✥✄☎☛✍✄ ✡✄✂ ✟✌✁✄✂✎ ✰☎ ✠✌☎✂✁☞✡✍✝☎☛ ✡✄ ☛✍✌✁✂✁✔✌✄ ✝✯✄ ✆✍✁☎✠✁✆✝✡

c3 ✓ ✌☎ ✌✧✂✄✍✟✄ ✏☛✄ ✡✄✂ ✟✝✡✄☛✍✂ ☞✁✌✁☎☛✄☎☛ ✟✄✍✂ ✡✝ ✷☎ ☞☛ ✠✒✠✡✄ ☞✁✞✄✂☛✁✘ ✄☛ ☞✄✟✁✄☎☎✄☎☛ ☎✡✞✝☛✁✟✄✂ ✒
✡✥✝✠☛✁✟✁☛✡ ✂✌☎✌✍✄ ✄☎ ✆✡✍✁✌☞✄ ✆✌✂☛✆✍✝☎☞✁✝✡✄ ✂✄✌✧✡✄ ✫☛✍✄ ☞✄ ✆✡☛✂ ☞✝☛☛✄ ✘✍✡✏☛✄☎✠✄ ✏☛✄ ✠✄✡✡✄ ☞✄ ✡✝
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✁✂✄☎ ✶✎✰ ✄ ✩✎✠✄☞✢✟☛✠✝✔ ✑☞✔ ✔✍❃✒☞✝✢☞✔ s1
✄

s12
✔✒✎ ✏☞✔ ✗✏✞✝✔ ✗✎☛✝✢☛✗✞✒✕✘

✆✡✍✁✌☞✄ ✂☛✁✟✝☎☛✄ ✴✬☛✂✏☛✥✤ ✡✝ ✷☎ ☞✄✂ ✲✪✷ ✌✁☎☛☛✄✂ ☞✥✄☎✍✄✞✁✂☛✍✄✌✄☎☛✵✎ ✎☎ ✆✄☛☛ ☎✌☛✄✍ ✡✞✝✡✄✌✄☎☛ ✏☛✄
✡✄✂ ✟✝✡✄☛✍✂ ✌✌✒✄☎☎✄✂ ☞✄ ✡✝ ✆✍✄✌✁✔✍✄ ✠✌✌✆✌✂✝☎☛✄ ✆✍✁☎✠✁✆✝✡✄ ✌☎☛ ☛☎✄ ☛✄☎☞✝☎✠✄ ✠✍✌✁✂✂✝☎☛✄ ✝☛ ✠✌☛✍✂
☞☛ ☛✄✌✆✂ ✴✟✌✁✍ ✷✞☛✍✄ ✶✎✲✬✓ ✏☛✁ ✌✌☎☛✍✄ ✡✥✡✟✌✡☛☛✁✌☎ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ✂✄✡✌☎ ✡✄✂ ✝✯✄✂ ✆✍✁☎✠✁✆✝☛✯✵✎

✠✄✍☛✄✂✓ ✠✄☛☛✄ ✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☎✡✠✄✂✂✁☛✄ ☞✥✫☛✍✄ ✠✌☎✷✍✌✡✄ ✠✝✍ ✄✡✡✄ ☎✥✄✂☛ ✆✝✂ ✡✟✁☞✄☎☛✄ ✏☛✝☎☞ ✌☎
✠✌☎✂✁☞✔✍✄ ✡✄✂ ☞✁✆✡✍✄☎☛✂ ✆✝☛✁✄☎☛✂ ✒ ✆✝✍ ✄✯✄✌✆✡✄✓ ✡✝ ☞✁✌✁☎☛☛✁✌☎ ☞✄ ✡✝ ✘✍✡✏☛✄☎✠✄ ✌✌✒✄☎☎✄ c3 ✝☛
✠✌☛✍✂ ☞☛ ☛✄✌✆✂ ✍✄✂☛✄ ✟✍✝✁✄ ✆✌☛✍ ✡✄✂ ☛✍✌✁✂ ✆✝☛✁✄☎☛✂✓ ✌✝✁✂ ✂✌☎ ✡✟✌✡☛☛✁✌☎ ✄☛ ✡✄ ✌✌✌✄☎☛ ☞☛ ✆✝✂✂✝✞✄
✄☎ ☞✄✂✂✌☛✂ ☞✄ ✡✝ ✌✌✒✄☎☎✄ ✂✌☎☛ ☞✁✆✡✍✄☎☛✂ ✴✆✡✍✁✌☞✄✂ ✆✌✂☛✆✍✝☎☞✁✝✡✄✂ ✝✒✝☎☛ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂
✟✝✍✁✝✧✡✄✂ ✄☎ ✘✌☎✠☛✁✌☎ ☞☛ ✆✝☛✁✄☎☛ �✵ ✴✷✞☛✍✄ ✶✎✲✲✵✎ ✙✄ ✆✡☛✂✓ ✡✄✂ ✡✟✌✡☛☛✁✌☎✂ ☎✄ ✂✌☎☛ ✆✝✂ ✁☞✄☎☛✁✏☛✄✂
✂☛✍ ☛✌☛☛✄✂ ✡✄✂ ✟✌✁✄✂✓ ✄☛ ✂☛✍ ☞✄☛✯ ✟✌✁✄✂ ✴
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✵ ✡✝ ✘✍✡✏☛✄☎✠✄ ✌✌✒✄☎☎✄ ✄☎ ✷☎ ☞✥✄☎✍✄✞✁✂☛✍✄✌✄☎☛ ✄✂☛
✡✡✞✔✍✄✌✄☎☛ ✂☛✆✡✍✁✄☛✍✄ ✤ ✡✝ ✌✌✒✄☎☎✄✎

✌✔✁✧✎✚✌✓✔✘✍✔✏✌ ✑✚✜ ✙✘✍✔✚✌✍✜✥ ✢✄✂ ✆✍✌✬✄✠☛✁✌☎✂ ☞✄✂ ✧✝✍✒✠✄☎☛✍✄✂ ☞✄✂ ☎☛✝✞✄✂ ☞✄ ✆✌✁☎☛✂ ✠✌✍✍✄✂✛
✆✌☎☞✝☎☛ ✤ ✠☞✝✏☛✄ ✆✝☛✁✄☎☛ ✂✌☎☛ ✆✍✡✂✄☎☛✡✄✂ ✷✞☛✍✄ ✶✎✲✫✎

✢✄ ✆✝☛✁✄☎☛ p3
✂✄✌✧✡✄ ✂✄ ☞✡☛✝✠☞✄✍ ☞✄✂ ☞✄☛✯ ✝☛☛✍✄✂ ✂✄✡✌☎ ✡✥✝✯✄ c2 ✓ ✠✄ ✏☛✁ ✁☎☞✁✏☛✄ ☛☎ ☎✌✌✧✍✄ ✆✡☛✂
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✆✡☛✂ ✏☛✄ ✠✥✄✂☛ ✡✝ ✟✌✁✄ v4
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✮✯✓✲✰ ✶✫✓✭ ✶✫✓✭
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✬✓✷✲ ✬✓✰ ✲✬✬✓✬

✂✄☎☎ ✶✎✯ ✄ ✆✞✎☛✞✝✢☞✔ ✑☞✔ ✢✠✡✗✠✔✞✝✟☞✔ ✗✎☛✝✢☛✗✞✏☞✔ ✑✒ ✔☛✌✝✞✏ ✗✞✟✰✠✏✠✌☛❃✒☞ ✬✑✞✝✔ ✏❂☞✔✗✞✢☞ ✑✍✠✝☛ ✄ ✗✞✎✟☛✎ ✑☞✔
✗✰✠✝✠☞✝✟✍✎✠✌✎✞✡✡☞✔ ✝✠✎✡✞✒✕✮ ☞✟ ✏☞✒✎✔ ✢✠✝✟✎☛✓✒✟☛✠✝✔✭ ☞✝ ✗✠✒✎✝✢☞✝✟✭ ✄ ✏✞ ✫✞✎☛✞✝✢☞ ✑☞✔ ✑✠✝✝✍☞✔ ✑✒ ✗✞✟☛☞✝✟ ✡✞✏✞✑☞✘

✜☛ ✡✄ ✘✝✁✧✡✄ ✄✆✄✠☛✁✘ ☞☛ ✞✍✌☛✆✄ ☞✄ ✂✡✏☛✄☎✠✄✂ ✆✝☛☞✌✡✌✞✁✏☛✄✂✓ ☎✌☛✂ ☎✄ ✡✥✝✟✌☎✂ ✆✝✂ ✂✡✆✝✍✡ ✄☎
✂✌☛✂✛✞✍✌☛✆✄✂✎ ✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓ ✁✡ ✄✂☛ ✍✄✆✍✡✂✄☎☛✡ ✆✝✍ ☛☎ ☎☛✝✞✄ ☛☎✁✏☛✄ ☞✄ ✮✫ ✆✌✁☎☛✂✎ ✢✝ ✆✍✌✬✄✠☛✁✌☎
☞✄ ✂✌☎ ✧✝✍✒✠✄☎☛✍✄ ✂☛✍ ✡✄✂ ✆✡✝☎✂ ✆✍✁☎✠✁✆✝☛✯ ✆✄✍✌✄☛ ☛☎✄ ✠✌✌✆✝✍✝✁✂✌☎ ✄☎☛✍✄ ✠✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄
✄☛ ✡✄✂ ☛✍✌✁✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂ ☞✄✂ ✆✝☛✁✄☎☛✂ ✂✝✁☎✂ ✴✷✞☛✍✄ ✶✎✲✮✵✓ ✄☛ ✌☎ ✍✄✌✝✍✏☛✄ ✏☛✄ ✒

✄ ✡✄ ☎✁✟✄✝☛ ✂✌☎✌✍✄ c1
☞☛ ✆✝☛✁✄☎☛ ✌✝✡✝☞✄ ✄✂☛ ✧✄✝☛✠✌☛✆ ✆✡☛✂ ✡✡✄✟✡ ✝

✄ ✡✝ ✟✘✍✡✏☛✄☎✠✄ ✌✌✒✄☎☎✄✠ c2
✄✂☛ ✡✡✞✔✍✄✌✄☎☛ ✆✡☛✂ ✧✝✂✂✄ ✝

✄ ✡✝ ✍✁✠☞✄✂✂✄ ✄☎ ✡✟✡☎✄✌✄☎☛✂ c2
☎✥✄✂☛ ✆✝✂ ☞✁✂✠✍✁✌✁☎✝☎☛✄ ✄☎☛✍✄ ✠✄ ✂✁✞☎✝✡ ✄☛ ✠✄✡☛✁ ☞☛ ✆✝☛✁✄☎☛ p3

✎

−5 0 5

−5

−4

−3

−2

−1

0

1

2

3

4

5

patient 1 patient 2

patient 3

c
2

c
1

pathologique

✬✞✮ ✗✏✞✝ c1
✖
c2

−5 0 5

−5

−4

−3

−2

−1

0

1

2

3

4

5

patient 1
patient 2

patient 3

c
3

c
2

pathologique

✬✓✮ ✗✏✞✝ c2
✖
c3

−5 0 5

−5

−4

−3

−2

−1

0

1

2

3

4

5

patient 1
patient 2

patient 3

c
2

c
1

pathologique

✬✢✮ ✗✏✞✝ c1
✖
c3

✁✂✄☎ ✶✎✲✮ ✄ ✩✎✠✄☞✢✟☛✠✝✔ ✑☞✔ ✗✞✟☛☞✝✟✔ ✔✞☛✝✔ p1
✖
p3

☞✟ ✑✒ ✗✞✟☛☞✝✟ ✡✞✏✞✑☞ ✔✒✎ ✏☞✔ ✗✏✞✝✔ ✗✎☛✝✢☛✗✞✒✕✘ ★❂✍✢✰☞✏✏☞ ☞✔✟
✡✠✑☛✠✍☞ ✗✞✎ ✎✞✗✗✠✎✟ ✄ ✏✞ ✠✌✒✎☞ ☛✘✱✞ ✗✠✒✎ ✗✎☞✝✑✎☞ ☞✝ ✢✠✡✗✟☞ ✏☞✔ ✢✠✠✎✑✠✝✝✍☞✔ ✑✒ ✗✰✠✝✠☞✝✟✍✎✠✌✎✞✡✡☞ ✗✞✟✰✠✏✠✌☛❃✒☞✘

✂✜✖☞ ✡✪✡☞ ✗✎✠✓✏❄✡☞ ✔☞ ✗✠✔☞ ☛✡✗✏☛✢☛✟☞✡☞✝✟ ✗✠✒✎ ✟✠✒✟ ✔✠✒✔✝✌✎✠✒✗☞ ✑✒ ✝✒✞✌☞ ☛✝☛✟☛✞✏ ✑☞ ✗✠☛✝✟✔ ✖ ☛✏ ✝☞ ✔☞✎✞ ✗✞✔✕✠✎✢✍✡☞✝✟ ✓☛☞✝ ✎☞✗✎✍✔☞✝✟✍ ✑✞✝✔ ✒✝ ☞✔✗✞✢☞ ✢✠✝✔✟✎✒☛✟ ✗✠✒✎ ✏❂☞✝✔☞✡✓✏☞✘

✲✭✬



�✏✂✏ ✂✁✁✄✠✝☎ ☎✁ ✄✂✞☎✂✝✁✁✟☎✝ ☎☛✠✁✄✠☎✁✄☎✝

✛✏✌✜ ✘✢✑✏✣✔✌✘✒✤ ✔✌✑✔✂✔✑✒✚✦✜
✢✥✝☎✝✡✒✂✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✁☎☞✁✟✁☞☛✄✡✂ ✆✄☛☛ ✂✄ ✘✝✁✍✄ ✂✄✡✌☎ ✡✝ ✌✫✌✄ ✌✡☛☞✌☞✌✡✌✞✁✄ ✏☛✄ ✠✄✡✡✄

☞✄✂ ✂✡✏☛✄☎✠✄✂ ☞✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✎ ✢✄✂ ✞✍✌☛✆✄✂ ✡☛☛☞✁✡✂ ✄☛ ✠✌✌✆✝✍✡✂ ✂✌☎☛ ✠✌☎✂☛✁☛☛✡✂ ☞✄✂ ✂✌☎✂
✁☎☞✁✟✁☞☛✄✡✂ ✄☎✍✄✞✁✂☛✍✡✂ ✟✌✁✄ ✆✝✍ ✟✌✁✄✓ ☞☛✍✝☎☛ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ✂☛✠✠✄✂✂✁✟✄✂ ☞✄ ✲✶ ✌✁☎☛☛✄✂ ✌☛ ✆✝☛✁✄☎☛

✆✝✍ ✆✝☛✁✄☎☛✎
✠✄✆✄☎☞✝☎☛✓ ✁✡ ✒ ✝ ☞✄☛✯ ✁☎✠✌☎✟✡☎✁✄☎☛✂ ✁✌✆✌✍☛✝☎☛✂ ✤ ✠✄☛☛✄ ✝✆✆✍✌✠☞✄ ✒

✲✎ ✠✌✌✌✄ ✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄ ✡✥✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ✄✂☛ ✘✌☎☞✡✄ ✂☛✍ ✡✝ ✠✌✌✆✝✛
✍✝✁✂✌☎ ☞✄✂ ✌✌✒✄☎☎✄✂ ☞✄✂ ☞✁✆✡✍✄☎☛✂ ✞✍✌☛✆✄✂✓ ✄✡✡✄ ✄✂☛ ✧✁✝✁✂✡✄ ✆✝✍ ✡✄✂ ✄✆✄✠☛✁✘✂ ☞✄ ✠✄✂ ✞✍✌☛✆✄✂✎
✙✝☎✂ ✡✄ ✠✝✂ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ☞✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✓ ✡✥✄✆✄✠☛✁✘ ☞✄✂ ✞✍✌☛✆✄✂ ✠✌✌✆✝✍✡✂ ✡☛✝✁☛
✁☞✄☎☛✁✏☛✄ ✆✝✍ ☞✡✷☎✁☛✁✌☎✓ ✝✡✌✍✂ ✏☛✥✁✠✁ ✁✡ ☎✥✒ ✝ ✆✝✂ ☞✄ ✍✝✁✂✌☎ ☞✄ ✂☛✆✆✌✂✄✍ ✏☛✄ ✡✄ ✌✫✌✄ ☎✌✌✧✍✄
☞✄ ✂✌☎✂ ✂✄✍✝ ✆✍✌☞☛✁☛ ✤ ☛☎ ✄☎☞✍✌✁☛ ✌☛ ☛☎ ✝☛☛✍✄ ☞✄ ✡✥✝✧☞✌✌✄☎ ✴✠✌✌✆✝✍✝✁✂✌☎ ☞✄✂ ✟✌✁✄✂✵✓ ✝☛
☞✡✧☛☛ ✄☛ ✤ ✡✝ ✷☎ ☞☛ ✠✒✠✡✄ ☞✁✞✄✂☛✁✘ ✴✠✌✌✆✝✍✝✁✂✌☎ ☞✄✂ ✂✡✏☛✄☎✠✄✂✵ ✌☛ ✆✝✍ ☞✁✆✡✍✄☎☛✄✂ ✆✄✍✂✌☎☎✄✂
✴✠✌✌✆✝✍✝✁✂✌☎ ☞✄✂ ✆✝☛✁✄☎☛✂✵✎ ✙✥✝✁✡✡✄☛✍✂✓ ✠✄☛☛✄ ☞✒✆✌☛☞✔✂✄ ✄✂☛ ✘✝☛✂✂✄ ✒ ✡✥✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✛
✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ✆✍✡✂✄☎☛✡✄ ☞✝☎✂ ✡✝ ✂✄✠☛✁✌☎ ✆✍✡✠✡☞✄☎☛✄ ✠✌✌✆✝✍✄ ✡✄✂ ✞✍✌☛✆✄✂✓
✄☎☛✍✄ ✝☛☛✍✄✂✓ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄ ✡✄☛✍ ✍✁✠☞✄✂✂✄ ✄☎ ✡✟✡☎✄✌✄☎☛✂✓ ✄☛ ✄✡✡✄ ✌✌☎☛✍✄ ✆✝✍ ✄✯✄✌✆✡✄ ✏☛✄ ✡✄

✆✝☛✁✄☎☛ p3
✆✍✌☞☛✁☛ ✆✡☛✂ ☞✄ ✂✌☎✂ ✏☛✄ p1

✄☛
p2

✎ ✖✁ ✡✄✂ ☞✁✆✡✍✄☎✠✄✂ ✄☎☛✍✄ ✡✄✂ ✄✆✄✠☛✁✘✂ ✄☛ ✄☎☛✍✄ ✡✄✂
✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✌✌✒✄☎☎✄✂ ☞✄✂ ✆✝☛✁✄☎☛✂ ✂✌☎☛ ✁✌✆✌✍☛✝☎☛✄✂✓ ✡✄✂ ✠✌✌✆✝✍✝✁✂✌☎✂ ✞✡✌✧✝✡✄✂ ✄☎☛✍✄
✡✄✂ ✟✌✁✄✂ ✄☛ ✡✄✂ ✂✡✏☛✄☎✠✄✂ ☎✄ ✆✄☛✟✄☎☛ ✆✡☛✂ ✫☛✍✄ ✁☎☛✄✍✆✍✡☛✡✄✂✓ ✠✝✍ ✄✡✡✄ ✂✄✍✌☎☛ ✄☎ ✘✝✁☛ ☞☛✄✂ ✝☛✯
☞✁✆✡✍✄☎✠✄✂ ✝☛ ✂✄✁☎ ☞☛ ✞✍✌☛✆✄ ☞✄ ✂✌☎✂ ✆✍✌☞☛✁☛✂ ✆✝✍ ✡✄ ✆✝☛✁✄☎☛ ✡✄ ✆✡☛✂ ✝✠☛✁✘✎

✫✎ ✠✌✌✌✄ ✡✥✄✂✆✝✠✄ ☞✄ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎ ☞✄✂ ✂✌☎✂ ✍✄☛✄☎☛ ✝✆✍✔✂ ✡✥✎✠✗ ✄✂☛ ✄☎✞✄☎☞✍✡ ✆✝✍ ☞✄✂ ✝✯✄✂ ✏☛✁
✌☎☛ ☛☎✄ ✂✁✞☎✁✷✠✝☛✁✌☎ ✆✍✌✠☞✄ ☞✄✂ ✝✯✄✂ ☞✄ ✡✥✄✂✆✝✠✄ ☛☛✁✡✁✂✡ ✆✌☛✍ ✡✝ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎ ☞✄✂ ✂✡✏☛✄☎✠✄✂✓
✡✥✁☎✘✌✍✌✝☛✁✌☎ ✍✁✂✏☛✄ ☞✥✫☛✍✄ ✍✄☞✌☎☞✝☎☛✄✎ ✢✝ ✍✝✁✂✌☎ ✄✂☛ ✂✁✌✆✡✄ ✒ ✡✄ ✧✝✍✒✠✄☎☛✍✄ ☞✥☛☎ ✞✍✌☛✆✄ ☞✄
✂✌☎✂ ✄✂☛ ☛☎ ✂✌☎ ✟✍✄✆✍✡✂✄☎☛✝☛✁✘✠ ✠✝✍✝✠☛✡✍✁✂✡ ✆✝✍ ☛☎ ☎✁✟✄✝☛ ✂✌☎✌✍✄ ✌✌✒✄☎ ✴

c1
☞✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄✂

✂✌☎✂ ✁☎☞✁✟✁☞☛✄✡✂✵✓ ☛☎✄ ✘✍✡✏☛✄☎✠✄ ✌✌✒✄☎☎✄ ✴
c2

✵ ✄☛ ☛☎✄ ☞☛✍✡✄ ✌✌✒✄☎☎✄ ✴
c3

✵✎ ✎✍ ✡✥✝✯✄ ☞✄ ✡✝
✘✍✡✏☛✄☎✠✄ ✌✌✒✄☎☎✄ ✄☛ ✠✄✡☛✁ ☞☛ ☎✁✟✄✝☛ ✂✌☎✌✍✄ ✂✌☎☛ ☞✄✂ ✝✯✄✂ ✆✍✌✠☞✄✂ ☞✄ ✠✄☛✯ ☞✄ ✡✥✄✂✆✝✠✄ ☞✄✂
✂✡✏☛✄☎✠✄✂✓ ✄☛ ☛☎ ✡✟✡☎✄✌✄☎☛ ✌✌✒✄☎ ☞✥☛☎ ✆✝☛✁✄☎☛ ☎✄ ✂✄✍✝ ✆✝✂ ✡✌✁☎ ☞✄ ✡✝ ✂✡✏☛✄☎✠✄ ✌✌✒✄☎☎✄
☞☛ ✌✫✌✄ ✆✝☛✁✄☎☛✓ ✟☛ ✏☛✥✄✡✡✄ ✄✂☛ ✠✝✡✠☛✡✡✄ ✤ ✂✌☎ ☛✌☛✍ ✤ ✆✝✍☛✁✍ ☞✄✂ ✂✌☎✂ ✏☛✁ ✡✝ ✠✌✌✆✌✂✄☎☛✎

✗✌☛✍ ✁✡✡☛✂☛✍✄✍ ✠✄✂ ✆✍✌✆✌✂✓ ✁✡ ✄✂☛ ✂☛☎✂✝☎☛ ☞✄ ✠✌✌✆✝✍✄✍ ✡✄✂ ✷✞☛✍✄✂ ✶✎✲✶ ✄☛ ✶✎✪ ✒ ✡✝ ✟✌✁✄ v3
✂✄

☞✡☛✝✠☞✄ ✴✘✝✁✧✡✄✌✄☎☛✵ ☞✄✂ ✝☛☛✍✄✂ ✆✝✍ ✂✝ ✘✍✡✏☛✄☎✠✄ ✆✡☛✂ ✡✡✄✟✡✄ ✴
c3

☞✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄✂ ✂✡✏☛✄☎✠✄✂✓
c2

☞✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄✂ ✂✌☎✂ ✁☎☞✁✟✁☞☛✄✡✂✵ ☞✝☎✂ ✡✄✂ ☞✄☛✯ ✠✝✂✎ ✙✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄✂ ✂✌☎✂✓ ✌☎ ✆✄✍☞
✡✥✁☎✘✌✍✌✝☛✁✌☎ ✂☛✍ ✡✝ ✍✁✠☞✄✂✂✄ ✄☎ ✡✟✡☎✄✌✄☎☛✂ ☞✄ ✡✝ ✟✌✁✄ v4

✎ ✰☎ ✍✄✟✝☎✠☞✄✓ ✡✝ ✷✞☛✍✄ ✶✎✲✶ ✂☛✞✞✔✍✄
✏☛✄ ✡✄✂ ✡✟✡☎✄✌✄☎☛✂ ✁✂✂☛✂ ☞✄ ✠✄☛☛✄ ✟✌✁✄ ✂✌☎☛ ✆✡☛☛✌☛ ✧✝✂✂✄✛✘✍✡✏☛✄☎✠✄✓ ✠✄ ✏☛✁ ☎✥✡☛✝✁☛ ✆✝✂ ✟✁✂✁✧✡✄
✂☛✍ ✡✝ ✷✞☛✍✄ ✶✎✪✎

✢✝ ✌✫✌✄ ✍✄☞✌☎☞✝☎✠✄ ☞✄ ✡✥✁☎✘✌✍✌✝☛✁✌☎ ✄✂☛ ✠✌☎✂☛✝☛✡✄ ✆✌☛✍ ✡✄ ✠✝✂ ✆✝☛☞✌✡✌✞✁✏☛✄ ✴✷✞☛✍✄ ✶✎✲✪✵ ✒
✡✄ ✆✝☛✁✄☎☛ ✌✝✡✝☞✄ ✂✄ ☞✡☛✝✠☞✄ ☞✄✂ ✝☛☛✍✄✂ ✆✝✍ ☛☎ ☎✁✟✄✝☛ ✂✌☎✌✍✄ ✆✡☛✂ ✁✌✆✌✍☛✝☎☛ ✄☛✓ ✡✡✞✔✍✄✌✄☎☛✓ ✆✝✍
☛☎✄ ✘✍✡✏☛✄☎✠✄ ✆✡☛✂ ✧✝✂✂✄✓ ✠✄ ✏☛✁ ✡☛✝✁☛ ☞✡✬✤ ✟✁✂✁✧✡✄ ✂☛✍ ✡✝ ✷✞☛✍✄ ✶✎✲✮✎

✎ ✡✝ ✟☛✄ ☞✄✂ ✠✌☎✂☛✝☛✂ ✆✍✡✠✡☞✄☎☛✂✓ ✡✥✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ✝✆✆✡✁✏☛✡✄ ✠✌✌✌✄ ☛☎
✌☛☛✁✡ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✴☞✄ ☞✁✆✡✍✄☎✠✁✝☛✁✌☎ ✄☎☛✍✄ ✡✄✂ ✞✍✌☛✆✄✂✵ ☞✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄✂ ✂✌☎✂ ✁☎☞✁✟✁☞☛✄✡✂
☎✥✝✆✆✌✍☛✄ ✆✝✂ ☞✄ ☎✌☛✟✄✡✡✄✂ ✁☎✘✌✍✌✝☛✁✌☎✂✓ ✄✡✡✄ ✆✍✡✂✄☎☛✄ ☛☎✄ ✠✄✍☛✝✁☎✄ ✍✄☞✌☎☞✝☎✠✄ ✆✝✍ ✍✝✆✆✌✍☛ ✤
✡✥✎✠✗ ☞✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄✂ ✂✡✏☛✄☎✠✄✂✎ ✙✄ ✆✡☛✂✓ ✂✌☎ ✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ✍✁✂✏☛✄ ☞✥✫☛✍✄ ✧✁✝✁✂✡✄ ✆✝✍ ✡✝ ☞✁✂☛✍✁✛
✧☛☛✁✌☎ ☞✄✂ ✂✌☎✂ ☞✝☎✂ ✡✄✂ ✞✍✌☛✆✄✂ ✴✠✡✝✂✂✄✂✵✎ ✮☎ ✠☞✌✁✯ ✄☎☛✍✄ ✡✄✂ ☞✄☛✯ ✄✂✆✝✠✄✂ ☎✥✄✂☛ ✆✝✂ ✆✌✂✂✁✧✡✄ ✆✌☛✍
✡✥✁☎✂☛✝☎☛✓ ✠✝✍ ☎✌☛✂ ☎✄ ☞✁✂✆✌✂✌☎✂ ✆✝✂ ☞✥☛☎✄ ✧✝✂✄ ☞✄ ✂✁✞☎✝☛✯ ☎✌✍✌✝☛✯ ✄☛ ✆✝☛☞✌✡✌✞✁✏☛✄✂ ✂☛☎✂✝☎☛✄✎
✙✥✝✁✡✡✄☛✍✂✓ ☛☎✄ ✡☛☛☞✄ ✂☛✍ ☞✝✟✝☎☛✝✞✄ ☞✄ ✠✝✂ ✆✌☛✍✍✝✁☛ ✠✌☎✷✍✌✄✍ ✡✥☛☛✁✡✁☛✡ ☞✄✂ ☞✄☛✯ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎✂✓
✂✥✁✡ ✂✥✝✟✔✍✄ ✏☛✥✄✡✡✄✂ ✂✌☎☛ ✂☛✍ ✠✄✍☛✝✁☎✂ ✆✌✁☎☛✂ ✠✌✌✆✡✡✌✄☎☛✝✁✍✄✂✎

✲✭✲



�✁✁☎✠✟☛☎ �✏ ✂✁✁✄✠✝☎ ✆☎✝ ☎✁✂✁✂☎✁✟✆☛✂✁☛✁✞✞☎✝

−1.5 −1 −0.5 0 0.5 1 1.5
−1.5

−1

−0.5

0

0.5

1

1.5

voie 1
voie 2

voie 3

voie 4

voie 5

voie 6

c
2

c
1

✬✞✮ ✗✏✞✝ c1
✖
c2

−1.5 −1 −0.5 0 0.5 1 1.5
−1.5

−1

−0.5

0

0.5

1

1.5

voie 1
voie 2

voie 3

voie 4

voie 5

voie 6

c
3

c
2

✬✓✮ ✗✏✞✝ c2
✖
c3

−1.5 −1 −0.5 0 0.5 1 1.5
−1.5

−1

−0.5

0

0.5

1

1.5

voie 1

voie 2
voie 3

voie 4
voie 5

voie 6

c
3

c
1

✬✢✮ ✗✏✞✝ c1
✖
c3

✁✂✄☎ ✶✎✲✶ ✄ ✩✎✠✄☞✢✟☛✠✝✔ ✑☞✔ ✫✠☛☞✔
v1

✄
v6

✔✒✎ ✏☞✔ ✗✏✞✝✔ ✗✎☛✝✢☛✗✞✒✕ ✑☞ ✏❂☞✔✗✞✢☞ ✑☞✔ ✔✠✝✔ ☛✝✑☛✫☛✑✒☞✏✔✘

−1.5 −1 −0.5 0 0.5 1 1.5
−1.5

−1

−0.5

0

0.5

1

1.5

patient 1 patient 2

patient 3

c
2

c
1

pathologique

✬✞✮ ✗✏✞✝ c1
✖
c2

−1.5 −1 −0.5 0 0.5 1 1.5
−1.5

−1

−0.5

0

0.5

1

1.5

patient 1

patient 2

patient 3

c
3

c
2

pathologique

✬✓✮ ✗✏✞✝ c2
✖
c3

−1.5 −1 −0.5 0 0.5 1 1.5
−1.5

−1

−0.5

0

0.5

1

1.5

patient 1

patient 2

patient 3

c
3

c
1

pathologique

✬✢✮ ✗✏✞✝ c1
✖
c3

✁✂✄☎ ✶✎✲✪ ✄ ✩✎✠✄☞✢✟☛✠✝✔ ✑☞✔ ✔✠✝✔ ☛✝✑☛✫☛✑✒☞✏✔ ✝✠✎✡✞✒✕ ✑☞✔ ✗✞✟☛☞✝✟✔ p1
✖
p3

☞✟ ✑☞✔ ✔✠✝✔ ✗✞✟✰✠✏✠✌☛❃✒☞✔ ✔✒✎ ✏☞✔ ✗✏✞✝✔✗✎☛✝✢☛✗✞✒✕✘

✁✟� ✠✂✑✟✟✆☎☎✑✞✆✡✝ ✝✡✝☎✟✒✠✁✄�✆✟✎✁

✠✌✌✌✄ ☎✌☛✂ ✡✥✝✟✌☎✂ ☞✡✬✤ ✍✄✌✝✍✏☛✡✓ ✡✥✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ☎✄ ✠✌☎✂☛✁☛☛✄ ✆✝✂

☛☎ ✌☛☛✁✡ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎✎ ✰☎ ✄✆✄☛✓ ✄✡✡✄ ✄✂☛✁✌✄ ✆✡☛☛✌☛ ✡✄ ✍✌✡✄ ☞✄✂ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ☞✝☎✂ ✡✝
☞✁✆✡✍✄☎✠✁✝☛✁✌☎ ☞✄✂ ✞✍✌☛✆✄✂ ✴✠✡✝✂✂✄✂✵✓ ✄☛ ✄✡✡✄ ☎✄ ✠☞✄✍✠☞✄ ✆✝✂ ✤ ✌✁✄☛✯ ☞✁✆✡✍✄☎✠✁✄✍ ✠✄✂ ✞✍✌☛✆✄✂✎ ✢✄✂

✍✡✂☛✡☛✝☛✂ ✌✧☛✄☎☛✂ ✂✌☎☛ ☎✡✝☎✌✌✁☎✂ ✁☎☛✡✍✄✂✂✝☎☛✂ ✆✌☛✍ ☎✌☛✍✄ ✆✍✌✧✡✔✌✄✓ ✂✌☎ ✝✆✆✡✁✠✝☛✁✌☎ ✄✂☛ ✂✁✌✆✡✄ ✄☛
✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ✄✂☛ ✍✄✡✝☛✁✟✄✌✄☎☛ ✘✝✠✁✡✄✎ ✰✡✡✄ ☎✥✄✂☛ ✠✄✆✄☎☞✝☎☛ ✆✝✂ ✠✝✆✝✧✡✄ ☞✄ ☛✍✌☛✟✄✍ ☞✄✂ ✞✍✌☛✆✄✂
✄☛ ✌☎ ☎✄ ✆✄☛☛ ✆✝✂ ☞✡☛✄✠☛✄✍✓ ✆✝✍ ✄✯✄✌✆✡✄✓ ☛☎ ☛✒✆✄ ✆✝✍☛✁✠☛✡✁✄✍ ☞✥✝✠☛✁✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄ ✌☛ ☛☎ ✂✌☎
✆✝✍☛✁✠☛✡✁✄✍ ✂✥✁✡ ☎✥✄✂☛ ✆✝✂✓ ☞✥☛☎✄ ✆✝✍☛✓ ✂✆✡✠✁✷✏☛✄ ✤ ☛☎ ✞✍✌☛✆✄ ✆✍✡☞✡✷☎✁✓ ✄☛ ☞✥✝☛☛✍✄ ✆✝✍☛✓ ✂☛☎✂✝✌✌✄☎☛
✧✁✄☎ ✍✄✆✍✡✂✄☎☛✡ ✆✝✍ ✡✝ ✌✌✒✄☎☎✄ ☞✄ ✠✄ ✞✍✌☛✆✄✎ ✎☛☛✍✄✌✄☎☛ ☞✁☛✓ ✌☎ ☎✥✝✍✍✁✟✄✍✝ ✬✝✌✝✁✂ ✤ ☞✡☛✄✠☛✄✍ ☛☎
☛✒✆✄ ☞✥✝✠☛✁✟✁☛✡ ✝✆✆✝✍✝✁✂✂✝☎☛ ☞☛✍✝☎☛ ✂✄☛✡✄✌✄☎☛ ✏☛✄✡✏☛✄✂ ✌✁☎☛☛✄✂ ☞☛ ✠✒✠✡✄ ☞✁✞✄✂☛✁✘ ✂☛✍ ✆✡☛✂✁✄☛✍✂
✟✌✁✄✂✓ ✌☛ ✄☎✠✌✍✄ ☛☎ ✡✟✡☎✄✌✄☎☛ ✍✝✍✄ ✠✌✌✌✄ ☛☎ ✂✌☎ ✂✆✡✠✁✷✏☛✄ ✤ ☛☎✄ ✆✝☛☞✌✡✌✞✁✄✎

✢✄ ✆✍✌✧✡✔✌✄ ✏☛✄ ✡✥✌☎ ✂✄ ✆✌✂✄ ✄✂☛ ☞✌☎✠ ✒ ✄✯✁✂☛✄✛☛✛✁✡ ☞✄✂ ✠✡✝✂✂✄✂ ☞✄ ✂✡✏☛✄☎✠✄✂ ✌☛ ☞✄ ✂✌☎✂ ✏☛✁ ✂✌✁✄☎☛
☞✡✷☎✁✄✂ ✟☎✝☛☛✍✄✡✡✄✌✄☎☛✠ ✞✍☎✠✄ ✤ ✡✄☛✍✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ✴☎✁✟✄✝☛ ✂✌☎✌✍✄✓ ✘✍✡✏☛✄☎✠✄ ✌✌✒✄☎☎✄✓

✲✭✫



�✏�✏ �✄✁✝✝✠�✄✁✟✠✂✁ ✁✂✁�✝✂☎☎☛✟✠✝✆☎
✄☛✠✎✵ ✄☛ ☎✌☎ ✆✝✂ ✝✍✧✁☛✍✝✁✍✄✌✄☎☛✓ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✡✄☛✍ ✡✁✄☛ ☞✥✡✌✁✂✂✁✌☎ ✌☛ ✁☎✂☛✝☎☛ ☞✥✝✆✆✝✍✁☛✁✌☎ � ✠✌✌✛
✌✄☎☛ ✆✄☛☛✛✌☎ ✡✄✂ ☛✍✌☛✟✄✍ � ✑✌☛✍✄ ✌✧✬✄✠☛✁✘ ✁✌✌✡☞✁✝☛ ✄✂☛ ☞✌☎✠ ✡✝ ☞✡✠✌☛✟✄✍☛✄ ☞✄✂ ✠✡✝✂✂✄✂ ☎✝☛☛✍✄✡✡✄✂✓
✂✁ ✄✡✡✄✂ ✄✯✁✂☛✄☎☛✓ ☞✝☎✂ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂ ✆✌✁☎☛✂ ✴✂✡✏☛✄☎✠✄✂ ✌☛ ✂✌☎✂ ✁☎☞✁✟✁☞☛✄✡✂✵✎ ✢✄ ☞✄☛✯✁✔✌✄ ✌✧✬✄✠☛✁✘
✄✂☛ ✡✥☛☛✁✡✁✂✝☛✁✌☎ ☞✄ ✠✄✂ ✠✡✝✂✂✄✂ ✠✌✌✌✄ ✡☛✝✡✌☎ ✒ ☛✌☛☛ ☎✌☛✟✄✝☛ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄ ✂✄✍✝ ☛✍✝✁☛✡ ✄☛
✠✌✌✆✝✍✡ ✤ ✠✄☛ ✄☎✂✄✌✧✡✄ ☞✥✝✆✆✍✄☎☛✁✂✂✝✞✄✓ ✝✷☎ ☞✥✝✆✆✍✡✠✁✄✍ ✂✝ ☎✌✍✌✝✡✁☛✡ ✌☛ ✡✄✂ ✡✟✄☎☛☛✄✡✡✄✂ ✆✄✍☛☛✍✛
✧✝☛✁✌☎✂ ✆☞✒✂✁✌✡✌✞✁✏☛✄✂✎

✠✌✌✌✄ ✡✄✂ ✠✌☎☎✝✁✂✂✝☎✠✄✂ ✂☛✍ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✄ ✡✥✝✠☛✁✟✁☛✡ ✂✌☎✌✍✄ ✝✧☞✌✌✁☎✝✡✄ ✂✌☎☛ ✏☛✝✂✁✌✄☎☛
☛✌☛✬✌☛✍✂ ✂☛✧✬✄✠☛✁✟✄✂ ✄☛ ☎✌☎ ✘✌✍✌✝✡✁✂✡✄✂✓ ✡✝ ☞✡✌✝✍✠☞✄ ✂☛✁✟✁✄ ✝ ✡☛✡ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄✎

✠✄☛☛✄ ✂✄✠☛✁✌☎ ✠✌✌✌✄☎✠✄ ✆✝✍ ✏☛✄✡✏☛✄✂ ✠✌☎✂✁☞✡✍✝☛✁✌☎✂ ✞✡☎✡✍✝✡✄✂ ✄☛ ☛☎ ✧✍✄✘ ✡☛✝☛ ☞✄ ✡✥✝✍☛ ✂☛✍
✡✄✂ ✌✡☛☞✌☞✄✂ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✴✍✄✠✌☎☎✝✁✂✂✝☎✠✄ ☞✄✂ ✘✌✍✌✄✂✵ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄✎ ✠✄☛☛✄ ✆✍✡✂✄☎☛✝☛✁✌☎ ☎✥✝
✆✝✂ ✡✥✝✌✧✁☛✁✌☎ ☞✥✫☛✍✄ ✄✯☞✝☛✂☛✁✟✄✓ ✠✝✍ ✡✄✂ ☛✍✝✟✝☛✯ ✂✌☎☛ ✄✯☛✍✫✌✄✌✄☎☛ ☎✌✌✧✍✄☛✯ ✄☛ ✡✄✂ ✝✡✞✌✍✁☛☞✌✄✂
✂✌☎☛ ✂✌☛✟✄☎☛ ✠✍✡✡✂ ✂☛✍ ✌✄✂☛✍✄ ✆✌☛✍ ✡✄✂ ☞✁✆✡✍✄☎☛✄✂ ✝✆✆✡✁✠✝☛✁✌☎✂ ✴✠✄ ✏☛✁ ✄✂☛ ✁☎✠✌☎☛✌☛✍☎✝✧✡✄ ☞✝☎✂ ✡✄
☞✌✌✝✁☎✄✵✎

✰☎✂☛✁☛✄✓ ☎✌☛✂ ✡☛☛☞✁✌☎✂ ✡✄☛✍ ✝✆✆✡✁✠✝✧✁✡✁☛✡ ☞✝☎✂ ✡✄ ☞✌✌✝✁☎✄ ☞✄ ✡✝ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✆☞✁✄✓ ☎✌☛✂ ✆✍✡✛
✂✄☎☛✌☎✂ ✡✄✂ ☞✒✆✌☛☞✔✂✄✂ ☞✄ ☛✍✝✟✝✁✡ ✄☛ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ☛☎ ✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄✎
✢✝ ☞✄✍☎✁✔✍✄ ✆✝✍☛✁✄ ✆✍✡✂✄☎☛✄ ✄☛ ✠✌✌✌✄☎☛✄ ✡✄✂ ✍✡✂☛✡☛✝☛✂✎

✡✓✟✓✠ ✠✡✕✚✖☛✝✟ ☛✝ ✄✜✔✟✟✘✁✄✔✕✘✖✆ ✆✖✆✆✟☎✙✝✝✌✘✟✡✝
✠✌✌✌✄ ✡✄✂ ✠✌☎☎✝✁✂✂✝☎✠✄✂ ☞✝☎✂ ✠✄ ☞✌✌✝✁☎✄ ✂✌☎☛ ✂☛✧✬✄✠☛✁✟✄✂ ✄☛ ✆✄☛ ✂☛✍☛✠☛☛✍✡✄✂✓☎✌☛✂ ✄✌✆✡✌✒✌☎✂

☛☎✄ ✌✡☛☞✌☞✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄ ✝✷☎ ☞✄ ✠✌☎✂☛✍☛✁✍✄ ✡✥✄☎✂✄✌✧✡✄ ☞✥✝✆✆✍✄☎☛✁✂✂✝✞✄✎ ✠✄☛☛✄
✌✡☛☞✌☞✄ ☞✌✁☛ ✆✄✍✌✄☛☛✍✄ ☞✄ ☛✍✌☛✟✄✍ ☞✄✂ ✠✡✝✂✂✄✂ ✟☎✝☛☛✍✄✡✡✄✂✠ ☞✌✌✌✞✔☎✄✂ ☞✝☎✂ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂ ✆✌✁☎☛✂
☞✄ ✡✥✄✂✆✝✠✄✓ ✂✝☎✂ ✠✌☎☎✝✣☛✍✄ ✡✄☛✍ ☎✌✌✧✍✄✓ ✡✄☛✍✂ ✆✌✂✁☛✁✌☎✂✓ ✡✄☛✍✂ ☛✝✁✡✡✄✂✓ ✡✄☛✍✂ ✘✌✍✌✄✂ ✄☛ ✡✄☛✍✂ ✄✆✄✠☛✁✘✂✎

✕✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ✆✍✡✠✁✂✄✍ ✠✄ ✏☛✄ ✡✥✌☎ ✄☎☛✄☎☞ ✆✝✍ ✡✝ ☎✌☛✁✌☎ ☞✄ ✟✠✡✝✂✂✄ ☎✝☛☛✍✄✡✡✄✠✎ ✠✄☛☛✄ ☎✌☛✁✌☎
✄✂☛ ✡✁✡✄ ✤ ✠✄✡✡✄ ☞✄ ✂✁✌✁✡✝✍✁☛✡ ✒ ☛☎✄ ✠✡✝✂✂✄ ✟☎✝☛☛✍✄✡✡✄✠ ✠✌☎☛✁✄☎☛ ☞✄✂ ✡✡✡✌✄☎☛✂ ✂✁✌✁✡✝✁✍✄✂ ✄☎☛✍✄ ✄☛✯ ✄☛ ☞✁✘✛
✘✡✍✄☎☛✂ ☞✄✂ ✡✡✡✌✄☎☛✂ ✝✆✆✝✍☛✄☎✝☎☛ ✤ ☞✥✝☛☛✍✄✂ ✠✡✝✂✂✄✂✎ ✰☎ ✍✄✆✍✡✂✄☎☛✝☎☛ ✡✄✂ ✠✡✝✂✂✄✂ ✠✌✌✌✄ ☞✄✂ ☎☛✝✞✄✂
☞✄ ✆✌✁☎☛✂ ☞✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂✓ ✡✝ ✆✡☛✂ ✡✟✁☞✄☎☛✄ ✌✄✂☛✍✄ ☞✄ ✂✁✌✁✡✝✍✁☛✡✍☞✁✂✂✁✌✁✡✝✍✁☛✡
✄☎☛✍✄ ☞✄☛✯ ✡✡✡✌✄☎☛✂ ✴✆✌✁☎☛✂✵ ✄✂☛ ✡✝ ☞✁✂☛✝☎✠✄ ✏☛✁ ✡✄✂ ✂✡✆✝✍✄✎ ✕✡ ✄✂☛ ☞✌☎✠ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ☞✡✷☎✁✍ ✡✝
✌✡☛✍✁✏☛✄ ☛☛✁✡✁✂✡✄✓ ✠✝✍ ✄✡✡✄ ✁☎☞☛✄☎✠✄ ☞✥☛☎✄ ✌✝☎✁✔✍✄ ✄✂✂✄☎☛✁✄✡✡✄ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎✎

✢✄ ✆✍✌✧✡✔✌✄ ✡☎✌☎✠✡ ✝☛ ✆✍✄✌✁✄✍ ✆✝✍✝✞✍✝✆☞✄ ☞✄ ✠✄☛☛✄ ✂✄✠☛✁✌☎ ✄✂☛ ✧✄✝☛✠✌☛✆ ☛✍✌✆ ✞✡☎✡✍✝✡ ✒ ✁✡ ✒ ✝
☛✍✌✆ ☞✄ ✆✝✍✝✌✔☛✍✄✂ ✁☎✠✌☎☎☛✂ ✴✡✝ ✌✡☛✍✁✏☛✄✓ ✡✄ ☎✌✌✧✍✄ ☞✄ ✠✡✝✂✂✄✂✓ ✡✄☛✍✂ ✆✌✂✁☛✁✌☎✂✓ ✡✄☛✍✂ ☛✝✁✡✡✄✂✓ ✡✄☛✍✂✘✌✍✌✄✂ ✄☛ ✡✄☛✍✂ ✄✆✄✠☛✁✘✂✵ ✆✌☛✍ ✏☛✥✁✡ ✆☛✁✂✂✄ ✫☛✍✄ ✍✡✂✌✡☛✎ ✙✥✝✁✡✡✄☛✍✂✓ ☞✝☎✂ ✝✮✬✞✓ ✡✄✂ ✝☛☛✄☛✍✂ ✌✌☎☛✍✄☎☛
✏☛✥✁✡ ✄✂☛ ✁✌✆✌✂✂✁✧✡✄ ☞✄ ☛✍✌☛✟✄✍ ✢✰ ✌✄✁✡✡✄☛✍ ✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎✓ ✠✝✍ ✡✄✂ ✆✄✍✘✌✍✌✝☎✠✄✂

☞✡✆✄☎☞✄☎☛ ☛✌☛✬✌☛✍✂ ☞☛ ✆✍✌✧✡✔✌✄ ✴✁✂ ✂☛☎☎ �✂✁✄✁ �✁☎✂☛☎✞✵ ✄☛ ☞✄ ✡✥✄✂✆✝✠✄ ☞✄ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂
☞✝☎✂ ✡✄✏☛✄✡ ✌☎ ☛✍✝✟✝✁✡✡✄ ✴✁✁✄✠ �✂✄✚✄✠✁✁ �✁☎✂☛☎✞✵✎ ✑✌☛✂ ✆✍✡✂✄☎☛✌☎✂ ☞✝☎✂ ✡✝ ✂☛✁☛✄ ✧✍✁✔✟✄✌✄☎☛ ✡✄✂
✌✡☛✍✁✏☛✄✂ ✡✄✂ ✆✡☛✂ ✠✌☛✍✝☎☛✄✂ ✄☛ ✡✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ✘✝✌✁✡✡✄✂ ☞✥✝✡✞✌✍✁☛☞✌✄✂ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎✎ ✰☎✂☛✁☛✄✓
☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ☞✄✂ ☞✒✆✌☛☞✔✂✄✂ ☞✄ ☛✍✝✟✝✁✡ ✍✄✂☛✍✁✠☛✁✟✄✂✓ ✝✷☎ ☞✄ ✡✁✌✁☛✄✍ ✡✄✂ ✠☞✌✁✯ ✆✌✂✂✁✧✡✄✂✎

✄✚✜✒✎✚✜ ✑✚ ✑✔✜✍✘✌✓✚✥ ✜☛ ✡✝ ✠✌☎✂☛✍☛✠☛✁✌☎ ☞✄ ☎✌☛✍✄ ✄✂✆✝✠✄ ☞✄ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂✓ ☎✌☛✂ ✝✡✡✌☎✂

☎✌☛✂ ✡✁✌✁☛✄✍ ✤ ✆✍✡✂✄☎☛✄✍ ✡✄✂ ✌✡☛✍✁✏☛✄✂ ✡✄✂ ✆✡☛✂ ✠✌☛✍✝☎☛✄✂ ✝✂✂✌✠✁✡✄✂ ✝☛✯ ☞✌☎☎✡✄✂ ☎☛✌✡✍✁✏☛✄✂✎ ✰☎
✘✝✁☛✓ ✠✄✂ ✌✡☛✍✁✏☛✄✂ ✂✌☎☛ ☞✡✍✁✟✡✄✂ ☞✄ ✡✝ ☞✁✂☛✝☎✠✄ ✞✡☎✡✍✝✡✄ ☞✄ �✁☎✥✌✂✂✥✁✎ ✰☎☛✍✄ ☞✄☛✯ ✆✌✁☎☛✂ xi

✄☛

xj
✄✡✡✄ ✂✄ ☞✡✷☎✁☛ ✠✌✌✌✄ ✒

d(xi, xj) = ||xi − xj ||p,
✌✟ || · ||p

✄✂☛ ✡✝ ☎✌✍✌✄ ☛✂☛✄✡✡✄ ☞✝☎✂ Lp
✎ ✢✝ ☞✁✂☛✝☎✠✄ ✡✝ ✆✡☛✂ ☛☛✁✡✁✂✡✄ ✄✂☛ ✡✝ ✑✔✜✍✘✌✓✚ ✚✒✓✦✔✑✔✚✌✌✚✓

✌✧☛✄☎☛✄ ✆✌☛✍ p = 2✓ ✌✝✁✂ ✡✝ ☞✁✂☛✝☎✠✄ �✁✁✁✁✟✟✁✁ ✴✆�✲✵ ✄✂☛ ✝☛✂✂✁ ✠✌☛✍✝☎☛✄✎ ✢✄✂ ☞✁✂☛✝☎✠✄✂ ☞✄ ☛✒✆✄
�✁☎✥✌✂✂✥✁ ✆✍✡✂☛✆✆✌✂✄☎☛ ☛☎ ✄✂✆✝✠✄ ✄☎✞✄☎☞✍✡ ✆✝✍ ☞✄✂ ✝✯✄✂ ✴✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂✵ ✌✍☛☞✌☎✌✍✌✡✂✎

✲✭✭



�✁✁☎✠✟☛☎ �✏ ✂✁✁✄✠✝☎ ✆☎✝ ☎✁✂✁✂☎✁✟✆☛✂✁☛✁✞✞☎✝

✮☎✄ ✝☛☛✍✄ ✌✡☛✍✁✏☛✄ ✠✌☛✍✝☎☛✄ ✄✂☛ ✠✄✡✡✄ ☞✄ �✝☞✝✡✝☎✌✧✁✂✓ ✏☛✁ ✆✍✄☎☞ ✄☎ ✠✌✌✆☛✄ ✡✝ ✌✝☛✍✁✠✄ ☞✄
✟✝✍✁✝☎✠✄✛✠✌✟✝✍✁✝☎✠✄ Σ ☞✄✂ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ ✄☛ ✠✌✌✆✄☎✂✄ ✡✝ ☎✌☎✛✌✍☛☞✌✞✌☎✝✡✁☛✡ ☞✄✂ ✝✯✄✂ ✒

dM (xi, xj) =
√

(xi − xj)T Σ−1(xi − xj).
✴✶✎✲✵

✲✦✴✏✎✔✍✗✣✚✜ ✌✏✌✞✜✒✙✚✎✂✔✜✧✜✥ ✮☎ ✆✝✂✂✝✞✄ ✄☎ ✍✄✟☛✄ ✍✝✆✁☞✄ ☞✄ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄ ☎✌☛✂ ✍✡✟✔✡✄ ✡✥✄✯✁✂✛
☛✄☎✠✄ ☞✥☛☎✄ ✆✡✡☛☞✌✍✄ ☞✥✝✡✞✌✍✁☛☞✌✄✂ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄ ✝☞✝✆☛✡✂ ✤ ☞✄✂ ✂✁☛☛✝☛✁✌☎✂ ✆✡☛✂
✌☛ ✌✌✁☎✂ ✂✆✡✠✁✷✏☛✄✂✎ ✗✡☛✂✁✄☛✍✂ ☛✍✝✟✝☛✯ ☞✄ ✂✒☎☛☞✔✂✄ ✝✲✬✓ ✮✫✓ ✶✰✓ ✪✮✞ ✆✍✌✆✌✂✄☎☛ ☞✁✆✡✍✄☎☛✄✂ ✠✡✝✂✛
✂✁✷✠✝☛✁✌☎✂ ☞✄ ✠✄✂ ✝✡✞✌✍✁☛☞✌✄✂✓ ✂☛✁✟✁✄✂ ✆✝✍ ☛☎✄ ☞✄✂✠✍✁✆☛✁✌☎ ☞✄ ✡✄☛✍ ✆✍✁☎✠✁✆✄✓ ☞✄ ✡✄☛✍✂ ✝✟✝☎☛✝✞✄✂
✄☛ ✁☎✠✌☎✟✡☎✁✄☎☛✂✎ ✢✄✂ ✘✍✌☎☛✁✔✍✄✂ ✄☎☛✍✄ ✡✄✂ ✘✝✌✁✡✡✄✂ ✝✡✞✌✍✁☛☞✌✁✏☛✄✂ ✂✌☎☛ ✡✌✁☎ ☞✥✫☛✍✄ ☎✄☛☛✄✂✓ ✄☛ ☞✄
☎✌✌✧✍✄☛✂✄✂ ✌✡☛☞✌☞✄✂ ✆✝✍☛✝✞✄☎☛ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✠✌✌✌☛☎✄✂ ✤ ✆✡☛✂✁✄☛✍✂ ✘✝✌✁✡✡✄✂ ✝✲✬✓ ✪✮✞✎

✖✄✡✌☎ ✝✲✬✓ ✮✫✓ ✶✰✓ ✯✰✓ ✲✬✬✞✓ ✌☎ ✆✄☛☛ ☞✁✂☛✁☎✞☛✄✍ ☞✄☛✯ ✞✍✝☎☞✄✂ ✘✝✌✁✡✡✄✂ ☞✄ ✌✡☛☞✌☞✄✂ ☞✄ ✠✡✝✂✂✁✛
✷✠✝☛✁✌☎ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄ ✴✄✄✂✝✟☎☛✠✁✁✵ ✄ ✡✄✂ ✌✡☛☞✌☞✄✂ ☞✄ ✆✝✍☛✁☛✁✌☎☎✄✌✄☎☛ ✄☛ ✡✄✂ ✌✡☛☞✌☞✄✂ ☞✁✡✍✝✍✛
✠☞✁✏☛✄✂�✛ ✎ ✑✌☛✂ ✝✡✡✌☎✂ ✆✍✡✂✄☎☛✄✍ ☞✝☎✂ ✡✝ ✂☛✁☛✄ ✠✄✂ ☞✄☛✯ ✘✝✌✁✡✡✄✂ ☞✄ ✌✡☛☞✌☞✄✂✓ ✄☎ ✁☎✂✁✂☛✝☎☛ ✂☛✍ ✡✄✂
✌✡☛☞✌☞✄✂ ☞✁✡✍✝✍✠☞✁✏☛✄✂ ✏☛✄ ☎✌☛✂ ✝✡✡✌☎✂ ☛☛✁✡✁✂✄✍ ✄☎ ✆✍✁✌✍✁☛✡ ☞✝☎✂ ✡✄ ✠✝✂ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯✎

☎✚✜ ✣✧✍✗✏✑✚✜ ✑✚ ✙✘✎✍✔✍✔✏✌✌✚✣✚✌✍ ✠☞✄✍✠☞✄☎☛ ✤ ☛✍✌☛✟✄✍ ☛☎ ☎✌✌✧✍✄ k ☞✄ ✍✡✞✁✌☎✂ ☞✌✌✌✞✔☎✄✂
☞✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎✎ ✰☎ ✍✔✞✡✄ ✞✡☎✡✍✝✡✄✓ ✠✄ ☎✌✌✧✍✄ ☞✌✁☛ ✫☛✍✄ ✠✌☎☎☛ ✝✟✝☎☛ ✡✥✝✆✆✡✁✠✝☛✁✌☎
☞✄ ✠✄✂ ✌✡☛☞✌☞✄✂✎

✠✄✂ ✌✡☛☞✌☞✄✂✓ ✏☛✁ ✆✄☛✟✄☎☛ ✂✌☛✟✄☎☛ ✫☛✍✄ ✁☎☛✄✍✆✍✡☛✡✄✂ ✞✡✌✌✡☛✍✁✏☛✄✌✄☎☛✓ ✠☞✄✍✠☞✄☎☛ ✤ ✄✂☛✁✌✄✍
✡✝ ✆✌✂✁☛✁✌☎ ☞✄✂ k ✠✡✝✂✂✄✂ ✤ ✡✥✝✁☞✄ ☞✄ ✆✌✁☎☛✂ ✠✌☎✂✁☞✡✍✡✂ ✍✄✆✍✡✂✄☎☛✝☛✁✘✂ ✴✆✝✍ ✄✯✄✌✆✡✄ ✡✄✂ ✧✝✍✒✠✄☎☛✍✄✂✓
☞✝☎✂ ✡✥✝✡✞✌✍✁☛☞✌✄ ✚�✞☎✁✁✝✵ ✄☛ ✤ ✝☛☛✍✁✧☛✄✍ ✠☞✝✏☛✄ ✆✌✁☎☛ ✝☛ ✧✝✍✒✠✄☎☛✍✄ ✡✄ ✆✡☛✂ ✆✍✌✠☞✄✎ ✢✝ ✍✄✠☞✄✍✠☞✄

☞✄✂ ✆✌✁☎☛✂ ✍✄✆✍✡✂✄☎☛✝☛✁✘✂ ✄☛ ✡✥✝✡✡✌✠✝☛✁✌☎ ☞✄✂ ✆✌✁☎☛✂ ✂✌☎☛ ✁☛✡✍✝☛✁✟✄✂ ✒ ✡✥✁☎✁☛✁✝✡✁✂✝☛✁✌☎ ✄✂☛ ✝✡✡✝☛✌✁✍✄ ✄☛
✡✥✝✡✞✌✍✁☛☞✌✄ ✠✌☎✟✄✍✞✄ ✏☛✝☎☞ ☛☎✄ ✆✝✍☛✁☛✁✌☎ ✂☛✝✧✡✄ ✄✂☛ ✝☛☛✄✁☎☛✄✎ ✢✥✝✟✝☎☛✝✞✄ ✆✍✁☎✠✁✆✝✡ ☞✄ ✠✄✂ ✝✡✞✌✛
✍✁☛☞✌✄✂ ✄✂☛ ✡✄☛✍ ✂✁✌✆✡✁✠✁☛✡✎ ✠✄✆✄☎☞✝☎☛✓ ✁✡✂ ☞✡✆✄☎☞✄☎☛ ☞✄ ✡✥✁☎✁☛✁✝✡✁✂✝☛✁✌☎ ✄☛ ✁✡✂ ✘✝✟✌✍✁✂✄☎☛ ✘✌✍☛✄✌✄☎☛
✡✝ ✠✍✡✝☛✁✌☎ ☞✄ ✠✡✝✂✂✄✂ ☞✄ ✘✌✍✌✄ ✂✆☞✡✍✁✏☛✄ ☞✄ ✌✫✌✄ ✍✝✒✌☎✎

✙✥☛☎ ✆✌✁☎☛ ☞✄ ✟☛✄ ✆✍✌✧✝✧✁✡✁✂☛✄✓ ✡✝ ✍✡✆✝✍☛✁☛✁✌☎ ☞✄✂ ✆✌✁☎☛✂ ☞✝☎✂ ✡✥✄✂✆✝✠✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✆✄☛☛
✫☛✍✄ ✟☛✄ ✠✌✌✌✄ ✁✂✂☛✄ ☞✥☛☎ ✌✡✡✝☎✞✄ ☞✄ ☞✄☎✂✁☛✡✂ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡✓ ✏☛✁ ☞✌✁✟✄☎☛ ✫☛✍✄ ✄✂☛✁✌✡✄✂✎ ✢✄✂
✌✡☛☞✌☞✄✂ ✆✝✍✝✌✡☛✍✁✏☛✄✂ ✌✌☞✡✡✁✂✄☎☛ ✠✄✂ ☞✄☎✂✁☛✡✂ ✆✝✍ ☛☎ ✬✄☛ ☞✄ ✆✝✍✝✌✔☛✍✄✂ ✒ ☛✒✆✁✏☛✄✌✄☎☛✓ ✌☎
✠✌☎✂✁☞✔✍✄ ☞✄✂ ✡✌✁✂ ☞✄ ☞✄☎✂✁☛✡✂ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ✞✝☛✂✂✁✄☎☎✄✂ ✴✘✌✍✌✄ ✠✌☎☎☛✄✵ ☞✌☎☛ ✌☎ ✄✂☛✁✌✄ ✡✄✂
✌✌✒✄☎☎✄✂ ✴✡✄✂ ✆✌✂✁☛✁✌☎✂ ☞✄✂ ✧✝✍✒✠✄☎☛✍✄✂ ☞✝☎✂ ✡✥✝✡✞✌✍✁☛☞✌✄ ✚�✞☎✁✁✝✵✓ ✡✄✂ ✟✝✍✁✝☎✠✄✂ ✴✡✄✂ ☛✝✁✡✡✄✂✵
✄☛ ✡✄✂ ✆✍✌✧✝✧✁✡✁☛✡✂ ✁ ☎☛✠✂☛✠ ✴✡✥✄✆✄✠☛✁✘ ✵✎ ✢✥✄✂☛✁✌✝☛✁✌☎ ☞✄ ✠✄✂ ✆✝✍✝✌✔☛✍✄✂ ✄✂☛ ✄☎ ✞✡☎✡✍✝✡ ✍✡✝✡✁✂✡✄ ✆✝✍
☞✄✂ ✌✡☛☞✌☞✄✂ ☞✄ ✌✝✯✁✌☛✌ ☞✄ ✟✍✝✁✂✄✌✧✡✝☎✠✄✎ ✠✌✌✌✄ ✌✌☎☛✍✡ ✆✝✍ ✙☛☞✝✓ ✭✝✍☛ ✄☛ ✖☛✌✍✥ ✝✮✬✞✓
✡✄ ✆✍✌✧✡✔✌✄ ☞✥✄✂☛✁✌✝☛✁✌☎ ☞✄✂ ✆✝✍✝✌✔☛✍✄✂ ☞✄✂ ✌✡✡✝☎✞✄✂ ✞✝☛✂✂✁✄☎✂ ✠✌✌✆✡✔☛✄✌✄☎☛ ✁☎✠✌☎☎☛✂ ✄☛ ✂✝☎✂
✠✌☎☛✍✝✁☎☛✄✂ ☎✥✝✠✠✄✆☛✄ ✆✝✂ ☛☎✄ ✂✌✡☛☛✁✌☎ ✞✡✌✧✝✡✄ ✌✆☛✁✌✝✡✄✓ ✠✝✍ ✡✄ ✌✝✯✁✌☛✌ ☞✄ ✟✍✝✁✂✄✌✧✡✝☎✠✄ ✞✡✌✧✝✡
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✄☎☛✍✄ ☞✄☛✯ ✠✡✝✂✂✄✂ i
✄☛
j

✴
xi

✄☛

xj
✂✌☎☛ ☞✄✂ ✆✌✁☎☛✂ ✝✆✆✝✍☛✄☎✝☎☛ ✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✝☛✯ ✠✡✝✂✂✄✂ i

✄☛
j✵ ✒

✄ ✡✝ ☞✁✂☛✝☎✠✄ ☞☛ ✆✡☛✂ ✆✍✌✠☞✄ ✟✌✁✂✁☎ ✴✝✠✁✁✄☎ ✄✠✁✚✁✁☎✵

Dij,min = min
i,j

d(xi, xj),

✠✌☎✂✁☞✔✍✄ ✏☛✄ ✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ☞✄☛✯ ✠✡✝✂✂✄✂ ✄✂☛ ☞✌☎☎✡✄ ✆✝✍ ✡✝ ☞✁✂☛✝☎✠✄ ✌✁☎✁✌✝✡✄ ✏☛✁ ✡✄✂
✂✡✆✝✍✄ ✝

✄ ✡✝ ☞✁✂☛✝☎✠✄ ☞☛ ✆✡☛✂ ✡✡✌✁✞☎✡ ✟✌✁✂✁☎ ✴✄✂✞☎✄☎✟☎ ✄✠✁✚✁✁☎✵

Dij,max = max
i,j

d(xi, xj)

✠✌☎✂✁☞✔✍✄ ✏☛✄ ✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ☞✄☛✯ ✠✡✝✂✂✄✂ ✄✂☛ ☞✌☎☎✡✄ ✆✝✍ ✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ✡✄✂ ☞✄☛✯ ✆✌✁☎☛✂
✡✄✂ ✆✡☛✂ ✡✡✌✁✞☎✡✂ ✝✆✆✝✍☛✄☎✝☎☛ ✠☞✝✠☛☎ ✤ ☛☎✄ ☞✄✂ ✠✡✝✂✂✄✂ ✝✄ ✡✝ ☞✁✂☛✝☎✠✄ ✌✌✒✄☎☎✄ ✴✁✟☎☛✁✁☎ ✄✠✁✚✁✁☎✵

Dij,avg =
1

ninj

∑

i,j

d(xi, xj)

✲✭✶
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✠✝✡✠☛✡✄ ✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ☞✄☛✯ ✠✡✝✂✂✄✂ ✠✌✌✌✄ ✡✝ ✌✌✒✄☎☎✄ ☞✄✂ ☞✁✂☛✝☎✠✄✂ ✆✌✁☎☛ ✆✝✍ ✆✌✁☎☛ ✝✄ ✡✝ ☞✁✂☛✝☎✠✄ ☞✄✂ ✧✝✍✒✠✄☎☛✍✄✂ ✴✞☎✁✁ ✄✠✁✚✁✁☎✵

Dij,µ = d(µi, µj)

✠✝✡✠☛✡✄ ✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ☞✄☛✯ ✠✡✝✂✂✄✂ ✠✌✌✌✄ ✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ✡✄✂ ✧✝✍✒✠✄☎☛✍✄✂ ✝✄ ✡✝ ☞✁✂☛✝☎✠✄ ☞✄ ✚✝✍☞
Dij,ward =

ninj

ni + nj
D2

ij,µ
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✲✭✪



�✏�✏ �✄✁✝✝✠�✄✁✟✠✂✁ ✁✂✁�✝✂☎☎☛✟✠✝✆☎
✄☛ ✤ ✡✥✁✌✆✌✂✂✁✧✁✡✁☛✡ ☞✄ ✆✍✁☎✠✁✆✄ ☞✄ ✠☞✌✁✂✁✍ ✢✎ ✌✄✁✡✡✄☛✍✄ ✌✡☛☞✌☞✄ ✴✁✂ ✂☛☎☎ �✂✁✄✁ �✁☎✂☛☎✞✵✎ ✠✄✛
✆✄☎☞✝☎☛✓ ✠✌✌✌✄ ☞✝☎✂ ✡✄ ✠✝✂ ☞✄✂ ✌✡☛☞✌☞✄✂ ☞✄ ✆✝✍☛✁☛✁✌☎☎✄✌✄☎☛ ✴✁☎☞✁✠✄✂ ✙✝✟✁✄✂✛✱✌☛✡☞✁☎✓ ✙☛☎☎✓
✄☛✠✎✵✓ ☞✝☎✂ ✡✝ ✡✁☛☛✡✍✝☛☛✍✄ ✌☎ ☛✍✌☛✟✄ ✆✡☛✂✁✄☛✍✂ ✌✝☎✁✔✍✄✂ ☞✥✝✆✆✍✡✠✁✄✍ ✡✝ ✟✝✡✁☞✁☛✡ ☞✥☛☎✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎
☞✁✡✍✝✍✠☞✁✏☛✄ ✴✄☛ ☞✌☎✠ ✡✝ ✡✄✠☛☛✍✄ ☞✥☛☎ ☞✄☎☞✍✌✞✍✝✌✌✄✵✎

✢✄✂ ☞✄☛✯ ✁☎☞✁✠✄✂ ✡✄✂ ✆✡☛✂ ☛☛✁✡✁✂✡✂ ✂✌☎☛ ✡✄ ✠✌✄☎✠✁✄☎☛ ☞✄ ✠✌✍✍✡✡✝☛✁✌☎ ✄✂☎✁☎✁☎✟✠✝✂☎ ✝✲✓ ✲✰✞ ✄☛ ✡✄
✠✌✄☎✠✁✄☎☛ ☞✥✁☎✠✌☎✂✁✂☛✝☎✠✄ ✝✲✞ ✒

✄ ✡✄ ✓✏✚�✓✔✚✌✍ ✓✏✙✗✚✌✚✍✔★✒✚ ✠✝✡✠☛✡✄ ✡✝ ✠✌✍✍✡✡✝☛✁✌☎ ☞✄✂ ☞✁✂☛✝☎✠✄✂ ✄☎☛✍✄ ✡✄✂ ✆✌✁☎☛✂ ✝✟✄✠ ✡✄✂

☞✁✂☛✝☎✠✄✂ ✄☎☛✍✄ ✡✄✂ ✠✡✝✂✂✄✂ ☞✥✝✆✄✠☛✝☛✁✌☎ ☞✄ ✠✄✂ ✆✌✁☎☛✂✎ ✗✡☛✂ ✆✍✡✠✁✂✡✌✄☎☛✓ ✆✌☛✍ ☛✌☛☛✄✂ ✡✄✂

✆✝✁✍✄✂ ☞✄ ✆✌✁☎☛✂ ✴
xi, xj

✵✓ xi
✝✆✆✝✍☛✄☎✝☎☛ ✤ ✡✝ ✠✡✝✂✂✄ i

✄☛
xj

✝✆✆✝✍☛✄☎✝☎☛ ✤ ✡✝ ✠✡✝✂✂✄ j ✓ ✌☎
✆✄☛☛ ✠✝✡✠☛✡✄✍ ✡✝ ☞✁✂☛✝☎✠✄ dij(xi, xj)

✴✄☎☛✍✄ ✠✄✂ ☞✄☛✯ ✆✌✁☎☛✂✓ ✂✄✡✌☎ ✡✝ ✌✡☛✍✁✏☛✄ ✠☞✌✁✂✁✄✵ ✄☛ ✡✝
☞✁✂☛✝☎✠✄ Dij

✴✄☎☛✍✄ ✡✄✂ ☞✄☛✯ ✠✡✝✂✂✄✂✓ ✂✄✡✌☎ ✡✝ ✌✡☛☞✌☞✄ ☞✥✝✂✂✌✠✁✝☛✁✌☎ ✠☞✌✁✂✁✄✵✎ ✢✄ ✠✌✄☎✠✁✄☎☛
✠✌✆☞✄☎✄☛✁✏☛✄ ✄✂☛ ✡✝ ✠✌✍✍✡✡✝☛✁✌☎ ✄☎☛✍✄ ✡✄✂ ✟✄✠☛✄☛✍✂ d

✄☛ D ✓ ✠✝✡✠☛✡✡✄ ✤ ✠☞✝✏☛✄ ☎✁✟✄✝☛ ☞☛
☞✄☎☞✍✌✞✍✝✌✌✄ ✴✠☞✝✏☛✄ ✘✌✁✂ ✏☛✥✌☎ ✝✂✂✌✠✁✄ ☞✄✂ ✂✌☛✂✛✠✡✝✂✂✄✂✵✎ ✠✄ ✠✌✄☎✠✁✄☎☛ ✆✄☛☛ ✫☛✍✄ ☛☛✁✡✁✂✡
✆✌☛✍ ✌✄✂☛✍✄✍ ✡✝ ✟✝✡✁☞✁☛✡ ☞✄ ✡✝ ✠✌✌✧✁☎✝✁✂✌☎ ✌✡☛✍✁✏☛✄✛✌✡☛☞✌☞✄ ☞✥✝✂✂✌✠✁✝☛✁✌☎ ✝✲✞ ✌☛ ✆✌☛✍
☞✡✠✁☞✄✍ ☞☛ ☎✁✟✄✝☛ ☞✄ ✠✌☛✆☛✍✄ ☞☛ ☞✄☎☞✍✌✞✍✝✌✌✄ ✝✲✰✞ ✒ ✡✄ ✍✄✞✍✌☛✆✄✌✄☎☛ ☞✄✂ ✂✌☛✂✛✠✡✝✂✂✄✂
✂✥✝✍✍✫☛✄ ✏☛✝☎☞ ✌☎ ✠✌☎✂☛✝☛✄ ☛☎✄ ✘✌✍☛✄ ☞✁✌✁☎☛☛✁✌☎ ☞☛ ✠✌✄☎✠✁✄☎☛ ✠✌✆☞✄☎✄☛✁✏☛✄✎
✢✝ ✍✡✆✌☎✂✄ ☞✌☎☎✡✄ ✆✝✍ ✡✄ ✠✌✄☎✠✁✄☎☛ ✠✌✆☞✄☎✄☛✁✏☛✄ ✝☛ ✆✍✌✧✡✔✌✄ ☞☛ ☞✡✠✌☛✆✝✞✄ ✝ ☛☎ ✆✌✁☎☛
✘✝✁✧✡✄ ✒ ✁✡ ✷✯✄ ☛☎ ☎✁✟✄✝☛ ☛☎✁✏☛✄ ✆✌☛✍ ☛✌☛☛✄✂ ✡✄✂ ✧✍✝☎✠☞✄✂✓ ✠✄ ✏☛✁ ✆✄☛☛ ✫☛✍✄ ✞✫☎✝☎☛ ✏☛✝☎☞ ✡✄✂
✠✡✝✂✂✄✂ ✌☎☛ ☞✄✂ ☞✄☎✂✁☛✡✂ ☞✁✆✡✍✄☎☛✄✂ ✴☞✝☎✂ ✡✥✄✯✄✌✆✡✄ ✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✶✎✲✯✓ ✡✄ ✂✄☛✁✡ ✷✯✡ ✷✞☛✍✡
✆✝✍ ✡✝ ✡✁✞☎✄ ✄☎ ✆✌✁☎☛✁✡✡✡ ✂✡✆✝✍✄ ✡✝ ✠✡✝✂✂✄ ✡✝ ✆✡☛✂ ✍✝✍✄ ✄☎ ☞✄☛✯ ✠✡✝✂✂✄✂ ☞✁✂☛✁☎✠☛✄✂✵✎ �☛✝☎☛ ✤
✡✝ ✟✝✡✁☞✝☛✁✌☎ ☞✄ ✡✝ ✌✡☛☞✌☞✄ ☞✥✝✂✂✌✠✁✝☛✁✌☎ ✠☞✌✁✂✁✄✓ ✄✡✡✄ ☎✥✝ ✆✝✂ ✟✍✝✁✌✄☎☛ ☞✄ ✂✄☎✂ ✝✟✝☎☛ ✡✄

☞✡✠✌☛✆✝✞✄✓ ✟☛ ✏☛✄ ✡✄ ✟✄✠☛✄☛✍ D ☞✄✂ ☞✁✂☛✝☎✠✄✂ ✄☎☛✍✄ ✡✄✂ ✠✡✝✂✂✄✂ ☞✡✆✄☎☞ ☞✄ ✠✄✡☛✁✛✠✁ ✴✌☎ ✆✄☛☛
☛✌☛☛✄✘✌✁✂ ✘✝✁✍✄ ☛☎✄ ✌✌✒✄☎☎✄ ☞✄✂ ✠✌✄☎✠✁✄☎☛✂ ✠✌✆☞✄☎✄☛✁✏☛✄✂✓ ✠✌✌✌✄ ✆✍✌✆✌✂✡ ✂✌☛✂ �✝☛✡✝✧✵ ✝✄ ✡✄ ✓✏✚�✓✔✚✌✍ ✑✆✔✌✓✏✌✜✔✜✍✘✌✓✚ ☎✄ ✠☞✄✍✠☞✄ ✆✝✂ ✤ ✝✆✆✍✡✠✁✄✍ ✡✝ ✟✝✡✁☞✁☛✡ ✞✡✌✧✝✡✄ ☞☛ ☞✄☎☞✍✌✛
✞✍✝✌✌✄✓ ✌✝✁✂ ✤ ☞✡☛✄✠☛✄✍ ✡✄✂ ✂✝☛☛✂ ☞✝☎✂ ✡✄✂ ✡✌☎✞☛✄☛✍✂ ☞✄✂ ✧✍✝☎✠☞✄✂✎ ✙✥☛☎✄ ✌✝☎✁✔✍✄ ✝☎✝✡✌✞☛✄
✝☛✯ ✠✍✁☛✔✍✄✂ ☞✄ ✂✡✆✝✍✝☛✁✌☎ ✆✌☛✍ ✡✄✂ ✝✡✞✌✍✁☛☞✌✄✂ ☞✄ ✆✝✍☛✁☛✁✌☎☎✄✌✄☎☛✓ ✡✄ ✠✌✄☎✠✁✄☎☛ ☞✥✁☎✠✌☎✛
✂✁✂☛✝☎✠✄ ☞✥☛☎✄ ✧✍✝☎✠☞✄ ✠✌✌✆✝✍✄ ✂✝ ✡✌☎✞☛✄☛✍ ✤ ✡✝ ✌✌✒✄☎☎✄ ☞✄✂ ✡✌☎✞☛✄☛✍✂ ☞✄✂ ✧✍✝☎✠☞✄✂
✁☎✘✡✍✁✄☛✍✄✂ ✄☛ ☎✌✍✌✝✡✁✂✄ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✡✄☛✍✂ ✡✠✝✍☛✂✛☛✒✆✄✂✎ �☛✝☎☞ ✡✄✂ ✡✌☎✞☛✄☛✍✂ ☞✄✂ ✧✍✝☎✠☞✄✂
✟✝✍✁✄☎☛ ☞✥☛☎✄ ✌✝☎✁✔✍✄ ✁✌✆✌✍☛✝☎☛✄ ✄☎☛✍✄ ☞✄☛✯ ☎✁✟✄✝☛✯ ☞✄ ✡✥✝✍✧✍✄ ✴✡✝ ☞✁✂☛✝☎✠✄ ✄☎☛✍✄ ✡✄✂ ✠✡✝✂✂✄✂
✍✄✡✁✡✄✂ ✄✂☛ ✧✄✝☛✠✌☛✆ ✆✡☛✂ ✁✌✆✌✍☛✝☎☛✄ ✏☛✄ ✡✄✂ ☞✁✂☛✝☎✠✄✂ ✄☎☛✍✄ ✡✄✂ ✂✌☛✂✛✠✡✝✂✂✄✂ ✍✄✂✆✄✠☛✁✟✄✂✵✓ ✡✄
✠✌✄☎✠✁✄☎☛ ☞✥✁☎✠✌☎✂✁✂☛✝☎✠✄ ✝ ☛☎✄ ✟✝✡✄☛✍ ✁✌✆✌✍☛✝☎☛✄ ✏☛✁ ✆✄☛☛ ✫☛✍✄ ☞✡☛✄✠☛✡✄ ✆✝✍ ☛☎ ✂✄☛✁✡✡✝✞✄
✝☞✡✏☛✝☛✎
✎ ✡✝ ☞✁✆✡✍✄☎✠✄ ☞☛ ☞✡✠✌☛✆✝✞✄ ✆✍✌✆✌✂✡ ✆✝✍ ✡✄ ✠✌✄☎✠✁✄☎☛ ✠✌✆☞✄☎✄☛✁✏☛✄✓ ✠✄✡☛✁ ✌✧☛✄☎☛ ✞✍☎✠✄ ✝☛✯
✠✌✄☎✠✁✄☎☛✂ ☞✥✁☎✠✌☎✂✁✂☛✝☎✠✄ ✄✂☛ ✆✡☛✂ ☞✄✯✁✧✡✄ ✒ ✁✡ ✆✄✍✌✄☛ ☞✄✂ ✠✌☛✆☛✍✄✂ ✤ ☞✁✆✡✍✄☎☛✂ ☎✁✟✄✝☛✯
☞☛ ☞✄☎☞✍✌✞✍✝✌✌✄✓ ✝☛✯ ✄☎☞✍✌✁☛✂ ✂✁✞☎✝✡✡✂ ✆✝✍ ✡✄✂ ✂✝☛☛✂ ☞✄ ✡✌☎✞☛✄☛✍✂ ☞✄✂ ✧✍✝☎✠☞✄✂✎ ✕✡ ✄✂☛

☎✡✠✄✂✂✝✁✍✄ ☞✄ ✍✄✌✝✍✏☛✄✍ ✏☛✥☛☎✄ ✧✍✝☎✠☞✄ ✏☛✁ ✍✄✡✁✄ ☞✄☛✯ ✘✄☛✁✡✡✄✂ ✴✂✁☛☛✡✄ ☞✌☎✠ ✂☛✍ ✡✄ ☎✁✟✄✝☛
✡✄ ✆✡☛✂ ✧✝✂ ☞☛ ☞✄☎☞✍✌✞✍✝✌✌✄✵ ✝☛✍✝ ☛✌☛✬✌☛✍✂ ✆✝✍ ✠✌☎✟✄☎☛✁✌☎ ☛☎ ✠✌✄☎✠✁✄☎☛ ☞✥✁☎✠✌☎✂✁✂☛✝☎✠✄
☎☛✡✎

✎ ☎✌☛✍✄ ✝✟✁✂✓ ✁✡ ✄✂☛ ☞✁☎✠✁✡✄ ☞✥☛☛✁✡✁✂✄✍ ✡✄✂ ✠✌✄☎✠✁✄☎☛✂ ✆✍✡✂✄☎☛✡✂ ✠✁✛☞✄✂✂☛✂ ✆✌☛✍ ✠☞✌✁✂✁✍ ☛☎ ✝✡✞✌✛
✍✁☛☞✌✄ ☞✁✡✍✝✍✠☞✁✏☛✄ ✂✆✡✠✁✷✏☛✄✓ ✄☛ ✁✡ ✘✝☛☛ ✆✡☛☛✌☛ ✂✄ ✍✝✆✆✌✍☛✄✍ ✝☛ ✠✝☞✍✄ ✝✆✆✡✁✠✝☛✁✘✎ ✰☎ ✆✍✝☛✁✏☛✄✓ ✌☎
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✢✄✂ ✟✝✡✄☛✍✂ ✷☎✝✡✄✂ ☞✄ ✠✄✂ ✆✝✍✝✌✔☛✍✄✂ ✂✌☎☛ ✌✧☛✄☎☛✄✂ ✝✆✍✔✂ ✡✝ ✠✌☎✟✄✍✞✄☎✠✄ ☞✥☛☎ ✝✡✞✌✍✁☛☞✌✄ ✁☛✡✍✝☛✁✘✎
✠✄✆✄☎☞✝☎☛✓ ✠✌✌✌✄ ☎✌☛✂ ✡✥✝✟✌☎✂ ✆✍✡✠✁✂✡ ✆✍✡✠✡☞✄✌✌✄☎☛✓ ✠✄✠✁ ✠✌☎✂☛✁☛☛✄ ☛☎ ✆✍✌✧✡✔✌✄ ☞✥✌✆☛✁✌✁✂✝☛✁✌☎
☞✡✡✁✠✝☛✓ ☞✁☎✠✁✡✄ ✤ ✍✡✂✌☛☞✍✄ ✂✝☎✂ ☛☎✄ ✍✄✠☞✄✍✠☞✄ ✏☛✝✂✁✛✄✯☞✝☛✂☛✁✟✄ ☞✄ ☛✌☛☛✄✂ ✂✌✡☛☛✁✌☎✂ ✆✌✂✂✁✧✡✄✂ ✆✌☛✍
☛✌☛☛✄✂ ✡✄✂ ✁☎✁☛✁✝✡✁✂✝☛✁✌☎✂ ✄☛ ✡✄☛✍ ✠✌✌✆✝✍✝✁✂✌☎ ✂✄✡✌☎ ☛☎ ✠✍✁☛✔✍✄ ☞✄ ✧✌☎☎✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎✎

✑✌☛✂ ✆✍✌✆✌✂✌☎✂ ☛☎✄ ✝☛☛✍✄ ✝✆✆✍✌✠☞✄✓ ☞✌☎☛ ✡✥✁☞✡✄ ✁☎✁☛✁✝✡✄ ✄✂☛ ✁☎✂✆✁✍✡✄ ☞✄✂ ✌✡☛☞✌☞✄✂ ☞✄ ★✍✝✡✄✒
✄☛ ✍✝✘☛✄✍✒ ✝✮✶✞ ✄☛ ✡✄ ☞✡✟✄✡✌✆✆✄✌✄☎☛ ☛✡☛✡✍✁✄☛✍ ✂✥✝✆✆✝✍✄☎☛✄ ✝☛✯ ☛✄✠☞☎✁✏☛✄✂ ☞✥✝☎✝✡✒✂✄ ☞✁✂✠✍✁✌✁☎✝☎☛✄
✝✫✲✓ ✮✬✓ ✲✬✬✞✎ ✢✥✁☞✡✄ ✞✡☎✡✍✝✡✄ ✄✂☛ ☞✄ ☛✍✌☛✟✄✍ ☛☎✄ ✂✌✡☛☛✁✌☎ ✂✌☛✂✛✌✆☛✁✌✝✡✄ ✁☎✁☛✁✝✡✄ ✆✝✍ ☛☎ ✝✡✞✌✍✁☛☞✌✄
☞✁✡✍✝✍✠☞✁✏☛✄ ✴✠✌✌✌✄ ✆✍✌✆✌✂✡ ☞✝☎✂ ✝✮✶✞✵ ✄☛ ☞✥✝✌✡✡✁✌✍✄✍ ✄☛ ☞✄ ✂☛✝✧✁✡✁✂✄✍ ✠✄☛☛✄ ✂✌✡☛☛✁✌☎ ✆✝✍ ✍✝✆✆✌✍☛

✝☛✯ ✠✍✁☛✔✍✄✂ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✘✌☛✍☎✁✂ ✆✝✍ ✡✥✝☎✝✡✒✂✄ ☞✁✂✠✍✁✌✁☎✝☎☛✄ ✏☛✝☞✍✝☛✁✏☛✄✎ ✎✟✝☎☛ ☞✄ ☞✡✠✍✁✍✄
☎✌☛✍✄ ✝✡✞✌✍✁☛☞✌✄ ✄☎ ☞✡☛✝✁✡✓ ☎✌☛✂ ✠✌☎✂✁☞✡✍✌☎✂ ☎✡✠✄✂✂✝✁✍✄ ☛☎✄ ✆✍✡✂✄☎☛✝☛✁✌☎ ☞☛ ✆✍✁☎✠✁✆✄ ☞✄ ✡✥✝☎✝✡✒✂✄
☞✁✂✠✍✁✌✁☎✝☎☛✄ ✏☛✝☞✍✝☛✁✏☛✄✎

✲✭✷



�✏�✏ �✄✁✝✝✠�✄✁✟✠✂✁ ✁✂✁�✝✂☎☎☛✟✠✝✆☎
✲✌✘✦�✜✚ ✑✔✜✓✎✔✣✔✌✘✌✍✚

✠✄☛☛✄ ✌✡☛☞✌☞✄ ✄✂☛ ✠✡✝✂✂✁✏☛✄ ✄☎ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✂☛✆✄✍✟✁✂✡✄✓ ☛☎✄ ✘✌✁✂ ✡✥✄☎✂✄✌✧✡✄ ☞✥✝✆✆✍✄☎☛✁✂✂✝✞✄
✠✌☎✂☛✍☛✁☛✎ ✰✡✡✄ ✂☛✆✆✌✂✄ ✡✥✄✯✁✂☛✄☎✠✄ ☞✥☛☎ ✄☎✂✄✌✧✡✄ ☞✄ ✠✡✝✂✂✄✂ Cj

✴
j = 1 . . . k✵ ☞✡✷☎✁ ✁ ☎☛✠✂☛✠ ✄☛

✠☞✄✍✠☞✄ ✤ ✝☛☛✍✁✧☛✄✍ ☛☎ ✁☎☞✁✟✁☞☛
x

✴✟☛ ✠✌✌✌✄ ☛☎ ✟✄✠☛✄☛✍ ☞✄ ✟✝✍✁✝✧✡✄✂ ✄✯✆✡✁✠✝☛✁✟✄✂ xi ✓ ✝✟
✄✠
i =

1 . . . d✓ d ✡☛✝☎☛ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄ ☞✄ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂✵ ✤ ✡✝ ✠✡✝✂✂✄ ✡✝ ✆✡☛✂ ✆✍✌✧✝✧✡✄✎
✗✌☛✍ ☛☎ ✆✌✁☎☛

x✓ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ☞✥✝✆✆✝✍☛✄☎✝☎✠✄ ✤ ✡✝ ✠✡✝✂✂✄ Cj
✴✠✥✄✂☛✛✤✛☞✁✍✄ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ✁

☎✂✝✟☎☛✠✂☛✠ ☞✄ ✡✝ ✠✡✝✂✂✄ Cj
✂✝✠☞✝☎☛

x
✵ ✂✥✡✠✍✁☛ ✴✍✔✞✡✄ ☞✄ ✱✝✒✄✂✵ ✒

p(Cj |x) =
p(x|Cj)P (Cj)

p(x)
, ✝✟✄✠

p(x) =
k
∑

j=1

p(x|Cj)P (Cj),
✴✶✎✫✵

✌✟
p(x|Cj)

✄✂☛ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ☞✄
x

✂✝✠☞✝☎☛ Cj
✴✠✥✄✂☛✛✤✛☞✁✍✄ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ✁ ☎☛✠✂☛✠ ☞✥✝✆✆✝✍☛✄☎✝☎✠✄

✤ ✡✝ ✠✡✝✂✂✄ Cj
✵✓ P (Cj)

✄✂☛ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ✁ ☎☛✠✂☛✠ ☞✄ ✡✝ ✠✡✝✂✂✄ Cj ✓ ✄☛ p(x)
✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ✌✝✍✞✁☎✝✡✄

✂☛✍ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂ ✠✡✝✂✂✄✂✎
✙✡✠✁☞✄✍ ☞✄ ✡✥✝✆✆✝✍☛✄☎✝☎✠✄ ☞✄

x
✤ ☛☎✄ ✠✡✝✂✂✄ ✍✄✟✁✄☎☛ ✤ ✠☞✌✁✂✁✍ ✡✝ ✠✡✝✂✂✄ Cj

✏☛✁ ✝✂✂☛✍✄ ☛☎✄
✆✍✌✧✝✧✁✡✁☛✡ ✁ ☎✂✝✟☎☛✠✂☛✠ p(Cj |x)

✌✝✯✁✌✝✡✄✓ ✠✄ ✏☛✁ ✍✄✟✁✄☎☛ ✤ ✌✝✯✁✌✁✂✄✍ ✂✄✡✌☎ j
✡✝ ✘✌☎✠☛✁✌☎ g(Cj)

✒

g(Cj) = p(x|Cj)P (Cj),

✌☛ ✄☎✠✌✍✄ ✡✝ ✘✌☎✠☛✁✌☎ l(Cj)
✒

l(Cj) = ln p(x|Cj) + lnP (Cj).
✴✶✎✭✵

✰☎ ✠✌☎✂✁☞✡✍✝☎☛ ☞✄✂ ✠✡✝✂✂✄✂ ✞✝☛✂✂✁✄☎☎✄✂ Cj
☞✄ ✌✌✒✄☎☎✄✂

µj
✄☛ ✌✝☛✍✁✠✄✂ ☞✄ ✟✝✍✁✝☎✠✄✛✠✌✟✝✍✁✝☎✠✄

Σj ✓ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ✁ ☎☛✠✂☛✠ p(x|Cj)
✂✥✡✠✍✁☛ ✒

p(x|Cj) =
1

(2π)d/2|Σj |1/2
exp

[

−1

2
(x − µj)

TΣ−1
j (x − µj)

]

,
✴✶✎✮✵

✄☛ ✡✥✝✆✆✝✍☛✄☎✝☎✠✄ ✤ ☛☎✄ ✠✡✝✂✂✄ ✂✄ ☞✡✠✁☞✄ ✆✝✍ ✡✝ ✌✁☎✁✌✁✂✝☛✁✌☎ ☞✄ ✒

1

2
(x − µj)

TΣ−1
j (x − µj) +

1

2
ln |Σj | − lnP (Cj).

✴✶✎✶✵

✰☎ ✆✍✝☛✁✏☛✄✓ ✌☎ ☎✄ ☞✁✂✆✌✂✄ ✆✝✂ ☞✄✂ ✟✝✡✄☛✍✂ ☞✄✂ ✆✝✍✝✌✔☛✍✄✂
µj

✄☛
Σj

✄☛ ✌☎ ☎✄ ✠✌☎☎✝✣☛ ✆✝✂ ✡✝
✆✍✌✧✝✧✁✡✁☛✡ ✁ ☎☛✠✂☛✠ P (Cj)

✎ ✢✝ ✂✌✡☛☛✁✌☎ ✠✌☛✍✝☎☛✄ ✄✂☛ ✡✄ ✍✄✠✌☛✍✂ ✝☛✯ ✄✂☛✁✌✝☛✁✌☎✂ ☞✄ ✌✝✯✁✌☛✌ ☞✄
✟✍✝✁✂✄✌✧✡✝☎✠✄✓ ✠✝✡✠☛✡✡✂ ✤ ✆✝✍☛✁✍ ☞✄✂ ✆✌✁☎☛✂

zj
✴
j = 1 . . . nj

✵ ✏☛✁ ✠✌☎✂☛✁☛☛✄☎☛ ✠✄☛☛✄ ✠✡✝✂✂✄�☎ ✎ ✠✄✂
✄✂☛✁✌✝☛✁✌☎✂ ✌☎☛ ☞✄✂ ✄✯✆✍✄✂✂✁✌☎✂ ✧✁✄☎ ✠✌☎☎☛✄✂ ✝✫✬✓ ✮✬✓ ✲✬✬✞ ✒

✌✌✒✄☎☎✄ ✒
µ̂j =

1

nj

nj
∑

j=1

zj ,
✴✶✎✪✵

✌✝☛✍✁✠✄ ☞✄ ✟✝✍✁✝☎✠✄ ✒
Σ̂j =

1

nj

nj
∑

j=1

(zj − µ̂j)(zj − µ̂j)
T ,

✴✶✎✯✵

✆✍✌✧✝✧✁✡✁☛✡ ✁ ☎☛✠✂☛✠ ✒
P̂ (Cj) =

nj

n
.

✴✶✎✷✵

✂✝✖☞✔ ✗✠☛✝✟✔ ✕✠✝✟ ✗✞✎✟☛☞ ✑☞ ✏❂✍✟✞✏✠✝ ✕✠✒✎✝☛ ✺ ✵✹✽✶✹✽ ✭ ✞✗✗☞✏✍ ☞✝✔☞✡✓✏☞ ✑❂✞✗✗✎☞✝✟☛✔✔✞✌☞✭ ☞✟ ✝☞ ✔✠✝✟ ✗✞✔ ✏☞✔ ✡✪✡☞✔
❃✒☞ ✏☞✔ ✗✠☛✝✟✔

x
✄ ✢✏✞✔✔☞✎✘

✲✭✰



�✁✁☎✠✟☛☎ �✏ ✂✁✁✄✠✝☎ ✆☎✝ ☎✁✂✁✂☎✁✟✆☛✂✁☛✁✞✞☎✝

✗✝✍ ✠✌☎✂✡✏☛✄☎☛✓ ✡✄✂ ✆✝✍✝✌✔☛✍✄✂ ✍✄✆✌✍☛✡✂ ☞✝☎✂ ✡✥✄✯✆✍✄✂✂✁✌☎ ✤ ✌✁☎✁✌✁✂✄✍ ✴✶✎✶✵ ✂✌☎☛ ✡✝ ✌✌✒✄☎☎✄
✄✌✆✁✍✁✏☛✄

µ̂j
☞✄ ✡✝ ✠✡✝✂✂✄ ✴✡✄ ✧✝✍✒✠✄☎☛✍✄✵✓ ✡✝ ✌✝☛✍✁✠✄ ☞✄ ✟✝✍✁✝☎✠✄ ✄✌✆✁✍✁✏☛✄ Σ̂j

✄☛ ✡✥✄✆✄✠☛✁✘ ✍✝✆✆✌✍☛✡
✤ ✡✝ ☛✝✁✡✡✄ n ☞✄ ✡✥✄☎✂✄✌✧✡✄ ☞✥✝✆✆✍✄☎☛✁✂✂✝✞✄ ✴

P̂ (Cj)
✵✎

✲✦✴✏✎✔✍✗✣✚ ✑✚ ✓✦✘✜✜✔☎✓✘✍✔✏✌ ✌✏✌✞✜✒✙✚✎✂✔✜✧✚
✠✌✌✌✄ ☎✌☛✂ ✡✥✝✟✌☎✂ ✆✍✡✠✁✂✡ ✆✍✡✠✡☞✄✌✌✄☎☛✓ ✡✥✝✡✞✌✍✁☛☞✌✄ ✏☛✄ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ✠✌☎✂✁✂☛✄ ✄☎
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Algorithme hiérarchique

Elimination 
des points aberrants

Fusion des classes

Analyse discriminante

Classification stable ?

Optimisation

Initialisation

OUI

NON

Elimination finale 
des points aberrants
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✙✡☛✝✁✡✡✌☎✂ ✡✄✂ ✁☎✠✌☎✟✡☎✁✄☎☛✂ ☞✄ ✡✝ ✂✌✡☛☛✁✌☎ ☞✁✡✍✝✍✠☞✁✏☛✄ ✏☛✁ ☞✌✁✟✄☎☛ ✫☛✍✄ ✝✧✌✍☞✡✂ ✡✌✍✂ ☞✄ ✡✥✌✆✛
☛✁✌✁✂✝☛✁✌☎ ✒

✄ ✡✥☞✁✂☛✌✞✍✝✌✌✄ ✆✍✡✂✄☎☛✡ ✷✞☛✍✄ ✶✎✫✬ ✌✌☎☛✍✄ ✡✥✄✆✄✠☛✁✘ ☞✄✂ ✠✡✝✂✂✄✂ ✌✧☛✄☎☛✄✂ ✆✝✍ ✠✡✝✂✂✁✷✠✝☛✁✌☎
☞✁✡✍✝✍✠☞✁✏☛✄ ✂☛✍ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ☞✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄ ✏☛✄ ☎✌☛✂ ✝✟✌☎✂ ☛✍✝✁☛✡✄✂✎
✕✡ ✄✂☛ ✡✟✁☞✄☎☛ ✏☛✄✓ ☞☛ ✆✌✁☎☛ ☞✄ ✟☛✄ ✌✡☞✁✠✝✡✓ ✡✥✁☎✘✌✍✌✝☛✁✌☎ ✄✂☛ ☛✍✌✆ ✡✆✝✍✆✁✡✡✡✄ ✒ ✁✡ ☎✥✒ ✝ ✆✝✂
✲✬✬ ☛✒✆✄✂ ☞✥✝✠☛✁✟✁☛✡ ✂✌☎✌✍✄ ✝✧☞✌✌✁☎✝✡✄ ☞✁✂☛✁☎✠☛✄✂ ☞☛ ✆✌✁☎☛ ☞✄ ✟☛✄ ✆✍✝☛✁✏☛✄ ✝✄ ☛☎ ✝☛☛✍✄ ✁☎✠✌☎✟✡☎✁✄☎☛ ✁✌✆✌✍☛✝☎☛✓ ✡✁✡ ✝☛ ✞✍✝☎☞ ☎✌✌✧✍✄ ☞✄ ✠✡✝✂✂✄✂✓ ✄✂☛ ✡✥✄✆✄✠☛✁✘ ☛✍✔✂ ✘✝✁✧✡✄
☞✄ ✠✄✍☛✝✁☎✄✂ ☞✥✄☎☛✍✄ ✄✡✡✄✂ ✒ ✁✡ ✄✂☛ ✁☎☛☛✁✡✄ ☞✄ ✠✍✡✄✍ ☛☎✄ ✠✡✝✂✂✄ ✂✆✡✠✁✷✏☛✄ ✆✌☛✍ ☞✄☛✯ ✂✡✏☛✄☎✠✄✂
☞✄ ✡✌☎✞☛✄☛✍ ☞✥☛☎✄ ✌✁☎☛☛✄ ✂☛✍ ✆✡☛✂ ☞✄ ✭✬✬✬ ✌✁☎☛☛✄✂ ☞✥✄☎✍✄✞✁✂☛✍✄✌✄☎☛✎ ✕✡ ✒ ✝ ☛☎✄ ✝☛☛✍✄
☞✁✌✄☎✂✁✌☎ ☞✄ ✠✄ ✆✍✌✧✡✔✌✄✓ ✡✁✡✄ ✤ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✂☛✆✄✍✟✁✂✡✄ ✒ ✝✷☎ ☞✥✌✧☛✄☎✁✍
☛☎✄ ✌✝☛✍✁✠✄ ☞✄ ✟✝✍✁✝☎✠✄ ☞✥☛☎✄ ✠✡✝✂✂✄ ☎✌☎✛✂✁☎✞☛✡✁✔✍✄✓ ✌☎ ✝ ✧✄✂✌✁☎ ☞✥✝☛ ✌✌✁☎✂ d + 1 ✆✌✁☎☛✂✓
✌✟

d
✄✂☛ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄ ✝✪✶✞✎ �☛✁ ✆✡☛✂ ✄✂☛✓ ✆✌☛✍ ✌✧☛✄☎✁✍ ☛☎✄ ✄✂☛✁✌✝☛✁✌☎ ✠✌✍✍✄✠☛✄

☞✄✂ ✆✝✍✝✌✔☛✍✄✂ ☞✄✂ ☞✄☎✂✁☛✡✂ ☞✄ ✆✍✌✧✝✧✁✡✁☛✡ ✴✡✏☛✝☛✁✌☎✂ ✶✎✪ ✤ ✶✎✷✵✓ ✁✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✥✝✟✌✁✍ ☛☎
☎✌✌✧✍✄ ✌✁☎✁✌✝✡ ☞✄ ✆✌✁☎☛✂✎ ✠✄ ☎✌✌✧✍✄ ✄✂☛ ✡✟✝✡☛✡ ✤

5 ·d+1
✌☛ ✤

10 ·d+1 ☞✝☎✂ ✝✪✲✓ ✯✰✞ ✴✲✪✓
✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✭✲ ✆✌✁☎☛✂ ☞✝☎✂ ☛☎ ✄✂✆✝✠✄ ☛✍✁☞✁✌✄☎✂✁✌☎☎✄✡✵✓ ✌☛ ✄☎✠✌✍✄ ✤ ✄☎✟✁✍✌☎ 100,6·(d−0,25)

☞✝☎✂ ✝✪✬✞ ✴≈ 44 ✆✌✁☎☛✂ ✄☎ ✭✙✵ ✝

✲✮✫
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✁✂✄☎ ✶✎✫✬ ✄ ✯☛✔✟✠✌✎✞✡✡☞ ✑☞✔ ✔✍❃✒☞✝✢☞✔ ✑☞ ✗✰✠✝✠☞✝✟✍✎✠✌✎✞✡✡☞ ✗✞✎ ✢✏✞✔✔☞✔✭ ✞✗✎❄✔ ✏❂✍✟✞✗☞ ✑☞ ✢✏✞✔✔☛✠✢✞✟☛✠✝✰☛✍✎✞✎✢✰☛❃✒☞ ✗✞✎ ✡✍✟✰✠✑☞ ✑☞ ✗✞✎✑ ☞✟ ✑✍✢✠✒✗✞✌☞ ✑✒ ✑☞✝✑✎✠✌✎✞✡✡☞ ✗✞✎ ✔☞✒☛✏✏✞✌☞ ✑☞✔ ✢✠☞✞✢☛☞✝✟✔ ✑❂☛✝✢✠✝✔☛✔✟✞✝✢☞✘✧✝ ✠✓✟☛☞✝✟ ✲✳ ✢✏✞✔✔☞✔ ✑❂☞✔☞✢✟☛✕✔ ✫✞✎☛✞✝✟ ☞✝✟✎☞ ✞ ☞✟ ✝✡✳ ✗✠☛✝✟✔✘

✄ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✁✡✍✝✍✠☞✁✏☛✄ ☎✄ ✆✍✄☎☞ ✆✝✂ ✄☎ ✠✌☎✂✁☞✡✍✝☛✁✌☎ ✡✝ ☎✌☛✁✌☎ ☞✄ ✆✌✁☎☛ ✝✧✄✍✍✝☎☛✓
☛✌☛✂ ✡✄✂ ✆✌✁☎☛✂ ☞✄ ✡✥✄✂✆✝✠✄ ✡☛✝☎☛ ✝☛☛✝✠☞✡✂ ✤ ☛☎✄ ✠✡✝✂✂✄ ✆✡☛✂ ✌☛ ✌✌✁☎✂ ☎✌✌✧✍✄☛✂✄✎ ✕✡ ✄✂☛

✆✄☛☛✛✫☛✍✄ ✁☎☛✡✍✄✂✂✝☎☛ ☞✄ ☞✡☛✄✠☛✄✍ ✠✄✂ ✟✝✡✄☛✍✂ ✝✧✄✍✍✝☎☛✄✂ ✴✄☎ ✘✝✁☛ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ✌☛ ☞✄✂ ✂✌☎✂
✁☎☞✁✟✁☞☛✄✡✂ ✍✝✍✄✂✵✓ ✄☛ ☞✄ ✡✄✂ ✂✌☛✌✄☛☛✍✄ ✂✡✆✝✍✡✌✄☎☛ ✝☛ ✬☛✞✄✌✄☎☛ ✌✡☞✁✠✝✡✎ ✙✄ ✆✡☛✂✓ ☞☛ ✆✌✁☎☛

☞✄ ✟☛✄ ✌✡☛☞✌☞✌✡✌✞✁✏☛✄✓ ✡✄✂ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ✆✄✍☛☛✍✧✄☎☛ ✡✄✂ ✄✂☛✁✌✝☛✁✌☎✂ ☞✄✂ ✆✝✍✝✌✔☛✍✄✂ ☞✄✂
✠✡✝✂✂✄✂ ✝✄ ✁✡ ✄✯✁✂☛✄ ☞✄✂ ✠✡✝✂✂✄✂ ✆✍✌✠☞✄✂ ✡✥☛☎✄ ☞✄ ✡✥✝☛☛✍✄✓ ✟✌✁✍✄ ✄☎ ✆✝✍☛✁✄ ✂☛✆✄✍✆✌✂✡✄✂✎ ✕✡ ✄✂☛ ✆✍✌✧✝✧✡✄ ✏☛✄
✠✄✂ ✠✡✝✂✂✄✂ ☎✥✝✁✄☎☛ ✆✝✂ ☞✄ ✂✁✞☎✁✷✠✝☛✁✌☎ ✌✡☞✁✠✝✡✄ ☞✁✂☛✁☎✠☛✄ ✄☛ ✏☛✥✄✡✡✄✂ ✆☛✁✂✂✄☎☛ ✫☛✍✄ ✘☛✂✁✌☎☎✡✄✂✎

✎✷☎ ☞✄ ✍✡✂✌☛☞✍✄ ✡✄✂ ✆✍✌✧✡✔✌✄✂ ✡✁✂☛✡✂ ✠✁✛☞✄✂✂☛✂✓ ✡✥✌✆☛✁✌✁✂✝☛✁✌☎ ✂✄ ☞✡✍✌☛✡✄ ✄☎ ✆✡☛✂✁✄☛✍✂ ✡☛✝✆✄✂ ✒
✴✝✵ ✦✘ ✑✧✍✚✓✍✔✏✌ ✑✚✜ ✙✏✔✌✍✜ ✘✢✚✎✎✘✌✍✜✓ ✠✡✝✂✂✄ ✆✝✍ ✠✡✝✂✂✄✎ ✠✄☛☛✄ ✡☛✝✆✄ ☎✡✠✄✂✂✁☛✄ ☞✄ ✆✍✡✠✁✂✄✍ ✠✄

✏☛✄ ✡✥✌☎ ✄☎☛✄☎☞ ✆✝✍ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ✒ ✁✡✂ ✂✌☎☛ ☞✡✷☎✁✂ ✠✌✌✌✄ ✡✄✂ ✡✡✡✌✄☎☛✂ ☞✌☎☛ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡
☞✥✝✆✆✝✍☛✄☎✝☎✠✄ ✤ ✡✝ ✠✡✝✂✂✄ ✄✂☛ ☛✍✌✆ ✘✝✁✧✡✄✎ ✠✄✠✁ ☎✥✄✂☛ ✆✝✂ ✄☎✠✌✍✄ ☛☎✄ ☞✡✷☎✁☛✁✌☎ ✆✍✡✠✁✂✄✓ ✠✝✍
✁✡ ✘✝☛☛ ✂✆✡✠✁✷✄✍ ✏☛✄✡ ✄✂☛ ✡✄ ✂✄☛✁✡ ✁☎✘✡✍✁✄☛✍ ✝✠✠✄✆☛✝✧✡✄ ✆✌☛✍ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ☞✥✝✆✆✝✍☛✄☎✝☎✠✄✎
✗✌☛✍ ☛☎✄ ☞✄☎✂✁☛✡ ✞✝☛✂✂✁✄☎☎✄✓ ✡✥✝✆✆✍✌✠☞✄ ✠✡✝✂✂✁✏☛✄ ✝✰✭✞ ✄✂☛ ☞✥✄✂☛✁✌✄✍ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ☞✥✝✆✆✝✍✛
☛✄☎✝☎✠✄ ✤ ✆✝✍☛✁✍ ☞✄ ✡✝ ☞✁✂☛✝☎✠✄ ☞✄ �✝☞✝✡✝☎✌✧✁✂ ✴✶✎✲✵ ✄☎☛✍✄ ✡✄ ✆✌✁☎☛ ✄☛ ✡✄ ✧✝✍✒✠✄☎☛✍✄ ✒ ☞✝☎✂
☛☎ ✄✂✆✝✠✄ ☛✍✁☞✁✌✄☎✂✁✌☎☎✄✡✓ ✠✄☛☛✄ ☞✁✂☛✝☎✠✄ ✂☛✁☛ ☛☎✄ ✡✌✁ ☞✄ χ2 ✤ ✭ ☞✄✞✍✡✂ ☞✄ ✡✁✧✄✍☛✡ ✝✲✬✬✞✎ ✰☎
☞✡✷☎✁✂✂✝☎☛ ✡✄✂ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ✠✌✌✌✄ ✠✄☛✯ ☞✌☎☛ ✡✝ ✆✍✌✧✝✧✁✡✁☛✡ ✄✂☛ ✁☎✘✡✍✁✄☛✍✄ ✤

α = 0, 01
✌☛ α = 0, 05✓ ✌☎ ✆✄☛☛ ✡✄✂ ☞✡☛✄✠☛✄✍ ✆✝✍ ☛☎ ☛✄✂☛ ☞✄ χ2 ✄☛ ✠✝✡✠☛✡✄✍ ✝✁☎✂✁ ☛☎ ✝☎✂✠✄ ✆ ✁☎☎✄✄✂✝✠✂✁✎
✠✌✌✌✄ ✡✝ ☞✁✂☛✝☎✠✄ ☞✄ �✝☞✝✡✝☎✌✧✁✂ ✄✂☛ ✘✌☎☞✡✄ ✂☛✍ ✡✥✄✂☛✁✌✝☛✁✌☎ ☞✄ ✡✝ ✌✝☛✍✁✠✄ ☞✄ ✟✝✍✁✝☎✠✄

☞✄ ✡✝ ✠✡✝✂✂✄✓ ☎✌☛✂ ✝✆✆✡✁✏☛✌☎✂ ✠✄☛☛✄ ☛✄✠☞☎✁✏☛✄ ✂✄☛✡✄✌✄☎☛ ✆✌☛✍ ✡✄✂ ✠✡✝✂✂✄✂ ✝✒✝☎☛ ☛☎ ✄✆✄✠☛✁✘
✂☛✆✡✍✁✄☛✍ ✤

10 · d+ 1✓ ✌✟ d ✄✂☛ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄✎ ✶✌☛✂ ✡✄✂ ✆✌✁☎☛✂ ✝✆✆✝✍☛✄☎✝☎☛ ✤ ☞✄✂
✠✡✝✂✂✄✂ ☞✥✄✆✄✠☛✁✘ ✁☎✘✡✍✁✄☛✍ ✂✄✍✌☎☛ ✝☛✂✂✁ ✠✌☎✂✁☞✡✍✡✂ ✠✌✌✌✄ ✝✧✄✍✍✝☎☛✂✎
✖✄✡✌☎ ✍✌☛✂✂✄✄☛✂ ✝✰✭✞✓ ✂✁ ✠✄☛☛✄ ✌✡☛☞✌☞✄ ✄✂☛ ✷✝✧✡✄ ✆✌☛✍ ✡✝ ☞✡☛✄✠☛✁✌☎ ☞✥☛☎✄ ✂✄☛✡✄ ✟✝✡✄☛✍
✝✧✄✍✍✝☎☛✄✓ ✄✡✡✄ ✄✂☛ ✆✄✍☛☛✍✧✡✄ ✆✝✍ ✡✝ ✆✍✡✂✄☎✠✄ ☞✥☛☎ ☎✌✌✧✍✄ ✆✡☛✂ ✁✌✆✌✍☛✝☎☛✎ ✮☎✄ ✂✌✡☛☛✁✌☎
✆✌✂✂✁✧✡✄ ✄✂☛ ☞✄ ☞✡☛✄✠☛✄✍ ✠✄✂ ✟✝✡✄☛✍✂ ✁☛✡✍✝☛✁✟✄✌✄☎☛✓ ✬☛✂✏☛✥✤ ✡✄☛✍ ✁☞✄☎☛✁✷✠✝☛✁✌☎ ✠✌✌✆✡✔☛✄�✁ ✎
✠✥✄✂☛ ✡✝ ✌✡☛☞✌☞✄ ✏☛✄ ☎✌☛✂ ✝✟✌☎✂ ✝☞✌✆☛✡✄✓ ✡✄ ✍✡✂☛✡☛✝☛ ✌✧☛✄☎☛ ✡☛✝☎☛ ✡✝ ✠✍✡✝☛✁✌☎ ☞✄ ✟☎✌✒✝☛✯✠
✍✌✧☛✂☛✄✂ ☞✄ ✠✡✝✂✂✄✂ ✝

✂✝✟☞✡✞✎❃✒✠✝✔ ✄ ✏❂✠✢✢✞✔☛✠✝ ❃✒☞ ✢☞✟✟☞ ✡✍✟✰✠✑☞ ☞✔✟ ✓✞✔✍☞ ✔✒✎ ✏☞ ✡✪✡☞ ✗✎☛✝✢☛✗☞ ❃✒☞ ✏❂✞✏✌✠✎☛✟✰✡☞ ✑☞ ✑✍✓✎✒☛✟✞✌☞✑✍✢✎☛✟ ✑✞✝✔ ✏☞ ✟✎✠☛✔☛❄✡☞ ✢✰✞✗☛✟✎☞ ✑☞ ✢☞✟✟☞ ✟✰❄✔☞ ✛ ✏✞ ✑✍✟☞✢✟☛✠✝ ☛✟✍✎✞✟☛✫☞ ✑☞✔ ✫✞✏☞✒✎✔ ☎✔☛✌✝☛✠✢✞✟☛✫☞✔✆✘

✲✮✭



�✁✁☎✠✟☛☎ �✏ ✂✁✁✄✠✝☎ ✆☎✝ ☎✁✂✁✂☎✁✟✆☛✂✁☛✁✞✞☎✝

✴✧✵ ✦✘ �✒✜✔✏✌ ✑✚✜ ✓✦✘✜✜✚✜✎ ✢✥✄✯✆✡✍✁✄☎✠✄ ✌✌☎☛✍✄ ✏☛✄ ✡✄✂ ✠✡✝✂✂✄✂ ✁✂✂☛✄✂ ☞✄ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✁✡✍✝✍✛
✠☞✁✏☛✄ ✂✌☎☛ ✆✝✍✘✌✁✂ ☛✍✌✆ ✆✍✌✠☞✄✂ ✂✄✡✌☎ ✡✄ ✌✌☞✔✡✄ ✠☞✌✁✂✁ ✒ ✡✄✂ ✄✡✡✁✆✂✌✤☞✄✂ ✌☎☛ ☞✄✂ ✧✝✍✒✠✄☎☛✍✄✂
✁☎✂☛☎✂✝✌✌✄☎☛ ✡✡✌✁✞☎✡✂ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✡✄☛✍✂ ☞✁✂✆✄✍✂✁✌☎✂✎ ✢✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✘☛✂✁✌☎ ✏☛✄ ☎✌☛✂
✆✍✌✆✌✂✌☎✂ ✄✂☛ ✧✝✂✡ ✝☛✂✂✁ ✂☛✍ ☛☎ ☛✄✂☛ ☞✄ χ2 ✄☛ ✂✄ ☞✡✍✌☛✡✄ ✄☎ ☞✄☛✯ ✆☞✝✂✄✂ ✒
✄ ✡✄ ✠✝✡✠☛✡✓ ✆✌☛✍ ✠☞✝✏☛✄ ✠✡✝✂✂✄✓ ☞✥☛☎ ✝☎✂✠✄ ✆☎ ✞✂✝✠✂✁ ☞✡✡✁✌✁☛✝☎☛ ☛☎ ✟☎✌✒✝☛ ☞☛✍✠ ✴✡✝ ✆✍✌✧✝✧✁✡✁☛✡

☞✥✝✟✌✁✍ ☞✄✂ ✆✌✁☎☛✂ ✝☛✛☞✄✡✤ ☞✄ ✠✄ ✂✄☛✁✡ ✄✂☛ ☞✌☎☎✡✄ ✆✝✍ α = 0, 5
✌☛ α = 0, 33✓ ✠✄ ✏☛✁ ✍✄✟✁✄☎☛

✤ ☞✡✷☎✁✍ ✠✄ ☎✌✒✝☛ ✠✌✌✌✄ ✡✥✄✡✡✁✆✂✌✤☞✄ ✠✌☎☛✄☎✝☎☛ ✡✝ ✌✌✁☛✁✡✓ ✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✡✄✂ ☞✄☛✯ ☛✁✄✍✂✓
☞✄✂ ✆✌✁☎☛✂✵ ✝

✄ ✡✝ ✘☛✂✁✌☎ ☞✄✂ ✠✡✝✂✂✄✂ ✝✒✝☎☛ ✄☎ ✠✌✌✌☛☎ ✝☛ ✌✌✁☎✂ ☛☎ ✡✡✡✌✄☎☛ ✝✆✆✝✍☛✄☎✝☎☛ ✝☛✯ ☞✄☛✯ ☎✌✒✝☛✯
☞☛✍✂ ✝

✴✠✵ ✦✆✘✌✘✦�✜✚ ✑✔✜✓✎✔✣✔✌✘✌✍✚✎ ✗✌☛✍ ✠☞✝✠☛☎✄ ☞✄✂ ✠✡✝✂✂✄✂ ✌✧☛✄☎☛✄✂ ✝☛✯ ✡☛✝✆✄✂ ✆✍✡✠✡☞✄☎☛✄✂ ☞✥✡✡✁✛
✌✁☎✝☛✁✌☎ ☞✄✂ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ✄☛ ✘☛✂✁✌☎✓ ✌☎ ✄✂☛✁✌✄ ✆✝✍ ☞✄✂ ✌✡☛☞✌☞✄✂ ☞✄ ✟✍✝✁✂✄✌✧✡✝☎✠✄ ✡✝
✌✌✒✄☎☎✄✓ ✡✝ ✌✝☛✍✁✠✄ ☞✄ ✟✝✍✁✝☎✠✄ ✄☛ ✡✥✄✆✄✠☛✁✘ ✴✡✏☛✝☛✁✌☎✂ ✶✎✪ ✤ ✶✎✷✵✎ ✠✄☛☛✄ ✡☛✝✆✄ ✄✂☛ ✡✝ ✆☞✝✂✄
✁☎✁☛✁✝✡✄ ☞✄ ✡✥✝☎✝✡✒✂✄ ☞✁✂✠✍✁✌✁☎✝☎☛✄✎ ✰✡✡✄ ✄✂☛ ✂☛✁✟✁✄ ✆✝✍ ✡✝ ✌✁☎✁✌✁✂✝☛✁✌☎ ☞✄ ✡✝ ✘✌☎✠☛✁✌☎ ☞✥✝✆✛
✆✝✍☛✄☎✝☎✠✄ ✶✎✶ ✆✌☛✍ ✠☞✝✏☛✄ ✆✌✁☎☛✓ ✝✷☎ ☞✄ ☛✍✌☛✟✄✍ ✡✝ ✠✡✝✂✂✄ ✡✝ ✆✡☛✂ ✆✍✌✧✝✧✡✄✎

✢✄✂ ✡☛✝✆✄✂ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✥✌✆☛✁✌✁✂✝☛✁✌☎✓ ☞✄ ✡✝ ☞✡☛✄✠☛✁✌☎ ☞✄✂ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ✤ ✡✥✝☎✝✡✒✂✄
☞✁✂✠✍✁✌✁☎✝☎☛✄✓ ✌✌☞✁✷✄☎☛ ✡✝ ✂☛✍☛✠☛☛✍✄ ☞✄ ✡✥✄☎✂✄✌✧✡✄ ☞✥✝✆✆✍✄☎☛✁✂✂✝✞✄ ✒ ✆✝✍ ✘☛✂✁✌☎✓ ✡✄✂ ✧✝✍✒✠✄☎☛✍✄✂
✄☛ ✡✄✂ ✌✝☛✍✁✠✄✂ ☞✄ ✟✝✍✁✝☎✠✄ ☞✄✂ ✠✡✝✂✂✄✂ ✠☞✝☎✞✄☎☛✓ ✄☛ ☞✌☎✠ ✡✄✂ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ☎✄ ☞✄✟✍✝✁✄☎☛ ✆✡☛✂ ✫☛✍✄
✡✄✂ ✌✫✌✄✂✎ ✙✥✝✁✡✡✄☛✍✂✓ ✡✥✝☎✝✡✒✂✄ ☞✁✂✠✍✁✌✁☎✝☎☛✄✓ ✝✆✆✡✁✏☛✡✄ ✂☛✍ ✡✥✄☎✂✄✌✧✡✄ ☞✄✂ ✆✌✁☎☛✂✓ ✍✡✝✂✂✁✞☎✄ ✠✄✂

✆✌✁☎☛✂ ✝☛✯ ✠✡✝✂✂✄✂ ✡✄✂ ✆✡☛✂ ✆✍✌✧✝✧✡✄✂✎ ✕✡ ✄✂☛ ☎✡✠✄✂✂✝✁✍✄ ☞✌☎✠ ☞✄ ✍✡✁☛✡✍✄✍ ✡✥✝✡✞✌✍✁☛☞✌✄ ✝✷☎ ☞✥✝✂✂☛✍✄✍
✡✝ ✠✌☎✟✄✍✞✄☎✠✄ ☞✄ ✡✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☛✍✌☛✟✡✄✎
�✦✔✣✔✌✘✍✔✏✌ ☎✌✘✦✚ ✑✚✜ ✙✏✔✌✍✜ ✘✢✚✎✎✘✌✍✜✥ ✠✄☛☛✄ ☞✄✍☎✁✔✍✄ ✡☛✝✆✄ ☞✥✌✆☛✁✌✁✂✝☛✁✌☎ ✟✁✂✄ ✤ ✠✌✍✍✁✞✄✍
✡✄✂ ✟✄✯✠✔✂✠ ☞✄✂ ✆☞✝✂✄✂ ✝☎☛✡✍✁✄☛✍✄✂ ✒ ✤ ✡✝ ✷☎ ☞✄✂ ✁☛✡✍✝☛✁✌☎✂✓ ☛✌☛✂ ✡✄✂ ✆✌✁☎☛✂ ☞✄ ✡✥✄✂✆✝✠✄ ✂✌☎☛ ✝☛☛✍✁✧☛✡✂ ✤
☛☎✄ ☞✄✂ ✠✡✝✂✂✄✂✓ ✤ ✠✝☛✂✄ ☞✄ ✡✥✝☎✝✡✒✂✄ ☞✁✂✠✍✁✌✁☎✝☎☛✄✎ ✠✄✆✄☎☞✝☎☛✓ ✡✄✂ ✠✡✝✂✂✄✂ ✌✧☛✄☎☛✄✂ ☎✄ ✠✌☎✂☛✁☛☛✄☎☛
✆✝✂ ✘✌✍✠✡✌✄☎☛ ☛☎ ✄☎✂✄✌✧✡✄ ☞✥✝✆✆✍✄☎☛✁✂✂✝✞✄ ✂☛✝✧✡✄ ✆✝✍ ✍✝✆✆✌✍☛ ✤ ✠✄☛☛✄ ✝☎✝✡✒✂✄ ☞✁✂✠✍✁✌✁☎✝☎☛✄ ✴✂✝☛✘✓✧✁✄☎ ✂✁✍✓ ✂✁ ✌☎ ✍✄✠✡✝✂✂✄ ✄✯✝✠☛✄✌✄☎☛ ✡✄✂ ✌✫✌✄✂ ✆✌✁☎☛✂✓ ✠✄ ✏☛✁ ✠✌☎✂☛✁☛☛✄✍✝✁☛ ☛☎ ✧✌☎ ✄✯✄✌✆✡✄ ☞✄
✂☛✍✛✝✆✆✍✄☎☛✁✂✂✝✞✄ ✝✮✬✞✵✎ ✑✌☛✂ ✆✍✌✠✡☞✌☎✂ ☞✌☎✠ ✤ ☛☎✄ ☎✌☛✟✄✡✡✄ ✟✡✆☛✍✝☛✁✌☎✠ ☞✄✂ ✠✡✝✂✂✄✂ ☞✄✂ ✟✝✡✄☛✍✂
✝✧✄✍✍✝☎☛✄✂✓ ✂✄✡✌☎ ✡✝ ✌✫✌✄ ✌✡☛☞✌☞✄ ✏☛✄ ✠✄✡✡✄ ☞✡✠✍✁☛✄ ✝☛ ✆✍✄✌✁✄✍ ✆✝✂ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✁☛✡✍✝☛✁✘
☞✥✌✆☛✁✌✁✂✝☛✁✌☎✎

✡✓✟✓☛ ✂✡✟☎✜✕✔✕✟
✢✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✡✠✍✁☛ ✆✍✡✠✡☞✄✌✌✄☎☛ ✄✂☛ ✍✄✡✝☛✁✟✄✌✄☎☛ ✞✡☎✡✍✝✡ ✄☛ ✝✆✆✡✁✠✝✧✡✄

✤ ☞✄✂ ☞✌☎☎✡✄✂ ☞✁✟✄✍✂✄✂ ✄☛ ☞✝☎✂ ☞✄✂ ✄✂✆✝✠✄✂ ☞✄ ☞✁✌✄☎✂✁✌☎ ✏☛✄✡✠✌☎✏☛✄✎ ✠✄✆✄☎☞✝☎☛✓ ✡✄ ✠☞✌✁✯ ☞✄ ✡✝
☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄ ☞✄ ☛✍✝✟✝✁✡ ✄☛ ☞✄✂ ✆✝✍✝✌✔☛✍✄✂ ☞✄ ✍✡✞✡✝✞✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✁☎☞☛✄☎✠✄☎☛ ✧✄✝☛✠✌☛✆
✡✄✂ ✍✡✂☛✡☛✝☛✂✎

✰☎ ✆✍✁☎✠✁✆✄ ✝✮✬✞✓ ✄☎ ✝☛✞✌✄☎☛✝☎☛ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄ ☞✄✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄✂ ✌☎ ✝✌✡✡✁✌✍✄
☛✌☛✬✌☛✍✂ ✡✝ ✂✌✡☛☛✁✌☎✎ ✠✄✆✄☎☞✝☎☛✓ ✄✂☛✁✌✄✍ ✡✄✂ ✆✝✍✝✌✔☛✍✄✂ ☞✄✂ ✠✡✝✂✂✄✂ ✞✝☛✂✂✁✄☎☎✄✂ ☞✝☎✂ ☛☎ ✄✂✆✝✠✄

☞✄ ✞✍✝☎☞✄ ☞✁✌✄☎✂✁✌☎ ☎✡✠✄✂✂✁☛✄ ✧✄✝☛✠✌☛✆ ✆✡☛✂ ☞✄ ✆✌✁☎☛✂✎ ✙✄ ✆✡☛✂✓ ✡✥✡☛✝✆✄ ☞✥✡✡✁✌✁☎✝☛✁✌☎ ☞✄ ✆✌✁☎☛✂

✝✧✄✍✍✝☎☛✂ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄ ☞✡✠✍✁☛ ✆✍✡✠✡☞✄✌✌✄☎☛ ✴✆✝✞✄ ✲✮✭✵ ☎✄

✆✄✍✌✄☛ ✆✝✂ ✡✥✄✯✁✂☛✄☎✠✄ ☞✄ ✠✡✝✂✂✄✂ ☞✌☎☛ ✡✄✂ ✆✝✍✝✌✔☛✍✄✂ ✂✌☎☛ ✁✌✆✌✂✂✁✧✡✄ ✤ ✄✂☛✁✌✄✍✎
✎✆✍✔✂ ☛☎✄ ✝☎✝✡✒✂✄ ✄☎ ✠✌✌✆✌✂✝☎☛✄✂ ✆✍✁☎✠✁✆✝✡✄✂ ☞✄✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡ ✴☞✡✠✍✁✟✝☎☛ ✡✄✂ ✂✡✏☛✄☎✠✄✂

☞✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✵✓ ☎✌☛✂ ☞✁✂✆✌✂✌☎✂ ☞✥☛☎ ✄✂✆✝✠✄ ✝✒✝☎☛ ☞✄✂ ✝✯✄✂ ✌✍☛☞✌✞✌☎✝☛✯ ☞✄ ☞✁✌✄☎✂✁✌☎✰✎ ✗✌☛✍ ✘✝✠✁✡✁☛✄✍ ✡✥✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✄ ✡✥✎✠✗✓ ☎✌☛✂ ✝✟✌☎✂ ✞✝✍☞✡ ✡✄✂ ✆✍✄✌✁✄✍✂ ☛✍✌✁✂ ✝✯✄✂ ✆✍✁☎✠✁✆✝☛✯✎
✠✄✆✄☎☞✝☎☛✓ ✠✄☛ ✄✂✆✝✠✄ ✍✡☞☛✁☛ ✆✍✡✂✄✍✟✄ ✂✄☛✡✄✌✄☎☛ ✯✲✁ ☞✄ ✡✝ ☞✁✂✆✄✍✂✁✌☎ ☞☛ ☎☛✝✞✄ ☞✄ ✆✌✁☎☛✂✎ ✎✆✍✔✂
✆✡☛✂✁✄☛✍✂ ✄✂✂✝✁✂✓ ☎✌☛✂ ✝✟✌☎✂ ☞✡✠✁☞✡ ☞✥✁☎✠✡☛✍✄ ☞✝☎✂ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✡✄✂ ✠✌✌✆✌✂✝☎☛✄✂

✆✍✁☎✠✁✆✝✡✄✂ c4
✄☛
c5 ✓ ✄☛ ☞✄ ✠✌☎✂✁☞✡✍✄✍ ✝✁☎✂✁ ☛☎ ✄✂✆✝✠✄ ✶✛☞✁✌✄☎✂✁✌☎☎✄✡ ✏☛✁ ✞✝✍☞✄ ✄☎✟✁✍✌☎ ✰✬✁ ☞✄ ✡✝

✟✝✍✁✝☎✠✄ ✁☎✁☛✁✝✡✄✎

✲✮✮



�✏�✏ �✄✁✝✝✠�✄✁✟✠✂✁ ✁✂✁�✝✂☎☎☛✟✠✝✆☎
✢✄✂ ✆✝✍✝✌✔☛✍✄✂ ☞✄ ✍✡✞✡✝✞✄ ☞✄ ✡✥✝✡✞✌✍✁☛☞✌✄ ✴✂✄☛✁✡✡✝✞✄ ☞☛ ☞✄☎☞✍✌✞✍✝✌✌✄✓ ✂✄☛✁✡ ☞✄ ✘☛✂✁✌☎✓ ✂✄☛✁✡

☞✥✄✯✠✡☛✂✁✌☎✵ ✌☎☛ ✡✥✝✟✝☎☛✝✞✄ ☞✄ ✡✄ ✍✄☎☞✍✄ ✝☞✝✆☛✝✧✡✄✓ ✡✥✁☎✠✌☎✟✡☎✁✄☎☛ ✡☛✝☎☛ ✧✁✄☎✛✂✁✍ ✡✝ ☎✡✠✄✂✂✁☛✡ ☞✄
✡✥✁☎☛✄✍✟✄☎☛✁✌☎ ☞✄ ✡✥☛☛✁✡✁✂✝☛✄☛✍✎ ✰☎ ✍✄✟✝☎✠☞✄✓ ✁✡ ☎✄ ☎✡✠✄✂✂✁☛✄ ✆✝✂ ✡✥✁☎☛✍✌☞☛✠☛✁✌☎ ✄✯✆✡✁✠✁☛✄ ☞☛ ☎✌✌✧✍✄
☞✄ ✠✡✝✂✂✄✂ ✤ ☛✍✌☛✟✄✍✎

✖✄✡✌☎ ☎✌✂ ✄✂✂✝✁✂✓ ✡✄ ✂✄☛✁✡✡✝✞✄ ☞☛ ☞✄☎☞✍✌✞✍✝✌✌✄ ✄☛ ✡✄ ✂✄☛✁✡ ☞✥✄✯✠✡☛✂✁✌☎ ☞✡✆✄☎☞✄☎☛ ✆✄☛ ☞✄ ✡✝
✂☛✍☛✠☛☛✍✄ ☞☛ ✬✄☛ ☞✄ ☞✌☎☎✡✄✂✓ ✄☛ ✡✄✂ ✟✝✡✄☛✍✂ ✏☛✄ ☎✌☛✂ ✆✍✌✆✌✂✌☎✂ ✂✌☎☛ ✂☛✝✧✡✄✂✎ ✠✄✂ ✟✝✡✄☛✍✂ ✌☎☛

☞✥✝✁✡✡✄☛✍✂ ☛☎✄ ✬☛✂☛✁✷✠✝☛✁✌☎ ✁☎☞✡✆✄☎☞✝☎☛✄ ☞✄✂ ☞✌☎☎✡✄✂ ✒ ✡✄ ✂✄☛✁✡ ☞☛ ✠✌✄☎✠✁✄☎☛ ☞✥✁☎✠✌☎✂✁✂☛✝☎✠✄ ✄☛
✡✄ ✂✄☛✁✡ ☞✥✄✯✠✡☛✂✁✌☎ ☞✄✂ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ✌☎☛ ✡✄ ✌✫✌✄ ✂✄☎✂ ✂☛✝☛✁✂☛✁✏☛✄✓ ✠✥✄✂☛✛✤✛☞✁✍✄ ✏☛✥✁✡✂ ✁✂✌✡✄☎☛
✡✄✂ ✟✝✡✄☛✍✂ ✂✁✞☎✁✷✠✝☛✁✟✄✌✄☎☛ ☞✁✆✡✍✄☎☛✄✂ ☞✄✂ ✝☛☛✍✄✂✓ ✡✝ ✂✄☛✡✄ ☞✁✆✡✍✄☎✠✄ ✡☛✝☎☛ ✡✥✝✆✆✍✌✠☞✄ ✒ ✆✝✍✝✌✡✛
☛✍✁✏☛✄ ✆✌☛✍ ✡✄✂ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ✴☛✄✂☛ ☞✄ χ2✵ ✄☛ ☎✌☎✛✆✝✍✝✌✡☛✍✁✏☛✄ ✴✆✄✍✠✄☎☛✁✡✄✂✵ ✆✌☛✍ ✡✄ ✠✌✄☎✠✁✄☎☛

☞✥✁☎✠✌☎✂✁✂☛✝☎✠✄✎
✰☎ ✍✄✟✝☎✠☞✄✓ ✡✄ ✂✄☛✁✡ ☞✄ ✘☛✂✁✌☎ ✄✂☛ ✆✡☛✂ ✡✁✡ ✝☛✯ ☞✌☎☎✡✄✂ ✄☛ ☞✌✁☛ ✫☛✍✄ ✠☞✌✁✂✁ ✄☎ ✘✌☎✠☛✁✌☎ ☞✄✂

☞✒✆✌☛☞✔✂✄✂ ✏☛✄ ✡✥☛☛✁✡✁✂✝☛✄☛✍ ✘✝✁☛ ✂☛✍ ✠✄✂ ☞✌☎☎✡✄✂✎ ✮☎ ✂✄☛✁✡ ☞✄ ✟✝✡✄☛✍ ✆✡☛☛✌☛ ✡✡✄✟✡✄✓ ✏☛✁ ✆✄✍✌✄☛

☛☎ ☎✌✒✝☛ ✡✝✍✞✄ ✝☛☛✌☛✍ ☞✄ ✡✝ ✌✌✒✄☎☎✄ ✴✠✌☎☛✄☎✝☎☛ ✆✝✍ ✄✯✄✌✆✡✄ ☞✄☛✯ ☛✁✄✍✂ ☞✄✂ ✆✌✁☎☛✂✵✓ ✄✂☛ ✝☞✝✆☛✡
✝☛✯ ✠✡✝✂✂✄✂ ✧✁✄☎ ✂✡✆✝✍✡✄✂✓ ✠✝✍ ✁✡ ✆✍✌✟✌✏☛✄ ✡✝ ✘☛✂✁✌☎ ☞✄✂ ✂✌☛✂✛✠✡✝✂✂✄✂ ✌✧☛✄☎☛✄✂ ✆✝✍ ✠✡✝✂✂✁✷✠✝☛✁✌☎
☞✁✡✍✝✍✠☞✁✏☛✄ ✂✝☎✂ ✆✌☛✍ ✝☛☛✝☎☛ ✘☛✂✁✌☎☎✄✍ ✡✄✂ ✟✍✝✁✄✂ ✠✡✝✂✂✄✂✎✢✝ ✘☛✂✁✌☎ ✄✂☛ ☛☎ ✆✍✌✠✄✂✂☛✂ ✄☎ ✝✟✝✡✝☎✠☞✄ ✒
✆✡☛✂ ☛☎✄ ✠✡✝✂✂✄ ✄✂☛ ✞✍✝☎☞✄✓ ✆✡☛✂ ✂✌☎ ☎✌✒✝☛ ✝☛✞✌✄☎☛✄✓ ✄☛ ✆✡☛✂ ✄✡✡✄ ✘☛✂✁✌☎☎✄ ✝✟✄✠ ☞✥✝☛☛✍✄✂ ✠✡✝✂✂✄✂✎ ✮☎
✄✆✄☛ ✠✌✡✡✝☛✡✍✝✡ ✁✌✆✌✍☛✝☎☛ ✄☛ ✝✂✂✄✳ ✂☛✍✆✍✄☎✝☎☛ ✄✂☛ ✡✥✝☛✞✌✄☎☛✝☛✁✌☎ ☞☛ ☎✌✌✧✍✄ ☞✄✂ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂✎
✰☎ ✄✆✄☛✓ ✡✄✂ ✠✡✝✂✂✄✂ ☞✄ ✞✍✝☎☞✄ ☛✝✁✡✡✄ ✌☎☛ ☛☎ ✘✌✍☛ ✆✌☛✟✌✁✍ ☞✥✝☛☛✍✝✠☛✁✌☎ ✄☛ ☞✡☛✍☛✁✂✄☎☛ ✆✄☛✁☛ ✤ ✆✄☛✁☛✓
✝☛ ✠✌☛✍✂ ☞✄✂ ✁☛✡✍✝☛✁✌☎✂✓ ✡✄✂ ✆✄☛✁☛✄✂ ✠✡✝✂✂✄✂ ✝✟✌✁✂✁☎✝☎☛✄✂ ✄☎ ✝☛☛✁✍✝☎☛ ☞✄✂ ✆✌✁☎☛✂ ✘✍✌☎☛✁✔✍✄✎ ✖✁ ✡✥✄✆✄✠☛✁✘
☞✥☛☎✄ ✠✡✝✂✂✄ ☞✡✠✍✌✣☛ ✄☎ ☞✄✂✂✌☛✂ ☞✥☛☎✄ ✡✁✌✁☛✄ ✏☛✁ ✝✂✂☛✍✄ ☛☎✄ ✄✂☛✁✌✝☛✁✌☎ ✠✌✍✍✄✠☛✄ ☞✄ ✂✄✂ ✆✝✍✝✌✔☛✍✄✂
✴
10 · d + 1✓ ✌✟ d ☞✡✂✁✞☎✄ ✡✝ ☞✁✌✄☎✂✁✌☎ ☞✄ ✡✥✄✂✆✝✠✄✵✓ ☛✌☛✂ ✡✄✂ ✆✌✁☎☛✂ ✂✌☎☛ ✍✄✬✄☛✡✂ ✆✝✍✌✁ ✡✄✂ ✆✌✁☎☛✂

✝✧✄✍✍✝☎☛✂✓ ☞✥✌✟ ✡✥✝☛✞✌✄☎☛✝☛✁✌☎ ☞✄ ✡✄☛✍ ☎✌✌✧✍✄✎
✎☛ ✠✌☎☛✍✝✁✍✄✓ ☛☎ ✂✄☛✁✡ ☞✄ ✘☛✂✁✌☎ ✆✄☛✁☛ ✠✍✡✄ ☞✄✂ ☎✌✒✝☛✯ ☞☛✍✂✓ ☞✄ ✆✄☛✁☛✄✂ ☞✁✌✄☎✂✁✌☎✂✎ ✙✝☎✂ ✠✄

✠✝✂✓ ✡✝ ✘☛✂✁✌☎ ☞✄✂ ✠✡✝✂✂✄✂ ✄✂☛ ✡✁✌✁☛✡✄✓ ✠✝✍ ✁✡ ✒ ✝ ✆✄☛ ☞✄ ☎✌✒✝☛✯ ✏☛✁ ✌☎☛ ☞✄✂ ✆✌✁☎☛✂ ✄☎ ✠✌✌✌☛☎✎ ✗✝✍
✠✌☎✂✡✏☛✄☎☛✓ ✡✄ ☎✌✌✧✍✄ ☞✄ ✠✡✝✂✂✄✂ ✍✄✂☛✄ ✁✌✆✌✍☛✝☎☛ ✌✝✁✂ ✡✄ ☎✌✌✧✍✄ ☞✄ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ☞✁✌✁☎☛✄✎

✑✌☛✂ ✁✡✡☛✂☛✍✌☎✂ ✠✄✂ ✆✍✌✆✌✂ ✆✝✍ ☞✄☛✯ ✄✯✄✌✆✡✄✂ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☎✌☎✛✂☛✆✄✍✟✁✂✡✄ ☞✄✂ ✂✡✏☛✄☎✠✄✂
☞✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✎
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✬✓✮ ✕✒✔☛✠✝ ✝✠✝✝✞✒✟✠✎☛✔✍☞ ✬
α = 0

✮
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✲✮✶



�✁✁☎✠✟☛☎ �✏ ✂✁✁✄✠✝☎ ✆☎✝ ☎✁✂✁✂☎✁✟✆☛✂✁☛✁✞✞☎✝

✢✝ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✆✍✡✂✄☎☛✡✄ ✷✞☛✍✄ ✶✎✫✲✴✝✵ ☎✥✝ ✆✍✝☛✁✏☛✄✌✄☎☛ ✆✝✂ ☞✥☛☛✁✡✁☛✡ ✒ ☛☎✄ ✞✍✌✂✂✄ ✆✝✍☛✁✄

☞✄✂ ✂✡✏☛✄☎✠✄✂ ✂✌☎☛ ✠✌☎✂✁☞✡✍✡✄✂ ✝✧✄✍✍✝☎☛✄✂ ✴✆✡☛✂ ☞✄ ✭✮✓✲✁✵✓ ✡✝ ✌✝✬✌✍✁☛✡ ✂✌☎☛ ✍✄✞✍✌☛✆✡✄✂ ☞✝☎✂ ☛☎✄
✂✄☛✡✄ ✠✡✝✂✂✄ ✴☎✌✎ ✲✓ ✶✰✓✫✁✵ ✄☛ ✡✝ ✂✄☛✡✄ ✠✡✝✂✂✄ ✆✌☛✄☎☛✁✄✡✡✄✌✄☎☛ ✁☎☛✡✍✄✂✂✝☎☛✄ ☞✝☎✂ ✠✄☛☛✄ ✠✌☎✷✞☛✍✝☛✁✌☎
✴☎✌✎ ✫✓ ✪✓✯✁✵ ✠✌☎☛✁✄☎☛ ✄☎ ✘✝✁☛ ✡✄✂ ✂✡✏☛✄☎✠✄✂ ✠✌✌✆✡✔☛✄✌✄☎☛ ✂✁✡✄☎✠✁✄☛✂✄✂ ✴✝☛☛✍✄✌✄☎☛ ☞✁☛✓ ✠✥✄✂☛ ☛☎✄
✠✡✝✂✂✄ ✁☎✷☎✁✌✄☎☛ ☞✄☎✂✄✓ ✠✝✍ ✄✡✡✄ ✌✠✠☛✆✄ ☛☎ ✂✄☛✡ ✆✌✁☎☛ ☞✄ ✡✥✄✂✆✝✠✄✓ ✄☛ ✄✡✡✄ ✄✂☛ ✘✝✠✁✡✄✌✄☎☛ ✍✄☛✍✌☛✟✡✄
✆✝✍ ☛✌☛☛ ✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✌☛ ✄☎✠✌✍✄ ✆✝✍ ✂✁✌✆✡✄ ✁☎✂✆✄✠☛✁✌☎ ☞☛ ✂✁✞☎✝✡✵✎

✢✝ ☞✄☛✯✁✔✌✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ✴✷✞☛✍✄ ✶✎✫✲✴✧✵✵ ✂✄✌✧✡✄ ✆✡☛✂ ☛☛✁✡✄✎ ✮☎ ✂✄☛✁✡ ☞✄ ✘☛✂✁✌☎ ☎☛✡ ✄✌✆✫✠☞✄
☛✌☛☛✄ ✘☛✂✁✌☎ ☞✄✂ ✠✡✝✂✂✄✂ ✄☛ ✍✡☞☛✁☛ ✡✄ ☎✌✌✧✍✄ ☞✄ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂ ✴✰✓✲✁ ☞✄ ✡✥✄☎✂✄✌✧✡✄✵✎ ✢✝ ✠✡✝✂✂✄ ✂✁✛
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✁✂✄☎ ✶✎✫✫ ✄ ✟✍✗✞✎✟☛✟☛✠✝ ✗✞✎ ✢✏✞✔✔☞✔ ✑☞✔ ✔✍❃✒☞✝✢☞✔ ✑☞✔ ✟✎✠☛✔ ✗✞✟☛☞✝✟✔ ✔✞☛✝✔ ☞✟ ✑✒ ✗✞✟☛☞✝✟ ✡✞✏✞✑☞ ✬✏❂✍✢✰☞✏✏☞ ✑✒✑☞✎✝☛☞✎ ✰☛✔✟✠✌✎✞✡✡☞ ✄ ✍✟✍ ✡✠✑☛✠✍☞✭ ✫✒ ❃✒☞ ✏✞ ✑✒✎✍☞ ✑✒ ✗✰✠✝✠☞✝✟✍✎✠✌✎✞✡✡☞ ✗✞✟✰✠✏✠✌☛❃✒☞ ☞✔✟ ✗✏✒✔ ✢✠✒✎✟☞ ☞✟ ✑✠✝✢✏☞ ✝✠✡✓✎☞ ✑❂✍✫✍✝☞✡☞✝✟✔ ✡✠☛✝✔ ☛✡✗✠✎✟✞✝✟✮✘

✗✌☛✍ ✡✄✂ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✌✌✄✂ ✂✝✁☎✂ p1 ✓ p2
✄☛
p3 ✓ ✌☎ ✌✧☛✁✄☎☛ ✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✰✓✲✁✓ ✰✓✬✁ ✄☛

✯✓✭✁ ☞✄ ✂✡✏☛✄☎✠✄✂ ✟✝✧✄✍✍✝☎☛✄✂✠✎ ✰☎ ✍✄✟✝☎✠☞✄✓ ✆✌☛✍ ✡✄ ✂✁✞☎✝✡ ✆✝☛☞✌✡✌✞✁✏☛✄✓ ✠✄ ✆✌☛✍✠✄☎☛✝✞✄ ☞✄✟✁✄☎☛✶✮✓✷✁✎ ✎☎ ☎✌☛✄ ✡✞✝✡✄✌✄☎☛ ✏☛✄ ✡✝ ✠✡✝✂✂✄ ☎✌✎ ✶ ✄✂☛ ☛✍✔✂ ✧✁✄☎ ✍✄✆✍✡✂✄☎☛✡✄ ✠☞✄✳ ✡✄ ✆✝☛✁✄☎☛ p3 ✓ ✌✝✁✂
✏☛✄ ✡✝ ☞✁✂☛✍✁✧☛☛✁✌☎ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ☞✝☎✂ ✡✄✂ ✝☛☛✍✄✂ ✠✡✝✂✂✄✂ ✄✂☛ ✍✄✡✝☛✁✟✄✌✄☎☛ ✂✁✌✁✡✝✁✍✄ ✆✌☛✍ ✡✄✂ ☛✍✌✁✂

✆✝☛✁✄☎☛✂ ✂✝✁☎✂ ✴✝✟✄✠ ☛☎ ✧✡✌✌✡ ✆✌☛✍ ✡✝ ✠✡✝✂✂✄ ☎✌✎ ✰✓ ✡✞✝✡✄✌✄☎☛ ✆✡☛✂ ✍✄✆✍✡✂✄☎☛✡✄ ✠☞✄✳ p3
✵✎ ✖✁ ✌☎

✄✂✂✝✁✄ ☞✄ ☛✍✌☛✟✄✍ ✡✝ ✠✡✝✂✂✄ ✡✝ ✆✡☛✂ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄ ☞✥☛☎ ✆✝☛✁✄☎☛ ✴✌✁✂ ✤ ✆✝✍☛ ✡✄ ✠✝✂ ✆✝☛☞✌✡✌✞✁✏☛✄✓
✍✄✆✍✡✂✄☎☛✡ ✆✝✍ ☛☎ ✘✌✍☛ ✆✌☛✍✠✄☎☛✝✞✄ ☞✄ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂✵✓ ✝✡✌✍✂ ✡✄ ✆✝☛✁✄☎☛ p3

✄✂☛ ✍✄✆✍✡✂✄☎☛✡ ✆✝✍ ✡✝
✠✡✝✂✂✄ ☎✌✎ ✶ ✴✫✮✓✶✁✵✓ ✝✡✌✍✂ ✏☛✄ ✡✄✂ ✆✝☛✁✄☎☛✂ p1

✄☛
p2

✂✌☎☛ ✍✄✆✍✡✂✄☎☛✡✂ ✆✝✍ ✡✝ ✠✡✝✂✂✄ ☎✌✎ ✫ ✴✫✮✓✶✁✓
✍✄✂✆✄✠☛✁✟✄✌✄☎☛ ✫✲✓✶✁ ☞✄✂ ✆✌✁☎☛✂✵✎ ✕✡ ✄✂☛ ✠✡✝✁✍ ✏☛✄✓ ✟☛ ✡✄✂ ✆✌☛✍✠✄☎☛✝✞✄✂✓ ✠✄☛☛✄ ✍✄✆✍✡✂✄☎☛✝☛✁✟✁☛✡ ✄✂☛
✘✝✁✧✡✄ ✄☛ ✏☛✄ ✡✥✌☎ ☎✄ ✆✄☛☛ ✆✝✂ ✍✡☞☛✁✍✄ ☛☎ ✆✝☛✁✄☎☛ ✤ ☛☎✄ ✂✄☛✡✄ ✠✡✝✂✂✄ ✴✂✝☛✘ ✠✝✂ ✆✝☛☞✌✡✌✞✁✏☛✄✵✎

✮☎✄ ✁☎✘✌✍✌✝☛✁✌☎ ✂☛✆✆✡✡✌✄☎☛✝✁✍✄ ✄✂☛ ☞✌☎☎✡✄ ✆✝✍ ✡✄✂ ☞✁✂☛✌✞✍✝✌✌✄✂ ☞✄✂ ✠✡✝✂✂✄✂ ✆✝✍ ✟✌✁✄ ✴✷✛
✞☛✍✄ ✶✎✫✭✵✓ ✌✟ ✡✥✌☎ ✍✄✌✝✍✏☛✄ ☛☎✄ ☛✍✔✂ ✘✌✍☛✄ ✆✍✡✂✄☎✠✄ ☞✄ ✡✝ ✠✡✝✂✂✄ ☎✌✎✶ ✂☛✍ ✡✝ ✟✌✁✄ v4

✴✮✰✓✬✁✵✓
✝✡✌✍✂ ✏☛✄ ✡✄✂ ✝☛☛✍✄✂ ✟✌✁✄✂ ✌☎☛ ☛☎✄ ✝✠☛✁✟✁☛✡ ✆✍✡✆✌☎☞✡✍✝☎☛✄ ☞✄ ☛✒✆✄ ✫ ✴✠✡✝✂✂✄ ☎✌✎✫✵✎ ✠✄☛☛✄ ✍✄✆✍✡✛
✂✄☎☛✝☛✁✌☎ ✌✝✂✏☛✄ ✡✥✡✟✌✡☛☛✁✌☎ ☛✄✌✆✌✍✄✡✡✄ ☞✄✂ ✂✁✞☎✝☛✯✓ ✠✝✍ ✌☎ ✆✄☛☛ ✁✌✝✞✁☎✄✍ ☛☎✄ ✟☛✍✝✬✄✠☛✌✁✍✄✠ ☞✄✂
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✆✍✁☎✠✁✆✝✡✄✂ ✆✍✡✂✄☎☛✡✄ ✷✞☛✍✄ ✶✎✲✬✓ ✆✝✞✄ ✲✫✷✵ ✒ ✆✌☛✍ ✠☞✝✏☛✄ ✟✌✁✄✓ ✌☎ ✠✌☎✂✁☞✔✍✄ ✡✝ ✠✡✝✂✂✄ ✡✝ ✆✡☛✂ ✍✄✆✍✡✛
✂✄☎☛✝☛✁✟✄ ✂✡✏☛✄☎✠✄ ✝✆✍✔✂ ✂✡✏☛✄☎✠✄ ✄☛ ✌☎ ☛✍✝✠✄ ✡✝ ✠✌☛✍✧✄ ✌✧☛✄☎☛✄✎ ✠✄☛☛✄ ☛✍✝✬✄✠☛✌✁✍✄ ✄✂☛ ✆✍✡✂✄☎☛✡✄
✷✞☛✍✄ ✶✎✫✭✴✧✵ ✒ ✄✡✡✄ ✌✌☎☛✍✄ ✂✝☎✂ ✝☛✠☛☎✄ ✝✌✧✁✞☛✤☛✡ ✏☛✄ ✡✝ ✠✡✝✂✂✄ ✶ ✄✂☛ ✟✍✝✁✌✄☎☛ ✍✄✆✍✡✂✄☎☛✝☛✁✟✄ ☞✄
✡✝ ✟✌✁✄ v4 ✓ ✌✝✁✂ ✡✞✝✡✄✌✄☎☛ ✏☛✄ ✡✝ ✍✄✆✍✡✂✄☎☛✝☛✁✟✁☛✡ ☞✄ ✡✝ ✠✡✝✂✂✄ ☎✌✎ ✫ ✆✌☛✍ ✡✄✂ ✝☛☛✍✄✂ ✟✌✁✄✂ ☞✡✆✄☎☞
☞☛ ☛✄✌✆✂✎ ✗✝✍ ✄✯✄✌✆✡✄✓ ✂☛✍ ✡✝ ✟✌✁✄ v1 ✓ ☛☎✄ ✂✄☛✡✄ ✂✡✏☛✄☎✠✄ ✆✝✍✌✁ ✡✄✂ ☎✄☛✘ ✆✍✄✌✁✔✍✄✂ ✄✂☛ ☞✄ ☛✒✆✄ ✫✎

�☛✄✡✡✄ ✁☎☛✄✍✆✍✡☛✝☛✁✌☎ ☞✌☎☎✄✍ ✤ ✠✄✂ ✠✌☎✂☛✝☛✂ � ✰✂☛✛✁✡ ✆✌✂✂✁✧✡✄ ☞✥✄☎✟✁✂✝✞✄✍ ☛☎✄ ☞✁✆✡✍✄☎✠✁✝☛✁✌☎
✄☎☛✍✄ ✡✥✝✠☛✁✟✁☛✡ ☞✄✂ ☞✁✆✡✍✄☎☛✂ ✌✍✞✝☎✄✂ ☞✄ ✡✝ ✠✝✟✁☛✡ ✝✧☞✌✌✁☎✝✡✄ � ✢✝ ✟✌✁✄ v4

✄✂☛ ✡✝ ✆✡☛✂ ✍✄✆✍✡✂✄☎☛✝☛✁✟✄
☞✄ ✡✥✁☎☛✄✂☛✁☎ ✞✍✫✡✄✓ ✞✍☎✠✄ ✤ ✂✌☎ ✆✌✂✁☛✁✌☎☎✄✌✄☎☛ ✂✌☛✂✛✌✌✧✁✡✁✠✝✡ ✴✟✌✁✍ ✷✞☛✍✄ ✫✎✮✓ ✆✝✞✄ ✫✪✵✓ ✡✄✂ ✟✌✁✄✂

v3 ✓ v2 ✓ v6
✄☛
v5

✂☛✁✟✄☎☛ ✡✄ ☛✍✝✬✄☛ ☞☛ ✠✌✡✌☎ ✄☛ ✡✝ ✟✌✁✄ v1
✄✂☛ ✆✡✝✠✡✄ ✤ ✡✝ ✘✌✁✂ ✂☛✍ ✡✥✄✂☛✌✌✝✠ ✄☛ ✡✄ ✠✌✡✌☎✎

✮☎✄ ☞✒✆✌☛☞✔✂✄ ✏☛✁ ✍✄✂☛✄ ✤ ✟✡✍✁✷✄✍ ✂✄✍✝✁☛ ☞✌☎✠ ✡✝ ✂☛✁✟✝☎☛✄ ✒ ✡✥✝✠☛✁✟✁☛✡ ✠✝✍✝✠☛✡✍✁✂☛✁✏☛✄ ☞✄ ✡✥✁☎☛✄✂☛✁☎
✞✍✫✡✄ ✄✂☛ ☞✄ ☛✒✆✄ ✶ ✄☛ ✠✄✡✡✄ ☞☛ ✠✌✡✌☎ ✆✡☛☛✌☛ ☞✄ ☛✒✆✄ ✫✓ ✌✝✁✂ ✄✡✡✄ ✠☞✝☎✞✄ ✝✆✍✔✂ ✄☎✟✁✍✌☎ ✫ ☞✄☛✍✄✂✭✬ ✝✆✍✔✂ ✡✄ ✍✄✆✝✂ ✴✌☛ ✬☛✂☛✄ ✝✟✝☎☛ ✡✄ ✍✄✆✝✂ ✂☛✁✟✝☎☛✓ ✏☛✝☎☞ ✡✝ ✂✄☎✂✝☛✁✌☎ ☞✄ ✘✝✁✌ ✠✌✌✌✄☎✠✄ ✤ ✫☛✍✄
✍✄✂✂✄☎☛✁✄✵✎ ✢✥✄✂☛✌✌✝✠ ✝ ☛☎✄ ✝✠☛✁✟✁☛✡ ✟✝✍✁✝✧✡✄ ✆✄☎☞✝☎☛ ✡✝ ✆✡✍✁✌☞✄ ✆✌✂☛✆✍✝☎☞✁✝✡✄✓ ✠✄✡✡✄✛✠✁ ✌✝✂✏☛✄
✡✥✝✠☛✁✟✁☛✡ ✂✆✡✠✁✷✏☛✄ ☞☛ ✠✌✡✌☎✓ ✄☛ ✁✡ ✄✂☛ ✆✡☛☛✌☛ ✂✁✡✄☎✠✁✄☛✯ ☛☎✄ ✘✌✁✂ ✡✝ ☞✁✞✄✂☛✁✌☎ ✞✝✂☛✍✁✏☛✄ ☛✄✍✌✁☎✡✄✎
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✬✓✮ ✍✫✠✏✒✟☛✠✝

✁✂✄☎ ✶✎✫✭ ✄ ✟✍✗✞✎✟☛✟☛✠✝ ✬✞✮ ☞✟ ✍✫✠✏✒✟☛✠✝ ✬✓✮ ☞✝ ✢✏✞✔✔☞✔ ✑☞✔ ✔✍❃✒☞✝✢☞✔✭ ✫✠☛☞ ✗✞✎ ✫✠☛☞✘

✢✄✂ ✍✡✂☛✡☛✝☛✂ ✌✧☛✄☎☛✂ ✄☎ ✝✆✆✡✁✏☛✝☎☛ ✡✥✝✡✞✌✍✁☛☞✌✄ ☞✄ ✠✡✝✂✂✁✷✠✝☛✁✌☎ ☞✡✠✍✁☛ ✝☛✯ ✂✌☎✂ ✁☎☞✁✟✁☞☛✄✡✂
✂✌☎☛ ☞✁☎✠✁✡✄ ✤ ✁☎☛✄✍✆✍✡☛✄✍ ✄☛ ✁✡✂ ✟✝✍✁✄☎☛ ✧✄✝☛✠✌☛✆ ✝✟✄✠ ✡✄✂ ✆✝✍✝✌✔☛✍✄✂✎ ✗✌☛✍ ☛☎ ✂✄☛✁✡ ☞✄ ✘☛✂✁✌☎
☞✝☛☛✓ ✌☎ ✝✍✍✁✟✄ ✌✫✌✄ ✤ ✍✄✞✍✌☛✆✄✍ ✡✄✂ ✂✌☎✂ ☞✝☎✂ ☛☎✄ ✂✄☛✡✄ ✠✡✝✂✂✄ ✄☛ ☛☎ ☎☛✝✞✄ ☞✄ ✆✌✁☎☛✂ ✝✧✄✍✍✝☎☛✂✓
✝✡✌✍✂ ✏☛✄ ✆✌☛✍ ☛☎ ✂✄☛✁✡ ☎☛✡✓ ✌☎ ✌✧☛✁✄☎☛ ✄☎✟✁✍✌☎ ✭✬ ✠✡✝✂✂✄✂✓ ☞✌☎☛ ☛☎✄ ✆✝✍☛✁✄ ☛✍✔✂ ✂✄✌✧✡✝✧✡✄ ✤
✡✥✡✠✌☛☛✄✎ ✕✡ ✄✂☛ ☞✌☎✠ ☎✡✠✄✂✂✝✁✍✄ ☞✄ ☛✄✂☛✄✍ ☞✝✟✝☎☛✝✞✄ ✡✝ ✌✡☛☞✌☞✄✓ ✄☛ ✂☛✍ ☛☎✄ ✧✝✂✄ ☞✄ ☞✌☎☎✡✄✂ ✆✡☛✂
✁✌✆✌✍☛✝☎☛✄✓ ✝✟✝☎☛ ☞✥✄✂✂✝✒✄✍ ☛☎✄ ✝☎✝✡✒✂✄ ✆✄✍☛✁☎✄☎☛✄✎ ✠✄✂ ☛✍✝✟✝☛✯ ✂✌☎☛ ✍✄✡✡✞☛✡✂ ✄☎ ✆✄✍✂✆✄✠☛✁✟✄✎
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✠✄ ✠☞✝✆✁☛✍✄ ✝☛☛✝✏☛✄ ✡✄ ☞✄✍☎✁✄✍ ✟✌✡✄☛ ☞☛ ✆✍✌✬✄☛ ☞✥✡☛☛☞✄ ☞✄✂ ✂✌☎✂ ✝✧☞✌✌✁☎✝☛✯ ✒ ✡✥✝☎✝✡✒✂✄ ☞✄✂
✂✁✞☎✝☛✯✎ ✑✌☛✂ ✝✟✌☎✂ ✄☎✟✁✂✝✞✡ ☞✄☛✯ ☛✒✆✄✂ ☞✥✝☎✝✡✒✂✄ ✒ ✞✡✌✧✝✡✄ ✄☛ ✡✌✠✝✡✄✎

✢✥✝☎✝✡✒✂✄ ✞✡✌✧✝✡✄ ✠✌☎✂✁☞✔✍✄ ✡✄ ✂✁✞☎✝✡ ☞✄ ✆☞✌☎✌✄☎☛✡✍✌✞✍✝✆☞✁✄ ✠✌✌✌✄ ☛☎✄ ✂☛✠✠✄✂✂✁✌☎ ☞✄ ✂✡✛
✏☛✄☎✠✄✂ ☞✄ ☞☛✍✡✄ ✷✯✄ ✴✲ ✌✁☎☛☛✄✵✓ ✠✝✍✝✠☛✡✍✁✂✡✄✂ ✆✝✍ ☞✁✆✡✍✄☎☛✂ ✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡✎ ✢✄✂ ✂✡✏☛✄☎✠✄✂
✆✄☛✟✄☎☛ ✫☛✍✄ ✍✄✆✍✡✂✄☎☛✡✄✂ ✠✌✌✌✄ ☞✄✂ ✟✄✠☛✄☛✍✂ ✌☛ ☞✄✂ ✆✌✁☎☛✂ ☞✝☎✂ ☛☎ ✄✂✆✝✠✄ ✄☎✞✄☎☞✍✡ ✆✝✍ ✡✄✂
✁☎☞✁✠✄✂ ☞✥✝✠☛✁✟✁☛✡✎

✠✄✂ ✁☎☞✁✠✄✂✓ ☞✌☎☛ ✡✄ ✧☛☛ ✄✂☛ ☞✄ ✘✌☛✍☎✁✍ ☛☎✄ ☞✄✂✠✍✁✆☛✁✌☎ ✆✍✝☛✁✏☛✄ ✄☛ ✁☎☛✄✍✆✍✡☛✝✧✡✄ ✌✡☞✁✠✝✡✄✌✄☎☛✓
✂✌☎☛ ✠✝✡✠☛✡✡✂ ✤ ✆✝✍☛✁✍ ☞✄✂ ✞✍✝☎☞✄☛✍✂ ✆☞✒✂✁✏☛✄✂ ✌✄✂☛✍✝✧✡✄✂ ✠✌✌✌✄ ✡✥✡☎✄✍✞✁✄✓ ✡✝ ✘✍✡✏☛✄☎✠✄✓ ✡✄ ☎✌✌✧✍✄
☞✥✡✟✡☎✄✌✄☎☛✂✓ ✄☛✠✎ ✢✄✂ ✂✌☛✍✠✄✂ ✧✁✧✡✁✌✞✍✝✆☞✁✏☛✄✂ ✠✌☎✂☛✡☛✡✄✂ ☛☛✁✡✁✂✄☎☛ ✆✡☛✂✁✄☛✍✂ ✁☎☞✁✠✄✂ ☞✁✆✡✍✄☎☛✂✓
☞✌☎☛ ☛☎✄ ✆✝✍☛✁✄ ✂✌☎☛ ✟✍✝✁✂✄✌✧✡✝✧✡✄✌✄☎☛ ✍✄☞✌☎☞✝☎☛✂✎ ✑✌☛✍✄ ✆✍✄✌✁✔✍✄ ✝✆✆✍✌✠☞✄ ✝ ✟✁✂✡ ✡✥✡☛☛☞✄
☞✄ ✠✄✂ ✁☎☞✁✠✄✂ ✝✷☎ ☞✥✡✡✁✌✁☎✄✍ ✡✝ ✍✄☞✌☎☞✝☎✠✄ ✄☛ ☞✥✌✆☛✁✌✁✂✄✍ ✡✝ ✍✄✆✍✡✂✄☎☛✝☛✁✌☎ ☞✄✂ ✂✡✏☛✄☎✠✄✂ ☞✄
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